EXHIBIT B

INVOICE SUMMARY

Invoice	Date	Fees	Cost	Total
3263308	7/6/2016	139,364.50	9,410.42	\$148,774.92
3274244	7/27/2016	164,783.50	10,646.96	\$175,430.46
3282117	8/8/2016	28,159.50	980.80	\$29,140.30
3282183	8/8/2016	178,230.00	13,064.15	\$191,294.15
3282473	8/9/2016	9,049.16	162.02	\$9,211.18
3283885	8/12/2016	123,571.00	8,365.84	\$131,936.84
3298712	9/30/2016	12,306.86	172.47	\$12,479.33
3298726	9/30/2016	144,713.50	10,066.77	\$154,780.27
3308796	10/19/2016	116,419.00	7,825.45	\$124,244.45
3308799	10/19/2016	19,801.00	4,550.31	\$24,351.31
3317682	11/8/2016	29,459.50	309.93	\$29,769.43
3320481	11/15/2016	122,555.00	8,368.68	\$130,923.68
3343408	1/25/2017	17,385.50	1,321.35	\$18,706.85
3343651	1/26/2017	151,914.00	8,321.07	\$160,235.07
3343655	1/26/2017	86,108.00	3,836.62	\$89,944.62
3343741	1/27/2017	3,334.00	863.43	\$4,197.43
3428000	9/13/2017	94,884.50	7,843.06	\$102,727.56
3428004	9/13/2017	116,562.00	1,611.57	\$118,173.57
3428092	9/13/2017	166,508.50	1,805.18	\$168,313.68
3428094	9/13/2017	98,985.00	6,071.23	\$105,056.23
3428100	9/13/2017	71,974.00	5,669.35	\$77,643.35
3428106	9/13/2017	158,733.00	3,209.87	\$161,942.87
3428138	9/13/2017	55,477.00	3,302.86	\$58,779.86
3427386	9/11/2017	9,401.00	45.68	\$9,446.68
3427422	9/11/2017	44,238.50	192.50	\$44,431.00
3427431	9/11/2017	77,045.53	1,904.17	\$78,949.70
3427445	9/11/2017	14,439.46	438.73	\$14,878.19
3427450	9/11/2017	1,206.00	185.55	\$1,391.55
3427453	9/11/2017	3,628.00	274.02	\$3,902.02
3427455	9/11/2017	-	198.86	\$198.86
3577748	11/1/2018	\$44,836.00	\$257.66	\$45,093.66
3577752	11/1/2018	\$63,423.00	\$1,763.82	\$65,186.82
3577401	11/1/2018	\$79.00	\$220.64	\$299.64
3577776	11/1/2018	\$29,317.00	\$1,897.68	\$31,214.68
3577405	11/1/2018	-	\$220.64	\$220.64
3577779	11/1/2018	\$25,324.00	\$79.00	\$25,403.00
3577453	11/1/2018	\$404.00	\$220.64	\$624.64
3577794	11/1/2018	\$37,847.00	\$939.06	\$38,786.06
3577473	11/1/2018	-	\$633.57	\$633.57
3577796	11/1/2018	\$101,086.50	\$4,074.98	\$105,161.48
3577475	11/1/2018		\$300.48	\$300.48
3577800	11/1/2018	\$95,765.50	\$14,697.55	\$110,463.05
3577477	11/1/2018	-	\$300.48	\$300.48
3577805	11/1/2018	\$72,202.50	\$2,379.87	\$74,582.37

INVOICE SUMMARY

Invoice	Date	Fees	Cost	Total
3577480	11/1/2018	-	\$300.48	\$300.48
3577806	11/1/2018	\$47,280.50	\$4,599.59	\$51,880.09
3577483	11/1/2018	-	\$300.48	\$300.48
3577808	11/1/2018	\$82,669.50	\$9,092.25	\$91,761.75
3577484	11/1/2018	-	\$300.48	\$300.48
3577818	11/1/2018	\$61,023.00	\$5,100.57	\$66,123.57
3577488	11/1/2018	-	\$300.48	\$300.48
3577820	11/1/2018	\$85,271.00	\$2,688.89	\$87,959.89
3577492	11/1/2018	-	\$300.48	\$300.48
3577826	11/1/2018	\$53,477.50	\$128.60	\$53,606.10
3577493	11/1/2018	-	\$300.48	\$300.48
3577829	11/1/2018	\$20,549.00	\$27.00	\$20,576.00
3577497	11/1/2018	-	\$300.48	\$300.48
GRAND		\$3,080,791.51	\$172,745.23	\$3,253,536.74
TOTAL				

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : July 19, 2016 Invoice Number : 3263308 Services Through : April 30, 2016 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees	\$ <u>27,377.50</u>	
Total Amount Due This Matter		\$ 27.377.50

Asset Disposition (70020)

Fees	\$ <u>2,625.00</u>	
Total Amount Due This Matter		\$ 2 625 00

Business Operations (70030)

rees	\$ <u>8,159.50</u>	
Total Amount Due This Matter		\$ 8,159.50

Case Administration (70040)

Fees	\$ <u>39,660.50</u>	
Total Amount Due This Matter		\$ 39,660.50

Claims, Administration and Objections (70050)

Fees	\$ 17,564.00	
Total Amount Due This Matter		\$ 17,564.00

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

2070561 Page 2 of 36 **Employee Benefits/Pensions (70060)** Fees 4,047.00 **Total Amount Due This Matter** \$ 4,047.00 Fee/Employment Applications (70070) 7,339.00 Fees **Total Amount Due This Matter** \$ 7,339.00 Fee/Employment Objections (70080) Fees 134.00 \$ **Total Amount Due This Matter** 134.00 Financing and Cash Collateral (70090) Fees \$ 883.50 **Total Amount Due This Matter** \$ 883.50 Litigation (70100) Fees 22,056.50 **Total Amount Due This Matter** 22,056.50 Cohen v Hansen, NW Territorial Mint et al, King County Case (70103)Fees 714.50 **Total Amount Due This Matter** \$ 714.50 **EEOC v NW Territorial Mint, LLC, USDC Case (70104)** Fees \$ 2,259.50 **Total Amount Due This Matter** \$ 2,259.50

Invoice # 3263308

ROL OPTIES				e # 3263308 2070561 Page 3 of 36
State of NV v Hansen, NWTM et al, Nevada S (70105)	tate Co	ourt Case		
Fees Total Amount Due This Matter	\$	835.00	\$	835.00
Meetings and Communications with Creditor	s (701	10)		
Fees Total Amount Due This Matter	\$	5,250.50	\$	5,250.50
Relief From Stay and Adequate Protection (7	0130)			
Fees Total Amount Due This Matter	\$	301.00	\$	301.00
Assumption and Rejection of Leases and Co	ntract	s (70150)		
Fees Total Amount Due This Matter	\$	<u> 157.50</u>	\$	157.50
Costs (99999)				
Disbursements and Other Charges Total Amount Due This Matter	\$	9,410.42	\$	9,410.42
CURRENT INVOICE DUE - All Matters			\$ <u></u>	148,774.92

Asset Analysis and Recovery (70010)

\$27,377.50

DATE	NAME	HOURS	DESCRIPTION
04/11/16	M.J. Gearin	2.10	Review of materials and analysis of Medallic LLC interests and assets(1.6); communications with Trustee regarding same (0.5)
04/11/16	T. S. Miller	3.40	Get assignment from M. Gearin and B. Peterson (.2); Draft Non-Disclosure Agreement for potential Tomball sale (1.1); Begin reviewing reports and Nevada Secretary of State filings to determine structure and ownership of Medallic Art Company (2.1)
04/12/16	M.J. Gearin	3.80	Continued investigation into Medallic Art LLC relationship with debtor and assets of same (2.8); calls with M. Calvert and employees of the Debtor regarding same (1.0)
04/12/16	M.J. Gearin	0.90	Communications with R. Mitchell regarding asset investigation and release of garnishment issues
04/12/16	R.G. Masters	1.00	Consult regarding characterization of so- called "lease" under the Uniform Commercial Code (3); analysis of underlying contract as sale or consignment (4); review and comment on memo regarding same (3)
04/12/16	T. S. Miller	3.50	Meeting with M. Gearin and B. Peterson (.6); Read Whitehall case and lease to get initial understanding of bullion "lease" program (.7); Call with D. Neu to receive assignment related to bullion leases (.2); Finish reviewing structure of Medallic Art Company's component parts (.5); Create graphics representing ownership of Medallic Art Company and the underlying land, as well as the former and current structure of the Company (.9); Begin studying requirements for consignment (.6)
04/12/16	B. T. Peterson	0.90	Analyze issues related to Medallic Art Company
04/13/16	M.J. Gearin	2.80	Multiple calls with Trustee regarding R. Hansen resignation and actions regarding

DATE	NAME	HOURS	DESCRIPTION
			control of assets (1.1); call with A. Wenokur regarding R. Hansen status and issues (0.4); draft email to A. Wenokur and discuss with Trustee (1.1); review of emails regarding claims of R. Hansen and Medallic to assets (0.2)
04/13/16	M.J. Gearin	0.90	Call with R. Mitchell regarding asset recovery issues and pending garnishment action (0.3); communications with Trustee regarding garnishment release (0.3); email exchanges regarding garnishment issues
04/13/16	T. S. Miller	6.30	Meeting with B. Peterson and M. Gearin (.6); create timeline of Medallic events from Secretary of State reports and deeds (1.8); study requirements for consignment and bailment (.6); research difference between "true leases" and secured transactions (2.2); study bullion "leases" and record characteristics of the leases to categorize them (1.1)
04/13/16	B. T. Peterson	1.50	Analyze issues related to Medallic assets
04/14/16	M.J. Gearin	3.10	Analysis of Medallic Art asset and corporate documents (1.5); revisions to memo to Trustee regarding recoverability of Medallic assets (1.6)
04/14/16	B. T. Peterson	3.10	Research related to recovery of assets
04/15/16	M.J. Gearin	1.10	Draft email summary of analysis and issues for investigation of facts surrounding Medallic business
04/15/16	D.C. Neu	0.50	Call with M. Calvert regarding inventory findings (.5)
04/15/16	B. T. Peterson	1.70	Research related to claims for recovery of assets
04/15/16	B. T. Peterson	0.60	Research related retainer issue
04/15/16	B. T. Peterson	0.40	Discuss theories of liability with T. Miller
04/18/16	M.J. Gearin	0.80	Call and email exchange with R. Mitchell, counsel to B. Cohen regarding asset recovery matters
04/18/16	B. T. Peterson	0.80	Research regarding issue of retainer held by counsel for Debtor
04/19/16	M.J. Gearin	0.30	Communications regarding refund on Bangkok conference
04/19/16	B. T. Peterson	1.80	Research law related to recovery of retainer
04/20/16	B. T. Peterson	0.40	Draft email requesting refund of conference tuition
04/20/16	B. T. Peterson	1.90	Analyze issues related to recovery of assets
04/21/16	M.J. Gearin	2.30	Analysis of recovery of Medallic assets (1.3); review of summary of law and statement of

DATE	NAME	HOURS	DESCRIPTION
			facts (1.0)
04/21/16	B. T. Peterson	2.90	Memo regarding asset recovery
04/22/16	B. T. Peterson	0.10	Call with D. Bugbee regarding his client's interest in potentially purchasing business
			assets
04/22/16	B. T. Peterson	1.10	Draft memo related to legal theories of recovery
04/24/16	B. T. Peterson	2.10	Draft memorandum related to theories of recovery
04/25/16	M.J. Gearin	2.20	Continued investigation and analysis relating to Medallic assets
04/25/16	D.C. Neu	1.50	Call with M. Calvert regarding 2004
			examination topics (.3); revise pleadings related to same (1); coordinate filing of same (.2)
04/25/16	B. T. Peterson	4.00	Draft memorandum related to theories of recovery
04/26/16	M.J. Gearin	1.20	Review and analyze charging order request
0-1/20/10	W.S. Gearm	1.20	(0.3); call with R. Mitchell regarding asset recovery matters (0.3); calls with M. Calvert
			regarding same (0.3); analysis of additional sources of recovery in conjunction with Cohen group (0.3)
04/27/16	M.J. Gearin	0.80	Calls and email communications with R.
			Mitchell regarding levy on Hansen personal
			assets and inventory matters and other
0.4/0.0/4.0		4.50	potential recoverable assets
04/29/16	M.J. Gearin	1.50	Call with Trustee, B. Cohen and counsel regarding asset recovery issues (1.0); follow
			up calls with Trustee regarding same (.5)
04/29/16	M.J. Gearin	3.30	Calls and email exchanges with J. Stehlik
			regarding Medallic documents (0.9); calls with
			Trustee regarding Medallic issues (0.8); calls
			with T. Lerner regarding Bressler participation
			in Medallic (0.7); review and analysis of Medallic documents (0.9)
04/29/16	D.C. Neu	0.60	Draft subpoena to accountant (.4);
04/25/10	D.O. Nea	0.00	communicate with client and accountant
			regarding same (.2)
04/29/16	B. T. Peterson	0.50	Discuss theories of recovery with M. Gearin and D. Neu
	TOTAL	FEES	67.70 hrs \$ <u>27,377.50</u>

Invoice # 3263308 2070561 Page 7 of 36

TIMEKEEPER SUMMARY

M.J. Gearin	27.10	hrs at	\$	525.00 / hr		14,227.50
R.G. Masters	1.00	hrs at	\$	495.00 / hr		495.00
T. S. Miller	13.20	hrs at	\$	270.00 / hr		3,564.00
D.C. Neu	2.60	hrs at	\$	430.00 / hr		1,118.00
B. T. Peterson	23.80	hrs at	\$	335.00 / hr		7,973.00
	TOTAL FEES		67.7	70 hrs	\$_	27,377.50

MATTER SUMMARY

Fees \$ 27,377.50 MATTER TOTAL \$ 27,377.50

Invoice # 3263308 2070561 Page 8 of 36

Asset Disposition (70020)

\$2,625.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/27/16	M.J. Gearin	2.10	Conference call with M. Calvert and T. Tucker regarding term sheet for acquisition of Tomball Texas assets (0.9); revisions to term sheet (0.7); call with M. Calvert regarding business terms (0.5)
04/28/16	M.J. Gearin	1.80	Draft revisions to Tucker letter of intent for Texas assets
04/29/16	M.J. Gearin	1.10	Communications with M. Calvert regarding asset sales and drafting of revisions to letter of intent for Tomball assets
		TOTAL FEES	5.00 hrs \$ <u>2,625.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	5.00	hrs at \$	5	525.00 / hr	2,625.00
	TOTAL FEES		5.00	hrs	\$ 2,625.00

Fees	\$ 2,625.00
MATTER TOTAL	\$ <u>2,625.00</u>

Business Operations (70030)

\$8,159.50

DATE	NAME	HOURS	DESCRIPTION
04/11/16	M.J. Gearin	0.90	Communications regarding business operations matters including payroll and potential asset disposition
04/18/16	M.J. Gearin	0.50	Communications with Trustee regarding Tomball Texas flood and insurance matters
04/22/16	D.C. Neu	0.40	Call with B. Leaverton regarding ownership of dies and contract status
04/26/16	M.J. Gearin	1.10	Review and analysis of letter from B. Leaverton regarding Kavli Foundation issues (.7); communications regarding business plan for fulfillment of contract (.4)
04/26/16	D.C. Neu	4.40	Call with Madeiros regarding case issues (.3); review information request from B. Madeiros (.2); call with T. McDonald regarding credit card issues (.2); analysis of litigation and case issues (1.4); call with P. Wagner regarding World Pay (.2); draft email to World Pay (.2); call to World Pay (.2); review memorandum from B. Chen's counsel regarding claim status issues (.3); analysis of same (.3); discuss same with Mike Gearin (.2); coordinate service of 2004 orders (.3); emails with T. McDonald regarding subpoena information (.3); call with M. Calvert and M. Gearin regarding status (.4)
04/27/16	M.J. Gearin	2.00	Call with B. Leaverton, N. Stern, M. Calvert, M. Colwell and D. Routh regarding Kavli Foundation contract issues (1.5); follow up email communications regarding same (0.5)
04/28/16	M.J. Gearin	1.10	Communications regarding Kavli Foundation order (06); draft stipulated order and confirmation of order (0.5)
04/28/16	T. S. Miller	2.70	Review letter and email from Lane Powell regarding the Kavli Foundation Medals (.6); meet with M. Gearin to discuss stipulation and order (.3); meet with B. Peterson to discuss format of stipulations and orders generally and get an example (.2); draft stipulation and order for Kavli stipulated production agreement (1.5)
04/28/16	D.C. Neu	4.30	Call with Alan Wenokur regarding 2004 order (.3); call with F. White regarding issues related to World Pay (.5); draft email to client summarizing issues related to same (.3); continued correspondence with L. Frank in

Invoice # 3263308 2070561 Page 10 of 36

DATE	NAME	HOURS	DESC	RIPTI	ON	
					solve payment is	
					•	etainer (.3); draft
					d to same (.2); m	_
						ns (.4); review and
					ommunications f	
					edallic Arts (.3); ()); review subcor	
04/29/16	M.J. Gearin	1.10		•	ngs regarding Ka	, ,
04/29/10	W.J. Gealli	1.10			greement	vii i ouridation
		TOTAL FEES	produ		0 hrs	\$ 8,159.50
						Ψ <u>σί.σο.σο</u>
		<u>TIMEKEEP</u>	ER SUN	<u>/////////////////////////////////////</u>	<u>Y</u>	
M.J. Gearin		6.70	hrs at	\$	525.00 / hr	3,517.50
T. S. Miller		2.70	hrs at	\$	270.00 / hr	729.00
D.C. Neu		9.10	hrs at	\$	430.00 / hr	3,913.00
		TOTAL FEES		18.5	0 hrs	\$ 8,159.50
		MATTER	SUMM	<u>IARY</u>		
Fees						\$ <u>8,159.50</u>
MATTER TOTAL						\$ 8,159.50

Invoice # 3263308 2070561 Page 11 of 36

Case Administration (70040)

\$39,660.50

DATE	NAME	HOURS	DESCRIPTION
04/09/16	M.J. Gearin	3.20	Meet with M. Calvert, T. McDonald and J. Cannady regarding preparation for Trustee's exercise of control and case administration
04/09/16	D.C. Neu	2.60	Planning meeting
04/11/16	D. A. Evans	4.80	Meeting to discuss new case (1.2); drafting of multiple pleadings (1.8); research of proofs of claims filed regarding type of claim (.8); variety of research matters for ongoing work (1.0)
04/11/16	M.J. Gearin	1.50	Meeting with bankruptcy team regarding case overview and issue identification; allocation of tasks for team
04/11/16	M.J. Gearin	1.20	Calls with counsel including T. Tracy and J. Kornfeld regarding case overview and transition issues
04/11/16	B. T. Peterson	1.50	Planning and strategy session with M. Gearin and D. Neu regarding Northwest Territorial Mint case
04/12/16	D. A. Evans	2.50	Review of emails from attorneys regarding UCC searches and request same (.1); review of email from attorney regarding motion to extend date to file schedules and update same (.4); meeting with M. Gearin regarding workload (.3); research on R. Hansen (.3); file motion to extend time to file schedules and related documents with USBC (.2); review and catalog documents received from B. Cohen (.7); review of email containing UCC search results and forward same to attorneys (.2); meeting with M. Gearin regarding status of pending matters (.3)
04/12/16	B. T. Peterson	0.30	Phone call with D. Neu and M. Gearin regarding case investigation
04/13/16	D. A. Evans	3.10	Initiate litigation search (.4); draft motion for case management order and related documents including motion to shorten time (1.9); phone calls with D. Neu regarding notice of stay in district court matter (.2); draft notice of stay and send to counsel (.6)
04/13/16	M.J. Gearin	0.50	Multiple calls and emails with T. Tracy and Trustee regarding disposition of debtor's counsel retainer funds
04/13/16	D.C. Neu	3.90	Phone call with counsel in EEOC litigation to discuss status (.5); review pleadings related to

DATE	NAME	HOURS	DESCRIPTION
			same (.8); communicate with counsel for EEOC regarding discovery (.4); call with B. Peterson regarding research issues (.5); review analysis of same (1.0); call with counsel representing NWTM in Cohen litigation appeal (.7)
04/14/16	D. A. Evans	1.90	Finish drafting case management motion and related documents (.5); review of Bankruptcy Code 365(d)(4) and calendar dates and deadlines regarding same (.4); meeting with team to discuss case (1.0)
04/14/16	M.J. Gearin	1.30	Group planning meeting regarding case administration coordination and revisions to tracking document
04/14/16	M.J. Gearin	1.50	Email communications with A. Wenokur regarding R. Hansen efforts to divert employees and Hansen claims to assets (1.0); communications with Trustee regarding same (.5)
04/14/16	T. S. Miller	5.40	Meeting with M. Gearin, D. Neu, and B. Peterson to discuss status of case and various subprojects (1.0); update Medallic timeline with new documents (.3); Discuss bullion leases with D. Neu (.2); finish comparing bullion leases (.4); Additional case research to find a case that is analogous to these "leases" (.6); Research substantive consolidation generally (.4); Search for cases that discuss the requirements and effects of substantive consolidation (2.1); compile information about substantive consolidation (.4)
04/14/16	D.C. Neu	1.10	Meeting to discuss status
04/14/16 04/14/16	B. T. Peterson B. T. Peterson	1.00 1.10	Meeting regarding case administration Phone calls to claims agents regarding claims services; phone call to clerk of court regarding orders
04/15/16	D. A. Evans	1.80	Review of order extending deadlines to file schedules (.1); review of upcoming hearing dates for Judge (.1); finish litigation review of current cases for NWTM (.6); draft notice of stay for De-Verneuil-Smith USDC case (.2); draft notice of stay in King County case (.4); research regarding filing in Alameda, CA (.1); miscellaneous clean up of work (.3)
04/15/16	M.J. Gearin	4.10	Meet with M. Calvert and T. McDonald at NW Mint offices regarding case planning and overview of first week findings

DATE	NAME	HOURS	DESCRIPTION
04/15/16	M.J. Gearin	1.50	Communications regarding preparations of multiple pleadings and schedules including case administration, bar date, employment applications
04/15/16	B. T. Peterson	0.30	Discuss case strategy with M. Gearin
04/18/16	M.J. Gearin	0.40	Communications regarding website revisions
04/18/16	M.J. Gearin	0.50	Coordination of preparation of bankruptcy schedules
04/18/16	M.J. Gearin	0.50	Communications with T. Tracy regarding preservation of retainer and schedules preparation issues (.3); review of Tracy motion to withdraw (.2)
04/18/16	B. T. Peterson	0.30	Correspondence with claims noticing agent representatives regarding quotes for services
04/18/16	B. T. Peterson	0.50	Discuss website issues with D. Evans and D. Neu
04/18/16	B. T. Peterson	0.30	Draft email to client regarding case website
04/19/16	M.J. Gearin	2.00	Communications regarding Tracy withdrawal motion and retainer issues including calls with Trustee and R. Mitchell; coordinate draft of response to motion
04/19/16	M.J. Gearin	0.40	Coordination of revisions to website
04/19/16	B. T. Peterson	0.90	Draft response to debtor counsel's motion to withdraw
04/19/16	B. T. Peterson	0.10	Phone call with D. Neu regarding website
04/20/16	D. A. Evans	3.50	Review of objection by creditor to motion to withdraw as attorney (.2); prepare for meeting to discuss case status and strategy (1.0); update spreadsheet regarding notices of stay and review of court dockets regarding same (.5); work with B. Peterson regarding filing of trustee's response to motion to withdraw as attorney including preparing proof of service, efiling letter to Judge, file and serve the response, email to appropriate parties and email to client (1.8)
04/20/16	M.J. Gearin	1.50	Draft project list; communicate with team regarding multiple projects status and coordinate same
04/20/16	B. T. Peterson	1.00	Analyze mail and noticing issues
04/20/16	B. T. Peterson	0.40	Review chambers procedure regarding telephonic appearance and draft letter requesting permission for telephonic appearance
04/21/16	D. A. Evans	5.10	Case strategy meeting (1.4); work on pending litigation/notices of stay issues (.4); update case administration matters after meeting (.3); email to M. Richardson regarding copies of

DATE	NAME	HOURS	DESCRIPTION
			leases (.1); begin drafting or continuing working on multiple motions and supporting documents for hearings to be set on shorten time (2.9)
04/21/16	M.J. Gearin	1.50	Planning meeting regarding motions filings, research projects and investigative matters
04/21/16	M.J. Gearin	2.50	Multiple calls and email communications with Trustee regarding environmental liability, investigation of assets, prospective sales and pending motions
04/21/16	T. S. Miller	1.50	Meeting with team to discuss assignments and scheduling (1.5)
04/21/16	D.C. Neu	1.50	Meeting to discuss tasks and action items (1.5)
04/21/16	B. T. Peterson	1.50	Planning meeting with bankruptcy group
04/22/16	D. A. Evans	6.10	Finish drafting or continuing working on multiple motions and supporting documents for hearings to be set on shorten time (4.3); file five different motions and supporting documentation with USBC and send for service to limited notice parties (1.0); work with M. Gearin regarding documentation for motion for show cause filed (.8)
04/22/16	M.J. Gearin	1.50	Revisions to Knudsen motion pleadings, bar date motion pleadings and communications regarding same
04/22/16	M.J. Gearin	1.50	Review of order to show cause and communications with Trustee and M. Smith regarding same
04/22/16	B. T. Peterson	0.30	Draft emails related to noticing agents
04/22/16	B. T. Peterson	0.40	Review and finalize pleadings (.2); review show cause order and discuss the same with D. Neu (.2)
04/25/16	D. A. Evans	1.60	Begin working on preparing schedules (.4); finalize 2004 motions and proposed orders for filing with the court (.5); file multiple 2004 motions with court and send for service as needed (.7)
04/25/16	M.J. Gearin	1.50	Communications with Trustee regarding numerous case administration issues
04/25/16	M.J. Gearin	2.70	Calls with G. Waldron, S. Gallup and M. Smith regarding claims filing (.9); coordinate regarding court's order to show cause (1.0.); investigate website communications (.8)
04/26/16	D. A. Evans	1.10	Conference with B. Peterson regarding website and conversations with E. Robinson regarding same (.2); review of order to shorten time denied in part and conference

DATE	NAME	HOURS	DESCRIPTION
			with M. Gearin regarding same (.2); draft of new notice of hearing for new date (.3); file and send for service (.2); review of 2004 orders (.2)
04/26/16	M.J. Gearin	2.30	Draft revisions to response to order to show cause (0.9); communications with trustee regarding show cause hearing (0.4); call with M. Smith regarding hearing (0.3); prepare for hearing on order to show cause (0.7)
04/26/16	B. T. Peterson	1.00	Discuss case administration with M. Gearin and D. Neu
04/26/16	B. T. Peterson	3.20	Draft response to show cause order
04/27/16	K. Drake	0.10	Research and retrieve current address for Diane Erdmann for Denise Evans.
04/27/16	D. A. Evans	2.20	Serve 2004 orders on three parties and draft affidavits of mailing for each (.8); conference with M. Gearin regarding UST's insurance requirements and research regarding same (.3); prepare exhibits to response to show cause order (.4); file response to show cause order (.4); email from M. Gearin regarding notice of appearance filed for Gatewood-California and research into same (.3)
04/27/16	M.J. Gearin	2.50	Draft revisions to response to order to show cause (1.1); communications with M. Calvert regarding preparations for hearing (0.5); call with G. Zadra-Walton regarding claims processing and PII issues (0.4); prepare for hearing on order to show cause (0.5)
04/28/16	D. A. Evans	0.80	Conference with M. Gearin regarding schedules and email to client regarding same (.1); review of certificate of liability insurance and compare with UST guidelines (.1); work on schedules (.3); review of notice of appearance for Medallic Art Company (.1); prepare affidavit of mailing and send 2004 order for Medallic to attorney (.2)
04/28/16	M.J. Gearin	4.10	Prepare for and attend hearing on order to show cause
04/28/16	B. T. Peterson	0.30	Draft email related to noticing issues in case
04/29/16	D. A. Evans	0.80	Meeting with M. Gearin regarding website changes and work website changes with E. Robinson (.3); Call with C. Green and email to same (.1); review of notice of appearance for D. Erdmann and serve 2004 order on attorney (.3); Conference with M. Gearin regarding schedules and email from T. McDonald (.1)
04/29/16	M.J. Gearin	0.50	Communications regarding court suggested

Invoice # 3263308 2070561 Page 16 of 36

DATE	NAME	HOURS DESCRIPTION						
0.4/0.0/4.0	D O M	4.00		website revisions Communicate with client regarding credit card				
04/29/16	D.C. Neu	1.00			ate with client reg (.2); communicat			
					ame (.6); draft re			
					ame (.2); commu			
			_	_	etainer check (.1)			
					chell regarding 20 enas (.9)	4 exams (.1);		
		TOTAL FEES	uran	•	50 hrs	\$ 39,660.50		
						¥ <u>=========</u>		
		TIMELEED	CD CLI	484 A D	NV			
		TIMEKEEP	EK SUI	VIIVIAR	<u>(1</u>			
K. Drake		0.10	hrs at	\$	265.00 / hr	26.50		
D. A. Evans		35.30	hrs at	\$	205.00 / hr	7,236.50		
M.J. Gearin	1	40.70		\$	525.00 / hr	21,367.50		
T. S. Miller			hrs at	\$	270.00 / hr	1,863.00		
D.C. Neu		10.10	hrs at	\$	430.00 / hr	4,343.00		
B. T. Peters	son	14.40 TOTAL FEES	hrs at	\$ 107 F	335.00 / hr 50 hrs	\$\frac{4,824.00}{39.660.50}		
		TOTAL FEES		107.0	00 1115	φ <u>39,000.50</u>		
		MATTER	SUMN	<u>IARY</u>				
Fees						\$ 39,660.50		
MATTER T	OTAL					\$ 39,660.50		

Claims, Administration and Objections (70050)

\$17,564.00

DATE	NAME	HOURS	DESCRIPTION
04/11/16	D.C. Neu	2.60	Phone call with R. Hyatt regarding consignment agreement (.3); review and analysis of same (.8); meeting to discuss immediate tasks (.7); review lease agreements (.8)
04/12/16	D. A. Evans	0.70	Continue search of claims regarding leases or consignments and cataloging claims (.7)
04/12/16	M.J. Gearin	1.20	Review of documents and analysis of lease, storage and consignment rights as alleged by creditors (1.0); communications with D. Neu regarding same (.2)
04/12/16	D.C. Neu	7.10	Meeting to discuss legal issues related to claims (1); continued research and analysis related to same (3); draft memorandum (2.1); follow-up status call (1)
04/13/16	D. A. Evans	0.50	Review and catalog proofs of claim
04/14/16	D. A. Evans	0.50	Review and catalog proofs of claim
04/14/16	M.J. Gearin	1.10	Research and review of cases regarding customer deposit priority (1.0); emails with Trustee regarding same (.2)
04/15/16	D. A. Evans	2.90	Continue to review and catalog claims (2.3); telephone conversation with NWTM and client regarding website and changes needed (.2); telephone call with court regarding same (.2); email NWTM with correct information to put on website (.2)
04/15/16	M.J. Gearin	1.20	Review and analysis of creditor claims and communications regarding analysis of rights of consignment, storage and lease creditors
04/15/16	D.C. Neu	2.20	Call with R. Hyatt regarding Pan American claim (.3); review and analyze research regarding deposit issues (1.9)
04/18/16	D. A. Evans	3.00	Continue to review and catalog claims (2.5); communications with client regarding filing of claim issues (.3); conference with B. Peterson regarding same (.2)
04/19/16	D. A. Evans	4.40	Continue to review and catalog claims(4.0); work with client regarding website and information for claims (.4)
04/19/16	M.J. Gearin	0.90	Investigation of environmental claims on Nevada site (.2); review of complaint (.2); call with Trustee regarding same (.2); meet with J. Bjorkman regarding environmental analysis

DATE	NAME	HOURS	DESCRIPTION
			(.3)
04/20/16	D. A. Evans	1.40	Continue to review and catalog claims
04/21/16	D. A. Evans	1.10	Continue to review and catalog claims
04/21/16	D.C. Neu	0.40	Review communications from R. Hyatt regarding consignment claims (.2); communicate with client regarding same (.2)
04/22/16	M.J. Gearin	2.20	Review and analysis of customer deposit case law; email to T. Geher regarding same
04/22/16	T. S. Miller	4.30	Begin research on environmental claim treatment in bankruptcy (1.1); begin research on preclusive effect of Cohen case (3.2)
04/25/16	D. A. Evans	1.30	Continue to review and catalog claims
04/26/16	D. A. Evans	2.80	Continue to review and catalog claims (1.2); review of sample of filed claims regarding redaction issues (1.6)
04/26/16	M.J. Gearin	0.60	Analysis and discussion of customer deposit priority issues
04/26/16	M.J. Gearin	0.50	Analysis and discussion of protocol for addressing customer stored inventory
04/27/16	D. A. Evans	0.90	Continue to review and catalog claims
04/27/16	T. S. Miller	3.70	Review articles giving overview of environmental claims in bankruptcy generally (2.9); begin case research into how to sell assets free and clear of environmental claims (.8)
04/28/16	D. A. Evans	2.20	Continue to review and catalog claims
04/28/16	T. S. Miller	3.70	Discuss environmental research progress with M. Gearin (.2); review Collier bankruptcy treatise section on administrative priority of environmental claims (1.8); review cases that discuss administrative priority of environmental claims (1.7)
04/29/16	D. A. Evans	1.60	Continue to review and catalog claims
04/29/16	T. S. Miller	1.10	Draft email summarizing findings on administrative priority for environmental claims (1.1)
		TOTAL FEES	56.10 hrs \$ <u>17,564.00</u>

Invoice # 3263308 2070561 Page 19 of 36

TIMEKEEPER SUMMARY

D. A. Evans	23.30	hrs at	\$	205.00 / hr		4,776.50
M.J. Gearin	7.70	hrs at	\$	525.00 / hr		4,042.50
T. S. Miller	12.80	hrs at	\$	270.00 / hr		3,456.00
D.C. Neu	12.30	hrs at	\$	430.00 / hr		5,289.00
	TOTAL FEES		56.10 hrs		\$_	17,564.00

MATTER SUMMARY

Fees \$ \frac{17,564.00}{MATTER TOTAL} \$ \frac{17,564.00}{17,564.00}

Invoice # 3263308 2070561 Page 20 of 36

Employee Benefits/Pensions (70060)

\$4,047.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/11/16	R. J. Groshong	0.30	Conference with B. Peterson regarding research relating to potential WARN act implications in Texas
04/11/16	R. J. Groshong	0.70	Research potential state and federal WARN act implications in Texas
04/11/16	R. J. Groshong	0.40	Draft memorandum addressing potential state and federal WARN act implications in Texas
04/11/16	B. T. Peterson	0.30	Discuss WARN act issues with R. Groshong for Northwest Territorial Mint case
04/12/16	B. T. Peterson	1.70	Research employment law issues related to layoffs
04/13/16	M.J. Gearin	0.50	Consideration of WARN Act research
04/13/16	B. T. Peterson	3.10	Research related to WARN Act
04/14/16	M.S. Filipini	0.30	Conference with B. Peterson regarding potential WARN Act issues
04/14/16	B. T. Peterson	2.80	Research related to WARN Act
04/15/16	B. T. Peterson	1.70	Draft memo related to WARN Act issues
	TOTAL	. FEES	11.80 hrs \$ <u>4,047.00</u>

TIMEKEEPER SUMMARY

M.S. Filipini	0.30	hrs at	\$	425.00 / hr	127.50
M.J. Gearin	0.50	hrs at	\$	525.00 / hr	262.50
R. J. Groshong	1.40	hrs at	\$	315.00 / hr	441.00
B. T. Peterson	9.60	hrs at	\$	335.00 / hr	3,216.00
	TOTAL FEES		11.80 hrs		\$ 4,047.00

Fees	\$ 4,047.00
MATTER TOTAL	\$ 4,047.00

Fee/Employment Applications (70070)

\$7,339.00

DATE	NAME	HOURS	DESCRIPTION
04/08/16	M.J. Gearin	2.30	Communications regarding draft of trustee appointment materials (1.0); meet with T. Buford regarding trustee appointment (0.2); communications with M. Calvert regarding preparations for administration of case (1.1)
04/11/16	D. A. Evans	0.30	Finalize employment application documents and forward to U.S. Trustee
04/11/16	M.J. Gearin	3.60	Communications with Trustee regarding employment applications of Cascade and K&L (0.5); communications with M. Smith regarding employment matters (0.4); analysis of relationships with parties in interest (1.0); revisions to employment applications (0.8); revisions to Knudsen pleadings (0.9)
04/11/16	B. T. Peterson	1.80	Draft KLG employment application pleadings for Northwest Territorial Mint
04/11/16	B. T. Peterson	2.00	Draft employment application pleadings for Cascade Capital Group in Northwest Territorial Mint
04/12/16	D. A. Evans	0.80	Finalize application to employ K&L Gates and related documents for filing with the court (.4); file ex parte application to employ and related documents with USBC (.2); email to client regarding same (.2)
04/12/16	M.J. Gearin	1.00	Finalize employment application of K&L Gates (0.5); revisions to draft of Cascade Capital employment application (0.5)
04/12/16	B. T. Peterson	0.90	Revise and edit employment application pleadings
04/13/16	D. A. Evans	1.10	Revisions to application to employ Cascade Capital Group and related documents and finalize same for sending to US Trustee (.3); email to US Trustee to send application (.2); file application to employ Cascade Capital Group and related documents with court (.4); review of order approving employment of K&L Gates (.2)
04/13/16	M.J. Gearin	0.30	Communications with M. Smith of US Trustee office regarding update on creditor claims issues and employment applications
04/20/16	M.J. Gearin	1.10	Revisions to response to Tracy motion to withdraw (.9); communications regarding hearing schedule (.2)
04/21/16	B. T. Peterson	0.90	Edit and revise Knudsen and motion to

Invoice # 3263308 2070561 Page 22 of 36

DATE	NAME	HOURS	DESC	RIPT	ION		
04/22/16 04/28/16	M.J. Gearin B. T. Peterson	0.80 0.70	Revisi	ons to arch re resen		f debtor	to appear
	10	TAL FEES		17.6	60 hrs	\$ <u></u>	7,339.00
		TIMEKEEP	ER SUN	MAR	<u>XY</u>		
D. A. Evans		2.20	hrs at	\$	205.00 / hr		451.00
M.J. Gearin		9.10	hrs at	\$	525.00 / hr		4,777.50
B. T. Peters		6.30	hrs at	\$	335.00 / hr	Φ	2,110.50
	10	TAL FEES		17.6	60 hrs	\$	7,339.00
MATTER SUMMARY							
Fees MATTER T	OTAL					\$ \$	7,339.00 7,339.00

Invoice # 3263308 2070561 Page 23 of 36

\$134.00

DATE	NAME	HOURS	DESC	RIPTIO	N		
04/20/16	B. T. Peterson	0.40	Finaliz	ze respo	nse to withdray	val motio	on
	TOTA	AL FEES		0.40	hrs	\$	134.00
		TIMEKEEP	ER SUN	<u>IMARY</u>			
B. T. Peters	son	0.40	hrs at	\$	335.00 / hr		134.00
	TOTA	AL FEES		0.40	hrs	\$	134.00
MATTER SUMMARY							
Fees						\$	134.00
MATTER T	OTAL					\$	134.00

Invoice # 3263308 2070561 Page 24 of 36

Financing and Cash Collateral (70090)

\$883.50

DATE	NAME	HOURS	DESCRIPTION	
04/25/16	D.C. Neu	1.20	Call with T. McDonald regard chargebacks (.1); research r (.6); review data from T. McI	elated to same
04/26/16	M.J. Gearin	0.70	Meetings, communications a issues regarding credit card chargebacks	and analysis of
		TOTAL FEES	1.90 hrs	\$ 883.50
		TIMEKEEP	ER SUMMARY	
M.J. Gearin D.C. Neu	1	1.20	hrs at \$ 525.00 / hr hrs at \$ 430.00 / hr	367.50 516.00
		TOTAL FEES	1.90 hrs	\$883.50_
MATTER SUMMARY				
Fees MATTER T	OTAL			\$ 883.50 \$ 883.50

Invoice # 3263308 2070561 Page 25 of 36

Litigation (70100)

\$22,056.50

DATE	NAME	HOURS	DESCRIPTION
04/13/16	M.J. Gearin	2.30	Participate in call with B. Stone regarding pending EEOC litigation and WA federal court lawsuit (0.5); analysis of stay issues (0.6); review of reports regarding pending litigation and pleadings in pending cases (0.8); calls with D. Neu regarding management of pending litigation (0.5)
04/13/16	B. T. Peterson	1.20	Research related extension of time to comply with deadlines in ongoing litigation
04/13/16	M. K. Pinch	0.40	Provide docket sheets for three Medallic Arts cases.
04/13/16	M. K. Pinch	0.50	Search litigation histories of Northwest Territorial Mint in WA, NV, TX, and VA and Medallic Art in WA and NV.
04/14/16	M.J. Gearin	0.50	Coordination of investigation into pending litigation
04/14/16	D.C. Neu	3.20	Review pleadings filed in various litigation; review lists of lawsuits; meeting with T. Kelley regarding document retention; meeting with S. Selin regarding same; call with client regarding same; research regarding stay issues
04/14/16	B. T. Peterson	0.60	Legal research related to pending lawsuits
04/14/16	K. I. Stockert	0.30	Pulled docket and filing from King County small claims case for D. Evans (Seattle)
04/15/16	T. S. Miller	5.50	Look for cases that discuss the difference between investments or "collectibles" and "consumables" in the context of consumer use priorities (.7); Discuss veil piercing/alter ego theories with B. Peterson via email and in person (.8); write up the requirements of substantive consolidation and what kinds of evidence we should be looking for in this case to get consolidation (2.4); begin researching alter ego law in Nevada (1.6)
04/17/16	T. S. Miller	1.10	Continue research on alter ego law in Nevada (1.1)
04/18/16	D. A. Evans	1.20	File notice of stay in King County action and send for service (.3); work with San Francisco office regarding filing notice of stay in Alameda County, California (.4); draft notice of stay for Alameda County (.3); telephone call with BNC regarding mailing of bankruptcy notices (.2)

DATE	NAME	HOURS	DESCRIPTION
04/18/16	M.J. Gearin	0.30	Call with M. Donegan counsel for Medallic in superfund litigation in Rhode Island
04/18/16	T. S. Miller	6.10	Finish research on alter ego liability in Nevada (1.8); Draft memo portion on alter ego liability in Nevada (4.3)
04/18/16	P. E. Soskin	0.10	Review and finalize notice of stay of action pending bankruptcy
04/19/16	T. S. Miller	7.20	Research and compile information on corporate disregard and alter ego liability in Washington (2.1); draft memo portion on Washington corporate disregard and alter ego liability (2.3); combine and edit all three portions of substantive consolidation and veil piercing memo (1.9); add introduction and summaries to memo (.9)
04/19/16	B. T. Peterson	0.50	Subcon and piercing the corporate veil research
04/20/16	T. S. Miller	6.80	Research automatic stays of motions for new trial (3.9); compile automatic stay research and email to D. Neu (.3); begin assembling factual record from emails and various other documents (2.4); read demand letter from McMeel (.2)
04/21/16	T. S. Miller	6.60	Finish assembling factual research (1.1); draft fact section of substantive consolidation memo (3.1); identify facts that are missing, and documents we need to collect to prove those facts (1.3); draft response letter to McMeel (1.1)
04/21/16	D.C. Neu	2.00	Research and analysis regarding status of litigation (1.2); calls with counsel regarding same (.8)
04/22/16	M.J. Gearin	0.50	Comments to 2004 pleadings
04/22/16	D.C. Neu	4.30	Draft email to A. Lichtenstein regarding status of retainer (.1); draft and edit motions for 2004 examinations (3.5); review case law regarding res judicata (.7); Draft email to A. Lichtenstein regarding status of retainer (.1); draft and edit motions for 2004 examinations (3.5); review case law regarding res judicata (.7);
04/25/16	T. S. Miller	3.40	Finish research on preclusive effect of federal district court judgments when the court is sitting in diversity in Nevada (2.3); summarize findings and compile most relevant cases in email to D. Neu (1.1)
04/25/16	T. S. Miller	2.80	Discuss common interest agreements and joint defense agreements with D. Neu and M. Gearin (.2); Find relevant common interest

DATE	NAME	HOURS	DESCRIPTION					
			agreement (.8); begin drafting changes to us common interest agreement in with related parties in this case (1.8)					
04/25/16	D.C. Neu	1.80	Call with counsel regarding Nevada employment litigation (.3); review and analyze case law on claims preclusion and final judgments (1.3)					
04/26/16	T. S. Miller	0.40	Find Ninth Circuit case extending automatic bankruptcy stay to appeals by the debtor in suits originally against the debtor (.4)					
04/26/16	T. S. Miller	3.10	Discus	ss co 1. Ge	ommon interest ag earin (.3); separate	reement drafts and update		
04/26/16	T. S. Miller	2.60	drafts to reflect conversation (2.8) Dissect Bonham bankruptcy court and Ninth Circuit opinions, and LLS brief in support of substantive consolidation, to make a list of relevant facts for substantive consolidation (2.6)					
04/27/16	T. S. Miller	1.90	Finish facts f descri	from ibe h	embling substantive previous cases (1 ow the facts of this in previous cases	.1); briefly s case relate the		
04/27/16	T. S. Miller	2.10	facts used in previous cases (.8) Update and review common interest agreements in response to edits and comments by M. Gearin (2.1)					
04/28/16	B. T. Peterso	n 1.60	Draft a	and r	evise memo relate	,		
		TOTAL FEES	recov	•	.90 hrs	\$ 22,056.50		
		TIMEKEEP	PER SUM	/MA	<u>RY</u>			
D. A. Evans	S	1.20	hrs at	\$	205.00 / hr	246.00		
M.J. Gearir	า	3.60	hrs at	\$	525.00 / hr	1,890.00		
T. S. Miller		49.60	hrs at	\$	270.00 / hr	13,392.00		
D.C. Neu		11.30	hrs at	\$	430.00 / hr	4,859.00		
B. T. Peters		3.90	hrs at	\$	335.00 / hr	1,306.50		
M. K. Pinch		0.90	hrs at	\$	265.00 / hr	238.50		
P. E. Soski		0.10	hrs at	\$	450.00 / hr	45.00		
K. I. Stocke	ert	0.30	hrs at	\$	265.00 / hr	79.50		
		TOTAL FEES		70.	.90 hrs	\$ <u>22,056.50</u>		

Invoice # 3263308 2070561 Page 28 of 36

MATTER SUMMARY

Fees \$ 22,056.50 MATTER TOTAL \$ 22,056.50

Invoice # 3263308 2070561 Page 29 of 36

Cohen v Hansen, NW Territorial Mint, King County Case (70103)

\$714.50

FEES

DATE	NAME	HOURS	DESCRIPTION
04/12/16	M.J. Gearin	0.60	Review of pleadings and materials from Cohen litigation
04/25/16	D.C. Neu	0.50	Call with A. Lichtenstein regarding status of Cohen litigation (.2); draft email to A. Lichtenstein regarding same (.3)
04/26/16	D. A. Evans	0.90	Review of recent documents filed in case and docket and calendar as needed (.4); research regarding filing a notice of stay in King County District Court (.2); draft notice of stay for King County District Court case and file and serve with Burien District Court (.3)
		TOTAL FEES	2.00 hrs \$

TIMEKEEPER SUMMARY

D. A. Evans	0.90	hrs at	\$	205.00 / hr	184.50
M.J. Gearin	0.60	hrs at	\$	525.00 / hr	315.00
D.C. Neu	0.50	hrs at	\$	430.00 / hr	215.00
	TOTAL FEES		2.0	0 hrs	\$ 714.50

Fees	\$ <u>714.50</u>
MATTER TOTAL	\$ <u>714.50</u>

Invoice # 3263308 2070561 Page 30 of 36

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$2,259.50

FEES

DATE	NAME	HOURS	DESCRIPTION
04/12/16	M.J. Gearin	0.70	Communications with B. Stone regarding pending EEOC litigation (0.2); review and analyze EEOC notice of effect of stay (0.3); communications with D. Neu regarding obtaining stay of litigation (0.2)
04/15/16	D.C. Neu	2.00	Draft email to M. Che regarding EEOC litigation issues (.3); analysis of claims in litigation (1.7)
04/22/16	D.C. Neu	0.30	Communicate with M. Che regarding EEOC litigation (.3)
04/27/16	D.C. Neu	2.10	Call with EEOC attorneys to discuss bankruptcy status and litigation issues (1.1); review outstanding discovery (.8)
		TOTAL FEES	5.10 hrs \$\frac{2,259.50}{}

TIMEKEEPER SUMMARY

M.J. Gearin	0.70	hrs at	\$	525.00 /	hr	367.50
D.C. Neu	4.40	hrs at	\$	430.00 /	hr	1,892.00
	TOTAL FEES		5.1	0 hrs	\$	2,259.50

Fees	\$ <u>2,259.50</u>
MATTER TOTAL	\$ <u>2,259.50</u>

Invoice # 3263308 2070561 Page 31 of 36

State of NV v Hansen, NWTM et al, Nevada State Court Case (70105)

\$835.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
04/14/16	D. A. Evans	2.10	Review of Nevada Supreme Court for briefing documents in appeal (.4); research and analyze litigation issues regarding notices of stay in multiple ongoing litigation matters (1.7)				
04/20/16	J.C. Bjorkman	0.40	Prepare for and call with M. Calvert regarding preparation for meeting with Nevada environmental regulators regarding site investigation				
04/20/16	E. R. Whittington	0.30	Research re: Nevada v Ross Hansen per D. Evans				
04/27/16	D.C. Neu	0.30	Review and analyze communication regarding environmental claim				
	TOTAL	FEES	3.10 hrs \$ <u>835.00</u>				

TIMEKEEPER SUMMARY

J.C. Bjorkman	0.40	hrs at	\$	520.00 / hr		208.00
D. A. Evans	2.10	hrs at	\$	205.00 / hr		430.50
D.C. Neu	0.30	hrs at	\$	430.00 / hr		129.00
E. R. Whittington	0.30	hrs at	\$	225.00 / hr		67.50
	TOTAL FEES		3.1	10 hrs	\$_	835.00

rees	φ <u> </u>
MATTER TOTAL	\$ <u>835.00</u>

Meetings and Communications with Creditors (70110)

\$5,250.50

DATE	NAME	HOURS	DESC	RIPTION				
04/13/16	M.J. Gearin	2.30	Multiple calls with counsel for creditors including M. Kivitz and C. Marston and communications with trustee regarding creditor issues					
04/14/16	M.J. Gearin	0.80	Calls and email exchanges with R. Mitchell, counsel to B. Cohen regarding asset recovery matters					
04/14/16	D.C. Neu	0.50	Call with creditor regarding claim					
04/14/16	B. T. Peterson	0.20	Phone	call with	creditor McN	Meel		
04/18/16	B. T. Peterson	0.10	Call to counsel for debtor regarding communications with creditors					
04/19/16	M.J. Gearin	0.50	Communications regarding formation of committee (.3); call with Mr. W. Hanson, cochair of committee (.2)					
04/21/16	M.J. Gearin	0.60			up communi	cations with D. mittee		
04/22/16	M.J. Gearin	0.20	Communications with D. James, committee co-chair regarding case issues					
04/25/16	M.J. Gearin	1.20	Communications with multiple creditors including R. Clark and J. Nye					
04/26/16	M.J. Gearin	1.70	Extended call with M. Northrup and G. Groshong regarding case overview and update as counsel to committee					
04/27/16	M.J. Gearin	0.50	Call with T. Geher regarding customer deposit priority issues					
04/28/16	M.J. Gearin	1.10	Meet with trustee and counsel for creditors committee regarding overview of multiple case issues					
04/28/16	M.J. Gearin	0.50	Call with counsel for B. Cohen regarding asset recovery and claims matters					
	TC	OTAL FEES	10.20 hrs \$ <u>5,250.50</u>					
		TIMEKEEP	ER SUN	<u>IMARY</u>				
M.J. Gearin		9.40	hrs at	\$ 52	25.00 / hr	4,935.00		
D.C. Neu	ı	0.50	hrs at		30.00 / hr	4,935.00 215.00		
B. T. Peters	son	0.30	hrs at		35.00 / hr	100.50		
D. 1.1 Ololo		O.SO OTAL FEES	ino at	10.20 h		\$\$		

Invoice # 3263308 2070561 Page 33 of 36

MATTER SUMMARY

Fees \$ 5,250.50 MATTER TOTAL \$ 5,250.50

Invoice # 3263308 2070561 Page 34 of 36

Relief From Stay and Adequate Protection (70130)

\$301.00

DATE 04/27/16	NAME D.C. Neu	HOURS 0.70	DESCRIPTION Draft email to World Pay reg	arding stay
04/21/10	D.O. Ned	0.70	violation (2.); call with internal counsel a World Pay regarding same (.5)	
		TOTAL FEES	0.70 hrs	\$301.00
		TIMEKEEPI	ER SUMMARY	
D.C. Neu		0.70 TOTAL FEES	hrs at \$ 430.00 / hr 0.70 hrs	\$\frac{301.00}{301.00}
		TOTALTELO	0.70 1110	Ψ
		MATTER	SUMMARY	
Fees	OTAL			\$ 301.00
MATTER T	UTAL			\$ <u>301.00</u>

Invoice # 3263308 2070561 Page 35 of 36

Assumption and Re	jection of Leases and	Contracts (70150)

\$157.50

DATE	NAME	HOURS	DESCRIPTION	
04/28/16	M.J. Gearin	0.30	Call with counsel for lessors with Trustee regarding lease	
		TOTAL FEES	0.30 hrs	\$ <u>157.50</u>
		TIMEVEED		
		HWEKEEP	ER SUMMARY	
M.J. Gearin			hrs at \$ 525.00 / hr	157.50
		TOTAL FEES	0.30 hrs	\$ <u>157.50</u>
		MATTER	SUMMARY	
Fees				\$ <u>157.50</u>
MATTER TO	OTAL			\$ <u>157.50</u>

Invoice # 3263308 2070561 Page 36 of 36

\$9,410.42 Costs (99999)

DISBURSEMENTS & OTHER CHARGES

DESCRIPTION		AMOUNT
Copying Expense		317.20
Lexis Research		257.94
Other		1.74
UCC Filings and Searches		108.00
Westlaw Research		8,725.54
	DISBURSEMENTS & OTHER CHARGES	\$ 9,410.42
	MATTER SUMMARY	

Disbursements and Other Charges	\$_	9,410.42
MATTER TOTAL	\$	9.410.42

K:\2070561\00001\20892_MJG\20892\$25EI

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : July 27, 2016 Invoice Number : 3274244 Services Through : May 31, 2016 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees	\$ <u>23,460.50</u>	
Total Amount Due This Matter		\$ 23,460,50

Asset Disposition (70020)

rees	\$ <u>48,574.00</u>	
Total Amount Due This Matter		\$ 48 574 OO

Business Operations (70030)

rees	\$ <u>11,951.50</u>	
Total Amount Due This Matter		\$ 11.951.50

Case Administration (70040)

Fees	\$ <u>17,676.00</u>	
Total Amount Due This Matter		\$ 17,676.00

Claims, Administration and Objections (70050)

Fees	\$ 5,072.00	
Total Amount Due This Matter		\$ 5,072.00

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3274244 2070561 Page 2 of 37

			1 age 2 01 01		
Employee Benefits/Pensions (70060) Fees Total Amount Due This Matter	\$ <u>945.00</u>	\$	945.00		
Fee/Employment Applications (70070)					
Fees Total Amount Due This Matter	\$3,369.00	\$	3,369.00		
Fee/Employment Objections (70080)					
Fees Total Amount Due This Matter	\$ 533.00	\$	533.00		
Litigation (70100)					
Fees Total Amount Due This Matter	\$ <u>5,637.50</u>	\$	5,637.50		
Trustee v Diane Erdmann (70102)					
Fees Total Amount Due This Matter	\$ 29,463.00	\$	29,463.00		
EEOC v NW Territorial Mint, LLC, USDC Case	(70104)				
Fees Total Amount Due This Matter	\$ <u>473.00</u>	\$	473.00		
Meetings and Communications with Creditors (70110)					
Fees Total Amount Due This Matter	\$ <u>14,017.50</u>	\$	14,017.50		
Tax (70140)					
Fees Total Amount Due This Matter	\$ <u>1,531.00</u>	\$	1,531.00		

Invoice # 3274244 2070561 Page 3 of 37

Assumption and Rejection of Leases and Contracts (70150)

Fees \$ 1,900.50

Total Amount Due This Matter \$ 1,900.50

Corporate Governance and Board Matters (70180)

Fees \$<u>180.00</u>

Total Amount Due This Matter \$ 180.00

Costs (99999)

Disbursements and Other Charges \$ 10,646.96

Total Amount Due This Matter \$ 10,646.96

CURRENT INVOICE DUE - All Matters \$ 175,430.46

Asset Analysis and Recovery (70010)

\$23,460.50

DATE	NAME	HOURS	DESCRIPTION
05/02/16	M.J. Gearin	2.10	Communications with J. Stehlik regarding Medallic issues (0.7); review and analysis of Medallic documents; communications with Trustee regarding same (1.4)
05/02/16	D.C. Neu	1.70	Correspond with Tod McDonald regarding Cohen judgment (.3); review email from E. Robinson regarding advice to creditors (.10); analysis of same (.2); review documents provided by accountant (.9); communicate with T. McDonald regarding AMEX subpoena (.1)
05/02/16	D.C. Neu	3.40	Research related to legal issues related to withdrawal of counsel (1); review committee objection to motion to withdraw as counsel for debtor (.4); draft supplemental response to motion to withdraw as counsel (2)
05/03/16	D.C. Neu	1.00	Draft Wenokur subpoena (.4); draft AMEX subpoena (.6)
05/03/16	D.C. Neu	2.40	Meeting with client to discuss inventory issues (1.0); address credit card payment and stay issues (1.4)
05/03/16	B. T. Peterson	0.40	Phone call with M. Gearin and D. Huffman re retainer payment issues
05/03/16	B. T. Peterson	0.30	Draft declaration in support of reply to Motion to Withdraw
05/03/16	B. T. Peterson	1.40	Analyze Erdmann response to motion to withdraw
05/04/16	M.J. Gearin	1.10	Multiple calls with Trustee, R. Mitchell and T. Geher regarding asset recovery and claim issues
05/04/16	M.J. Gearin	0.80	Review letter from J. Stehlik regarding Medallic issues (0.3); review of records and call with T. McDonald regarding lease payments (0.5)
05/04/16	T. S. Miller	5.30	Discuss community property assignment with M. Gearin (.4); begin reviewing treatise materials and articles for overview of community property, common law marriage, and committed intimate relationships in

DATE	NAME	HOURS	DESCRIPTION
			Washington State (3.6); compile relevant information (.4); draft subpoena to receive copies of Erdmann's bank account and activity (.9)
05/04/16	D.C. Neu	1.10	Call with M. Calvert regarding chargebacks (.2); call with F. White regarding same (.4); review detail information on chargebacks (.2); research on First Data corporation (.3)
05/04/16	B. T. Peterson	0.40	Discuss hearing on retainer with D. Neu and M. Gearin
05/04/16	B. T. Peterson	2.70	Research and draft reply to response of Dianne Erdmann regarding retainer
05/05/16	M.J. Gearin	0.60	Review and discuss letter from J. Stehlik regarding Medallic issues
05/05/16	T. S. Miller	5.00	Review additional articles and case law on committed intimate relationships in Washington State (3.1); review community property sharing of debts in Washington State (1.9)
05/05/16	D.C. Neu	2.50	Draft and revise subpoenas (1); communicate with D. Bugbee regarding same (.2); call with M. Heston regarding lease issues (.3); review discovery tasks (.5); Call with B. Medeiros regarding status (.3); Call with T. McDonald regarding schedules (.2)
05/05/16	B. T. Peterson	0.20	Review letter from attorney regarding Medallic entity
05/06/16	B. T. Peterson	0.80	Discuss issues related to recovery of retainer with M. Gearin and D. Neu
05/09/16	M.J. Gearin	2.00	Review of Medallic documents (0.6); call with J. Stehlik (0.5); call with Trustee regarding Medallic issues (0.4); analysis of lease issues (0.5)
05/09/16	R.G. Masters	0.20	Consult regarding analysis of when title passes for mis-delivered goods
05/09/16	T. S. Miller	4.70	Compile research on committed intimate relationships (1.1); research cases to confirm various points of research (.4); draft research summary email on committed intimate relationships in general, debts in committed intimate relationships; and the formation of committed intimate relationships (3.2)
05/10/16	T. S. Miller	6.00	Research lower court Washington State cases that discuss committed intimate relationships to determine the distribution of debts and the rights of third-party creditors to the community property (2.8); Research cases from other jurisdictions, particularly California, to

DATE	NAME	HOURS	DESC	RIPTION	
			have t	nine what rights third-poothe property of unma Compile and summari (.6)	arried cohabitants
05/10/16	D.C. Neu	1.40	Reviev covera regard	w and analysis of insuage (1); communicate ling same (.1); call wit ling retainer (.3)	with client
05/13/16	D.C. Neu	5.50	Prepa depos	re for and attend Ross ition (5); call with M. G (.2); call with M. Calve	Searin regarding
05/13/16	B. T. Peterson	0.30		with D. Neu regarding	discovery
05/13/16	B. T. Peterson	1.10	Reviev (0.3), a	w documents (0.3), int and draft custodian de ling documents to be	erview custodian eclaration
05/16/16	M.J. Gearin	1.10	Revie	w and analysis of Medubstantive consolidation	lallic documents
05/16/16	B. T. Peterson	0.40	Meetin	ng with M. Gearin and recovery issues	
05/19/16	M.J. Gearin	0.50	Call w	ith Cohen counsel reg nd asset recovery ma	•
05/23/16	D.C. Neu	4.80	issues discov regard to sam regard Freedi	ith R. Freedman regal (.3); call with Erin Ro very requests (.5); con ling ethical issues (.5) ne (.5); draft letter to R ling conflicts (1); follow man regarding same (ition exhibits (1.8)	binson regarding sult with Tom Kelly ; research related t. Freedman v-up call with R.
05/24/16	M.J. Gearin	0.50	Call w	ith R. Mitchell and Truen levy and discovery	
05/27/16	M.J. Gearin	0.40	Comm	nunications with R. Mit	
	T	OTAL FEES		62.10 hrs	\$ <u>23,460.50</u>
		TIMEKEEP	ER SUM	<u>IMARY</u>	
M.J. Gearin		9.10	hrs at	\$ 525.00 / hr	4,777.50
R.G. Maste		0.20	hrs at	\$ 495.00 / hr	99.00
T. S. Miller			hrs at	\$ 270.00 / hr	5,670.00
D.C. Neu		23.80	hrs at	\$ 430.00 / hr	10,234.00
B. T. Peters	son	8.00	hrs at	\$ 335.00 / hr	2,680.00
	T	OTAL FEES		62.10 hrs	\$ 23,460.50

Invoice # 3274244 2070561 Page 7 of 37

MATTER SUMMARY

Fees \$ 23,460.50 MATTER TOTAL \$ 23,460.50

Asset Disposition (70020)

\$48,574.00

DATE	NAME	HOURS	DESCRIPTION
05/02/16	D. A. Evans	0.20	Meet with M. Gearin and D. Neu to discuss
05/00/40	D. A. Evens	0.50	sale notice to be served today (.2)
05/02/16	D. A. Evans	0.50	Initial drafting of sale notice (.5)
05/02/16	M.J. Gearin	2.30	Calls with J. Thoman, counsel for prospective purchaser (.5.); review of letter of intent;
			revisions to notice of asset sale for Tomball Texas (1.8)
05/02/16	B. T. Peterson	0.70	Draft notice for asset sale motion
05/03/16	D. A. Evans	0.40	Research re 363 motions (.4)
05/03/16	M.J. Gearin	1.80	Work on Asset Sale Agreement on Tomball Texas assets
05/03/16	B. T. Peterson	2.20	Draft proposed APA for sale of Graco assets
05/04/16	B. T. Peterson	3.90	Pleadings related to motion for approval of purchase and sale agreement
05/05/16	D. A. Evans	0.50	Continue research for 363 motions and
			declarations with B. Peterson (.3); initial drafting of declaration of M. Calvert in support
			of motion to sell (.2)
05/05/16	M.J. Gearin	2.70	Negotiations with counsel for Ira Green group
			regarding form of purchase and sale
			agreement and proposed revisions to order approving sale
05/05/16	M.J. Gearin	0.80	Call with counsel for B. Cohen regarding asset recovery matters
05/05/16	B. T. Peterson	0.30	Call with T. McDonald & M. Gearin regarding Medallic
05/05/16	B. T. Peterson	3.50	Draft pleadings in support of sale of Texas assets
05/06/16	D. A. Evans	2.40	Work on motion to sell documents including
			revisions, drafting, filing and serving and exhibits for multiple documents (2.4)
05/06/16	M.J. Gearin	3.30	Revisions to Tucker/Cook APA; revisions to
00/00/10	W.O. Ocaim	0.00	sale pleadings (2.2); calls with buyer and
			trustee regarding asset sale (1.1)
05/06/16	B. T. Peterson	0.20	Discuss filing of sale motion with M. Gearin
05/06/16	B. T. Peterson	3.20	Draft and revise pleadings related to sale motion
05/09/16	M.J. Gearin	0.40	Follow up communications regarding Tomball, Texas sale
05/09/16	B. T. Peterson	0.40	Research related to customer whose
			purchase order was delivered to incorrect address
05/10/16	B. T. Peterson	1.70	Calls with creditors regarding the sale notice

DATE	NAME	HOURS	DESCRIPTION
05/10/16	B. T. Peterson	0.40	Call to creditor regarding sale notice
05/12/16	B. T. Peterson	0.80	Communications with creditors regarding sale motion and case status
05/12/16	B. T. Peterson	0.50	Draft correspondence to NWTM accounting department regarding rent payments
05/13/16	D. A. Evans	0.60	Field phone calls and emails from creditors regarding notice of sale of Texas assets (.6)
05/16/16	M.J. Gearin	0.50	Call with Trustee regarding Tomball sale matters
05/17/16	B. T. Peterson	0.30	Phone call with counsel for taxing authorities regarding taxes in connection with sale
05/18/16	M.J. Gearin	1.10	Meet with B. Peterson and additional communications regarding asset sale of Tomball Texas facility
05/19/16	D. A. Evans	0.70	Catalog numerous creditors responses to sale motion mailed directly to our office (.7)
05/23/16	D. A. Evans	1.80	Review of numerous responses and objections to motion to sell and catalog for attorneys (.8); compare assumed contracts list with new one received (.4); send assumed contract list to potential bidder (.2); meeting with M. Gearin and B. Peterson regard fixed asset list and ownership of assets, research regarding same (.4)
05/23/16	M.J. Gearin	1.30	Multiple calls regarding Tomball sale including conference call with trustee and representatives of Ira Green regarding potential overbid (0.9); call with J. Thoman regarding sale terms and status (0.4)
05/23/16	M.J. Gearin	3.50	Meetings with B. Peterson regarding asset sale preparations (0.7); review and analysis of objections to sale (1.1); review and analysis of asset sale agreement terms (0.9); coordination of preparations for sale hearing (0.4); call with Trustee regarding sale issues (0.4)
05/23/16	B. T. Peterson	0.70	Draft emails to clients regarding executory contract issues
05/23/16	B. T. Peterson	2.20	Review objections to sale motion
05/23/16	B. T. Peterson	2.20	Draft reply in connection with sale hearing
05/24/16	D. A. Evans	1.10	Work on upcoming hearing on motion to sell including review of objections and catalog same, pull Texas claims (1.1)
05/24/16	D. A. Evans	0.10	Meeting with M. Gearin regarding reply in support of motion to sell and related documents (.1)
05/24/16	M.J. Gearin	1.50	Meet with Trustee regarding sale hearing and evaluation of offers

DATE	NAME	HOURS	DESCRIPTION
05/24/16	M.J. Gearin	3.10	Preparations for filing of reply on asset sale motion including calls with witnesses and revisions to draft pleadings
05/24/16	M.J. Gearin	1.20	Call with J. Thoman regarding Ira Green offer (0.4); review and analysis of offer (0.8)
05/24/16	B. T. Peterson	0.80	Meeting with M. Gearin and M. Calvert regarding sale hearing
05/24/16	B. T. Peterson	2.20	Draft declarations in support of motion to approve sale of Tomball, Texas assets
05/24/16	B. T. Peterson	4.20	Draft reply in support of motion to approve sale of Tomball, Texas assets
05/25/16	D. A. Evans	1.20	Work on finalizing reply to responses to motion to sell and corresponding declarations along with exhibits with attorneys (.8); file reply and corresponding declarations with USBC (.4)
05/25/16	M.J. Gearin	3.30	Revisions to reply in support of motion to sell Graco division and supporting declarations and communications with B. Peterson regarding same
05/25/16	M.J. Gearin	0.50	Communications with prospective purchasers of Texas assets
05/25/16	M.J. Gearin	1.80	Communications with Ira Green group regarding APA; revisions to APA
05/25/16	B. T. Peterson	1.70	Review case law related to sale motion
05/25/16	B. T. Peterson	0.20	Review response to sale motion filed by creditors' committee
05/25/16	B. T. Peterson	0.20	Phone call with counsel for taxing authority regarding sale hearing
05/25/16	B. T. Peterson	1.70	Draft declarations in support of Graco sale motion
05/25/16	B. T. Peterson	2.70	Finalize pleadings in support of Graco sale motion
05/26/16	D. A. Evans	1.40	Final hearing prep on motion to sell Texas assets with B. Peterson and M. Gearin including gathering documents, updating hearing binders, gathering phone numbers for parties possibly involved in hearing
05/26/16	M.J. Gearin	3.30	Attend hearing on motion to approve sale of Graco assets
05/26/16	M.J. Gearin	3.40	Communications with Ira Green group regarding revisions to APA and sale order (1.1); consultations with tax counsel (0.5); revise APA (1.8)
05/26/16	B. T. Peterson	0.70	Draft witness examination outline for evidentiary hearing on sale motion
05/26/16	B. T. Peterson	0.20	Communications with counsel for taxing authorities regarding language in proposed

DATE	NAME	HOURS	DESCRIPTION
			order
05/26/16	B. T. Peterson	0.30	Draft proposed order approving sale motion
05/26/16	B. T. Peterson	4.00	Attend sale hearing on motion to approve sale of Graco assets
05/26/16	B. T. Peterson	3.20	Preparation for sale hearing on motion to approve sale of Graco assets
05/26/16	B. T. Peterson	0.50	Discuss results of hearing with M. Gearin and discuss strategy for auction and subsequent sale hearing
05/27/16	D. A. Evans	0.90	Prepare for auction of Texas assets with M. Gearin, B. Peterson and client (.5); prepare for hearing to approve sale with same (.4)
05/27/16	M.J. Gearin	3.20	Prepare for and conduct auction of Tomball assets
05/27/16	M.J. Gearin	1.10	Amendments to Tomball asset purchase agreement and sale order
05/27/16	M.J. Gearin	3.20	Prepare for and attend hearing on sale of Tomball assets
05/27/16	M.J. Gearin	0.60	Call with P. Wagner; analysis of Hansen testimony regarding alleged Medallic ownership of assets
05/27/16	B. T. Peterson	1.80	Attend auction for Graco assets
05/27/16	B. T. Peterson	4.40	Attend hearing on sale of Graco division assets
05/27/16	B. T. Peterson	0.40	Revise proposed order on sale motion
05/30/16	B. T. Peterson	0.20	Draft email to M. Gearin regarding proposed order
05/31/16	D. A. Evans	2.90	Work with M. Gearin and B. Peterson regarding final draft of APA and final preparation for continued hearing on sale motion (.9); work with court reporter regarding transcript of sale hearing and send portion of tape to necessary parties (.7); finalize fixed asset attachment to APA (.3); forward APA with attachments to appropriate parties (.2); efile redlined proposed order with the court (.2); draft of notice of continued hearing on break-up fee (.6)
05/31/16	M.J. Gearin	1.30	Prepare for and attend hearing on Graco asset sale
05/31/16	M.J. Gearin	1.10	Review transcript of R. Hansen testimony (0.4); call with P. Wagner, P. Roderick and Tom regarding rebuttal of Ross Hansen testimony regarding Graco asset sale (0.7)
05/31/16	M.J. Gearin	3.10	Revisions to Graco asset purchase agreement and order approving sale (2.4); consultation regarding sales tax issues (0.3); communications regarding sales price

Invoice # 3274244 2070561 Page 12 of 37

DATE	NAME	HOURS	DESCRIPTION
			allocation (0.4)
05/31/16	M.J. Gearin	0.50	Revisions to form of order approving Graco sale to reflect Judge Alston's comments at hearing
05/31/16	B. T. Peterson	0.30	Discuss sale developments with M. Gearin
05/31/16	B. T. Peterson	1.60	Revisions to order approving sale
05/31/16	B. T. Peterson	3.30	Attend hearing on sale motion; meeting with client after hearing to discuss case
	TOTAL	FEES	122.40 hrs \$ <u>48,574.00</u>

TIMEKEEPER SUMMARY

D. A. Evans	14.70	hrs at	\$	205.00 / h	r	3,013.50
M.J. Gearin	49.90	hrs at	\$	525.00 / h	r	26,197.50
B. T. Peterson	57.80	hrs at	\$	335.00 / h	r	19,363.00
	TOTAL FEES		122.4	0 hrs	\$	48,574.00

MATTER SUMMARY

Fees \$ 48,574.00 MATTER TOTAL \$ 48,574.00

Business Operations (70030)

\$11,951.50

DATE	NAME	HOURS	DESCRIPTION
05/02/16	M.J. Gearin	0.40	Revisions to Kavli Foundation stipulated order
05/03/16	M.J. Gearin	0.30	Email exchanges with B. Leaverton and M. Northrup regarding stipulated order on Kavli Foundation production agreement
05/04/16	M.J. Gearin	0.30	Communications regarding Kavli Foundation production agreement
05/04/16	D.C. Neu	1.60	Research regarding interpleader (.2); review documents related to Steven Fox claim (.4); Call with B. Madeiros regarding credit issues (.4); work on resolution of same (.6)
05/05/16	M.J. Gearin	1.00	Revisions to stipulation for completion of Kavli Foundation order; communications with B. Leaverton regarding same
05/12/16	D.C. Neu	0.60	Analysis of issues related to landlord motion (.7)
05/12/16	D.C. Neu	0.80	Meeting with B. Peterson regarding landlord claims (.4); review and edit draft response (.4)
05/12/16	B. T. Peterson	1.40	Review landlord's emergency motion and supporting pleadings
05/12/16	B. T. Peterson	5.90	Draft Trustee's response to landlord's emergency motion
05/13/16	D. A. Evans	0.60	Finalize response to landlord's motion and corresponding documents including preparing exhibits (.3); file response and related documents with the Court (.3)
05/13/16	D.C. Neu	0.30	Call with M. Heston regarding same (.3)
05/13/16	B. T. Peterson	0.20	Phone call with client regarding declaration
05/13/16	B. T. Peterson	0.40	Edit declaration of M. Calvert in support of response to landlord motion
05/13/16	B. T. Peterson	1.90	Draft and prepare declarations in support of response to landlord motion to compel payment of rent
05/13/16	B. T. Peterson	1.40	Edit and revise response to landlord's motion to compel payment of rent
05/15/16	B. T. Peterson	0.10	Review email regarding landlord motion
05/19/16	M.J. Gearin	3.70	Review and analysis of landlord pleadings and research (2.0); prepare for hearing on Auburn landlord motion for adequate protection (1.7)
05/19/16	B. T. Peterson	2.30	Preparation for hearing on landlord motion
05/19/16	B. T. Peterson	0.60	Meeting related to hearing on landlord's motion to compel
05/20/16	M.J. Gearin	2.50	Prepare for and attend hearing on Auburn landlord motion for adequate protection

Invoice # 3274244 2070561 Page 14 of 37

\$ 11,951.50 \$ 11,951.50

DATE	NAME	HOURS	DESC	CRIPTION		
05/23/16	D. A. Evans	1.00	Draft (1.0)	order on landlord's emergency motion		
05/23/16	M.J. Gearin	0.60	adequ	Draft order on motion of Auburn landlord for adequate protection (0.5); forward to M. Heston (0.1)		
05/24/16	M.J. Gearin	0.50	on Au	Communications regarding revisions to order on Auburn landlords motion for adequate protection		
05/25/16	D. A. Evans	0.20		ad order on landlord's motion for entry court (.2)		
05/25/16	M.J. Gearin	0.60		munications regarding revisions to osed order on Auburn landlord motion		
05/26/16	D. A. Evans	0.10		ew of order submitted but not entered rding landlord's motion (.1)		
05/26/16	D. A. Evans	0.30	Revise order and email to opposing counsel for approval (.3)			
05/27/16	D. A. Evans	0.20	Review of email from attorney for landlord re ok to enter order and re-submit order for entry (.2)			
05/27/16	D.C. Neu	0.20	Call w	with B. Madeiros regarding status (.2)		
		TOTAL FEES		30.00 hrs \$ 11,951.5		
		TIMEKEEP	ER SUN	MMARY		
D. A. Evans	3	2.40	hrs at	\$ 205.00 / hr 492.0		
M.J. Gearir	1	9.90	hrs at	\$ 525.00 / hr 5,197.5		
D.C. Neu		3.50	hrs at	\$ 430.00 / hr 1,505.0		
B. T. Peters	son		hrs at	•		
		TOTAL FEES		30.00 hrs \$\frac{11,951.5}{2}		
		MATTEF	 R SUMM			

Fees

MATTER TOTAL

Case Administration (70040)

\$17,676.00

DATE	NAME	HOURS	DESCRIPTION
05/02/16	D. A. Evans	0.40	File and serve supplemental response to
05/00/40	M 1 0 '	0.70	motion to withdraw as attorney (.4)
05/02/16	M.J. Gearin	0.70	Meetings regarding coordination of case tasks
05/02/16	D.C. Neu	0.90	Meeting to discuss action items and tasks (.9)
05/02/16	B. T. Peterson	1.20	Group meeting regarding coordination of case tasks
05/02/16	B. T. Peterson	0.40	Phone conference with client regarding preparation of schedules
05/03/16	D. A. Evans	1.80	Research re monthly reporting requirements (.3); work on subpoenas with D. Neu and serve on A. Wenokur and American Express (.5); draft declaration of D. Huffman for filing with court (.5); meeting with M. Gearin re multiple items (.2); misc. case administration matters (.3)
05/04/16	D. A. Evans	0.50	Miscellaneous case management (.5)
05/05/16	D. A. Evans	1.30	Preparation for hearing on case management motion with M. Gearin (.4); work on schedules (.4); miscellaneous case administration (.5)
05/05/16	D.C. Neu	0.80	Review tax returns and Medallic discovery (.4); review email from T. McDonald regarding schedules (.1); analysis of same (.2); respond to same (.1)
05/05/16	B. T. Peterson	1.30	Assist in preparation of schedules
05/06/16	D. A. Evans	3.30	Prepare and file proof of service of order scheduling case management conference and requiring trustee to send notice (.3); draft letters and declarations of custodians for 3 different subpoenas and send for service (.7); work on schedules (2.1); miscellaneous case management (.2)
05/06/16	M.J. Gearin	1.00	Meet with Trustee regarding case organization and identification of priority projects
05/06/16	M.J. Gearin	0.30	Revisions to case administration order
05/06/16	D.C. Neu	0.90	Call with F. White regarding issues related to credit card processing (.2); call with T. McDonald regarding same (.2); review edits to agreement regarding card processing (.4)
05/09/16	M.J. Gearin	3.50	Extended calls and revisions to bankruptcy schedules and statements of financial affairs
05/09/16	D.C. Neu	1.50	Call with T. McDonald and P. Wagner regarding Auburn facility (.4); review and analyze landlord motion (.4); email M. Heston

DATE	NAME	HOURS	DESCRIPTION
			regarding issues raised in same (.2); review response email from M. Heston (.2); review public records related to movement of minting operation to Nevada (.2); review epa
			complaint (.1)
05/09/16	D.C. Neu	0.20	Communicate with F. White regarding new chargeback account (.2)
05/09/16	B. T. Peterson	0.80	Draft global notes related to schedules
05/10/16	D. A. Evans	0.60	Miscellaneous case management work (.6)
05/11/16	D. A. Evans	0.60	Call with E. Robinson re PACER issues (.2); miscellaneous case administration matters (.4)
05/11/16	D.C. Neu	0.40	Call with T. McDonald regarding discovery issues (.3)
05/12/16	D. A. Evans	1.00	Meeting with team regarding document production project (.4); miscellaneous case management matters (.6)
05/13/16	D. A. Evans	0.50	Miscellaneous case administration matters (.5)
05/13/16	T. S. Miller	1.00	Review powerpoint summary of case
05/13/16	D.C. Neu	0.70	Review and edit motion regarding lease (.7)
05/16/16	D. A. Evans	4.80	Conference with M. Gearin and review of docket regarding responses to motions scheduled for upcoming Friday hearing (.3); finalize orders to be submitted for entry regarding upcoming motions (.3); draft of declaration of no objections (.4); email from M. Gearin regarding inquiry from WSJ and cover letter to same (.4); work with clients on website issues (1.0); team meeting regarding multiple issues in case (1.0); update special notice list (.3); work on issues regarding bankruptcy form 202 and drafting of same for client signature (.4); miscellaneous case administration matters (.7)
05/16/16	M.J. Gearin	0.90	Team meeting regarding project coordination
05/16/16	D.C. Neu	0.60	Meeting to discuss case status and tasks (.6)
05/16/16	B. T. Peterson	0.90	Case management meeting with bankruptcy group
05/17/16	D. A. Evans	4.20	Conference with D. Neu regarding mediation certification requirement in hearing notice and prepare same for opposing counsel; (.3) draft ex parte motion for relief from deadline for mailing and draft of order re same (.9); file ex parte motion and proposed order with Court (.3); draft of letter to Judge regarding telephone appearance at hearing and file same (.4); work with clients on website

DATE	NAME	HOURS	DESCRIPTION
			updates (1.4); work on additional issues regarding bankruptcy form 202 and phone call with Court regarding same (.2); miscellaneous case administration matters (.7)
05/17/16	M.J. Gearin	0.50	Review of pleadings regarding court's deferral of entry of orders of appointment and bar date notice; prepare for hearings on pending motions
05/17/16	B. T. Peterson	0.80	Draft ex parte motion for relief from order
05/17/16	B. T. Peterson	0.30	Draft letter to judge regarding telephonic appearance
05/18/16	B. T. Peterson	0.10	Email to client regarding telephonic attendance at court hearing
05/19/16	D. A. Evans	2.00	Field phone calls and emails from creditors (.5); conference with D. Neu regarding status conference in EPA matter in Nevada and calendar appropriate deadlines regarding same (.2); research regarding claims or payments to a specific creditor for M. Gearin (.3); work with corporate department to change registered agent (.3); miscellaneous case management matters (.7)
05/19/16	M.J. Gearin	0.50	Call with Trustee regarding coordination of multiple case issues
05/20/16	M.J. Gearin	0.60	Call with Trustee regarding case issues
05/23/16	D. A. Evans	3.90	Field calls and emails from creditors (1.4); meeting with M. Gearin regarding results of hearing and follow up documents to draft (.2); update special notice list per court order (.3); call with E. Robinson regarding website (.2); team meeting regarding case (.7); miscellaneous case administration work (1.1)
05/23/16	M.J. Gearin	0.50	Internal group meeting regarding coordination of tasks
05/23/16	B. T. Peterson	0.60	Bankruptcy group meeting regarding case
05/23/16	K. I. Stockert	1.00	Identified and pulled bankruptcy opinions for D. Evans (Seattle)
05/24/16	D. A. Evans	1.30	Draft of supplemental declaration in support of motion to employ Cascade (.6); miscellaneous case administration matters (.7)
05/24/16	M.J. Gearin	1.10	Meet with Trustee regarding preparations for filing of status report
05/25/16	D. A. Evans	0.50	Miscellaneous case administration work (.5)
05/26/16	D. A. Evans	0.30	Creditor maintenance issues (.3)
05/27/16	D. A. Evans	0.60	Telephone call with court regarding objection to be filed (.1) telephone call with Court regarding upcoming hearings (.2); file objection to Medallic's 2004 motion to compel

Invoice # 3274244 2070561 Page 18 of 37

DATE	NAME	HOURS	DESC	RIPT	ION		
-			(.3)				
05/27/16	M.J. Gearin	0.50	Meet	with T	rustee regarding	multip	ole case
			issues	3			
05/31/16	D. A. Evans	1.40			equests for speci		
					nd update master		-
					field phone calls a 7); miscellaneous		nalls from
					ion matters (.4)	casc	
05/31/16	M.J. Gearin	1.00			rustee re prepara	tions f	or status
					and case admini		
05/31/16	M.J. Gearin	0.90			ations and planni	ng for	draft of
			status	•			
05/31/16	D.C. Neu	0.40			Stehlik regarding	_	
			(.1)	nents	(.3); draft email r	egaru	ing same
		TOTAL FEES	(,	55.8	80 hrs	\$	17,676.00
						. =	·
		TIMELEED	ED CLI	484 A E	av.		
		TIMEKEEP	ER SUN	/IWIAF	<u> </u>		
D. A. Evans	5	29.00	hrs at	\$	205.00 / hr		5,945.00
M.J. Gearin	1	12.00	hrs at	\$	525.00 / hr		6,300.00
T. S. Miller		1.00	hrs at	\$	270.00 / hr		270.00
D.C. Neu		6.40	hrs at	\$	430.00 / hr		2,752.00
B. T. Peters	-	6.40	hrs at	\$	335.00 / hr		2,144.00
K. I. Stocke	ert	1.00	hrs at	\$	265.00 / hr		265.00
		TOTAL FEES		55.8	80 hrs	\$ _	17,676.00

MATTER SUMMARY

Fees \$ $\frac{17,676.00}{17,676.00}$ **MATTER TOTAL** \$ $\frac{17,676.00}{17,676.00}$

Claims, Administration and Objections (70050)

\$5,072.00

DATE	NAME	HOURS	DESCRIPTION
05/02/16	D. A. Evans	0.20	Phone call with E. Robinson regarding customer's claims (.1); meeting with M. Gearin and D. Neu regarding same and respond to E. Robinson (.1)
05/02/16	D. A. Evans	3.00	Prepare for phone call with clients regarding drafting and preparing of schedules (.2); phone call with T. McDonald and C. Green (.4); handle miscellaneous case management issues (.5); email to R. Weichart (.1); meeting with team for status of work (1.0); review of order scheduling case management conference, calendar same and send to M. Calvert (.4); review docket and call creditor back re question (.2); review of claims register regarding secured and priority claims (.2)
05/02/16	T. S. Miller	3.20	Review article discussing discharge of environmental claims in bankruptcy (.8); review leading Ninth Circuit and Supreme Court cases to determine when a "claim" arises for the purpose of a discharge in bankruptcy, and what kinds of legal rights are considered "claims" (2.4)
05/03/16	D. A. Evans	2.50	Continue to review and catalog claims
05/03/16	T. S. Miller	3.40	Discuss "free and clear" sales with M. Gearin (.5); research cases that related to sales "free and clear" of environmental claims (2.9)
05/04/16	D. A. Evans	0.50	Telephone conversation with bankruptcy court regarding sorting claims by secured and priority (.2); telephone call from E. Robinson regarding claims for people who have no computer access (.1); telephone call with court regarding same and follow up to E. Robinson (.2)
05/12/16	D. A. Evans	0.40	Work with E. Robinson regarding various issues with creditors' claims
05/13/16	D. A. Evans	0.80	Work with E. Robinson regarding creditors' questions on their claims
05/16/16	D. A. Evans	0.70	Revise claims notice to be attached to order granting claims bar date (.7)
05/16/16	M.J. Gearin	0.40	Revisions to bar date notice(0.4) (move to 70050)
05/16/16	T. S. Miller	1.10	Review notes and treatises related to successor liability in environmental claims (1.1)

Invoice # 3274244 2070561 Page 20 of 37

DATE	NAME	HOURS	DESC	RIPT	ION			
05/16/16	D.C. Neu	0.40	Call w	ith B.	Madeiros	regard	ing clai	m (.4)
05/17/16	D. A. Evans	0.60	Contir	Continue to work with clients regarding				ing
			creditors claims issues					
05/18/16	M.J. Gearin	0.30			ations rega			tomers
					ory contrac			
05/19/16	D. A. Evans	0.30			lient regar	_		•
05/23/16	D. A. Evans	0.20	_		IWTM on o			
05/26/16	D. A. Evans	0.70	Creditor claim maintenance, review of claims and catalog same			of claims		
05/26/16	M.J. Gearin	0.30	Call and email from B. Kriegman regarding N. Hauptman claims			garding N.		
05/27/16	D. A. Evans	1.30	Work	with E	. Robinso	n to loc	ok up va	arious
						d catalo	og proo	fs of claim
			in the		` '			
		TOTAL FEES		20.3	30 hrs		\$	5,072.00
		TIME // EES						
		TIMEKEEP	ER SUI	<u>/IMAR</u>	<u> </u>			
D. A. Evans	5	11.20	hrs at	\$	205.00	/ hr		2,296.00
M.J. Gearin	1	1.00	hrs at	\$	525.00	/ hr		525.00
T. S. Miller		7.70	hrs at	\$	270.00	/ hr		2,079.00
D.C. Neu		0.40	hrs at	\$	430.00	/ hr		172.00
		TOTAL FEES		20.3	30 hrs		\$	5,072.00
		MATTER	SUMM	<u>ARY</u>				
Fees							\$	5,072.00
MATTER TOTAL							\$	5,072.00

Invoice # 3274244 2070561 Page 21 of 37

Employee Benefits/Pensions (70060)

\$945.00

DATE	NAME	HOURS	DESCRIPTION			
05/24/16	T. S. Miller	3.20	Research treatment of health and other benefits during bankruptcy (3.2)			
05/25/16	T. S. Miller	0.30				
		TOTAL FEES	3.50 hrs	\$ 945.00		
	TIMEKEEPER SUMMARY					
T. S. Miller		3.50 TOTAL FEES	hrs at \$ 270.00 / hr 3.50 hrs	945.00 \$ 945.00		
MATTER SUMMARY						
Fees MATTER T	OTAL			\$ 945.00 \$ 945.00		

Invoice # 3274244 2070561 Page 22 of 37

Fee/Employment Applications (70070)

\$3,369.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/04/16	M.J. Gearin	2.60	Draft revisions to reply to Erdmann response; call with D. Huffman and M. Calvert; prepare for hearing on Tracy withdrawal motion
05/06/16	M.J. Gearin	2.50	Prepare for and attend hearing on Tracy motion to withdraw
05/16/16	M.J. Gearin	0.30	Review of Knudsen and employment orders (0.3)
05/20/16	M.J. Gearin	0.90	Prepare for and attend hearing on Cascade employment application, bar date motion and Knudsen motion
05/23/16	D. A. Evans	0.30	Meeting with M. Gearin and research for cases re 327(d) (.3)
		TOTAL FEES	6.60 hrs \$ <u>3,369.00</u>

TIMEKEEPER SUMMARY

	TOTAL FEES		6.6	0 hrs	\$	3,369.00
M.J. Gearin	6.30	hrs at	\$	525.00 /	hr	3,307.50
D. A. Evans	0.30	hrs at	\$	205.00 /	hr	61.50

MATTER SUMMARY

rees	\$3,369.00
MATTER TOTAL	\$ <u>3,369.00</u>

Invoice # 3274244 2070561 Page 23 of 37

Fee/Employment Objections (70080)

\$533.00

DATE	NAME	HOURS	DESCRIPTION			
05/03/16	D. A. Evans	0.30	Research re reply date for motion to withdraw as attorney including multiple conversations with court staff (.3)			
05/04/16	D. A. Evans	2.10	Email to and from client regarding monthly reporting requirements (.1); work on mailing list per court order for order setting case management conference including search of all claims filed as secured and as priority (1.5); telephone call with Judge's law clerk regarding reply deadline on motion to withdraw as attorney and email to M. Gearin regarding same (.2); finalize reply to D. Erdmann's response to motion to withdraw as attorney and declaration in support of same and file with USBC (.3)			
05/05/16	D. A. Evans	0.20	Email notice of subpoenas Erdmann (.2)	to attorney for D.		
		TOTAL FEES	2.60 hrs	\$533.00		
		TIMEKEEP	ER SUMMARY			
D. A. Evans	3	2.60 TOTAL FEES	hrs at \$ 205.00 / hr 2.60 hrs	\$ 533.00 \$ 533.00		
MATTER SUMMARY						
Fees MATTER T	Fees \$ 533.00 MATTER TOTAL \$ 533.00					

Invoice # 3274244 2070561 Page 24 of 37

Litigation (70100)

\$5,637.50

DATE	NAME	HOURS	DESCRIPTION
05/02/16	M.J. Gearin	1.00	Communications relating to Tracy withdrawal motion (0.3); review response of committee (0.3); revisions to supplemental response of trustee (0.4)
05/03/16	M.J. Gearin	2.20	Meet re draft of reply on Tracy motion to withdraw (0.8); analysis of issues re disposition of assets (0.7); call with D. Huffman (0.3); call with D. Bugbee (0.4)
05/05/16	M.J. Gearin	1.50	Prepare for hearing on Tracy motion to withdraw
05/09/16	D.C. Neu	0.50	Review subpoena response documents from A. Wenokur (.3); communicate with M. Gearin regarding same (.2)
05/11/16	B. T. Peterson	0.10	Call with creditor in bankruptcy case regarding claim and asset sale
05/12/16	B. T. Peterson	0.60	Meeting with D. Neu regarding discovery issues
05/18/16	M.J. Gearin	1.00	Review of R. Hansen deposition transcript
05/18/16	M.J. Gearin	0.80	Communications regarding R. Hansen visit to mint; preparations for motion for restraining order
05/23/16	M.J. Gearin	1.10	Review of Medallic 2004 motion and communications regarding responses thereto
05/27/16	D. A. Evans	0.60	Revise and finalize 2004 motions and orders for M. Parish and Olympic Trading Corporation (.3); file ex parte motions and submit unsigned order for entry with the Court (.3)
05/27/16	D.C. Neu	1.00	Draft objection to 2004 examination (1)
05/27/16	D.C. Neu	1.50	Draft objection to 2004 examination (1); draft motion for 2004 examination of Olympic Trading (.5)
	TOTAL	FEES	11.90 hrs \$ <u>5,637.50</u>

Invoice # 3274244 2070561 Page 25 of 37

TIMEKEEPER SUMMARY

D. A. Evans	0.60	hrs at	\$	205.00 / hr	123.00
M.J. Gearin	7.60	hrs at	\$	525.00 / hr	3,990.00
D.C. Neu	3.00	hrs at	\$	430.00 / hr	1,290.00
B. T. Peterson	0.70	hrs at	\$	335.00 / hr	234.50
	TOTAL FEES		11.	90 hrs	\$ 5,637.50

MATTER SUMMARY

Fees \$ 5,637.50 MATTER TOTAL \$ 5,637.50

Trustee v Diane Erdmann (70102)

\$29,463.00

DATE	NAME	HOURS	DESCRIPTION
05/06/16	D.C. Neu	2.70	Meeting with M. Gearin to discuss issues related to litigation against D. Erdmann (1); call with D. Bugbee regarding discovery (.5); call with Seattle Coin regarding factual issues related to retainer (.8); analysis of discovery targets (.3)
05/09/16	D. A. Evans	4.40	Work on preparation of schedules with client (2.4); finalize motion to shorten time and proposed order for filing with court (.3); file motion to shorten time (.2); prepare proof of service including looking up additional secured creditors through claims register (.5); file proof of service with court (.1); review of case management order entered by court and conference with M. Gearin and G. Walton of USBC regarding same (.3); miscellaneous case management (.6)
05/09/16	D.C. Neu	2.00	Prepare for and attend call with D. Bugbee regarding discovery issues (.6); Call with T. McDonald regarding discovery (.1); legal analysis of burden of proof and ownership issues (1.2)
05/10/16	D.C. Neu	2.00	Call with client to discuss litigation and discovery of Erdmann matters (1.5); communicate with J. Drummey regarding meeting (.2); planning regarding discovery (.3)
05/11/16	M.J. Gearin	0.70	Call with D. Bugbee and D. Neu regarding discovery and case issues in Erdmann matter
05/11/16	D.C. Neu	4.10	Prepare for and attend meeting with J. Drummey (2); Meeting with M. Gearin to discuss results of same (.3); call with D. Bugbee regarding litigation (.4); call with R. Mitchell regarding examination (.2); write up notes from witness interview (.3); Review documents for production (.3); analysis of evidentiary issues related to same (.5)
05/11/16	B. T. Peterson	0.10	Discuss document production with D. Neu related to Erdmann dispute
05/12/16	D.C. Neu	5.00	Review and edit motion for protective order (.3); communications with client regarding document production (1); work on resolution of issues related to surveillance video production (1); call with M. Calvert regarding issues related to same (.3); draft custodian

DATE	NAME	HOURS	DESCRIPTION
			declarations (1); review emails and documents for production (1.4)
05/13/16	D. A. Evans	2.70	Document production to D. Bugbee re Court's notice of evidentiary hearing (2.7)
05/13/16	D.C. Neu	2.90	Review documents for production (.5); coordinate same (1.5); call with T. McDonald regarding discovery issues (.2); call with D. Bugbee regarding same (.3); edit protective order (.4)
05/16/16	M.J. Gearin	1.50	Meet regarding trial preparation and strategy for Erdmann matters including document review
05/16/16	D.C. Neu	3.20	Review discovery (2.1); call with D. Bugbee regarding depositions (.5); coordinate same (.6)
05/16/16	D.C. Neu	0.90	Review document production (.9)
05/16/16	B. T. Peterson	0.30	Discuss attorney client privilege issues with D. Neu
05/17/16	D. A. Evans	0.50	Review of notice of evidentiary hearing and calendar all dates and deadlines regarding same (.5)
05/17/16	D.C. Neu	1.00	Communicate with client regarding protective order (.1); communicate with D. Bugbee regarding same (.2); analysis of credit card and bank statements (.6)
05/18/16	M.J. Gearin	1.10	Meetings and communications regarding preparations for Erdmann deposition and trial
05/18/16	D.C. Neu	5.20	Review surveillance footage and analysis of same (3.6); review American Express charges (.3); call with T. McDonald regarding same (.2); coordinate depositions (1)
05/19/16	D. A. Evans	0.10	Email exchange with D. Bugbee regarding mediation certification (.1)
05/19/16	D. A. Evans	0.50	Preparation of trial subpoenas for J. Drummey and D. Hoffman (.5)
05/19/16	D.C. Neu	4.70	Prepare Erdman deposition outline (2.6); review documents related to same (2)
05/20/16	D.C. Neu	5.70	Discovery call with T. McDonald and P. Wagner (.6); Review and respond to emails from D. Bugbee (.3); communicate with client regarding same (.2); deposition preparation (4.5)
05/23/16	D. A. Evans	0.30	Provide additional discovery D. Bugbee (.3)
05/23/16	M.J. Gearin	0.50	Meet with D. Neu regarding Erdmann trial preparations
05/23/16	D.C. Neu	1.40	Work on additional discovery responses
05/24/16	D. A. Evans	0.20	Meeting and phone call with D. Neu and D. Bugbee (.2)

Invoice # 3274244 2070561 Page 28 of 37

DATE	NAME	HOURS	DESC	RIPTI	ON		
05/24/16	D. A. Evans	0.30	Send	additio	onal discovery to	D. Bu	gbee (.3)
05/24/16	D. A. Evans	0.10	Send subpoena for service on J. Drummey (.1)			rummey	
05/24/16	D. A. Evans	0.20		ediatio	on certification w	vith US	BC (.2)
05/24/16	D.C. Neu	0.70	Phone	inter	view with D. Huf	fman	
05/24/16	D.C. Neu	2.40	(1); ca	Review T. Tracey emails for privilege issues (1); call with D. Bugbee regarding discovery (.5); draft emails related to same (.4)			
05/25/16	D.C. Neu	1.90	Review and analyze additional documents for production (1.2); communicate with D. Huffman regarding deposition schedule (.2); communicate with D. Bugbee regarding discovery issues (.2); email to client regarding witnesses (.2); review response to same (.1)				n D. edule (.2); rding nt regarding
05/26/16	D. A. Evans	0.70	discov	Review of emails from T. Tracy regarding discovery to D. Bugbee and prepare for production (.7)			, .
05/26/16	D.C. Neu	6.90	Communicate with D. Huffman regarding deposition preparation (.4); prepare for and attend deposition (6.6)				
05/27/16	D.C. Neu	4.30	Call with T. Tracy regarding privilege issues (.2); draft email related to same (.1); draft email to D. Bugbee regarding witnesses (.3); meeting with T. Tracey to review documents (.8); deposition of T. Tracey (2.8);); draft esses (.3);	
05/31/16	D.C. Neu	0.30	Communicate with client regarding depositions (.3)				
05/31/16	D.C. Neu	0.20	Emails with D. Bugbee regarding security videos (.2)				ecurity
05/31/16	D.C. Neu	0.30	Communicate with client regarding same (.3)			same (.3)	
05/31/16	D.C. Neu	1.00	Review additional documents for production (1)			roduction	
		TOTAL FEES	, ,	73.0	00 hrs	\$_	29,463.00
		TIMEKEEP	ER SUM	<u>IMAR</u>	<u>Y</u>		
D. A. Evans	;	10.00	hrs at	\$	205.00 / hr		2,050.00
M.J. Gearin		3.80	hrs at	\$	525.00 / hr		1,995.00
D.C. Neu		58.80	hrs at	\$	430.00 / hr		25,284.00
B. T. Peterson		0.40	hrs at	\$	335.00 / hr		134.00
		TOTAL FEES		73.0	00 hrs	\$_	29,463.00

Invoice # 3274244 2070561 Page 29 of 37

MATTER SUMMARY

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$473.00

DATE	NAME	HOURS	DESCRIPTION	
05/31/16	D.C. Neu	1.00	Call from J. Stehlik regarding documents (.3); draft email r (.1); communicate with client depositions (.3) (move to 70 Lee regarding EEOC litigation 70104); emails with D. Bugb security videos (.2) (move to communicate with client regarding to 70102); call to B. SEEOC litigation (.1) (move to additional documents for proto 70102)	regarding same t regarding 102); Call with D. on (1) (move to see regarding o 70102); arding same (.3) Stone regarding o 70104; review oduction (1) (move
05/31/16	D.C. Neu	0.10 TOTAL FEES	Call to B. Stone regarding E 1.10 hrs	EOC litigation (.1) \$ 473.00
		TIMEKEEP	ER SUMMARY	·
D.C. Neu		1.10	hrs at \$ 430.00 / hr	473.00
		TOTAL FEES	1.10 hrs	\$ <u>473.00</u>
		WATTER	COMINIAN I	
Fees MATTER TOTAL				\$ 473.00 \$ 473.00
WATTER TOTAL				Ψ <u>413.00</u>

Meetings and Communications with Creditors (70110)

\$14,017.50

DATE	NAME	HOURS	DESCRIPTION
05/02/16	M.J. Gearin	1.90	Calls with Trustee and Cascade regarding privileged materials for creditors committee presentation
05/03/16	M.J. Gearin	4.10	Prepare for and attend creditors committee meeting
05/03/16	D.C. Neu	0.40	Call with M. Rice regarding creditor claim (.4)
05/09/16	M.J. Gearin	1.80	Calls with Trustee, review of materials and preparations for § 341 meeting of creditors
05/09/16	M.J. Gearin	0.60	Calls with multiple creditors regarding asset sale
05/10/16	D. A. Evans	5.60	Finalize schedules for filing including multiple phone calls with client and meetings with M. Gearin (3.0); file balance of schedules with USBC (.8); significantly large number of phone calls from creditors regarding notice of sale of Texas property (1.3); prepare binders for M. Gearin for 341 meeting (.5)
05/10/16	M.J. Gearin	2.80	Revisions to Trustee's powerpoint notes in preparation for § 341 meeting and calls with Trustee regarding meeting preparations
05/10/16	M.J. Gearin	2.10	Draft revisions to common interest agreement with B. Cohen (0.5); meet with R. Mitchell and B. Cohen (1.6)
05/10/16	D.C. Neu	0.80	Call with R. Hyatt regarding 341 meeting (.2); review communication from B. Madeiros regarding 341 meeting (.1); call with B. Medeiros regarding same (.3)
05/10/16	D.C. Neu	0.80	Creditor calls (.8)
05/11/16	D. A. Evans	1.40	Field multiple emails and phone calls from creditors regarding the case (1.4)
05/11/16	M.J. Gearin	3.50	Attend section 341 meeting of creditors
05/11/16	M.J. Gearin	1.50	Follow up meetings with Trustee and staff after section 341 meeting of creditors
05/11/16	M.J. Gearin	0.90	Calls with Trustee and other preparations for section 341 meeting of creditors
05/11/16	D.C. Neu	0.80	Calls with creditors seeking information (.7)
05/12/16	D. A. Evans	1.60	Field calls and emails from creditors throughout the day (1.4); letter to creditor (.2)
05/13/16	B. T. Peterson	0.20	Review 341 hearing recording
05/16/16	D. A. Evans	0.80	Field phone calls and emails from creditors (.8)
05/17/16	D. A. Evans	0.70	Field phone calls and emails from creditors (.7)

Invoice # 3274244 2070561 Page 32 of 37

DATE	NAME	HOURS	DESC	RIPTIC	ON		
05/17/16	M.J. Gearin	0.50	Communications with counsel for B. Cohen including conclusion of joint defense				
			•	agreement			
05/23/16	B. T. Peterso	n 0.20	Call to case	Call to claimant regarding questions about case			s about
05/24/16	D. A. Evans	0.50	Field	calls ar	nd emails from o	reditor	s (.5)
05/25/16	D. A. Evans	0.40	Field (.4)	Field phone calls and emails from creditors (.4)			creditors
05/26/16	D. A. Evans	0.40	Field (.4)	phone (calls and emails	from o	creditors
		TOTAL FEES	,	34.30) hrs	\$_	14,017.50
	TIMEKEEPER SUMMARY						
D. A. Evans	S	11.40	hrs at	\$	205.00 / hr		2,337.00
M.J. Gearin		19.70	hrs at	\$	525.00 / hr		10,342.50
D.C. Neu		2.80	hrs at	\$	430.00 / hr		1,204.00
B. T. Peters	son	0.40	hrs at	\$	335.00 / hr		134.00
		TOTAL FEES		34.30	O hrs	\$	14,017.50
		MATTER	RSUMM	ARY			
Fees MATTER T	OTAL					\$_ \$_	14,017.50 14,017.50

Invoice # 3274244 2070561 Page 33 of 37

Tax (70140) \$1,531.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/17/16	M.J. Gearin	1.00	Analysis of secured tax claims in connection with Tomball Texas sale
05/17/16	B. T. Peterson	0.40	Draft email related to claims of taxing authorities
05/18/16	B. T. Peterson	0.70	Analysis of tax claim liability with respect to sale of Texas assets
05/18/16	B. T. Peterson	0.10	Email regarding tax issues related to sale of Texas assets
05/18/16	B. T. Peterson	0.60	Draft emails to attorneys for Texas taxing authorities regarding their claims
05/24/16	B. T. Peterson	0.20	Phone call with counsel for Harris County, Texas
05/25/16	M.J. Gearin	0.30	Call with C. Ohlenforst regarding tax issues relating to Tomball sale
05/27/16	L. L. McClellan	0.30	Conference with C. Ohlenforst regarding tax lien; review and respond to e-mail correspondence regarding same
	TOTAL	FEES	3.60 hrs \$ <u>1,531.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.30	hrs at	\$	525.00 / hr	682.50
L. L. McClellan	0.30	hrs at	\$	595.00 / hr	178.50
B. T. Peterson	2.00	hrs at	\$	335.00 / hr	670.00
	TOTAL FEES		3.6	0 hrs	\$ 1,531.00

MATTER SUMMARY

Fees	\$ <u>1,531.00</u>
MATTER TOTAL	\$ <u>1,531.00</u>

Assumption and Rejection of Leases and Contracts (70150)

\$1,900.50

DATE	NAME	HOURS	DESCRIPTION					
05/03/16	M.J. Gearin	0.70	Communications with A. Smith regarding Dayton lease; email exchange with J. Stehlik regarding same					
05/10/16	M.J. Gearin	0.70	Call with T. Tucker and L. Cook regarding executory contract issues (0.3); email communications regarding notice of assumption (0.4)					
05/10/16	B. T. Peterson	1.20	Draft notice related to assumption of executory contracts					
05/11/16	D. A. Evans	0.40	Field multiple emails and phone calls from creditors regarding the case (1.4) (move to 2070561 70110); serve assumed contracts notice on required parties (.4) (move to 70150); call with E. Robinson re PACER issues (.2); miscellaneous case administration matters (.4)					
05/11/16	B. T. Peterson	0.40	Edit notice regarding assumed contracts					
05/12/16	D. A. Evans	0.40	File notice of assumed contracts, prepare and file proof of service re same (.4)					
05/13/16	D. A. Evans	0.50	Draft, file and serve an amended notice of assumed contracts re Tomball, TX sale (.5)					
05/16/16	M.J. Gearin	0.50	Communications regarding lease assumption and rejection matters relating to Tomball sale					
05/16/16	B. T. Peterson	0.20	Draft email to client regarding executory contracts to be rejected					
05/22/16	B. T. Peterson	0.10	Draft email to client regarding rejection of executory contracts					
	TOTA	L FEES	5.10 hrs \$ <u>1,900.</u>	<u>50</u>				
	TIMEKEEPER SUMMARY							
D. A. Evans	3	1.30	hrs at \$ 205.00 / hr 266.5	50				
M.J. Gearin			hrs at \$ 525.00 / hr 997.5					
B. T. Peters		1.90	hrs at \$ 335.00 / hr 636.5					
	TOTA	L FEES	5.10 hrs \$	<u>50</u>				

Invoice # 3274244 2070561 Page 35 of 37

MATTER SUMMARY

Fees \$ 1,900.50 MATTER TOTAL \$ 1,900.50

Invoice # 3274244 2070561 Page 36 of 37

Corporate Governance and Board Matters (70180)

\$180.00

DATE	NAME	HOURS	DESCRIPTION			
05/19/16 K. N. Tibbert		0.70	Initial fee for PTSGE Corp. registered age services on behalf of Northwest Territorial Mint, LLC for the first year of service.			
		TOTAL FEES 0.70 hrs		\$180.00		
		TIMEKEEP	ER SUMMARY			
K. N. Tibbert			hrs at \$ 257.14 / hr	180.00		
		TOTAL FEES	0.70 hrs	\$180.00_		
MATTER SUMMARY						
Fees				\$ 180.00		
MATTER TO	OTAL			\$ <u>180.00</u>		

Invoice # 3274244 2070561 Page 37 of 37

Costs (99999) \$10,646.96

DISBURSEMENTS & OTHER CHARGES

DESCRIPTION		AMOUNT
Air Fare		9.95
CD ROM Expenses		675.00
Color Copying/Printing		51.00
Copying Expense		734.20
Filing Fees		176.00
Lexis Research		377.76
Local Courier		14.00
Long Distance Courier		21.31
Misc. Expenses		5,171.39
Other		96.80
Postage		135.92
Supplies		20.48
Westlaw Research		3,163.15
	DISBURSEMENTS & OTHER CHARGES	\$ 10,646.96

MATTER SUMMARY

Disbursements and Other Charges	\$_	10,646.96
MATTER TOTAL	\$_	10,646.96

K:\2070561\00001\20892_MJG\20892\$25FO

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : August 8, 2016

Invoice Number : 3282183

Services Through : June 30, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Anal	lysis and	Recovery	(70010)
------------	-----------	----------	---------

Fees \$ 3,398.50 **Total Amount Due This Matter** \$ 3,398.50

Asset Disposition (70020)

Fees \$ 13,681.50

Total Amount Due This Matter \$ 13,681.50

Business Operations (70030)

Fees \$____525.00

Total Amount Due This Matter \$ 525.00

Case Administration (70040)

Fees \$ 21,196.00

Total Amount Due This Matter \$ 21,196.00

Claims, Administration and Objections (70050)

Fees \$ 9,516.50

Total Amount Due This Matter \$ 9,516.50

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

		IIIVOI	2070561 Page 2 of 42
Employee Benefits/Pensions (70060)			
Fees Total Amount Due This Matter	\$ 426.00	\$	426.00
Fee/Employment Applications (70070)			
Fees Total Amount Due This Matter	\$ <u>1,544.50</u>	\$	1,544.50
Litigation (70100)			
Fees Total Amount Due This Matter	\$ 7,701.50	\$	7,701.50
Trustee v Medallic Art Co LLC/ Ross Hansen	(70101)		
Fees Total Amount Due This Matter	\$ <u>13,218.50</u>	\$	13,218.50
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$ 56,825.50	\$	56,825.50
Cohen v Hansen, NW Territorial Mint et al, K (70103)	ing County Case		
Fees Total Amount Due This Matter	\$1,810.50	\$	1,810.50

\$ 3,942.00

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

Total Amount Due This Matter

Invoice # 3282183

3,942.00

\$

Invoice # 3282183 2070561 Page 3 of 42

State of NV v Hansen, NWTM et al, Nevada State Court	Case
(70105)	

(70105)		
Fees Total Amount Due This Matter	\$ 86.00	\$ 86.00
Meetings and Communications with Creditors	s (70110)	
Fees Total Amount Due This Matter	\$ 6,221.00	\$ 6,221.00
Relief From Stay and Adequate Protection (70	0130)	
Fees Total Amount Due This Matter	\$ 33,136.50	\$ 33,136.50
Tax (70140)		
Fees Total Amount Due This Matter	\$ 502.50	\$ 502.50
Assumption and Rejection of Leases and Cor	ntracts (70150)	
Fees Total Amount Due This Matter	\$2,432.00	\$ 2,432.00
Real Estate (70200)		
Fees Total Amount Due This Matter	\$ <u>1,963.50</u>	\$ 1,963.50
Reporting (70210)		
Fees Total Amount Due This Matter	\$ 102.50	\$ 102.50

Invoice # 3282183 2070561 Page 4 of 42

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 13,064.15

\$ 13,064.15

CURRENT INVOICE DUE - All Matters

\$ <u>191,294.15</u>

Invoice # 3282183 2070561 Page 5 of 42

Asset Analysis and Recovery (70010)

\$3,398.50

FEES

DATE	NAME	HOURS	DESCRIPTION					
06/08/16	M.J. Gearin	0.40	Calls with J. Wyatt and R. Taylor regarding retainer issues					
06/09/16	M.J. Gearin	1.50	Calls with J. Stehlik and J. Hamell regarding seized property and state court pending motions (.7); communications regarding response to Erdmann stay interpretation motion (.8)					
06/24/16	D. A. Evans	0.50	Work with client to get copies of all non- residential leases					
06/24/16	T. S. Miller	2.20	Receive assignment for when title passes to a customer (.2); review statutes and case law to find UCC defaults and exceptions (1.1); review purchase orders and terms and conditions to verify that default was not changed (.5); draft and revise language for the motion that would allow the return of the metal that had been delivered to the wrong address (.4)					
06/24/16	B. T. Peterson	0.70	Coordinate recovery of property held by Sheriff's office					
06/30/16	M.J. Gearin	1.30	Prepare for and meet with R. Bressler, T. Lerner and Trustee					
06/30/16	M.J. Gearin	1.50	Review and analysis of Medallic LLC Operating Agreement and issues relating to acquisition of membership interest					
	TOTA	L FEES	8.10 hrs \$ <u>3,398.5</u>	<u>50</u>				
		TIMEKEEPI	ER SUMMARY					
D. A. Evans M.J. Gearin T. S. Miller		4.70	hrs at \$ 205.00 / hr 102.5 hrs at \$ 525.00 / hr 2,467.5 hrs at \$ 270.00 / hr 594.0	50				

0.70 hrs at \$

TOTAL FEES

335.00 / hr

8.10 hrs

234.50

3,398.50

B - 78

B. T. Peterson

Invoice # 3282183 2070561 Page 6 of 42

MATTER SUMMARY

Fees \$ 3,398.50 MATTER TOTAL \$ 3,398.50

Invoice # 3282183 2070561 Page 7 of 42

Asset Disposition (70020)

\$13,681.50

DATE	NAME	HOURS	DESCRIPTION
06/01/16	D. A. Evans	1.60	Create final redline document on Tomball sale to submit to parties and court (.5); emails to and from parties for review and approval (.3); file supplemental filing with court of redlined proposed order (.2); finalize APA and exhibits to be attached to proposed order (.4); upload order for entry with the Court (.2)
06/01/16	M.J. Gearin	1.20	Revisions to form of order approving sale of Tomball assets and communications with counsel regarding same
06/01/16	M.J. Gearin	1.10	Finalize Tomball APA and coordinate signatures (.5); communications regarding closing issues (.6)
06/01/16	B. T. Peterson	0.20	Review and revise notice of continued hearing on breakup fee
06/01/16	B. T. Peterson	0.20	Draft proposed order granting Graco sale motion
06/02/16	D. A. Evans	1.10	Finalize notice of continued hearing, file with Court and send for service (.4); review of conformed order approving sale and forward to parties (.2); draft of proof of service of notice of continued hearing on break-up fee (.4); email APA to counsel in Texas (.1)
06/02/16	M.J. Gearin	2.30	Calls and email communications with Ira Green group regarding sale closing and document retention issues (1.1); attention to sale closing matters (1.2)
06/02/16	S. Megally	1.20	Analysis relating to purchase price allocation and possible sales tax exemptions; correspondence relating to same
06/02/16	B. T. Peterson	1.50	Conference calls related to closing of Graco sale and document preservation
06/02/16	B. T. Peterson	0.50	Review and edit sale documents
06/03/16	D. A. Evans	1.40	Work with M. Gearin and client regarding final signatures regarding bill of sale, etc. (.4); telephone calls with landlord in Virginia (.3); emails regarding refund of earnest money to Tucker/Cook (.4); finalize notice of continued hearing on break-up fee and file and serve same (.3)
06/03/16	S. Megally	0.80	Correspondence and work on tax exemption certificates
06/03/16	B. T. Peterson	0.10	Discuss closing of sale with D. Evans

DATE	NAME	HOURS	DESCRIPTION
06/07/16	M.J. Gearin	0.50	Communications regarding return of stored goods and dies
06/07/16	B. T. Peterson	0.10	Discuss break up fee with M. Gearin
06/09/16	M.J. Gearin	0.90	Attention to motion to return stored inventory
06/09/16	B. T. Peterson	0.30	Discuss break-up fee issue with M. Gearin
06/10/16	D. A. Evans	0.40	Conference with B. Peterson regarding continuation of hearing on break-up fee (.2); file notice to continue hearing with USBC (.2)
06/10/16	B. T. Peterson	0.40	Phone call with counsel for stalking horse bidder regarding break-up fee (.3); draft email to client regarding the same (.1)
06/17/16	M.J. Gearin	0.70	Communications regarding draft of stored inventory return motion
06/20/16	D. A. Evans	0.80	Drafting of motion to return stored inventory (.8)
06/20/16	B. T. Peterson	0.20	Phone call with M. Calvert regarding break-up fee
06/22/16	B. T. Peterson	0.70	Draft motion to return product owned by customers
06/23/16	B. T. Peterson	0.80	Draft motion to extend deadline to assume or reject leases
06/23/16	B. T. Peterson	2.00	Draft motion to reject IRA customer orders
06/23/16	B. T. Peterson	0.80	Revise pleading related to return of product to storage customers
06/24/16	M.J. Gearin	0.60	Revisions to pleadings on storage customer return motion
06/24/16	B. T. Peterson	2.80	Draft pleadings in support of motion to reject IRA purchase orders (1.6); motion to return stored inventory (1.2)
06/26/16	B. T. Peterson	0.40	Review declarations in support of storage customer motion
06/27/16	M.J. Gearin	1.50	Call with J. Knight, counsel for IRA customers regarding rejection motion (0.3); revisions to motion for rejection of IRA purchase orders (1.2)
06/27/16	B. T. Peterson	3.10	Motion to reject IRA purchase orders; and motion to return storage customer product
06/28/16	B. T. Peterson	2.40	Motion to reject IRA purchase orders (1.2); and motion to return stored customer inventory (1.2)
06/29/16	M.J. Gearin	2.20	Prepare outline for meeting with R. Bressler; call with Trustee regarding same
06/30/16	M.J. Gearin	0.50	Communications with storage creditors regarding return of stored inventory
	TOTAL	FEES	35.30 hrs \$ <u>13,681.50</u>

Invoice # 3282183 2070561 Page 9 of 42

TIMEKEEPER SUMMARY

D. A. Evans	5.30	hrs at	\$	205.00 / hr		1,086.50
M.J. Gearin	11.50	hrs at	\$	525.00 / hr		6,037.50
S. Megally	2.00	hrs at	\$	515.00 / hr		1,030.00
B. T. Peterson	16.50	hrs at	\$	335.00 / hr		5,527.50
	TOTAL FEES		35.30 hrs		\$_	13,681.50

MATTER SUMMARY

Fees \$\frac{13,681.50}{MATTER TOTAL}\$\$ \frac{13,681.50}{13,681.50}

MATTER TOTAL

Invoice # 3282183 2070561 Page 10 of 42

Business Operations (70030)

\$525.00

525.00

DATE	NAME	HOURS	DESCRIPTION		
06/06/16	M.J. Gearin	0.30			
06/09/16	M.J. Gearin	0.40	Communications regarding US		
06/17/16	M.J. Gearin	0.30	3 3		
		TOTAL FEES	1.00 hrs	\$525.00	
TIMEKEEPER SUMMARY					
M.J. Gearir	1	1.00 TOTAL FEES	hrs at \$ 525.00 / hr 1.00 hrs	\$ 525.00 \$ 525.00	
MATTER SUMMARY					
Fees				\$ 525.00	

Invoice # 3282183 2070561 Page 11 of 42

Case Administration (70040)

\$21,196.00

DATE	NAME	HOURS	DESCRIPTION
06/01/16	D. A. Evans	5.00	Field phone calls and emails from creditors (.9); review BR 9027 and calendar deadline regarding same (.2); updated secured creditor list from claims filed (.3); update task list and calendaring for case (.5); work on case management conference requirements with M. Gearin and B. Peterson (1.1); finalize trustee's status report and all exhibits to same for filing with Court with M. Gearin and client (.8); research regarding email addresses for service of status report (.3); file trustee's status report with court and send for service (.3); miscellaneous case management matters (.6)
06/01/16	M.J. Gearin	0.90	Meet with D. Neu regarding multiple case issues including EEOC litigation, Hansen 2004 motion and Erdmann litigation in preparation for status conference
06/01/16	M.J. Gearin	3.30	Draft status report including consultations with trustee regarding submission of financial materials
06/01/16	D.C. Neu	2.30	Call with creditor regarding status (.2); review documents for 2004 (.5); continued dep preparation (1.5)
06/01/16	B. T. Peterson	3.30	Draft submission for status conference
06/02/16	D. A. Evans	2.80	Work on preparation for status conference with M. Gearin and D. Neu (1.1); telephone call with former employee and follow up with attorneys (.3); follow up on service of trustee's status report to additional parties by email (.4); miscellaneous case administration matters (.6); field phone calls and emails from creditors (.4)
06/02/16	M.J. Gearin	0.80	Prepare for status conference
06/02/16	D.C. Neu	0.70	Call with creditor's attorney regarding stored inventory (.4); analysis of stay research (.2)
06/03/16	D. A. Evans	0.60	Field phone calls and emails from creditors (.4); email exchange with J. Cannady regarding additional creditor (.2);
06/03/16	M.J. Gearin	2.50	Meet with Trustee regarding preparations for status conference and case planning matters
06/03/16	M.J. Gearin	2.00	Attend hearings on status conference, discovery motions, application for employment and Knudsen motion

DATE	NAME	HOURS	DESCRIPTION
06/03/16	M.J. Gearin	1.00	Prepare for hearings on discovery motions, Cascade employment, Knudsen motion and status conference
06/03/16	D.C. Neu	4.00	Prepare for and attend hearing and status conference
06/03/16	D.C. Neu	1.10	Review documents for production to CardConnect (.4); call with client regarding same (.2); call with B. Medeiros regarding same (.4)
06/06/16	D. A. Evans	2.40	Field phone calls from creditors (.3); review of 2004 orders for M. Parish and Olympic Trading Company (.2); prepare subpoenas and send for service for M. Parish and Olympic Trading Company (.5); meeting with attorneys regarding multiple pending matters in case (1.0); miscellaneous case administration matters (.4)
06/06/16	M.J. Gearin	1.00	Meet with K&L team regarding case coordination
06/06/16	D.C. Neu	0.80	Call with B. Medeiros regarding discovery (.4); call with P. Wagner regarding same (.3)
06/06/16	D.C. Neu	1.30	Meeting to discuss task and action items (1.3)
06/06/16	B. T. Peterson	1.20	Meeting regarding status of outstanding tasks
06/06/16	B. T. Peterson	0.90	Discuss outcome of status conference hearing with M. Gearin and D. Neu
06/07/16	D. A. Evans	2.60	Discuss discovery with R. Tausend (.2); work with client to obtain copy of NWTM privacy policy and insurance policies (.3); review of request for special notice received and update records (.2); field phone calls and emails from creditors and address correspondence from creditors (.8); finalize order establishing procedures and email to M. Northrup for approval (.2); miscellaneous case administration work including website issues, calendaring dates and deadlines (.9)
06/08/16	D. A. Evans	1.60	Field phones calls and emails from creditors (.4); receive copy of insurance policies from A. Trunkett and review of same (.3); receive copy of NWTM privacy policy from E. Robinson and forward to attorneys (.1); meet with A. Trunkett and E. Robinson (.1); email from M. Northrup regarding order establishing procedures (.1); finalize order for entry with court and upload for entry (.2); miscellaneous case administration work (.4)
06/08/16	M.J. Gearin	0.30	Call with M. Silverstein regarding trustee's bond

DATE	NAME	HOURS	DESCRIPTION
06/13/16	D. A. Evans	2.80	Review of document production in response to R. Hansen 2004 order and inventory same (1.4); field phone calls from creditors (.4); finish pulling hot documents and creating folder for M. Gearin (.4); miscellaneous case administration matters (.6)
06/14/16	D. A. Evans	0.60	Miscellaneous case administration work (.6)
06/16/16	D. A. Evans	0.70	Review of Wells Fargo responses to 2004 order (.4); field phone calls from creditors (.3)
06/17/16	D. A. Evans	0.30	Miscellaneous case administration matters (.3)
06/17/16	M.J. Gearin	1.10	Extended call with Trustee regarding pending tasks
06/17/16	B. T. Peterson	0.20	Discuss case issues with M. Gearin
06/20/16	D. A. Evans	1.20	Drafting of motion to reject customer orders (.9); update special notice list as needed (.3)
06/21/16	E. R. Whittington	0.30	Bloomberg terminal research re: 2008 and 2009 gold and silver prices per D. Evans
06/22/16	B. T. Peterson	1.10	Review 2004 examination request and draft objection to same
06/22/16	B. T. Peterson	0.70	Research and draft email to client regarding customer list
06/23/16	D. A. Evans	0.80	Meeting with M. Gearin regarding multiple issues in case (.3); filed phone calls from creditors (.2); miscellaneous case administration matters (.3)
06/24/16	D. A. Evans	4.80	Preparation of notices of hearing for four motions (1.4); revisions to motion for authority to returned stored inventory (.3); communicate with client to update website (.4); work on multiple motions to be filed with court (1.2); prepare proofs of service for all motions (.5); miscellaneous case administration work (1.0)
06/27/16	M.J. Gearin	0.50	Call with Trustee regarding multiple pending motions and meeting preparations
06/29/16	M.J. Gearin	0.60	Call with US Trustee representatives, T. Buford and M. Smith and Trustee regarding case update
06/29/16	M.J. Gearin	0.30	Communications with Z. Mosner regarding case issues
06/29/16	D.C. Neu	2.00	Review Karr Tuttle Campbell client files (1.1); follow-up on credit card issues (.2); call with A. Trunkett regarding cash statements (.7)
06/30/16	M.J. Gearin	1.00	Meetings and calls with Trustee regarding pending projects
	TOTAL	FEES	61.40 hrs \$ <u>21,196.00</u>

Invoice # 3282183 2070561 Page 14 of 42

TIMEKEEPER SUMMARY

D. A. Evans	26.20	hrs at	\$	205.00 / hr		5,371.00
M.J. Gearin	15.30	hrs at	\$	525.00 / hr		8,032.50
D.C. Neu	12.20	hrs at	\$	430.00 / hr		5,246.00
B. T. Peterson	7.40	hrs at	\$	335.00 / hr		2,479.00
E. R. Whittington	0.30	hrs at	\$	225.00 / hr		67.50
	TOTAL FEES		61.	40 hrs	\$_	21,196.00

MATTER SUMMARY

Fees \$\ \begin{align*} \text{21,196.00} \\ \text{MATTER TOTAL} \\ \text{\$\frac{21,196.00}{21,196.00}} \end{align*}

Claims, Administration and Objections (70050)

\$9,516.50

DATE	NAME	HOURS	DESCRIPTION
06/06/16	D. A. Evans	1.00	Review and catalog proofs of claim
06/06/16	M.J. Gearin	0.50	Email exchange with R. Hyatt and Trustee regarding Pan American claim; analysis of security issues
06/07/16	D. A. Evans	0.80	Telephone call with Court regarding claims received at KLG (.2); email from E. Robinson regarding creditor claim and look up same (.2); review and catalog proofs of claim (.4)
06/07/16	D. A. Evans	0.20	Telephone call with E. Robinson regarding questions about a creditor (.2)
06/07/16	M.J. Gearin	0.50	Evaluation of Pan American security claims
06/08/16	D. A. Evans	1.70	Forward claims to bankruptcy court (.3); review and catalog proofs of claim (1.4)
06/08/16	M.J. Gearin	0.70	Communications and analysis of secured clam of Pan American
06/08/16	R.G. Masters	1.20	Review documents relating to Pan American Silver (.6); consult regarding security interest attachment and perfection issues (.4); direct research regarding same (.2)
06/08/16	L. L. Short	0.90	Discuss assignment with G. Masters (.4); research and review relevant UCC Article 9 provisions (.5)
06/09/16	D. A. Evans	1.00	Email from E. Robinson regarding proofs of claim for storage creditors and search for same (.8); email to E. Robinson with copies of claims (.2)
06/09/16	M.J. Gearin	0.50	Attention to potential insurance claim
06/09/16	L. L. Short	2.30	Research requirements for describing collateral in security agreement under Washington law
06/10/16	L. L. Short	4.90	Research requirements for perfecting security interest under Washington and Ninth Circuit case law (1.7); research context rule of contract interpretation under Washington law (1.8); send initial findings to G. Masters (.4); draft initial memorandum with findings (1.0)
06/13/16	M.J. Gearin	1.20	Analysis and communications regarding Pan American asserted security interest
06/13/16	R.G. Masters	0.60	Consult regarding UCC perfection research (.3); briefly review cases from research (.3)
06/13/16	L. L. Short	2.80	Finalize memo with findings regarding effectiveness of collateral descriptions in security agreement and financing statements

MATTER TOTAL

Invoice # 3282183 2070561 Page 16 of 42

DATE	NAME	HOURS	DESC	RIPTI	ON		
06/14/16	R.G. Masters	1.50	intere	Review and revise Pan American security interest memo (1.0); consult regarding additional revisions to same (.5)			
06/15/16	R.G. Masters	0.20	Work	Work on perfection memo regarding Pan American			
06/15/16	L. L. Short	3.40	refere staten	Finalize research regarding implications of referencing security agreement in financing statement for description of collateral (3.0); discuss memo updates with G. Masters (.4)			
06/16/16	D. A. Evans	0.70			catalog proofs of		(/
06/20/16	D. A. Evans	1.40	Conference with M. Gearin regarding bar date notice (.2); modify order and notice for upload with the Court (.2); send to client and M. Northrup for approval (.2); review and catalog proofs of claim (.8)				
06/21/16	D. A. Evans	0.30	Work with E. Robinson regarding questions on claims from creditors (.3)				
06/23/16	D. A. Evans	0.20	Meeting to discuss notice of claims bar date			bar date	
06/24/16	R.G. Masters	0.40	Revisi	ions to	Pan American p	perfecti	on memo
06/29/16	M.J. Gearin	0.30	Attent	ion to	bar date notice a	and ma	iling
		TOTAL FEES		29.2	0 hrs	\$	9,516.50
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>		
D. A. Evans		7.30	hrs at	\$	205.00 / hr		1,496.50
M.J. Gearin			hrs at	\$	525.00 / hr		1,942.50
R.G. Master	'S	3.90	hrs at	\$	495.00 / hr		1,930.50
L. L. Short		14.30	hrs at	\$	290.00 / hr		4,147.00
		TOTAL FEES			no hrs	\$	9,516.50
		MATTER	R SUMM	<u>ARY</u>			
Fees						\$	9,516.50

MATTER TOTAL

Invoice # 3282183 2070561 Page 17 of 42

Employee Benefits/Pensions (70060)

\$426.00

426.00

DATE	NAME	HOURS	DESC	RIPTION			
06/02/16	M.J. Gearin	0.50		Consult regarding employee benefits			
				ents on severance of all, Texas	employee	S III	
06/02/16	N. G. Spiliotis	0.30	•	hone conference with	•	•	
				Payday Act laws and closing	implicati	ons for	
		TOTAL FEES		0.80 hrs	\$	426.00	
		TIMEKEEPI	ER SUN	<u>//MARY</u>			
M.J. Gearir	1	0.50	hrs at	\$ 525.00 / hr		262.50	
N. G. Spilio	otis	0.30	hrs at	\$ 545.00 / hr		163.50	
		TOTAL FEES		0.80 hrs	\$	426.00	
		MATTER	SUMM	<u>IARY</u>			
Fees					\$	426.00	

Invoice # 3282183 2070561 Page 18 of 42

Fee/Employment Applications (70070)

\$1,544.50

FEES

DATE	NAME	HOURS	DESCRIPTION		
06/01/16	M.J. Gearin	0.50	Draft supplemental Cascade declaration		
06/02/16	M.J. Gearin	1.80	Draft supplemental declaration of M. Calvert in support of Cascade employment including calls with M. Calvert and T. McDonald		
06/02/16	B. T. Peterson	0.70	Finalize and file supplemental declaration supporting retention of Cascade Capital		
06/06/16	D. A. Evans	0.50	Work with M. Gearin to finalize order approving employment of Cascade Capital and send to M. Northrup for approval (.3); upload order approving employment of Cascade Capital (.2)		
	TOTAL	FEES	3.50 hrs \$ <u>1,544.50</u>		

TIMEKEEPER SUMMARY

D. I. Feleison	TOTAL FEES	iiis at	· ·	0 hrs	\$ 1,544.50
B. T. Peterson	0.70	hro ot	œ.	335.00 / hr	234.50
M.J. Gearin	2.30	hrs at	\$	525.00 / hr	1,207.50
D. A. Evans	0.50	hrs at	\$	205.00 / hr	102.50

MATTER SUMMARY

rees	\$ <u>1,544.50</u>
MATTER TOTAL	\$ <u>1,544.50</u>

Litigation (70100)

\$7,701.50

DATE	NAME	HOURS	DESCRIPTION
06/01/16	M.J. Gearin	0.50	Consult with employees regarding R. Hansen trial testimony
06/06/16	D. A. Evans	0.20	Meeting with D. Neu regarding litigation issues and litigation report (.2)
06/09/16	D.C. Neu	2.70	Meeting with M. Gearin to discuss litigation issues (1.2); work on case theory (1.5)
06/09/16	D.C. Neu	1.50	Review motion for determination of stay (.4); call with D. Scalia regarding same (.2); draft redline of order regarding same (.3); calls with J. Hammel regarding same (.6)
06/10/16	K. Drake	0.10	Research and retrieve current address of D. Schwenk for D. Evans.
06/10/16	R. A. Duncan	0.20	Search TLO for contact information for D. Schwenk on behalf of D. Evans
06/21/16	B. T. Peterson	0.30	Draft declaration of R. Vugteveen in support of motion for order holding Ross Hansen in contempt
06/23/16	M.J. Gearin	2.10	Revisions to declarations in support of automatic stay motion and motion
06/23/16	B. T. Peterson	3.20	Draft pleadings in support of motion to hold R. Hansen in contempt
06/27/16	D.C. Neu	0.60	Research regarding removal of litigation (.6)
06/27/16	D.C. Neu	2.10	Call with counsel for Nevada Department of Environment regarding claims issues (.5); call with attorney in Hoff litigation regarding ruling regarding attorney fees (.4); review same (.3); communicate with R. Friedman regarding filed (.2); review documents regarding inventory (.6)
06/28/16	T. S. Miller	0.60	Amend notice of deposition (.6)
06/28/16	T. S. Miller	2.60	Research uniform fraudulent transfers act as enacted in Washington and Nevada (1.8); research statute of limitations and discovery rule application in Washington in Nevada (.8)
06/28/16	B. T. Peterson	0.50	Draft and finalize pleadings in support of motion for contempt (0.5)
06/29/16	T. S. Miller	0.50	Finalize amended notice of deposition (.3); send notice of deposition with exhibit to opposing parties (.2)
06/29/16	T. S. Miller	2.90	Review Dobbs Law of Remedies for information about constructive trusts in general (.8); research cases on the law of constructive trusts in Washington and Nevada

Invoice # 3282183 2070561 Page 20 of 42

DATE	NAME	HOURS	DESC	RIPT	ION		
06/30/16	(1.6); begin research on the issues for constructive trusts transfers (.5)			and fraudulent nd fraudulent / with M. Gearin			
		TOTAL FEES		21.1	10 hrs	\$ <u>7,701.50</u>	
		TIMEKEEP	ER SUM	<u>//MAR</u>	<u>RY</u>		
K. Drake		0.10	hrs at	\$	265.00 / hr	26.50	
R. A. Dunca		0.20	hrs at	\$	225.00 / hr	45.00	
D. A. Evans		0.20	hrs at	\$	205.00 / hr	41.00	
M.J. Gearin	1	2.60	hrs at	\$	525.00 / hr	1,365.00	
T. S. Miller		7.10	hrs at	\$	270.00 / hr	1,917.00	
D.C. Neu		6.90	hrs at	\$	430.00 / hr	2,967.00	
B. T. Peters	son	4.00	hrs at	\$	335.00 / hr	1,340.00	
		TOTAL FEES		21.	10 hrs	\$7,701.50_	
MATTER SUMMARY							
Fees MATTER T	OTAL					\$ 7,701.50 7,701.50	

Trustee v Medallic Art Co LLC/ Ross Hansen (70101)

\$13,218.50

DATE	NAME	HOURS	DESCRIPTION
06/02/16	M.J. Gearin	1.10	Meet and confer regarding Medallic document production protocol and response to Medallic 2004 motion
06/06/16	M.J. Gearin	2.30	Communications with J. Stehlik regarding form of Medallic 2004 order (.4); coordination of document production of Medallic records (.8); analysis of issue regarding Medallic claims (1.1)
06/07/16	M.J. Gearin	1.30	Communications with J. Stehlik regarding discovery matters (0.5); coordination of document production issues with R. Tausend (0.8)
06/08/16	M.J. Gearin	2.30	Review Medallic document production (1.5); communications regarding discovery search terms for electronic discovery (0.3); communications with J. Stehlik regarding seized asset ownership matters, discovery and deposition scheduling (0.5)
06/09/16	D. A. Evans	1.40	Work with e-DAT regarding discovery of Medallic production (.3); review of request for special notice and update special notice list (.2); field phone calls from creditors (.3); miscellaneous case administration work (.6)
06/09/16	M.J. Gearin	1.10	Call with J. Stehlik regarding Medallic discovery and seized property issues (0.3); coordination of Medallic document production (0.5); review of certain Medallic documents (0.3)
06/09/16	M.J. Gearin	1.20	Review of documents relating to Medallic and analysis of same
06/10/16	M.J. Gearin	1.10	Review of Medallic documents; coordinate document production to Medallic
06/13/16	M.J. Gearin	1.10	Review of documents and analysis of issues relating to Medallic claims
06/20/16	D. A. Evans	1.20	Finalize preparation of hot documents file regarding Medallic Art corporation for M. Gearin (1.2)
06/21/16	D. A. Evans	0.30	Prepare subpoena for deposition of Medallic Art (.3)
06/21/16	M.J. Gearin	1.60	Communications with T. Lerner regarding Bressler discovery and meeting (0.5); review and analysis of Medallic documents (1.1)
06/22/16	M.J. Gearin	1.10	Review of Medallic 2004 request to Allison MacKenzie (0.3); email to J. Stehlik regarding

DATE	NAME	HOURS	DESCRIPTION				
			Medallic discovery matters (0.2); meet regarding document production (0.3); review of Medallic records (0.3)				
06/23/16	D. A. Evans	0.60	Preparation of notice of deposition of Medallic Art Company (.4); send for service on J. Stehlik (.2)				
06/23/16	M.J. Gearin	1.50	Analysis of issues regarding 2004 motion of Medallic for Allison MacKenzie (0.3); call with P. Fagan of Allison Mackenzie firm (0.5); draft response to motion(0.7)				
06/23/16	M.J. Gearin	1.20	Draft 30(b)(6) notice of deposition for Medallic (0.4); preparations for deposition (0.8)				
06/24/16	M.J. Gearin	1.50	Meet regarding research on constructive trust and fraudulent transfer issues (0.5); call and email communications with J. Frush (0.3); review of documents and construction of timeline (0.7)				
06/24/16	T. S. Miller	0.80	Discuss constructive trust and fraudulent transfer claims with M. Gearin and B. Peterson (.5); begin general review of constructive trust and fraudulent transfers in bankruptcy (.3)				
06/27/16	M.J. Gearin	0.60	Call with P. Fagan and J. Cavilia of Allison MacKenzie regarding Medallic sale transaction				
06/27/16	M.J. Gearin	1.30	Call with T. Bucknell regarding Medallic discovery matters (0.3); review of Medallic financial materials and analysis of causes of action (1.0)				
06/28/16	M.J. Gearin	1.60	Call with J. Frush regarding discovery matters (0.2); call with D. McDermott regarding document discovery (0.3); review of Medallic documents regarding transaction history (1.1)				
06/29/16	M.J. Gearin	1.50 TOTAL FEES	Review and analysis of Medallic documents 27.70 hrs \$ \(\frac{13,218.50}{2} \)				
		TIMEKEEP	PER SUMMARY				
		·					
D. A. Evans			hrs at \$ 205.00 / hr 717.50				
M.J. Gearin		23.40	hrs at \$ 525.00 / hr 12,285.00				
T. S. Miller		0.80 TOTAL FEES	hrs at \$ 270.00 / hr 216.00 27.70 hrs \$ 13,218.50				

Invoice # 3282183 2070561 Page 23 of 42

MATTER SUMMARY

Fees \$\frac{13,218.50}{MATTER TOTAL}\$\$\frac{13,218.50}{\frac{13,218.50}{13,218.50}}\$

Trustee v Diane Erdmann (70102)

\$56,825.50

DATE	NAME	HOURS	DESCRIPTION
06/01/16	D. A. Evans	0.20	Send additional discovery to D. Bugbee (.2)
06/02/16	D.C. Neu	8.70	Prepare for and take deposition of D. Erdmann (7.1); call with J. Hammel regarding results of deposition (1); review rough transcript (.6)
06/03/16	D.C. Neu	1.10	Schedule depositions (.5); review documents for production (.5)
06/03/16	D.C. Neu	0.70	Meeting with J. Hammel regarding Erdman deposition
06/06/16	D. A. Evans	0.40	Work with D. Neu on various discovery issues for evidentiary hearing (.4)
06/06/16	D.C. Neu	1.50	Prepare for depositions
06/06/16	D.C. Neu	2.00	Conduct witness interviews
06/07/16	D. A. Evans	0.40	Work on discovery for evidentiary hearing (.4)
06/07/16	D.C. Neu	6.10	Call with D. Scalia regarding trial issues (1); call with witnesses regarding depositions (1); potential witness interviews (2.1); call with D. Scalia regarding discovery (.5); call with man hired to perform inventory (.7); document review (.8)
06/08/16	D. A. Evans	0.90	Continue working on discovery for evidentiary hearing (.5); prepare trial subpoenas for multiple parties (.4)
06/08/16	D.C. Neu	8.80	Depositions of P. Wagner, E. Robinson, A. Trunkett, and R. Yaskus
06/09/16	D. A. Evans	1.30	Organize discovery for evidentiary hearing (.9); prepare subpoena and acceptance of service for R. Hansen deposition (.4)
06/09/16	M.J. Gearin	1.10	Meet regarding Erdmann trial preparations
06/10/16	D. A. Evans	1.90	Meeting with D. Neu and M. Calvert (.3); meeting with D. Neu regarding response to motion to determine applicability of stay re D. Erdmann (.2); file response to motion to determine applicability of stay with USBC (.4) field phone calls and emails from creditors (.4); miscellaneous case administration matters (.6)
06/10/16	D. A. Evans	2.40	Work on discovery and production of documents matters (2.1); search for contact information for D. Schwenk (.3)
06/10/16	D.C. Neu	1.30	Review new security video
06/12/16	D.C. Neu	4.10	Draft and edit trial brief
06/13/16	D. A. Evans	0.90	Begin work on trial exhibits for evidentiary

DATE	NAME	HOURS	DESCRIPTION
			hearing (.5); send subpoena to D. Huffman (.2); work with client to search for contact information for witness (.2)
06/13/16	D.C. Neu	7.70	Draft and edit trial brief (7.4); interview P. Ward (.3)
06/14/16	D. A. Evans	2.10	Work on trial exhibits for evidentiary hearing (2.1)
06/14/16	D.C. Neu	4.10	Review and compile trial exhibits (3.5); call with D. Scalia regarding trial issues and witness issues (.6)
06/15/16	D. A. Evans	4.70	Prepare trial exhibits for exchange with opposing party (4.2); file trial brief with court (.3); work with process server to track down witness (.2)
06/15/16	D.C. Neu	4.60	Finalize trial brief (2); prepare for deposition or R. Hansen (2.5)
06/16/16	D. A. Evans	0.80	Work with D. Neu to prep for deposition of R. Hansen (.4); file corrected trial brief (.2); send additional trial exhibit to opposing counsel (.2)
06/16/16	D.C. Neu	4.50	Prepare for and attend deposition of R. Hansen (3.5); call with client regarding same (.3) work on pre-trial stipulation ()
06/17/16	D. A. Evans	3.00	Confirm evidentiary hearing via ECF confirmation process (.2); finalize binders with trial exhibits to be submitted to judge's chambers and binder for D. Neu and opposing counsel (1.8); work with process server regarding search for potential witness (.3); put together binder for opposing parties exhibits (.4); prepare hearing binder (.3)
06/17/16	M.J. Gearin	0.90	Meet with D. Neu regarding Erdmann litigation
06/17/16	D.C. Neu	1.70	Work on trial exhibits
06/19/16 06/19/16	D.C. Neu B. T. Peterson	4.00 0.60	Work on preparation of direct testimony (4) Review trial briefs regarding evidentiary hearing on retainer funds
06/20/16	D. A. Evans	0.70	Receipt of deposition transcript of R. Hansen to use as additional exhibit for trial and provide to other parties as necessary including court (.4); file reply brief with court and update hearing binder (.3)
06/20/16	D.C. Neu	10.10	Meetings with witnesses to prepare testimony (6); prepare trial testimony (4.2)
06/20/16	B. T. Peterson	3.40	Draft reply to trial brief for Erdmann evidentiary hearing
06/21/16	D. A. Evans	4.60	Meeting with D. Neu regarding demonstrative exhibit for evidentiary hearing (.4); receive copies of security footage from Auburn facility and convert to CD rom (.2); forward copy of

Invoice # 3282183 2070561 Page 26 of 42

DATE	NAME	HOURS	DESC	RIPTION		
				m to opposing o	counsel (.	.2); prepare
				e to be used as		
				dentiary hearing		
				udge's chambe		ceipt of send to court for
						te office copies
			•	pdate hearing b	•	-
				l order (.3); mu		
00/04/40		4.50		ration with and t		` '
06/21/16	M.J. Gearin	1.50		egarding Erdm	ann trial į	oreparation
06/21/16	D.C. Neu	7.30		reparation	the leve	antainad in
06/21/16	B. T. Peterso	n 2.00		w and research		contained in ounsel regarding
				ntiary hearing (1		
				. Neu (.5)	-,,	
06/22/16	D. A. Evans	9.80	Trial p	reparation and	attendan	ce at trial
06/22/16	M.J. Gearin	6.10		ve testimony of		
00/00/40	D 0 N	40.00		ann at Erdmann	trial (no	charge)
06/22/16	D.C. Neu	10.80	Trial	i.aataitla D	T-11	
06/28/16	D.C. Neu	0.40		nunicate with D. nce (.4)	railman	regarding video
06/28/16	D.C. Neu	4.60	Meeting with A. Trunkett			
06/29/16	D.C. Neu	1.30	Revie	w cash flow stat	tements	
06/30/16	D.C. Neu	4.10	Prepare closing exhibits; work on closing			•
		TOTAL FEES		149.20 hrs		\$ 56,825.50
		TIMEKEEP	ER SU	<u>IMARY</u>		
		·				
D. A. Evans		34.10	hrs at	\$ 205.00	•	6,990.50
M.J. Gearin		9.60	hrs at	\$ 525.00		5,040.00
D.C. Neu B. T. Peters	on	99.50 6.00	hrs at hrs at	\$ 430.00 \$ 335.00		42,785.00 2,010.00
D. I. Peters	SOH	TOTAL FEES	IIIS at	149.20 hrs	/ 111	\$ 56,825.50
		TOTALTELO		140.20 1113		Ψ <u> </u>
		MATTER	R SUMN	<u>ARY</u>		
Fees						\$ 56,825.50
MATTER T	UTAL					\$ <u>56,825.50</u>

Invoice # 3282183 2070561 Page 27 of 42

Cohen v Hansen, NW Territorial Mint et al, King County Case (70103)

\$1,810.50

FΕ	ES
----	----

DATE	NAME	HOURS	DESCRIPTION			
06/06/16	M.J. Gearin	0.60	Review of pleadings in Cohen state court action and transcript of deposition of D. Erdmann			
06/07/16	M.J. Gearin	0.60	Review of Medallic submissions in Cohen litigation regarding ownership of seized property (0.3); call with R. Mitchell regarding seized assets (0.3)			
06/08/16	M.J. Gearin	1.50	Call with R. Mitchell regarding status of state court action regarding seized property (.6); review and analysis of Medallic pleadings (.8); message for J. Hamell (.1)			
06/09/16	D. A. Evans	0.90	Work on issues involving King County Superior court case of Cohen vs. NWTM including drafting of M. Calvert declaration in support of adverse claim (.9)			
06/20/16	D. A. Evans	0.20	Review of notice of hearing on adverse claim and calendar hearing (.2)			
06/27/16	B. T. Peterson	0.50	Coordinate pick up of property seized by Sheriff			
	TOTAL	. FEES	4.30 hrs \$ <u>1,810.50</u>			

TIMEKEEPER SUMMARY

D. A. Evans	1.10	hrs at	\$	205.00 / hr		225.50
M.J. Gearin	2.70	hrs at	\$	525.00 / hr		1,417.50
B. T. Peterson	0.50	hrs at	\$	335.00 / hr		167.50
	TOTAL FEES		4.3	0 hrs	\$_	1,810.50

MATTER SUMMARY

Fees	\$ <u>1,810.50</u>
MATTER TOTAL	\$ <u>1,810.50</u>

Invoice # 3282183 2070561 Page 28 of 42

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$3,942.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
06/01/16	D.C. Neu	3.20	Research regarding EEOC litigation (.6); communicate with EEOC counsel regarding status (.2); communicate with B. Stone regarding same (.2); call with J. Hammel regarding deposition issues (1); dep preparation (1)			
06/01/16	B. T. Peterso	n 1.00	Research automatic stay issues with respect to EEOC litigation			
06/09/16	D.C. Neu	0.50	Prepare for EEOC meeting (.5)			
06/10/16	D.C. Neu	3.90	Meeting with the EEOC (2); draft and edit trial brief (1.52)			
06/13/16	D.C. Neu	0.30	Call with A. Paranjpye regarding EEOC issues (.3)			
06/27/16	M.J. Gearin	0.40	Meet regarding pending litigation issues including Nevada environmental claim and EEOC matters			
		TOTAL FEES	9.30 hrs \$ <u>3,942.00</u>			
TIMEKEEPER SUMMARY						
M.J. Gearin D.C. Neu B. T. Peterson		0.40 7.90 1.00 TOTAL FEES	hrs at \$ 525.00 / hr 210.00 hrs at \$ 430.00 / hr 3,397.00 hrs at \$ 335.00 / hr 335.00 9.30 hrs \$ 3,942.00			

MATTER SUMMARY

Fees	\$ 3,942.00
MATTER TOTAL	\$ <u>3,942.00</u>

Invoice # 3282183 2070561 Page 29 of 42

State of NV v Hansen, NWTM et al, Nevada State Court Case	
(70105)	\$86.00

		E	<u>EES</u>	
DATE	NAME	HOURS	DESCRIPTION	
06/29/16	D.C. Neu	0.20	Call with M. Fairbank regar	ding Nevada
		TOTAL FEES	0.20 hrs	\$ <u>86.00</u>
D.C. Neu			ER SUMMARY hrs at \$ 430.00 / hr 0.20 hrs	\$ 86.00 \$ 86.00
MATTER SUMMARY				
Fees	OTAL			\$ 86.00
MATTER T	UTAL			\$ <u>86.00</u>

Meetings and Communications with Creditors (70110)

\$6,221.00

FEES

DATE	NAME	HOURS	DESCRIPTION	
06/02/16	M.J. Gearin	0.40	Call with M. Northrup regarding committee issues and preparations for status conference	ce
06/06/16	M.J. Gearin	0.90	Email and telephonic communications with Northrup regarding committee questions	M.
06/14/16	D. A. Evans	0.60	Field phone calls from creditors (.6)	
06/15/16	D. A. Evans	0.60	Field phone calls and emails from creditors (.6)	
06/17/16	D. A. Evans	0.30	Field phone calls from creditors (.3)	
06/17/16	M.J. Gearin	0.70	Call with M. Northrup regarding canvass of outstanding case issues	
06/20/16	D. A. Evans	0.30	Field phone calls from creditors (.3)	
06/21/16	D. A. Evans	0.30	Field phone calls from creditors (.3)	
06/22/16	M.J. Gearin	0.60	Communications with creditors committee chair Mr. James	
06/22/16	B. T. Peterson	0.20	Call with creditor attorney	
06/23/16	M.J. Gearin	0.60	Call with M. Northrup regarding case issues	
06/24/16	M.J. Gearin	1.10	Call with M. Calvert and M. Northrup regarding planning for committee meeting ar case issues	nd
06/28/16	M.J. Gearin	0.80	Prepare for committee meeting	
06/28/16	D.C. Neu	2.20	Call with creditor J. Fritz regarding claim and case status (.7); further research regarding removal (1.4)	t
06/29/16	M.J. Gearin	1.10	Prepare for committee meeting	
06/29/16	M.J. Gearin	0.70	Communications with storage customers	
06/30/16	M.J. Gearin	2.20	regarding pending motion Prepare for and attend creditors committee	
	TOTA	L FEES	meeting 13.60 hrs \$6,221.	.00
TIMEKEEPER SUMMARY				
D. A. Evans	3	2.10	hrs at \$ 205.00 / hr 430.	.50
M.J. Gearin		9.10	hrs at \$ 525.00 / hr 4,777.	
		0.10		

2.20 hrs at

TOTAL FEES

0.20 hrs at

\$

\$

13.60 hrs

430.00 / hr

335.00 / hr

946.00

67.00 6,221.00

D.C. Neu

B. T. Peterson

Invoice # 3282183 2070561 Page 31 of 42

MATTER SUMMARY

Fees \$ 6,221.00 MATTER TOTAL \$ 6,221.00

Relief From Stay and Adequate Protection (70130)

\$33,136.50

DATE	NAME	HOURS	DESCRIPTION
06/07/16	M.J. Gearin	1.30	Multiple meetings regarding automatic stay enforcement motion
06/07/16	B. T. Peterson	3.70	Draft declarations in support of motion to hold R. Hansen in contempt
06/07/16	B. T. Peterson	1.10	Research issues related to scheduling of motion regarding automatic stay and legal standards
06/07/16	B. T. Peterson	1.40	Discuss automatic stay issues with M. Gearin and M. Clark
06/08/16	M. P. Clark	4.80	Research and analyze violation of automatic stays in order to combat actions of former principal
06/08/16	M.J. Gearin	1.10	Review and revise draft declaration on automatic stay violation motion (.7); consult regarding motion strategic matters (.4)
06/08/16	B. T. Peterson	1.10	Research related to automatic stay motion
06/08/16	B. T. Peterson	3.70	Draft declarations in support of stay violation motion
06/08/16	B. T. Peterson	1.00	Meeting with employees of NWTM regarding R. Hansen's actions
06/09/16	M. P. Clark	6.10	Research and analyze automatic stay violations (3.2); draft argument for civil contempt charge (2.9)
06/09/16	B. T. Peterson	0.30	Discuss research findings with M. Clark
06/09/16	B. T. Peterson	5.70	Research related to motion on automatic stay (1.9); draft declarations in support of stay violation motion (1.9); draft motion for contempt order (1.9)
06/10/16	M. P. Clark	3.80	Complete insert to argument section on civil contempt (1.2); research and analyze case law pertaining to violations of the automatic stay (2.6)
06/10/16	D. A. Evans	0.90	Draft motion to shorten time and order shortening time regarding motion in violation of automatic stay (.9)
06/10/16	M.J. Gearin	0.90	Work on automatic stay motion
06/10/16	M.J. Gearin	0.50	Confer regarding response to Erdmann stay motion; revisions to response
06/10/16	M.J. Gearin	2.10	Revisions to pleadings in support of Hansen motion for contempt and consultations regarding same
06/10/16	B. T. Peterson	5.60	Draft declaration in support of motion to hold R. Hansen in contempt (2.4); discuss research

DATE	NAME	HOURS	DESCRIPTION
			with M. Clark (.5); draft motion to hold R. Hansen in contempt (2.7)
06/12/16	M. P. Clark	1.50	Research and analyze ex-CEOs obstructing the actions of the bankrupt corporation.
06/13/16	M. P. Clark	3.50	Research and analyze the §362(a)(3) of the bankruptcy code in relation to holding a former officer of the company in contempt.
06/13/16	M.J. Gearin	1.50	Revisions to pleadings on motion for enforcement of automatic stay
06/13/16	B. T. Peterson	4.00	Draft motion and declarations in support of motion for violation of automatic stay
06/14/16	M. P. Clark	0.50	Read and developed argument section for brief filing
06/15/16	M. P. Clark	4.00	Construction of argument for violation of automatic stay provision preventing exercise of control over estate property.
06/16/16	D. A. Evans	0.30	Prepare hearing binder for hearing on motion to determine applicability of stay (.3)
06/17/16	D.C. Neu	3.80	Prepare for and attend hearing on automatic stay
06/17/16	B. T. Peterson	2.10	Draft contempt section for motion for violation of automatic stay
06/19/16	B. T. Peterson	1.00	Review and edit draft insert to brief regarding automatic stay
06/20/16	B. T. Peterson	0.40	Revise declaration of M. Calvert in support of motion regarding violation of automatic stay
06/21/16	M. P. Clark	0.60	Update brief for holding former principal in contempt
06/21/16	M.J. Gearin	1.00	Revisions to Hansen stay enforcement pleadings and consultation with B. Peterson regarding same
06/21/16	B. T. Peterson	1.20	Phone call with R. Vugteveen regarding shipment of boxes from Federal Way to Dayton and Medallic Archive
06/21/16	B. T. Peterson	2.20	Prepare motion for contempt order against R. Hansen
06/22/16	B. T. Peterson	1.30	Draft R. Vugteveen declaration in support of motion to hold R. Hansen in contempt
06/23/16	D. A. Evans	0.30	Review of motion for relief from stay filed by party and calendar necessary dates and deadlines (.3)
06/24/16	M.J. Gearin	1.50	Revisions to pleadings on motion for contempt of automatic stay
06/27/16	M.J. Gearin	1.10	Work on motion for contempt and supporting declaration of M. Calvert
06/27/16	B. T. Peterson	0.60	Review RETT's motion for relief from stay
06/27/16	B. T. Peterson	0.20	Email to client regarding RETT motion for

Invoice # 3282183 2070561 Page 34 of 42

DATE	NAME	HOURS	DESC	RIPTION				
			relief t	relief from stay				
06/28/16	M.J. Gearin	0.80		Consult regarding response to Tomball				
				rd motion for relief from	•			
06/28/16	M.J. Gearin	3.50		e draft of motion for c	ontempt and			
00/00/40	D T D :	0.00		ated pleadings	''			
06/28/16	B. T. Peterso	on 2.80		w pleadings filed by R rom stay motion (.5);				
				lvert in response to m				
				regarding response to	, , ,			
06/29/16	M.J. Gearin	0.90		egarding Tomball lea				
			and m	otion for relief from sta	ay			
06/29/16	B. T. Peterso	on 1.40		calls with D. Pharris				
				ef from stay of Tomba				
06/29/16	B. T. Peterso	on 5.30		declaration in support	•			
				s motion for relief fror s declaration with M.				
				to client regarding ta				
06/29/16	B. T. Peterso	on 0.10		ith D. Pharris regardin				
			from s	•	g			
06/30/16	M.J. Gearin	0.50	Consult regarding Tomball adequate					
			protection motion					
06/30/16	B. T. Peterso	on 0.50		call with client regard				
00/20/40	D. T. Dotoros	0.50	•	notion and declaration call and emails with l	•			
06/30/16	B. T. Peterso	on 0.50		ling relief from stay m				
			landlo		Stion by Tomball			
06/30/16	B. T. Peterso	on 0.50		e declaration in suppo	rt of response to			
				rom stay motion of To				
		TOTAL FEES		94.50 hrs	\$ <u>33,136.50</u>			
		TIMEKEEP	ER SUN	IMARY				
				<u></u>				
M. P. Clark		24.80	hrs at	\$ 260.00 / hr	6,448.00			
D. A. Evans		1.50	hrs at	\$ 205.00 / hr	307.50			
M.J. Gearir	1	16.70	hrs at	\$ 525.00 / hr	8,767.50			
D.C. Neu		3.80	hrs at	\$ 430.00 / hr	1,634.00			
B. T. Peters	son	47.70	hrs at	\$ 335.00 / hr	15,979.50			
		TOTAL FEES		94.50 hrs	\$ <u>33,136.50</u>			

Invoice # 3282183 2070561 Page 35 of 42

MATTER SUMMARY

Invoice # 3282183 2070561 Page 36 of 42

Tax (70140) \$502.50

DATE	NAME	HOURS	DESC	RIPTION		
06/17/16	B. T. Peterson	0.20	Phone	e call regarding tax is	sues	
06/27/16	B. T. Peterson	0.20	Corres	spondence regarding	payment	of taxes
06/28/16	B. T. Peterson	0.60		e call with client regar sonal property taxes	ding the p	payment
06/30/16	B. T. Peterson	0.50		w tax payment analys nt regarding the sam		aft emails
	TOTAL	FEES		1.50 hrs	\$	502.50
	:	<u>TIMEKEEPI</u>	ER SUM	<u>IMARY</u>		
B. T. Peters	son	1.50	hrs at	\$ 335.00 / hr		502.50
	TOTAL	FEES		1.50 hrs	\$	502.50
MATTER SUMMARY						

Fees	\$ <u>502.50</u>
MATTER TOTAL	\$ <u>502.50</u>

Assumption and Rejection of Leases and Contracts (70150)

\$2,432.00

FEES

DATE	NAME	HOURS	DESCRIPTION
06/23/16	D. A. Evans	1.30	Drafting of motion to extend deadline to assume or reject leases (1.3)
06/24/16	M.J. Gearin	1.30	Revisions to pleadings regarding extension of lease rejection deadline
06/24/16	M.J. Gearin	0.40	Discussion with Trustee regarding new lease of Kent facility
06/24/16	B. T. Peterson	1.20	Motion to extend deadline to assume or reject nonresidential real property leases (1.2)
06/27/16	B. T. Peterson	1.10	Draft pleadings in support of motion for extension of time to assume or reject leases (1.1)
06/28/16	B. T. Peterson	1.30	Motion to extend time to assume or reject leases (1.3)
06/29/16	B. T. Peterson TOTAL	0.20 FEES	Email to opposing counsel regarding lease 6.80 hrs \$\frac{2,432.00}{}

TIMEKEEPER SUMMARY

D. A. Evans	1.30	hrs at	\$	205.00 / hr	266.50
M.J. Gearin	1.70	hrs at	\$	525.00 / hr	892.50
B. T. Peterson	3.80	hrs at	\$	335.00 / hr	1,273.00
	TOTAL FEES		6.8	30 hrs	\$ 2,432.00

MATTER SUMMARY

Fees	\$ 2,432.00
MATTER TOTAL	\$ 2,432.00

Invoice # 3282183 2070561 Page 38 of 42

Real Estate (70200)

MATTER TOTAL

\$1,963.50

DATE	NAME	HOURS	DESCRIPTION			
06/02/16	L. L. McClellan	3.10	Review and respond to e-mail correspondence regarding urgent lease			
			review request (.5); review lease and prepare revised draft reflecting comments (2.6)			
06/03/16	L. L. McClellan	0.20	Follow-up e-mail correspondence; phone call to T. McDonald (left message)			
	TOTAL	FEES	3.30 hrs \$1,963.50			
TIMEKEEPER SUMMARY						
L. L. McCle						
	TOTAL	_ FEES	3.30 hrs \$ <u>1,963.50</u>			
	MATTER SUMMARY					
Fees			\$ <u>1,963.50</u>			

Invoice # 3282183 2070561 Page 39 of 42

Reporting (70210)

\$102.50

DATE	NAME	HOURS	DESCRIPTION	
06/07/16	D. A. Evans	0.50	Review of local bankruptcy ru amendment of schedules and monthly reporting duties (.3); report with USBC (.2)	d regarding
		TOTAL FEES	0.50 hrs	\$ <u>102.50</u>
		TIMEKEEP	ER SUMMARY	
D. A. Evans	;	0.50 TOTAL FEES	hrs at \$ 205.00 / hr 0.50 hrs	\$ 102.50 \$ 102.50
		MATTER	SUMMARY	
Fees MATTER T	OTAL			\$ 102.50 \$ 102.50

Invoice # 3282183 2070561 Page 40 of 42

Costs (99999) \$13,064.15

Invoice # 3282183 2070561 Page 41 of 42

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
06/02/16	Copying Expense	0.80
06/02/16	Copying Expense	22.80
06/04/16	Ahearn & Associates Maple Valley-Transcript of 3	1,293.75
06/04/16	Byer Sanderson Reporters-Ross Hansen Deposition	388.10
06/06/16	Travel Expenses - Gearin, Michael - Parking - 2016-05-06 - 5 6 hearing Parking	18.00
06/06/16	Travel Expenses - Neu, David - Parking - 2016-05-27 - 5 27 hearing parking	14.00
06/06/16	Travel Expenses - Peterson, Brian - Ground Transportation - 2016- 05-27 - taxi from Sale hearing	5.00
06/06/16	Local Courier - Courier Charges for May 2016 - John Sullivan dba HALO Messengers - 06012016 - 5/3 #8 600 Stewart St #1300 - Subpoena for Rule 2004 Examination	38.00
06/06/16	Local Courier - Courier Charges for May 2016 - John Sullivan dba HALO Messengers - 06012016 - 5/6 #1 999 3rd Ave - Cover Letter; Subpoena for Rule 2004 Examination	36.00
06/06/16	Local Courier - Courier Charges for May 2016 - John Sullivan dba HALO Messengers - 06012016 - 5/12 #5 700 Stewart St #5103 - PU Audio CD of NWTM 341 meeting	7.00
06/06/16	Local Courier - Courier Charges for May 2016 - John Sullivan dba HALO Messengers - 06012016 - 5/23 #2 155 N E 100th St #205 - Disk and letter	35.00
06/06/16	Court Costs - ACE Attorney Service, Inc Re: RG16808690 - save day pdf filing - 04/18/16	88.25
06/08/16	Postage	3.15
06/08/16	Copying Expense	1.80
06/10/16	Postage	2.70
06/10/16	Copying Expense	9.00
06/13/16	Travel Expenses - Gearin, Michael - Ground Transportation - 2016- 05-11 - Creditors Meeting Taxi	10.00
06/13/16	Travel Expenses - Gearin, Michael - Parking - 2016-05-20 - Parking 5 20 hearing	16.00
06/13/16	Travel Expenses - Gearin, Michael - Parking - 2016-05-31 - Taxi to 5 31 hearing	10.00
06/14/16	Local Courier - Delivery To: Daniel J. Bugbee @155 NE 100th St Ste. 205 - Washington Legal Messengers - 05132016	60.00
06/15/16	CD ROM Expenses	50.00
06/15/16	CD ROM Expenses	1,875.00
06/15/16	Westlaw - LLS - 06/09/2016 - 06/15/2016	1,558.69
06/17/16	Copying Expense	1.00

Invoice # 3282183 2070561 Page 42 of 42

DATE	DESCRIPTION	AMOUNT
06/17/16	CD ROM Expenses	350.00
06/20/16	Westlaw - BTP - 06/01/2016 - 06/20/2016	308.13
06/20/16	Travel Expenses - Evans, Denise - Ground Transportation - 2016- 06-01 - OT Uber ride home	33.67
06/21/16	Copying Expense	0.20
06/21/16	Copying Expense	64.80
06/21/16	Westlaw - BTP - 06/07/2016 - 06/21/2016	488.09
06/23/16	Copying Expense	2.00
06/28/16	Copying Expense	165.20
06/28/16	Travel Expenses - Neu, David - Parking - 2016-06-22 - 6 22 hearing parking	18.00
06/28/16	Travel Expenses - Neu, David - Parking - 2016-06-17 - Parking for 6 17 hearing	12.00
06/28/16	USBC Audio CD of May 6 Hearing	30.00
06/28/16	Ahearn & Associates - May 27 hearing transcript	300.25
06/28/16	Ahearn & Associates - May 20 hearing transcript	566.25
06/28/16	Reversal from Cancelled Voucher 1931339	(30.00)
06/28/16	Reversal from Cancelled Voucher 1931341	(300.25)
06/28/16	Reversal from Cancelled Voucher 1931348	(566.25)
06/28/16	Ahearn & Associates - May 27 hearing transcript	300.25
06/28/16	USBC Audio CD of May 6 Hearing	30.00
06/28/16	Ahearn & Associates - May 20 hearing transcript	566.25
06/29/16	Westlaw - DCN - 06/10/2016 - 06/29/2016	4,839.00
06/29/16	Westlaw - BTP - 06/23/2016 - 06/29/2016	292.52
06/30/16	CD ROM Expenses	50.00
	DISBURSEMENTS & OTHER CHARGES \$	13,064.15

MATTER SUMMARY

Disbursements and Other Charges	\$_	13,064.15
MATTER TOTAL	\$ _	13,064.15

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : August 8, 2016

Invoice Number : 3282117

Services Through : June 30, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 28,159.50 Disbursements and Other Charges \$ 980.80

Total Amount Due This Matter \$ 29,140.30

CURRENT INVOICE DUE - All Matters \$ 29,140.30

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$29,140.30

DATE	NAME	HOURS	DESCRIPTION
06/02/16	R. M. Tausend	2.40	Strategize with M. Gearin regarding discovery relating to Medallic in preparation for hearing on motions and identify potential action items and proposed plan for same (1.0); analyze materials relating to document requests to Northwest Territorial Mint and response in support of same (1.0) participate in call with buyers' counsel for portion addressing issues relating to legacy documents at sold facility (0.4)
06/03/16	R. M. Tausend	1.40	Meeting with Trustee and call with P. Wagner, CIO regarding discovery requests and plan for hearing relating to same; draft plan for onsite hard copy files
06/06/16	R. M. Tausend	7.10	Onsite inventory and collection of materials from R. Hansen office in Federal Way; high level review relating to findings and document production steps with M. Calvert; strategize with M. Gearin regarding document collection and production and draft order; review and provide comments on draft order; communications with NWTM personnel (J. Bell, M. Flynn, D. Huffman, P. Wagner) regarding document collection and related matters
06/07/16	L.E. Steidl	0.50	Analyze client hard copy collections from legal department and Ross Hansen and provide detailed instruction to technical team and vendor regarding imaging of same in preparation for review and production
06/07/16	R. M. Tausend	3.10	Call with A. Trunkett regarding Medallic 2004 order to identify potentially responsive documents for collection from her and other legacy Accounting personnel data stores (1.0); emails from and to P. Wagner and call with P. Wagner regarding status of electronic document searches and collections, analyze Medallic Sales record export and identify questions regarding same in anticipation of

DATE	NAME	HOURS	DESCRIPTION
			production to J. Stehlik (1.7); review emails from J. Stehlik regarding proposed discovery order and respond to questions from M. Gearin regarding same (0.2); address questions relating to sources and organization of hard copy file collections in anticipation of production to J. Stehlik (0.2)
06/08/16	C. M. Kuffel	0.60	Load R. Hansen and legal department imaged hard copy files in Ringtail database per L. Steidl's request in preparation for review and production
06/08/16	S. A. Smith	1.00	Prepare materials, customize scripts and procedures for office collections using our Harvester collection tool at client's office
06/08/16	L.E. Steidl	2.70	Assist in collection of ESI from A. Trunkett laptop and mapped drives, and from QuickBooks data thumb drive, and analyze Trunkett hard copy collections to provide detailed instruction to technical team and vendor regarding imaging of same in preparation for review and production
06/08/16	R. M. Tausend	3.10	Meet with A. Trunkett to review and collect hard copy files and identify and confirm strategy and plan for collection of ESI; conferences with P. Wagner regarding QuickBooks and other electronic file collections; review and edit proposed draft order and strategize with M. Gearin regarding responses to J. Stehlik questions; analyze legal files to confirm plan for review and production and identify potential witnesses; meet with M. Gearin regarding same
06/08/16	R. M. Tausend	0.90	Meet with A. Trunkett to review and collect hard copy files and identify and confirm strategy and plan for collection of ESI; conferences with P. Wagner regarding QuickBooks and other electronic file collections; review and edit proposed draft order and strategize with M. Gearin regarding responses to J. Stehlik questions; analyze legal files to confirm plan for review and production and identify potential witnesses; meet with M. Gearin regarding same
06/09/16	J. M. Connor	0.40	Perform complex operations to import electronic hard copy documents for custodian R. Hansen into Ringtail in preparation for attorney review and production per the request of L. Steidl

DATE	NAME	HOURS	DESCRIPTION
06/09/16	L.E. Steidl	3.80	Review, mark, and redact imaged hard copy files for responsiveness and privilege in preparation for production
06/09/16	R. M. Tausend	3.10	Prepare for and lead call with J. Stehlik regarding ESI protocol in accordance with discovery order (0.7); email to J. Stehlik memorializing discussion (0.3); review documents to analyze and develop recommendations regarding privilege and scope issues, strategize with M. Gearin regarding same, summarize plan and strategize with L. Steidl regarding execution of same and hard copy productions (2.1)
06/10/16	G. Hein	1.20	Prepare and QC multiple segments composing volume 1 hard copy files production, to confirm compliance with applicable production specifications per the discovery order and agreement with J. Stehlik
06/10/16	T. S. Milne	2.50	Electronically produce first set of Northwest Territorial Mint had copy documents re Medallic out of litigation support database to J. Stehlik in accordance with the discovery order and agreement with opposing counsel regarding production specifications and timing
06/10/16	L.E. Steidl	3.10	Review, mark, and redact hard copy files re Medallic for responsiveness and privilege in preparation for production and provide detailed instruction and supervision to technical team for preparation, export, QC, and delivery of production images and data
06/10/16	R. M. Tausend	0.40	Review and respond to M. Gearin requests and inquiries relating to document collection and production in response to Medallic 2004 order (0.2); address potential open items relating to production of Legal Office and Ross Hansen Office files to best ensure timely completion of production in accordance with order and communications with J. Stehlik (0.2)
06/13/16	J. M. Connor	0.50	Perform complex operations to import electronic hard copy documents for custodian A. Trunkett into Ringtail in preparation for attorney review and production per the request of L. Steidl

DATE	NAME	HOURS	DESCRIPTION
06/13/16	L.E. Steidl	1.30	Assist J. Stehlik to download and view Trustee production materials in response to his requests (0.5); review and organize A. Trunkett files in preparation for production (0.5); confer with R. Tausend and A. Trunkett regarding details for completion of collection of NWTM ESI for review and production (0.3)
06/13/16	R. M. Tausend	2.20	Review and respond to email from J. Stehlik regarding 1st production, including review of related communications from e-DAT technical team providing J. Stehlik with assistance to confirm resolution of request (0.2); email to P. Wagner regarding sales records and other remaining ESI collection and production items and review collection notes and records in support of same (0.4); emails with A. Trunkett regarding hard copy and ESI files (0.2); analyze potential privilege and responsiveness issues identified by L. Steidl, confirm strategy and plan with M. Steidl and provide guidance regarding same (1.1); email to M. Calvert regarding document collection and production status and open items and review notes and records in support of same (0.3)
06/14/16	M. Bassetti	0.50	Prepare and QC multiple segments composing volume 2 hard copy files production, to confirm compliance with applicable production specifications per the discovery order and agreement with J. Stehlik
06/14/16	T. S. Milne	1.50	Electronically produce second set of Northwest Territorial Mint had copy documents re Medallic (volume NWTM002) out of litigation support database to J. Stehlik in accordance with the discovery order and agreement with opposing counsel regarding production specifications and timing
06/14/16	L.E. Steidl	1.50	Review, organize and mark A. Trunkett hard copy files for production and privilege and provide detailed instructions to technical team regarding preparation, export, QC and delivery of production images and data
06/14/16	R. M. Tausend	0.20	Address questions relating to production of remaining hard copy files ad status of ESI collection to ensure timely completion of productions in accordance with 2004 order; review communications between L. Steidl and J. Stehlik regarding A. Trunkett hard copy production in support of same

DATE	NAME	HOURS	DESCRIPTION
06/17/16	L.E. Steidl	0.20	Address issues with extraction of Medallic information from supplemental QuickBooks collections
06/17/16	R. M. Tausend	2.40	Draft email to M. Calvert providing update on Medallic 2004 Order response and requesting approval to proceed with respect to ESI collection(0.7); review communications from P. Wagner, J. Bell and A. Trunkett in support of same (0.4); draft memorandum summarizing document collection processes (1.3)
06/21/16	L.E. Steidl	0.30	Address issues with extraction of Medallic information from supplemental QuickBooks collections (0.1); analyze new targeted collection file from client to determine whether already represented in case productions from other sources (0.2)
06/21/16	R. M. Tausend	1.90	Communications to and from P. Wagner regarding sales data (0.3); analyze sales data to confirm resolution of prior content questions and make recommendations relating to production and other follow up (1.0); email to M. Gearin outlining same (0.2); email to and from M. Calvert regarding ESI collection plan, status and options (0.2); strategize with M. Gearin regarding document review and production relative to depositions (0.2)
06/22/16	L.E. Steidl	0.50	Assess and strategize regarding efforts necessary to complete ESI collections including extraction of correct and complete Medallic information from client QuickBooks files
06/22/16	R. M. Tausend	0.50	Conference with M. Gearin regarding document collection, review and production; email to L. Steidl addressing open items and next steps relating to same
06/23/16	L.E. Steidl	0.40	Review engagement letter withheld from production as privileged, and confer with R. Tausend and B. Peterson to discuss legal justifications and strategies for disclosure of key information while protecting client privilege (0.3); address issues related to completion of ESI collections from client, including structured financial data (0.1)

DATE	NAME	HOURS	DESCRIPTION
06/23/16	R. M. Tausend	1.90	Strategize with M. Gearin and B. Peterson regarding discovery responses, subpoena to Allison MacKenzie firm and related issues; analyze database search and documents in support of same; email to P. Wagner outlining open items for ESI collection and review reports in support of same
06/24/16	L.E. Steidl	0.50	Confer with R. Tausend and technical team to address outstanding collection issues and develop strategies and timelines for completing processing and productions from same (0.4); call with P. Wagner to discuss content and delivery of ESI collection drive and options for obtaining necessary information from QuickBooks systems (0.1)
06/24/16	R. M. Tausend	0.40	Call with P. Wagner regarding ESI collections status and related open items in connection with Medallic 2004 order and strategize with L. Steidl regarding next steps (0.3); review email from T. Lerner regarding D. Bressler / Medallic document production (0.1)
06/28/16	S.E. Selin	2.20	Collect records from QuickBooks systems (1.3); confer with client and R. Tausend regarding same (0.5); email correspondence regarding collections (0.4)
06/28/16	L.E. Steidl	1.00	Address issues related to collection of Medallic financial data from client QuickBooks environment, including discussion with client IT personnel and K&L Gates staff regarding extraction of Medallic information from client QuickBooks files (0.2); analyze collection data for potential gaps in collection and to identify relevant data sets to be prepared for review and production (0.8)
06/29/16	L.E. Steidl	0.80	Analyze collection data to determine potential gaps in collection and to identify relevant data sets to be prepared for review and production
06/29/16	R. M. Tausend	1.20	Email to M. Gearin summarizing findings in response to requests relating to D. McDermott in preparation for meeting with D. Bressler (0.6); analyze summary report regarding ESI collection from NWTM IT and A. Trunkett and identify potential open items to complete discovery (0.6)

DATE	NAME	HOURS	DESC	RIPTI	ON	
06/30/16	L.E. Steidl	2.70	Confer with R. Tausend regarding outstanding collection and discovery tasks (0.7); analyze collection data to determine potential gaps in collection and to identify relevant data sets to be prepared for review and production, including following up with A. Trunkett regarding supplementing collection of requested email (2.0)			
06/30/16	R. M. Tausen	d 1.60	Meeting with L. Steidl to strategize regarding remaining collection, review and production open items and develop plan to address same (0.7); analyze database reports and documents in connection with same (0.7); emails emails to P. Wagner and E. Chacon regarding ESI repositories for certain custodians, including former personnel (0.2)			
		TOTAL FEES		63.5	0 hrs	\$ 28,159.50
		TIMEKEEP	ER SUN	/MAR	<u>Y</u>	
M. Bassetti		0.50	hrs at	\$	90.00 / hr	45.00
J. M. Conno G. Hein	or	0.90 1.20	hrs at hrs at	\$ \$	270.00 / hr 125.00 / hr	243.00
C. M. Kuffe	I	0.60	hrs at	Ф \$	235.00 / hr	150.00 141.00
T. S. Milne		4.00	hrs at	φ \$	175.00 / hr	700.00
S.E. Selin		2.20	hrs at	\$	350.00 / hr	770.00
S. A. Smith		1.00	hrs at	\$	235.00 / hr	235.00
L.E. Steidl		19.30	hrs at	\$	395.00 / hr	7,623.50
R. M. Tause	end	33.80	hrs at	\$	540.00 / hr	18,252.00
		TOTAL FEES		63.5	0 hrs	\$ 28,159.50

Invoice # 3282117 2070561 Page 9 of 9

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT			
06/28/16	Outside Copies (scanning/imaging of collected hard copy files)/R. Hansen & Legal) - Professional Document Services - Altep California, LLC - 06102016	749.27			
06/28/16	Odviside Copies (scanning/imaging of collected hard copy files/A. Trunkett) - Professional Document Services - Altep California, LLC - 06102016				
	DISBURSEMENTS & OTHER CHARGES	980.80			
MATTER SUMMARY					
Fees Disburseme	28,159.50 980.80				
MATTER TO	29,140.30				

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : August 12, 2016

Invoice Number : 3283885 Services Through : July 31, 2016 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Anal	ysis and	Recovery	(70010)
-------------------	----------	----------	---------

Fees	\$ <u>24,217.50</u>	
Total Amount Due This Matter		\$ 24.217.50

Asset Disposition (70020)

rees	\$ <u>14,343.00</u>	
Total Amount Due This Matter		\$ 14 343 00

Case Administration (70040)

Fees	\$ 12,636.00	
Total Amount Due This Matter		\$ 12.636.00

Claims, Administration and Objections (70050)

rees	Ф	8,160.50		
Total Amount Due This Matter			\$	8,160.50

0 400 50

Fee/Employment Applications (70070)

Fees	\$	869.50	
Total Amount Due This Matter	·		\$ 869.50

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

		IIIVOI	2070561 Page 2 of 36
Litigation (70100)			
Fees Total Amount Due This Matter	\$ <u>22,554.50</u>	\$	22,554.50
Trustee v Medallic Art Co LLC/ Ross Hans	sen (70101)		
Fees Total Amount Due This Matter	\$ <u>10,010.50</u>	\$	10,010.50
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$ 8,764.00	\$	8,764.00
Cohen v Hansen, NW Territorial Mint et al, (70103)	King County Case		
Fees Total Amount Due This Matter	\$ <u>61.50</u>	\$	61.50
Meetings and Communications with Credi	tors (70110)		
Fees Total Amount Due This Matter	\$ 3,622.50	\$	3,622.50
Plan and Disclosure Statement (70120)			
Fees Total Amount Due This Matter	\$ <u>630.00</u>	\$	630.00
Relief From Stay and Adequate Protection	ı (70130)		
Fees Total Amount Due This Matter	\$ <u>11,194.50</u>	\$	11,194.50

Invoice # 3283885

CURRENT INVOICE DUE - All Matters

Invoice # 3283885 2070561 Page 3 of 36 Tax (70140) Fees 102.50 **Total Amount Due This Matter** \$ 102.50 Assumption and Rejection of Leases and Contracts (70150) Fees 6,322.50 **Total Amount Due This Matter** \$ 6,322.50 **Reporting (70210)** Fees 82.00 \$ 82.00 **Total Amount Due This Matter** Costs (99999) Disbursements and Other Charges 8<u>,365.84</u> **Total Amount Due This Matter** \$ 8,365.84

\$ <u>131,936.84</u>

Asset Analysis and Recovery (70010)

\$24,217.50

DATE	NAME	HOURS	DESCRIPTION
07/01/16	S.H. Coonrod	1.20	Conversation with M. Gearin (0.3); review of LLC agreement and prep of email regarding same (0.9)
07/01/16	M. C. Perez-Vargas	0.50	Initial meeting about project scope with M. Gearin
07/04/16	M. C. Perez-Vargas	0.70	Began research for on Nevada law regarding transfer of membership interest in LLC
07/05/16	S.H. Coonrod	1.50	Prep, finalize and dispatch email to M. Gearin re Nevada LLC law and analysis
07/05/16	S.M. Freburg	0.40	Review Nevada website for information on status of corporate license of Medallic Art Company LLC and Medallic Art Corporation and report findings to S. Coonrod
07/05/16	M.J. Gearin	0.60	Research regarding transfer of LLC membership interest
07/05/16	T. S. Miller	2.50	Research choice of law principles applicable to bankruptcy courts (.9); review second restatement general factors, as well as the factors applicable to fraudulent transfers and constructive trusts specifically (.9); research cases that apply conflict of law principles in these contexts (.7)
07/05/16	T. S. Miller	4.10	Review and research additional secondary sources that discuss shifting fiduciary duties of corporate directors (1.1); read leading cases to understand the general principles underlying the "shifting duties" doctrine (1.3); research "shifting duties" doctrine in the context of limited liability companies in Delaware, Washington, and Nevada (1.1); research Washington cases that apply "shifting duties" doctrine (.6)
07/05/16	M. C. Perez-Vargas	4.30	Research on the transfer of interest in limited liability corporations in Nevada
07/06/16	S.H. Coonrod	0.30	Conversation with M. Gearin; review of associate review of Nevada LLC statute
07/06/16	M.J. Gearin	2.10	Analysis of issues relating to recovery of Medallic membership interests

DATE	NAME	HOURS	DESCRIPTION
07/06/16	T. S. Miller	0.00	Organize research (.2); research whether "shifting duties" doctrine could create rights that are only exercised in bankruptcy (.6); discuss research with M. Gearin (.6) (No Charge)
07/06/16	T. S. Miller	0.90	Research mechanism for enforcing a constructive trust (.9)
07/06/16	M. C. Perez-Vargas	2.30	Finish editing research summary and send to M. Gearin and S. Coonrod (2.0); meeting with M. Gearin (0.3)
07/07/16	D. A. Evans	0.40	Preparation of subpoena for deposition for J. Beitey
07/07/16	M.J. Gearin	1.10	Review research regarding creditors rights to realize on membership interest in Nevada LLC (0.8); call with R. Mitchell regarding asset recovery matters (0.3)
07/07/16	T. S. Miller	4.70	Research and summarize Washington cases that involve LLC derivative lawsuits/claims (1.8); Research and summarize Washington cases that involve constructive trusts (2.9)
07/08/16	S.H. Coonrod	0.50	Review of order (0.2); conversation with M. Gearin (0.3)
07/08/16	D. A. Evans	0.30	Finalize subpoena for J. Beitey and send for service on same
07/08/16	T. S. Miller	2.60	Research and summarize cases related to constructive trusts and breaches of fiduciary duties in Washington (2.6)
07/11/16	T. S. Miller	4.20	Research additional cases in which constructive trusts were imposed for a breach of fiduciary duties (1.6); research statutory and case law authority relating to the fiduciary duty to account in the LLC context and more generally (2.6)
07/11/16	M. C. Perez-Vargas	0.70	Look up Nevada LLC statute sections on transitioning membership and dissolution
07/12/16	T. S. Miller	1.10	Organize and clarify case summaries for constructive trusts, particularly for cases involving constructive trusts as a remedy for breach of fiduciary duties (1.1)
07/13/16	T. S. Miller	3.20	Organize notes and discuss results of constructive trust and fiduciary duties research with M. Gearin and B. Peterson (.8); conference call with M. Gearin, B. Peterson, and T. McDonald to discuss financial records (2.4)
07/15/16	D.C. Neu	0.20	Begin drafting 2004 pleadings for D. Schwenk
07/18/16	D.C. Neu	2.60	Draft and edit motions for 2004 examinations (1); draft letter to S. Krueger regarding

DATE	NAME	HOURS	DESCRIPTION
			Olympic Trading (.7); communicate with client regarding 2004 exams (.2); revise motion and order (.4); call with creditor regarding inventory (.4)
07/19/16	D.C. Neu	0.60	Communicate with R. Powers regarding bank statements (.2); finalize motions for 2004 examination (.3)
07/19/16	B. T. Peterson	0.20	Investigate obtaining Debtor's tax returns
07/20/16	B. T. Peterson	0.30	Phone calls to IRS regarding obtaining tax returns
07/21/16	T. S. Miller	1.00	Discuss sub con and constructive trust strategy with B. Peterson and M. Gearin (1.0)
07/21/16	D.C. Neu	0.30	Communicate with R. Powers regarding bank statements
07/21/16	D.C. Neu	3.10	Research related to 2004 examination of trucking company (.3); call with trucking company (.5); review documents from trucking company (.4); call with client regarding same (.4); follow-up emails with trucking company (.3); research related to E. Akin Trucking in Placerville (.5); analysis of UPS issues (.3); draft letter related to same (.2)
07/22/16	D.C. Neu	3.80	Review bank statements (.5); communicate with R. Powers regarding discovery (.3); call with client regarding same (.4); call with T. McDonald (.7); research related to E. Gane Trucking (.6); call with creditor regarding claim (.3); review discovery for M. Parish deposition (.9)
07/25/16	M.J. Gearin	1.00	Call with J. Beitey regarding Medallic and other case issues (0.4); coordination of informal interview (0.6)
07/26/16	D.C. Neu	3.00	Call with T. McDonald regarding inventory (.4); review same (.3); communicate with M. Rice regarding same (.2); call with T. McDonald regarding discovery issues (.3); revise subpoenas to American Express (.4); review Amex statements (.5); prepare for Parish deposition (1)
07/27/16	M.J. Gearin	0.70	Interview with G. Fullington, former counsel to Mint
07/27/16	D.C. Neu	7.60	Prepare for deposition (1.7); Olympic Trading deposition (3.9); meeting to prepare for depositions and discuss action items (2)
07/27/16	B. T. Peterson	0.50	Analyze tax return issues
07/28/16	D.C. Neu	0.40	Communicate with client regarding depositions (.4)
07/31/16	D.C. Neu	0.50	Communicate with M. Gearin regarding

Invoice # 3283885 2070561 Page 7 of 36

DATE	NAME	HOURS	DESC	RIPTI	ON	
		TOTAL 5550		/ statu	xhibits (.1); revies of EEOC response	onse (.2)
		TOTAL FEES		66.0	0 hrs	\$ <u>24,217.50</u>
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>	
S.H. Coon	rod	3.50	hrs at	\$	705.00 / hr	2,467.50
D. A. Evar	ns	0.70	hrs at	\$	205.00 / hr	143.50
S.M. Frebu	urg	0.40	hrs at	\$	275.00 / hr	110.00
M.J. Geari	n	5.50	hrs at	\$	525.00 / hr	2,887.50
T. S. Miller	r	24.30	hrs at	\$	270.00 / hr	6,561.00
D.C. Neu		22.10	hrs at	\$	430.00 / hr	9,503.00
M. C. Pere	ez-Vargas	8.50	hrs at	\$	260.00 / hr	2,210.00
B. T. Peter	rson	1.00	hrs at	\$	335.00 / hr	335.00
		TOTAL FEES		66.0	0 hrs	\$ 24,217.50
			SUMM	 <u>ARY</u>		
Fees MATTER	TOTAL					\$ <u>24,217.50</u> \$ <u>24,217.50</u>

Asset Disposition (70020)

\$14,343.00

DATE	NAME	HOURS	DESCRIPTION
07/01/16	M.J. Gearin	1.90	Call with S. Coonrod regarding Medallic LLC operating agreement and transfer of membership interest (0.5); research and analysis of ability to transfer membership interest (1.1); call with T. Lerner regarding Bressler issues (0.3)
07/02/16	B. T. Peterson	1.10	Draft reply in support of break-up fee motion
07/03/16	B. T. Peterson	2.60	Draft reply in support of break up fee request
07/03/16	B. T. Peterson	0.40	Review pleadings in support of break-up fee request filed by Tom Tucker's entity
07/05/16	D. A. Evans	1.10	Work with B. Peterson on response to memorandum of breakup fee (.8); file reply to memorandum with Court (.2); voicemail to Judge's chambers regarding hearing on breakup fee (.1)
07/05/16	B. T. Peterson	1.80	Research (1.0) and draft reply in support of break-up fee motion (0.8)
07/06/16	B. T. Peterson	0.90	Settlement discussions with Jason Wax and D. Pharris
07/06/16	B. T. Peterson	1.60	Research related break-up fee motion
07/07/16	D. A. Evans	0.30	Assist in hearing preparation for hearing on break-up fee with B. Peterson
07/07/16	B. T. Peterson	2.60	Breakup fee hearing preparation
07/08/16	B. T. Peterson	3.50	Travel to and from, attend, and argue motion to approve break-up fee and landlord's motion for relief from stay
07/08/16	B. T. Peterson	1.00	Discuss outcome of hearing on motions and strategy next steps with M. Gearin
07/11/16	L. L. McClellan	0.70	Review revised lease received from Landlord (0.3); prepare redline comparison of revised lease and circulate for internal review (0.4)
07/12/16	L. L. McClellan	1.70	Prepare and send comments on Landlord's draft
07/12/16	B. T. Peterson	0.40	Email opposing counsel regarding order on relief from stay motion
07/13/16	L. L. McClellan	0.10	Review and respond to e-mail correspondence regarding status and open issues
07/14/16	B. T. Peterson	0.80	Phone call with former employee of the Debtor
07/15/16	B. T. Peterson	0.90	Review cases related to standard for approval of break-up fees
07/18/16	D. A. Evans	0.40	Draft motion and order to shorten time regarding Kent lease

DATE	NAME	HOURS	DESCRIPTION
07/19/16	M.J. Gearin	0.90	Calls with M. Smith, M. Calvert and court staff regarding entry of storage inventory order (0.60); coordinate entry of order (0.3)
07/20/16	M.J. Gearin	1.20	Review of court order on storage customer inventory (0.1); review and analysis of evidentiary submission (0.3); communications with Trustee and staff regarding supplemental declaration (0.7); call with court staff regarding attendance at hearing (0.1)
07/20/16	B. T. Peterson	1.10	Review orders entered by court and discuss strategy regarding evidentiary support for storage customer motion with M. Gearin
07/21/16	D. A. Evans	1.10	Review of thumb drive from C. Unwin (.2); email exchange with J. Cannady regarding additional thumb drive (.1); review of jeweler's block insurance regarding claims (.4); miscellaneous case administration work (.4)
07/21/16	M.J. Gearin	1.00	Calls with Trustee and committee counsel regarding stored inventory motion (0.5); prepare for hearing on motion including identification of additional evidence to be submitted (0.5)
07/22/16	D. A. Evans	2.30	Work on shorten time issues regarding notice of hearing for motion to approve Kent Lease (.3); prepare proof of service for Kent lease motion (.4); serve notice of Kent lease motion on all parties as required (.4); review and revise Kent lease motion documents and finalize for filing (.4); review and revise motion to shorten time and finalize for filing (.4); file Kent lease motion, motion to shorten time and notice of hearing with USBC (.4)
07/22/16	M.J. Gearin	1.90	Attend hearing on motion for return of stored inventory
07/22/16	B. T. Peterson	2.00	Draft pleadings in support of motion to enter into lease and reject existing lease
07/22/16	B. T. Peterson	0.40	Discuss hearing on storage customer motion with M. Gearin
07/25/16	D. A. Evans	0.80	File declaration in support of motion for Kent lease (.2); prepare and file proof of service for Kent lease motion (.4); pull copy of claim for creditor who objected to motion for M. Gearin (.2)
07/25/16	B. T. Peterson	0.40	Phone call with M. Overson regarding declaration in support of storage customer motion
07/26/16	D. A. Evans	0.80	Serve order on motion to extend lease per court order (.4); prepare and file proof of

Fees

MATTER TOTAL

Invoice # 3283885 2070561 Page 10 of 36

14,343.00

14,343.00

DATE	NAME	HOURS	DESC	RIPT	ION	
				_	arding service of r	motion to extend
			lease	(.4)		
07/26/16	B. T. Peterson	1.70			ration for R. Overs rith him	son and discuss
07/00/40	D. T. Dataman	0.00				
07/28/16	B. T. Peterson	0.20			Overson regardir regarding inventor	
	TOTA	L FEES	acolai		60 hrs	\$ <u>14,343.00</u>
TIMEKEEPER SUMMARY						
D. A. Evans	;	6.80	hrs at	\$	205.00 / hr	1,394.00
M.J. Gearin		6.90	hrs at	\$	525.00 / hr	3,622.50
L. L. McClel	llan	2.50	hrs at	\$	595.00 / hr	1,487.50
B. T. Peters	son	23.40	hrs at	\$	335.00 / hr	7,839.00
	TOTA	L FEES		39.6	60 hrs	\$14,343.00
MATTER SUMMARY						

Case Administration (70040)

\$12,636.00

DATE	NAME	HOURS	DESCRIPTION
07/01/16	M.J. Gearin	0.60	Calls with Trustee regarding multiple case administration issues
07/04/16	D. A. Evans	1.30	Review of multiple requests for special notice and update master mailing list (.3); review of pleadings filed in case and calendar dates and deadlines as necessary (.4); miscellaneous case management matters (.6)
07/05/16	D. A. Evans	0.90	Field inquiries regarding the motion to return stored inventory (.3); miscellaneous case management matters (.6)
07/06/16	M.J. Gearin	0.70	Call with M. Calvert regarding multiple case issues
07/06/16	B. T. Peterson	0.40	Email to client regarding insurance obligation
07/07/16	D. A. Evans	0.80	Review of Request for Special Notice (0.2.); update master mailing list regarding same (0.2); phone call with creditor regarding stored inventory motion (0.2); research into same for creditor; misc. case administration matters (0.2)
07/07/16	M.J. Gearin	0.60	Call with Trustee regarding case issues
07/07/16	D.C. Neu	2.40	Revise letter and exhibits to EEOC (1); call with creditor regarding claim (.6); draft email to client regarding hearing (.3); review credit card processing information (.4)
07/08/16	D. A. Evans	0.70	Follow up phone call with creditor and emails with client regarding stored inventory question (.3); miscellaneous case administration matters (.4)
07/08/16	M.J. Gearin	1.00	Call with Trustee re multiple case issues
07/11/16	D. A. Evans	2.20	Call with E. Robinson regarding stored inventory customer (.2); email to M. Gearin regarding same (.1); telephone conversation with customer (.2); follow up call with E. Robinson (.2); prepare for meeting (.4); meeting with team regarding case (1.0); email Unisearch regarding updated UCC search on Medallic (.1)
07/11/16	M.J. Gearin	1.00	Meet with K&L team regarding coordination of multiple case projects
07/11/16	D.C. Neu	1.00	Meeting to discuss task list and case status
07/11/16	B. T. Peterson	1.30	Meeting with M. Gearin and D. Neu regarding case
07/11/16	B. T. Peterson	0.40	Email correspondence with alleged storage

DATE	NAME	HOURS	DESCRIPTION
			customer
07/12/16	D. A. Evans	1.50	Phone call with stored inventory customer (.2); draft of response to J. Peterson, stored inventory customer (.3); phone call with creditor who received her money back via her credit card company (.2); receipt of mail from customer stating they had received their silver (.1); telephone conversation with E. Robinson regarding same (.2); miscellaneous case administration work (.5)
07/12/16	B. T. Peterson	0.90	Research related to ordinary course transactions
07/13/16	M.J. Gearin	0.80	Call with M. Northrup regarding case update and planning for committee meeting
07/14/16	D. A. Evans	0.90	Pull discovery documents for M. Gearin (.2); update task list for team (.3); miscellaneous case administration work (.4)
07/18/16	D. A. Evans	2.10	Draft of declaration of no objections for multiple motions scheduled for hearing (.4); finalize orders for same motions (.2); draft letter to court regarding storage customer (.3); revisions to declaration of no objections (.2); phone call with IRA purchase order customer and email documents to same (.2); file declaration of no objections with USBC and upload corresponding orders (.3); conference with M. Gearin regarding letter from attorney for storage customer (.1); draft of letter to attorney regarding client's storage agreement (.4);
07/18/16	M.J. Gearin	1.00	Calls and emails with Trustee regarding coordination of multiple initiatives
07/18/16	M.J. Gearin	1.00	Revisions to orders approving rejection of IRA purchase orders, extension to lease assumption deadline and motion to return storage inventory and submission of same
07/19/16	D. A. Evans	2.20	Issues with service of J. Beitey and new subpoena regarding same (.3); email from D. Neu regarding filing ex parte motion for 2004 exam of Freight Way (.1); finalize 2004 motion for filing with court (.1); file and serve 2004 motion with USBC (.3); upload order on storage inventory motion for entry with the court (.1); draft of motion to pay vacation pay to terminated employees (.9); miscellaneous case administration work (.4)
07/20/16	D. A. Evans	1.90	Email from process server regarding service of J. Beitey (.1); prepare notice of deposition for R. Hansen (.3); search Washington State

DATE	NAME	HOURS	DESCRIPTION
			secretary of state website for NWTM LLC formation information (.1); review of denied orders by Judge and conversation with M. Gearin regarding requirements by Judge (.4); review of letter from creditor and phone call with same (.2); email to custodian of IRA accounts (.2); serve notice of deposition of R. Hansen (.2); miscellaneous case administration matters (.4)
07/21/16	B. T. Peterson	0.20	Draft and review email regarding storage customer evidence
07/21/16	B. T. Peterson	1.00	Conference call with M. Calvert regarding action items in case
07/22/16	D. A. Evans	1.90	Review of bank statements of R. Hansen and call to Columbia Bank regarding same (.4); conference with M. Gearin regarding outcome of stored inventory motion and follow up needed regarding same (.5); email from custodian of IRA rejected purchases (.1); serve order rejecting IRA purchases on all parties per court order (.3); miscellaneous case administration matters (.6)
07/25/16	D. A. Evans	1.80	Draft notice of continued hearing on inventory storage motion (.2); draft of amended proof of service for previously filed notice of hearing on inventory storage motion (.3); meeting with M. Gearin regarding notice of continued hearing and regarding amended proof of service (.2); work on address issues for service of continued hearing (.5); telephone call with creditor who's mail was returned to NWTM (.2); miscellaneous case administration matters (.4)
07/25/16	M.J. Gearin	0.90	Multiple calls with Trustee regarding coordination of case matters
07/25/16	B. T. Peterson	0.60	Analyze storage customer and lease issues
07/26/16	D. A. Evans	4.50	Deposition preparations for multiple depositions scheduled this week (1.1); work motion to pay vacation compensation and notice of hearing regarding same with M. Gearin (.7); work with client to obtain addresses of terminated employees and prepare for service of notice to same and to special mailing matrix (.6); serve notice of hearing to all creditors as required (.4); finish confirming addresses for notice of continued hearing including phone calls with some parties (.5); file notice of continued hearing with the court (.2); send notice of continued

Invoice # 3283885 2070561 Page 14 of 36

> \$ <u>12,636.00</u> \$ <u>**12,636.00**</u>

DATE	NAME	HOURS	DESC	CRIPTION					
07/27/16	D. A. Evans	2.00	hearin IRA re on ne Finaliz (.2); p custod to Am M. Ca vacati regard Ameri teleph custor	hearing for service (.3); file proof of service of IRA rejection order per Court's order (.4); work on new subpoenas for American Express (.3) Finalize deposition preparations for M. Gearin (.2); prepare subpoenas and declarations of custodian plus cover letters for two subpoenas to American Express (.6); draft declaration of M. Calvert in support of motion to pay vacation compensation and proposed order regarding same (.5); research regarding American Express membership rewards (.3); telephone conversation with stored inventory customer (.1); miscellaneous case administration (.3)					
07/28/16	D. A. Evans	1.20	Meet with client (.2); review of American Express statements regarding membership rewards (.2); finalize motion for vacation pay for filing with court (.2); file motion and supporting documentation with USBC (.3);						
07/29/16	D. A. Evans	1.30	miscellaneous case administration work (.3) Deposition preparation and work with M. Gearin for multiple deps scheduled (.5); draft and file proof of service for notice of continued hearing on stored inventory motion (.4); misc. case administration work (.4)						
		TOTAL FEES		43.00 hrs \$\frac{12,636.00}{}					
TIMEKEEPER SUMMARY									
D. A. Evans	6	27.20	hrs at	\$ 205.00 / hr 5,576.00					
M.J. Gearir	1	7.60	hrs at	•					
D.C. Neu		3.40	hrs at	\$ 430.00 / hr 1,462.00					
B. T. Peterson		4.80	hrs at	·					
		TOTAL FEES		43.00 hrs \$\frac{12,636.00}{}					
MATTER SUMMARY									

Fees

MATTER TOTAL

Claims, Administration and Objections (70050)

\$8,160.50

DATE	NAME	HOURS	DESCRIPTION
07/05/16	D. A. Evans	2.80	Field voluminous amount of phone calls from creditors regarding notice to file claims (2.4); questions from E. Robinson regarding same issues (.4)
07/06/16	D. A. Evans	1.60	Field phone calls from creditors regarding notice of deadline to file claims
07/06/16	M.J. Gearin	0.50	Communications regarding storage inventory customer claims in response to motion
07/07/16	D. A. Evans	1.70	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date
07/08/16	D. A. Evans	3.60	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date
07/11/16	D. A. Evans	1.60	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date
07/12/16	D. A. Evans	2.30	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date
07/12/16	M.J. Gearin	1.10	Communications regarding storage customer issues including email exchange with J. Peterson regarding stored inventory
07/13/16	D. A. Evans	1.80	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date (1.4); handle claims mailed directly to our office instead of the Court (.4)
07/13/16	M.J. Gearin	0.60	Communications with storage customers regarding storage return motion
07/14/16	D. A. Evans	1.20	Field phone calls, voice mails and emails from creditors regarding notice of claims bar date
07/15/16	D. A. Evans	0.90	Field phone calls and voicemails regarding bar date notice (.6); forward claims received at KLG to bankruptcy court for entry with Court (.3)
07/18/16	D. A. Evans	0.70	Field phone calls and emails from creditors regarding notice of proof of claim deadline and filing of claims
07/19/16	D. A. Evans	1.20	Field telephone calls and emails from creditors regarding claims bar date notice
07/20/16	D. A. Evans	0.90	Field phone calls and voicemails from creditors regarding notice of claims bar date and claims questions
07/20/16	B. T. Peterson	0.20	Draft email regarding evidentiary hearing on administrative expense claim
07/21/16	D. A. Evans	1.30	Field phone calls and voicemails from creditors (.7); review and catalog proofs of

Invoice # 3283885 2070561 Page 16 of 36

> 8,160.50 **8,160.50**

DATE	NAME	HOURS	DESC	CRIPTION					
			claim	(.6)					
07/22/16	D. A. Evans	0.80	Email from E. Robinson regarding request to						
				search for proofs of claim re multiple creditors					
				earch for and provide copies of proofs of					
07/05/40	D 4 Evens	4.00		to E. Robinson (.7)					
07/25/16	D. A. Evans	1.30	Field phone calls and emails from creditors (.3); deal with claims mailed directly to our						
			office (.3); review and catalog proofs of claim						
			(.7)						
07/26/16	M.J. Gearin	0.50	Communications regarding Atwell stored						
			invent	• •					
07/26/16	M.J. Gearin	1.50	Work	on pleadings in support of motion to pay					
			Tomball vacation pay						
07/26/16	B. T. Peterso	n 0.70		ze issues related to evidentiary hearing					
				ministrative claim of landlord					
07/27/16	D. A. Evans	1.60		phone calls and emails from creditors					
				eview and catalog proofs of claim (.8); s from E. Robinson regarding creditors					
				s and research re same (.3)					
07/27/16	M.J. Gearin	0.50		ions to vacation pay approval motion					
07/28/16	D. A. Evans	0.20	Field phone calls from creditors						
07/29/16	D. A. Evans	0.80	Field phone calls and emails from creditors						
017=07.10	21711 2101110	0.00	and from client regarding claims filed with the						
			Court						
		TOTAL FEES		31.90 hrs \$ <u>8,160.5</u>					
		TIMEKEEP	ER SUN	MMARY					
									
D. A. Evans	S	26.30	hrs at	\$ 205.00 / hr 5,391.5					
M.J. Gearir	า	4.70	hrs at	\$ 525.00 / hr 2,467.5					
B. T. Peterson			hrs at	\$ 335.00 / hr301.5					
		TOTAL FEES		31.90 hrs \$ <u>8,160.5</u>					
MATTER SUMMARY									

Fees

MATTER TOTAL

Invoice # 3283885 2070561 Page 17 of 36

Fee/Employment Applications (70070)

\$869.50

DATE	NAME	HOURS	DESC	RIPT	ION			
07/20/16	D. A. Evans	0.40	Meeting with M. Gearin to discuss fee application					
07/22/16	M.J. Gearin	1.50	Work on fee application and billing materials					
		TOTAL FEES	• •			•	869.50	
TIMEKEEPER SUMMARY								
D. A. Evans		0.40	hrs at	\$	205.00 /	hr		82.00
M.J. Gearin		1.50	hrs at	\$	525.00 /	hr		787.50
		TOTAL FEES		1.9	90 hrs		\$	869.50
MATTER SUMMARY								
Fees							\$	869.50
MATTER TO	OTAL						\$	869.50

Invoice # 3283885 2070561 Page 18 of 36

Litigation (70100)

\$22,554.50

DATE	NAME	HOURS	DESCRIPTION
07/11/16	D. A. Evans	0.70	(Achord complaint) Conference with M. Gearin and B. Peterson regarding complaint filed (.1); review of local court rules regarding deadline to file complaint to discharge (.2); voicemail to and telephone conversation with clerk of the court regarding same (.3); follow up email to M. Gearin and B. Peterson (.1)
07/11/16	M.J. Gearin	1.70	Call with M. Calvert regarding litigation and contempt motion planning (0.5); call with J. Frush regarding discovery matters (0.4); coordination of document production on litigation matters (0.5); coordinate Beitey discovery (0.3)
07/11/16	M.J. Gearin	0.70	Review and analysis of adversary proceeding alleging nondischargeability of claim; research regarding applicability to corporate debtor
07/12/16	M.J. Gearin	0.30	Communications with J. Frush regarding deposition scheduling and motion continuance issues; communications with Trustee regarding same
07/13/16	D. A. Evans	0.90	Drafting of notice of continued hearing on contempt motion (.2); file same with USBC and send for service (.4); telephone conference with M. Gearin and process server regarding service of J. Beitey and research of potential address in prior case (.3)
07/13/16	D. A. Evans	0.70	(Achord complaint) Drafting of notice of appearance (.3); file notice of appearance with USBC and send for service (.2); review of summons and calendar answer deadline (.2)
07/13/16	B. T. Peterson	0.80	Review and research nondischargeability complaint
07/13/16	B. T. Peterson	2.90	Discuss nondischargeability complaint with M. Gearin & T. Miller
07/14/16	B. T. Peterson	1.50	Draft letter response to plaintiff who filed nondischargeability complaint
07/17/16	B. T. Peterson	0.10	Review correspondence regarding Debtor's bank account records
07/19/16 07/20/16	B. T. Peterson M.J. Gearin	0.10 0.80	Discuss contempt motion with M. Gearin Communications with Trustee regarding discovery and litigation of contempt motion (0.7); prepare notice of deposition for R. Hansen in connection with contempt motion (0.1)

DATE	NAME	HOURS	DESCRIPTION
07/21/16	M.J. Gearin	1.20	Calls with Trustee and M. Northrup regarding sanctions motion (0.7); preparations for depositions of Trustee and witnesses (0.5)
07/22/16	L. A. Diersen	3.60	Electronically produce "JG-003" out of litigation support database per the request of L. Steidl for production to opposition
07/22/16	M.J. Gearin	1.50	Communications with M. Northrup and M. Calvert regarding motion for contempt
07/22/16	B. T. Peterson	0.30	Phone call to opposing counsel regarding nondischargeability complaint
07/24/16	L. A. Diersen	1.10	Organize, stage and load documents for "Quickbook" as requested by L. Steidl
07/25/16	M.J. Gearin	1.20	Communications regarding depositions in connection with contempt motion (0.4); preparations for defense of Calvert deposition (0.8)
07/25/16	B. T. Peterson	0.30	Phone call regarding deposition scheduling
07/26/16	M.J. Gearin	2.50	Review of documents and pleadings in preparation for deposition of M. Calvert
07/26/16	M.J. Gearin	0.30	Communications with J. Frush regarding deposition scheduling and litigation matters
07/26/16	B. T. Peterson	0.10	Edit letter to opposing counsel regarding nondischargeability complaint
07/26/16	B. T. Peterson	0.40	Analyze contempt motion issues
07/27/16	M.J. Gearin	4.10	Meet with witnesses, M. Calvert, A. Trunkett, D. Krum and D. Huffman regarding deposition preparations
07/28/16	M.J. Gearin	4.70	Attend deposition of Trustee in connection with contempt motion
07/28/16	M.J. Gearin	0.80	Prepare for deposition of R. Hansen
07/28/16	D.C. Neu	1.80	Meeting with M. Gearin regarding deposition issues (.5); review cash reports (.3); meeting with M. Gearin regarding same (.3); review documents in preparation for depositions (.6)
07/28/16	B. T. Peterson	1.60	Draft fraudulent transfer complaint against third parties
07/28/16	B. T. Peterson	0.10	Call to opposing counsel regarding discovery
07/28/16	B. T. Peterson	0.60	Analyze factual issues related to contempt motion
07/29/16	M.J. Gearin	4.40	Prepare for and attend depositions of Trunkett and Krum
07/29/16	M.J. Gearin	1.20	Review Hansen response to contempt motion (0.7); meet regarding preparation of reply (0.5)
07/29/16	D.C. Neu	3.70	Prepare for and defend depositions of P. Wagner and D. Huffman (3.7)
07/29/16	B. T. Peterson	2.10	Draft complaint alleging causes of action against third parties

Invoice # 3283885 2070561 Page 20 of 36

DATE	NAME	HOURS	DESCRIPTION
07/29/16	B. T. Peterson	1.50	Review and analyze evidentiary issues related to contempt motion
07/31/16	M.J. Gearin	2.50	Prepare for deposition of R. Hansen
	TOTAL	FEES	52.80 hrs \$ <u>22,554.50</u>

TIMEKEEPER SUMMARY

L. A. Diersen	4.70	hrs at	\$	195.00 / hr		916.50
D. A. Evans	2.30	hrs at	\$	205.00 / hr		471.50
M.J. Gearin	27.90	hrs at	\$	525.00 / hr		14,647.50
D.C. Neu	5.50	hrs at	\$	430.00 / hr		2,365.00
B. T. Peterson	12.40	hrs at	\$	335.00 / hr		4,154.00
	TOTAL FEES		52.8	30 hrs	\$_	22,554.50

MATTER SUMMARY

Fees	\$ <u>22,554.50</u>
MATTER TOTAL	\$ <u>22,554.50</u>

Trustee v Medallic Art Co LLC/ Ross Hansen (70101)

\$10,010.50

DATE	NAME	HOURS	DESCRIPTION
07/01/16	M.J. Gearin	0.90	Call with T. McDonald regarding factual support for Medallic claims
07/05/16	M.J. Gearin	1.30	Meet with T. McDonald regarding Medallic claims factual support
07/07/16	M.J. Gearin	0.90	Review of materials and case law in preparation for draft of Medallic complaint
07/08/16	M.J. Gearin	1.50	Communications regarding document production with Allison McKenzie and counsel for Medallic (0.5); communications regarding deposition scheduling (0.3); review and analysis of constructive trust research (0.7)
07/11/16	D. A. Evans	0.40	Conference with M. Gearin regarding change of deposition date (.1); draft second amended notice of deposition (.2); send for service on opposing party (.1)
07/12/16	M.J. Gearin	0.80	Medallic document review and examination of payment records (0.5); analysis of issues in connection with draft of complaint (0.3)
07/13/16	M.J. Gearin	2.10	Extended call with T. McDonald and A. Trunkett regarding development of evidence in support of claims
07/13/16	M.J. Gearin	0.50	Communications with J. Cavilia, J. Frush and T. Bucknell regarding document production from Allison McKenzie
07/13/16	B. T. Peterson	2.40	Phone conference with client regarding factual basis for claims against Medallic and R. Hansen
07/14/16	B. T. Peterson	1.90	Analyze legal issues related to possible claims against R. Hansen and Medallic
07/15/16	B. T. Peterson	1.70	Research and analyze potential causes of action against Ross Hansen and Medallic
07/17/16	B. T. Peterson	0.30	Research related to potential causes of action against Medallic
07/18/16	D. A. Evans	0.60	Conference with M. Gearin and B. Peterson regarding Columbia Bank documents (.1); search through discovery regarding same (.3); meeting with M. Gearin and R. Tausend regarding documents (.2)
07/18/16	M.J. Gearin	0.90	Communications with Allison McKenzie firm and J. Frush regarding document production (0.5); communications with A. Orth regarding agreed order on 2004 motion and revisions to proposed form of order (0.4)

Invoice # 3283885 2070561 Page 22 of 36

DATE	NAME	HOURS	DESCRIPTION			
07/20/16	M.J. Gearin	1.40	Review and analysis of document production from Allison McKenzie (1.1); communications regarding court disposition of Medallic 2004 request (0.3)			
07/21/16	M.J. Gearin	2.10	Review and analysis of documents produced by Allison McKenzie			
07/21/16	M.J. Gearin	1.30	Meet with B. Peterson and T. Miller regarding research and drafting of complaint			
07/21/16	B. T. Peterson TOTAL	1.50 FEES	Analysis of causes of action against Medallic 22.50 hrs \$\frac{10,010.}{}			

TIMEKEEPER SUMMARY

D. A. Evans	1.00	hrs at	\$	205.00 / hr	205.00
M.J. Gearin	13.70	hrs at	\$	525.00 / hr	7,192.50
B. T. Peterson	7.80	hrs at	\$	335.00 / hr	2,613.00
	TOTAL FEES		22.5	0 hrs	\$ 10,010.50

MATTER SUMMARY

Fees \$ 10,010.50 MATTER TOTAL \$ 10,010.50

Invoice # 3283885 2070561 Page 23 of 36

Trustee v Diane Erdmann (70102)

\$8,764.00

FEES

DATE	NAME	HOURS	DESC	RIPT	TON		
07/01/16	D.C. Neu	0.50	Trial p	repai	rations for Erdma	nn trial	
07/05/16	D. A. Evans	1.70	Prepa	re ad	ditional exhibit for	r evider	ntiary
); call chambers r		
			testim	ony c	of P. Wagner (.2);	observ	e D.
			Erdma	ann a	nd R. Hansen rev	viewing	NWTM
			docun	nents	and make copies	of san	ne for them
			(1.2)				
07/05/16	M.J. Gearin	0.50	Consu	ılt reg	garding preparation	ns for E	Erdmann
			trial				
07/05/16	D.C. Neu	7.10	Trial p	rep fo	or Erdmann trial		
07/06/16	D. A. Evans	6.00	Final	orep f	for hearing (.5); A	ttend tr	ial
			evidentiary hearing (5.5)				
07/06/16	D.C. Neu	8.50	Erdma	ann T	rial		
		TOTAL FEES		24.	30 hrs	\$	8,764.00
		TIMEKEEP	ER SUN	/IMAF	<u>RY</u>		
D. A. Evans	i	7.70	hrs at	\$	205.00 / hr		1,578.50
M.J. Gearin		0.50	hrs at	\$	525.00 / hr		262.50
D.C. Neu		16.10	hrs at	\$	430.00 / hr		6,923.00
		TOTAL FEES		24.	30 hrs	\$	8,764.00

MATTER SUMMARY

Fees \$ 8,764.00 MATTER TOTAL \$ 8,764.00

Invoice # 3283885 2070561 Page 24 of 36

Cohen v Hansen, NW Territorial Mint et al,	King County Case
(70103)	

\$61.50

		<u>-</u>	EES					
DATE 07/14/16	NAME D. A. Evans	HOURS 0.30						
		TOTAL FEES	0.30 hrs	\$ <u>61.50</u>				
D. A. Evans			ER SUMMARY hrs at \$ 205.00 / hr 0.30 hrs	61.50 \$ 61.50				
Fees MATTER T	OTAL	MATTER	SUMMARY	\$ 61.50 \$ 61.50				

Invoice # 3283885 2070561 Page 25 of 36

Meetings and Communications with Creditors (70110)

\$3,622.50

FEES

DATE	NAME	HOURS	DESCRIPTION		
07/05/16	M.J. Gearin	1.00	Call with M. Northrup regarding case issues		
07/07/16	M.J. Gearin	0.50	Communications with creditors regarding storage motion		
07/25/16	M.J. Gearin	0.70	Call with B. Kriegman regarding A. Atwell issues		
07/27/16	M.J. Gearin	1.10	Meet with Trustee regarding revisions to agenda and preparations for committee meeting		
07/28/16	M.J. Gearin	0.80	Call with M. Northrup regarding preparations for committee meeting and case issues		
07/29/16	M.J. Gearin	2.30	Pre call with Trustee and participation in creditors committee conference call		
07/29/16	M.J. Gearin	0.50	Calls with B. Kriegman and Trustee regardin Atwell issues		
		TOTAL FEES	6.90 hrs \$ <u>3,622.50</u>		

TIMEKEEPER SUMMARY

M.J. Gearin	6.90 hrs a	at \$ 525.00 / hr		3,622.50
	TOTAL FEES	6.90 hrs	\$_	3,622.50

MATTER SUMMARY

Fees	\$ 3,622.50
MATTER TOTAL	\$ <u>3,622.50</u>

Invoice # 3283885 2070561 Page 26 of 36

Plan and Disclosure	Statement	(70120)
---------------------	-----------	---------

\$630.00

FEES

DATE	NAME	HOURS	DESCRIPTION	
07/05/16	M.J. Gearin	1.20	Meet with T. McDonald rega	rding plan
		TOTAL FEES	formulation issues 1.20 hrs	\$ 630.00
		TIMEKEEPI	ER SUMMARY	
M.J. Gearin		1.20 TOTAL FEES	hrs at \$ 525.00 / hr 1.20 hrs	\$ 630.00
		TOTALTELS	1.20 1113	φ <u>050.00</u>
		MATTER	SUMMARY	
Fees	~~			\$ 630.00
MATTER TO	OTAL			\$ <u>630.00</u>

Relief From Stay and Adequate Protection (70130)

\$11,194.50

DATE	NAME	HOURS	DESCRIPTION
07/01/16	M.J. Gearin	0.70	Consult regarding Tomball lease relief from stay motion (0.4); provide comments to supporting declarations (0.3)
07/01/16	B. T. Peterson	0.80	Draft emails related to motion for relief from stay
07/02/16	B. T. Peterson	0.30	Research related to response to motion for relief from stay filed by RETT
07/04/16	B. T. Peterson	3.30	Draft response to relief from stay motion filed by Tomball landlord
07/05/16	D. A. Evans	1.30	Work with B. Peterson on response to motion for relief from stay by RETT and related declaration (.5); prepare exhibits to declaration (.3); finalize documents for filing with court (.3); file with USBC (.2)
07/05/16	M.J. Gearin	1.20	Meet with B. Peterson regarding preparations of responses to Tucker/Cook motion for relief from stay (0.4); revisions to pleadings regarding same (0.8)
07/05/16	B. T. Peterson	7.50	Research and draft response to relief from stay motion filed by landlord RETT
07/06/16	M.J. Gearin	0.50	Consult re Tomball lease issues
07/06/16	B. T. Peterson	2.30	Research related to relief from stay motion
07/07/16	D. A. Evans	0.60	Assist in hearing preparation for hearing on landlord's motion for relief from stay with B. Peterson
07/07/16	B. T. Peterson	5.60	Preparation for relief from stay hearing (4.8) and review reply pleadings filed by landlord (0.8)
07/08/16	D. A. Evans	0.60	Conference with B. Peterson regarding drafting of order on RETT's motion for relief from stay (.1); drafting of order on motion for relief from stay (.5)
07/08/16	M.J. Gearin	0.70	Consult regarding follow up on court's ruling on Tomball landlord motion for relief from stay and adequate protection
07/08/16	B. T. Peterson	0.90	Draft email summary of hearing on relief from stay on Tomball to client
07/08/16	B. T. Peterson	1.20	Prepare for hearing on break-up fee hearing and motion for relief from stay
07/11/16	M.J. Gearin	0.50	Consult regarding Tomball evidentiary hearing and order issues
07/11/16	B. T. Peterson	1.00	Draft order on relief from stay motion and email opposing counsel regarding the same

Invoice # 3283885 2070561 Page 28 of 36

DATE	NAME	HOURS	DESCRIPTION		
07/11/16	B. T. Peterson	0.30	Discuss estate claims against Tomball landlord with M. Gearin		
07/13/16	D. A. Evans	0.30	Finalize order on RETT's motion for relief from stay and upload to Court for entry		
07/13/16	B. T. Peterson	0.10	Finalize order denying relief from stay motion		
07/15/16	D. A. Evans	0.10	Review of order denying RETT's motion for relief and forward to client		
07/17/16	B. T. Peterson	0.20	Correspondence regarding lease motion		
07/18/16	B. T. Peterson	0.80	Analyze issues related to settlement discussions with Tomball landlord		
07/18/16	B. T. Peterson	1.50	Draft analysis of settlement issues to be discussed with Tomball landlord		
07/27/16	B. T. Peterson	0.20	Draft email related to evidentiary hearing		
	TOTAL	. FEES	32.50 hrs \$ <u>11,194.50</u>		

TIMEKEEPER SUMMARY

D. A. Evans	2.90	hrs at	\$	205.00 / hr		594.50
M.J. Gearin	3.60	hrs at	\$	525.00 / hr		1,890.00
B. T. Peterson	26.00	hrs at	\$	335.00 / hr		8,710.00
	TOTAL FEES		32.5	50 hrs	\$_	11,194.50

MATTER SUMMARY

Fees	\$_	<u> 11,194.50</u>
MATTER TOTAL	\$ __	<u> 11,194.50</u>

Invoice # 3283885 2070561 Page 29 of 36

Tax (70140)	\$102.50

<u>FEES</u>					
DATE	NAME	HOURS	DESCRIPTION		
07/27/16	D. A. Evans	0.50	Fill out forms for tax return re	equest and tax	
		TOTAL FEES	transcript requests (.5) 0.50 hrs	\$102.50	
		TIMEKEEP	ER SUMMARY		
D. A. Evans		0.50	hrs at \$ 205.00 / hr	102.50	
		TOTAL FEES	0.50 hrs	\$102.50	
MATTER SUMMARY					
Fees				\$ 102.50	
MATTER TOTAL				\$ <u>102.50</u>	

Assumption and Rejection of Leases and Contracts (70150)

\$6,322.50

DATE	NAME	HOURS	DESCRIPTION
07/11/16	M.J. Gearin	0.90	Communications and analysis regarding new lease for Federal Way main offices and rejection of present lease
07/11/16	B. T. Peterson	0.40	Phone call with client regarding issues with landlord
07/12/16	M.J. Gearin	0.80	Communications regarding new Kent lease and rejection of Federal Way lease
07/13/16	M.J. Gearin	0.60	Communications regarding approval of Kent lease and rejection of Federal Way lease
07/13/16	M.J. Gearin	0.40	Review and analysis of issues raised by Auburn landlord regarding insurance considerations; email exchange with M. Heston regarding same
07/18/16	B. T. Peterson	2.20	Draft motion to assume Kent Lease
07/19/16	B. T. Peterson	1.30	Draft pleadings related to execution of lease for Kent property
07/21/16	M.J. Gearin	0.90	Coordinate motion for approval of Kent lease
07/21/16	B. T. Peterson	2.40	Draft pleadings related to motion to approve Kent lease
07/22/16	M.J. Gearin	1.20	Comments to pleadings on motion for approval of Kent lease (0.9); communications regarding rejection of Federal Way lease (0.3)
07/22/16	B. T. Peterson	0.60	Draft notice of hearing on lease motion
07/22/16	B. T. Peterson	0.20	Email correspondence with client regarding lease motion
07/25/16	M.J. Gearin	0.80	Call with M. Colabianshi regarding Federal Way lease rejection motion (0.4); communications with trustee regarding same (0.4)
07/25/16	B. T. Peterson	0.40	Finalize declaration related to motion on new lease
07/26/16	M.J. Gearin	0.70	Communications regarding windup and rejection of Federal Way lease
07/26/16	B. T. Peterson	0.10	Email to client regarding shortening time on Kent Lease motion
07/26/16	B. T. Peterson	1.40	Research case law related to obligations under Federal Way lease
	TOTAL	FEES	15.30 hrs \$ <u>6,322.50</u>

Invoice # 3283885 2070561 Page 31 of 36

TIMEKEEPER SUMMARY

M.J. Gearin	6.30	hrs at	\$	525.00 / hr	•	3,307.50
B. T. Peterson	9.00	hrs at	\$	335.00 / hr		3,015.00
	TOTAL FEES		15.30) hrs	\$	6,322.50

MATTER SUMMARY

Fees \$ 6,322.50

MATTER TOTAL \$ 6,322.50

Invoice # 3283885 2070561 Page 32 of 36

Reporting (70210)

\$82.00

DATE	NAME	HOURS	DESCRIPTION			
07/27/16	D. A. Evans	0.40	Phone call with D. Neu regarding monthly operating report (.1); review of sale documents regarding figures for report (.3)			
		TOTAL FEES	0.40 hrs	\$82.00		
		TIMEKEEP	ER SUMMARY			
D. A. Evans			hrs at \$ 205.00 / hr	82.00		
		TOTAL FEES	0.40 hrs	\$ <u>82.00</u>		
MATTER SUMMARY						
Fees				\$ 82.00		
MATTER TO	OTAL			\$ <u>82.00</u>		

Invoice # 3283885 2070561 Page 33 of 36

Costs (99999) \$8,365.84

Invoice # 3283885 2070561 Page 34 of 36

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
07/04/16	Travel Expenses - Gould, Benita - Ground Transportation - 2016-06-27 - Overtime ride home	14.12
07/04/16	Yamaguchi Obien Mangio Inv 78392 - Transcript fo	171.65
07/04/16	Yamaguchi Obien Mangio Inv 78292 - Transcript fo	389.30
07/04/16	Yamaguchi Obien Mangio Inv 78608 - transcript	886.80
07/04/16	Yamaguchi Obien Mangio Inv 78467 Transcripts Dia	1,203.83
07/04/16	Yamaguchi Obien Mangio Inv 78744 Transcipts Ross	37.15
07/04/16	Yamaguchi Obien Mangio Inv 78694 - transcripts Ro	826.05
07/05/16	Copying Expense	6.20
07/06/16	Local Courier - Courier Services for June 2016 - TC Legal Services LLC - 06302016 - 6/21 #3 Locate and Serve Donald Schwenk - Subpoena	140.00
07/06/16	Supplies	58.85
07/08/16	Copying Expense	0.80
07/08/16	Copying Expense	1.20
07/08/16	Copying Expense	1.20
07/08/16	Copying Expense	0.80
07/11/16	Copying Expense	3.20
07/11/16	Westlaw - MCPV - 07/04/2016 - 07/11/2016	52.65
07/11/16	Travel Expenses - Neu, David - Parking - 2016-07-06 - Parking	18.00
07/11/16	Document Fees - Fees to produce discovery per subpoena - Wells Fargo Bank Subpoena Proc. Dept 06212016	83.00
07/12/16	Copying Expense	2.40
07/12/16	Copying Expense	4.00
07/12/16	Westlaw - TSM - 07/03/2016 - 07/12/2016	404.30
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/29 #2 USDC - Letter to Judge Alston	7.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 5/24 #3 P @ 7509 35th Ave NE - Subpoena to Appear and Testify at a Hearing	147.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/8 #2 PU@ USBC - CD for David Neu - Benee Gould	7.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/13 #6 155 NE 100th St #205 - Discovery Production	75.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/17 #2 USBC - 3 Binders	42.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba	35.00

DATE	DESCRIPTION	AMOUNT
	HALO Messengers - 07012016 - 6/21 #1 155 NE 100th St #205 - CD	
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/21 #3 USBC - Letter and exhibit	8.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/21 #5 USBC - Letter and exhibit	8.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/24 #1 2003 Western #400 - Notice of Deposition	7.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/28 #4 PU @ 701 5th Ave#3300 - Pick up CD	29.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/30 #1 155 N E l00th St #205 - CD Production	40.00
07/12/16	Local Courier - Courier Services for June 2016 - John Sullivan dba HALO Messengers - 07012016 - 6/30 #2 PU@ USBC - CD for David Neu	8.00
07/13/16	Copying Expense	24.40
07/14/16	Other - LexisNexis Risk Data Management Inc 06302016	19.05
07/15/16	Copying Expense	2.60
07/15/16	Copying Expense	1.40
07/19/16	Copying Expense	0.20
07/19/16	Copying Expense	1.20
07/19/16	Copying Expense	1.20
07/20/16	Postage	3.15
07/20/16	Postage	36.00
07/20/16	Postage	28.60
07/20/16	Postage	4.54
07/20/16	Copying Expense	0.60
07/22/16	Copying Expense	11.40
07/22/16	Copying Expense	26.80
07/22/16	Westlaw - DCN - 07/05/2016 - 07/22/2016	1,157.56
07/25/16	Copying Expense	3.00
07/25/16	Copying Expense	1.00
07/25/16	Travel Expenses - Gearin, Michael - Parking - 2016-07-22 - Parking for Hearing	12.00
07/25/16	Travel Expenses - Gearin, Michael - Parking - 2016-07-22 - Parking for 6 22 Hearing	18.00
07/26/16	Copying Expense	37.20
07/26/16	Copying Expense	0.40

Invoice # 3283885 2070561 Page 36 of 36

DATE	DESCRIPTION		AMOUNT
07/26/16	Copying Expense	·	0.40
07/26/16	Copying Expense		40.00
07/27/16	Postage		8.55
07/27/16	Postage		45.00
07/27/16	Postage		3.45
07/27/16	Postage		46.69
07/27/16	Postage		29.70
07/27/16	Copying Expense		8.80
07/27/16	Copying Expense		3.20
07/27/16	Local Courier - 6/15 #4 155 NE 100th St #205 - Exhibits - Washington Legal Messengers - 06162016		60.00
07/28/16	Westlaw - BTP - 07/02/2016 - 07/28/2016		1,957.19
07/31/16	MC 6/1/2016 - 6/30/2016 Lexis Research		54.06
	DISBURSEMENTS & OTHER CHARGES	\$	8,365.84

MATTER SUMMARY

Disbursements and Other Charges	\$ 8,365.84
MATTER TOTAL	\$ 8,365.84

K:\2070561\00001\20892_MJG\20892\$25FC

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : August 9, 2016

Invoice Number : 3282473 Services Through : July 31, 2

Services Through : July 31, 2016 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 9,049.16 Disbursements and Other Charges \$ 162.02

Total Amount Due This Matter \$ 9,211.18

CURRENT INVOICE DUE - All Matters \$ 9,211.18

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$9,211.18

DATE	NAME	HOURS	DESCRIPTION
07/01/16	M. Bassetti	1.00	Prepare HDD and transmittal materials for shipment to client for use in document collections per request by L. Steidl
07/01/16	L.E. Steidl	0.40	Analyze collection data to determine potential gaps in collection and coordinate with technical support team to prepare and deliver collection drive for A. Trunkett for use in completing supplementing collections
07/01/16	R. M. Tausend	0.30	Communications with A. Trunkett and e-DAT team members to address open items regarding document collections and review for production in response to Medallic order (0.2); update to M. Gearin regarding same (0.1)
07/05/16	L.E. Steidl	0.60	Confer with R. Tausend regarding status of discovery tasks and compile summary of received ESI collection inventory and items still outstanding for collection; communicate same to P. Wagner and E. Chacon to facilitate completion of collections
07/05/16	R. M. Tausend	0.20	Strategize with L. Steidl regarding document collection and production open items and next steps and review email from L. Steidl to P. Wagner and E. Chacon summarizing outstanding requests
07/06/16	S.E. Selin	0.40	Email correspondence with E. Chacon regarding financial information transfers from database systems
07/07/16	L.E. Steidl	0.20	Confer with R. Tausend regarding status of discovery tasks and address issues related to collection and transfer of Medallic financial data from QuickBooks
07/07/16	R. M. Tausend	0.40	Emails to E. Chacon and A. Trunkett regarding outstanding ESI collections to confirm status and timing and provide assistance as needed (0.2); review file transfer report and confer with L. Steidl regarding financial reports processing, review and production (0.2)

DATE	NAME	HOURS	DESCRIPTION
07/08/16	M. Bassetti	0.60	Prepare HDD and transmittal materials for shipment to client for use in document collections
07/08/16	L.E. Steidl	1.60	Confer with R. Tausend regarding status of discovery tasks and address issues related to collection and transfer of additional ESI data (0.5); call with E. Chacon regarding outstanding ESI collections (0.1); address outstanding collection issues including preparation of collection drives and drafting of detailed summary of requested collections as compared to provided collections for purposes of completing outstanding collections (1.0)
07/08/16	R. M. Tausend	1.40	Review and respond to email from E. Chacon regarding uploaded financial files and review FTP file transfer report and prior communications about document collection in connection with same (0.3); strategize with L. Steidl regarding remaining ESI collections and review L. Steidl email to E. Chacon summarizing understandings and action items to complete collections (0.4); call with A. Trunkett regarding remaining email search and collection (0.1); update summary report of ESI collections, review and productions for M. Gearing in connection with upcoming deposition and provide recommendations relating to document organization and review in preparation for deposition (0.6)
07/11/16	V.I. Komar	0.90	Analyze, organize, and prepare ESI from A. Trunkett for loading to NUIX in preparation for search querying and document reviewing
07/11/16	L.E. Steidl	0.20	Analyze collection drive received from A. Trunkett and confer with technical team regarding absent user collected content
07/11/16	R. M. Tausend	0.30	Review communications from technical team regarding supplemental ESI collection from A. Trunkett and respond to questions relating to expected and actual contents
07/14/16	L.E. Steidl	0.10	Address issues related to collection and transfer of additional ESI data from A. Trunkett, including preparation of collection drive for completion of same
07/14/16	R. M. Tausend	0.90	Meet with M. Gearin regarding document collection, review and analysis to address his questions and requests (0.2); develop strategy to facilitate M. Gearin targeted review and outline plan to Ringtail support team to implement same (0.3); email to A. Trunkett

DATE	NAME	HOURS	DESCRIPTION
			regarding ESI document collection meeting (0.1); email to P. Wagner and E. Chacon identifying specific questions relating to individual custodian email and e-doc questions and completion of ESI collections (0.3)
07/15/16	R. M. Tausend	3.80	Onsite visit to Northwest Territorial Mint Federal Way office to meet with A. Trunkett and P. Watson and speak with E. Chacon to complete computer ESI collections and coordinate with D. Huffman and J. Bell regarding return and preservation of original imaged hard copy collections (2.7); high level analysis of S. Furuness handwritten notepads for specific prioritized information in preparation for upcoming depositions and to develop recommendations regarding processing for review and production (0.8) communications to M. Gearin summarizing collection updates, next steps and recommendations (0.3)
07/18/16	L.E. Steidl	0.10	Confer with R. Tausend regarding status of ESI collections, and intake and handling of S. Furuness hard copy files
07/18/16	R. M. Tausend	0.30	Respond to M. Gearin and D. Evans requests relating to bank statements and review and recommend records management and discovery approach for files attached to A. Trunkett emails relating to same
07/19/16	L.E. Steidl	0.50	Confer with R. Tausend regarding status of discovery efforts and outstanding items for collection, following up with client IT support regarding completion of same (0.4); provide instruction for vendor in processing S. Furuness hard copy collection material (0.1)
07/20/16	R. M. Tausend	0.30	Review email from E. Chacon regarding ESI collections and strategize with L. Steidl regarding potential open questions
07/21/16	R. M. Tausend	0.60	Conference with M. Gearin regarding content of Allison MacKenzie document production and next steps for selected documents and implement plan in response to same (0.4); conference with M. Gearin relating to sales reports content, analysis and production (0.2)
07/22/16	C. M. Kuffel	0.30	Load July 20th hard copy collection into Ringtail review database in preparation for review and production

DATE	NAME	HOURS	DESCRIPTION
07/22/16	R. M. Tausend	0.50	Review email from A. Trunkett regarding R. Hansen bank statements and provide information and recommendation to M. Gearin relating to same (0.2); review notes from A. Trunkett interview to identify and synthesize pertinent information relating to sales data and Medallic financial reports in preparation for depositions (0.3)
07/24/16	L.E. Steidl	1.70	Audit and coordinate imaging of targeted collections received from client via email (1.0; review ESI collection index to identify files for processing and review, and to identify additional required collections (0.7)
07/25/16	T. S. Milne	0.80	Analyze, edit, organize and stage Bank records for loading into Calvert NW BKRPT Ringtail database (0.4); analyze, edit, organize and stage Sales Records for loading into Calvert NW BKRPT Ringtail database (0.4)
07/26/16	C. M. Kuffel	0.40	Load July 26th hard copy collection into Ringtail review database for review for potential production
07/26/16	R. M. Tausend	0.50	Update from M. Gearin regarding claims and defenses, update to M. Gearin regarding document collection, review and production and recommend and implement updated plan in response to same
07/27/16	R. M. Tausend	1.60	Analyze reports regarding supplemental fileshare collections and identify potentially responsive subsets of files for processing for review for potential production (1.3); analyze search results and provide information to D. Evans relating to tax filings in electronic collections in preparation for upcoming M. Gearin meeting (0.3)
07/29/16	C. M. Kuffel	0.30	Update Ringtail database fields relating to level and custodian information for Alison MacKenzie document production
07/31/16	ESI Processing	N/A	ESI Processing: 0.38724 GB processed @ \$50/GB = \$19.37 (raw extracted volume - input); 0.65118 GB processed @ \$250/GB = \$162.79 (post- filtered volume - output); Total ESI Processing Charge: \$182.16
	TOTAL	FEES	21.20 hrs \$ <u>9,049.16</u>

Invoice # 3282473 2070561 Page 6 of 6

TIMEKEEPER SUMMARY

M. Bassetti	1.60	hrs at	\$	90.00 / hr	144.00
ESI Processing	N/A	hrs at	\$	N/A / hr	182.16
V.I. Komar	0.90	hrs at	\$	90.00 / hr	81.00
C. M. Kuffel	1.00	hrs at	\$	235.00 / hr	235.00
T. S. Milne	0.80	hrs at	\$	175.00 / hr	140.00
S.E. Selin	0.40	hrs at	\$	350.00 / hr	140.00
L.E. Steidl	5.40	hrs at	\$	395.00 / hr	2,133.00
R. M. Tausend	11.10	hrs at	\$	540.00 / hr	5,994.00
	TOTAL FEES		21.2	20 hrs	\$ 9,049.16

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
07/01/16	Long Distance Courier Long Distance Courier TR#: 783498176643 INV#: 547561633 INVDT: 20160711 SHIPDT: 20160701 SHNAME: Margaret Bassetti RCNAME: Annette Trunkett RCCO: Northwest Territorial Mint	11.11
07/08/16	Long Distance Courier Long Distance Courier TR#: 783543584465 INV#: 548267472 INVDT: 20160718 SHIPDT: 20160708 SHNAME: Margaret Bassetti RCNAME: Edgar Chacon RCCO: Northwest Territorial Mint	18.41
07/08/16	Long Distance Courier Long Distance Courier TR#: 795165116376 INV#: 548267472 INVDT: 20160718 SHIPDT: 20160708 SHNAME: Annette Trunkett RCNAME: Margaret Bassetti RCCO: K & L Gates	16.09
07/19/16	Long Distance Courier Long Distance Courier TR#: 795166920296 INV#: 549004533 INVDT: 20160725 SHIPDT: 20160719 SHNAME: Edgar Chacon RCNAME: Krysta Slavik RCCO: K & L Gates	19.55
07/27/16	Outside Copies (Scanning/Imaging - S. Furuness) - Professional Document Services - Altep California, LLC - 07202016	96.86
	DISBURSEMENTS & OTHER CHARGES \$ _	162.02

MATTER SUMMARY

Fees	\$ 9,049.16
Disbursements and Other Charges	\$ 162.02
MATTER TOTAL	\$ 9,211.18

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : September 30, 2016

Invoice Number : 3298726

Services Through : August 31, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Anal	lysis and	Recovery	(70010)
------------	-----------	----------	---------

Fees	\$ 9,562.00	
Total Amount Due This Matter	 _	\$ 9,562.00

Asset Disposition (70020)

Food

1 663	Ψ 19,191.00	
Total Amount Due This Matter		\$ 19,797.50

10 707 50

Business Operations (70030)

Fees	\$ 10,119.00	
Total Amount Due This Matter		\$ 10,119.00

Case Administration (70040)

Fees	\$ 8,799.00	
Total Amount Due This Matter		\$ 8,799.00

Claims, Administration and Objections (70050)

Fees	\$ 9,413.50	
Total Amount Due This Matter		\$ 9,413.50

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Total Amount Due This Matter

Invoice # 3298726 2070561 Page 2 of 39

\$

3,349.00

			i age z oi sa
Employee Benefits/Pensions (70060)			
Fees Total Amount Due This Matter	\$ <u>569.50</u>	\$	569.50
Litigation (70100)			
Fees Total Amount Due This Matter	\$ <u>25,941.00</u>	\$	25,941.00
Trustee v Medallic Art Co LLC (70101)			
Fees Total Amount Due This Matter	\$ <u>17,895.50</u>	\$	17,895.50
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$ <u>11,036.00</u>	\$	11,036.00
EEOC v NW Territorial Mint, LLC, USDC	Case (70104)		
Fees Total Amount Due This Matter	\$3,092.00_	\$	3,092.00
State of NV v Hansen, NWTM et al, Nevac (70105)	da State Court Case		
Fees Total Amount Due This Matter	\$ <u>602.00</u>	\$	602.00
David T. Achord v NW Territorial Mint LL	C (70106)		
Fees	\$ 3,349.00	¢	2 240 00

Invoice # 3298726 2070561 Page 3 of 39

			rage 3 01 39
Meetings and Communications with Creditor	s (70110)		
Fees Total Amount Due This Matter	\$ <u>6,973.00</u>	\$	6,973.00
Plan and Disclosure Statement (70120)			
Fees Total Amount Due This Matter	\$2,710.00_	\$	2,710.00
Tax (70140)			
Fees Total Amount Due This Matter	\$ <u>1,438.50</u>	\$	1,438.50
Assumption and Rejection of Leases and Co	ntracts (70150)		
Fees Total Amount Due This Matter	\$ <u>12,040.00</u>	\$	12,040.00
Avoidance Action Analysis (70160)			
Fees Total Amount Due This Matter	\$ <u>172.00</u>	\$	172.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$ <u>1,204.00</u>	\$	1,204.00
Costs (99999)			
Disbursements and Other Charges Total Amount Due This Matter	\$ 10,066.77	\$	10,066.77
CURRENT INVOICE DUE - All Matters		\$ <u>_</u>	154,780.27

Asset Analysis and Recovery (70010)

\$9,562.00

DATE	NAME	HOURS	DESCRIPTION
08/02/16	T. S. Miller	3.90	Research cases and secondary sources related to attempted control of estate assets (2.5); research cases and secondary sources related to application of the automatic stay for assets which are possessed but not legally owned by the debtor (1.4)
08/04/16	D.C. Neu	3.30	Revise and edit contempt pleadings and related declarations (2.2); communicate with client regarding same (.3); work with client on obtaining and analysis of Amex statements (.7)
08/09/16	M.J. Gearin	1.00	Review of correspondence and documents in connection with outline of proposed settlement with B. Cohen
08/09/16	M.J. Gearin	0.70	Communications with H. Lam of DFI and follow up communications with Trustee regarding same
08/09/16	T. S. Miller	0.90	Research cases involving government disclosures of records to third parties (.9)
08/10/16	M.J. Gearin	0.50	Calls with H. Lam of Department of Financial Institutions and trustee regarding DFI investigative matters
08/11/16	M.J. Gearin	1.00	Communications with Trustee and H. Lam regarding recovery of bank records
08/12/16	M.J. Gearin	0.50	Review of DFI consent forms; communications regarding bank records issues
08/15/16	M.J. Gearin	0.90	Review and analysis of Ira Green motion for recovery of Sweet Water inventory and communications with Trustee regarding same
08/15/16	M.J. Gearin	0.30	Communications regarding recovery of bank statements
08/18/16	T. S. Miller	3.60	Research partial assignments of judgments and debt generally in all jurisdictions (1.4); research attachments of rights of first refusal in LLC and partnership contexts in all jurisdictions (1.8); draft email summarizing research (.4)
08/18/16	D.C. Neu	1.60	Review documents from office of R. Hansen

DATE	NAME	HOURS	DESCRIPTION
			(1.3); communicate with R. Powers regarding tax returns (.3)
08/23/16	D.C. Neu	0.40	Work on R.J. Obrien 2004 motion
08/24/16	M.J. Gearin	0.40	Communications regarding acquisition of bank statements
08/25/16	D.C. Neu	0.70	Communicate with R. Powers regarding document production (.2); research regarding California shipments (.4)
08/26/16	D. A. Evans	1.10	Conference with B. Peterson and M. Gearin regarding response to Ira Green's motion for turnover of assets (.2); initial drafting of response to motion (.4); finalize and file response with USBC (.5)
08/26/16	D.C. Neu	1.50	Communicate with R. Powers regarding tax returns (.3); review response to motion for contempt (.3); review American Express statements (.9)
08/29/16	D. A. Evans	0.50	Telephone call with K. Bussey regarding R. Hansen personal tax returns (.1); prepare subpoena for K. Bussey (.4)
08/29/16	D.C. Neu	0.50	Revise letter to insurance company
08/29/16	D.C. Neu	0.90	Call with client regarding American Express statements (.4); review spreadsheet related to same (.2); review statements (.1); draft email to D. Bugbee related to missing statements (.2)
08/30/16	D. A. Evans	0.70	Send subpoena for service on K. Bussey with a copy served on R. Powers (.4); telephone call with M. Chappel regarding documents from boxes and retrieve same (.3)
08/30/16	D.C. Neu	0.40	Finalize tax subpoenas (.2); communicate with R. Powers regarding continuance of hearing (.1); review email from client regarding same (.1)
08/31/16	D. A. Evans	0.20	Review of receipt of declaration of records custodian from AmEx (.1); email to AmEx re documents never received (.1)
		TOTAL FEES	25.50 hrs \$ 9,562.00

Invoice # 3298726 2070561 Page 6 of 39

TIMEKEEPER SUMMARY

D. A. Evans	2.50 h	nrs at \$	205.00 / hr		512.50
M.J. Gearin	5.30 h	nrs at \$	525.00 / hr		2,782.50
T. S. Miller	8.40 h	nrs at \$	270.00 / hr		2,268.00
D.C. Neu	9.30 h	nrs at \$	430.00 / hr		3,999.00
	TOTAL FEES	2	5.50 hrs	\$_	9,562.00

MATTER SUMMARY

Fees \$ 9,562.00 MATTER TOTAL \$ 9,562.00

Asset Disposition (70020)

\$19,797.50

DATE	NAME	HOURS	DESCRIPTION
08/03/16	D. A. Evans	0.20	Follow up on stored inventory creditor question (.2)
08/04/16	D. A. Evans	0.70	Review of flash drive from client with pictures and compare inventory summary with exhibit to stored inventory motion (.7)
08/05/16	B. T. Peterson	0.10	Phone call with R. Overson regarding documentation of contents of safe
08/08/16	M.J. Gearin	0.30	Communications with R. Powers regarding Hansen and Erdmann personal property issues
08/09/16	D. A. Evans	1.10	Draft motion to sell excess office equipment and notice of hearing regarding same (.8); work on stored inventory motion issues (.3)
08/09/16	M.J. Gearin	0.50	Communications with Trustee and R. Vugteveen regarding excess equipment disposal motion
08/09/16	M.J. Gearin	0.30	Email exchanges with R. Powers and Trustee regarding Hansen personal property disposition
08/10/16	D. A. Evans	2.60	Work on evidence for stored inventory motion (2.6)
08/10/16	B. T. Peterson	0.40	Draft declaration of R. Overson regarding gun safes
08/11/16	D. A. Evans	3.20	Work on evidence for stored inventory motion (3.2)
08/11/16	M.J. Gearin	0.80	Meet with R. Powers regarding discussion of R. Hansen issues
08/11/16	B. T. Peterson	0.70	Draft and revise supplemental declaration for R. Overson
08/12/16	D. A. Evans	2.00	Work on stored inventory motion evidence and gathering information for all customers listed (1.4); work on multiple declarations in support of same (.6)
08/12/16	M.J. Gearin	0.50	Calls with R. Powers and Trustee regarding Hansen personal property disposition
08/12/16	M.J. Gearin	0.40	Analysis and communications of Kavli Foundation response on motion for disposition of storage inventory
08/12/16	M.J. Gearin	0.50	Meet regarding revisions to pleadings on storage customer inventory return motion
08/12/16	B. T. Peterson	0.10	Email regarding coining dies property claims
08/12/16	B. T. Peterson	0.50	Draft and revise affidavit in support of storage customer motion

DATE	NAME	HOURS	DESCRIPTION
08/14/16 08/15/16	D. A. Evans D. A. Evans	2.60 3.40	Work on evidence for stored inventory motion Work on evidence for stored inventory motion with M. Gearin (1.0); telephone call with M. Gearin, J. Cannady, M. Calvert, C. Unwin and E. Robinson regarding evidence (1.5); draft of declaration of D. Tallman, revisions to same and send to client for approval and signature (.5); continue to work with clients regarding evidence issues (.4)
08/15/16	M.J. Gearin	1.50	Conference call with Cascade Capital staff regarding preparation of storage inventory return declarations
08/15/16	M.J. Gearin	0.80	Review and analysis of Kavli joinder and declaration (0.4); communications with NWTM personnel regarding status of Kavli dies and molds (0.4)
08/16/16	D. A. Evans	5.80	Stored inventory motion evidence - drafting of declarations of M. Lee and J. Goodfellow and work to get signatures on same (.9); drafting of, working with client, and revisions of declaration of C. Unwin (1.5); phone conference with M. Gearin and client team regarding evidence (1.0); drafting of declaration of J. Cannady (2.4)
08/16/16	M.J. Gearin	1.40	Call with Trustee and team regarding evidentiary submission on storage inventory return
08/16/16	M.J. Gearin	1.30	Revisions to declarations in support of evidentiary submission on storage inventory
08/16/16	M.J. Gearin	1.00	Review of Ira Green motion to turnover inventory (0.4); communications with Trustee regarding same (0.3); email exchange with J. Thoman of Ira Green regarding claims issues (0.3)
08/17/16	D. A. Evans	7.80	Draft and work with E. Robinson regarding declaration in support of motion for stored inventory (5.5); continue working on draft of declaration of J. Cannady (1.2); finalize declaration of C. Unwin and work on exhibits to same (1.1)
08/17/16	M.J. Gearin	1.10	Conference call with J. Thoman and J. Rizzardi regarding motion to recover inventory and claims on Tomball cleanup (0.6); review of photographs (0.2); call with Trustee regarding same (0.3)
08/17/16	M.J. Gearin	1.50	Revisions to declarations in support of return of storage customers inventory (1.2); communications relating to return of Kavli

DATE	NAME	HOURS	DESCRIPTION
			Foundation materials (0.3)
08/18/16	D. A. Evans	5.10	Continue to work on E. Robinson's declaration in support of motion to return stored inventory (1.4); meet with M. Gearin and phone call with M. Calvert regarding declarations in support of stored inventory and evidence for same (1.2); continue to work on J. Cannady's declaration in support of stored inventory motion (2.5)
08/18/16	M.J. Gearin	0.50	Communications regarding Ira Green inventory claims
08/18/16	M.J. Gearin	1.30	Call and emails with T. Lester regarding storage inventory of Mr. Fair (0.3); call with B. Leaverton regarding Kavli Foundation die return (0.2); revisions to declarations of J. Cannady and E. Robinson (0.8)
08/24/16	D. A. Evans	4.80	Spoke with contact for A. Rickman regarding his stored inventory (.1); telephone calls with F. Muhlbauer regarding his stored inventory and email to F. Muhlbauer regarding same (.2); work on declaration of E. Robinson regarding evidence of stored inventory (4.5)
08/24/16	M.J. Gearin	0.30	Call and email with L. Felix regarding Mint class action claim in LCD panel case
08/24/16	B. T. Peterson	0.20	Call with R. Overson regarding storage motion
08/25/16	D. A. Evans	7.00	Work with E. Robinson and M. Gearin on evidence for stored inventory motion and E. Robinson's declaration regarding same
08/25/16	D. A. Evans	0.40	Prepare for meeting with E. Robinson
08/25/16	M.J. Gearin	1.90	Meet with E. Shear and D. Evans regarding draft of Shear declaration in support of storage inventory motion
08/26/16	D. A. Evans	0.20	Emails with C. Paolucci regarding stored inventory evidence
08/26/16	B. T. Peterson	1.20	Draft response to motionfor turnover filed by Ira Green
08/29/16	D. A. Evans	1.00	Work on evidence for declaration of E. Robinson regarding stored inventory motion
08/30/16	D. A. Evans	0.60	Work on E. Robinson declaration and gathering of evidence regarding same
08/30/16	B. T. Peterson	0.50	Analyze issues related to Ira Green turnover motion
08/30/16	B. T. Peterson	0.20	Call with counsel for Ira Green regarding turnover motion
08/31/16	B. T. Peterson TOTAL	0.60 FEES	Correspondence with client and opposing counsel regarding Ira Green turnover motion 68.90 hrs \$\frac{19,797.50}{}

Invoice # 3298726 2070561 Page 10 of 39

TIMEKEEPER SUMMARY

D. A. Evans	48.50	hrs at	\$	205.00 / hr	9,942.50
M.J. Gearin	15.90	hrs at	\$	525.00 / hr	8,347.50
B. T. Peterson	4.50	hrs at	\$	335.00 / hr	1,507.50
	TOTAL FEES		68.9	90 hrs	\$ 19.797.50

MATTER SUMMARY

Fees \$ 19,797.50 MATTER TOTAL \$ 19,797.50

Business Operations (70030)

\$10,119.00

DATE	NAME	HOURS	DESCRIPTION
08/02/16	M.J. Gearin	0.50	Communications regarding World Class
08/02/16	T. S. Miller	1.90	purchase order and consignment matters Discuss purchase order with D. Gasvoda (.9);
			draft language for inclusion in purchase order to allow transaction with Tawani (1.0)
08/08/16	B. T. Peterson	0.10	Draft email to client regarding sale or return of certain dies
08/09/16	B. T. Peterson	0.80	Review pleadings related to motion to sell excess equipment and analyze whether motion should be deferred
08/10/16	M.J. Gearin	0.70	Calls with Trustee regarding multiple business issues including equipment sales, banking records and tax issues
08/15/16	D. A. Evans	0.30	Finalize order re motion to pay vacation pay (.2); upload same for entry with Court (.1)
08/16/16	M.J. Gearin	0.40	Communications with Trustee and M. Kelley regarding state tax issues
08/19/16	B. T. Peterson	0.10	Phone call to century link representative regarding service at new facility
08/19/16	J. Scheuermann	2.50	Teleconference with M. Gearin (0.3); review policies (0.5); draft notice letter to Berkley (0.8); read Cohen pre-trial brief (0.5); e-mails to M. Gearin regarding policies needed (0.4)
08/21/16	J. Scheuermann	2.10	Read and analyze liability and related policies
08/22/16	M.J. Gearin	1.20	Call with Trustee and J. Scheuremann regarding insurance coverage matters and claims perfection
08/22/16	J. Scheuermann	2.50	Review additional policy materials received (0.5); notes for teleconference with trustee and M. Gearin (0.6); revise notice letter (0.7); review policies received (0.7)
08/23/16	M.J. Gearin	0.50	Analysis and consultation regarding hiring of employee subject to trade secrets restrictions
08/23/16	J. Scheuermann	0.60	Revise notice letter; review policies regarding same; e-mail to M. Gearin regarding coverage issues
08/24/16	M.J. Gearin	0.60	Participate in draft of notice to insurance company of claims
08/29/16	B. T. Peterson	0.70	Draft language for submission to insurance company regarding potential claims
08/30/16	J. Scheuermann	0.70	Revise notice letter to insurer and review all attachments
08/31/16	J. Scheuermann	0.10	E-mail notice letter and attachments to

Invoice # 3298726 2070561 Page 12 of 39

DATE	NAME	HOURS DESCRIPTION					
		TOTAL FEES	Berkley Insurance 16.30 hrs			\$_	10,119.00
		TIMEKEEP	ER SUN	/MAF	RY		
D. A. Evans M.J. Gearin T. S. Miller B. T. Peterson J. Scheuermann		0.30 3.90 1.90 1.70 8.50 TOTAL FEES	hrs at hrs at hrs at hrs at hrs at	\$ \$ \$ 16.3	205.00 / hr 525.00 / hr 270.00 / hr 335.00 / hr 815.00 / hr 30 hrs	\$ <u></u>	61.50 2,047.50 513.00 569.50 6,927.50 10,119.00
MATTER SUMMARY							
Fees MATTER	TOTAL					\$_ \$_	10,119.00 10,119.00

Invoice # 3298726 2070561 Page 13 of 39

Case Administration (70040)

\$8,799.00

DATE	NAME	HOURS	DESCRIPTION
08/01/16	D. A. Evans	1.90	Deposition preparation for M. Gearin regarding deposition of R. Hansen including preparation of exhibits (.8); review of deposition transcripts from multiple depositions and forward to client and to M. Northrup (.3); confirm hearing scheduled for this week (.2); review of returned mail regarding address change of special mailing matrix party and update regarding same (.2); misc case administration work (.4)
08/01/16	D.C. Neu	1.10	Meeting with M. Gearin regarding Parish deposition issues (.3); communicate with M. Rice regarding Fox storage issues (.2); review EEOC proposal (.4); communicate with client regarding same (.2)
08/02/16	D.C. Neu	1.40	Call with D. Huffman regarding depositions (.3); communicate with T. McDonald regarding fox inventory storage (.2); review documents related to same (.3); communicate with M. Rice regarding same (.1); creditor call (.4)
08/03/16	D. A. Evans	0.80	Review of flash drive from client with photos and email to same with questions (.2); miscellaneous case administration work (.6)
08/08/16	D. A. Evans	1.30	Initial draft of letter to insurance company re demand (.3); meeting with M. Gearin regarding multiple matters in case (.4); email to stored inventory customer regarding multiple questions (.2); miscellaneous case administration matters (.4)
08/09/16	D. A. Evans	0.30	Miscellaneous case administration matters (.3)
08/10/16	D. A. Evans	0.70	Work with clients regarding mailing list and email list of all creditors (.3); miscellaneous case administration (.4)
08/11/16	D. A. Evans	0.50	Pull and review certain transcripts from case for M. Gearin (.2); miscellaneous case administration work (.3)
08/11/16	M.J. Gearin	2.10	Multiple calls with Trustee regarding case administration and coordination matters
08/12/16	D. A. Evans	0.90	Review of Erdmann American Express statements sent via DropBox from D. Bugbee and provide to client (.3); miscellaneous case administration work (.3); file 3 declarations with USBC (.3)

DATE	NAME	HOURS	DESCRIPTION
08/14/16	B. T. Peterson	0.10	Email to client regarding contacting representative of company requesting coining dies
08/15/16	D. A. Evans	1.60	Team meeting to discuss case (1.0); confirm hearings scheduled for Friday (.2); miscellanous case administration work (.4)
08/15/16	M.J. Gearin	1.00	K&L Gates team meeting regarding coordination of multiple case tasks
08/15/16	D.C. Neu	1.00	Planning meeting
08/15/16	B. T. Peterson	0.90	Meeting regarding outstanding issues related to case
08/16/16	D. A. Evans	0.90	Hearing binders and judges working copies for stored inventory motion and for vacation pay motion (.5); miscellanous case administration work (.4)
08/16/16	M.J. Gearin	0.80	Call with Trustee regarding multiple case administration issues
08/16/16	D.C. Neu	1.60	Communicate with client regarding American Express Statements (.4); review same (.6); review subpoenas (.2); review bank statements (.3)
08/22/16	D.C. Neu	1.30	Meeting with client to discuss status and action items
08/23/16	D. A. Evans	0.80	Meeting with M. Gearin regarding a variety of case issues (.2); miscellaneous case administration work (.6)
08/23/16	M.J. Gearin	0.70	Call with Trustee regarding multiple case objectives and planning
08/24/16	D. A. Evans	0.70	Follow up on vacation pay motion regarding inquiry from former employee (.2); review of file for American Express statements for client (.2); miscellanous case administration (.3)
08/24/16	M.J. Gearin	0.90	Call with Trustee regarding multiple case issues including storage inventory, preparations for committee meeting, Medallic settlement discussion, and Dayton lease
08/24/16	D.C. Neu	0.40	Communicate with R. Powers regarding document production (.3); communicate with client regarding same (.1)
08/26/16	D. A. Evans	0.20	Conference with M. Gearin and pull copy of Bankruptcy Code section 365 for same
08/29/16	D. A. Evans	0.70	Confirm hearing for Friday (.2); calendar hearings (.2); work on miscellanous issues (.3)
08/29/16	D.C. Neu	0.40	Meeting with D. Evans regarding tax returns (.2); review subponea (.1); draft email to R. Powers regarding same (.1)
08/30/16	D. A. Evans	0.80	Review of docket and update

Invoice # 3298726 2070561 Page 15 of 39

DATE	NAME	HOURS DESCRIPTION						
		TOTAL FEES		llanou	alendar motions a s case administra 0 hrs	ation w		
		TIMEKEEP	ER SUN	/MAR	<u>Y</u>			
D. A. Evans M.J. Gearin D.C. Neu B. T. Peterson			hrs at hrs at hrs at hrs at	\$ \$ \$ 25.8	205.00 / hr 525.00 / hr 430.00 / hr 335.00 / hr 0 hrs	\$	2,480.50 2,887.50 3,096.00 335.00 8,799.00	
MATTER SUMMARY								
Fees MATTER	TOTAL					\$_ \$_	8,799.00 8,799.00	

Claims, Administration and Objections (70050)

\$9,413.50

DATE	NAME	HOURS	DESCRIPTION
08/01/16	D. A. Evans	0.80	Field phone calls and emails from creditors and client regarding proofs of claim (.4); review and catalog proofs of claim (.4)
08/01/16	B. T. Peterson	0.40	Phone call with counsel for Graco landlord regarding evidentiary hearing
08/02/16	D. A. Evans	0.10	Phone call with creditor
08/03/16	D. A. Evans	0.80	Field phone calls and emails from creditors (.3); review and catalog proofs of claim (.5)
08/04/16	D. A. Evans	0.50	Field phone calls from creditors (.3); pull figures for total amount of claims filed for M. Gearin (.2)
08/04/16	B. T. Peterson	1.30	Draft discovery requests for Graco administrative expense motion
08/05/16	D. A. Evans	0.80	Field phone calls and emails from creditors and from client (.4); review and catalog proofs of claim (.4)
08/05/16	B. T. Peterson	0.40	Review discovery requests for Graco administrative claims motion and draft email to client regarding the same
08/08/16	D. A. Evans	1.30	Field phone calls and emails from creditors and client regarding claims (.7); review and catalog proofs of claim (.6)
08/09/16	M.J. Gearin	0.50	Follow up on documentation and communication with B. Kriegman regarding Atwell claims
08/09/16	B. T. Peterson	0.60	Analyze issues related to evidentiary hearing on claims between Trustee and landlord
08/09/16	B. T. Peterson	2.00	Draft stipulation and stipulated order modifying scheduling order for Graco administrartive claim dispute
08/09/16	B. T. Peterson	0.20	Phone call with counsel for Graco landlord regarding scheduling order
08/10/16	B. T. Peterson	0.60	Revise scheduling order regarding evidentiary hearing on Graco administrative claim dispute
08/10/16	B. T. Peterson	0.30	Analyze issues related to evidentiary hearing with Graco landlord
08/11/16	B. T. Peterson	2.50	Analyze and negotiate terms of settlement agreement with Graco landlord and stalking horse bidder
08/12/16	D. A. Evans	0.40	Field phone calls and emails from creditors regarding proofs of claim
08/12/16	B. T. Peterson	0.40	Draft settlement term sheet regarding dispute with former landlord for Tomball facility

DATE	NAME	HOURS	DESCRIPTION					
08/15/16	D. A. Evans	1.30	Field phone calls and emails from creditors (.6); review and catalog proofs of claim (.7)					
08/15/16	B. T. Peterson	0.50	Finalize term sheet related to Graco settlement agreement					
08/16/16	D. A. Evans	0.60	Field phone calls and emails from creditors regarding proofs of claim					
08/17/16	D. A. Evans	0.40	Field phone calls from creditors regarding claims					
08/17/16	M.J. Gearin	1.10	Draft settlement term sheet for Cohen/Estate settlement					
08/17/16	B. T. Peterson	0.20	Correspondence with counsel for Graco landlord regarding settlement					
08/18/16	D. A. Evans	0.90	Field phone calls and emails from creditors regarding proofs of claim					
08/18/16	M.J. Gearin	1.20	Communications with Trustee and R. Mitchell regarding proposed Cohen settlement					
08/21/16	B. T. Peterson	1.50	Draft settlement agreement between Graco landlord, Trustee, and stalking horse bidder					
08/22/16	B. T. Peterson	2.30	Draft global settlement agreement between Trustee, Graco landlord, and stalking horse bidder					
08/23/16	D. A. Evans	0.70	Field phone calls and emails from creditors regarding proofs of claim					
08/24/16	D. A. Evans	0.50	Field phone calls and emails from creditors					
08/24/16	B. T. Peterson	0.90	Draft settlement agreement between Trustee, Graco landlord, and stalking horse bidder					
08/25/16	D. A. Evans	0.30	Field phone calls and emails from creditors regarding proofs of claim					
08/26/16	D. A. Evans	0.40	Field phone calls and emails from creditors regarding proofs of claim					
08/29/16	D. A. Evans	2.10	Field phone calls and emails from creditors regarding proofs of claim					
08/30/16	D. A. Evans	1.60	Field phone calls and emails from creditors regarding proofs of claim and approaching deadline to file					
08/30/16	B. T. Peterson	0.80	Review changes to settlement agreement proposed by RETT and draft email to client regarding the same					
08/31/16	D. A. Evans	0.90	Field phone calls and emails from creditors regarding deadline to file claim					
	TOTAL	FEES	32.10 hrs \$ <u>9,413.50</u>					

Invoice # 3298726 2070561 Page 18 of 39

TIMEKEEPER SUMMARY

D. A. Evans	14.40	hrs at	\$	205.00 / hr	2,952.00
M.J. Gearin	2.80	hrs at	\$	525.00 / hr	1,470.00
B. T. Peterson	14.90	hrs at	\$	335.00 / hr	4,991.50
	TOTAL FEES		32.1	10 hrs	\$ 9.413.50

.....

MATTER SUMMARY

Fees \$ 9,413.50 MATTER TOTAL \$ 9,413.50

Invoice # 3298726 2070561 Page 19 of 39

Employee Benefits/Pensions (70060)

\$569.50

FEES

DATE	NAME	HOURS	DESC	RIPT	ION			
08/05/16	D. A. Evans	0.70	vacati USBC	Draft of proof of service for motion to pay vacation compensation and file same with USBC (.4); miscellanous case administration matters (.3)				
08/18/16	M.J. Gearin	0.50	-	Prepare for hearing on payment of accrued vacation				
08/18/16	N. G. Spiliotis	0.30	Research Texas Payday Law statutory reference regarding vacation pay.				ory	
	TOTAL FEES			1.50 hrs \$ <u>569.5</u>				
		TIMEKEEP	ER SUN	<u>IMAF</u>	<u>RY</u>			
D. A. Evans	5	0.70	hrs at	\$	205.00 / hr		143.50	
M.J. Gearin	1	0.50	hrs at	\$	525.00 / hr		262.50	
N. G. Spilio	tis	0.30	hrs at	\$	545.00 / hr		163.50	
TOTAL F		TOTAL FEES	1.50 hrs		\$	569.50		
MATTER SUMMARY								

MATTER SUMMARY

Fees	\$ 569.50
MATTER TOTAL	\$ 569.50

Invoice # 3298726 2070561 Page 20 of 39

Litigation (70100)

\$25,941.00

DATE	NAME	HOURS	DESCRIPTION
08/01/16	M.J. Gearin	7.20	Prepare for and conduct deposition of R. Hansen in connection with contempt motion
08/01/16	M.J. Gearin	1.00	Call with Trustee regarding follow up to Hansen deposition and preparations for draft of reply and supporting materials
08/01/16	B. T. Peterson	4.50	Discuss contempt motion with M. Gearin (0.5); review pleadings filed by R. Hansen in support of contempt motion (1.); draft reply brief in support of motion (3.)
08/02/16	D. A. Evans	3.80	Draft of declaration of M. Gearin for reply regarding contempt motion (.6); review of deposition of D. Krum for sections to include in Gearin declaration (.4); preparation of exhibits to multiple declarations regarding reply (1.4); draft of declaration of P. Mannelly (.2); finalize all documents for filing with USBC (.7); file all documents with USBC (.5)
08/02/16	M.J. Gearin	7.10	Draft revisions to reply on motion for contempt and revisions to supporting documents(5.5); communications with witnesses in connection with same (1.6)
08/02/16	M.J. Gearin	0.70	Review and summarize R. Hansen deposition transcript
08/02/16	B. T. Peterson	7.20	Draft reply declarations in support of contempt motions (4.5); review deposition testimony (1.5); edit and revise reply brief in support of contempt motion (1.2)
08/02/16	B. T. Peterson	2.90	Draft reply in support of contempt motion
08/03/16	D. A. Evans	2.50	Forward copies of pleadings filed to client (.2); meeting with M. Gearin and R. Tausend regarding upcoming meeting with J. Beitey and documents for same (.7); preparation of documents for Beitey meeting (.8); find pertinent Columbia Bank statements for sanctions motion of R. Hansen and redact for exhibits (.3); post-Beitey interview meeting with M. Gearin (.2); filed motion to strike supplemental memorandum with USBC and send to client (.3)
08/03/16	M.J. Gearin	0.50	Revisions to motion to strike regarding supplemental submission of Hansen
08/03/16	D.C. Neu	4.50	Draft and edit motion for sanctions and related pleadings (3.2); communicate with American Express regarding subpoenas (.3);

DATE	NAME	HOURS	DESCRIPTION
			communicate with attorney for M. Parish regarding supplemental productions (.2); review same (.8)
08/03/16	B. T. Peterson	2.20	Review supplemental filings by R. Hansen to contempt motion (0.1); draft motion to strike supplemental response (1.2)
08/04/16	D. A. Evans	0.90	(Breakup Fee Evidentiary hearing) Review of evidentiary hearing order (.1); telephone call to Court clerk regarding same (.1) calendar all dates and deadlines regarding order (.7)
08/04/16	D. A. Evans	2.20	(Ross Hansen Sanctions) Finalize motion for contempt and sanctions of R. Hansen (.3); finalize declarations regarding same and prepare all exhibits (.5); draft of notice of hearing on motion for contempt and sanctions (.5); draft of proof of service (.2); file motion for contempt and sanctions and all corresponding documents with USBC (.4); serve motion on special notice list per court order (.3)
08/04/16	M.J. Gearin	2.50	Prepare for hearing on motion for contempt
08/04/16	M.J. Gearin	0.70	Review and analysis of Court's opinion on Tracy retainer issues and discussion with Trustee regarding same
08/04/16	B. T. Peterson	0.40	Preparation for contempt motion
08/05/16	M.J. Gearin	5.30	Prepare for and attend hearing on Trustee's motion for contempt
08/11/16	D. A. Evans	0.20	Emails to and from opposing party regarding financial documents for R. Hansen (.1); review of discovery received at K&L for certain documents (.1)
08/23/16	D. A. Evans	0.40	Pull dockets in a variety of litigation matters involving NWTM for D. Neu
08/23/16	D. A. Evans	0.80	(Hansen contempt motion) Draft notice of withdrawal of motion (.5); finalize notice and file with USBC and send for service (.3)
08/23/16	D.C. Neu	0.20	Review litigation complaints and allegations regarding corporate status
08/23/16	D.C. Neu	2.50	Communicate with Nevada Department of Ecology regarding settlement (.3); communicate with D. Evans regarding appeal issues (.5); review deadlines related to same (.3); research related to stay (1.3)
08/26/16	D. A. Evans	0.90	(Hansen contempt) Review of 341 transcript for D. Neu regarding R. Hansen's tax returns (.3); review of American Express statements for client (.2); work with M. Chappel regarding indexing of R. Hansen's office files (.4)

Invoice # 3298726 2070561 Page 22 of 39

\$ <u>25,941.00</u> \$ <u>**25,941.00**</u>

DATE	NAME	HOURS	DESC	RIPT	ION			
08/29/16	D. A. Evans	0.50		Research and pull documents for T. Miller				
			•	_		ustrial vs. NWTM		
08/29/16	T. S. Miller	4.90		_	County cases nd assemble plea	adings and other		
00/29/10	1. O. Millel	4.90			ents from various			
					as case with D. I			
			Peters	son (.8	3); summarize ca	ses for insurance		
notice letter (1.1)								
08/30/16	B. T. Peterson	0.40			uments produced	d by Ross		
	.	OTAL FEEO	Hanse		ounsel	Ф 05 044 00		
	I	OTAL FEES		66.8	90 hrs	\$ <u>25,941.00</u>		
		TIMEKEEP	ER SUN	/MAR	<u> </u>			
D. A. Evans	;	12.20	hrs at	\$	205.00 / hr	2,501.00		
M.J. Gearin		25.00	hrs at	\$	525.00 / hr	13,125.00		
T. S. Miller		4.90	hrs at	\$	270.00 / hr	1,323.00		
D.C. Neu		7.20	hrs at	\$	430.00 / hr	3,096.00		
B. T. Peters	_	17.60	hrs at	\$	335.00 / hr	5,896.00		
	Т	OTAL FEES		66.9	90 hrs	\$ <u>25,941.00</u>		
		MATTER	RSUMM	<u>ARY</u>				

Fees

MATTER TOTAL

Trustee v Medallic Art Co LLC (70101)

\$17,895.50

DATE	NAME	HOURS	DESCRIPTION
08/03/16	M.J. Gearin	2.40	Meet with J. Beitey regarding review of Medallic acquisition documents and history
08/03/16	M.J. Gearin	2.10	Review and analysis of Medallic documents in preparation for meeting with J. Beitey
08/09/16	M.J. Gearin	1.10	Document review and analysis in connection with production of records to Medallic
08/10/16	M.J. Gearin	0.40	Communications regarding document production to Medallic (0.3); email from A. Orse regarding document request from Medallic (0.1)
08/11/16	M.J. Gearin	0.50	Review of Hansen deposition transcript and communications regarding discovery matters with A. Orth
08/12/16	M.J. Gearin	1.10	Review and analysis of complaint filed by Medallic (0.7); follow up call with Trustee regarding same (0.4)
08/12/16	M.J. Gearin	0.50	Meet with R. Tausend regarding Medallic discovery matters
08/12/16	B. T. Peterson	0.10	Review adversary complaint filed by Medallic LLC
08/15/16	M.J. Gearin	1.50	Review and analysis of Medallic complaint (1.2); letter to T. Bucknell (0.2); email exchange with A. Orth regarding discovery status (0.1)
08/16/16	M.J. Gearin	0.20	Call with T. Bucknell regarding Medallic litigation matters
08/17/16	M.J. Gearin	1.20	Discussions with Trustee regarding rights of estate in Hoff lease; review of documents filed in Hoff litigation; analysis of estoppel and constructive trust issues
08/17/16	M.J. Gearin	0.60	Call with T. Lerner regarding Medallic settlement issues
08/17/16	B. T. Peterson	2.30	Draft complaint for recovery of fraudulent transfers and substantive consolidation
08/18/16	M.J. Gearin	2.30	Review of draft Medallic complaint ((1.0); draft revisions (1.3)
08/18/16	B. T. Peterson	2.70	Draft complaint for recovery of fraudulent transfers and substantive consolidation
08/19/16	B. T. Peterson	2.30	Analysis of causes of action against third parties including Medallic LLC
08/22/16	M.J. Gearin	3.50	Meet with Trustee, J. Gilmore, B. Peterson and P. Wagner regarding factual background matters on Medallic complaint (3.1); meet with

Invoice # 3298726 2070561 Page 24 of 39

\$ 17,895.50 \$ 17,895.50

DATE	NAME	HOURS	DESCR	IPTION		
			B. Peter	son regarding revisi	ons to draft	
08/22/16	B. T. Peterson	4.20	•	g regarding NWTM	olan and factual	
00/00/40		4.00		elated to litigation ag		
08/23/16	M.J. Gearin	1.90	Meet wi	th T. Bucknell regard on	ding settlement	
08/23/16	M.J. Gearin	0.90		ed work on evidentia	ary support for	
08/24/16	M.J. Gearin	0.70		complaint th D. Greenswag an	d B. Peterson	
			regardir	ng procedural consid	erations in	
08/24/16	D.B. Greenswag	0.70	•	of Medallic complair onference with Mike		
00/24/10	D.D. Oreenswag	0.70		n regarding procedu		
00/04/40	D. T. Dataman	4.00	issues	income valetad to an		
08/24/16	B. T. Peterson	1.20	Analyze issues related to complaint against Medallic entities and R. Hansen			
08/25/16	M.J. Gearin	2.20	Revisions to Medallic complaint; review of			
08/25/16	B. T. Peterson	1.90	documents in support of factual background Draft complaint against Medallic and Ross			
00/23/10	D. T. Feterson	1.90	Hansen		allic allu 1055	
08/25/16	B. T. Peterson	0.70	Analyze Medallid	issues related to liti	gation with	
	TOTAI	L FEES		, 39.20 hrs	\$ <u>17,895.50</u>	
		TIMEKEEP	ER SUMN	<u>MARY</u>		
M.J. Gearir	1	23.10	hrs at	\$ 525.00 / hr	12,127.50	
D.B. Green	swag	0.70	hrs at	\$ 870.00 / hr	609.00	
B. T. Peters		15.40		\$ 335.00 / hr	5,159.00	
	TOTAL	L FEES		39.20 hrs	\$ <u>17,895.50</u>	
	MATTER SUMMARY					

Fees

MATTER TOTAL

Trustee v Diane Erdmann (70102)

\$11,036.00

DATE	NAME	HOURS	DESCRIPTION
08/04/16	B. T. Peterson	2.70	Review opinion on Erdmann trial (0.6); analyze appeal issues (0.9); research potential appeal issues (1.2)
08/05/16	B. T. Peterson	0.90	Research issues related to appeal of Erdmann trial ruling
08/15/16	D.C. Neu	2.00	Research and analysis regarding legal standards on potential appeal
08/15/16	B. T. Peterson	0.20	Analyze issues related to appeal of Erdmann decision
08/16/16	D.C. Neu	1.00	Draft memorandum to client regarding appeal issues
08/17/16	D.C. Neu	1.90	Call with client regarding appeal issues (.4); draft notice of appeal (.5); research and analysis regarding stay (1)
08/22/16	D.C. Neu	0.60	Research regarding appellate issues
08/23/16	D. A. Evans	0.70	Work on appeal with D. Neu including research on local rules (.4); issues regarding motion for stay pending appeal (.3)
08/23/16	D.C. Neu	0.60	Research regarding bond
08/24/16	D. A. Evans	0.40	Calendar appeal deadlines (.2); review of docket (.1); update file as needed (.1)
08/24/16	D.C. Neu	4.40	Draft and edit motion for stay pending appeal
08/25/16	D.C. Neu	3.40	Further research and drafting of motion for stay pending appeal (2.3); research regarding appeal (1.1)
08/25/16	B. T. Peterson	0.70	Review and revise motion for stay pending appeal
08/26/16	D. A. Evans	1.10	Finalize motion for stay pending appeal for filing with the Court (.2); draft of notice of hearing regarding same (.3); draft of proof of service (.2); file motion and corresponding documents with USBC and send for service (.4)
08/26/16	D.C. Neu	1.60	Finalize motion for stay
08/30/16	D. A. Evans	0.40	Finalize corporate disclosure statement and file same with USDC
08/30/16	D.C. Neu	1.40	Research regarding appellate issues
08/31/16	D. A. Evans	1.30	Meet with D. Neu regarding statement of issues and designation of records (.3); draft of statement of issues and designation of records (.7); review of docket regarding records and voicemail to court reporter regarding transcripts (.3)

Invoice # 3298726 2070561 Page 26 of 39

DATE	NAME	HOURS	DESC	RIPT	ION			
08/31/16 D.C. Neu		3.40	and de Bugbe	Draft and edit statement of issues on appeal and designation of record (2); call with D. Bugbee regarding status of proceedings (.3); research regarding appeal (1)				
		TOTAL FEES			70 hrs	\$ _	11,036.00	
		TIMEKEEP	ER SUN	/MAR	<u>RY</u>			
D. A. Evans		3.90	hrs at	\$	205.00 / hr		799.50	
	•			•				
D.C. Neu		20.30	hrs at	\$	430.00 / hr		8,729.00	
B. T. Peters	son	4.50	hrs at	\$	335.00 / hr	_	1,507.50	
		TOTAL FEES		28.7	70 hrs	\$ _	11,036.00	
MATTER SUMMARY								
Fees						\$	11,036.00	
MATTER T	OTAL					\$_	11,036.00	
						. =		

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$3,092.00

DATE	NAME	HOURS	DESCRIPTION			
08/04/16	D.C. Neu	0.70	Review and revise consent decree			
08/05/16	D.C. Neu	2.10	Review changes to proposed consent decree with EEOC and edit same			
08/15/16	D.C. Neu	0.30	Call with A. Paranjpye regarding settlement			
08/15/16	D.C. Neu	0.50	Review criminal proceedings related to S. Butler and impact on settlement (.3); communicate with client regarding same (.2)			
08/24/16	D.C. Neu	1.30	Review EEOC edits to consent decree (.5); communicate with client regarding same (.2); review and respond to questions from EEOC regarding consent decree (.4)			
08/25/16	D.C. Neu	0.50	Communicate with client regarding settlement options (.2); communicate with B. Stone regarding status (.1); review EEOC deposition notices (.2)			
08/29/16	D.C. Neu	0.60	Negotiate with EEOC regarding claim amount			
08/31/16	D. A. Evans	0.30	Email from D. Neu requesting updated docket and pull docket and send to same (.1); email from D. Neu requesting documents and pull same (.1); calendar E. Robinson's deposition (.1)			
08/31/16	D. P. Hurley	0.50	Confer with D. Neu regarding pending lawsuit; review documents and research issues related to same			
08/31/16	D.C. Neu	0.60	Call with client regarding EEOC action (.2); communicate with EEOC regarding depositions (.2); emails to client regarding case status (.3)			
		TOTAL FEES	7.40 hrs \$ <u>3,092.00</u>			
TIMEKEEPER SUMMARY						
D. A. Evans	6	0.30	hrs at \$ 205.00 / hr 61.50			
D. P. Hurley		0.50	hrs at \$ 385.00 / hr 192.50			
D.C. Neu	-	6.60	hrs at \$ 430.00 / hr 2,838.00			
		TOTAL FEES	7.40 hrs \$ 3,092.00			

Invoice # 3298726 2070561 Page 28 of 39

MATTER SUMMARY

Fees \$ 3,092.00 MATTER TOTAL \$ 3,092.00

Invoice # 3298726 2070561 Page 29 of 39

State of NV v Hansen, NWTM et al, Nevada State Court Case
(70105)

\$602.00

F	Ε	ES

<u>i LLO</u>					
DATE 08/05/16	NAME D.C. Neu	HOURS 1.10	DESCRIPTION Draft settlement agreement	with State of	
			Nevada (1.1)		
08/15/16	D.C. Neu	0.30	Communicate with State of I settlement terms (.3)	Nevada regarding	
		TOTAL FEES	1.40 hrs	\$ 602.00	
		TIMEKEEPI	ER SUMMARY		
D.C. Neu		=	hrs at \$ 430.00 / hr	602.00	
		TOTAL FEES	1.40 hrs	\$ 602.00	
MATTER SUMMARY					

Fees	\$ <u>602.00</u>
MATTER TOTAL	\$ <u>602.00</u>

David T. Achord v NW Territorial Mint LLC (70106)

\$3,349.00

FEES

DATE	NAME	HOURS	DESCRIPTION
08/06/16	B. T. Peterson	0.70	Draft motion to dismiss nondischargeability complaint
08/07/16	B. T. Peterson	2.70	Draft motion to dismiss nondischargeability complaint
08/08/16	M.J. Gearin	0.60	Comments to motion to dismiss Achord nondischargeability complaint
08/08/16	B. T. Peterson	0.20	Revise and edit motion to dismiss nondischargeability complaint (0.1); draft email to client regarding the same (0.1)
08/09/16	B. T. Peterson	0.80	Draft motion to dismiss dischargeability complaint
08/10/16	D. A. Evans	0.40	Draft notice of hearing regarding motion to dismiss complaint
08/10/16	B. T. Peterson	1.00	Draft and revise Achord motion to dismiss
08/11/16	D. A. Evans	0.70	Finalize motion to dismiss complaint and notice of hearing for filing with court (.2); draft order granting motion (.3); file documents and send for service on plaintiff (.2)
08/11/16	M.J. Gearin	0.50	Consult regarding Achord dismissal motion matters
08/11/16	B. T. Peterson	1.80	Draft motion to dismiss Achord complaint and proposed order in support of motion
08/19/16	B. T. Peterson	0.40	Attend pretrial conference for adversary complaint filed by Achord
	TOTAL	FEES	9.80 hrs \$ <u>3,349.00</u>

TIMEKEEPER SUMMARY

D. A. Evans	1.10	hrs at	\$	205.00 / hr	225.50
M.J. Gearin	1.10	hrs at	\$	525.00 / hr	577.50
B. T. Peterson	7.60	hrs at	\$	335.00 / hr	2,546.00
	TOTAL FEES		9.8	30 hrs	\$ 3,349.00

MATTER SUMMARY

Meetings and Communications with Creditors (70110)

\$6,973.00

FEES

DATE	NAME	HOURS	DESCRIPTION
08/03/16	M.J. Gearin	0.50	Call with M. Northrup; coordinate visit to Mint with Northrup and B. Kriegman
08/04/16	M.J. Gearin	3.50	Travel to and attend inspection and visit to Debtor's facilities with creditors committee counsel and B. Kriegman
08/08/16	M.J. Gearin	0.30	Communications with B. Kriegman and Trustee regarding Atwell claim issues
08/09/16	D. A. Evans	0.50	Field phone calls and emails from creditors
08/10/16	D. A. Evans	0.40	Field phone calls and emails from creditors
08/11/16	D. A. Evans	0.10	Field phone calls and emails from creditors
08/16/16	M.J. Gearin	1.30	Call with M. Northrup regarding catch up on case issues and response to committee request for information
08/17/16	B. T. Peterson	0.30	Call with counsel for creditor regarding case status
08/23/16	M.J. Gearin	0.80	Calls with M. Northrup and Trustee regarding committee update and informational requests
08/23/16	M.J. Gearin	0.40	Email and telephone message for creditor D. James regarding IRA sourced funds claims
08/24/16	M.J. Gearin	0.60	Call with Trustee and M. Northrup regarding creditor inquiries and committee planning
08/24/16	M.J. Gearin	1.10	Research regarding issues raised by D. James regarding IRA customers and email exchange with Mr. James regarding same
08/24/16	M.J. Gearin	0.50	Investigation of matters raised by creditor V. Roberts in preparation for response to informational request
08/25/16	M.J. Gearin	0.60	Investigation of facts and response to inquiry from creditor V. Roberts
08/30/16	M.J. Gearin TOTAL	3.10 . FEES	Attend telephonic committee meeting 14.00 hrs \$ 6,973.00

TIMEKEEPER SUMMARY

	TOTAL FEES		14.00) hrs	\$_	6,973.00
B. T. Peterson	0.30	hrs at	\$	335.00 / hr		100.50
M.J. Gearin	12.70	hrs at	\$	525.00 / hr		6,667.50
D. A. Evans	1.00	hrs at	\$	205.00 / hr		205.00

Invoice # 3298726 2070561 Page 32 of 39

MATTER SUMMARY

Fees \$ 6,973.00 MATTER TOTAL \$ 6,973.00

Invoice # 3298726 2070561 Page 33 of 39

Plan and Disclosure Statement (70120)

\$2,710.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
08/15/16	M.J. Gearin	0.80	Research regarding preservation of NOLs through restructuring plan				
08/15/16	T. S. Miller	2.10	Research Solyndra bankrupcy issues related to bankruptcy treatment of Net Operating Losses (2.1)				
08/17/16	M.J. Gearin	0.70	Research regarding preservation of NOL through chapter 11 plan				
08/17/16	T. S. Miller	4.40	Research regarding Net Operating Losses in bankruptcy and discuss with M. Gearin				
08/23/16	B. T. Peterson TOTAL	0.50 . FEES	Research related to plan formulation 8.50 hrs \$\frac{2,710.0}{2.710.0}				

TIMEKEEPER SUMMARY

M.J. Gearin	1.50	hrs at	\$	525.00 / hr		787.50
T. S. Miller	6.50	hrs at	\$	270.00 / hr		1,755.00
B. T. Peterson	0.50	hrs at	\$	335.00 / hr		167.50
	TOTAL FEES		8.5	50 hrs	\$_	2,710.00

MATTER SUMMARY

Fees	\$ 2,710.00
MATTER TOTAL	\$ <u>2,710.00</u>

Invoice # 3298726 2070561 Page 34 of 39

Tax (70140) \$1,438.50

FEES

DATE	NAME	HOURS	DESCRIPTION
08/17/16	M.J. Gearin	0.50	Call with Trustee and M. Kelley regarding sales tax reporting issues
08/22/16	M.J. Gearin	0.80	Meet with Trustee and M. Kelley regarding state sales tax analysis (0.5); communications with trustee regarding state sales tax compliance matters (0.3)
08/22/16	M. S. Kelley	1.10	Confer regarding sales tax nexus and undercollection (including prep time).
08/30/16	D. A. Evans	0.20	Conference with B. Peterson regarding 3rd party tax reject notification and voicemail to IRS regarding same
		TOTAL FEES	2.60 hrs \$ <u>1,438.50</u>

TIMEKEEPER SUMMARY

D. A. Evans	0.20	hrs at	\$	205.00 / hr	41.00
M.J. Gearin	1.30	hrs at	\$	525.00 / hr	682.50
M. S. Kelley	1.10	hrs at	\$	650.00 / hr	715.00
	TOTAL FEES		2.6	0 hrs	\$ 1.438.50

MATTER SUMMARY

rees	\$ <u>1,438.50</u>
MATTER TOTAL	\$ <u>1,438.50</u>

Assumption and Rejection of Leases and Contracts (70150)

\$12,040.00

DATE	NAME	HOURS	DESCRIPTION
08/05/16	M.J. Gearin	0.30	Prepare for and attend hearing on motion to approve Kent lease and reject Federal Way
08/06/16	B. T. Peterson	0.20	Review correspondence regarding vendor service at Kent Lease location
08/07/16	B. T. Peterson	0.10	Draft order granting Kent Lease Motion
08/08/16	D. A. Evans	0.20	Upload order for motion for Kent lease with USBC
08/08/16	M.J. Gearin	1.00	Revisions to draft order approving Kent lease and rejecting Federal Way lease (0.4); communications with counsel for Federal Way landlord regarding form of order and lease rejection matters (0.4); communications with trustee regarding Federal Way lease rejection issues (0.3)
08/08/16	B. T. Peterson	0.30	Revise order on motion to enter into Kent lease and reject Federal Way Lease
08/10/16	M.J. Gearin	0.70	Call with trustee regarding Tomball landlord claims resolution (0.5); meet with B. Peterson regarding same (0.2)
08/11/16	M.J. Gearin	0.50	Consult with Trustee regarding settlement of Tomball landlord claims
08/17/16	D.C. Neu	0.30	Communicate with B. Ginn regarding Hoff litigation (.2); communicate with client regarding same (.1)
08/17/16	D.C. Neu	2.00	Research and analysis of lease issues
08/18/16	M.J. Gearin	1.50	Communications with Trustee and D. Neu regarding rights of estate in Hoff lease
08/18/16	D.C. Neu	1.30	Research and analysis of issues related to Nevada lease status
08/19/16	D.C. Neu	3.50	Call with R. Oshinski regarding lease issues (.4); review deposition transcript (.3); call with client regarding interrogatories (.2); communications with R. Oshinksi regarding communications related to lease (.6); research related to lease status (2)
08/22/16	M.J. Gearin	0.80	Meet with Trustee regarding Dayton lease assumption issues
08/22/16	J. H. Kim	0.50	Review background regarding analysis of lease assignment to NW Territorial Mint.
08/22/16	D.C. Neu	0.50	Communicate with client regarding lease issues
08/24/16	M.J. Gearin	0.60	Comments to draft settlement agreement with Tomball landlord

Invoice # 3298726 2070561 Page 36 of 39

DATE	NAME	HOURS	DESC	RIPTIO	N			
08/25/16	J. H. Kim	1.10	Begin review of existing lease and related documents.					
08/25/16	D.C. Neu	0.80	Resea	Research regarding lease issues				
08/26/16	J. H. Kim	0.60	Analys	sis re lea	ise issue.			
08/26/16	D.C. Neu	1.20	Analys	sis regar	ding lease ass	umptio	on	
08/29/16	J. H. Kim	0.40		rence wi issues.	th D. Neu and	B. Pet	terson re	
08/29/16	D.C. Neu	1.70	Meeting with Joon K. regarding lease issues (.5); call with client regarding same (.3); review email related to lease amendment (.2); review email from C. Hoff related to same (.1); review case file from Hoff litigation (.6)					
08/29/16	B. T. Peterson	0.50	Discu	ss motio	n to assume le	ase wi	ith D. Neu	
08/30/16	D.C. Neu	0.40	Revie	w files fro	om Hoff litigation	on		
08/30/16	B. T. Peterson	0.20	Discu	ss amen	dment to lease	with [D. Neu	
08/30/16	B. T. Peterson	0.90	Draft ı	notion to	assume Dayt	on Lea	ase	
08/31/16	J. H. Kim	5.90		ease agı orial Mint	reement for No	rthwe	st	
08/31/16	D.C. Neu	1.00	Resea		es related to s	tatute	of frauds	
08/31/16	B. T. Peterson	0.10	Analy: with D		s related to lea	se ass	sumption	
	ТОТ	AL FEES		29.10	hrs	\$_	12,040.00	
		TIMEKEEP	ER SUN	<u>IMARY</u>				
D. A. Evans	5	0.20	hrs at	\$ 2	205.00 / hr		41.00	
M.J. Gearir	1	5.40	hrs at	\$ 5	525.00 / hr		2,835.00	
J. H. Kim		8.50	hrs at	\$ 3	345.00 / hr		2,932.50	
D.C. Neu		12.70	hrs at	\$ 4	130.00 / hr		5,461.00	
B. T. Peters	son	2.30	hrs at	\$ 3	335.00 / hr		770.50	
	TOT	AL FEES		29.10	hrs	\$	12,040.00	

MATTER SUMMARY

Fees \$ 12,040.00 MATTER TOTAL \$ 12,040.00

Invoice # 3298726 2070561 Page 37 of 39

\$172.00

EEEG

DATE	NAME	HOURS	DESCRIPTION	
08/31/16	D.C. Neu	0.40	Fraudulent transfer analysis	(.4)
		TOTAL FEES	0.40 hrs	\$ <u>172.00</u>
		TIMEKEEPE	ER SUMMARY	
D.C. Neu		0.40	hrs at \$ 430.00 / hr	172.00
		TOTAL FEES	0.40 hrs	\$172.00
		MATTER	SUMMARY	
Fees				\$ 172.00
MATTER T	OTAL			\$172.00

Invoice # 3298726 2070561 Page 38 of 39

Reporting (70210)

\$1,204.00

FEES

					_			
DATE	NAME	HOURS		RIPTION				
08/04/16	D. A. Evans	0.20	and J	w of mon une from n regardi	client	and me	•	•
08/08/16	D. A. Evans	2.10	Revie and Ju Gearing revision month June	w of mon une sent n regardions to bo	othly fin by clie ng sam th (1.3) with U report v	ancial rent (.1)me and versions finalized (.3 SBC (.3 Signature)	neetings work reg e and fi B); finali BC (.3);	with M. garding le May ze and file
08/08/16	M.J. Gearin	0.70		w and pro		evision	s to moi	nthly
08/12/16	D. A. Evans	0.50	Work with L	with clier ISBC	nt to fin	alize ar	nd file Ju	uly MOR
08/12/16	M.J. Gearin	0.50	Revis	ions to Ju	uly mor	nthly re	oort	
		TOTAL FEES		4.00	•		\$	1,204.00
		TIMEKEEP	ER SUN	<u>IMARY</u>				
D. A. Evans	5	2.80	hrs at	\$ 2	205.00	/ hr		574.00
M.J. Gearin	l	1.20	hrs at	\$ 5	25.00	/ hr		630.00
		TOTAL FEES		4.00	hrs		\$	1,204.00

MATTER SUMMARY

Fees	\$ <u>1,204.00</u>
MATTER TOTAL	\$ <u>1,204.00</u>

Invoice # 3298726 2070561 Page 39 of 39

Costs (99999) \$10,066.77

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
08/01/16	Copying Expense	23.60
08/01/16	Copying Expense	2.00
08/03/16	Copying Expense	61.20
08/04/16	Copying Expense	25.60
08/04/16	Yom Reporting & Video In 79741 - Deposition tr	639.76
08/04/16	Yom Reporting & Video Inv 79739 - Deposition tr	353.30
08/08/16	Copying Expense	2.00
08/10/16	Local Courier - Courier Services for July 2016 - John Sullivan dba HALO Messengers - 07312016 - 7/8 #6 PU@ USBC Seattle - Audio CD	7.00
08/11/16	Postage	29.95
08/11/16	Copying Expense	1.00
08/16/16	Copying Expense	6.60
08/16/16	Copying Expense	19.00
08/16/16	Copying Expense	0.60
08/16/16	Travel Expenses - Gearin, Michael - Parking - 2016-08-05 - Parking for Hearing	18.00
08/18/16	Copying Expense	0.80
08/23/16	Copying Expense	80.00
08/23/16	Color Copying/Printing	1.00
08/26/16	Copying Expense	26.40
08/29/16	Copying Expense	26.80
08/29/16	Copying Expense	0.60
08/29/16	Copying Expense	1.20
08/29/16	Travel Expenses - Gearin, Michael - Parking - 2016-08-19 - Hearing Parking	12.00
08/30/16	Copying Expense	1.80
08/31/16	Westlaw - DCN - 08/03/2016 - 08/31/2016	8,726.56
	DISBURSEMENTS & OTHER CHARGES \$	10,066.77

MATTER SUMMARY

 Disbursements and Other Charges
 \$ 10,066.77

 MATTER TOTAL
 \$ 10,066.77

 K:\2070561\00001\20892_MJG\20892\$\square\$\text{SIGN}\$
 \$ 10,066.77

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : September 30, 2016

Invoice Number : 3298712

Services Through : August 31, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 12,306.86 Disbursements and Other Charges \$ 172.47

Total Amount Due This Matter \$ 12,479.33

CURRENT INVOICE DUE - All Matters \$ 12,479.33

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$12,479.33

DATE	NAME	HOURS	DESCRIPTION
08/02/16	R. M. Tausend	1.60	Analyze search results and identify targeted set of documents for review in preparation for M. Gearin meeting with J. Beitey (1.1); analyze PST content report from S. Smith and identify subset of files for processing for review for potential relevance, privilege and production (0.5)
08/03/16	R. M. Tausend	1.10	Strategize with M. Gearin and D. Evans regarding J. Beitey meeting and identification of potentially relevant documents (0.6); develop and implement plan regarding document searches and organization in response to M. Gearing requests and needs (0.5)
08/03/16	R. M. Tausend	1.30	Conference with M. Gearin regarding document collection and production (0.2); analyze updated database searches and reports and identify subsets of documents for rolling production (1.1)
08/04/16	R. M. Tausend	1.40	Analyze updated ESI search results, prepare proposed plan for review and production and identify open decision points for M. Gearin or M. Calvert in connection with same
08/06/16	L.E. Steidl	1.60	Review, identify and mark files for production
08/08/16	L.E. Steidl	0.90	Review and mark files and coordinate imaging of same in preparation for production (0.7); confer with R. Tausend regarding review criteria and details of production of electronic financial data (0.2)
08/08/16	R. M. Tausend	0.20	Conference with L. Steidl regarding documents identified for production re MAC financials, sales and royalties and remaining steps to complete production
08/09/16	L.E. Steidl	2.20	Review and mark files and coordinate imaging of same in preparation for production, and analyze email collection indexes to identify additional material of potential relevance for processing and review

DATE	NAME	HOURS	DESCRIPTION
08/09/16	R. M. Tausend	0.80	Emails with M. Gearin regarding scope of production of financial files, and review order and respond to questions relating to same (0.3); develop recommendation regarding supporting work papers based on same (0.3); communications with L. Steidl regarding production preparations and logistics (0.2)
08/10/16	L.E. Steidl	2.00	Review and mark files and coordinate imaging of same in preparation for production, confer with R. Tausend and provide detailed instruction to technical team regarding preparation and export of financial document images and metadata for production
08/10/16	R. M. Tausend	1.40	Email to M. Calvert providing update regarding Medallic document collection, review and production (0.6); respond to L. Steidl and technical team questions regarding production parameters (0.4); review order, records of communications with J. Stehlik and proposed production index in support of same (0.2); emails with M. Gearin regarding responsiveness scope (0.2)
08/11/16	M. Bassetti	0.80	Analyze and QC documents in production set to confirm compliance with production specifications (0.6); prepare August 11th document production for delivery to opposing party (0.2)
08/11/16	M. H. Hoefer	0.30	Establish secure File Transfer Protocol accounts for access by opposing counsel to facilitate efficient delivery of production volume NWTM003.zip
08/11/16	T. S. Milne	2.50	Prepare NWTM003 for production confirming compliance with production specifications
08/11/16	L.E. Steidl	0.90	Provide detailed instruction and assistance for preparation, export, QC, and delivery of financial document images and metadata for production
08/12/16	R. M. Tausend	0.40	Conference with M. Gearin regarding Medallic's allegations in new complaint and Trustee's discovery responses and strategize regarding next steps
08/15/16	M. Bassetti	0.00	Update tracking logs for production of volume NWTM003 to opposing counsel - No Charge

DATE	NAME	HOURS	DESCRIPTION
08/15/16	R. M. Tausend	1.60	Review email thread relating to R. Hansen bank statements and exchange emails with M. Gearin relating to same (0.2); craft and analyze Ringtail review database search results and hard copy collection record in response to requests and claims (0.9); review affidavit from D. Huffman regarding R. Hansen office and identify potential action items relating to collection and inventory (0.5)
08/16/16	R. M. Tausend	0.40	Email to M. Gearin providing update regarding R. Hansen personal bank statements and investment accounts and responding to requests for information relating to MAC acquisition and move
08/18/16	M. H. Hoefer	1.50	Analyze Ringtail database report of Medallic documents to identify potentially duplicative files in R. Hansen hard copy financial records (0.5); prepare supplemental files for delivery to Altep for imaging (0.4); contact T. Richardson in regards to imaging order (0.3); confirm specifications with R. Tausend (0.3)
08/18/16	R. M. Tausend	0.30	Provide information and guidance to D. Neu regarding ESI collection in response to his requests relating to R. Hansen personal financial and tax records
08/23/16	C. M. Kuffel	0.60	Load supplemental hard copy records into master Ringtail case database per attorney request
08/26/16	M. H. Hoefer	0.00	Update R. Hansen collection to reflect Altep supplemental imaging of selected records and stage custodial documents for document indexing - No Charge
08/26/16	R. M. Tausend	0.50	Review and respond to M. Calvert email questions and requests regarding R. Hansen files and provide comments relating to same (0.4); emails with M. Chappel regarding file inventory (0.1)
08/29/16	R. M. Tausend	0.70	Conference with M. Chappel regarding R. Hansen file review and indexing (0.2); provide information and address requests relating to Lind Waldock statements (0.2); review notice, strategize with L. Steidl and draft email to M. Gearin regarding Medallic's inactivity with respect to downloading the Mint's production of Medallic LLC's financial and sales records (0.3)

Invoice # 3298712 2070561 Page 5 of 5

DATE	NAME	HOURS	DESCRIPTION
08/30/16	R. M. Tausend	0.20	Email to M. Calvert providing status update regarding productions to Medallic and R. Hansen office files inventory and review response to same
08/31/16	ESI Processing	N/A	ESI Processing: 18.38647 GB processed @ \$50/GB = \$1,011.26 (raw extracted volume - input); 3.83676 GB processed @ \$250/GB = \$1,055.11 (post- filtered volume - output); Total ESI Processing Charge: \$2,066.36
	TOTAL	FEES	25.20 hrs \$ <u>12,306.86</u>

TIMEKEEPER SUMMARY

M. Bassetti	0.80	hrs at	\$	90.00	/ hr	72.00
ESI Processing	N/A	hrs at	\$	N/A	/ hr	2,066.36
M. H. Hoefer	1.80	hrs at	\$	90.00	/ hr	162.00
C. M. Kuffel	0.60	hrs at	\$	235.00 /	/ hr	141.00
T. S. Milne	2.50	hrs at	\$	175.00	/ hr	437.50
L.E. Steidl	7.60	hrs at	\$	395.00	/ hr	3,002.00
R. M. Tausend	11.90	hrs at	\$	540.00	/ hr	6,426.00
	TOTAL FEES		25.2	20 hrs		\$ 12,306.86

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
08/03/16	Outside Copies - Professional Document Services - Altep California, LLC - 07272016	172.47
	DISBURSEMENTS & OTHER CHARGES	\$172.47

MATTER SUMMARY

Fees	\$	12,306.86
Disbursements and Other Charges	\$ _	172.47
MATTER TOTAL	\$	12,479.33

K:\2070561\00001\20892_MJG\20892\$25H1

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : October 19, 2016

Invoice Number : 3308796

Services Through: September 30, 2016

Our File Number : 2070561

INVOICE	SHMMARY	BY MATTER
	SUMMAN	DIWAIIEN

Asset Analysis and Recovery (70010)

Fees	\$ <u>3,411.50</u>	
Total Amount Due This Matter		\$ 3,411.50

Asset Disposition (70020)

Fees	\$ 7,239.00	
Total Amount Due This Matter		\$ 7,239.00

Business Operations (70030)

Fees	\$ <u>3,409.00</u>	
Total Amount Due This Matter		\$ 3,409.00

Case Administration (70040)

Fees	\$ <u>7,803.50</u>	
Total Amount Due This Matter		\$ 7,803.50

Claims, Administration and Objections (70050)

_	•		
Fees	\$	5,739.50	
Total Amount Due This Matter			\$ 5,739.50

500672683 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Ral GATES		Invoid	ce # 3308796 2070561 Page 2 of 39
Fee/Employment Applications (70070)			
Fees Total Amount Due This Matter	\$ <u>1,343.50</u>	\$	1,343.50
Litigation (70100)			
Fees Total Amount Due This Matter	\$506.00_	\$	506.00
Trustee v Medallic Art Co LLC (70101)			
Fees Total Amount Due This Matter	\$ 28,804.00	\$	28,804.00
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$ 6,092.50	\$	6,092.50
EEOC v NW Territorial Mint, LLC, USDC Case	(70104)		
Fees Total Amount Due This Matter	\$ <u>11,400.50</u>	\$	11,400.50
State of NV v Hansen, NWTM et al, Nevada Sta (70105)	ate Court Case		
Fees Total Amount Due This Matter	\$ <u>2,517.00</u>	\$	2,517.00
David T. Achord v NW Territorial Mint LLC (70	0106)		
Fees Total Amount Due This Matter	\$303.50_	\$	303.50

Fees

Invoice # 3308796 2070561 Page 3 of 39

American Express	Fraudulent	Transfer	Action	(70107)	

Total Amount Due This Matter	-	\$ 7,706.50
Meetings and Communications with Cree	ditors (70110)	
Fees Total Amount Due This Matter	\$ <u>1,429.50</u>	\$ 1,429.50
Plan and Disclosure Statement (70120)		
Fees Total Amount Due This Matter	\$ <u>971.50</u>	\$ 971.50
Tax (70140)		
Fees Total Amount Due This Matter	\$ 82.00	\$ 82.00

\$ 7,706.50

Assumption and Rejection of Leases and Contracts (70150)

Fees	\$ <u>25,335.00</u>	
Total Amount Due This Matter		\$ 25,335.00

Reporting (70210)

Fees	\$ 301.00	
Total Amount Due This Matter		\$ 301.00

Intellectual Property Advice and Trademark Registration (70230)

Fees	\$ <u></u>	<u>2,024.00</u>	
Total Amount Due This Matter			\$ 2,024.00

Invoice # 3308796 2070561 Page 4 of 39

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 7,825.45

\$ 7,825.45

CURRENT INVOICE DUE - All Matters

\$ <u>124,244.45</u>

Asset Analysis and Recovery (70010)

\$3,411.50

FEES

DATE	NAME	HOURS	DESCRIPTION
09/01/16	D. A. Lentz	0.70	Work with D. Neu regarding AmEx documents received (.4); send same to client (.1); emails with K. Bussey's office regarding personal tax returns of R. Hansen (.2)
09/01/16	D.C. Neu	0.60	Review documents returned from American Express Subpoena
09/14/16	D.C. Neu	0.50	Review Lind Waldock statements
09/14/16	D.C. Neu	0.40	Review inventory of documents from Auburn office (.3)
09/15/16	D.C. Neu	1.40	Research regarding American Express cards (.4); call with A. Trunkett regarding same (.2); review spreadsheet from A. Trunkett (.3); review statements (.4)
09/26/16	D.C. Neu	0.70	Communicate with R. Powers regarding investment account statements (.2); review statements for completeness (.5)
09/27/16	D.C. Neu	4.00	Draft and edit reply regarding motion for sanctions (3.1); review documents produced by R. Hansen (.9)
		TOTAL FEES	8.30 hrs \$ <u>3,411.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz	0.70	hrs at	\$	205.00 / hr	143.50
D.C. Neu	7.60	hrs at	\$	430.00 / hr	3,268.00
	TOTAL FEES		8.30 hrs		\$ 3,411.50

MATTER SUMMARY

Fees \$ 3,411.50 MATTER TOTAL \$ 3,411.50

Asset Disposition (70020)

\$7,239.00

DATE	NAME	HOURS	DESCRIPTION
09/01/16	D. A. Lentz	2.40	Work on evidence for motion to return stored inventory and declaration of E. Robinson regarding same
09/02/16	D. A. Lentz	1.30	Work on stored inventory motion evidence and declarations
09/07/16	D. A. Lentz	1.20	Continued work on evidence for stored inventory motion and on documents regarding same
09/08/16	D. A. Lentz	4.40	Continued work on stored inventory evidence and documents to be filed regarding same
09/09/16	D. A. Lentz	5.70	Work on stored inventory final evidence for declaration of E. Robinson (4.6); file second declaration of J. Cannady with USBC (.2); file second supplemental declaration E. Robinson (Shear) with USBC along with 24 exhibits (.9)
09/12/16	D. A. Lentz	1.60	Prepare Judge's working copies hearing binder for hearing on stored inventory motion
09/12/16	D. A. Lentz	0.40	Email from M. Chappel regarding proofs of claim for customers with stored inventory (.1); begin search for records (.3)
09/13/16	D. A. Lentz	0.40	Send documents for stored inventory to debtor per Judge's comments
09/13/16	D. A. Lentz	0.50	Prepare hearing binder for M. Gearin on stored inventory motion
09/14/16	D. A. Lentz	2.00	Work to send copies of proofs of claim for customers that have stored inventory claims to E. Robinson and M. Chappel
09/15/16	M.J. Gearin	0.50	Prepare for hearing on motion to return inventory
09/15/16	D. A. Lentz	0.70	Work on proof of service for stored inventory regarding service on debtor (.3); meeting with M. Gearin regarding hearing on motion and hearing prep (.4)
09/16/16	M.J. Gearin	2.30	Prepare for and attend hearing on Motion to return stored customer inventory
09/16/16	M.J. Gearin	0.30	Draft revisions to order approving return of customer stored inventory
09/16/16	D. A. Lentz	0.50	Meeting with M. Gearin regarding outcome of hearing on stored inventory motion (.1); finalize order for entry with Court (.1); attempt to upload order for entry with Court but unsuccessful (.3)
09/19/16 500672683 v1	M.J. Gearin	0.50	Communications with E. Shear and customers

DATE	NAME	HOURS	DESCRIPTION				
09/19/16	D. A. Lentz	0.70	regarding return of stored inventory Telephone call with J. Peterson, storage customer (.2); call to court regarding uploading order and issues with same (.2); submit order for entry with the Court (.1); begin working on termination of storage				
09/20/16	D. A. Lentz	0.80	agreement (.2) Work on termination of storage agreement document (.4); continued issues with submitting of order on stored inventory motion to court (.4)				
09/21/16	D. A. Lentz	0.50	Review of order on stored inventory motion (.1); call with client regarding same (.1); conference with M. Gearin regarding going forward with return of metals and procedures for same (.3)				
09/22/16	D. A. Lentz	0.40	Email to client attaching order, termination agreement and instructions for stored inventory customers (.3); telephone call with attorney for stored inventory customer (.1)				
09/23/16	D. A. Lentz	0.10	Telephone call with stored inventory customer				
09/26/16	D. A. Lentz	0.30	Telephone call with E. Robinson regarding releasing stored inventory and conversations with M. Gearin re same				
09/27/16	M.J. Gearin	0.30	Communications with D. Huffman and E. Robinson regarding storage inventory return and Overson status				
09/27/16	M.J. Gearin	0.40	Communications regarding excess equipment disposition and sales				
09/27/16	D. A. Lentz	0.20	Work issues regarding stored inventory and return of same				
09/29/16	D. A. Lentz	0.20	Email from and telephone conversation with E. Robinson regarding stored inventory customer				
		TOTAL FEES	28.60 hrs \$				
		TIMEKEEP	ER SUMMARY				
M.J. Gearir	1	4.30	hrs at \$ 525.00 / hr 2,257.50				
D. A. Lentz		24.30	hrs at \$ 205.00 / hr 4,981.50				
		TOTAL FEES	28.60 hrs \$				

Invoice # 3308796 2070561 Page 8 of 39

MATTER SUMMARY

Fees \$ 7,239.00 MATTER TOTAL \$ 7,239.00

Business Operations (70030)

\$3,409.00

DATE	NAME	HOURS	DESCRIPTION
09/01/16	B. T. Peterson	1.70	Negotiate, discuss, and revise agreed order with Ira Green
09/02/16	B. T. Peterson	0.00	Discuss obtaining tax returns with D. Evans (No Charge)
09/14/16	D.C. Neu	0.90	Work on motion to employ M. White (.9)
09/15/16	M.J. Gearin	0.50	Consult regarding employment of production manager M. White and court approval requirements
09/15/16	D.C. Neu	1.50	Revise and edit motion and related pleadings related to Mike White employment
09/15/16	B. T. Peterson	0.20	Analyze issues related to retention of employee
09/16/16	M.J. Gearin	0.50	Consult re M. White employment issues including revisions to draft motion
09/16/16	D. A. Lentz	0.40	Work on motion to employ Mike White
09/16/16	D.C. Neu	0.50	Revise motion to approve M. White
			employment terms
09/19/16	D. A. Lentz	1.90	Draft notice of hearing on motion to employ M. White (.4); final review of documents on motion to employ for filing (.4); email D. Neu regarding needed documents (.1); prepare exhibit to declaration (.1); begin preparing proof of service (.2); file motion to employ M. White and corresponding documents with USBC and send for service (.5); send copies of documents to client (.1); calendar hearing date and deadlines (.2)
09/19/16	D.C. Neu	0.70	Call with client regarding M. White employment motion (.2); review email from client related to same (.1); coordinate filing of same (.3)
09/23/16	D. A. Lentz	0.30	Preparation of proof of service for notice of hearing to approve terms of employment (.2); file with USBC (.1)
09/29/16	D. A. Lentz	0.30	Strike hearing on motion to employ White from Court (.1); file declaration of no objection (.1); upload order for entry with the Court (.1)
09/30/16	M.J. Gearin	0.20	Attend telephonic hearing on employment motion for Mike White
	TOTAL	FEES	9.60 hrs \$ <u>3,409.00</u>

Invoice # 3308796 2070561 Page 10 of 39

TIMEKEEPER SUMMARY

M.J. Gearin	1.20	hrs at	\$	525.00 / hr	630.00
D. A. Lentz	2.90	hrs at	\$	205.00 / hr	594.50
D.C. Neu	3.60	hrs at	\$	430.00 / hr	1,548.00
B. T. Peterson	1.90	hrs at	\$	335.00 / hr	636.50
	TOTAL FEES		9.60 hrs		\$ 3,409.00

MATTER SUMMARY

Case Administration (70040)

\$7,803.50

DATE	NAME	HOURS	DESCRIPTION
09/13/16	M.J. Gearin	0.50	Call with Trustee regarding case update and case planning issues
09/14/16	M.J. Gearin	0.80	Calls with Trustee and preparations for meeting with FBI
09/14/16	D. A. Lentz	1.00	Work to provide various documents to B. Williamson at FBI per request of M. Gearin and D. Neu
09/14/16	D. A. Lentz	0.50	Case administration work
09/15/16	M.J. Gearin	3.30	Attend meeting between Trustee and FBI
09/16/16	D. A. Lentz	0.50	Email from FBI inquiring about transcripts (.1); conference with D. Neu regarding same and email to FBI with contact information for R. Oshinski (.1); miscellaneous case administration work (.3)
09/21/16	M.J. Gearin	3.10	Meet with Trustee regarding multiple case issues including Dayton lease assumption, reporting and committee meeting preparations
09/21/16	D. A. Lentz	0.30	Case administration matters
09/26/16	M.J. Gearin	1.10	Meet with team about coordination of pending tasks
09/26/16	D. A. Lentz	1.00	Team meeting regarding case status and workload
09/26/16	D. A. Lentz	1.00	Confirm hearings for this week with USBC (.2); update master mailing list with self-identified secured creditors (.2); prepare for meeting with team (.4); miscellaneous case administration matters (.2)
09/26/16	D.C. Neu	1.20	Meeting to discuss action items and task list
09/26/16	B. T. Peterson	0.80	Bankruptcy group meeting regarding outstanding case issues
09/27/16	M.J. Gearin	0.50	Call with Trustee regarding coordination of action items
09/28/16	M.J. Gearin	1.20	Multiple calls with Trustee regarding pending issues, case administration matters and preparations for committee meeting
09/29/16	M.J. Gearin	0.70	Call with Trustee regarding multiple case administration matters
09/29/16	D.C. Neu	0.60	Draft letter to court regarding hearing (.2); communicate with R. Powers regarding same (.2); communicate with client regarding same (.2)
	TOT	AL FEES	18.10 hrs \$

Invoice # 3308796 2070561 Page 12 of 39

TIMEKEEPER SUMMARY

M.J. Gearin	11.20	hrs at	\$	525.00 / hr		5,880.00
D. A. Lentz	4.30	hrs at	\$	205.00 / hr		881.50
D.C. Neu	1.80	hrs at	\$	430.00 / hr		774.00
B. T. Peterson	0.80	hrs at	\$	335.00 / hr		268.00
	TOTAL FEES	TOTAL FEES		18.10 hrs		7,803.50

MATTER SUMMARY

Fees \$ \frac{7,803.50}{4,803.50}\$

Claims, Administration and Objections (70050)

\$5,739.50

DATE	NAME	HOURS	DESCRIPTION
09/01/16	B. T. Peterson	0.10	Review email correspondence from plaintiff in adversary complaint
09/02/16	B. T. Peterson	0.10	Phone call with client regarding outcome of hearing on Ira Green motion
09/06/16	B. T. Peterson	0.50	Revise settlement agreement with RETT and other parties and email opposing counsel regarding the changes
09/08/16	D. A. Lentz	0.20	Review and catalog proofs of claim
09/09/16	B. T. Peterson	0.20	Phone call with client regarding settlement with landlord and stalking horse bidder
09/09/16	B. T. Peterson	0.10	Review order entered by Court regarding Ira Green turnover motion
09/12/16	D. A. Lentz	0.50	Telephone conversation with M. Calvert regarding claims register (.1); work on pulling register into an excel spreadsheet (.3); email to M. Calvert and T. McDonald regarding same (.1)
09/13/16	D. A. Lentz	0.10	Telephone call with creditor to confirm proof of claim filed
09/14/16	D. A. Lentz	0.50	Telephone call with creditor regarding proof of claim (.1); review and catalog proofs of claim (.4)
09/15/16	D. A. Lentz	0.40	Telephone call with creditor re proof of claim (.1); review and catalog proofs of claim (.3)
09/16/16	M.J. Gearin	1.20	Attend hearing on Tracy law group motion fee application and contempt sanctions
09/19/16	M.J. Gearin	0.70	Update on status of preservation of insurance claims and coverage issues
09/19/16	M.J. Gearin	1.10	Research regarding effect of lapse of financing statement and renewed perfection in connection with claims of Dayton landlord
09/21/16	D. A. Lentz	0.40	Field telephone calls from creditors (.2); begin working on schedule of secured proofs of claim filed (.2)
09/22/16	B. T. Peterson	0.20	Email to client regarding settlement of Ira Green claim
09/26/16	M.J. Gearin	0.60	Review and analysis of secured claim summary in response to Trustee inquiry
09/26/16	D. A. Lentz	1.80	Review and catalog all secured claims in claims register (1.3); telephone call with T. McDonald (.2); email to attorneys and client regarding spreadsheet (.1); email to IT Dept at

Invoice # 3308796 2070561 Page 14 of 39

DATE	NAME	HOURS	DESC	CRIPTIO	ON			
			bankruptcy court for process for downloading					
09/28/16	M.J. Gearin	0.50	claims register (.2) Analysis of Pan American secured claim					
09/26/10	M.J. Geann	0.50	issues; review of email from R. Vugteveen					
					atus of pledged			
09/28/16	D. A. Lentz	0.10	_	_	all from creditor			
00/20/10	21711 201112		filed c			. 0 9 0 11	9	
09/28/16	D.C. Neu	0.50			ument for sanct			
09/29/16	M.J. Gearin	1.60			Hyatt regarding			
					m (0.3); call with			
					review and anal			
					oof of claim (0.3			
					ions regarding o alue of Pan Am			
				eral (0.		Cilcaile	alleged	
09/29/16	D. A. Lentz	0.30		•	catalog incomin	ng late d	claims (.2);	
					m and email to			
			late fi	led clai	m (.1)			
09/30/16	M.J. Gearin	2.30			erial and resear			
					cured claim; en	nail exc	hange with	
			R. Hyatt regarding same					
09/30/16	D. A. Lentz	0.20	Communications with creditors regarding late filed claims				arding late	
		TOTAL FEES	Tilea c		0 hrs	\$_	5,739.50	
		TOTAL FEES		14.2	0 1115	Φ	5,739.50	
		TIMEKEEP	ER SU	MMAR	<u>Y</u>			
					_			
M.J. Gearir			hrs at	\$	525.00 / hr		4,200.00	
D. A. Lentz			hrs at	\$	205.00 / hr		922.50	
D.C. Neu		0.50		\$	430.00 / hr		215.00	
B. T. Peters	son	1.20	hrs at	\$	335.00 / hr		402.00	
		TOTAL FEES		14.20	0 hrs	\$_	5,739.50	
		MATTER	R SUMN	<u>IARY</u>				
Fees						\$_	5,739.50	
MATTER T	OTAL					\$	5,739.50	

Fee/Employment Applications (70070)

\$1,343.50

FEES

DATE	NAME	HOURS	DESCRIPTION
09/26/16	M.J. Gearin	0.40	Communications regarding planned payment of professional expenses and noticing process
09/27/16	M.J. Gearin	0.40	Communications regarding noticing and payment of professional fees
09/28/16	D. A. Lentz	1.00	Meeting with M. Gearin to discuss notice of intent to pay (.2); review of court docket and create a list of the required notified parties (.8)
09/29/16	M.J. Gearin	0.40	Revisions to draft notice of intent to compensate
09/29/16	D. A. Lentz	0.70	Conference with M. Gearin to talk about special notice list (.2); draft notice of intent to compensate professionals (.5)
09/30/16	M.J. Gearin	0.50	Communications regarding professional fee disbursements
09/30/16	D. A. Lentz	0.50	Revise notice of intent to compensate (.4); email document to client and M. Northrup (.1)
		TOTAL FEES	3.90 hrs \$ <u>1,343.50</u>

TIMEKEEPER SUMMARY

	TOTAL FEES	3.90) hrs	\$ 1,343.50
D. A. Lentz	2.20 hr	rs at \$	205.00 / hr	451.00
M.J. Gearin	1.70 hr	rs at \$	525.00 / hr	892.50

Fees	\$ <u>1,343.50</u>
MATTER TOTAL	\$ <u>1,343.50</u>

Invoice # 3308796 2070561 Page 16 of 39

Litigation (70100)

\$506.00

FEES

DATE	NAME	HOURS	DESC	RIPTION			
09/07/16	D. A. Lentz	0.20	`	(Nevada court case re Hoff/NWTM) Find court case documents for D. Neu as requested			
09/12/16	D. A. Lentz	0.30		m hearings for			` ,.
09/13/16	D. A. Lentz	0.50	(Cohe docke applic	(Cohen vs. Hansen NV case) Review of court docket and local rules regarding motion for application to charge stockholder's stock and response deadlines to same			
09/14/16	M.J. Gearin	0.30	review	nunications was of document of document of the contraction of the cont	ts and do	•	arding
09/28/16	D. A. Lentz	0.70	•	re working co	•		cuments
		TOTAL FEES		2.00 hrs		\$	506.00
		TIMEKEEP	ER SUM	<u>IMARY</u>			
M.J. Gearin D. A. Lentz	1	0.30 1.70	hrs at hrs at	\$ 205.0	00 / hr 00 / hr	ф ——	157.50 348.50
		TOTAL FEES		2.00 hrs		\$ <u></u>	506.00

Fees	\$ 506.00
MATTER TOTAL	\$ 506.00

Trustee v Medallic Art Co LLC (70101)

\$28,804.00

DATE	NAME	HOURS	DESCRIPTION
07/27/16	B. T. Peterson	5.00	Draft Medallic complaint
09/11/16	B. T. Peterson	1.40	Draft answer to Medallic complaint
09/12/16	B. T. Peterson	1.90	Draft answer to complaint filed by Medallic LLC
09/13/16	M.J. Gearin	3.50	Revisions to answer to Medallic complaint; review research regarding compulsory counterclaims and pleading fraudulent transfer claims
09/13/16	M.J. Gearin	0.50	Communications with Judge Corbit staff and parties regarding mediation
09/13/16	B. T. Peterson	4.00	Review and draft answer and counterclaims to Medallic complaint
09/14/16	M. Bassetti	1.00	Assist in document review by Ross Hansen's counsel per request by M. Gearin
09/14/16	M.J. Gearin	6.10	Calls with Trustee regarding factual background and support for draft of answer (1.5); review of documents in support of substantiation of facts (1.2); draft revisions to answer to Medallic complaint (3.4)
09/14/16	M. H. Hoefer	1.60	Overview of supervision responsibilities and procedures with M. Gearin (0.3);supervise opposing counsel R. Powers during in person review of collected documents (1.3)
09/14/16	D. A. Lentz	2.00	(Medallic vs. Trustee Adversary proceeding) Meet with M. Gearin and B. Peterson re Rule 7012 (.1), research re same (.3); work with M. Gearin and B. Peterson on answer (.4); finalize notice regarding final adjudication and consent (.3); review and finalize answer (.5); file answer with USBC and email client regarding same (.4)
09/14/16	B. T. Peterson	6.10	Analyze issues related to answer and counterclaims; revise and edit answer to complaint and counterclaims
09/15/16	M.J. Gearin	0.20	Communications with Judge Corbit staff regarding mediation protocol
09/15/16	M.J. Gearin	0.40	Review correspondence with A. Orth regarding discovery matters (0.3); communications regarding response to Orth
09/15/16	B. T. Peterson	0.40	Review letter regarding discovery
09/16/16	M.J. Gearin	0.80	Meet regarding response to A. Orth letter regarding discovery matters and preparation of initial disclosures
500672683 v1			

DATE	NAME	HOURS	DESCRIPTION
09/16/16	B. T. Peterson	0.90	Analyze discovery issues for Medallic litigation
09/19/16	M.J. Gearin	1.10	Communications regarding outstanding discovery request of Medallic
09/19/16	B. T. Peterson	0.10	Review correspondence related to discovery issues
09/20/16	B. T. Peterson	0.10	Prepare pretrial disclosures
09/20/16	B. T. Peterson	0.50	Analyze issues related to Medallic litigation
09/21/16	B. T. Peterson	1.70	Draft initial disclosures for litigation
09/26/16	M.J. Gearin	1.10	Revisions to initial disclosures
09/26/16	M.J. Gearin	0.90	Meet regarding outline of mediation submission
09/26/16	D. A. Lentz	0.30	Review of records for MF Global statements
09/26/16	B. T. Peterson	0.90	Draft initial disclosures
09/27/16	M.J. Gearin	1.80	Letter to A. Orth in response to discovery issues (1.0); meet with R. Tausend regarding discovery status (0.3); review of document production protocol communications (0.3); communications with trustee regarding discovery status (0.2)
09/27/16	M.J. Gearin	1.30	Meet regarding draft of mediation statement
09/27/16	D. A. Lentz	0.20	Review of bankruptcy rule regarding mediation statement (.1); update calendars with deadlines regarding same (.1)
09/27/16	D. A. Lentz	1.60	Review of discovery regarding investment statements and provide multiple to D. Neu (.5); conference with D. Neu regarding same (.1); email to MF Global regarding service of subpoena (.1); initial drafting of reply to response to motion for sanctions (.3); finalize and file reply to response and supporting documentation with USBC and send for service (.6)
09/28/16	M.J. Gearin	0.20	Call with T. Bucknell regarding lease assumption motion
09/28/16	M.J. Gearin	1.30	Meet regarding discovery production matters; review of documents relating to lease dispute
09/28/16	B. T. Peterson	7.10	Research and draft confidential mediation position statement
09/29/16	M.J. Gearin	1.00	Prepare for status conference; review of pleadings and issues; formulate preliminary case plan
09/29/16	M.J. Gearin	0.90	Call and emails with T. Bucknell regarding status conference and scheduling matters
09/29/16	M.J. Gearin	0.80	Communications with T. Lerner regarding documents requested in connection with mediation; research and review of financial statements of Medallic

Invoice # 3308796 2070561 Page 19 of 39

DATE	NAME	HOURS	DESC	RIPT	ION	
09/29/16	D. A. Lentz	1.40	Review of mediation certification requirements and conference with M. Gearin and B. Peterson regarding same (.3); meeting with M. Gearin regarding financial documents and tax returns for Medallic Art Company LLC (.2); review of discovery regarding same (.7); meeting with R. Tausend regarding discovery (.2)			
09/29/16	B. T. Peterso	n 5.70		confic	lential mediation	statement
09/30/16	M.J. Gearin	0.50	Attend	d tele	ohonic status con	ference
09/30/16	M.J. Gearin	2.20		v of u	pdated research	diation statement; on subcon and
09/30/16	D. A. Lentz	0.40	Contir	nue w	ork Medallic Art f discovery issues	
09/30/16	T. S. Miller	3.50	Research recent substantive consolidation cases from around the country (1.9); check for any updates to the piercing the corporate veil law in WA or NV (1.2); summarize research for M. Gearin and B. Peterson (.4)			
09/30/16	B. T. Peterso	n 4.50	Draft a		esearch confident	ial mediation
		TOTAL FEES		76.	90 hrs	\$ 28,804.00
		TIMEKEEP	ER SUM	ИМАР	<u>RY</u>	
M. Bassetti		1 00	hrs at	\$	90.00 / hr	90.00
M.J. Gearir			hrs at	\$	525.00 / hr	12,915.00
M. H. Hoefe		1.60	hrs at	\$	90.00 / hr	144.00
D. A. Lentz		5.90		\$	205.00 / hr	1,209.50
T. S. Miller		3.50	hrs at	\$	270.00 / hr	945.00
B. T. Peters	son	40.30	hrs at	\$	335.00 / hr	13,500.50
		TOTAL FEES		76.	90 hrs	\$ 28,804.00
		MATTER	R SUMM	ARY		
Fees MATTER T	OTAL					\$ <u>28,804.00</u> \$ <u>28,804.00</u>

Trustee v Diane Erdmann (70102)

\$6,092.50

DATE	NAME	HOURS	DESCRIPTION
09/01/16	T.J. Angelis	0.50	Assist with appellate procedure query
09/01/16	D. A. Lentz	0.90	(Erdmann appeal) Finalize statement of issues and designation of record and file with Court (.2): conference with D. Neu, T. Angelis and D. Tessier regarding appellate rules (.3); draft and file amended statement of issues (.4)
09/01/16	D.C. Neu	1.80	Finalize statement of issues
09/01/16	D. Tessier	0.20	Work on the appeal record for submission to the district court under FRBP8009(b)(1).
09/07/16	D. A. Lentz	0.80	(Erdmann Appeal) Conference with D. Neu regarding dates and deadlines (.3); review of rules (.2); draft of corporate disclosure statement as appellee and file with USDC (.3)
09/07/16	D.C. Neu	0.50	Review issues related to appeal briefing
09/13/16	D. A. Lentz	0.30	File reply to response for motion for stay pending appeal
09/15/16	D.C. Neu	1.50	Prepare for argument on motion for stay pending appeal
09/16/16	D. A. Lentz	0.30	Conference with D. Neu regarding outcome of hearing (.1); finalize order for entry with the Court (.1) upload for entry (.1)
09/16/16	D.C. Neu	4.50	Prepare for and attend hearing on stay pending appeal (3.9); draft order related to same (.3); communicate with D. Bugbee regarding same (.2); communicate with client regarding same (.1)
09/20/16	D. A. Lentz	0.60	Review of appeal dockets regarding deadlines (.2); conference with D. Neu regarding same (.2); review of order granting motion for stay pending appeal and send same to client (.2)
09/20/16	D.C. Neu	0.30	Communicate with court clerk regarding appeal issues
09/21/16	D.C. Neu	0.30	Review deadlines in appeal
09/26/16	D. A. Lentz	0.10	Review of D. Erdmann's proof of claim filed in case
09/26/16	D.C. Neu	0.40	Review D. Erdmann's designation of record
09/28/16	D. A. Lentz	1.20	Draft of cross designation in cross appeal (.5); meet with D. Neu regarding same (.2); review of additional designation filed by D. Erdmann (.1); revise designation and finalize for filing (.2); file designation of record with USBC (.2)

Invoice # 3308796 2070561 Page 21 of 39

DATE	NAME	HOURS	DESC	RIPT	ON		
09/28/16	D.C. Neu	1.80	Call with D. Bugbee regarding case theory				
			and potential settlement discussions (.3); review and edit designation of record on				
					review supplem		
					ee (.2); commur		
			regard	ding d	esignation of re	cord (.2))
09/29/16	D. A. Lentz	0.40			with D. Neu reg		
					of hearing on sontinuation wi		
			. , .		ing and update		
					r to Judge rega		O ().
09/30/16	D. A. Lentz	0.20			bjection to moti		, .
					hment (.1); strik	e hearir	ng on same
		TOTAL FEES	with L		(.1) 60 hrs	\$	6,092.50
		TOTALTELS		10.0	00 1115	Ψ _	0,092.30
		TIMEKEEP	ER SUN	<u>/IMAR</u>	<u>Y</u>		
T.J. Angelis	S	0.50	hrs at	\$	565.00 / hr		282.50
D. A. Lentz		4.80	hrs at	\$	205.00 / hr		984.00
D.C. Neu		_	hrs at	\$	430.00 / hr		4,773.00
D. Tessier		0.20	hrs at	\$	265.00 / hr		53.00
		TOTAL FEES		16.6	0 hrs	\$_	6,092.50
		MATTER	RSUMM	ARY			
Fees						\$	6,092.50
MATTER T	OTAL					\$	6,092.50

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$11,400.50

DATE	NAME	HOURS	DESCRIPTION
09/01/16	D.C. Neu	1.10	Review hearing transcripts for appeal
09/02/16	D.C. Neu	4.80	Deposition of E. Robinson by EEOC
09/05/16	D. P. Hurley	2.30	Review inquiry regarding pending lawsuit (1.0) review Complaint from lawsuit and research issues related to potential damages (.8); begin drafting analysis of same (.5)
09/06/16	D. P. Hurley	1.90	Research (.9); draft analysis of potential damages (1)
09/06/16	D.C. Neu	1.50	Review analysis of EEOC claim (1); communicate with EEOC regarding same (.3); call with client regarding same (.2)
09/07/16	D.C. Neu	0.90	Draft summary of litigation issues for client (.4); communicate with EEOC regarding settlement (.2); research regarding cap on award (.3)
09/08/16	D. P. Hurley	1.50	Research additional issues related to potential damages in lawsuit and draft email to D. Neu summarizing findings from same
09/08/16	A. E. Millstein	2.50	Telephonic attendance of deposition of Young; confer with D. Neu regarding same
09/08/16	D.C. Neu	0.90	Communicate with EEOC regarding deposition (.1); communicate with EEOC regarding settlement (.2); call with client regarding same (.2); review analysis of damages (.2); draft email to client regarding same (.2)
09/09/16	D.C. Neu	1.00	Call with EEOC to discuss resolution (.6); analysis of same (.4)
09/14/16	D.C. Neu	0.20	Draft acceptance of service (.1); communicate with D. Bugbee regarding same (.1)
09/19/16	D.C. Neu	0.20	Communicate with client regarding settlement (.2)
09/21/16	D.C. Neu	1.00	Communicate with EEOC regarding settlement (.2); communicate with client regarding same (.2); review show cause order (.3); review consent decree (.4)
09/26/16	D. A. Lentz	0.60	Finalize response to motion to show cause and supporting declaration (.3); file same with USDC (.3)
09/26/16	D.C. Neu	4.60	Draft and edit response to order to show cause (3); draft declaration in support of same (.5); communicate with client regarding same (.3); revise and edit settlement agreement (.8)
500672683 v1			

Invoice # 3308796 2070561 Page 23 of 39

DATE	NAME	HOURS	DESCRIPTION			
09/26/16	B. T. Peterson	2.30	Draft settlement agreement with EEOC			
09/29/16	D.C. Neu	0.20	Communicate with EEOC regarding status (.	.2)		
09/30/16	D.C. Neu	1.10	Call with EEOC regarding issues related to settlement (.3); analysis of same (.7)			
	TOTA	AL FEES	28.60 hrs \$ <u>11,400.</u>	<u>50</u>		

TIMEKEEPER SUMMARY

D. P. Hurley	5.70	hrs at	\$	385.00 / hr	2,194.50
D. A. Lentz	0.60	hrs at	\$	205.00 / hr	123.00
A. E. Millstein	2.50	hrs at	\$	315.00 / hr	787.50
D.C. Neu	17.50	hrs at	\$	430.00 / hr	7,525.00
B. T. Peterson	2.30	hrs at	\$	335.00 / hr	770.50
	TOTAL FEES		28.6	0 hrs	\$ 11,400.50

Fees	\$ <u>11,400.50</u>
MATTER TOTAL	\$ <u>11,400.50</u>

Invoice # 3308796 2070561 Page 24 of 39

State of NV v Hansen, NWTM et al, Nevada State Court Case (70105)

\$2,517.00

|--|

DATE	NAME	HOURS	DESCRIPTION					
09/15/16	D.C. Neu	2.40	Draft motion to approve settlement agreement					
09/20/16	D.C. Neu	1.60	Finalize pleadings to approve settlement					
09/21/16	D. A. Lentz	0.90	Finalize documents for motion to approve settlement with NV EPA (.6); draft of notice of hearing regarding same (.3)					
09/21/16	D.C. Neu	0.90	Revise pleadings for approval of settlement with NDEP (.5); communicate with client regarding same (.3); email to M. Fairbanks regarding execution of agreement (.1)					
09/22/16	D. A. Lentz	0.80	Finalize all documents and file motion to approve settlement agreement with Nevada EPA and send for service					
09/23/16	D. A. Lentz	0.30	Preparation of proof of service for notice of hearing to approve settlement agreement (.2) file with USBC (.1)					
		TOTAL FEES	6.90 hrs \$ <u>2,517.00</u>					

TIMEKEEPER SUMMARY

D. A. Lentz	2.00	hrs at	\$	205.00 / I	٦r	410.00
D.C. Neu	4.90	hrs at	\$	430.00 / I	nr	2,107.00
	TOTAL FEES		6.9	0 hrs	\$	2,517.00

Fees	\$ <u>2,517.00</u>
MATTER TOTAL	\$ 2,517.00

David T. Achord v NW Territorial Mint LLC (70106)

\$303.50

FEES

DATE	NAME	HOURS	DESCRIPTION						
09/02/16	D. A. Lentz	0.50	Conference with B. Peterson regarding responses to motion to dismiss (.1); submit notice to court of unopposed motion and declaration of no objections (.1); finalize order and upload with the Court (.2); email to plaintiff regarding same (.1)						
09/02/16	B. T. Peterson	0.20	Review order dismissing adversary complaint and discuss the same with client						
09/06/16	B. T. Peterson	0.40	Call to chambers regarding order and submit amended order for Achord						
	TOTA	AL FEES		1.	10 hrs	\$	303.50		
		TIMEKEEP	ER SUM	MAR	<u>RY</u>				
D. A. Lentz		0.50	hrs at	\$	205.00 / hr		102.50		
B. T. Peters	0.60	hrs at	\$	335.00 / hr		201.00			

D. A. Lentz	0.50	hrs at	\$	205.00 / H	٦r	102.50
B. T. Peterson	0.60	hrs at	\$	335.00 / H	nr	201.00
	TOTAL FEES		1.1	0 hrs	\$	303.50

Fees	\$ <u>303.50</u>
MATTER TOTAL	\$ <u>303.50</u>

American Express Fraudulent Transfer Action (70107)

\$7,706.50

DATE	NAME	HOURS	DESCRIPTION
09/01/16	D.C. Neu	0.40	Review email from client regarding fraudulent transfer complaint (.1); begin drafting of same (.3)
09/06/16	D.C. Neu	2.10	Draft complaint regarding fraudulent transfers
09/08/16	D.C. Neu	1.60	Revise complaint (.5); review documentation regarding charges (1.1)
09/09/16	D. A. Lentz	0.50	Finalize and file complaint for fraudulent transfers with USBC
09/09/16	D.C. Neu	2.30	Revise complaint to include new causes of action (1.1); research regarding writ of attachment (1.2)
09/12/16	D. A. Lentz	0.80	Work on motion for prejudgment writ of attachment with D. Neu
09/12/16	D.C. Neu	5.10	Draft and edit pleadings seeking writ of attachment (5.1)
09/13/16	D. A. Lentz	2.60	Finalize documents for motion for prejudgment writ of attachment including preparation of exhibits (1.2); file motion and related documents with USBC (.4); research regarding physical address of defendant for service (.3) send motion documents as well as summons and complaint for service on defendant (.4); send courtesy copy to D. Bugbee (.2)
09/13/16	D.C. Neu	3.80	Call with D. Bugbee regarding litigation (.2); finalize pleadings related to writ of attachment (3.6)
09/14/16	D. A. Lentz	0.40	Discuss service issues of summons and complaint as well as motion for prejudgment writ of attachment with D. Neu (.2); calendar answer date, pretrial conference and hearing dates and deadlines (.2)
09/15/16	D. A. Lentz	1.20	Continued issues with service of motion for prejudgment writ of attachment (.2); conference with D. Neu regarding notice regarding final adjudication and consent; draft of final adjudication and consent and send to D. Neu for client approval (.3); emails with D. Bugbee regarding service of D. Erdmann (.1); draft of acceptance of service for motion and related documents (.2); file acceptances of service (.2); file notice regarding final adjudication and consent (.2)

Invoice # 3308796 2070561 Page 27 of 39

TOTAL FEES 20.80 hrs \$ <u>7,706.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz 5.50 hrs at \$ 205.00 / hr 1,127.50 D.C. Neu 15.30 hrs at \$ 430.00 / hr 6,579.00

TOTAL FEES 20.80 hrs \$ 7,706.50

MATTER SUMMARY

Fees \$ \frac{7,706.50}{0.50}\$

MATTER TOTAL \$ \frac{7,706.50}{0.50}\$

Meetings and Communications with Creditors (70110)

\$1,429.50

FEES

DATE	NAME	HOURS	DESCRIPTION						
09/01/16	D. A. Lentz	0.40	Field phone calls and emails from creditors						
09/02/16	D. A. Lentz	0.20	Address queries regarding proofs of claim filed/received after deadline						
09/07/16	D. George	0.50	Search for current addresses for L. Vincent, M. Laurion and R. Herrin per D. Evans						
09/07/16	D. A. Lentz	0.70	Continued calls and emails from creditors post-bar date deadline						
09/12/16	D.C. Neu	0.30	Call with J. Fritz regarding proof of claim						
09/13/16	M.J. Gearin	0.70	Call with M. Northrup regarding committee communications; follow up emails						
09/22/16	D. A. Lentz	0.10	Telephone call with creditor						
09/23/16	D. A. Lentz	0.20	Field telephone calls from creditors						
09/28/16	M.J. Gearin	0.90	Call with Trustee and M. Northrup regarding multiple case issues including M. White employment and presentations at committee meeting						
		TOTAL FEES	4.00 hrs \$ <u>1,429.50</u>						

TIMEKEEPER SUMMARY

M.J. Gearin	1.60	hrs at	\$	525.00 / hr	840.00
D. George	0.50	hrs at	\$	265.00 / hr	132.50
D. A. Lentz	1.60	hrs at	\$	205.00 / hr	328.00
D.C. Neu	0.30	hrs at	\$	430.00 / hr	129.00
	TOTAL FEES		4.00 hrs		\$ 1,429.50

MATTER SUMMARY

Fees \$ 1,429.50 MATTER TOTAL \$ 1,429.50

Invoice # 3308796 2070561 Page 29 of 39

\$971.50

DATE	NAME	HOURS I	DESCRIPTIO	N		
09/21/16	B. T. Peterson		Analyze issue reorganization	s related to clair	ms and _l	plan of
	TOTA	AL FEES	2.90		\$	971.50
		TIMEKEEPER	RSUMMARY			
B. T. Peter		2.90 hi AL FEES	rs at \$ 2.90	335.00 / hr hrs	\$	971.50 971.50
		MATTER S	SUMMARY			
Fees MATTER 1	ΓΟΤΑL				\$ \$	971.50 971.50

Invoice # 3308796 2070561 Page 30 of 39

Tax (70140) \$82.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
09/01/16	D. A. Lentz	0.20	Voicemail to IRS regarding rejection of tax transcript request (.1); review of documents regarding same (.1)			
09/02/16						
		TOTAL FEES	0.40 hrs	\$82.00		
		TIMEKEEP	ER SUMMARY			
D. A. Lentz		0.40 TOTAL FEES	hrs at \$ 205.00 / hr 0.40 hrs	\$ <u>82.00</u> \$ <u>82.00</u>		
MATTER SUMMARY						
Fees MATTER T	OTAL			\$ <u>82.00</u> \$ <u>82.00</u>		

Assumption and Rejection of Leases and Contracts (70150)

\$25,335.00

DATE	NAME	HOURS	DESCRIPTION
09/01/16	D.C. Neu	1.40	Continue to research legal issues regarding lease assumption (1.1); communicate with client regarding evidence (.3)
09/04/16	B. T. Peterson	2.60	Draft motion to assume lease
09/05/16	B. T. Peterson	2.60	Draft motion to assume Dayton Lease
09/06/16	D.C. Neu	0.80	Call regarding lease assumption issues
09/06/16	B. T. Peterson	0.90	Analyze issues related to lease assumption motion
09/07/16	D.C. Neu	5.20	Calls with Jessica Gilbert regarding evidentiary issues (.4); revise lease assumption motion (2.4); call with R. Oshinski regarding declaration (.4); call with client regarding same (.3); review Hoff declaration (.1); meeting with B. Peterson regarding same (.2); correspondence with M. Gearin regarding same (.2); call with NDEP regarding correspondence from NWTM (.3); review litigation file (1)
09/07/16	B. T. Peterson	0.60	Phone calls regarding Hoffs and motion to assume
09/07/16	B. T. Peterson	1.60	Draft declarations in support of motion to assume lease
09/08/16	D.C. Neu	4.10	Revise and edit lease assumption motion (2); draft declarations in support (1.1); meeting with T. McDonald to review financial information (1.0)
09/08/16	B. T. Peterson	0.30	Analyze issues related to lease assumption
09/08/16	B. T. Peterson	1.20	Draft pleadings related to lease assumption motion
09/08/16	B. T. Peterson	0.70	Analyze issues related to lease assumption motion
09/09/16	B. T. Peterson	0.40	Phone call with M. Gearin regarding status of motion to assume lease
09/13/16	M.J. Gearin	0.90	Meet regarding Dayton lease assumption motion (0.5); review draft pleadings regarding lease assumption (0.4)
09/13/16	D.C. Neu	0.60	Work with J. Gilmore on information related to rent payments (.6)
09/14/16	M.J. Gearin	1.30	Calls with Trustee regarding lease assumption of Dayton (0.5); draft revisions to Hoff declaration (0.8)
09/14/16	D. A. Lentz	0.30	Review of exhibits to T. McDonald declaration
500672683 v1			

DATE	NAME	HOURS	DESCRIPTION
			received via DropBox
09/14/16	D.C. Neu	1.00	Meeting with M. Gearin to discuss lease issues (.2); work with T. McDonald on rent payment data (.8)
09/15/16	M.J. Gearin	1.50	Communications with Trustee and M. Northrup regarding Dayton lease assumption matters (1.1); revisions to lease assumption pleadings
09/16/16	M.J. Gearin	1.30	Communications with Trustee and committee counsel regarding Dayton lease assumption (0.8); revisions to pleadings on motion to assume Dayton lease
09/16/16	D.C. Neu	0.60	Communicate with T. McDonald and J. Gilmore regarding exhibits for lease assumption motion (.2); review same (.4)
09/19/16	M.J. Gearin	1.10	Extended call with M. Northrup regarding Dayton lease assumption issues
09/19/16	M.J. Gearin	3.30	Draft Dayton lease assumption pleadings (2.0); revisions to Hoff declaration in support (0.8); communications with Trustee regarding lease assumption status (0.5)
09/19/16	D. A. Lentz	1.50	Work on lease assumption motion documents with attorneys (.5); work on exhibits to Hoff declaration (.4); review of files from R. Hansen office regarding exhibits (.2); finalize exhibits to Hoff declaration and email package to C. Hoff and her attorney (.4)
09/19/16	D.C. Neu	1.90	Revise and edit exhibits to T. McDonald declaration in support of lease assumption (1); calls with T. McDonald regarding same (.5); revise declaration (.4)
09/20/16	D. A. Lentz	1.00	Draft of notice of hearing (.4); receipt of additional documents from client and review of same (.1); work on preparing exhibits to declaration of T. McDonald for filing with Court (.5)
09/21/16	M.J. Gearin	4.90	Revisions to Dayton lease assumption motion supporting pleadings
09/21/16	D. A. Lentz	1.60	Meeting with M. Gearin and D. Neu regarding motion to approve lease assumption (.2); review of transcripts regarding R. Hansen (.3); multiple revisions to the declaration of T. McDonald and to exhibits regarding same (.7); search of Nevada secretary of state records (.4)
09/21/16	D.C. Neu	1.80	Work on revisions to declarations (.5); review exhibits to same (.5); communicate with J. Gilmore and T. McDonald regarding edits (.3);

DATE	NAME	HOURS	DESCI	RIPTION			
00/00/46	M.I. Coorin	4.40	draft and edit notice of hearing (.5)				
09/22/16	M.J. Gearin	4.10	Revise Dayton lease assumption pleadings; communications with Trustee regarding same				
09/22/16	D. A. Lentz	1.60	Draft of order regarding motion to assume lease (.5); conference with B. Peterson regarding status of motion (.1); send exhibits to McDonald declaration to M. Calvert (.2); follow up with T. McDonald on exhibit to declaration (.1); work on finalizing documents (.6); telephone conversation with M. Calvert (.1)				
09/22/16	B. T. Petersor	1.70	Revise motion	e pleadings related to lease assumption			
09/26/16	M.J. Gearin	2.20		ions to pleadings in support of motion to ve assumption of Dayton lease			
09/26/16	D. A. Lentz	0.50	Work on finalizing documents for Dayton lease motion				
09/27/16	M.J. Gearin	1.50	Final revisions to pleadings in support of motion to assume Dayton lease				
09/27/16	D. A. Lentz	3.40	Final review and revisions to motion to assume Dayton lease and multiple corresponding declarations (.7); preparation of voluminous number of exhibits for filing with USBC (1.2); emails to client, attorneys and members of creditor committee regarding documents to file (.3); preparation of mailing matrix for lease motion (.3); conferences with M. Gearin regarding motion (.2); file motion and all related documents and exhibits with USBC and send for service as needed (.7) 62.00 hrs \$				
TIMEKEEPER SUMMARY							
M.J. Gearin D. A. Lentz D.C. Neu B. T. Peters		22.10 9.90 17.40 12.60 TOTAL FEES	hrs at hrs at hrs at hrs at	\$ 525.00 / hr 11,602.50 \$ 205.00 / hr 2,029.50 \$ 430.00 / hr 7,482.00 \$ 335.00 / hr 4,221.00 62.00 hrs \$ 25,335.00)))		

Invoice # 3308796 2070561 Page 34 of 39

MATTER SUMMARY

Fees \$ 25,335.00 MATTER TOTAL \$ 25,335.00

Invoice # 3308796 2070561 Page 35 of 39

Reporting (70210)

\$301.00

FEES

DATE	NAME	HOURS	DESC	RIPTION	
09/21/16	M.J. Gearin	0.30	Revisions to monthly reporting; communications with Trustee and J. Cannady		
			re sar		,
09/21/16	D. A. Lentz	0.40		_	cial report sent by J.
				ady (.1); conference ding same (.3)	e with M. Geann
09/22/16	D. A. Lentz	0.30	Email	from client regardi	ng August MOR (.1);
		TOTAL FEES	file Mo	OR with USBC and 1.00 hrs	email to client (.2) \$ 301.00
		TOTAL FEES		1.00 1115	\$ <u>301.00</u>
		TIMEKEEP	ER SUN	<u>MMARY</u>	
M.J. Gearir	า	0.30	hrs at	\$ 525.00 / h	r 157.50
D. A. Lentz			hrs at	\$ 205.00 / h	
		TOTAL FEES		1.00 hrs	\$ 301.00
		MATTER	SUMM	<u>IARY</u>	
Гооо					Ф 204.00

Fees \$ 301.00 MATTER TOTAL \$ 301.00

Invoice # 3308796 2070561 Page 36 of 39

Intellectual Property Advice and Trademark Registration (70230)

\$2,024.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/27/16	B. T. Peterson	0.40	Research related to Medallic trade name
09/28/16	M.J. Gearin	3.10	Meet with P. Jacobson regarding intellectual property recovery issues; review and analysis of documents relating to IP assets of estate
09/29/16	M.J. Gearin	0.50	Communications regarding intellectual property preservation matters
	TOTA	L FEES	4.00 hrs \$ <u>2,024.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	3.60	hrs at	\$	525.00 /	hr	1,890.00
B. T. Peterson	0.40	hrs at	\$	335.00 /	hr	134.00
	TOTAL FEES		4.0	00 hrs	\$	2,024.00

Fees	\$ <u>2,024.00</u>
MATTER TOTAL	\$ <u>2,024.00</u>

Invoice # 3308796 2070561 Page 37 of 39

Costs (99999) \$7,825.45

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
09/01/16	Postage	29.95
09/01/16	Copying Expense	2.40
09/01/16	Copying Expense	12.00
09/02/16	Copying Expense	1.40
09/04/16	Ahearn & Associates Transcript Michael Gearin	123.25
09/04/16	YOM Reporting and Video - Mike Gearin for Ross	2,514.80
09/07/16	Copying Expense	21.80
09/08/16	Westlaw - BTP - 09/05/2016 - 09/08/2016	97.10
09/09/16	Copying Expense	1.20
09/12/16	Business Meal - Evans, Denise - Business Meal (attendees) - 2016-08-25 - Kigo Kitchen - Lunch E Robinson	27.41
09/12/16	Local Courier - TC Legal Services, LLC 5/3 #3 505 Union Avenue, Suite 120, Olympia - Subpoena for Rule 2004 Examination	91.00
09/12/16	Local Courier - TC Legal Services, LLC 5/6 #2 505 Union Avenue, Suite 120, Olympia - Subpoena for Rule 2004 Examination	112.00
09/12/16	Local Courier - TC Legal Services, LLC 5/7 #2 7509 35th Ave NE, Seattle - Subpoena	23.00
09/13/16	Westlaw - BTP - 09/13/2016 - 09/13/2016	97.10
09/13/16	Local Courier - Courier Services for Aug 2016 - John Sullivan dba HALO Messengers - 08312016 - 8/30 #2 1201 3rd #2200 - Courtesy Copy of Subpoena to Produce Documents	7.00
09/13/16	Local Courier - Courier Services for Aug 2016 - John Sullivan dba HALO Messengers - 08312016 - 8/24 #5 1420 5th #3328 - File	8.00
09/13/16	Local Courier - Courier Services for AUG 2016 - TC Legal Services LLC - 08312016 - 8/17 #6 NW Mint Federal Way, WA - Rush - Pick up Binder provided by Erin Robinson	60.00
09/13/16	Local Courier - Courier Services for AUG 2016 - TC Legal Services LLC - 08312016 - 8/30 #1 Subpoena Bussey, Ken Federal Way, WA - Subpoena to Produce Documents	46.00
09/13/16	Local Courier - Courier Services for AUG 2016 - TC Legal Services LLC - 08312016 - 8/12 #4 Dept Financial Institutions Tumwater WA - letter, & documents	150.00
09/15/16	Postage	14.70
09/19/16	Copying Expense	26.80
09/21/16	Copying Expense	11.00
09/21/16	Other - District Court Clerk - 09162016	11.00
09/22/16	Copying Expense	27.20
09/22/16	7/19 #1 31925 115th Avenue SE Auburn, WA - Sub	51.00
09/22/16	7/27 #1 505 Union Avenue, Suite 120 Olympia, W	112.00
09/22/16	7/2 #2 Subpoena - Donald Schwenk	141.00

Invoice # 3308796 2070561 Page 39 of 39

DATE	DESCRIPTION	AMOUNT
09/26/16	Westlaw - DCN - 09/01/2016 - 09/26/2016	3,581.84
09/26/16	Travel Expenses - Neu, David - Parking - 2016-09-16 - Parking for Hearing Stay Pending Appeal	15.00
09/26/16	Other - LexisNexis Risk Solutions - 08312016	32.15
09/27/16	Postage	34.45
09/27/16	Postage	30.85
09/27/16	Copying Expense	0.20
09/27/16	Copying Expense	0.80
09/27/16	Copying Expense	0.20
09/27/16	Copying Expense	29.60
09/29/16	Postage	24.00
09/29/16	Postage	32.45
09/29/16	Witness Lunch - Lunch for 2 guests - Consolidated Food Management Inc - 08052016	29.60
09/30/16	Westlaw - TSM - 09/30/2016 - 09/30/2016	194.20
	DISBURSEMENTS & OTHER CHARGES \$ _	7,825.45

.....

Disbursements and Other Charges	ֆ	7,825.45
MATTER TOTAL	\$	7,825.45

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : October 19, 2016

Invoice Number : 3308799

Services Through: September 30, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 19,801.00 Disbursements and Other Charges \$ 4,550.31

Total Amount Due This Matter \$ 24,351.31

CURRENT INVOICE DUE - All Matters \$ 24,351.31

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$24,351.31

DATE	NAME	HOURS	DESCRIPTION
09/01/16	R. M. Tausend	0.20	Review correspondence from other law firms producing materials relating to litigation and develop and implement plan to incorporate materials into searchable master case database to meet bankruptcy team's needs
09/02/16	L.E. Steidl	0.20	Confer with R. Tausend regarding strategy and plan for loading and organizing documents received from other parties into searchable master case review and production database
09/06/16	L.E. Steidl	0.30	Address open items in connection with strategy and plan for ;lading and organization of documents received from other parties into master case review and production database
09/08/16	C. M. Kuffel	0.80	Load Mendoza Law Center's Production No. 01 in Ringtail master case database
09/08/16	R. M. Tausend	0.30	Review correspondence from H. Lam regarding bank statements and identify options for secure access and upload into review tools
09/09/16	C. M. Kuffel	0.70	Load Gunderson Law's Production No. 01 into Ringtail master case database
09/09/16	R. M. Tausend	0.30	Email to M. Gearin regarding receipt of banking files from H. Lam based on recommendation from analyst team (0.1); review request from R. Hansen counsel for onsite review of files and analyze inventories in connection with same (0.2)
09/14/16	L.E. Steidl	1.20	Assist in preparation of files for on-site visit by R. Hansen counsel (0.2); review files and locate key documents requested by M. Gearin (0.6); address transfer and download of files from DFI (0.3); coordinate imaging of targeted collection files and non-client production files for loading to case database (0.3)
09/14/16	R. M. Tausend	3.20	Analyze questions and respond to requests relating to R. Hansen office files in connection with R. Powers' on-site file review, including comparative analysis of Federal Way and postmove inventories, supplement inventory descriptions and communications with

DATE	NAME	HOURS	DESCRIPTION
			M. Gearin regarding same (2.3); call with M. Calvert and D. Huffman regarding Legal Office files collected for production (0.2); review prior communications in preparation for same (0.1); triage RJ O'Brien files produced by Medallic's counsel and provide instructions to e-DAT team regarding same (0.2); analyze Allison MacKenzie production, develop search strategy and provide report in response to requests for information from M. Gearin and D. Evans relating to MAC sale (0.4)
09/15/16	C. M. Kuffel	0.20	Analyze, organize and make technical edits to R. O'Brien production in preparation for loading into Ringtail master case database
09/15/16	R. M. Tausend	1.30	Review and analyze letter from A. Orth regarding production and review 2004 Order and production records to assess claims made by Medallic's counsel (1.1); exchange emails with M. Gearin and B. Peterson regarding same (0.2)
09/16/16	C. M. Kuffel	0.50	Load R. O'Brien production into Ringtail master case database for efficient searchable access by bankruptcy team
09/16/16	R. M. Tausend	2.60	Analyze Bucknell production deficiency letter, review prior communications, database reports and documents and production records in response and meet with M. Gearin and B. Peterson to discuss strategy and action plan regarding same (2.3); review communications from H. Lam and provide guidance to L. Steidl regarding bank records produced by DFI (0.3)
09/19/16	C. M. Kuffel	0.40	Load DFI production of Columbia Bank records into Ringtail master case database
09/19/16	R. M. Tausend	2.40	Analyze production report relative to A. Orth claims regarding production of Medallic financial and sales records and royalty reports and prepare summary regarding same (1.1); analyze files in R. Hansen office box 5 relative to A. Orth claim regarding R Hansen segregated files and production from Legal Office to confirm box contents correspond to Legal Office imaged collection (0.7); strategize with D. Evans regarding MAC lease files referenced in A. Orth letter in connection with M. Gearin request (0.2); analyze R. Vugteveen identified files relative to 2004 Order and productions to date (0.4)

DATE	NAME	HOURS	DESCRIPTION
09/20/16	C. M. Kuffel	0.00	Renew FTP production site accounts for A. Orth and T. Bucknell in connection with A. Orth request relating to production of financial and sales records - No Charge
09/20/16	L.E. Steidl	1.00	Address outstanding discovery and review tasks including imaging and loading of targeted collection files and identification and organization of files for review, and confer with R. Tausend regarding timelines and strategies relating to same
09/20/16	R. M. Tausend	3.30	Communications with A. Orth regarding production volume 3, financial and sales records and related actions to respond to A. Orth request to reupload production originally delivered to Bucknell August 11th (0.7); analyze materials relevant to A. Orth production deficiency letter assertions and draft responses to each (2.5); emails with M. Gearin regarding same (0.1)
09/21/16	L.E. Steidl	0.20	Address imaging and organization of targeted collection files received from DFI (bank records) to prepare same for review
09/21/16	R. M. Tausend	4.20	Analyze Medallic Complaint and Response in support of response to A. Orth 2004 Order production deficiency letter and requests and supplement draft response letter (1.2); meeting with M. Calvert, M. Gearin and B. Peterson to discuss open items and strategic decisions regarding same (0.3); analyze email collection in response to M. Calvert revised proposal for production, craft strategy to protect privilege, and request updated privilege search results from e-DAT team in support of same (1.1); revise response letter to incorporate M. Calvert comments and information regarding R. Hansen office files and M. Richardson (0.8); strategize with B. Peterson regarding A. Orth request relating to initial disclosures and update letter to reflect same (0.3); develop strategy for completing analysis of production status for accountant materials provided to Trustee and outline plan for implementation by litigation support team (0.5)
09/22/16	C. M. Kuffel	0.50	Load DFI bank records collection in Ringtail master case database

DATE	NAME	HOURS	DESCRIPTION
09/22/16	L.E. Steidl	1.00	Analyze documents for potential production to validate and supplement list of privileged names for development of targeted search to segregate potentially privilege files for review prior to production
09/22/16	R. M. Tausend	1.50	Request and evaluate audit of Medallic counsel's firm access to FTP site containing replacement production and provide update to M. Gearin regarding same (0.2); analyze results of production statement assessment for accountant discovery materials and strategize with M. Bassetti regarding same (0.4); analyze R. Vugteveen identified files to develop recommendation relating to same (0.4); emails regarding DFI supplemental production of bank records (0.2); strategize with L. Steidl regarding scope of privilege screen of emails (0.3)
09/23/16	C. M. Kuffel	0.30	Load DFI bank records collections into Ringtail master case review database
09/23/16	L.E. Steidl	1.40	Address imaging and organization of targeted collection files for loading to case database (0.2); test and update searches to identify subset of files for pre-production privilege review, review and organize files for production, and provide detailed instruction to technical team regarding preparation of same for production (1.2)
09/23/16	R. M. Tausend	1.10	Analyze remaining email collection in response to M. Calvert production scope proposal to identify subsets of potentially privileged materials and updates to coding template to expedite triaging for production (0.6); strategize and coordinate with L. Steidl regarding implementation of revised plan (0.3); assess status of Medallic counsel's access to financial and sales records production and potential implications for next rolling production set, and provide update to M. Gearin regarding same (0.2)
09/26/16	R. M. Tausend	0.70	Strategize with M. Gearin regarding plan for completing remaining 2004 Order items and related Medallic letter and requests and regarding R. Vugteveen potentially responsive files (0.3); analyze information and draft proposal relating to same (0.4); review email

DATE	NAME	HOURS	DESCRIPTION
09/27/16	M. H. Hoefer	0.20	update from L. Steidl regarding DFI supplemental bank statement production to monitor and confirm status of responses to requests for same (0.1) Generate file transfer protocol reports reflecting opposing counsel's actions in response to production deliveries and respond to questions and requests relating to same in support of attorney team's response to production deficiency letter
09/27/16	R. M. Tausend	1.00	Review M. Gearin proposed final draft response to A. Orth letter regarding document production and provide comments and updates relating to same (0.5); assess status of A. Orth access to production (0.1); email to M. Calvert providing discovery status update, options and proposed next steps (0.3); review updated privilege report numbers in connection with same (0.1)
09/28/16	R. M. Tausend	1.10	Strategize with M. Gearin regarding: ESI review options and privilege considerations to complete 2004 Order productions; LP-LLC issues and related search requests; and Medallic productions (0.4); analyze database report; craft search strategy and workplan and provide guidance to L. Steidl in response to same (0.7)
09/29/16	M. Bassetti	0.80	Prepare collection HDD and related transmittal materials in support of supplemental R. Vugteveen collection for transmission to E. Chacon
09/29/16	C. M. Kuffel	0.40	Load DFI bank records collection into Ringtail master case database
09/29/16	L.E. Steidl	1.10	Address imaging and organization of targeted DFI bank records collections for loading to case database and review files for key issues in response to bankruptcy team's requests
09/29/16	R. M. Tausend	2.70	Strategize with M. Gearin; email to P. Wagner; prep for R. Vugteveen doc collection interview; craft searches in response to requests re accountant and tax return; analysis re accountant discovery; Lind Waldock prod
09/30/16	M. Bassetti	0.70	Analyze and QC production set to confirm compliance with production volume NWTM004 specifications (0.5); prepare September 30th document production for delivery to Medallic Art Company, LLC (0.2)

DATE	NAME	HOURS	DESC	RIPT	ION	
09/30/16	T. S. Milne	1.00	supple	emen dance	VTM004 (Lind Watal statements) for with applicable ns	r production in
09/30/16	L.E. Steidl	4.00	Assist in completion of export, QC, and transfer of supplemental production from NWTM hard copy collections (0.4); addresimaging and organization of targeted colle and non-client production files for loading case database (0.5); review files to identify documents in support of bankruptcy team LLC transfer analysis and argument per strategy and workplan discussions with R Tausend (3.1) Call with E. Chacon to address E. Chacon			
09/30/16	R. M. Tausei	nd 0.90	questi Vugte source respo regarde reque questi Steidle produ oppos	ions reveen epath nse to ding cost (0.2 ions fi to faction sing cort regions reversed to the contraction of the cost of the co	egarding requester and obtain clarificts and strategize to same (0.3); email collection drive and 2); address open from e-DAT analysticilitate completion of Lind Waldock sounsel (0.3); review arding remaining	ed collection for R. cation regarding with L. Steidl in ail to P. Wagner d associated items and st team and L. and delivery of statements to ew email from M.
		TOTAL FEES			70 hrs	\$ <u>19,801.00</u>
TIMEKEEP			PER SUM	ИМАБ	RY	
M. Bassetti		1.50	hrs at	\$	90.00 / hr	135.00
M. H. Hoefe	er	0.20	hrs at	\$	90.00 / hr	18.00
C. M. Kuffe	I	3.80	hrs at	\$	235.00 / hr	893.00
T. S. Milne		1.00	hrs at	\$	175.00 / hr	175.00
L.E. Steidl		10.40		\$	395.00 / hr	4,108.00
R. M. Taus	end	26.80	hrs at	\$	540.00 / hr	14,472.00
		TOTAL FEES		43.	70 hrs	\$ <u>19,801.00</u>

Invoice # 3308799 2070561 Page 8 of 8

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT				
09/12/16	Outside Copies (Hard Copy File Imaging) - Professional Document Services - Altep California, LLC - 08232016	146.32				
09/29/16	Long Distance Courier Long Distance Courier TR#: 784223447306 INV#: 556485740 INVDT: 20161003 SHIPDT: 20160929 SHNAME: Margaret Bassetti RCNAME: Edgar Chacon RCCO: Northwest Territorial Mint	86.57				
09/30/16	ESI Conversion (Productions): Convert 15,545 pages to TIFF images @ \$0.02/page: \$310.90	310.90				
09/30/16	ESI Conversion (Productions): Convert 6.705234 GB to TIFF images @ \$500/GB: \$3,352.62. OCR 32,695 pages @ \$0.02/page: \$653.90	4,006.52				
	DISBURSEMENTS & OTHER CHARGES \$ _	4,550.31				
MATTER SUMMARY						

Fees	\$	19,801.00
Disbursements and Other Charges	\$_	4,550.31
MATTER TOTAL	\$	24,351.31

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 15, 2016

Invoice Number : 3320481

Services Through : October 31, 2016

Our File Number : 2070561

INVOICE	SUMMA	RY RY	MATTER
		<i>(IV</i> D	

Asset Analysis and Recovery (70010)

Fees	\$ <u></u>	<u> 1,818.50</u>	
Total Amount Due This Matter			\$ 1,818.50

Asset Disposition (70020)

Fees	\$ <u></u>	835.00	
Total Amount Due This Matter			\$ 835.00

Business Operations (70030)

Fees	\$ 32,856.00	
Total Amount Due This Matter		\$ 32,856.00

Case Administration (70040)

Fees	\$ <u>1,745.50</u>	
Total Amount Due This Matter		\$ 1.745.50

Claims, Administration and Objections (70050)

Fees	\$ 3,543.00	
Total Amount Due This Matter		\$ 3,543.00

500672701 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3320481 2070561 Page 2 of 43

3,721.00

Fee/Employment Applications (70070)		
Fees Total Amount Due This Matter	\$ <u>892.50</u>	\$ 892.50
Litigation (70100)		
Fees Total Amount Due This Matter	\$ <u>1,486.50</u>	\$ 1,486.50
Trustee v Medallic Art Co LLC (70101)		
Fees Total Amount Due This Matter	\$ 35,882.50	\$ 35,882.50
Trustee v Diane Erdmann (70102)		
Fees Total Amount Due This Matter	\$ <u>1,407.00</u>	\$ 1,407.00
EEOC v NW Territorial Mint, LLC, USDC Cas	e (70104)	
Fees	\$3,721.00	

State of NV v Hansen, NWTM et al, Nevada State Court Case
•
(70105)
()

Total Amount Due This Matter

Fees	\$ 381.00	
Total Amount Due This Matter		\$ 381.00

American Express Fraudulent Transfer Action (70107)

Fees	\$ 1,153.00	
Total Amount Due This Matter		\$ 1,153.00

Invoice # 3320481 2070561 Page 3 of 43

Meetings and	Communications with	Creditors	(70110)
weetings and	Communications with	Cieditors ((10110)

Fees	\$ 3,078.00	
Total Amount Due This Matter		\$ 3,078.00

Plan and Disclosure Statement (70120)

Fees	\$ <u>6,282.00</u>	
Total Amount Due This Matter		\$ 6,282.00

Relief From Stay and Adequate Protection (70130)

Fees	\$ <u>2,043.00</u>	
Total Amount Due This Matter		\$ 2,043.00

Assumption and Rejection of Leases and Contracts (70150)

Fees	\$ 9,953.00	
Total Amount Due This Matter		\$ 9,953.00

Avoidance Action Analysis (70160)

Fees	\$ <u> 10,779.00</u>	
Total Amount Due This Matter		\$ 10,779.00

Reporting (70210)

Fees	\$ 406.00	
Total Amount Due This Matter		\$ 406.00

Intellectual Property Advice and Trademark Registration (70230)

Fees	\$ 1,997.50	
Total Amount Due This Matter		\$ 1,997.50

Invoice # 3320481 2070561 Page 4 of 43

US-TMK: MACO - CL. 14 - 28718361 (70240)

\$ Fees 1,170.00 Disbursements and Other Charges **Total Amount Due This Matter** 275.00

\$ 1,445.00

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)

Fees 1,125.00 Disbursements and Other Charges 275.00

Total Amount Due This Matter \$ 1,400.00

Costs (99999)

Disbursements and Other Charges \$ 7,818.68

Total Amount Due This Matter 7,818.68 \$

CURRENT INVOICE DUE - All Matters \$ <u>130,923.68</u>

Asset Analysis and Recovery (70010)

\$1,818.50

DATE	NAME	HOURS	DESCRIPTION
10/06/16	D. A. Lentz	0.30	Review of novation agreement re Ira Green (.2); email to client regarding signature of same (.1)
10/07/16	T. S. Miller	0.40	Review demand letter and discuss with M. Gearin
10/19/16	D.C. Neu	1.10	Communicate with R. Powers regarding motion for contempt (.1); review and analyze investment account statements (.5); call with client regarding same (.5)
10/20/16	M.J. Gearin	0.50	Call with S. Furuness
10/20/16	D.C. Neu	0.80	Review communications from client regarding bank statements (.1); review statements in possession of trustee (.3); communicate with D. Evans regarding subpoena (.1); review communication from Columbia Bank regarding statement availability (.1); communicate with client regarding same (.2)
10/21/16	D. A. Lentz	0.30	(Hansen) Begin preparing subpoena for bank statements
10/21/16	D.C. Neu	0.50	Communicate with client regarding bank statements (.2); analysis of issues related to same (.3)
10/25/16	D. A. Lentz	0.80	(Hansen) Finish preparation of subpoena including preparation of declaration of records custodian and cover letter to Columbia Bank (.6); serve on Columbia Bank via legal messenger and via facsimile (.2)
10/25/16	D.C. Neu	0.30 TOTAL FEES	Review subpoena to Columba Bank 5.00 hrs \$1,818.50

Invoice # 3320481 2070561 Page 6 of 43

TIMEKEEPER SUMMARY

M.J. Gearin	0.50	hrs at	\$	525.00 / hr	262.50
D. A. Lentz	1.40	hrs at	\$	205.00 / hr	287.00
T. S. Miller	0.40	hrs at	\$	270.00 / hr	108.00
D.C. Neu	2.70	hrs at	\$	430.00 / hr	1,161.00
	TOTAL FEES			00 hrs	\$ 1,818.50

MATTER SUMMARY

Fees \$ 1,818.50 MATTER TOTAL \$ 1,818.50

Asset Disposition (70020)

\$835.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
10/03/16	D. A. Lentz	0.20	Telephone call with E. Robinson regarding stored inventory customer			
10/04/16	M.J. Gearin	0.30	Communications with E. Robinson regarding issues relating to return of storage inventory			
10/04/16	D. A. Lentz	0.20	Emails from E. Robinson regarding release of storage issues			
10/05/16	M.J. Gearin	0.60	Email exchange with J. Thoman regarding novation agreement on transfer of government contracts to Ira Green; revisions to draft novation agreement			
10/06/16	M.J. Gearin	0.30	Communications regarding Ira Green novation agreement with J. Thoman; revisions to agreement			
10/11/16	D. A. Lentz	0.20	Meeting with M. Gearin and B. Peterson to discuss documentation of inventory in vaults			
10/21/16	D. A. Lentz	0.40	Telephone call with stored inventory customer (.1); draft notice of withdrawal of claim (.3)			
		TOTAL FEES	2.20 hrs \$ <u>835.00</u>			

TIMEKEEPER SUMMARY

M.J. Gearin	1.20	hrs at	\$	525.00 / I	hr	630.00
D. A. Lentz	1.00	hrs at	\$	205.00 / 1	hr	205.00
	TOTAL FEES		2.20) hrs	\$	835.00

MATTER SUMMARY

Fees	\$ 835.00
MATTER TOTAL	\$ <u>835.00</u>

Business Operations (70030)

\$32,856.00

DATE	NAME	HOURS	DESCRIPTION
10/06/16	M.J. Gearin	0.70	Call with Trustee regarding insurance coverage matters; review of policies and communications with coverage counsel; review of letter from R. Mitchell, counsel for B. Cohen regarding insurance matters
10/07/16	M.J. Gearin	0.70	Call with J. Schuermann regarding insurance coverage and stay issues; follow up analysis of stay research
10/07/16	J. Scheuermann	0.30	Teleconference with M. Gearin regarding insurance coverage issues
10/09/16	J. Scheuermann	0.40	Read letter from B. Cohen counsel and e-mail requesting cases regarding same
10/10/16	J. Scheuermann	1.30	Read cases regarding bankruptcy and insurance cited by B. Cohen counsel
10/10/16	J. L. Spilsbury	0.10	Research - retrieve five cases. j. Scheuermann.
10/10/16	M.L. Thibadeau	0.60	Telephone conference with J. Scheuermann regarding letter from creditors regarding effect of automatic stay on insurance policy (0.4); review and analyze letter from creditors (0.2)
10/11/16	J. Scheuermann	3.20	Read bankruptcy insurance cases cited by B. Cohen's attorney (1.5); conference with M. Thibadeau regarding same (0.5); draft memorandum to client on insurance issues (1.2)
10/11/16	M.L. Thibadeau	1.70	Conference with J. Scheuermann regarding treatment of insurance policies in bankruptcy; research case law regarding insurance policies in bankruptcy
10/12/16	J. Scheuermann	2.30	Draft memorandum regarding coverage and review policies regarding same
10/13/16	M.J. Gearin	0.90	Communications with Trustee and insurance coverage counsel regarding insurance coverage matters including review of response from insurer
10/13/16	J. Scheuermann	3.80	Draft and revise coverage memorandum (2.6); e-mails to and from M. Gearin (0.8); read letter from insurer counsel (0.4)
10/14/16	J. Scheuermann	3.80	Draft and revise coverage memorandum (2.3); read policies regarding same (0.7); conference with K. Flaningan regarding research regarding same (0.8)
10/14/16 500672701 v1	M.L. Thibadeau	0.90	Review ninth circuit case law regarding

DATE	NAME	HOURS	DESCRIPTION
			insurance proceeds in bankruptcy (0.5); correspond with J. Scheuermann regarding policy proceeds research (0.4)
10/15/16	J. Scheuermann	1.10	Revisions to memorandum; review policies regarding same
10/17/16	K. M. Flanigan	3.50	Research notice requirements under Washington insurance law (1.2); compose research email to J. Scheuermann (1.5); meet with J. Scheuermann to discuss follow-up research (.8)
10/17/16	J. Scheuermann	2.10	Conference with M. Thibadeau regarding insurance and bankruptcy issues (0.4); read K. Flanigan e-mail regarding Washington notice law (0.4); revisions to memorandum (1.3)
10/17/16	M.L. Thibadeau	4.00	Review case law (0.7); prepare outline of analysis regarding treatment of insurance policy in bankruptcy (2.5); conference with J. Scheuermann regarding bankruptcy research (8.0)
10/18/16	M.J. Gearin	0.70	Call with J. Schuermann and M. Thibadeau regarding insurance issues
10/18/16	J. Scheuermann	4.00	Revise coverage memorandum (3.2); teleconference with M. Thibadeau and M. Gearin regarding same (0.8)
10/18/16	M.L. Thibadeau	2.00	Research and review ninth circuit case law on treatment of insurance policies in bankruptcy (1.5); telephone conference with M. Gearin and J. Scheuermann regarding insurance policy issues (0.5)
10/19/16	K. M. Flanigan	2.40	Research Washington state case law regarding 'throw-in' bodily injury claims and economic loss claims (0.8); compose research email to J. Scheuermann (1.0); discuss research findings with J, Scheuermann (0.4); send mass e-mail inquiry to insurance practice group member (0.2)
10/19/16	J. Scheuermann	1.20	Revisions to memorandum (0.8); conference with K. Flanigan regarding research needed (0.4)
10/19/16	M.L. Thibadeau	3.90	Review case law and prepare summary of research regarding automatic stay and insurance proceeds
10/20/16	K. M. Flanigan	1.40	Continue researching Washington case law regarding duty to defend emotional distress claims
10/20/16	J. Scheuermann	1.00	Revise memorandum
10/21/16	K. M. Flanigan	3.00	Research 9th Cir. and Washington federal

DATE	NAME	HOURS	DESCRIPTION
			district court opinions re: economic loss and tagalong bodily injury claims (2.5); exchange e-mails with W. Miller and J. Spilsbury (0.5)
10/21/16	W.J. Miller	0.70	Search Washington case law for opinions supporting proposition that a commercial general liability policy that excludes coverage for economic loss does not cover a claim for emotional distress arising from economic loss (.6); Prepare memorandum to K. Flanigan, summarizing results of research (.1)
10/22/16	K. M. Flanigan	0.30	Provide Shangri-La pin citation to J. Scheuermann
10/22/16	J. Scheuermann	0.20	Revise coverage memorandum
10/27/16	M.J. Gearin	1.20	Call with J. Schuermann and M. Thibadeau regarding Cohen motion for relief from stay and insurance coverage issues; email communications regarding same
10/27/16	J. Scheuermann	1.60	Revise coverage memorandum ((0.8); read B. Cohen motion to lift stay (0.2); conference with M. Thibadeau regarding same (0.4); teleconference with M. Thibadeau and M. Gearin regarding same (0.2)
10/27/16	M.L. Thibadeau	1.30	Review motion for relief from stay (0.6); conference with J. Scheuermann regarding motion for relief from stay (04); telephone conference with M. Gearin and J. Scheuermann regarding motion for relief from stay (0.30)
10/28/16	J. Scheuermann	0.20	E-mails to M. Gearin and counsel for Berkley National
10/31/16	M.J. Gearin	0.70	Review and analyze issues relating to insurance coverage memo; draft revisions to memo
10/31/16	J. Scheuermann	0.20	Review 2011-12 general liability policy regarding coverage for B. Cohen liabilities
	TOTAL	FEES	57.40 hrs \$ <u>32,856.00</u>

Invoice # 3320481 2070561 Page 11 of 43

TIMEKEEPER SUMMARY

K. M. Flanigan	10.60	hrs at	\$	275.00 / hr	2,915.00
M.J. Gearin	4.90	hrs at	\$	525.00 / hr	2,572.50
W.J. Miller	0.70	hrs at	\$	265.00 / hr	185.50
J. Scheuermann	26.70	hrs at	\$	815.00 / hr	21,760.50
J. L. Spilsbury	0.10	hrs at	\$	225.00 / hr	22.50
M.L. Thibadeau	14.40	hrs at	\$	375.00 / hr	5,400.00
	TOTAL FEES		57.4	40 hrs	\$ 32,856.00

MATTER SUMMARY

Invoice # 3320481 2070561 Page 12 of 43

Case Administration (70040)

\$1,745.50

FEES

DATE	NAME	HOURS	DESC	RIPT	ION		
10/04/16	M.J. Gearin	0.40	Call with Trustee regarding multiple case initiatives				
10/04/16	M.J. Gearin	0.20			er from J. Frush r ecords and discu		
10/06/16	M.J. Gearin	0.70	regard	ling H	facts and draft le ansen allegation e contacts		
10/13/16	D. A. Lentz	0.50	Updat	e wor	k task list for cas	e (.5)	
10/17/16	D. A. Lentz	0.50	Confirm hearings scheduled for week (.2); submit declaration of no objection (.1); upload order (.1); misc case administration work (.1)				
10/20/16	D. A. Lentz	0.10	Work with R. Tausend regarding preparation of chain of custody declaration				eparation
10/21/16	M.J. Gearin	0.40	Call with Trustee regarding coordination of multiple case tasks				
10/28/16	M.J. Gearin	0.50	Call with Trustee regarding multiple case issues				case
10/31/16	M.J. Gearin	0.50	Call with M. Calvert regarding case admin issues including disposition of excess records and meetings with management				
10/31/16	D. A. Lentz	0.50	Prepare updated schedule of pending action items for team meeting			ng action	
		TOTAL FEES		4.3	30 hrs	\$	1,745.50
	TIMEKEEPER SUMMARY						
M.J. Gearir	1	2.70	hrs at	\$	525.00 / hr		1,417.50
D. A. Lentz		1.60	hrs at	\$	205.00 / hr		328.00
		TOTAL FEES		4.3	30 hrs	\$	1,745.50

M.J. Gearin	2.70	hrs at	\$	525.00 / h	r	1,417.50
D. A. Lentz	1.60	hrs at	\$	205.00 / h	r	328.00
	TOTAL FEES		4.3	0 hrs	\$	1,745.50

MATTER SUMMARY

Fees **MATTER TOTAL**

Claims, Administration and Objections (70050)

\$3,543.00

DATE	NAME	HOURS	DESCRIPTION
10/01/16	B. T. Peterson	1.20	Draft settlement motion related to claims of RETT and Graco Awards
10/03/16	M.J. Gearin	0.60	Communications regarding Pan American secured claim
10/03/16	D. A. Lentz	0.30	Review of claim filed creditor regarding security issue (.1); telephone call with creditor regarding same (.1); email to and from creditor regarding supporting documentation (.1)
10/04/16	M.J. Gearin	0.30	Initial review of backup materials provided by alleged secured creditor S. Demackiewicz
10/04/16	D. A. Lentz	0.20	Review of supporting documents received from creditor regarding secured proof of claim
10/05/16	D. A. Lentz	0.50	Call with creditor re late filed claim (.1); work on reviewing and cataloging proofs of claim (.4)
10/07/16	D. A. Lentz	0.80	Per M. Gearin's request, review and catalog all claims over one million dollars
10/10/16	M.J. Gearin	0.30	Email from R. Hyatt regarding Pan American claim; discuss Pan American claim with Trustee
10/11/16	M.J. Gearin	0.50	Communications with R. Hyatt regarding Pan American claim issues
10/11/16	D. A. Lentz	0.20	Meeting with M. Gearin regarding claims over \$1 million
10/11/16	B. T. Peterson	0.40	Analysis of issues related to late filed claims
10/12/16	D. A. Lentz	0.30	Communication from creditor and with E. Robinson regarding claim (.2); update list of claims over \$1 million (.1)
10/14/16	D. A. Lentz	0.10	Telephone call with creditor regarding claim
10/17/16	M.J. Gearin	0.30	Communications regarding draft motion to approve Graco settlement
10/17/16	B. T. Peterson	0.10	Email correspondence regarding RETT settlement
10/19/16	D. A. Lentz	0.30	Field phone calls from creditors regarding claims and status of same
10/20/16	D. A. Lentz	0.10	Phone call from creditor regarding claim
10/20/16	B. T. Peterson	0.40	Communications regarding settlement with RETT and form of settlement motion
10/21/16	D. A. Lentz	0.20	Phone calls from creditors
10/21/16	B. T. Peterson	0.90	Finalize documents in support of motion to approve settlement with RETT and Graco

Invoice # 3320481 2070561 Page 14 of 43

DATE	NAME	HOURS	DESC	CRIPTION				
10/0-/			Awards					
10/25/16	B. T. Peterson	1.00		Draft notice of hearing on settlement motion				
10/25/16	B. T. Peterson	0.20		spondence via email and telephone with				
				sel regarding service of motion on ment agreement with RETT and Graco				
			Award					
10/25/16	B. T. Peterson	0.10		email communication to client and				
10,20,10	21 111 010.0011	0.10		sel for creditors committee regarding				
				ment with RETT and Graco Awards				
10/26/16	D. A. Lentz	0.50	Telepl	hone call with creditor regarding claim				
				nalysis of creditors who filed claims with				
				M listed as creditor (.4)				
10/27/16	B. T. Peterson	0.40		ze pleadings in support of settlement				
				ment with Graco and RETT and meet lient regarding the same				
10/28/16	B. T. Peterson	0.50		w, edit, and finalize pleadings in support				
10/20/10	D. T. T CICISON	0.50	of motion to approve settlement with Graco					
			Awards and RETT LP					
10/31/16	R.G. Masters	0.00	Consult regarding nature of transaction where					
				y was refunded to purchasers (No				
			Charge)					
10/31/16	B. T. Peterson	0.10	Email to opposing counsel regarding					
	TOTA	L FEES	settlement motion on GRACO claims 10.80 hrs \$3,543.00					
	TOTA	L LEE2		10.80 hrs \$ <u>3,543.00</u>				
		TIMEKEEP	ER SUN	<u>MMARY</u>				
M.J. Gearir	1	2.00	hrs at	\$ 525.00 / hr 1,050.00				
D. A. Lentz			hrs at	\$ 205.00 / hr 717.50				
B. T. Peters			hrs at	\$ 335.00 / hr 1,775.50				
TOTAL		L FEES		10.80 hrs \$\frac{3,543.00}{}				
	MATTER SUMMARY							

Fees

MATTER TOTAL

Invoice # 3320481 2070561 Page 15 of 43

Fee/Employment Applications (70070)

\$892.50

FEES

DATE	NAME	HOURS	DESCRIPTION				
10/04/16	M.J. Gearin	0.30	Communications regarding noticing of intent to compensate professionals				
10/05/16	M.J. Gearin	0.30	Communications with M. Northrup and Trustee regarding compensation of professionals and reimbursement of committee expenses				
10/14/16	M.J. Gearin	0.60	Revisions to notice of intent to compensate; email exchanges with M. Northrup regarding same				
10/17/16	M.J. Gearin	0.50	Revisions to notice of intent to compensate (0.3); communications with Trustee re same (0.2)				
		TOTAL FEES	1.70 hrs \$ <u>892.50</u>				
TIMEKEEPER SUMMARY							
M.J. Gearin		1.70 TOTAL FEES	hrs at \$ 525.00 / hr 892.50 1.70 hrs \$ 892.50				

MATTER SUMMARY

rees	>	892.50
MATTER TOTAL	\$	892.50

Invoice # 3320481 2070561 Page 16 of 43

Litigation (70100)

\$1,486.50

DATE	NAME	HOURS	DESCRIPTION			
10/04/16	D. A. Lentz	0.20	(De Verneuil-Smith vs. NWTM USDC case) Telephone conference with D. Neu and attorney for NWTM in case			
10/04/16	D.C. Neu	0.70	Call with B. Stone regarding litigation status report (.2); draft same (.5)			
10/04/16	B. T. Peterson	1.00	Draft declaration in support of motion	of settlement		
10/18/16	D. A. Lentz	0.40	(Hansen Sanctions Mtn) Review of investment account statements received from opposing counsel (.3); email to D. Neu regarding summary (.1)			
10/20/16	D. A. Lentz	0.10	(Hansen Motion for Sanctions) Strike hearing on motion for sanctions of R. Hansen			
10/25/16	D. A. Lentz	0.70	Draft of notice of hearing on settlement with Graco (.4); send notice of hearing for service to special notice list (.3)			
10/25/16	D.C. Neu	0.30	Call from Todd Tracy to discu	uss appeals		
10/26/16	D.C. Neu	0.20	Call with T. Tracy regarding status of settlement motion			
10/28/16	D. A. Lentz	1.70	Finalize Graco settlement documents for filing with USBC (.4); prepare exhibit to declaration (.2); file motion to approve settlement and corresponding documents with USBC and send for service (.4); preparation of proof of service and exhibit to same (.3); file proof of service with USBC (.2); calendar all dates and deadlines (.2)			
		TOTAL FEES	5.30 hrs	\$ <u>1,486.50</u>		
		TIMEKEEP	ER SUMMARY			
D. A. Lentz		3.10	hrs at \$ 205.00 / hr	635.50		
D.C. Neu		1.20	hrs at \$ 430.00 / hr	516.00		
B. T. Peters		1.00	hrs at \$ 335.00 / hr	335.00		
		TOTAL FEES	5.30 hrs	\$ <u>1,486.50</u>		

Invoice # 3320481 2070561 Page 17 of 43

MATTER SUMMARY

Fees \$ 1,486.50 MATTER TOTAL \$ 1,486.50

Trustee v Medallic Art Co LLC (70101)

\$35,882.50

DATE	NAME	HOURS	DESCRIPTION
10/03/16	M.J. Gearin	2.40	Work on mediation submission
10/03/16	D. A. Lentz	0.90	Assemble financials statements and tax returns for document production
10/04/16	M.J. Gearin	5.20	Draft mediation statement; review of records regarding supporting evidence
10/04/16	M.J. Gearin	0.20	Email communications with T. Bucknell regarding scheduling and discovery matters
10/04/16	M.J. Gearin	0.50	Meet with R. Tausend regarding discovery production matters
10/04/16	M.J. Gearin	0.30	Review and provide comment to committee's mediation submission
10/04/16	D. A. Lentz	1.20	Continue review of Medallic Art tax returns and financials (.5); prepare memo regarding findings for M. Gearin (.3); meeting with R. Tausend regarding same (.2); work on exhibits for mediation statement (.2);
10/05/16	M.J. Gearin	1.50	Call and emails with M. Northrup regarding revisions to committee mediation statement and draft of Trustee's mediation statement
10/05/16	M.J. Gearin	4.20	Revisions to Trustee's mediation statement
10/05/16	D. A. Lentz	0.80	Work on mediation statement with M. Gearin including tracking down and confirming information
10/06/16	M.J. Gearin	2.50	Finalize mediation statement and prepare for mediation; communications with D. Sullinger of Judge Corbit's chambers regarding mediation logistics
10/06/16	D. A. Lentz	2.40	Finalize mediation statement and all exhibits (1.7); provide statement and exhibits to mediator (.3); prepare binders of same for M. Gearin and for client (.4)
10/06/16	T. S. Miller	1.50	Finish cite check and review of mediation statement (1.0); find additional citation for mediation statement (.2); final review of mediation statement (.3)
10/07/16	D. A. Lentz	0.20	Start draft of notice of hearing on summary judgment motion
10/10/16	M.J. Gearin	7.10	Attend mediation with Judge Corbit
10/10/16	M.J. Gearin	0.80	Meet with B. Peterson regarding propounding discovery and litigation scheduling matters
10/10/16	B. T. Peterson	0.00	Attend mediation (No Charge)
10/10/16	B. T. Peterson	1.10	Analyze litigation strategy.

DATE	NAME	HOURS	DESCRIPTION
10/11/16	M.J. Gearin	0.30	Call with T. Lerner regarding mediation follow up
10/11/16	M.J. Gearin	1.10	Attention to Medallic discovery requests
10/11/16	B. T. Peterson	3.30	Draft discovery requests directed to Medallic LLC
10/12/16	M.J. Gearin	0.60	Call with R. Powers regarding settlement discussion
10/12/16	M.J. Gearin	1.20	Review of research on NOL preservation through plan of reorganization
10/12/16	D. A. Lentz	0.10	File mediation certification
10/13/16	M.J. Gearin	1.10	Revisions to discovery requests; communications with E. Sato regarding procedural matters
10/13/16	B. T. Peterson	0.10	Review draft discovery requests
10/13/16	B. T. Peterson	0.50	Litigation strategy conference with M. Gearin
10/14/16	M.J. Gearin	1.10	Final revisions of discovery requests; meet regarding coordination of summary judgment motion on lease issues
10/14/16	M.J. Gearin	0.30	Email exchange with E. Sato regarding case scheduling matters
10/14/16	B. T. Peterson	1.00	Research related to substantive consolidation
10/14/16	B. T. Peterson	1.50	Draft and revise discovery requests directed to Medallic
10/16/16	B. T. Peterson	1.90	Research and analysis regarding substantive consolidation arguments
10/17/16	M.J. Gearin	2.50	Meet regarding draft of summary judgment pleadings (0.6); review research regarding subcon evidentiary support (1.1); meet regarding preparation for presentation of subcon arguments (0.8)
10/17/16	P. K. Jacobson	0.30	Numerous emails to and from client regarding trademark application and confirmation of web use
10/17/16	D. A. Lentz	0.80	Meeting with M. Gearin and B. Peterson regarding motion for summary judgment and declarations in support of same (.2); revise/draft declaration of C. Hoff in support of motion for summary judgment (.6)
10/17/16	B. T. Peterson	0.20	Preparation of summary judgment motion
10/17/16	B. T. Peterson	1.30	Analysis of legal issues in support of substantive consolidation
10/17/16	B. T. Peterson	0.30	Analysis of substantive consolidation issues
10/18/16	M.J. Gearin	0.50	Review amended answer to counterclaims, jury trial demand and statement of plaintiff
10/18/16	M.J. Gearin	0.70	Attention to motion for summary judgment on lease issues
10/18/16	B. T. Peterson	0.10	Review email correspondence regarding

DATE	NAME	HOURS	DESCRIPTION
10/19/16	M.J. Gearin	1.10	discovery issues Review and analysis of accounting records
			regarding Medallic transfers including communications with Trustee re same
10/19/16	M.J. Gearin	1.50	Coordination of draft of summary judgment motion and additional supporting evidence
10/19/16	D. A. Lentz	0.80	Prepare declarations of D. Neu, T. McDonald and M. Calvert in support of summary judgment motion (.7); revise notice of hearing regarding motion for summary judgment (.1)
10/19/16	B. T. Peterson	2.20	Draft motion for summary judgment on lease ownership issue
10/20/16	M.J. Gearin	2.50	Revisions to motion for summary judgment; call with A. Trunkett regarding financial statements; draft declaration of Trunkett
10/20/16	D. A. Lentz	4.70	Meeting with M. Gearin re Medallic LLC financial statements and declaration of A. Trunkett regarding same (.3); telephone call with A. Trunkett and M. Gearin (.3); follow up with clients regarding signed declarations (.1); draft of declaration of A. Trunkett in support of summary judgment motion (.5); review of financial statements received from A. Trunkett (.3); meeting with M. Gearin regarding draft of declaration (.2); revisions to declaration (.2); research regarding financial document for declaration (.6); prepare shell of order re summary judgment motion (.2); work on finalizing all documents for motion (.5); finalize all exhibits to all declarations (.7); file motion for summary judgment, notice of hearing and 5 declarations in support of motion with voluminous exhibits (.6); email client regarding filing of motion with documents attached (.2)
10/20/16	D.C. Neu	0.60	Review declaration in support of summary judgment (.2); review and locate exhibits (.3); meeting with B. Peterson regarding same (.1)
10/20/16	B. T. Peterson	4.40	Draft partial summary judgment motion and proposed order
10/21/16	M.J. Gearin	0.50	Attend telephonic status conference
10/21/16	M.J. Gearin	1.00	Communications with A. Orth regarding discovery and internal follow up regarding document production
10/21/16	M.J. Gearin	0.80	Communications with E. Sato regarding scheduling and procedural matters
10/21/16	B. T. Peterson	0.60	Analyze issues related to trial for adversary proceeding
10/24/16	M.J. Gearin	1.10	Meet with R. Tausend in preparation for

Invoice # 3320481 2070561 Page 21 of 43

DATE	NAME	HOURS	DESC	RIPTI	ON			
					onference		. Orth a	and
10/24/16	B. T. Peterson	1.60	•		Orth lette		ated to	adversary
10/24/10	D. 1.1 Ctc13011	1.00	Analyze discovery issues related to adversa proceeding against Medallic				adversary	
10/25/16	M.J. Gearin	1.10	•	_	•		. Orth	regarding
								etings with
40/00/40	5 4 1 .	4.00			regarding	_		
10/26/16	D. A. Lentz	1.20			ices of co e motion			
					dgment (.			
					earing wit			
					update c		r dates	and
40/00/40	D T D (0.70			s needed	` '		
10/26/16	B. T. Peterson	2.70			tion and a		oraer r	egarding
10/28/16	M.J. Gearin	0.80					egardin	g discovery
. 6/26/ . 6	wii Coaiii	0.00					_	response
10/31/16	M.J. Gearin	2.10						pondence;
					. Tausen	_	_	
								s to letter
10/31/16	M.J. Gearin	0.50			egarding of the contract of th		•	
10/01/10	Wi.O. Coariir	0.00			Stern res			diodion
10/31/16	B. T. Peterson	0.10	Analy	ze issı	ues relate	ed to bif	urcatio	n of
	Τ.	NTAL EEEO	litigati				•	05 000 50
	10	OTAL FEES		85.5	0 hrs		\$_	35,882.50
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>			
M.J. Gearin	1	47.10	hrs at	\$	525.00	/ hr		24,727.50
P. K. Jacob	son	0.30	hrs at	\$	450.00			135.00
D. A. Lentz		13.10	hrs at	\$	205.00	/ hr		2,685.50
T. S. Miller			hrs at	\$	270.00			405.00
D.C. Neu		0.60	hrs at	\$	430.00			258.00
B. T. Peters		22.90	hrs at	\$	335.00	/ hr	_	7,671.50
	10	OTAL FEES		85.5	0 hrs		\$_	35,882.50

MATTER SUMMARY

Fees \$ 35,882.50 MATTER TOTAL \$ 35,882.50

Trustee v Diane Erdmann (70102)

\$1,407.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
10/07/16	D. A. Lentz	0.10	(Erdmann vs. Todd Tracy/Calvert Appeal) Review of notice of appeal and send to client regarding same (.1)				
10/10/16	D.C. Neu	1.00	Review notice of appeal and related documents (.3); draft appeal outline (.7)				
10/11/16	D. A. Lentz	0.50	(Appeal Erdman vs. Tracy/Calvert) Draft and file corporate disclosure statement (.3); calendar dates and deadlines in appeal (.2)				
10/11/16	D.C. Neu	1.20	Review trial transcript (.8); communicate with D. Bugbee regarding answer (.1); communicate with client regarding same (.2); review litigation status (.2)				
10/24/16	D.C. Neu	0.50	Review email from D. Scalia regarding appeal (.1); analysis of same (.1); review appellate record (.3)				
10/31/16	D. A. Lentz	0.60	Review of motions to consolidate appeals (.2); review of USDC local rules regarding motions and response deadlines (.2); calendar dates and deadlines (.2)				
		TOTAL FEES	3.90 hrs \$1,407.00				

TIMEKEEPER SUMMARY

D. A. Lentz	1.20	hrs at	\$	205.00 / h	r	246.00
D.C. Neu	2.70	hrs at	\$	430.00 / h	r	1,161.00
	TOTAL FEES		3.9	0 hrs	\$_	1,407.00

MATTER SUMMARY

Fees \$ 1,407.00 MATTER TOTAL \$ 1,407.00

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$3,721.00

DATE	NAME	HOURS	DESCRIPTION					
10/04/16	D.C. Neu	0.50	Address issues related to transcript for appeal (.5)					
10/11/16	D.C. Neu	0.30	Review status of EEOC litigation					
10/12/16	D.C. Neu	0.20	Communicate with EEOC regarding settlement					
10/14/16	D.C. Neu	0.30	Communicate with client regarding mediation (.2); communicate with opposing counsel regarding same (.1)					
10/18/16	D.C. Neu	1.00	Analysis of issues concerning consent decree (.5); call with client regarding same (.3); email to EEOC counsel regarding same (.2)					
10/21/16	D. A. Lentz	0.40	Meet with D. Neu regarding outcome of hearing (.1); revise order for filing (.2); email to NV counsel (.1)					
10/21/16	D.C. Neu	0.30	Communicate with opposing counsel regarding settlement					
10/24/16	D.C. Neu	0.10	Communicate with B. Peterson regarding settlement status					
10/24/16	B. T. Peterson	0.50	Draft motion to approve settlement agreemen with EEOC					
10/25/16	D.C. Neu	1.30	Review and revise settlement motion					
10/25/16	B. T. Peterson	1.60	Draft motion to approve settlement with EEO					
10/26/16	D.C. Neu	1.00	Review and revise settlement pleadings (.7); communicate with client regarding same (.1); communicate with opposing counsel regarding same (.1)					
10/26/16	B. T. Peterson	0.20	Edit motion to approve settlement with EEOC					
10/27/16	D. A. Lentz	0.10	Email with D. Neu and counsel for EEOC regarding available hearing dates for approval of settlement					
10/27/16	D.C. Neu	1.00	Revise and edit approval motion and supporting declaration (.5); communicate with client regarding same (.2); communicate with EEOC regarding same (.1); review email from A. Paranipye regarding hearing (.1)					
10/27/16	B. T. Peterson	0.80	Revise and edit pleadings in support of settlement with EEOC					
	TOTAL	FEES	9.60 hrs \$ <u>3,721.00</u>					

Invoice # 3320481 2070561 Page 24 of 43

TIMEKEEPER SUMMARY

D. A. Lentz	0.50	hrs at	\$	205.00 / hr	102.50
D.C. Neu	6.00	hrs at	\$	430.00 / hr	2,580.00
B. T. Peterson	3.10	hrs at	\$	335.00 / hr	1,038.50
	TOTAL FEES		9.6	0 hrs	\$ 3,721.00

MATTER SUMMARY

Fees \$ 3,721.00 MATTER TOTAL \$ 3,721.00

Invoice # 3320481 2070561 Page 25 of 43

State of NV v Hansen, NWTM et al, Nevada State Court Case (70105)

\$381.00

FEEG

DATE	NAME	HOURS	DESCRIPTION
10/20/16	D. A. Lentz	0.30	Prepare hearing binder for hearing on motion to approve settlement
10/20/16	D.C. Neu	0.60	Prepare for hearing on settlement agreement
10/25/16	D. A. Lentz	0.30	Email from NV attorney general office regarding ok to submit order and submit order for entry with Court (.2); review of conformed order approving settlement (.1)
		TOTAL FEES	1.20 hrs \$ <u>381.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	0.60	hrs at	\$	205.00 /	hr	123.00
D.C. Neu	0.60	hrs at	\$	430.00 /	hr	258.00
	TOTAL FEES		1.2	0 hrs	\$	381.00

MATTER SUMMARY

Fees \$ 381.00 MATTER TOTAL \$ 381.00

Invoice # 3320481 2070561 Page 26 of 43

American Express Fraudulent Transfer Action (70107)

\$1,153.00

FEES

DATE	NAME	HOURS	DESCRIPTION					
10/14/16	D.C. Neu	1.10	Draft initial disclosures					
10/17/16	D. A. Lentz	0.50	Finalize plaintiff's initial disclosures and serve on opposing counsel					
10/21/16	D. A. Lentz	0.30	Review of motion to dismiss case (.1); calendar dates and deadlines regarding same (.2)					
10/21/16	D.C. Neu	0.60	Attend pretrial conference hearing					
10/31/16	D.C. Neu	0.60	Research related to dismissal motion response					
		TOTAL FEES	3.10 hrs \$ <u>1,153.00</u>					

TIMEKEEPER SUMMARY

D. A. Lentz	0.80	hrs at	\$	205.00 /	hr	164.00
D.C. Neu	2.30	hrs at	\$	430.00 /	hr	989.00
	TOTAL FEES		3.1	0 hrs	\$	1,153.00

MATTER SUMMARY

Fees \$ 1,153.00 MATTER TOTAL \$ 1,153.00

Meetings and Communications with Creditors (70110)

\$3,078.00

FEES

DATE	NAME	HOURS	DESCRIPTION						
10/05/16	M.J. Gearin	0.40	Investigation and response to A. Willig regarding storage customers Wongs stored inventory and claims relating to same						
10/05/16	M.J. Gearin	1.20	Call with Trustee and review of materials in preparation for Committee meeting						
10/06/16	M.J. Gearin	1.90	Prepare for and attend committee meeting						
10/11/16	D.C. Neu	0.50	Meeting with M. Gearin regarding inventory video (.1); review security videos (.4) in connection with creditor inquiry						
10/11/16	B. T. Peterson	0.10	Communication with counsel for creditor regarding case						
10/11/16	B. T. Peterson	0.20	Email correspondence with counsel for creditors						
10/12/16	D. A. Lentz	0.50	Review of vault photographs and prepare for sending copy to B. Kriegman						
10/12/16	B. T. Peterson	0.30	Communications with counsel for creditor						
10/13/16	B. T. Peterson	0.30	Email correspondence regarding vault video access for counsel to creditor						
10/21/16	M.J. Gearin	0.40	Call with M. Northrup regarding committee requests						
10/21/16	B. T. Peterson	0.10	Phone call with counsel for creditor						
10/24/16	D. A. Lentz	0.20	Review of vault photos for dates regarding inquiry from B. Kriegman						
10/24/16	D. A. Lentz	0.10	Telephone call from creditor regarding general inquiry						
10/25/16	B. T. Peterson	0.10	Phone call with counsel for creditor of the estate						
10/27/16	D. A. Lentz	0.10	Telephone call with creditor regarding status of case						
10/31/16	M.J. Gearin	0.50	Communications with H. Lam of DFI re investigation status; research re factual background						
	TOTAL	. FEES	6.90 hrs \$ <u>3,078.00</u>						

500672701 v1

Invoice # 3320481 2070561 Page 28 of 43

TIMEKEEPER SUMMARY

M.J. Gearin	4.40	hrs at	\$	525.00 / hr		2,310.00
D. A. Lentz	0.90	hrs at	\$	205.00 / hr		184.50
D.C. Neu	0.50	hrs at	\$	430.00 / hr		215.00
B. T. Peterson	1.10	hrs at	\$	335.00 / hr		368.50
	TOTAL FEES		6.9	90 hrs	\$_	3,078.00

MATTER SUMMARY

Fees \$ 3,078.00 MATTER TOTAL \$ 3,078.00

Plan and Disclosure Statement (70120)

\$6,282.00

FEES

DATE	NAME	HOURS	DESCRIPTION
10/11/16	M.J. Gearin	1.20	Call with Trustee regarding plan formulation issues (0.5); analysis and outline of restructuring plan (0.7)
10/11/16	B. T. Peterson	0.40	Analysis of issues related to plan of reorganization
10/12/16	M.J. Gearin	1.00	Meet with M. Calvert and B. Peterson regarding plan outline
10/12/16	M.J. Gearin	1.10	Follow up meeting with B. Peterson regarding plan outline and drafting matters (0.5); review of research on NOL preservation (0.6)
10/12/16	S. T. Nylen	0.40	Conference with B. Peterson regarding plan structures
10/12/16	B. T. Peterson	1.50	Meeting with client regarding plan of reorganization terms
10/12/16	B. T. Peterson	0.40	Discuss and analyze plan structure and concepts with S. Nylen
10/14/16	M.J. Gearin	2.10	Draft revisions to draft liquidation analysis (1.0); research regarding net operating loss preservation issues in connection with plan (1.1)
10/21/16	B. T. Peterson	0.10	Research related to chapter 11 plan
10/23/16	B. T. Peterson	0.70	Draft outline of chapter 11 plan
10/24/16	B. T. Peterson	2.00	Analyze and draft chapter 11 plan outline
10/25/16	M.J. Gearin	0.70	Revisions to plan outline
10/25/16	B. T. Peterson	0.30	Research related to chapter 11 plan
10/26/16	B. T. Peterson	0.30	Research related to structure of chapter 11 plan
10/27/16	B. T. Peterson	0.50	Meeting with client regarding chapter 11 plan terms
10/31/16	M.J. Gearin	1.10	Attention to draft restructuring plan
10/31/16	B. T. Peterson	0.60	Research related to terms of chapter 11 plan
	TOTAL	FEES	14.40 hrs \$ <u>6,282.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	7.20	hrs at	\$	525.00 / hr		3,780.00
S. T. Nylen	0.40	hrs at	\$	560.00 / hr		224.00
B. T. Peterson	6.80	hrs at	\$	335.00 / hr		2,278.00
	TOTAL FEES		14.4	l0 hrs	\$_	6,282.00

Invoice # 3320481 2070561 Page 30 of 43

MATTER SUMMARY

Fees \$ 6,282.00 **MATTER TOTAL** \$ 6,282.00

Relief From Stay and Adequate Protection (70130)

\$2,043.00

FEES

DATE	NAME	HOURS	DESCRIPTION
10/07/16	M.J. Gearin	0.30	Review and analyze correspondence from R. Mitchell regarding stay implications of Cohen insurance claims
10/11/16	T. S. Miller	2.70	Review cases cited by demand letter from Cohen counsel (.9); research secondary sources and additional case law on the application of the automatic stay to insurance proceeds (1.8)
10/12/16	T. S. Miller	2.50	Research additional secondary sources (.9); research Ninth Circuit cases applying unusual circumstances test (1.2); draft email summarizing research (.4)
10/25/16	M.J. Gearin	0.30	Call with M. Gossler regarding stay issues (0.1); review Cohen motion for relief from stay (0.2)
10/26/16	M.J. Gearin	0.50	Review Cohen motion for relief from stay
10/26/16	D. A. Lentz	0.30	Review of motion for relief from stay filed by B. Cohen (.1); send copy to client and calendar dates and deadlines (.2)
		TOTAL FEES	6.60 hrs \$\(\frac{1}{2}\).043.00

TIMEKEEPER SUMMARY

M.J. Gearin	1.10	hrs at	\$	525.00 / hr	577.50
D. A. Lentz	0.30	hrs at	\$	205.00 / hr	61.50
T. S. Miller	5.20	hrs at	\$	270.00 / hr	1,404.00
	TOTAL FEES		6.6	0 hrs	\$ 2,043.00

MATTER SUMMARY

Fees \$ 2,043.00 MATTER TOTAL \$ 2,043.00

Assumption and Rejection of Leases and Contracts (70150)

\$9,953.00

DATE	NAME	HOURS	DESCRIPTION
10/03/16	D. A. Lentz	0.30	Prepare proof of service of Dayton lease motion (.2); file same with USBC (.1)
10/04/16	D. A. Lentz	0.20	Meeting with M. Gearin regarding notice of continued hearing on Dayton lease motion
10/05/16	D. A. Lentz	0.20	Draft of notice of continued hearing
10/07/16	D. A. Lentz	0.40	Finalize notice of continued hearing on Dayton lease motion for filing (.1); file with Court and send for service (.3)
10/13/16	M.J. Gearin	0.50	Communications with Trustee regarding lease assumption and rejection decisions
10/14/16	M.J. Gearin	0.50	Call with Marcus Colabianchi regarding Federal Way lease rejection and payments (0.3); email exchange with P. Wagner re same (0.2)
10/17/16	M.J. Gearin	0.80	Communications with Trustee regarding lease assumption and rejection issues
10/18/16	M.J. Gearin	0.50	Communications regarding Federal Way lease postpetition rents and rejection damages
10/19/16	M.J. Gearin	0.40	Communications regarding rejection of Federal Way lease and demands for payment of September rent
10/20/16	M.J. Gearin	0.30	Email communications regarding Federal Way lease rejection status
10/21/16	M.J. Gearin	0.90	Meet regarding motion to assume leases (0.6); communications regarding Federal Way lease rejection issues (0.3)
10/21/16	D.C. Neu	3.80	Attend hearing on motion to approve settlement with NDEP (3.6); call with client regarding same (.2)
10/24/16	M.J. Gearin	1.10	Work on lease assumption motion; review of unexpired leases
10/25/16	M.J. Gearin	2.10	Draft pleadings in connection with lease assumption motion (1.2); review and analysis of existing leases (0.5); email exchanges with P. Wagner and D. Timm regarding status of lease negotiations (0.4)
10/25/16	D. A. Lentz	1.60	Drafting of motion to assume or reject leases (1.2); pull copies of all leases for M. Gearin (.2); email to M. Calvert and P. Wagner regarding HI and VA leases (.2)
10/25/16	B. T. Peterson	1.80	Research and draft lease assumption motion
10/26/16	M.J. Gearin	0.70	Communications with E. Sato regarding
500672701 v1			

DATE	NAME	HOURS	DESCRIPTION
			extension of deadline to assume sublease (0.2); revisions to draft agreed order and stipulation (0.5)
10/26/16	M.J. Gearin	0.60	Communications with Trustee and P. Wagner regarding lease assumption and new lease for Green Bay, WI
10/26/16	D. A. Lentz	0.20	Discuss leases and status of same with M. Gearin regarding the motion to assume or
10/26/16	B. T. Peterson	0.50	reject Draft motion to assume and reject leases
10/27/16	D. A. Lentz	1.20	Review and revision of M. Calvert declaration in support of motion to assume or reject leases (.4); conferences with B. Peterson regarding lease issues in Virginia regarding locations (.2); telephone call with and voicemail to client regarding same (.2); prepare exhibits to declaration (.4)
10/27/16	D. A. Lentz	0.40	Finalize stipulation and order regarding ex parte motion to extend deadline to assume or reject Dayton lease (.2); file with USBC and upload order for entry (.2)
10/27/16	B. T. Peterson	0.50	Finalize and edit stipulation and agreed order regarding extension of deadline to assume or reject purported sublease
10/27/16	B. T. Peterson	1.60	Draft and research motion and declaration in support of lease assumption and rejection motion
10/27/16	B. T. Peterson	0.50	Meeting with client regarding declaration in support of lease assumption
10/28/16	M.J. Gearin	1.10	Revisions to pleadings on motion to assume and reject Auburn, Springfield and Green Bay leases
10/28/16	D. A. Lentz	0.20	Review of agreed order extending deadline for trustee to assume or reject Dayton lease (.1); email to client regarding same (.1)
10/28/16	D. A. Lentz	2.00	Draft of notice of hearing on motion to assume or reject leases (.4); review of leases and court docket to confirm service requirements (.3); finalize motion and corresponding documents for filing with court (.4); finalize exhibits to M. Calvert declaration (.3); file motion to assume or reject leases and related documents with USBC and send for service (.6)
10/28/16	B. T. Peterson	0.70	Review, edit, and finalize motion to assume and reject nonresidential real property leases
10/31/16	D. A. Lentz	0.40	Preparation and filing of proof of service of motion to assume or reject leases (.3);

Invoice # 3320481 2070561 Page 34 of 43

DATE	NAME	HOURS	DESC	RIPTI	ON		
		TOTAL FEES	calend hearin	ng (.1)	es and deadline 0 hrs	s regar \$	ding 9,953.00
		TIMEKEEP	ER SUN	/MAR	<u>Y</u>		
M.J. Gear D. A. Len D.C. Neu B. T. Pete	tz	9.50 7.10 3.80 5.60 TOTAL FEES	hrs at hrs at hrs at hrs at	\$ \$ \$ 26.0	525.00 / hr 205.00 / hr 430.00 / hr 335.00 / hr 0 hrs	\$ <u></u>	4,987.50 1,455.50 1,634.00 1,876.00 9,953.00
MATTER SUMMARY							
Fees MATTER	TOTAL					\$_ \$	9,953.00 9,953.00

Avoidance Action Analysis (70160)

\$10,779.00

DATE	NAME	HOURS	DESCRIPTION
10/05/16	T. S. Miller	5.80	Research adverse domination law in Washington State (.6); research adverse domination law as applied to fraudulent transfers under the bankruptcy code (2.4); research adverse domination as applied to constructive fraudulent transfers (.6); begin review and cite check of mediation statement (2.2)
10/10/16	M.J. Gearin	0.50	Discuss avoidance action issues with Trustee (0.2); preliminary analysis of avoidance action model (0.3)
10/11/16	M.J. Gearin	0.90	Meet regarding conduct of avoidance action analysis (0.6); call with Trustee regarding same (0.3)
10/13/16	D.C. Neu	0.70	Research related to preferential transfers
10/13/16	D.C. Neu	0.70	Continue to research issues related to preferential transfer litigation
10/14/16	D.C. Neu	1.40	Communicate with S. Ray regarding preference analysis (.4); review analysis and cases related to same (1)
10/14/16	S. K. Ray	3.70	Conduct legal research regarding potential preference actions related to sale transactions
10/17/16	M.J. Gearin	1.50	Review research re avoidability of transfers of bullion (0.4); research re venue dollar amount limitations (0.8); email exchange with M. Northrup re avoidance action analysis (0.3)
10/18/16	S. K. Ray	5.50	Conduct legal research regarding application of venue statute to preference actions against customers
10/24/16	D.C. Neu	1.00	Analysis of preference claims
10/25/16	D.C. Neu	1.00	Continued analysis of venue issues related to potential preference actions
10/27/16	D.C. Neu	0.60	Communicate with client regarding bank statements (.2); communicate with client regarding clawbacks (.1); review spreadsheet related to same (.3)
10/28/16	D.C. Neu	2.40	Call with M. Calvert to review preference issues (.6); research and analysis regarding return of purchase price (1.8)
10/31/16	M.J. Gearin	0.30	Consult regarding avoidance action analysis matters
10/31/16	D.C. Neu	3.30	Analysis and research of potential avoidance actions
500672701 v1			

Invoice # 3320481 2070561 Page 36 of 43

TOTAL FEES	29.30 hrs	\$ <u>10,779.00</u>
------------	-----------	---------------------

TIMEKEEPER SUMMARY

M.J. Gearin	3.20	hrs at	\$	525.00 / hr	1,680.00
T. S. Miller	5.80	hrs at	\$	270.00 / hr	1,566.00
D.C. Neu	11.10	hrs at	\$	430.00 / hr	4,773.00
S. K. Ray	9.20	hrs at	\$	300.00 / hr	2,760.00
	TOTAL FEES		29.3	30 hrs	\$ 10.779.00

MATTER SUMMARY

Fees \$\frac{10,779.00}{MATTER TOTAL}\$\$\frac{10,779.00}{10,779.00}\$

Invoice # 3320481 2070561 Page 37 of 43

Reporting (70210)

\$406.00

DATE	NAME	HOURS	DESCRIPTION	
10/18/16	M.J. Gearin	0.50	Review and comment on draft monthly report	
10/18/16	D. A. Lentz	0.10	Review of monthly report sent by J. Cannady and print same	
10/20/16	D. A. Lentz	0.60	Finalize monthly report for filing and file with USBC	
		TOTAL FEES	1.20 hrs \$ <u>406.00</u>	
TIMEKEEPER SUMMARY				
M.J. Gearin		0.50	hrs at \$ 525.00 / hr 262.50	
D. A. Lentz			hrs at \$ 205.00 / hr 143.50	
		TOTAL FEES	1.20 hrs \$ <u>406.00</u>	
MATTER SUMMARY				

Fees	\$ <u>406.00</u>
MATTER TOTAL	\$ <u>406.00</u>

Intellectual Property Advice and Trademark Registration (70230)

\$1,997.50

FEES

DATE	NAME	HOURS	DESCRIPTION
10/06/16	M.J. Gearin	1.10	Meet with P. Jacobson regarding trademark registration for Medallic names; revisions to email on trademark issues to client
10/06/16	P. K. Jacobson	0.80	Case issues and analysis regarding intellectual property issues
10/07/16	M.J. Gearin	0.30	Communications regarding registration of tradename
10/07/16	P. K. Jacobson	0.30	Email from and to client regarding specimen of use
10/11/16	M.J. Gearin	0.40	Communications regarding registration of trademarks
10/11/16	A. A. Schermer	0.50	Review examples of use and correspond with P. Jacobson regarding use of mark on papers and website
10/24/16	P. K. Jacobson	0.40	Numerous emails to and from client regarding information pertaining to trademark applications
10/25/16	M.J. Gearin	0.40	Communications with Trustee and meeting with P. Jacobson regarding tradename issues
	TOTA	L FEES	4.20 hrs \$ <u>1,997.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	2.20	hrs at	\$	525.00 / hr		1,155.00
P. K. Jacobson	1.50	hrs at	\$	450.00 / hr		675.00
A. A. Schermer	0.50	hrs at	\$	335.00 / hr		167.50
	TOTAL FEES		4.2	20 hrs	\$_	1,997.50

MATTER SUMMARY

Fees \$ 1,997.50 MATTER TOTAL \$ 1,997.50

Invoice # 3320481 2070561 Page 39 of 43

US-TMK: MACO - CL. 14 - 28718361 (70240) \$1,445.00

US Serial No.: 87218361

FEES

DATE	NAME	HOURS	DESCRIPTION	
10/27/16	P. K. Jacobson	2.60	Prepare and file MACO tra	ademark application
	TOTAI	_ FEES	2.60 hrs	\$1,170.00

TIMEKEEPER SUMMARY

P. K. Jacobson	2.60 hrs at	\$ 450.00 / hr	1,170.00
	TOTAL FEES	2.60 hrs	\$ 1,170.00

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
10/28/16	Trademark Application Filing Fee; USPTO Fee Code 7009;87218361	275.00
	DISBURSEMENTS & OTHER CHARGES	\$

MATTER SUMMARY

rees	\$	1,170.00
Disbursements and Other Charges	\$	275.00
MATTER TOTAL	\$_	1,445.00

Invoice # 3320481 2070561 Page 40 of 43

US-TMK: MEDALLIC ART COMPANY - CL. 14	4 - 87216866 (70250)	\$1,400.00
---------------------------------------	----------------------	------------

US Serial No.: 87216866

FEES

DATE	NAME	HOURS	DESCRIPTION
10/14/16	P. K. Jacobson	2.00	Work on Medallic Art Co. trademark application
10/26/16	P. K. Jacobson	0.50	Prepare and file MEDALLIC ART COMPANY trademark application
	TOTAL	FEES	2.50 hrs \$ <u>1,125.00</u>

TIMEKEEPER SUMMARY

P. K. Jacobson	2.50 h	nrs at \$	450.00 / h	r	1,125.00
	TOTAL FEES	2	2.50 hrs	\$_	1,125.00

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
10/27/16	Trademark Application Filing Fee; USPTO Fee Code 7009;87216866	275.00
	DISBURSEMENTS & OTHER CHARGES	\$

MATTER SUMMARY

Fees	\$ 1,125.00
Disbursements and Other Charges	\$ 275.00
MATTER TOTAL	\$ 1,400.00

Invoice # 3320481 2070561 Page 41 of 43

Costs (99999) \$7,818.68

Invoice # 3320481 2070561 Page 42 of 43

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
07/28/16	Noticing Center charge for Mailing Notice of Deadline and Procedures, Proofs of Claim	2,558.84
07/28/16	USBC - audio CD of 6/22 hearing	30.00
07/28/16	USBC - audio CD of 7/6 hearing	30.00
07/28/16	Unisearch Inc UCC Search re Medallic Art LLC	59.75
08/28/16	USDC Bankruptcy - Notice of Appeal	298.00
09/28/16	Ahearn & Associates - Hearing Transcripts	2,673.65
10/03/16	Travel Expenses - Gearin, Michael - Parking - 2016-09-16 - Parking 9 16 Hearing	18.00
10/06/16	Copying Expense	49.40
10/06/16	Westlaw - TSM - 10/05/2016 - 10/06/2016	82.98
10/06/16	Local Courier - 9/13 #4 155 NE 100th St #205 Seattle - Amended Complaint & Summons - ABC Legal Services - 09232016	45.00
10/06/16	Supplies	3.68
10/07/16	Copying Expense	29.60
10/07/16	Long Distance Courier Long Distance Courier TR#: 784294405254 INV#: 557987583 INVDT: 20161017 SHIPDT: 20161007 SHNAME: Denise Evans RCNAME: Erin Robinson RCCO: Northwest Territorial Mint	11.22
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/12 #6 US Bankruptcy Court - Hearing Binder to Judge Christopher Alston	13.00
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/1 #1 US Bankruptcy Court - Envelope	29.00
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/2 #4 US Bankruptcy Court - Envelope	8.00
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/8 #3 909 1st #400 - envelope containing Exhibits	7.00
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/7 #2 US Bankruptcy Court - Envelope and Letter with Check	8.00
10/10/16	Local Courier - Courier Services for Sept 2016 - Halo Messenger Services, LLC - 10012016 - 9/28 #2 US Bankruptcy Court - Hearing Binder	29.00
10/12/16	CD ROM Expenses	25.00
10/13/16	Copying Expense	13.00
10/13/16	Color Copying/Printing	76.00
10/14/16	Westlaw - BTP - 10/14/2016 - 10/14/2016	561.63

Invoice # 3320481 2070561 Page 43 of 43

DATE	DESCRIPTION	AMOUNT
10/17/16	Copying Expense	2.40
10/18/16	Westlaw - SKR - 10/14/2016 - 10/18/2016	666.09
10/18/16	Other - LexisNexis Risk Solutions - 09302016	55.95
10/20/16	Other - TransUnion Risk and Alternative Data Solutions, Inc 10012016 - transunion sept 2016	14.00
10/21/16	Postage	33.30
10/21/16	Postage	33.49
10/22/16	Westlaw - KMF - 10/14/2016 - 10/22/2016	75.72
10/24/16	Travel Expenses - Neu, David - Parking - 2016-10-21 - Parking for Hearing	18.00
10/25/16	Copying Expense	1.80
10/25/16	Copying Expense	1.00
10/25/16	Copying Expense	43.20
10/26/16	Copying Expense	29.60
10/28/16	Copying Expense	30.40
10/28/16	Copying Expense	71.00
10/28/16	Westlaw - BTP - 10/25/2016 - 10/28/2016	82.98
	DISBURSEMENTS & OTHER CHARGES \$_	7,818.68

MATTER SUMMARY

Disbursements and Other Charges \$ $\frac{7,818.68}{7,818.68}$

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC

1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : November 8, 2016

Invoice Number : 3317682

Services Through : October 31, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 29,459.50 Disbursements and Other Charges \$ 309.93

Total Amount Due This Matter \$ 29,769.43

CURRENT INVOICE DUE - All Matters \$ 29,769.43

Litigation -- e-DAT Fees (77100)

\$29,769.43

DATE	NAME	HOURS	DESCRIPTION
10/03/16	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM 004 to Medallic Art Company, LLC
10/03/16	M. Bassetti	0.20	Update chain of custody tracking logs for Dayton facility new custodians collection HDD to E. Chacon
10/04/16	M. Bassetti	0.40	Prepare HDD materials for Dayton facility new custodians collection to E. Chacon
10/04/16	V.I. Komar	1.30	Prepare materials, customize scripts and procedures for identifying and collecting R. Vugteveen potentially relevant ESI based on custodian interview information using e-DAT's Harvester collection tool at NWTM's Dayton, NV facility
10/04/16	L.E. Steidl	0.70	Address substantive questions from review attorney regarding review of potentially privileged ESI for production (0.5), update and implement revised privilege searches based on researching names of potential legal advisors and input of review attorney (0.1); address collection related issues, including preparation and shipment of replacement collection drive to E. Chacon at client Nevada location (0.1)
10/04/16	R. M. Tausend	2.90	Strategize with M. Gearin regarding various issues from Medallic BR 2004 document collection and review potentially relevant to preparation of mediation statement and in support of upcoming production (0.4); review and respond to M. Gearin and D. Evans requests and questions regarding lease documentation, financials and tax returns (1.0); review L. Steidl findings regarding LP-LLC transfer, supplement analysis, identify key documents and provide results of same to M. Gearin (1.5)

DATE	NAME	HOURS	DESCRIPTION
10/05/16	L.E. Steidl	0.50	Address substantive questions from review attorney regarding review of potentially privileged ESI for production, and meet with R. Tausend and review attorney to discuss findings of review, substantive case issues and deadlines affecting review Address substantive questions from review attorney regarding review of potentially privileged ESI for production (0.4), update and implement revised privilege searches based on researching names of potential legal advisors and input of review attorney (0.1);
10/05/16	R. M. Tausend	0.80	Strategize with M. Gearin and D. Evans and address requests regarding financials, tax returns and lease issues and review communications from A. Trunkett in support of same
10/06/16	M. Bassetti	0.20	Update chain of custody tracking logs for Dayton facility new custodians collection HDD to E. Chacon
10/06/16	L.E. Steidl	1.80	Address substantive questions from review attorney (0.3), update and implement revised privilege searches based on researching names of potential legal advisors and input of review attorney (1.1); confer with R. Tausend to discuss substantive case issues and revised deadlines affecting review (0.1); identify and organize files for imaging and preparation for production (0.3)
10/06/16	R. M. Tausend	0.30	Assess status of requests and re questions relating to E. Chacon collection of R. Vugteveen files and strategize regarding resolution and completion of same
10/07/16	L.E. Steidl	0.60	Address substantive questions from review attorney and implementation of revised privilege searches based on reviewer input (0.2); address ESI collection related issues, including communication with E. Chacon at client Nevada location regarding same (0.1); confer with R. Tausend regarding strategy and timing for resolution of outstanding discovery (0.3)
10/07/16	R. M. Tausend	0.60	Email to P. Wagner and E. Chacon identifying open items with respect to R. Vugteveen ESI and hard copy collection and BR 2004 Order ESI collection source paths, and strategize and provide update to M. Gearin in connection with same

DATE	NAME	HOURS	DESCRIPTION
10/07/16	R. M. Tausend	0.30	Assess document and coding feedback from review attorney and provide guidance regarding same (0.2); provide update and strategize with M. Gearin regarding remaining review and production (0.1)
10/10/16	L.E. Steidl	0.30	Address substantive questions and meet with review attorney to discuss potential documents of interest arising from review of client email collections
10/10/16	R. M. Tausend	0.30	Analyze preliminary report from S. Smith regarding collection drive from E. Chacon to confirm contents relative to requests for R. Vugteveen files and request specific information relating to emails and other file types from S. Smith in support of same
10/11/16	L.E. Steidl	0.30	Review results of review of client email collections, conferring with R. Tausend regarding same and regarding audit of collection materials received from E. Chacon
10/11/16	R. M. Tausend	0.10	Strategize with L. Steidl regarding options for completion of ESI privilege review and production and R. Vugteveen ESI
10/18/16	R. M. Tausend	0.40	Review emails from P. Wagner and M. Calvert regarding document collections and Medallic discovery and propose next steps to complete open items regarding same (0.2); review email thread from opposing counsel producing additional MF Global statements and respond to trial team's question and request relating to searchable master case database (0.2)
10/19/16	R. M. Tausend	0.60	Call with D. Huffman to review and confirm details of R. Hansen office move process in support of preparation of declaration relating to chain of custody
10/20/16	L.E. Steidl	0.70	Organize and audit client email and ESI collections in preparation for production (0.4); coordinate imaging and organization of supplemental targeted ESI collections received from NWTM in preparation for production (0,2); confer with R. Tausend regarding same and regarding outstanding discovery issues including follow up call with S. Bernard to discuss results of audit of collection materials received from E. Chacon (0.1)
10/20/16	R. M. Tausend	1.80	Strategize with M. Gearin and B. Peterson regarding MAC financials and other documents and data relevant to summary judgment motion re lease (0.3); develop and

DATE	NAME	HOURS	DESCRIPTION analyze database search results, review communications with A. Trunkett, identify
			produced documents and review A. Trunkett draft declaration in response to requests in support of same (1.5)
10/20/16	R. M. Tausend	1.20	Analyze and address potential open items relating to privilege and production of Medallic and Dayton facility documents and provide information and guidance in support of production of nonprivileged documents
10/21/16	M. Bassetti	0.90	Analyze and QC production set to confirm compliance with production specifications (0.7); prepare October 21st document production for delivery to Medallic Art Company, LLC (0.2)
10/21/16	M. Bassetti	0.60	Prepare HDD for use in Dayton facility client custodian collections for S. Barnard in response to information learned by R. Tausend and L. Steidl during call with S. Barnard to address potential discovery open items
10/21/16	T. S. Milne	2.50	Prepare NWTM005 for production in accordance with production specifications
10/21/16	L.E. Steidl	2.70	Organize and audit client email and ESI collections in preparation for production (0.5); coordinate imaging and organization of supplemental targeted ESI collections received from NWTM in preparation for production (0.1); participate in conference call and WebEx with R. Tausend and S. Barnard to discuss results of audit of collection materials received from E. Chacon and supplemental collection needed of Vugteveen email and hard drive, and collections from of outstanding server locations (0.9); coordinate preparation and shipment of collection drive and instructions for use in completing supplemental collections (0.2); supervise and assist in preparation, export, QC, and delivery of supplemental production images and data, providing detailed instruction to technical and litigation support teams related to same (1.0)
10/21/16	R. M. Tausend	1.60	Prepare for and speak with S. Barnard and R. Vugteveen regarding document repositories, organization and searches to confirm completion of identification and collection of potentially relevant information (1.2); call with A. Trunkett regarding Medallic financials to confirm resolution of potential open issues

DATE	NAME	HOURS	DESCRIPTION
			relating to Quick books and LP vs LLC, and review documents in connection with same (0.4)
10/21/16	R. M. Tausend	1.90	Address open items and questions to complete preparation of production of weekly Medallic reports and other ESI to Medallic's counsel and review documents in support of same (0.7); strategize with L. Steidl regarding production plan and redact ions (0.3); review A. Orth letter regarding production, draft responses and confer with M. Gearin regarding same (0.9)
10/24/16	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM005 to Medallic Art Company, LLC
10/24/16	M. Bassetti	0.20	Update chain of custody tracking logs for collection HDD to client S. Barnard
10/24/16	L.E. Steidl	0.50	Address collection issues related to transfer of Medallic bank statements and collection of R. Vugteveen and other custodian collections from servers, conferring with R. Tausend and technical support team members regarding same
10/24/16	R. M. Tausend	2.30	Strategize with M. Gearin and B. Peterson regarding various issues relating to adversary proceeding initial disclosures, document requests and motions, and identify and analyze information relating to lease and financials in support of same
10/25/16	L.E. Steidl	0.40	Address collection issues related to transfer of Medallic bank statements from DFI (0.1); address collection of R. Vugteveen and other custodian ESI from servers, conferring with S. Barnard and R. Tausend regarding same (0.3)
10/25/16	R. M. Tausend	3.40	Prepare for A. Orth onsite visit and meet with A. Orth and M. Gearin (1.7); strategize with M. Gearin regarding discovery related issues and options, including re privilege (1.0); emails with S. Barnard regarding ESI collection and open items relating to original sources in anticipation of need to authenticate evidence (0.7)
10/26/16	L.E. Steidl	0.30	Address collection issues related to transfer, handling, and organization of Medallic bank statements from DFI in preparation for production
10/26/16	R. M. Tausend	1.60	Analyze A. Orth review markings in R. Hansen boxes relative to information discussed in meeting and responsiveness scope analysis,

DATE	NAME	HOURS	DESCRIPTION
			strategize with M. Gearin regarding same and develop plan for identifying bates numbers for produced files (0.9); draft response to A. Orth letter and requests (0.7)
10/27/16	M. H. Hoefer	2.40	Analyze Ringtail master case database report of NWTM hard copy collection relative to file folders and documents marked by opposing counsel during onsite review to determine production status (1.2); annotate report for use by internal team, including highlighting production numbers of previously produced files for inclusion in response letter and identifying additional categories of documents newly requested by opposing counsel (1.2)
10/27/16	L.E. Steidl	0.20	Confer with R. Tausend regarding outstanding collections of Medallic bank statements and timing and scope of upcoming supplemental productions
10/27/16	R. M. Tausend	1.90	Draft response to A. Orth (0.8); review new letter from A. Orth (0.5); email to M. Gearin regarding same (0.4); communications with L. Steidl regarding bank statements and production of same (0.2)
10/28/16	M. Bassetti	0.50	Prepare HDD materials for client S. Barnard collections to resolve S. Barnard prior collection issues
10/28/16	S. A. Smith	0.30	Prepare materials, customize scripts and procedures for office collections using our Harvester collection tool at client's office
10/28/16	L.E. Steidl	0.40	Confer with R. Tausend regarding outstanding collections of Medallic bank statements and timing and scope of upcoming supplemental productions (0.2); address outstanding collection issues with S. Barnard and coordinate preparation and shipment of supplemental collection drive to address same (0.2)
10/28/16	R. M. Tausend	2.70	Analyze R. Vugteveen PST reporter results from preprocessing team to identify potential issues relating to file types and defensible strategies for expediting identification of relevant subsets of files and reducing processing volume and costs, and strategize with L. Steidl regarding same (0.9); address open items relating to A. Orth request for NWTM and Medallic bank statements and provide recommendation for resolving same (0.3); craft targeted searches to analyze NWTM collections and productions relative to

DATE	NAME	HOURS	A. Orth requests and outline strategic decision points for trial team and M. Calvert in connection with response to same (1.2);
			review and respond to technical team emails regarding new Harvester collection drive for S. Barnard to confirm need for supplemental Harvester collection to address S. Barnard apparent omission of newly identified J. Beitey files stored outside Legal filesbare (0.2)
10/29/16	L.E. Steidl	0.30	files stored outside Legal fileshare (0.3) Audit collection material for requested bank statements and follow up with T. McDonald and J. Gilmore regarding collection of same
10/29/16	R. M. Tausend	1.30	Analyze prior custodian collections coordinated by R. Chacon and R. Vugteveen collections provided b R. Chacon and S. Barnard (0.5); outline strategy and next steps for execution by L. Steidl and technical team in light of A. Orth expanded requests (0.5); email L. Steidl regarding same (0.3)
10/30/16	R. M. Tausend	2.90	Analyze legal issues in response to A. Orth assertions regarding FRCP 26(a) initial disclosures and document productions and draft counter arguments to same (1.8); develop and outline arguments to refute A. Orth claims regarding categories of documents indispensable to responding to lease motion, and review prior production materials in support of same (1.1)
10/31/16	ESI Legal Review	N/A	ESI Legal Review: 1,442 files reviewed for privilege and production @ \$4.00/file; Total Charges: \$5,768.00
10/31/16	C. M. Kuffel	1.10	Execute complex queries to prepare and export responsive documents for custodians S. Furuness, R. Hansen, P. Obert, S. Skaggs, A. Trunkett, Accounting Private Share, and NW Territorial Mint, as Production No. 06
10/31/16	L.E. Steidl	2.70	Communication with J. Gilmore and follow up regarding collection of bank statements for use in production (0.2); conduct final review, redaction, and classification of files for production (2.1); confer with technical support team and provide detailed instructions to same regarding preparation and export of production data and images (0.4)
10/31/16	R. M. Tausend	3.00	Strategize with M. Gearin regarding discovery issues, including BR 2004 Order as compared to adversary proceeding, Rule 26(a) analysis and privilege, and update and supplement draft letter to A. Orth for review by M. Gearin

DATE	NAME	HOURS	DESC	RIPTI	ON	
10/31/16	R. M. Tausend	0.30	questi conne (privile specif Revier regard staten regard	ons reaction wege, reaction wege, reaction wege, and the complete the	garding ESI production with preparation	of delivery set lians) and review rt of same (1.1) n J. Gilmore of bank th L. Steidl of A. Orth
	TC	TAL FEES	•		0 hrs	\$ <u>29,459.50</u>
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>	
M. Bassetti		3.40	hrs at	\$	90.00 / hr	306.00
ESI Legal F	Review	N/A	hrs at	\$	N/A / hr	5,768.00
M. H. Hoefe	er	2.40	hrs at	\$	90.00 / hr	216.00
V.I. Komar		1.30	hrs at	\$	90.00 / hr	117.00
C. M. Kuffe		1.10	hrs at	\$	235.00 / hr	258.50
T. S. Milne		2.50	hrs at	\$	175.00 / hr	437.50
S. A. Smith		0.30	hrs at	\$	235.00 / hr	70.50
L.E. Steidl		12.40	hrs at	\$	395.00 / hr	4,898.00
R. M. Taus		32.20	hrs at	\$	540.00 / hr	17,388.00
	TC	TAL FEES		55.6	0 hrs	\$ <u>29,459.50</u>

Invoice # 3317682 2070561 Page 10 of 10

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION		AMOUNT
10/04/16	Long Distance Courier Long Distance Courier TR#: 78425970614 INV#: 557173304 INVDT: 20161010 SHIPDT: 20161004 SHNAME: Margaret Bassetti RCNAME: Edgar Chacon RCCO: Northwest Territorial Mint	13	86.57
10/07/16	Long Distance Courier Long Distance Courier TR#: 79519591394 INV#: 557987583 INVDT: 20161017 SHIPDT: 20161007 SHNAME: Edgar Chacon RCNAME: Margaret Bassetti RCCO: K L Gates		15.06
10/19/16	Long Distance Courier Long Distance Courier TR#: 79519462736 INV#: 558656932 INVDT: 20161024 SHIPDT: 20161019 SHNAME: Edgar Chacon RCNAME: Margaret Bassetti RCCO: K L Gates		15.06
10/21/16	Long Distance Courier Long Distance Courier TR#: 78442511452 INV#: 559413083 INVDT: 20161031 SHIPDT: 20161021 SHNAME: Margaret Bassetti RCNAME: Steve Bernard RCCO: Northwest Territorial Mint	21	18.41
10/26/16	Long Distance Courier Long Distance Courier TR#: 79520240255 INV#: 559413083 INVDT: 20161031 SHIPDT: 20161026 SHNAME: Steve Bernard RCNAME: Margaret Bassetti RCCO: K L Gates		17.11
10/31/16	ESI Conversion: Convert 0.036113 GB to TIFF images @ \$500/GB: \$18.06. OCR 314 pages @ \$0.02/page: \$6.28		24.34
10/31/16	ESI Conversion: Convert 0.19425 GB to TIFF images @ \$500/GB \$97.13	3:	97.13
10/31/16	Ringtail Fees: October 2016 Data Storage Fees: 2.01408 GB @ \$18.00/GB: \$36.25		36.25
	DISBURSEMENTS & OTHER CHARGES	\$	309.93
	MATTER SUMMARY		
Fees		\$	29,459.50
Disbursements and Other Charges \$			309.93
MATTER T	OTAL	\$ _	29,769.43

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : January 26, 2017

Invoice Number : 3343651

Services Through: November 30, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees Total Amount Due This Matter	\$ <u>6,039.00</u>	\$ 6,039.00
Asset Disposition (70020)		
Fees Total Amount Due This Matter	\$ <u>1,915.00</u>	\$ 1,915.00
Business Operations (70030)		
Fees Total Amount Due This Matter	\$2,719.00_	\$ 2,719.00

Case Administration (70040)

Fees	\$ <u>9,865.00</u>	
Total Amount Due This Matter		\$ 9,865.00

Claims, Administration and Objections (70050)

Fees	\$ 4,061.50	
Total Amount Due This Matter		\$ 4,061.50

500673622 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3343651 2070561 Page 2 of 37

		1 age 2 01 07
Fee/Employment Applications (70070) Fees Total Amount Due This Matter	\$ <u>900.50</u>	\$ 900.50
Litigation (70100)		
Fees Total Amount Due This Matter	\$ <u>893.00</u>	\$ 893.00
Trustee v Medallic Art Co LLC (70101)		
Fees Total Amount Due This Matter	\$ <u>68,539.50</u>	\$ 68,539.50
Trustee v Diane Erdmann (70102)		
Fees Total Amount Due This Matter	\$ <u>3,657.50</u>	\$ 3,657.50
EEOC v NW Territorial Mint, LLC, USDC Case	e (70104)	
Fees Total Amount Due This Matter	\$ <u>2,838.50</u>	\$ 2,838.50
American Express Fraudulent Transfer Actio	n (70107)	
Fees Total Amount Due This Matter	\$ <u>6,651.50</u>	\$ 6,651.50
Meetings and Communications with Creditor	s (70110)	
Fees Total Amount Due This Matter	\$ <u>8,506.50</u>	\$ 8,506.50
Plan and Disclosure Statement (70120)		
Fees Total Amount Due This Matter	\$ <u>21,849.00</u>	\$ 21,849.00

Invoice # 3343651 2070561 Page 3 of 37

Relief From Sta	y and Adequate	Protection	(70130)
------------------------	----------------	-------------------	---------

Fees Total Amount Due This Matter	\$ 1,928.50	\$ 1,928.50
		•

Tax (70140)

Fees Total Amount Due This Matter	\$ <u>10,680.00</u>	\$ 10,680.00
Accumunation and Dejection of Lances and	J. Contracto (70450)	

Assumption and Rejection of Leases and Contracts (70150)

Fees	\$ <u></u>	<u>453.50</u>	
Total Amount Due This Matter			\$ 453.50

Reporting (70210)

Fees	\$ <u> 362.50</u>	
Total Amount Due This Matter		\$ 362.50

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)

Fees	\$ 54.00	
Total Amount Due This Matter		\$ 54.00

Costs (99999)

Disbursements and Other Charges	\$ <u>8,321.07</u>	
Total Amount Due This Matter		\$ 8,321.07

CURRENT INVOICE DUE - All Matters \$\frac{160,235.07}{}

Asset Analysis and Recovery (70010)

\$6,039.00

DATE	NAME	HOURS	DESC	RIPT	ION		
11/01/16	D. A. Lentz	1.50	and d	Review of list of possible preference actions and determine if proofs of claim were filed by creditor			
11/01/16	D.C. Neu	2.10	Contir	nue to	analyze avoidan	ce actions	
11/01/16	D.C. Neu	0.40			ite with client regalit (.2); research s	_	
11/02/16	D. A. Lentz	1.00	prefer	ence	orking on list of po actions and searc ding same		
11/02/16	D.C. Neu	1.60	Review communication from client regarding silver bullet litigation (.2); review status of litigation related to same (.2); email client regarding same (.1); communicate with M. Gearin regarding issues related to intellectual property (.3); Analyze allegations in complaint and answer (.5); meeting with P. Jacobsen regarding potential intellectual property issues (.3)				
11/02/16	D.C. Neu	3.20	Contir		review and analy	ze potential	
11/03/16	D.C. Neu	1.50	Contir	nued a	analysis of avoida to client regardin		
11/04/16	M.J. Gearin	1.50			. Furuness and T	` '	
11/09/16	M.J. Gearin	1.00	Comments to memo regarding insurance coverage issues (0.8); circulate to J. Scheuermann (0.2)			_	
11/11/16	D.C. Neu	1.00	Furthe	er ana	lysis of preferenc	e issues	
		TOTAL FEES		14.8	30 hrs	\$ 6,039.00	
		TIMEKEEP	ER SUN	/MAR	<u> Y</u>		
M.J. Gearin		2.50	hrs at	\$	525.00 / hr	1,312.50	
D. A. Lentz			hrs at	φ \$	205.00 / hr	512.50	
D.C. Neu		9.80	hrs at	\$	430.00 / hr	4,214.00	
		TOTAL FEES			30 hrs	\$ 6,039.00	

Invoice # 3343651 2070561 Page 5 of 37

MATTER SUMMARY

Fees \$ 6,039.00 MATTER TOTAL \$ 6,039.00

Asset Disposition (70020)

\$1,915.00

DATE	NAME	HOURS	DESCRIPTION
11/03/16	D. A. Lentz	0.80	Prepare Word version of termination acknowledgement for Wong and send with proof of claim to M. Gearin (.4); Telephone call with R. Ghumman regarding shipment (.2); review of records regarding motion to return shipment (.1); email to client regarding same (.1)
11/08/16	M.J. Gearin	0.40	Communications with E. Robinson regarding return of Zimmerman and Wong storage; draft revisions to termination and release
11/08/16	M.J. Gearin	0.50	Communications with Trustee regarding excess equipment sales
11/08/16	D. A. Lentz	0.20	Contact client for research on storage customers inventory list (.1); review of same and send to B. Peterson (.1)
11/09/16	D. A. Lentz	0.30	Compare list of equipment to sell with inventory list on security agreement
11/09/16	D. A. Lentz	0.80	Review of email from E. Robinson regarding storage customer list and proofs of claim for same (.1); review of names and compare to proofs of claim (.5); email to E. Robinson with results (.1); review of second email from E. Robinson with additional names and begin work on comparing to proofs of claim (.1)
11/10/16	D. A. Lentz	0.20	Finish list of storage customers from E. Robinson regarding search for corresponding proofs of claim
11/15/16	M.J. Gearin	0.60	Revisions to Wong storage agreement termination agreement
11/15/16	D. A. Lentz	1.30	Meeting with M. Gearin regarding Wongs storage inventory (.1); emails with E. Robinson regarding same (.2); pull together all of Wongs documentation for storage and analyze regarding personal agreement vs. LLC agreement (.5); revisions to standard acknowledgment of release to include specific details for Wongs (.4); meeting with M. Gearin regarding same and re sending to counsel for Wongs (.1)
11/16/16	D. A. Lentz	0.20	Telephone call with Judge's chambers regarding hearing on Graco settlement motion (.1); conference with B. Peterson regarding preparing hearing binder (.1)

Invoice # 3343651 2070561 Page 7 of 37

DATE	NAME	HOURS	DESCRIPTION			
11/17/16	D. A. Lentz	0.10	Conference with B. Peterson regarding hearing preparation for Graco settlement and provide copies of proofs of claim per his request			
11/21/16	D. A. Lentz	0.80	Review of email from E. Robinson with list of storage inventory/lease customers (.1); review of claims records for proofs of claim filed by customers (.6); email to E. Robinson with results (.1)			
11/22/16	D. A. Lentz	0.30	Email from E. Robinson regarding customers with lease agreements and search for additional proofs of claim regarding same			
11/29/16	D. A. Lentz	0.20	Emails from and to E. Robinson and M. Gearin regarding stored inventory customer and status of same			
11/29/16	D. A. Lentz	0.30	Telephone call with stored invergarding amended proof of clareturn of inventory (.2); email to	im following		
		TOTAL FEES	7.00 hrs	\$ <u>1,915.00</u>		
		IIMEKEEP	ER SUMMARY			
M.J. Gearin	1	1.50	hrs at \$ 525.00 / hr	787.50		
D. A. Lentz		5.50	hrs at \$ 205.00 / hr	1,127.50		
		TOTAL FEES	7.00 hrs	\$ <u>1,915.00</u>		
		MATTER	SUMMARY			
Fees MATTER T	OTAL			\$ 1,915.00 \$ 1,915.00		

Business Operations (70030)

\$2,719.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
11/08/16	J. Scheuermann	0.40	Review EEOC consent decree and related affidavits; e-mails to and from D. Neu; e-mail to insurer			
11/09/16	J. Scheuermann	0.20	Read M. Gearin revisions to coverage memorandum			
11/10/16	J. Scheuermann	1.80	Revise Trustee's response to B. Cohen application regarding stay; e-mails to and from M. Gearin regarding same; teleconference with M. Gearin regarding same; revise coverage memorandum to client			
11/10/16	M.L. Thibadeau	1.60	Review and prepare comments to response to Cohen's motion for relief from stay; review comments to response to Cohen's motion for relief from stay from J. Scheuermann and emails regarding same			
11/15/16	J. Scheuermann	0.20	Review stipulated order and e-mails to and from M. Gearin regarding same			
	TOTAL	. FEES	4.20 hrs \$ <u>2,719.00</u>			

TIMEKEEPER SUMMARY

J. Scheuermann	2.60	hrs at \$	815.00 / hr	2,119.00
M.L. Thibadeau	1.60	hrs at \$	375.00 / hr	600.00
	TOTAL FEES	4.2	20 hrs	\$ 2,719.00

MATTER SUMMARY

Fees	\$ <u>2,719.00</u>
MATTER TOTAL	\$ <u>2,719.00</u>

Case Administration (70040)

\$9,865.00

DATE	NAME	HOURS	DESCRIPTION
11/01/16	M.J. Gearin	0.90	Meet with K&L team re project coordination
11/01/16	D. A. Lentz	1.10	Team meeting re case strategy and planning
11/01/16	D. A. Lentz	0.10	Telephone call with creditor regarding status of case
11/01/16	D.C. Neu	1.00	Meeting to discuss task list and status
11/01/16	B. T. Peterson	1.00	Group meeting regarding outstanding case items
11/02/16	D. A. Lentz	1.20	Meeting with M. Gearin regarding preparation for interviews of S. Furuness and R. Vugetveen (.2); review of document production from S. Furuness and gather documents as needed for interview (.5); review of document production from R. Vugetveen and gather documents as needed for interview (.5)
11/02/16	D. A. Lentz	0.40	Miscellaneous follow up to team strategy meeting
11/03/16	M.J. Gearin	8.10	Travel to Dayton Nevada for tour of facility and meeting with management and witness interviews with multiple employees (12.3 hours including travel, travel time not billed)
11/03/16	D. A. Lentz	0.30	Email from T. McDonald requesting copy of bankruptcy schedules and statements; pull and send copies of same to T. McDonald (.3)
11/04/16	D. A. Lentz	0.10	Email from creditor with general inquiry and respond to same (.1)
11/07/16	D. A. Lentz	0.30	Field voice mails and telephone calls from creditors regarding status of case
11/07/16	D.C. Neu	0.50	Communicate with Nevada attorney about client files (.2); communicate with data collection service regarding same (.3)
11/08/16	D. A. Lentz	0.40	Update hearing list and response deadlines (.1); update pending case tasks (.1); field phone calls re status of case (.2);
11/08/16	D.C. Neu	0.20	Consult with R. Tausend regarding privilege issues
11/09/16	D. A. Lentz	0.30	Meet with M. Gearin to discuss breakdown of claims filed
11/10/16	D. A. Lentz	0.20	Return phone calls to creditors with general case status questions
11/15/16	D. A. Lentz	0.40	Meeting with M. Gearin regarding various case status items (.2); field telephone calls

DATE	NAME	HOURS	DESCRIPTION			
11/15/16	D.C. Neu	0.40	from creditors regarding status of case (.2) Review committee email (.3); review			
11/16/16	M.J. Gearin	0.60	preference analysis status (.1) Calls with Trustee regarding multiple case tasks and issues			
11/16/16	D. A. Lentz	0.40	Field phone calls from creditors regarding status of case			
11/17/16	D.C. Neu	1.40	Meeting with client to discuss information on preference analysis (.4); review claims related to same (1)			
11/18/16	D. A. Lentz	0.40	Miscellaneous case administration work			
11/21/16	D. A. Lentz	0.30	Telephone call with J. McMeel (.1); field phone calls from creditors regarding status of case (.2)			
11/22/16	D. A. Lentz	0.10	Phone call with creditor regarding status of case			
11/22/16	T. S. Miller	4.20	Discuss stipulated confidentiality and non- waiver order with M. Gearin (.4); draft stipulated confidentiality and non-waiver orde between Northwest Territorial Mint, the US Attorneys Office, and the Washington State Department of Financial Institutions (3.8)			
11/23/16	D. A. Lentz	1.00	Review of upcoming hearings and confirm all with court (.3); field phone calls from creditors regarding status of case (.2); miscellaneous case administration work (.5)			
11/29/16	D. A. Lentz	0.60	Meet with J. Gilmore regarding request for documents and provide same (.2); field telephone calls from creditors regarding status of case (.4)			
11/30/16	D. A. Lentz	0.60	Revise and finalize stipulated protective order with DFI			
11/30/16	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case			
11/30/16	D.C. Neu	0.30	Call with D. Bugbee regarding fee application (.2); draft email regarding same (.1)			
		TOTAL FEES	27.00 hrs \$ <u>9,865.00</u>			

Invoice # 3343651 2070561 Page 11 of 37

TIMEKEEPER SUMMARY

M.J. Gearin	9.60	hrs at	\$	525.00 / hr	5,040.00
D. A. Lentz	8.40	hrs at	\$	205.00 / hr	1,722.00
T. S. Miller	4.20	hrs at	\$	270.00 / hr	1,134.00
D.C. Neu	3.80	hrs at	\$	430.00 / hr	1,634.00
B. T. Peterson	1.00	hrs at	\$	335.00 / hr	335.00
	TOTAL FEES		27.00 hrs		\$ 9,865.00

MATTER SUMMARY

Fees \$ 9,865.00 MATTER TOTAL \$ 9,865.00

Claims, Administration and Objections (70050)

\$4,061.50

DATE	NAME	HOURS	DESCRIPTION
11/01/16	M.J. Gearin	0.80	Communications with Trustee regarding valuation of Pan American alleged collateral (0.3); further review of legal analysis of basis for claim of security (0.8)
11/02/16	M.J. Gearin	0.30	Email exchange with A. Willig regarding Wong claims
11/02/16	D. A. Lentz	0.20	Discussion with M. Gearin on claims analysis (.1); email to J. Cannady regarding same (.1)
11/02/16	D. A. Lentz	0.10	Field phone calls and voice mails from creditors regarding claims and status of case/claims
11/03/16	D. A. Lentz	0.10	Field phone calls from creditors regarding status of case and status of claim administration
11/03/16	D. A. Lentz	0.80	Meet with T. McDonald to discuss claims analysis spreadsheet
11/04/16	D. A. Lentz	0.10	Review of claims register regarding claims filed by Washington State for M. Gearin
11/04/16	D. A. Lentz	0.90	Work on claim review
11/06/16	B. T. Peterson	0.10	Review creditor's motion to file late-filed claim
11/08/16	M.J. Gearin	0.50	Review and analyze motion for relief from bar date of T. Elsikh; investigate claims status; communications with Trustee regarding same
11/09/16	D. A. Lentz	0.30	Continue to review claims
11/14/16	B. T. Peterson	0.30	Revise form of proposed order granting motion to approve settlement
11/14/16	B. T. Peterson	0.20	Draft email to counsel regarding motion to permit late-filing of claims
11/15/16	D. A. Lentz	0.20	Field phone calls from creditors regarding proof of claim questions
11/16/16	M.J. Gearin	0.30	Meet regarding preparation for hearing on approval of Graco settlement
11/16/16	B. T. Peterson	0.10	Draft email to counsel for RETT regarding hearing on motion to approve settlement
11/16/16	B. T. Peterson	0.50	Analyze settlement terms in advance of hearing on motion to approve settlement
11/17/16	B. T. Peterson	0.10	Review pleadings in support of settlement motion
11/18/16	M.J. Gearin	0.30	Meet with B. Peterson regarding hearing on motion to approve Graco settlement
11/18/16	B. T. Peterson	3.90	Travel and attendance at hearing on motion to approve settlement agreement with RETT
E00070000 4			

Invoice # 3343651 2070561 Page 13 of 37

DATE	NAME	HOURS	DESC	RIPT	ION		
11/22/16	M.J. Gearin	1.10			Hyatt regarding		
			regard		im issues and fol ame	iow up	eman
11/28/16	B. T. Peterson	0.10	-		ues related to red	onside	ration of
	TOTAL	FFFC	Settler			c	4.004.50
	TOTAL	FEES		11.3	30 hrs	\$	<u>4,061.50</u>
	TIMEKEEPER SUMMARY						
M.J. Gearin		3.30	hrs at	\$	525.00 / hr		1,732.50
D. A. Lentz		2.70	hrs at	\$	205.00 / hr		553.50
B. T. Peterso	on	5.30	hrs at	\$	335.00 / hr		1,775.50
	TOTAL	FEES		11.3	30 hrs	\$	4,061.50
							
	MATTER SUMMARY						

Fees

MATTER TOTAL

Fee/Employment Applications (70070)

\$900.50

FEES

DATE	NAME	HOURS	DESCRIPTION			
11/21/16	M.J. Gearin	0.30	Meet with Trustee regarding compensation of professionals and noticing issues			
11/22/16	M.J. Gearin	0.40	Review and redaction of billing statements; revisions to notice of intent to compensate			
11/22/16	D. A. Lentz	1.40	Work on finalizing notice of intent to make distributions including gathering all invoices for attachments (.7); prepare mailing list regarding same (.5); meet with M. Gearin regarding redaction issues (.2)			
11/23/16	D. A. Lentz	1.20	Final revisions to notice of intent to make distributions (.4); redact invoices as needed (.3); email from and to M. Northrup regarding status (.1); serve voluminous notice of intent on notified parties list (.4)			
		TOTAL FEES	3.30 hrs \$ <u>900.50</u>			
		TIMEKEEP	ER SUMMARY			
M.J. Gearin D. A. Lentz	1	0.70 2.60 TOTAL FEES	hrs at \$ 525.00 / hr 367.50 hrs at \$ 205.00 / hr 533.00 3.30 hrs \$ 900.50			
MATTER SUMMARY						

Fees

MATTER TOTAL

Invoice # 3343651 2070561 Page 15 of 37

Litigation (70100)

\$893.00

DATE	NAME	HOURS	DESCRIPTION		
11/02/16	M.J. Gearin	0.50	Call with B. Werner regarding privilege waiver		
11/02/16	D. A. Lentz	0.20	request; analysis of privilege waiver issues Per D. Neu's request, pull proofs of claim for		
11/02/10	D. 7 2011.2	0.20	multiple parties involved in litigation		
11/04/16	D. A. Lentz	1.10	(Ross Hansen) Voicemails and emails to and		
			from Columbia Bank regarding document production (.2); download production(.3);		
			review of bank statements (.3); discuss		
			production with R. Tausend (.1); email to		
11/07/16	D. A. Lentz	0.40	client regarding production (.2) Emails to and from J. Gilmore regarding		
11/01/10	D. 7 2011.2	0.10	Columbia Bank statements (.2); send		
			statements to J. Gilmore (.1); telephone call		
			with L. Steidl regarding production of statements (.1)		
11/07/16	D. A. Lentz	0.30	Review of litigation cases re Nevada cases		
11/08/16	M.J. Gearin	0.30	Revisions to notice of EEOC settlement		
11/23/16	K. R. Slavik	0.70	Organize, stage and load NW Territorial Docs\ESI\eDOCS\Bank docs\City National		
			documents and metadata into Calvert NW		
			BKRPT Ringtail database as requested by L. Steidl		
		TOTAL FEES	3.50 hrs \$893.00		
			· · · · · · · · · · · · · · · · · · ·		
		TIMEKEEP	ER SUMMARY		
M.J. Gearin	1	0.80	hrs at \$ 525.00 / hr 420.00		
D. A. Lentz			hrs at \$ 205.00 / hr 410.00		
K. R. Slavik	3	0.70	hrs at \$ 90.00 / hr 63.00		
		TOTAL FEES	3.50 hrs \$ <u>893.00</u>		
		MATTER	SUMMARY		
Fees \$ 893.00					
MATTER T	OTAL		\$ <u>893.00</u>		

Trustee v Medallic Art Co LLC (70101)

\$68,539.50

DATE	NAME	HOURS	DESCRIPTION
11/01/16	M.J. Gearin	1.50	Follow up communications regarding status of document production (0.9); revisions to letter to A. Orth (0.6)
11/01/16	M.J. Gearin	1.10	Review of S. Furuness notes and files (0.6); prepare for meeting with S. Furuness (0.5)
11/01/16	D. A. Lentz	0.30	Meeting with M. Gearin regarding Medallic production and 2004 order (.1); review of documents received in production (.2)
11/01/16	B. T. Peterson	1.60	Conduct research for motion to bifurcate trial
11/02/16	M.J. Gearin	1.50	Finalize letter to A. Orth regarding discovery issues
11/02/16	B. T. Peterson	0.40	Research related to motion to bifurcate trial
11/03/16	D. A. Lentz	1.40	Continue gathering documents for M. Gearin's meeting with S. Furuness
11/03/16	B. T. Peterson	5.20	Research and draft motion to bifurcate trial
11/04/16	M.J. Gearin	1.70	Work on revisions to motion to bifurcate (1.1); research regarding Stern and jury trial issues (0.6)
11/04/16	M.J. Gearin	0.70	Calls with J. Gilmore regarding bank statement discovery and analysis matters (0.3); meet with R. Tausend regarding discovery status (0.4)
11/04/16	B. T. Peterson	1.10	Draft motion to bifurcate trial (0.6); research motion to bifurcate (0.5)
11/06/16	B. T. Peterson	0.60	Research case law related to alter ego claims
11/07/16	M.J. Gearin	1.80	Review of research regarding jury trial rights (0.5); revisions to motion to bifurcate (1.3)
11/07/16	B. T. Peterson	1.70	Research related to bifurcation motion and jury trial right
11/07/16	B. T. Peterson	1.00	Analyze issues related to bifurcation motion
11/08/16	M.J. Gearin	1.20	Review of research on jury trial and Stern issues; meet with B. Peterson regarding bifurcation motion
11/08/16	M.J. Gearin	0.50	Communications regarding document production to Medallic and discovery matters
11/08/16	B. T. Peterson	3.20	Research and draft motion to bifurcate trial on claims and counterclaims in adversary
11/09/16	M.J. Gearin	2.10	Review and revise draft motion for bifurcation of trial
11/09/16	B. T. Peterson	2.80	Research and draft motion for bifurcation
11/10/16	D. A. Lentz	1.10	Conference with B. Peterson regarding status of motion (.1); drafting of notice of hearing on
500673622 v1			

DATE	NAME	HOURS	DESCRIPTION
			motion to bifurcate (.3); initial drafting of order (.2); finalize documents for filing with USBC (.3); file with USBC and send to client (.2)
11/10/16	B. T. Peterson	2.50	Research and draft bifurcation motion, order, and notice of hearing
11/14/16	B. T. Peterson	1.00	Review and analyze arguments in motion to withdraw the reference
11/15/16	M.J. Gearin	1.10	Review of discovery responses from Medallic; email communications with A. Orth regarding same; meet regarding discovery production issues
11/15/16	D. A. Lentz	0.70	Review of motion to withdraw reference and related documents and review of responses to interrogatories (.1); meeting with M. Gearin regarding same (.1); pull together documents for binders regarding motion to withdraw reference and motion to bifurcate trial (.5)
11/15/16	B. T. Peterson	0.10	Review correspondence regarding discovery requests
11/17/16	M.J. Gearin	1.50	Review and analyze Medallic response to motion for summary judgment and response to motion to assume Dayton lease
11/17/16	D. A. Lentz	0.60	Review and download multiple documents regarding response to motion for summary judgment and response to Dayton lease motion and provide to attorneys and client
11/18/16	M.J. Gearin	0.90	Meetings and communications regarding preparations of responses to summary judgment, withdrawal of reference and lease assumption motion
11/18/16	S. T. Nylen	4.70	Conference with B. Peterson regarding Motion to Withdraw reference (0.3); review Medallic briefing and research on reference withdrawal (4.4)
11/18/16	B. T. Peterson	2.00	Analyze issues related to motion for summary judgment on Dayton Lease motion
11/18/16	B. T. Peterson	0.40	Discuss issues related to motion to withdraw the reference with S. Nylen
11/19/16	B. T. Peterson	0.60	Analyze arguments made by Medallic LLC in opposition to summary judgment motion on Dayton Lease
11/20/16	B. T. Peterson	5.70	Research and draft reply in support of motion for summary judgment on Dayton Lease Motion
11/21/16	M. D. Anderson	1.20	Conduct legal research and analysis regarding withdrawal of bankruptcy reference
11/21/16	M.J. Gearin	1.10	Meet with Trustee regarding Medallic summary judgment and lease disposition

DATE	NAME	HOURS	DESCRIPTION
			issues
11/21/16	D. A. Lentz	0.60	Request from B. Peterson to find discovery documents in NV litigation case (.1); search files for same and provide to B. Peterson (.5)
11/21/16	D. A. Mawhinney	4.50	Research in connection with opposition to motion to withdrawal reference (analysis of right to jury trial, core proceedings, and arising in jurisdiction)
11/21/16	S. T. Nylen	3.00	Conference with B. Peterson regarding opposition to withdrawal of reference (0.4); conference with D. Mawhinney regarding research issues (0.2); legal research in connection with opposition to withdrawal of reference (2.0); draft objection (0.4)
11/21/16	B. T. Peterson	0.70	Analyze issues related to motion for summary judgment on Dayton Lease motion
11/21/16	B. T. Peterson	7.00	Draft reply in support of summary judgment motion
11/21/16	B. T. Peterson	0.50	Discuss legal issues related to motion to withdraw the reference with S. Nylen
11/22/16	M.J. Gearin	0.50	Initial review of Medallic response to motion to bifurcate
11/22/16	M.J. Gearin	2.20	Meet with B. Peterson regarding summary judgment response; work on draft of response
11/22/16	D. A. Mawhinney	0.80	Research into claimant's right to jury trial on admin claim
11/22/16	S. T. Nylen	4.50	Draft objection to motion to withdraw reference, including research on same (4.0); strategy conference with B. Peterson regarding same (0.5)
11/22/16	B. T. Peterson	3.10	Research regarding motion to withdraw the reference and bifurcation motion
11/22/16	B. T. Peterson	1.50	Review declarations filed in opposition to summary judgment on lease motion
11/22/16	B. T. Peterson	2.50	Draft reply in support of summary judgment
11/23/16	M.J. Gearin	5.10	Draft reply to Summary Judgment Motion
11/23/16	M.J. Gearin	2.00	Review and analysis of Medallic's Motion for Withdrawal of Reference
11/23/16	D. A. Lentz	0.30	Email from B. Peterson regarding declaration of M. Gearin (.1) draft initial pleading and forward to B. Peterson (.2)
11/23/16	D. A. Lentz	0.50	Email request from B. Peterson regarding research on prior Judge's orders regarding withdrawal of reference (.1); research regarding same and forward to attorneys as requested (.4)
11/23/16	D. A. Lentz	0.40	Update hearing binders on multiple upcoming hearings

DATE	NAME	HOURS	DESCRIPTION
11/23/16	S. T. Nylen	5.40	Draft objection to withdrawal of reference, including research in connection with same (4.9); conference with Peterson regarding jury trial issue section (0.5)
11/23/16	B. T. Peterson	3.00	Research motion to withdraw the reference
11/23/16	B. T. Peterson	2.50	Draft motion to withdraw the reference
11/24/16	M.J. Gearin	2.10	Review and revise objection to withdrawal of reference
11/24/16	S. T. Nylen	2.90	Review and revise objection to withdrawal of reference (2.4); conference with B. Peterson regarding same and next steps (0.5)
11/24/16	B. T. Peterson	1.20	Research related to judicial estoppel
11/24/16	B. T. Peterson	1.00	Research related to withdrawal of the reference and bifurcation
11/24/16	B. T. Peterson	5.40	Draft and edit response to motion to withdraw the reference
11/25/16	M.J. Gearin	1.20	Review and provide revisions to objection to withdrawal of reference motion
11/25/16	S. T. Nylen	3.00	Revise objection to withdrawal of reference, including legal research on Stern issues (3.0)
11/25/16	B. T. Peterson	0.70	Research related to withdrawal and bifurcation motions
11/25/16	B. T. Peterson	2.70	Revise, edit, and cite check opposition to motion to withdraw the reference
11/26/16	B. T. Peterson	2.00	Research related to bifurcation motion
11/26/16	B. T. Peterson	3.60	Draft reply in support of bifurcation motion
11/27/16	M.J. Gearin	2.50	Revisions to reply on motion for summary judgment regarding lease ownership issues
11/27/16	B. T. Peterson	3.80	Draft reply brief in support of bifurcation motion
11/28/16	M.J. Gearin	4.10	Revisions to reply to summary judgment motion; revisions to my declaration support of reply
11/28/16	M.J. Gearin	2.40	Revisions to response to bifurcation motion
11/28/16	D. A. Lentz	1.10	Conference with M. Gearin and voicemail to Judge's chambers regarding trial date (.1); review of files regarding interrogatories from Hoff litigation file for M. Gearin and B. Peterson (.3); work on preparing Judge's working copies/binders for multiple hearings scheduled (.7)
11/28/16	D. A. Lentz	2.40	Review and revision of reply in support of motion for summary judgment (.4); review and revision of declaration of M. Gearin in support of reply (.4); preparation of exhibits to declaration (.6); review and revision of reply in support of motion to bifurcate trial (.4); file

DATE	NAME	HOURS	DESCRIPTION			
			judgm with L	nent ai JSBC		support of same support of motion
					ding filings (.1)	(12), Gilland to
11/28/16	S. T. Nylen	1.20	bifurc	ation (comment on rep (0.8); conference (0.4)	oly in support of with B. Peterson
11/28/16	B. T. Peterso	on 4.00	Revie	w and	revise reply brie dgment motion	f in support of
11/29/16	M.J. Gearin	0.40		re dis	covery and docur	ment production
11/29/16	M.J. Gearin	1.10		ngs on	naterials and pre summary judgm	
11/29/16	D. A. Lentz	0.30		of co	of proof of servion ntinued hearing (ce of second (.2); file same with
11/29/16	D. A. Lentz	0.50		on bir	nders for Judge's	working copies
11/29/16	B. T. Peterso	on 0.50	Analy	sis of	issues related to dgment motion	hearing on
11/30/16	M.J. Gearin	3.30	Prepa	are for	•	ion for summary
11/30/16	D. A. Lentz	0.60		te hea		current replies for
11/30/16	S. T. Nylen	0.30	Analy	ze Me	dallic's reply in s of reference	upport of
11/30/16	B. T. Peterso	on 4.20		aration	for argument on	summary
		TOTAL FEES	juugii		70 hrs	\$ 68,539.50
		TIMEKEEP	FR SUM	имав	Y	
					<u> </u>	
M. D. Ande		1.20	hrs at	\$	375.00 / hr	450.00
M.J. Gearin		43.60	hrs at	\$	525.00 / hr	22,890.00
D. A. Lentz		10.80	hrs at	\$	205.00 / hr	2,214.00
D. A. Mawh	•	5.30	hrs at	\$	425.00 / hr	2,252.50
S. T. Nylen		25.00	hrs at	\$	560.00 / hr	14,000.00
B. T. Peters	SUN	79.80 TOTAL FEES	hrs at	\$ 165.7	335.00 / hr 70 hrs	\$\frac{26,733.00}{68,539.50}
		IOIAL FEES		105.	O IIIS	φ <u>00,339.3U</u>

Invoice # 3343651 2070561 Page 21 of 37

MATTER SUMMARY

Fees \$ 68,539.50 MATTER TOTAL \$ 68,539.50

Trustee v Diane Erdmann (70102)

\$3,657.50

FEES

DATE	NAME	HOURS	DESCRIPTION
11/09/16	D.C. Neu	1.50	Review and analyze motion to consolidate cases (.9); begin drafting response (.5)
11/10/16	D. A. Lentz	0.80	Work on responses to motions to consolidate cases
11/10/16	D.C. Neu	4.70	Continue to draft and revise pleadings regarding case consolidation
11/11/16	D.C. Neu	0.50	Finalize responses to consolidation motions (.3); review and analyze communication from T. Tracy regarding same (.2)
11/14/16	D.C. Neu	0.90	Finalize responses to motions to consolidate cases; review mediation certificate
11/16/16	D. A. Lentz	0.20	Review of briefing schedule from USDC regarding appeal on Calvert vs. Erdmann and calendar dates and deadlines
11/18/16	D. A. Lentz	0.40	Review of notices from USDC on Erdmann vs. Calvert and Erdmann vs. Tracy/Calvert regarding briefing schedule and calendar all dates and deadlines regarding same
11/18/16	D. A. Lentz	0.20	Review of replies to motion to consolidate cases and forward to attorney
11/30/16	D. A. Lentz	0.30 TOTAL FEES	Hearing binder for motion to dismiss case 9.50 hrs \$\frac{3,657.50}{}

TIMEKEEPER SUMMARY

D. A. Lentz	1.90	hrs at	\$	205.00 / hr	389.50
D.C. Neu	7.60	hrs at	\$	430.00 / hr	3,268.00
	TOTAL FEES		9.5	0 hrs	\$ 3,657.50

MATTER SUMMARY

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$2,838.50

FEES

DATE	NAME	HOURS	DESCRIPTION
11/04/16	D.C. Neu	2.20	Revise and edit settlement pleadings
11/07/16	D. A. Lentz	0.70	Finalize motion to approve settlement and related documents for filing with court (.3); draft notice of hearing of motion to approve settlement (.4)
11/07/16	D.C. Neu	1.30	Make revisions to settlement motion and finalize pleadings
11/08/16	D. A. Lentz	0.90	Prepare settlement motion and supporting documents for filing with USBC (.4); file documents with USBC (.2); send notice of hearing for service on special notice list (.2); calendar dates and deadlines (.1)
11/08/16	D.C. Neu	0.70	Consult with insurance counsel regarding settlement (.3); revise notice of hearing (.3)
11/15/16	D.C. Neu	0.70	Review T. Tracy responses to consolidation motion
11/29/16	D. A. Lentz	0.50	Prepare proof of service for notice of hearing on settlement (.3); file with USBC (.2)
11/29/16	D.C. Neu	0.70	Call with A. Paranjpye regarding settlement issues (.3); review terms of consent decree (.3)
		TOTAL FEES	7.70 hrs \$ <u>2,838.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz	2.10 hi	rs at \$	205.00 / hr		430.50
D.C. Neu	5.60 hi	rs at \$	430.00 / hr		2,408.00
	TOTAL FEES		7.70 hrs	\$_	2,838.50

MATTER SUMMARY

Fees \$ 2,838.50 MATTER TOTAL \$ 2,838.50

American Express Fraudulent Transfer Action (70107)

\$6,651.50

FEES

DATE	NAME	HOURS	DESCRIPTION
11/02/16	B. T. Peterson	0.20	Review motion to dismiss filed by D. Erdman
11/04/16	D.C. Neu	1.50	Research regarding motion to dismiss
11/08/16	D. A. Lentz	0.30	Review of deadlines for mediation certification and conference with D. Neu regarding same (.1); prepare mediation certification for client to sign (.2)
11/08/16	D.C. Neu	0.30	Communicate with client regarding mediation certificate
11/14/16	B. T. Peterson	1.00	Analyze arguments set forth in motion to dismiss
11/15/16	B. T. Peterson	5.00	Research and draft response to motion to dismiss complaint
11/16/16	D. A. Lentz	0.20	Review of fully executed mediation certification and file with USBC (.2)
11/16/16	D.C. Neu	3.20	Research related to motion to dismiss response (2.6); communicate with B. Peterson regarding same (.5)
11/16/16	B. T. Peterson	3.30	Research and draft response to motion to dismiss
11/18/16	D.C. Neu	2.40	Review case law cited in motion to dismiss and response
11/21/16	D. A. Lentz	0.10	Review of American Express documents received pursuant to subpoena and email attorney regarding same
11/23/16	D. A. Lentz	0.60	Finalize response to motion to dismiss case for filing (.4); file response to motion to dismiss with USBC (.2)
11/28/16	D. A. Lentz	0.20	Review of reply in support of motion to dismiss case (.1); email to D. Neu and M. Calvert (.1)
	TOTAL	. FEES	18.30 hrs \$ <u>6,651.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz	1.40	hrs at	\$	205.00 /	hr hr	287.00
D.C. Neu	7.40	hrs at	\$	430.00 /	hr	3,182.00
B. T. Peterson	9.50	hrs at	\$	335.00 /	hr hr	3,182.50
	TOTAL FEES		18.3	0 hrs	\$	6,651.50

Invoice # 3343651 2070561 Page 25 of 37

MATTER SUMMARY

Fees \$ 6,651.50 MATTER TOTAL \$ 6,651.50

Meetings and Communications with Creditors (70110)

\$8,506.50

DATE	NAME	HOURS	DESCRIPTION
11/01/16	M.J. Gearin	0.70	Communications with counsel for DFI and investigation of Karr Tuttle audit of company; analysis of privilege issues
11/07/16	B. T. Peterson	0.10	Discuss storage customer creditor claim with D. Evans and request information regarding the same
11/08/16	M.J. Gearin	0.70	Call with M. Northrup regarding multiple case issues including pending motions, insurance coverage and planning for committee meeting
11/11/16	B. T. Peterson	0.10	Phone call to counsel for creditor who filed motion to allow late filed claim
11/15/16	M.J. Gearin	0.40	Call with M. Northrup regarding case issue update
11/15/16	D.C. Neu	0.40	Review email from B. Gould regarding creditor question (.1); communicate with B. Gould regarding same (.2); review responsive email (.1)
11/16/16	M.J. Gearin	0.90	Call and email communications with M. Northrup regarding committee informational requests and committee meeting planning
11/18/16	M.J. Gearin	0.70	Call with M. Northrup regarding multiple case issues including outline of chapter 11 plan and committee meeting preparations
11/18/16	D. A. Lentz	0.50	Assist in preparing for upcoming creditor committee meeting
11/21/16	D. A. Lentz	0.80	Continue preparation for upcoming creditor committee meeting
11/22/16	D. A. Lentz	1.10	Continue prep work for creditor committee meeting
11/23/16	M.J. Gearin	0.50	Communications with Representative of Creditors Committee regarding preparation for meeting and plan.
11/28/16	M.J. Gearin	1.00	Call with M. Northrup regarding preparations for committee meeting
11/28/16	D. A. Lentz	1.70	Finish working on preparation for creditor committee meeting
11/29/16	M.J. Gearin	6.40	Attend Creditors Committee Meeting.
11/29/16	M.J. Gearin	1.80	Pre meeting with Trustee and preparations for meeting with creditors committee
11/29/16	D. A. Lentz	1.40	Update spreadsheet created for creditor committee meeting (.2); meet with M. Gearin to discuss common interest agreement and

Invoice # 3343651 2070561 Page 27 of 37

DATE	NAME	HOURS	DESC	RIPTI	ION			
confidentiality agreement and researd regarding same (.4); provide documer committee meeting via email to partie						nents from		
		attending by phone (.3); finalize confidential agreement (.2); miscellaneous assistance during meeting (.3)						
11/30/16	M.J. Gearin	0.50		ittee r	Northrup regardi meeting and prep	_	•	
		TOTAL FEES		•	70 hrs	\$	8,506.50	
		TIMEVEED	ED CUM	484 A D	v			
		TIMEKEEP	EK SUN	/IIVIAK	<u>. Y</u>			
M.J. Gearin	1	13.60	hrs at	\$	525.00 / hr		7,140.00	
D. A. Lentz		5.50	hrs at	\$	205.00 / hr		1,127.50	
D.C. Neu			hrs at	\$	430.00 / hr		172.00	
B. T. Peters	son	0.20	hrs at	\$	335.00 / hr	_	67.00	
		TOTAL FEES		19.7	70 hrs	\$ <u></u>	8,506.50	
		MATTER	SUMM	<u>ARY</u>				
Fees MATTER T	OTAL					\$_ \$_	8,506.50 8,506.50	

Plan and Disclosure Statement (70120)

\$21,849.00

DATE	NAME	HOURS	DESCRIPTION
11/01/16	B. T. Peterson	1.00	Research related to plan terms
11/04/16	M.J. Gearin	1.50	Continue work on draft of plan
11/04/16	B. T. Peterson	0.30	Discuss plan structure with M. Gearin
11/08/16	M.J. Gearin	0.70	Communications regarding draft of plan
11/11/16	B. T. Peterson	2.30	Draft chapter 11 plan of liquidation
11/12/16	B. T. Peterson	2.50	Draft chapter 11 plan of liquidation
11/13/16	B. T. Peterson	2.60	Draft chapter 11 plan of liquidation
11/14/16	B. T. Peterson	3.10	Revise and edit chapter 11 plan
11/15/16	M.J. Gearin	4.20	Draft plan
11/15/16	S. T. Nylen	0.30	Conference with B. Peterson regarding chapter 11 plan structures
11/15/16	B. T. Peterson	2.30	Revise and edit chapter 11 plan of reorganization
11/16/16	M.J. Gearin	2.50	Continue draft of plan of reorganization
11/17/16	M.J. Gearin	3.00	Meet with Trustee and B. Peterson regarding draft of plan of reorganization including call with tax counsel
11/17/16	M.J. Gearin	2.20	Draft revisions to plan
11/17/16	D. A. Lentz	0.60	Assist M. Gearin in planning for meeting with client on Chapter 11 plan, gather tax returns
11/17/16	B. T. Peterson	4.00	Meeting regarding terms of plan with client
11/17/16	B. T. Peterson	1.90	Revise and edit chapter 11 plan
11/18/16	M.J. Gearin	5.10	Draft revisions to chapter 11 plan of reorganization
11/18/16	M.J. Gearin	0.50	Review of materials regarding preservation of NOL in connection with plan
11/18/16	B. T. Peterson	0.10	Review edits to proposed plan of reorganization
11/21/16	M.J. Gearin	2.80	Meet with Trustee regarding plan of reorganization structure and financial issues relevant to the plan
11/21/16	M.J. Gearin	1.10	Revisions to draft plan; communications with M. Northrup regarding same
11/22/16	M.J. Gearin	0.50	Call with Trustee and J. Almquist regarding plan tax issues
11/22/16	M.J. Gearin	0.50	Calls with Trustee regarding plan structure issues
11/23/16	B. T. Peterson	3.10	Draft declaration in support of motion for summary judgment
11/28/16	B. T. Peterson	2.00	Review and revise reply in support of bifurcation motion

MATTER TOTAL

Invoice # 3343651 2070561 Page 29 of 37

21,849.00

DATE	NAME	HOURS	DESC	RIPT	ION					
11/30/16	B. T. Petersor	n 0.60		Discuss information exchanged at Co meeting with M. Gearin						
		TOTAL FEES		51.3	30 hrs	\$_	21,849.00			
TIMEKEEPER SUMMARY										
M.J. Gearin		24.60	hrs at	\$	525.00 / hr		12,915.00			
D. A. Lentz		0.60	hrs at	\$	205.00 / hr		123.00			
S. T. Nylen		0.30	hrs at	\$	560.00 / hr		168.00			
B. T. Peters	on	25.80	hrs at	\$	335.00 / hr		8,643.00			
		TOTAL FEES	51.30 hrs			\$	21,849.00			
MATTER SUMMARY										
Fees						\$_	21,849.00			

Relief From Stay and Adequate Protection (70130)

\$1,928.50

FEES

DATE	NAME	HOURS	DESCRIPTION
11/09/16	M.J. Gearin	1.90	Analysis of issues regarding Cohen motion for relief from stay (0.5); call and email exchange with M. Northrup regarding same (0.3); call with M. Gossler (0.3); draft response to Cohen motion for relief from stay (0.5)
11/09/16	D. A. Lentz	0.40	Initial draft response to Cohen relief from stay
11/10/16	D. A. Lentz	0.50	Conference with M. Gearin regarding status of response to motion for relief from stay (.1); review and finalize response for filing with USBC (.1); file response with USBC and send for service (.3)
11/10/16	B. T. Peterson	0.60	Review and revise response to relief from stay motion filed by Cohen Asset Management
11/15/16	M.J. Gearin	1.00	Call and email communications with Trustee, M. Gossler and M. Northrup regarding Cohen relief from stay order; revisions to form of order
11/16/16	D. A. Lentz	0.10	Review of order granting Cohen relief from stay and forward to client (.1)
	TOTAL	FEES	4.50 hrs \$ <u>1,928.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	2.90	hrs at	\$	525.00 / hr	1,522.50
D. A. Lentz	1.00	hrs at	\$	205.00 / hr	205.00
B. T. Peterson	0.60	hrs at	\$	335.00 / hr	201.00
	TOTAL FEES		4.5	50 hrs	\$ 1,928.50

MATTER SUMMARY

Fees \$ 1,928.50 MATTER TOTAL \$ 1,928.50

Invoice # 3343651 2070561 Page 31 of 37

Tax (70140) \$10,680.00

FEES

DATE	NAME	HOUDE	DESCRIPTION							
DATE	NAME	HOURS	DESCRIPTION							
11/17/16	J. D. Almquist	1.80	Telephone conference with M. Gearin (0.4); review debtor income tax returns (1.1); conference call with M. Gearin and client; review NOL issues (0.3)							
11/18/16	J. D. Almquist	1.40	Review tax consequences of alternative liquidation approaches							
11/21/16	J. D. Almquist	1.20	Review alternatives for handling COD and NOLs during liquidation process (0.9); e-mails with client (0.3)							
11/22/16	J. D. Almquist	1.20	Review additional tax issues in connection with proposed liquidation plan (0.7); conference call with M. Calvert and M. Gearin (0.5)							
11/23/16	J. D. Almquist	1.70	Prepare memo on tax issues related to proposed plan							
11/25/16	J. D. Almquist	3.30	Review various tax issues related to proposed plan (0.8); prepare memorandum summarizing issues and analysis (1.3); send draft to client (0.2)							
11/28/16	J. D. Almquist	1.40	Revise tax memo and send to M. Calvert and M. Gearin							
	ТОТ/	AL FEES	12.00 hrs \$ <u>10,680.00</u>							
	TIMEKEEPER SUMMARY									

J. D. Almquist	12.00	hrs at	\$	890.00 / hr		10,680.00
	TOTAL FEES		12.00	hrs	\$_	10,680.00

MATTER SUMMARY

Fees 10,680.00 **MATTER TOTAL**

Invoice # 3343651 2070561 Page 32 of 37

Assumption and Rejection of Leases and Contracts (70150)

\$453.50

FEES

DATE	NAME	HOURS	DESC	RIPTI	ION					
11/02/16	M.J. Gearin	0.30	couns	Communications with Trustee and opposing counsel regarding Federal Way lease rejection issues						
11/07/16	M.J. Gearin	0.50			Smith regarding issues and litigat					
11/08/16	B. T. Peterson	0.10	Draft of Green		to client regarding lease	g drafting	g of new			
	TOTA	AL FEES		•	00 hrs	\$	453.50			
	TIMEKEEPER SUMMARY									
M.J. Gearin	1	0.80	hrs at	\$	525.00 / hr		420.00			
B. T. Peters	son	0.10	hrs at	\$	335.00 / hr		33.50			
	TOTA	AL FEES		0.9	00 hrs	\$	453.50			
		MATTER	R SUMM	 ARY						
Fees						\$	453.50			

MATTER TOTAL

Invoice # 3343651 2070561 Page 33 of 37

Reporting (70210)

\$362.50

FEES

DATE	NAME	HOURS	DESC	DIDT	ION		
				DESCRIPTION			
11/22/16	M.J. Gearin	0.30			revisions to mo	, ,	
11/22/16	D. A. Lentz	0.20	Review of email from Jody Cannady regarding October monthly report (.1); meet with M. Gearin regarding review of same (.1)				rith M.
11/23/16	D. A. Lentz	0.80	Review of edits to monthly financial report by M. Gearin and update document regarding same (.2); prepare of monthly financial report for filing with USBC (.3); file monthly financial report with USBC (.2); email to client regarding same (.1)				garding cial report y financial
TOTAL FEES 1.30 hrs \$				362.50			
M.J. Gearir	1	0.30	hrs at	\$	525.00 / hr		157.50
D. A. Lentz		1.00	hrs at	\$	205.00 / hr		205.00
		TOTAL FEES		1.3	30 hrs	\$	362.50

MATTER SUMMARY

Fees \$ 362.50 MATTER TOTAL \$ 362.50

Invoice # 3343651 2070561 Page 34 of 37

US-TMK: MEDALLIC ART COMPANY - C	CL. 14 - 87216866 (7025)) \$54.00
----------------------------------	--------------------------	-----------

US Serial No.: 87216866

		_				
DATE NAME 11/08/16 F. O. Scott		HOURS 0.40	Review files and draft reporting letter for new U.S. trademark applications for MACO and MEDALLIC ART COMPANY in Class 14; forward to P. Jacobson for provision to client			
		TOTAL FEES	0.40 hrs	\$54.00		
F. O. Scott 0.40 hrs at \$ 135.00 / hr 54.						
1.0.0001		0.40 TOTAL FEES	hrs at \$ 135.00 / hr 0.40 hrs	\$ 54.00 \$ 54.00		
MATTER SUMMARY						
Fees				\$ 54.00		
MATTER TO	OTAL			\$ 54.00		

Invoice # 3343651 2070561 Page 35 of 37

Costs (99999) \$8,321.07

Invoice # 3343651 2070561 Page 36 of 37

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
11/02/16	TKNUM# 0277831197910 PS: GEARIN/MICHAEL TKDESC: GEARIN/MICHAEL TKT# 02778311979 TVDT: 11/03/2016 PRN: THZ54W SUP: GBT US LLC	39.00
11/02/16	TKNUM# 0277831197910 PS: GEARIN/MICHAEL TKDESC: TKT# 02778311979100 20161103 TVDT: 11/03/2016 CAR: SEA/RNO/SEA PRN: THZ54W SUP: ALASKA AIRLINES	546.20
11/03/16	Postage	33.94
11/03/16	Postage	33.94
11/08/16	Copying Expense	35.80
11/10/16	Local Courier - Oct 2016 Courier Charges - Halo Messenger Services, LLC - 11012016 - 10/ 25 #3 P @ 721 2nd Ave - Subpoena for Rule 2004 Examination	37.00
11/10/16	Local Courier - Oct 2016 Courier Charges - Halo Messenger Services, LLC - 11012016 - 10/ 13 #3 600 University #2100 - Envelope with Thumb Drive	7.00
11/10/16	Local Courier - Oct 2016 Courier Charges - Halo Messenger Services, LLC - 11012016 - 10/ 14 #3 2003 Western #400 - 1st Set Interrogatories	7.00
11/10/16	Local Courier - Oct 2016 Courier Charges - Halo Messenger Services, LLC - 11012016 - 10/ 17 #1 155 NE l00th St #205 - Plaintiffs Initial Disclosures	40.00
11/15/16	YOM full Service Court Reporting	951.70
11/15/16	Reversal from Cancelled Voucher 1962162	(951.70)
11/15/16	YOM full Service Court Reporting	951.70
11/15/16	Subpoena Fees	30.00
11/16/16	Westlaw - BTP - 11/15/2016 - 11/16/2016	330.24
11/18/16	Copying Expense	129.20
11/18/16	Copying Expense	0.40
11/18/16	Copying Expense	79.60
11/18/16	Westlaw - DCN - 11/11/2016 - 11/18/2016	412.81
11/18/16	Supplies	10.76
11/21/16	Westlaw - MDA - 11/21/2016 - 11/21/2016	82.11
11/22/16	Westlaw - DAM - 11/21/2016 - 11/22/2016	225.99
11/23/16	Copying Expense	36.00
11/23/16	Copying Expense	695.60
11/28/16	Westlaw - STN - 11/23/2016 - 11/28/2016	595.51
11/30/16	Westlaw - BTP - 11/01/2016 - 11/30/2016	3,961.27
	DISBURSEMENTS & OTHER CHARGES \$_	8,321.07

Invoice # 3343651 2070561 Page 37 of 37

MATTER SUMMARY

Disbursements and Other Charges	\$ 8,321.07
MATTER TOTAL	\$ 8,321.07

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1420 5th Avenue, Suite 3382

Seattle, WA 98101

Invoice Date : January 25, 2017

Invoice Number : 3343408

Services Through: November 30, 2016

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 17,385.50 Disbursements and Other Charges \$ 1,321.35

Total Amount Due This Matter \$ 18,706.85

CURRENT INVOICE DUE - All Matters \$ ___18,706.85

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$18,706.85

DATE	NAME	HOURS	DESCRIPTION
11/01/16	M. Bassetti	0.60	Analyze and QC documents to confirm compliance with production volume NWTM006 specifications (0.5); prepare November 1st document production to Medallic Art Company, LLC (0.1)
11/01/16	L.E. Steidl	0.40	Address final details related to preparation and export of production data and images, including communications to M. Gearin and receiving party regarding details of same
11/01/16	R. M. Tausend	0.20	Communications with M. Gearin confirming production plan and scope and provide updated guidance and instructions to L. Steidl regarding organization and delivery of same to A. Orth
11/01/16	R. M. Tausend	2.00	Review and edit updated version of response letter to A Orth discovery related communications and requests and address M. Gearin questions regarding certain categories of documents in connection with same (1.3); analyze and summarize Medallic weekly sales report scope and production status to counter A. Orth assertion regarding S. Skaggs reports (0.4); craft searches and analyze email address results to support requests relating to Medallic ESI (0.3)
11/02/16	R. M. Tausend	1.30	Confer with M. Gearin on specific portions of comprehensive response letter to A. Orth relating to expedited new discovery and R. Hansen emails in response to his questions and requests, provide information regarding collections and productions and identify selected documents in support of same
11/02/16	R. M. Tausend	0.20	Review pre-processing report of new drive from S. Barnard containing J. Beitey folders located on Artwork for Sales shares and identify strategy for efficient triaging of same for review for production

DATE	NAME	HOURS	DESCRIPTION
11/04/16	L.E. Steidl	0.10	Address issues related to client transfer and handling of bank statement collections to prepare same for production
11/04/16	R. M. Tausend	0.60	Respond to questions and requests from M. Gearin regarding bank statements and other prioritized subsets of documents for review (0.4); emails with technical team to address and resolve document processing issues (0.2)
11/07/16	L.E. Steidl	0.70	Confer with R. Tausend regarding discovery strategies and details related to timing and scope of upcoming supplemental production (0.2); address issues related to transfer and handling of bank statements and other targeted collections to prepare same for production (0.5)
11/08/16	M. Bassetti	0.50	Analyze and QC documents to confirm compliance with production volume NWTM007 specifications (0.4); prepare November 9th document production to Medallic Art Company, LLC (0.1)
11/08/16	T. S. Milne	1.00	Prepare NWTM007 for production confirming compliance with production specifications
11/08/16	L.E. Steidl	0.60	Review and mark files for production, providing detailed instruction to technical support team regarding preparation, export, and delivery of production images and data
11/08/16	R. M. Tausend	1.30	Resolve questions relating to production of bank statements, Hoff litigation file and Hoff communications and analyze documents regarding same (1.1); communications with M. Gearin and L. Steidl (0.2)
11/13/16	R. M. Tausend	1.10	Analyze privilege and confidentiality issues in Medallic adversary proceeding and prepare proposed protective order and privilege clawback (0.8); research and review samples from other analogs circumstances in support of same (0.3)
11/14/16	R. M. Tausend	1.20	Analyze MAC LLC answers to interrogatories and responses to RFPs, identify deficiencies and inaccuracies and email M. Gearin outlining same (0.6); email to L. Steidl requesting information relating to bank accounts and statements in response to MAC LLC discovery response representations (0.1); revise draft 502(d) order and email M. Gearin current drafts of proposed draft 502(d) order and protective order (0.5)

DATE	NAME	HOURS	DESCRIPTION
11/15/16	L.E. Steidl	1.00	Conduct search and review across case database to identify and assess files related to City National Bank account, and provide summary of results of same in support of response to M. Gearin request
11/15/16	R. M. Tausend	2.10	Strategize with M. Gearin regarding response to A. Orth discovery responses and respond to requests for supporting information from database and in connection with FRCP discovery amendments in support of same (0.8); review and provide comments on A. Orth requests regarding bank statements, and address questions relating to City National Bank records (0.4); email to M. Calvert providing update and confirming approval of plan relating to same (0.2); high level review of A. Orth production of C. Hoff document production (~790 page single PDF) to provide observations and recommendation to M. Gearin regarding document processing and analysis (0.7)
11/16/16	L.E. Steidl	0.30	Confer with R. Tausend and litigation support teams regarding handling, loading, and organization of C. Hoff production material into case database
11/16/16	R. M. Tausend	0.90	Email from and to M. Calvert regarding discovery requests from A. Orth and proposed plan regarding same (City National, NWTM financials and tax returns) (0.2); analyze and address issues relating to C. Hoff production format and content from A. Orth and provide overview of same (0.5); analyze new hits from R. Vugteveen supplemental folder (0.2)
11/17/16	M. H. Hoefer	1.20	Create output file in Excel ad perform other technical preparatory steps necessary to convert C. Hoff third party production of 800 page PDF into separate PDFs to facilitate efficient review and coding
11/17/16	C. M. Kuffel	0.60	Load C. Hoff's November 15th Production in Ringtail review database
11/17/16	L.E. Steidl	0.20	Communications with A. Trunkett to address outstanding items for document collection, and review prior communication threads in preparation for same
11/17/16	R. M. Tausend	0.90	Emails from and to J. Gilmore and A. Trunkett regarding City National bank statements and NWTM financials to resolve open items in response to A. Orth requests (0.4); confer with M. Gearin regarding discovery status and

DATE	NAME	HOURS	DESCRIPTION
			decision points (0.1); review A. Orth declaration re MSJ on lease to analyze discovery related representations (0.4)
11/18/16	R. M. Tausend	0.20	Review and respond to A. Trunkett emails and questions relating to NWTM financials and City National Bank statements, to facilitate completion of outstanding collections for adversary proceeding.
11/22/16	L.E. Steidl	0.30	Communications with A. Trunkett to address potential outstanding items for document collection, and review prior communication threads and processed or produced documents in preparation for same
11/22/16	R. M. Tausend	0.90	Address questions from D. Evans and B. Peterson regarding MLC documents in connection with preparation of responses to pending motions (0.2); strategize with B. Peterson regarding A. Orth allegations and arguments and counter arguments and facts in support of same (0.4); craft targeted searches and analyze documents to support Trustee positions (0.2); review and respond to A. Trunkett questions relating to NWTM vs MAC financials (0.1)
11/23/16	L.E. Steidl	0.20	Communications with A. Trunkett to procure additional collections from NWTM, and coordinate intake, imaging, and addition of same to case database in preparation for production
11/23/16	R. M. Tausend	0.50	Emails from and to A. Trunkett regarding status of request for NWTM financials for production in adversary proceeding and respond to A. Trunkett questions relating to same (0.3); emails from and to internal e-DAT team regarding status of processing City National Bank statements and anticipated production plan (0.2)
11/23/16	R. M. Tausend	1.10	Review, edit and supplement draft declaration of M. Gearin in response to A. Orth declaration and in support of motion for summary judgment on lease issue (0.7); exchange emails with M. Gearin and B. Peterson and review A. Orth declaration in support of same (0.4)
11/28/16	L.E. Steidl	0.30	Communications with A. Trunkett to procure additional collections from NWTM (0.1); review, and organize bank statements and prepare instructions for production of same (0.2)

DATE	NAME	HOURS	DESCRIPTION
11/28/16	R. M. Tausend	2.40	Review updated draft M. Gearin affidavit in support of lease motion and provide comments to M. Gearin regarding same (0.8); analyze database collections, searches and metadata in support of counter arguments to A. Orth declaration (0.5); communications with L. Steidl regarding City National Bank statements from A. Trunkett (0.2); strategize with M. Gearin regarding A. Orth requests and lease-related documents, exchange emails with L. Steidl, and analyze documents for potential production (0.9)
11/29/16	M. H. Hoefer	0.50	Analyze and QC documents to confirm compliance with production specifications for production volume NWTM008
11/29/16	T. S. Milne	2.00	Electronically produce NWTM 0018219 - NWTM 0019621 out of litigation support database for production to opposition (1.6); edit data set to refine and add redactions to select documents (0.4)
11/29/16	L.E. Steidl	3.00	Communications with A. Trunkett to procure additional collections from NWTM (0.3); confer with R. Tausend regarding completion of outstanding collections, scope and detail of upcoming productions, and resolution of privilege issues related to same (0.6); review, organize, and redact files for production, supervising and providing detailed instructions for technical and litigation support team regarding generation, export, QC, and transfer of production images and data for same (2.1)
11/29/16	R. M. Tausend	2.40	Review email from A. Trunkett regarding accounting records, and confer with A. Trunkett by phone regarding Medallic Art document identification and collection in support of supplemental production of bank statements and other materials (0.4); analyze search results, identify historic documents relating to NWTM-MAC relationship in response to M. Gearin questions and requests relating to same (0.9); research document history, analyze privilege issues for L. Burich notes describing information provided by J. Beitey (0.6); email to M. Gearin regarding same (0.1); review technical team emails and respond to L. Steidl and T. Milne questions regarding production scope, specifications to facilitate completion and delivery of production to opposing counsel (0.4)

Invoice # 3343408 2070561 Page 7 of 8

DATE	NAME	HOURS	DESC	RIPTI	ON	
11/30/16	ESI Processing	N/A	ESI Processing: 35.47762 GB processed @ \$50/GB = \$1,773.88 (raw extracted volume - input); 5.65247 GB processed @ \$250/GB = \$1,413.12 (post- filtered volume - output); Total ESI Processing Charge: \$3,187.00			
11/30/16	R. M. Tausend	0.10	Email to L. Steild outlining processing plan for newly received hard copy files, including American Express account statements, in accordance with D. Neu and J. Gilmore requests			
	TOTA	AL FEES		32.9	00 hrs	\$ <u>17,385.50</u>
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>	
M. Bassetti		1.10	hrs at	\$	90.00 / hr	99.00
ESI Proces	sing	N/A	hrs at	\$	N/A / hr	3,187.00
M. H. Hoefer		1.70	hrs at	\$	90.00 / hr	153.00
C. M. Kuffel		0.60	hrs at	\$	235.00 / hr	141.00
T. S. Milne		3.00	hrs at	\$	175.00 / hr	525.00
L.E. Steidl		7.10	hrs at	\$	395.00 / hr	2,804.50
R. M. Tause		19.40	hrs at	\$	540.00 / hr	10,476.00
	TOTA	AL FEES		32.9	00 hrs	\$ <u>17,385.50</u>

Invoice # 3343408 2070561 Page 8 of 8

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
10/28/16	Long Distance Courier Long Distance Courier TR#: 784491358413 INV#: 560273076 INVDT: 20161107 SHIPDT: 20161028 SHNAME: Margaret Bassetti RCNAME: Steve Barnard RCCO: Northwest Territorial Mint	20.66
11/01/16	Long Distance Courier Long Distance Courier TR#: 795204838223 INV#: 560273076 INVDT: 20161107 SHIPDT: 20161101 SHNAME: Steve Barnard RCNAME: Margaret Bassetti RCCO: K & L Gates	17.11
11/30/16	OCR 3,151 pages @ \$0.02/page: \$63.02	63.02
11/30/16	Ringtail Fees: November 2016 Data Storage Fees: 2.85599 GB @ \$15.00/GB: \$42.84	42.84
11/30/16	ESI Conversion: Convert 2.212031 GB to TIFF images @ \$500/GB: \$1,106.02. OCR 3,585 pages @ \$0.02/page: \$71.70	1,177.72
	DISBURSEMENTS & OTHER CHARGES \$_	1,321.35
	MATTED SHMMADY	

MATTER SUMMARY

Fees	\$	17,385.50
Disbursements and Other Charges	\$_	1,321.35
MATTER TOTAL	\$_	18,706.85

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC

1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : January 26, 2017

Invoice Number : 3343655

Services Through : December 31, 2016

1,569.00

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)		
Fees Total Amount Due This Matter	\$ <u>721.00</u>	\$ 721.00
Asset Disposition (70020)		
Fees Total Amount Due This Matter	\$ 303.50	\$ 303.50
Business Operations (70030)		
Fees Total Amount Due This Matter	\$ 1,059.50	\$ 1,059.50
Case Administration (70040)		
Fees Total Amount Due This Matter	\$ 3,538.00	\$ 3,538.00
Claims, Administration and Objections (7005)	50)	
Fees	\$ <u>1,569.00</u>	

500673764 v1

Total Amount Due This Matter

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3343655 2070561 Page 2 of 28

Fee/Employment	Applications ((70070)

Fees	\$ <u>4,984.00</u>	
Total Amount Due This Matter		\$ 4,984.00

Litigation (70100)

Fees	\$ <u>57</u>	<u>7.50 </u>	
Total Amount Due This Matter		\$	577.50

Trustee v Medallic Art Co LLC (70101)

Fees	\$ 30,773.50	
Total Amount Due This Matter		\$ 30,773.50

Trustee v Diane Erdmann (70102)

Fees	\$ 11,086.00	
Total Amount Due This Matter		\$ 11,086.00

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

Fees	\$ 8,201.50	
Total Amount Due This Matter		\$ 8,201.50

American Express Fraudulent Transfer Action (70107)

Fees	\$ <u>16,447.50</u>	
Total Amount Due This Matter		\$ 16,447.50

Meetings and Communications with Creditors (70110)

Fees	\$ 1,931.50	
Total Amount Due This Matter		\$ 1,931.50

Plan and Disclosure Statement (70120)

Fees	\$ <u>2,278.00</u>	
Total Amount Due This Matter		\$ 2,278.00

Invoice # 3343655 2070561 Page 3 of 28

\$ 89,944.62

Relief From Stay	and Adequate	Protection	(70130)
------------------	--------------	------------	---------

CURRENT INVOICE DUE - All Matters

Keller From Stay and Adequate Frotection (70130)		
Fees Total Amount Due This Matter	\$ <u>458.50</u>	\$	458.50
Assumption and Rejection of Leases and Co	ontracts (70150)		
Fees Total Amount Due This Matter	\$ <u>1,786.00</u>	\$	1,786.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$ <u>123.00</u>	\$	123.00
US-TMK: MEDALLIC ART COMPANY - CL. 1 (70250)	4 - 87216866		
Fees Total Amount Due This Matter	\$ <u>270.00</u>	\$	270.00
Costs (99999)			
Disbursements and Other Charges Total Amount Due This Matter	\$ 3,836.62	\$	3,836.62
		_	

Invoice # 3343655 2070561 Page 4 of 28

Asset Analysis and Recovery (70010)

\$721.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
12/05/16	M.J. Gearin	0.50	Review and analysis of response letter from				
			insurance counsel regarding insurance claims				
12/12/16	M.J. Gearin	0.30	Letter from counsel for B. Co	·			
			Schuermann regarding insurance policy issues				
12/12/16	D.C. Neu	0.70	Work on obtaining information	on from RJ			
			O'Brien				
		TOTAL FEES	1.50 hrs	\$ <u>721.00</u>			
		TIMEKEEP	ER SUMMARY				
M.J. Gearin	1	0.80	hrs at \$ 525.00 / hr	420.00			
D.C. Neu		0.70	hrs at \$ 430.00 / hr	301.00			
		TOTAL FEES	1.50 hrs	\$ 721.00			
		MATTER	SUMMARY				
Fees				\$ 721.00			

MATTER TOTAL

Invoice # 3343655 2070561 Page 5 of 28

Asset Disposition (70020)

\$303.50

FEES

DATE	NAME	HOURS	DESCRIPTION				
12/01/16	D. A. Lentz	0.20	Review of executed acknowledgment of termination from Wongs and confirm accurate (.1); email to E. Robinson regarding ok to release stored inventory (.1)				
12/06/16	M.J. Gearin	0.50	Review and analysis of equipment inventory and communications regarding disposition of excess equipment				
		TOTAL FEES	0.70 hrs	\$303.50			
		TIMEKEEP	ER SUMMARY				
M.J. Gearin D. A. Lentz	1	0.50 0.20 TOTAL FEES	hrs at \$ 525.00 / hr hrs at \$ 205.00 / hr 0.70 hrs				
MATTER SUMMARY							
Fees MATTER T	OTAL			\$ 303.50 \$ 303.50			

Invoice # 3343655 2070561 Page 6 of 28

Business Operations (70030)

\$1,059.50

FEES

DATE	NAME	HOURS	DESCRIPTION
12/05/16	J. Scheuermann	0.60	Read insurer letter regarding coverage and e- mail to M. Gearin regarding same
12/12/16	J. Scheuermann	0.20	Review primary and umbrella liability policies and e-mails to and from M. Gearin regarding same
12/15/16	J. Scheuermann	0.30	Review policies to send to B. Cohen attorney and e-mail messages to/from M. Gearin regarding same
12/20/16	J. Scheuermann	0.20	Teleconference with M. Gearin regarding coverage issues regarding B. Cohen
	TOTAL	FEES	1.30 hrs \$ <u>1,059.50</u>

TIMEKEEPER SUMMARY

J. Scheuermann	1.30	hrs at	\$	815.00 / h	nr	1,059.50
	TOTAL FEES		1.30	hrs	\$	1,059.50

MATTER SUMMARY

Fees \$ 1,059.50 MATTER TOTAL \$ 1,059.50

Invoice # 3343655 2070561 Page 7 of 28

Case Administration (70040)

\$3,538.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
12/01/16	M.J. Gearin	0.30	Final revisions to stipulation regarding access to privileged information; call with B. Werner of DOJ regarding same				
12/01/16	D. A. Lentz	0.10	Telephone call with E. Robinson regarding demand letter from Coin Collection				
12/02/16	M.J. Gearin	0.80	Communications with Trustee regarding follow up to hearings and case planning matters				
12/07/16	M.J. Gearin	1.00	Call with Trustee regarding multiple case initiatives				
12/12/16	M.J. Gearin	1.00	Call with Trustee regarding multiple case issues including Auburn lease, plan formulation and hearing on bifurcation motion				
12/13/16	M.J. Gearin	0.60	Call with Trustee regarding multiple case issues				
12/19/16	M.J. Gearin	1.00	Meet with M. Calvert regarding multiple case issues				
12/20/16	M.J. Gearin	0.50	Call with B. Werner regarding requested privilege waiver; draft revisions to stipulation				
12/20/16	M.J. Gearin	0.30	Communications with H. Lam of DFI regarding privilege waiver request				
12/21/16	M.J. Gearin	0.40	Communications with B. Werner re privilege waiver issues				
12/29/16	M.J. Gearin	0.80	Multiple calls with Trustee re case issues and planning				
		TOTAL FEES	6.80 hrs \$ <u>3,538.00</u>				
		TIMEKEEP	ER SUMMARY				
M.J. Gearin	1	6.70	hrs at \$ 525.00 / hr 3,517.50				
D. A. Lentz		0.10	hrs at \$ 205.00 / hr20.50				
		TOTAL FEES	6.80 hrs \$ <u>3,538.00</u>				

MATTER SUMMARY

Fees \$ 3,538.00 MATTER TOTAL \$ 3,538.00

Claims, Administration and Objections (70050)

\$1,569.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
12/01/16	B. T. Peterson	0.50	Review transcript from hearing on Graco settlement motion				
12/02/16	D. A. Lentz	0.30	Email from E. Robinson regarding claims filed and search for same				
12/02/16	B. T. Peterson	0.70	Review transcript on hearing for motion to approve settlement				
12/04/16	B. T. Peterson	0.20	Email correspondence with court reporter service regarding hearing transcript				
12/05/16	B. T. Peterson	0.30	Review of transcript on landlord's claim for administrative expense				
12/06/16	B. T. Peterson	2.70	Analyze issues related to settlement with RETT and Graco				
12/24/16	B. T. Peterson TOTAL	0.10 . FEES	Review letter from creditor 4.80 hrs \$ 1,569				

TIMEKEEPER SUMMARY

D. A. Lentz				205.00 / hr	61.50
B. T. Peterson	4.50	hrs at	\$	335.00 / hr	1,507.50
	TOTAL FEES		4.8	30 hrs	\$ 1,569.00

MATTER SUMMARY

Fees	\$ 1,569.00
MATTER TOTAL	\$ 1,569.00

Fee/Employment Applications (70070)

\$4,984.00

FEES

DATE	NAME	HOURS	DESCRIPTION
12/07/16	D. A. Lentz	0.00	Calculate pro rata figures for payment (.2); meeting with M. Gearin regarding same (.1) (No Charge)
12/23/16	M.J. Gearin	1.10	Revisions to Attala employment letter; communications with Trustee regarding same
12/27/16	M.J. Gearin	0.30	Revisions to notice of hearing on Attala employment
12/27/16	D. A. Lentz	0.20	Prepare proof of service for notice of intent to compensate professionals
12/27/16	D. A. Lentz	0.50	Work with B. Peterson to finalize notice of hearing on motion to employ CEO (.2); serve notice of hearing on special notice list (.3)
12/27/16	B. T. Peterson	1.10	Draft pleadings to retain CEO
12/27/16	B. T. Peterson	1.40	Draft notice of hearing related to motion to approve retention of CEO
12/28/16	B. T. Peterson	2.20	Draft declaration in support of motion for employment of CEO
12/29/16	M.J. Gearin	1.10	Work on employment application of B. Attala
12/29/16	B. T. Peterson	0.30	Analyze issues related to retention of CEO by Trustee
12/30/16	M.J. Gearin	3.10	Draft pleadings relating to employment of B. Attala; communications with Trustee regarding same
12/30/16	D. A. Lentz	1.10	Telephone call with M. Gearin regarding motion to employ CEO (.1); draft of proposed order granting motion (.2); finalize all documents and exhibits for filing with USBC (.5); file motion and related documents with USBC and send for service (.3); draft of proof of service and file same (.2); calendar dates and deadlines for hearing (.1); email to client (.1)
	TOTAL	FEES	12.40 hrs \$ <u>4,984.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	5.60	hrs at	\$	525.00 / hr	2,940.00
D. A. Lentz	1.80	hrs at	\$	205.00 / hr	369.00
B. T. Peterson	5.00	hrs at	\$	335.00 / hr	1,675.00
	TOTAL FEES		12.40	0 hrs	\$ 4,984.00

Invoice # 3343655 2070561 Page 10 of 28

MATTER SUMMARY

Fees \$ 4,984.00 MATTER TOTAL \$ 4,984.00

Invoice # 3343655 2070561 Page 11 of 28

\$577.50

DATE	NAME	HOURS	DESCRIPTION			
12/06/16	M.J. Gearin	1.10	Review of transc			
			Peterson regardi	ng Graco sett	lement is	ssues
		TOTAL FEES	1.10 h	rs	\$	577.50
		TIMEKEEP	ER SUMMARY			
M.J. Gearin		1.10	hrs at \$ 525	5.00 / hr		577.50
		TOTAL FEES	1.10 h	rs	\$	577.50
MATTER SUMMARY						
Fees					\$	577.50
MATTER T	OTAL				\$	577.50

Trustee v Medallic Art Co LLC (70101)

\$30,773.50

DATE	NAME	HOURS	DESCRIPTION
12/01/16	M.J. Gearin	2.50	Prepare for and attend hearing on motion to bifurcate
12/01/16	M.J. Gearin	5.30	Prepare for and attend hearing on motion for summary judgment
12/01/16	D. A. Lentz	0.30	Finalize hearing binders
12/01/16	D. A. Lentz	0.00	Attend hearings on Dayton lease issues (No Charge)
12/01/16	B. T. Peterson	1.10	Preparation for argument on summary judgment and bifurcation motions
12/01/16	B. T. Peterson	1.00	Discuss and analyze outcome of hearing on bifurcation and summary judgment motions
12/02/16	D. A. Lentz	1.00	Draft order continuing motion on Dayton lease (.4); conference with M. Gearin regarding same (.1); draft letter to F. Mendoza (.5)
12/05/16	M.J. Gearin	1.20	Research regarding bifurcation motion including Bekins Theatre case and jury trial issues and meet regarding supplemental briefing
12/05/16	M.J. Gearin	0.40	Revisions to letter to Mr. Mendoza
12/05/16	D. A. Lentz	0.20	Upload order continuing hearing on Dayton lease motion
12/05/16	B. T. Peterson	2.50	Research related to bifurcation and jury trial issues
12/06/16	B. T. Peterson	1.10	Draft supplemental brief in support of bifurcation
12/07/16	M.J. Gearin	0.40	Call with T. Lerner
12/07/16	M.J. Gearin	0.70	Meet with B. Peterson regarding supplemental briefing on bifurcation motion
12/07/16	M.J. Gearin	0.80	Research and analysis of members rights of dissolution of Medallic LLC
12/07/16	D. A. Lentz	0.10	Review of transcripts from December 1st hearings and forward to attorneys
12/07/16	S. T. Nylen	0.20	Communications with B. Peterson regarding supplemental briefing
12/07/16	B. T. Peterson	5.10	Research and draft supplemental brief in support of bifurcation
12/08/16	B. T. Peterson	3.00	Research in support of supplemental brief requesting bifurcation of trial
12/09/16	M.J. Gearin	3.30	Review of case law and revisions to Trustee's briefing on bifurcation motion
12/09/16	D. A. Lentz	0.20	Discuss confirmation of hearing on bifurcation motion with M. Gearin and confirm same (.1);
500673764 v1			· //

DATE	NAME	HOURS	DESCRIPTION
			message to Judge's chambers regarding same (.1)
12/09/16	S. T. Nylen	0.20	Analyze Medallic's supplemental brief in opposition to bifurcation
12/09/16	B. T. Peterson	2.70	Revise and edit supplemental motion in support of bifurcation
12/09/16	B. T. Peterson	1.00	Draft supplemental brief in support of motion for bifurcation
12/12/16	M.J. Gearin	1.50	Review and analyze Medallic briefing on bifurcation motion; meet with B. Peterson regarding formulation of response
12/12/16	B. T. Peterson	4.70	Draft reply brief in support of motion for bifurcation
12/12/16	B. T. Peterson	1.50	Legal research related to bifurcation motion
12/13/16	M.J. Gearin	2.30	Revisions to supplemental briefing on bifurcation motion
12/13/16	D. A. Lentz	1.00	Work with B. Peterson and M. Gearin regarding finalize reply brief on bifurcation motion (.8); file reply brief with USBC (.2)
12/13/16	B. T. Peterson	4.90	Research and draft reply in support of supplemental briefing on bifurcation motion
12/13/16	B. T. Peterson	0.40	Discuss adversary case trial preparation with C. Wyant
12/14/16	M.J. Gearin	2.00	Meet with C. Wyant and B. Peterson regarding case planning including discovery plan and witness identification; follow up review of materials and analysis of trial preparation matters
12/14/16	B. T. Peterson	0.70	Analyze issues related to Medallic trial
12/14/16	B. T. Peterson	1.50	Meeting with C. Wyant and M. Gearin regarding trial strategy
12/14/16	C.M. Wyant	1.30	Conference regarding litigation tasks; review background materials
12/15/16	M.J. Gearin	1.50	Prepare for hearing on bifurcation motion
12/15/16	B. T. Peterson	0.80	Preparation for hearing on bifurcation motion
12/15/16	B. T. Peterson	1.80	Research related to bifurcation and jury trial
12/16/16	M.J. Gearin	2.70	Prepare for and attend hearing on bifurcation motion
12/16/16	B. T. Peterson	0.40	Draft corporate disclosure statement
12/16/16	B. T. Peterson	0.70	Analysis of issues related to adversary proceeding
12/16/16	C.M. Wyant	1.80	Review pleadings, summary judgment briefing and mediation materials; draft notes regarding evidentiary issues for trial
12/19/16	B. T. Peterson	0.30	Draft revisions to corporate disclosure statement
12/19/16	B. T. Peterson	0.90	Analyze witness and discovery issues related

DATE	NAME	HOURS	DESC	RIPT	ION				
·			to adv	ersar	y proceeding				
12/19/16	C.M. Wyant	0.60	Discu	Discuss discovery issues with B. Petersen; review additional background materials					
12/20/16	M.J. Gearin	0.20		Draft revisions to corporate disclosure document					
12/20/16	D. A. Lentz	0.20	File co	orpora	ate disclosure stat	ement in USDC			
12/22/16	M.J. Gearin	0.20	Revie reque		er from A. Orth re	garding discovery			
12/22/16	M.J. Gearin	0.50	•		rt decision on mo	tion to bifurcate			
12/22/16	B. T. Peterso	n 0.70	Analy	ze ord	der granting motio	n to bifurcate trial			
12/23/16	B. T. Peterso	on 0.90	proce	eding	covery issues rela , including respon est for inspection	ated to adversary se to Medallic			
12/26/16	B. T. Peterso	on 2.10			nse regarding lett and deficient disc				
12/27/16	M.J. Gearin	0.50	Comn	nents	to letter to A. Orth	1			
12/27/16	B. T. Peterso	on 0.80	Draft notice of supplemental authority for withdrawal motion						
12/27/16	B. T. Peterso	on 1.20	Revise and edit letter to counsel for Medallic regarding request for inspection and discovery obligations						
12/27/16	C.M. Wyant	1.10	Edit draft letter to A. Orth regarding discovery and discuss same with B. Peterson; edit draft notice of supplemental authority; review court						
12/29/16	D. A. Lentz	0.50	rules regarding deadline for pre-trial events Email from B. Peterson regarding filing of notice of supplemental authority (.1); review and finalize notice for filing with USDC and file same (.4)						
12/29/16	B. T. Peterso	on 0.20	Finaliz	ze not	ice of supplemen	tal authority for			
		TOTAL FEES	illing i	76.7		\$ 30,773.50			
		TIMEKEEP	ER SUM	ИМАБ	RY				
M.J. Gearin	•	26.00	hrs at	\$	525.00 / hr	13,650.00			
D. A. Lentz		3.50	hrs at	\$	205.00 / hr	717.50			
S. T. Nylen		0.40	hrs at	\$	560.00 / hr	224.00			
B. T. Peters	son	42.00	hrs at	\$	335.00 / hr	14,070.00			
C.M. Wyant		4.80	hrs at	\$	440.00 / hr	2,112.00			
S.ivi. vvyaii	•	TOTAL FEES	1110 at		70 hrs	\$ 30,773.50			

Invoice # 3343655 2070561 Page 15 of 28

MATTER SUMMARY

Fees \$ 30,773.50 MATTER TOTAL \$ 30,773.50

Trustee v Diane Erdmann (70102)

\$11,086.00

FEES

DATE	NAME	HOURS	DESCRIPTION
12/07/16	D.C. Neu	4.70	Draft and edit appeal brief (4.2); Communicate with D. Bugbee regarding mediation (.4)
12/08/16	D.C. Neu	2.80	Draft and edit appeal brief
12/09/16	D.C. Neu	1.80	Draft and edit appeal brief
12/12/16	D.C. Neu	4.40	Continue to draft appellate brief (3.5); review order consolidating appeals (.3); communicate with D. Bugbee regarding same (.3); email client regarding same (.1); evaluate options regarding clarification of order (.2)
12/13/16	D. A. Lentz	0.40	Finalize and file motion for reconsideration in Erdmann appeal
12/13/16	D.C. Neu	6.70	Call Dominique Scalia (.2); draft motion for reconsideration (.5); edit same (.2); draft appellate brief (5.5)
12/19/16	D.C. Neu	5.00	Read D. Erdmann's response to motion for reconsideration (.3); review and interpret court's order on same (.4); meeting with client to discuss Erdmann complaint information (2.5); revise same (1.8)
12/20/16	D. A. Lentz	0.40	Review revised briefing schedule in appeal case and calendar all new dates
		TOTAL FEES	26.20 hrs \$ <u>11,086.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	0.80	hrs at	\$	205.00 / hr	164.00
D.C. Neu	25.40	hrs at	\$	430.00 / hr	10,922.00
	TOTAL FEES			0 hrs	\$ 11,086.00

MATTER SUMMARY

Fees \$ 11,086.00 MATTER TOTAL \$ 11,086.00

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$8,201.50

DATE	NAME	HOURS	DESCRIPTION
12/05/16	D.C. Neu	0.30	Review order prior to uploading
12/06/16	M.J. Gearin	0.40	Review of damages analysis; meet with D. Neu regarding EEOC settlement hearing
12/06/16	D.C. Neu	0.90	Review denial of order from judge (.1); analysis of potential issues related to same (.8)
12/07/16	D.C. Neu	1.20	Call with EEOC regarding hearing (.4); analysis of issues raised in call (.6)
12/08/16	D. A. Lentz	0.20	Prepare hearing binder for D. Neu
12/09/16	D.C. Neu	5.20	Prepare for and attend settlement hearing (3.8); research and analysis regarding issues raised by Judge Alston related to same (1.3)
12/16/16	D.C. Neu	4.30	Research related to EEOC settlement issues raised by Judge Alston (3); draft factual summary for N. Spiliotis (1.3)
12/19/16	D.C. Neu	2.10	Revise consent decree (.6); analysis of law related to punitive and compensatory damages (.5); call with N Spiliotis regarding legal analysis (1)
12/19/16	N. G. Spiliotis	1.40	Receive and analyze EEOC consent decree, deposition notes, and client information with an eye towards arguments in favor of acceptance of settlement.
12/19/16	N. G. Spiliotis	0.50	Telephone call with David Neu to discuss thoughts on case to convince judge to approve settlement.
12/21/16	D.C. Neu	1.30	Call with A. Paranjpye regarding settlement issues (.2); email regarding same (.2); edit settlement agreement (.3); communicate with client regarding edits (.2); review memorandum from EEOC (.4)
12/23/16	D.C. Neu	0.40	Communicate with EEOC regarding settlement terms
12/30/16	D. A. Lentz	0.80	Finalize supplemental declaration in support of motion to approve settlement with EEOC for filing with Court and prepare exhibit regarding same (.3); file supplemental declaration with USBC and send for service (.2); confirm hearing via ECF (.1); telephone call with D. Neu regarding proposed order (.1); upload order for entry with the Court (.1)
	TOTA	AL FEES	19.00 hrs \$ <u>8,201.50</u>

Invoice # 3343655 2070561 Page 18 of 28

TIMEKEEPER SUMMARY

M.J. Gearin	0.40	hrs at	\$	525.00 / hr	210.00
D. A. Lentz	1.00	hrs at	\$	205.00 / hr	205.00
D.C. Neu	15.70	hrs at	\$	430.00 / hr	6,751.00
N. G. Spiliotis	1.90	hrs at	\$	545.00 / hr	1,035.50
	TOTAL FEES			00 hrs	\$ 8,201.50

MATTER SUMMARY

Fees \$ 8,201.50 MATTER TOTAL \$ 8,201.50

American Express Fraudulent Transfer Action (70107)

\$16,447.50

DATE	NAME	HOURS	DESCRIPTION
12/01/16	D.C. Neu	6.70	Prepare for hearing on motion to dismiss (2.1); attend hearings (4); meeting to discuss same (.4)
12/02/16	M.J. Gearin	0.50	Meet with D. Neu regarding Erdmann complaint matters
12/02/16	D.C. Neu	2.90	Review and revise order on fraudulent transfer claims (.3); communicate with D. Bugbee regarding same (.3); email with D. Bugbee regarding mediation (.2); research and analysis regarding revised complaint (2)
12/05/16	D. A. Lentz	0.30	Work with eDat group to prepare American Express statements for review (.2); emails with J. Gilmore regarding same (.1)
12/05/16	D.C. Neu	1.60	Communicate with D. Bugbee regarding mediation (.1); review lodged order (.1); work on revised complaint
12/06/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/06/16	D.C. Neu	2.50	Work on revised complaint
12/07/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/08/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/13/16	D. A. Lentz	4.20	Review and analysis of American Express statements re personal purchases
12/14/16	D. A. Lentz	2.70	Review and analysis of American Express statements re personal purchases
12/14/16	D.C. Neu	3.10	Edit complaint
12/15/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/15/16	D.C. Neu	5.50	Analyze Amex account statements
12/16/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/19/16	D. A. Lentz	0.00	Review and analysis of American Express statements re personal purchases (No Charge)
12/19/16	D. A. Lentz	1.30	Meeting with D. Neu, M. Calvert and J.

Invoice # 3343655 2070561 Page 20 of 28

DATE	NAME	HOURS	DESCRIPTION					
			Gilmore regarding Erdmann complaint					
12/20/16	D. A. Lentz	0.60	Review and revision to second amended complaint					
12/20/16	D.C. Neu	5.60	Revise and edit complaint to recover fraudulent transfers (4.1); research related to same (1.5)					
12/22/16	D.C. Neu	3.30	Revise and edit complaint					
12/22/16	B. T. Peterson	0.90	Review and revise amended complaint					
12/23/16	D.C. Neu	1.40	Finalize and file amended complaint					
	TOTAL	FEES	43.10 hrs \$ <u>16,447.50</u>					

TIMEKEEPER SUMMARY

M.J. Gearin	0.50	hrs at	\$	525.00 / hr	262.50
D. A. Lentz	9.10	hrs at	\$	205.00 / hr	1,865.50
D.C. Neu	32.60	hrs at	\$	430.00 / hr	14,018.00
B. T. Peterson	0.90	hrs at	\$	335.00 / hr	301.50
	TOTAL FEES			10 hrs	\$ 16,447.50

MATTER SUMMARY

Fees \$ $\frac{16,447.50}{47.50}$ **MATTER TOTAL** \$ $\frac{16,447.50}{16,447.50}$

Meetings and Communications with Creditors (70110)

\$1,931.50

FEES

DATE	NAME	HOURS	DESCRIPTION
12/05/16	D. A. Lentz	0.20	Field telephone calls from creditors regarding status of case (.1); review of request for special notice filed with court and update master mailing list regarding same (.1)
12/06/16	M.J. Gearin	0.80	Call with M. Northrup regarding multiple case issues and committee questions
12/13/16	D. A. Lentz	0.20	Field voice mails and telephone calls from creditors regarding status of case
12/16/16	M.J. Gearin	0.90	Call with M. Northrup regarding multiple case issues and case update
12/20/16	M.J. Gearin	0.50	Call with creditor M. Bernard and follow up review of proof of claim
12/20/16	D. A. Lentz	0.80	Field phone calls and voicemails from multiple creditors (.4); miscellaneous case administration work (.4)
12/27/16	D. A. Lentz	0.30	Field phone calls and voice mails from creditors regarding status of case (.1); update motion and hearing log (.2)
12/27/16	B. T. Peterson	1.10	Draft letter to counsel for creditor requesting return of stored inventory
12/29/16	B. T. Peterson TOTA	0.30 L FEES	Phone call with attorney for creditor 5.10 hrs \$1,931.50

TIMEKEEPER SUMMARY

M.J. Gearin	2.20	hrs at	\$	525.00 / hr	1,155.00
D. A. Lentz	1.50	hrs at	\$	205.00 / hr	307.50
B. T. Peterson	1.40	hrs at	\$	335.00 / hr	469.00
	TOTAL FEES		5.10 hrs		\$ 1.931.50

MATTER SUMMARY

Fees \$ 1,931.50 MATTER TOTAL \$ 1,931.50

Invoice # 3343655 2070561 Page 22 of 28

Plan and Disclosure Statement (70120)

\$2,278.00

FEES

DATE	NAME	HOURS	DESCRIPTION
12/15/16	B. T. Peterson	1.20	Draft disclosure statement for plan of reorganization
12/16/16	B. T. Peterson	0.20	Draft disclosure statement
12/20/16	B. T. Peterson	2.30	Draft disclosure statement for chapter 11 plan of reorganization
12/21/16	B. T. Peterson	2.10	Draft disclosure statement for plan of reorganization
12/28/16	B. T. Peterson	1.00	Draft disclosure statement
	TOTAL	FEES	6.80 hrs \$ <u>2,278.00</u>

TIMEKEEPER SUMMARY

B. T. Peterson	6.80 hrs at	\$ 335.00 / hr		2,278.00
	TOTAL FEES	6.80 hrs	\$ _	2,278.00

MATTER SUMMARY

Fees \$ 2,278.00 MATTER TOTAL \$ 2,278.00

Relief From Stay and Adequate Protection (70130)

\$458.50

FEES

DATE	NAME	HOURS	DESCRIPTION	
12/02/16	M.J. Gearin	0.30	Draft violation of stay letter to J. Lorio regarding collection demand	
12/02/16	D. A. Lentz	0.70	Telephone call and email from E. Robinson regarding creditor violating stay (.2); draft letter regarding violation of stay (.5)	
12/15/16	M.J. Gearin	0.30	Email to R. Mitchell regarding insurance policy documents and terms of relief from stay order	
		TOTAL FEES	1.30 hrs \$ <u>458.5</u>	
	TIMEKEEPER SUMMARY			
M.J. Gearin	1	0.60	hrs at \$ 525.00 / hr 315.00	
D. A. Lentz		0.70	hrs at \$ 205.00 / hr143.50	
		TOTAL FEES	1.30 hrs \$ <u>458.5</u>	
		WALLER	R SUMMARY	
Fees			\$ <u>458.5</u>	

MATTER TOTAL

Assumption and Rejection of Leases and Contracts (70150)

\$1,786.00

FEES

DATE	NAME	HOURS	DESCRIPTION
12/01/16	M.J. Gearin	0.30	Communications with A. Smith regarding assumption of Dayton lease
12/02/16	M.J. Gearin	0.30	Draft order of continuance on Dayton lease assumption motion; communicate to T. Bucknell for comment
12/05/16	M.J. Gearin	0.80	Communication with T. Bucknell regarding order of continuance on Dayton lease assumption motion (0.1); review and analysis of documents in connection with motion to assume Auburn lease (0.3); communications regarding continuance of Auburn motion
12/06/16	M.J. Gearin	0.30	Review and analysis of issues regarding pending motion to assume Auburn lease
12/06/16	D. A. Lentz	0.40	Prepare hearing binder regarding motion to assume or reject leases and new Green Bay lease
12/07/16	D. A. Lentz	0.10	Conference with M. Gearin regarding notice of continued hearing on motion to assume or reject leases
12/08/16	D. A. Lentz	0.60	Draft of notice of continued hearing on motion to assume or reject leases (.2); file notice of continued hearing with USBC and send for service (.4)
12/12/16	M.J. Gearin	0.90	Call with M. Heston (0.2); communications regarding lease assumption motion (0.4); review Auburn lease (0.3)
12/20/16	B. T. Peterson	0.40	Discuss lease assumption motion with M. Gearin
12/21/16	D. A. Lentz	0.30	Preparation of proof of service of notice of continued hearing (.2); file same with USBC (.1)
	TOTAL	FEES	4.40 hrs \$ <u>1,786.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	2.60	hrs at	\$	525.00 / h	r	1,365.00
D. A. Lentz	1.40	hrs at	\$	205.00 / h	r	287.00
B. T. Peterson	0.40	hrs at	\$	335.00 / h	r	134.00
	TOTAL FEES		4.4	0 hrs	\$	1,786.00

Invoice # 3343655 2070561 Page 25 of 28

MATTER SUMMARY

Fees \$ 1,786.00 MATTER TOTAL \$ 1,786.00

Invoice # 3343655 2070561 Page 26 of 28

Reporting (70210)

\$123.00

DATE	NAME	HOURS	DESCRIPTION	
12/15/16 D. A. Lentz		0.60	0.60 Review of monthly financial report from and discussion with M. Gearin re same email exchanges to and from J. Cannaregarding same (.2); file monthly financeport with USBC (.2)	
		TOTAL FEES	0.60 hrs	\$ <u>123.00</u>
		TIMEKEEP	ER SUMMARY	
D. A. Lentz		0.60 TOTAL FEES	hrs at \$ 205.00 / hr 0.60 hrs	\$ 123.00 \$ 123.00
		MATTER	SUMMARY	
Fees MATTER TO	OTAL			\$ <u>123.00</u> \$ <u>123.00</u>

Invoice # 3343655 2070561 Page 27 of 28

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250) \$270.00

US Serial No.: 87216866

DATE 12/19/16	NAME P. K. Jacobson TOTA	0.60 Te Tr dis Tr	ademark Of sclaimer; rev	essage and conf fice regarding re view and analyze fice regarding te	equest fo e letter fr	r
		TIMEKEEPER	SUMMARY			
P. K. Jacob		0.60 hrs L FEES	•	450.00 / hr hrs	\$	270.00 270.00
		MATTER SU	MMARY			
Fees MATTER T	OTAL				\$	270.00 270.00

Costs (99999) \$3,836.62

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
12/06/16	Travel Expenses - Evans, Denise - Ground Transportation - 2016- 11-29 - Overtime Taxi ride home	34.45
12/06/16	Business Meal - Gearin, Michael - Business Meal (attendees) - 2016-11-04 - Ravenna's Varsity Restaurant - Breakfast w Trustee and former NWTM exec	46.16
12/06/16	Local Courier - Nov 2016 Courier Services - Halo Messenger Services, LLC - 12012016 - 11/29 #2 USBC - 3 Hearing Binders	21.00
12/10/16	Postage	33.35
12/12/16	Postage	54.08
12/12/16	Postage	82.71
12/20/16	Westlaw - DCN - 12/01/2016 - 12/20/2016	3,479.67
12/27/16	Copying Expense	29.20
12/27/16	Travel Expenses - Gearin, Michael - Parking - 2016-12-16 - 12 16 hearing parking	12.00
12/27/16	Travel Expenses - Gearin, Michael - Ground Transportation - 2016- 12-09 - Taxi court/office	14.00
12/27/16	Travel Expenses - Neu, David - Parking - 2016-12-09 - 12 9 16 Hearing Parking	15.00
12/27/16	Travel Expenses - Neu, David - Parking - 2016-12-01 - 12 1 Hearing Parking	15.00
	DISBURSEMENTS & OTHER CHARGES \$ _	3,836.62

MATTER SUMMARY

Disbursements and Other Charges	\$ 3,836.62
MATTER TOTAL	\$ 3,836.62

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial Invoice Date : January 27, 2017

Mint LLC Invoice Number : 3343741

c/o Cascade Capital Group LLC Services Through : December 31, 2016

1420 5th Avenue, Suite 3382 Our File Number : 2070561

Seattle, WA 98101

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 3,334.00 Disbursements and Other Charges \$ 863.43

Total Amount Due This Matter \$ 4,197.43

CURRENT INVOICE DUE - All Matters \$ 4,197.43

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Litigation -- e-DAT Fees (77100)

\$4,197.43

DATE	NAME	HOURS	DESCRIPTION
12/01/16	M. H. Hoefer	0.40	Organize new client hard copy collection materials for processing by Altep (0.3); confer with R. Tausend regarding technical and procedural questions relating to same (0.1)
12/01/16	L.E. Steidl	0.30	Confer with R. Tausend regarding handling of newly-received hard copy collection materials (credit card / bank statements), and coordinate with litigation support and vendor regarding organization and imaging of same
12/01/16	R. M. Tausend	0.30	Communications with L. Steidl and M. Hoefer to address questions and decision points relating to handling of newly received hard copy documents, including re Erdmann matter (AmEx statements), per D. Neu request
12/02/16	L.E. Steidl	0.20	Address handling of select hard copy collection materials, and coordinate with A. Trunkett regarding additional collections of NWTM financial data sought by A. Orth
12/02/16	R. M. Tausend	0.50	Strategize with D. Evans regarding AmEx statement project needs arising out of December 1 hearing relating to D. Erdmann and potential methods for efficient analysis through Ringtail review database tools (0.2); email to L. Steidl and M. Hoefer requesting updated information regarding Altep document imaging and outlining AmEx project parameters and preliminary proposed workflow for implementation (0.3)
12/05/16	M. H. Hoefer	0.40	Receive imaged hard copy deliverables from Altep, track and triage for loading into Ringtail database
12/05/16	L.E. Steidl	1.10	Address handling of select hard copy collection materials, including communications with vendor regarding same and conferring with D. Evans and e-DAT technical support team to implement strategy and templates for organization and review of credit card statements to identify non-business purchases

DATE	NAME	HOURS	DESCRIPTION
12/07/16	L.E. Steidl	0.90	Implement review strategy and templates for review of credit card statements to identify non-business purchases per D. Neu request, conferring with D. Evans regarding same (0.6); provide information and working copies of documents in response to J. Gilmore requests relating to D. Erdmann credit card statement analysis (0.3)
12/07/16	R. M. Tausend	0.30	Update from M. Gearin regarding omnibus hearing results relevant to NWTM's and Medallic's discovery obligations and privilege issues (0.1); advise D. Evans regarding Ringtail database features and options to facilitate data analysis and exchange emails with L. Steidl regarding same (0.2)
12/08/16	L.E. Steidl	0.60	Confer with A. Trunkett and R. Tausend regarding outstanding issues with completion of collection of NWTM financials (0.3); analyze newly collected financials and compare against existing collections and production material to identify areas requiring additional collection (0.3)
12/08/16	R. M. Tausend	0.40	Emails from A. Trunkett providing updated information and identifying potential new follow up items relating to collection and status NWTM financials (0.2); call from L. Steidl regarding next steps with respect to financials and other Medallic and NWTM documents potentially relevant to issues in dispute (0.2)
12/15/16	L.E. Steidl	0.10	Confer with D. Evans regarding strategy for locating documents coded with key information, and address handling and organization of targeted collection files from A. Trunkett
12/19/16	R. M. Tausend	0.60	Review emails from M. Calvert regarding R. Hansen-J. Koren communications identified by S. Barnard and assess status and potential follow up relative to R. Hansen email collection provided by E. Chacon
12/20/16	R. M. Tausend	0.40	Review emails from M. Calvert regarding R. Hansen email targeted search results, analyze attached emails and provide information and recommendations to M. Gearin regarding same

Invoice # 3343741 2070561 Page 4 of 4

DATE	NAME	HOURS	DESC	RIPT	ION		
12/26/16	R. M. Tausend		Review, edit and supplement draft letter responding to A. Orth with respect to Medallic discovery, and review and attached prior communications with A. Orth in support of same (0.9); communications with B. Peterson regarding Medallic discovery requests, responses and objections (0.3)				
		TOTAL FEES		7.7	70 hrs	\$_	3,334.00
		TIMEKEEP	ER SUM	ИМАR	<u>RY</u>		
M. H. Hoef	fer	0.80	hrs at	\$	90.00 / hr		72.00
L.E. Steidl		3.20	hrs at	\$	395.00 / hr		1,264.00
R. M. Taus	send	3.70	hrs at	\$	540.00 / hr		1,998.00
TOTAL FEES		TOTAL FEES		7.7	70 hrs	\$_	3,334.00
	<u>D</u>	<u>ISBURSEMENTS</u>	& OTH	IER C	HARGES		
DATE	DESCRIPTION	I					AMOUNT
12/19/16		s/Scanning - Profe n, LLC - 12062016	ssional	Docui	ment Services -	•	817.75
12/31/16	Ringtail Fees: I \$15.00/GB: \$4	December 2016 Da 5.68	ata Stor	age F	ees: 3.05 GB @		45.68
	Ī	DISBURSEMENTS	TO & 6	HER C	CHARGES	\$_	863.43
		MATTER	SUMM	IARY			
Fees						\$	3,334.00
Disbursements and Other Charges			\$_	863.43			
MATTER 7	IOIAL					\$ _	<u>4,197.43</u>

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428000

Services Through : January 31, 2017

Our File Number : 2070561

INVOICE	SUMMARY	BY MATTER
	SUIVIIVIAN I	DIMAIIEN

Fees	\$ <u>173.00</u>	
Total Amount Due This Matter		\$ 173.00

Business Operations (70030)

Fees	\$ 250.50	
Total Amount Due This Matter		\$ 250.50

Case Administration (70040)

rees	\$ <u> 1,600.00</u>	
Total Amount Due This Matter		\$ 1,600.00

Claims, Administration and Objections (70050)

Fees	\$ <u>1,238.00</u>	
Total Amount Due This Matter		\$ 1.238.00

Employee Benefits/Pensions (70060)

Fees	\$ 583.00	
Total Amount Due This Matter		\$ 583.00

500663700 v2

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3428000 2070561 Page 2 of 30

		Page 2 of 30
Fee/Employment Applications (70070)		
Fees Total Amount Due This Matter	\$ 9,386.00	\$ 9,386.00
Litigation (70100)		
Fees Total Amount Due This Matter	\$ <u>1,815.00</u>	\$ 1,815.00
Trustee v Medallic Art Co LLC (70101)		
Fees Total Amount Due This Matter	\$ 28,161.00	\$ 28,161.00
Trustee v Diane Erdmann (70102)		
Fees Total Amount Due This Matter	\$ 20,957.00	\$ 20,957.00
EEOC v NW Territorial Mint, LLC, USDC Ca	se (70104)	
Fees Total Amount Due This Matter	\$ <u>658.00</u>	\$ 658.00
American Express Fraudulent Transfer Act	tion (70107)	
Fees Total Amount Due This Matter	\$ <u>14,088.00</u>	\$ 14,088.00
Meetings and Communications with Credit	ors (70110)	
Fees Total Amount Due This Matter	\$ 3,426.00	\$ 3,426.00
Plan and Disclosure Statement (70120)		
Fees Total Amount Due This Matter	\$ <u>884.00</u>	\$ 884.00

Invoice # 3428000 2070561 Page 3 of 30

Tax (70°	140)
-------	-----	------

Fees Total Amount Due This Matter	\$	2,140.00	\$ 2,140.00
Assumption and Rejection of Leases and Cor	ntracts	s (70150)	
Fees Total Amount Due This Matter	\$	8,675.00	\$ 8,675.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$	655.00	\$ 655.00
US-TMK: MACO - CL. 14 - 28718361 (70240)			
Fees Total Amount Due This Matter	\$	97.50	\$ 97.50
US-TMK: MEDALLIC ART COMPANY - CL. 14 (70250)	- 8721	16866	
Fees Total Amount Due This Matter	\$	97.50	\$ 97.50
Costs (99999)			
Disbursements and Other Charges Total Amount Due This Matter	\$	7,843.06	\$ 7,843.06
CURRENT INVOICE DUE - All Matters			\$ 102,727.56

Invoice # 3428000 2070561 Page 4 of 30

Asset Disposition (70020)

\$173.00

FEES

DATE	NAME	HOURS	DESCRIPTION
01/03/17	D. A. Lentz	0.20	Work with B. Peterson to finalize letter to
			Frishman regarding client's storage
01/10/17	B. T. Peterson	0.20	Review correspondence regarding release
			agreement for storage customer
01/24/17	D. A. Lentz	0.30	Emails from E. Robinson requesting various
			claims for creditors regarding inventory return
			(.1); review of court records and respond to E.
			Robinson as appropriate (.2)
	TOTAL	_ FEES	0.70 hrs \$ <u>173.0</u>

TIMEKEEPER SUMMARY

D. A. Lentz	0.50	hrs at \$	210.00	/ hr	105.00
B. T. Peterson	0.20	hrs at \$	340.00	/ hr	68.00
	TOTAL FEES		0.70 hrs	\$	173.00

MATTER SUMMARY

Fees \$ \(\frac{173.00}{\text{MATTER TOTAL}} \)

Invoice # 3428000 2070561 Page 5 of 30

Business Operations (70030)

\$250.50

DATE	NAME	HOURS	DESC	RIPTIO	ON		
01/23/17 J. Scheuermann		0.30	E-mails to and from M. Gearin regarding requests for policies (.1); review prior memorandum to client regarding same (.2)				
	TOTAL	_ FEES			0 hrs	\$	250.50
TIMEKEEPER SUMMARY							
J. Scheuermann			hrs at	\$	835.00 / hr	, 	250.50
	TOTAL	_ FEES 		0.30	0 hrs 	\$ <u></u>	250.50
MATTER SUMMARY							
Fees						\$	250.50
MATTER T	OTAL					\$	<u> 250.50</u>

Invoice # 3428000 2070561 Page 6 of 30

Case Administration (70040)

\$1,600.00

FEES

DATE	NAME	НС	OURS	DESC	RIPTI	ON			
01/03/17	M.J. Gearin	().50	Communications with Trustee regarding coordination of multiple case issues					•
01/12/17	M.J. Gearin	(0.60	Call and email communications with Trustee regarding coordination multiple case initiative:				Trustee	
01/17/17	M.J. Gearin	().70	Calls with Trustee regarding Atalla employment, employment of auctioneer for excess equipment and other case issues				neer for	
01/30/17	M.J. Gearin	1	1.10	Calls with Trustee regarding coordination of multiple case issues including privilege waiver, requests for tax information from R. Hansen, CEO employment and Medallic issues				ege from R.	
01/31/17	D. A. Lentz	(0.30	Review of recent documents filed by J. McMeel and create a set for M. Gearin's review					
		TOTAL FEE	S		3.2	0 hrs		\$	1,600.00
TIMEKEEPER SUMMARY									
M.J. Gearin D. A. Lentz		TOTAL FEE	2.90 0.30 ES	hrs at hrs at	\$ \$ 3.2	530.00 210.00 0 hrs	-	\$	1,537.00 63.00 1,600.00

MATTER SUMMARY

Fees	\$ <u>1,600.00</u>
MATTER TOTAL	\$ <u>1,600.00</u>

Claims, Administration and Objections (70050)

\$1,238.00

1,238.00

FEES

DATE	NAME	HOURS	DESC	RIPTION		
01/04/17	B. T. Peterson	0.20			e with client landlord in T	
01/06/17	M.J. Gearin	0.60		ed claim (Pan American nmunication to R.
01/09/17	B. T. Peterson	0.20		email to M omball lar	_	arding settlement
01/11/17	D. A. Lentz	0.20	hearin settler	ng dates o ment with	n motion to a); review of court
01/11/17	B. T. Peterson	0.50	Email potent	correspor	ndence with	client regarding r approval of
01/19/17	D. A. Lentz	0.40	proof claims Robin E. Rol	of claim (.s and with son re find	1); review of drawal of cla dings (.1); se additional pr	rush search for creditor's multiple im (.1); email to E. econd email from oofs of claim and
01/23/17	B. T. Peterson	0.10	Draft 6		arding potent	ial settlement with
01/25/17	D. A. Lentz	2.00	credite	ors that file		up over 100 TM as creditor name
01/25/17	B. T. Peterson	0.10	Email settler		ndence regai	rding Tomball
	TOTA	L FEES		4.30	hrs	\$ <u>1,238.00</u>
		TIMEKEEP	ER SUN	<u>IMARY</u>		
M.J. Gearir	1	0.60	hrs at	\$ 53	30.00 / hr	318.00
D. A. Lentz		2.60	hrs at	\$ 2	10.00 / hr	546.00
B. T. Peters	son	1.10	hrs at	\$ 34	40.00 / hr	374.00

4.30 hrs

TOTAL FEES

Invoice # 3428000 2070561 Page 8 of 30

MATTER SUMMARY

Fees \$ 1,238.00 MATTER TOTAL \$ 1,238.00

Invoice # 3428000 2070561 Page 9 of 30

\$583.00

DATE 01/04/17	NAME M.J. Gearin	HOURS 1.10 TOTAL FEES	DESCRIPTION Call with Trustee and J. Bell r benefits and vacation issues 1.10 hrs	egarding \$583.00	
M.J. Gearin			ER SUMMARY hrs at \$ 530.00 / hr 1.10 hrs	583.00 \$ 583.00	
MATTER SUMMARY Fees \$ 583.00 MATTER TOTAL \$ 583.00					

Fee/Employment Applications (70070)

\$9,386.00

DATE	NAME	HOURS	DESCRIPTION
01/04/17	M.J. Gearin	1.20	Calls and email communications with Trustee and M. Northrup regarding motion to employ CEO
01/10/17	M.J. Gearin	1.50	Meet with Trustee, M. Northrup and G. Groshong regarding committee inquiries relating to CEO hiring and hearing preparation
01/10/17	M.J. Gearin	0.80	Meet with Trustee regarding analysis of compensation for CEO and preparations for presentation to committee
01/11/17	M.J. Gearin	0.30	Communications regarding committee questions regarding Atalla employment; review notice of continuance of hearing
01/11/17	D. A. Lentz	0.80	Conference with M. Gearin regarding continuation of hearing on motion to employ CEO (.1); prepare notice of continued hearing and proof of service regarding same (.4); file notice of continued hearing with USBC and send for service (.3)
01/19/17	M.J. Gearin	2.00	Meet with B. Atalla, P. Wagner and Trustee
01/20/17	M.J. Gearin	1.00	Communications with Trustee, M. Northrup and B. Atalla regarding Atalla employment issues
01/20/17	W.J. Miller	0.10	Retrieve Accurint public records report on Bill M. Atalla of Reno, Nevada (per request of D. Evans)
01/24/17	M.J. Gearin	0.40	Initial review of committee comments to Atalla employment agreement
01/25/17	M.J. Gearin	0.90	Review proposed revisions to Atalla compensation proposal from M. Northrup and discuss with Trustee; prepare outline of proposed terms of modification
01/26/17	M.J. Gearin	2.50	Emails to M. Northrup regarding proposed modifications to Atalla employment agreement (1.0); call with Trustee and M. Northrup regarding committee issues relating to Atalla employment (1.5)
01/27/17	M.J. Gearin	0.60	Communications with M. Northrup and Trustee regarding Attala employment agreement
01/30/17	D. A. Lentz	0.20	Review of response to motion to approve employment of CEO (.1); conference with M. Gearin regarding same (.1)
01/30/17 500663700 v2	B. T. Peterson	4.60	Draft employment agreement for CEO

Invoice # 3428000 2070561 Page 11 of 30

DATE	NAME	HOURS	DESCRIPTION	
01/30/17	C. C. Smith	0.30	Analysis and communications with B. Peterson regarding employment agreement	
01/31/17	M.J. Gearin	1.40	Multiple calls with M. Northrup regarding Atalla employment issues as raised by committee	
01/31/17	M.J. Gearin	1.10	Draft revisions to Atalla employment agreement	
01/31/17	D. A. Lentz	1.00	Draft of reply to motion to employ CEO (.7); file reply with USBC and send for service (.3)	
		TOTAL FEES	20.70 hrs \$ <u>9,386.00</u>	

TIMEKEEPER SUMMARY

M.J. Gearin	13.70	hrs at	\$	530.00 / hr	7,261.00
D. A. Lentz	2.00	hrs at	\$	210.00 / hr	420.00
W.J. Miller	0.10	hrs at	\$	270.00 / hr	27.00
B. T. Peterson	4.60	hrs at	\$	340.00 / hr	1,564.00
C. C. Smith	0.30	hrs at	\$	380.00 / hr	114.00
	TOTAL FEES		20.7	0 hrs	\$ 9,386.00

MATTER SUMMARY

Fees \$ 9,386.00 MATTER TOTAL \$ 9,386.00

Invoice # 3428000 2070561 Page 12 of 30

Litigation (70100)

\$1,815.00

FEES

DATE	NAME	HOURS	DESC	RIPT	ION	
01/05/17	M.J. Gearin	0.40	privile	ge wa	nunications with aiver issues; revisulation	
01/06/17	M.J. Gearin	0.30			ations with H. Lar aiver issues	n of DFI regarding
01/09/17	D. A. Lentz	0.30			M. Gearin to finali aiver agreement	ze confidentiality
01/11/17	D.C. Neu	0.90	for Co with A bank	hen a Lich staten	itenstein (.2); revi nents for paymer	w communications iew D. Erdmann it information (.5)
01/12/17	M.J. Gearin	0.30	Comn		ations regarding p	orivilege waiver
01/12/17	D. A. Lentz	0.40	waive	r for f	oulation re confide iling with court (.2 order for entry w	
01/17/17	M.J. Gearin	0.70	Resea issues		egarding § 502(d) privilege waiver
01/18/17	M.J. Gearin	0.70		ith B.	Werner regarding) privilege waiver; g discovery
		TOTAL FEES			00 hrs	\$1,815.00
		TIMEKEEP	ER SUM	/MAF	RY	
M.J. Gearin		2.40	hrs at	\$	530.00 / hr	1,272.00
D. A. Lentz			hrs at	\$	210.00 / hr	147.00
D.C. Neu		0.90	hrs at	\$	440.00 / hr	396.00
		TOTAL FEES		4.(00 hrs	\$ <u>1,815.00</u>

MATTER SUMMARY

Fees \$ 1,815.00 MATTER TOTAL \$ 1,815.00

Trustee v Medallic Art Co LLC (70101)

\$28,161.00

DATE	NAME	HOURS	DESCRIPTION
01/04/17	B. T. Peterson	0.30	Review local rule default trial deadlines
01/05/17	M.J. Gearin	1.50	Meet regarding trial preparation and discovery plan
01/05/17	B. T. Peterson	1.50	Meeting to discuss discovery and issues related to trial
01/05/17	B. T. Peterson	0.30	Draft email to opposing counsel regarding discovery obligations
01/05/17	C.M. Wyant	1.80	Draft case planning schedule, discovery task list and agenda for meeting (.3); conference with M. Gearin and B. Peterson regarding trial preparation (1.5)
01/06/17	D. A. Lentz	0.20	Meeting with M. Gearin to discuss upcoming trial preparation
01/06/17	B. T. Peterson	0.80	Draft correspondence related to discovery
01/06/17	C.M. Wyant	0.70	Work on discovery issues for substantive consolidation trial
01/09/17	B. T. Peterson	0.80	Draft witness list
01/09/17	C.M. Wyant	2.00	Draft list of additional discovery requests (1.2); work on deposition topics (.3); review email regarding Medallic's discovery responses (.5)
01/10/17	M.J. Gearin	0.50	Meet with Trustee regarding preparations for subcon trial
01/10/17	M.J. Gearin	1.00	Meet with trial prep team regarding witness identification, discovery issues and trial planning
01/10/17	D. A. Lentz	2.30	Prepare for meeting (.2); meeting with Medallic trial team (1.5); calendar trial dates and deadlines (.3); start pleading for defendant's supplemental disclosures (.3)
01/10/17	B. T. Peterson	0.10	Review document requests
01/10/17	B. T. Peterson	1.20	Draft supplemental initial disclosures
01/10/17	B. T. Peterson	2.10	Meeting regarding litigation strategy and trial preparation
01/10/17	C.M. Wyant	2.40	Continue work on discovery (1.5); draft scheduling order (.4); conference with M. Calvert and team regarding trial issues (.5)
01/11/17	B. T. Peterson	0.20	Fact investigation regarding potential witness
01/11/17	B. T. Peterson	0.40	Edit and review supplemental initial disclosures
01/12/17	B. T. Peterson	0.80	Discovery call with A. Orth
01/12/17	B. T. Peterson	1.30	Draft email summary of correspondence with opposing counsel and issues related to
500663700 v2			

DATE	NAME	HOURS	DESCRIPTION
			discovery
01/12/17	B. T. Peterson	1.20	Analyze correspondence regarding document production
01/13/17	D. A. Lentz	1.40	Telephone call with L. Steidl re exhibit production (.2); email from R. Tausend re production (.1); review of notice of trial and order setting deadlines (.1); calendar all trial dates and deadlines for Phase I (1.0)
01/13/17	B. T. Peterson	0.30	Review correspondence regarding discovery production
01/16/17	B. T. Peterson	0.80	Draft letter response regarding discovery
01/17/17	M.J. Gearin	0.90	Meet regarding trial preparation and discovery matters
01/17/17	B. T. Peterson	1.90	Draft letter to opposing counsel regarding discovery
01/18/17	B. T. Peterson	0.70	Analyze issues related to discovery
01/19/17	D. A. Lentz	0.50	Meeting with R. Tausend and L. Steidl re Medallic trial prep
01/19/17	C.M. Wyant	1.00	Review discovery requests and email regarding same (.4); review court's scheduling order (.3); review supplemental disclosure (.3)
01/20/17	M.J. Gearin	1.10	Review and analysis of discovery communications, draft supplemental disclosures and discovery propounded by Medallic
01/23/17	M.J. Gearin	1.10	Meet regarding discovery and trial preparation matters
01/23/17	D. A. Lentz	0.80	Work on trial exhibits/hot documents binder
01/23/17	B. T. Peterson	0.10	Discussion with C. Wyant and M. Gearin regarding discovery issues
01/23/17	B. T. Peterson	1.80	Draft a proof chart regarding allegations for trial
01/23/17	B. T. Peterson	0.50	Analyze issues related to trial preparation
01/24/17	D. A. Lentz	1.00	Work on binder for potential trial exhibits
01/24/17	B. T. Peterson	2.00	Draft proof chart for claims against Medallic
01/24/17	B. T. Peterson	0.40	Analysis of discovery issues
01/24/17	C.M. Wyant	2.20	Work on discovery issues (1.8); review draft proof chart (.4)
01/25/17	D. A. Lentz	3.00	Continue work on binder for potential exhibits for trial
01/26/17	M.J. Gearin	0.50	Revisions to proof chart; preparation for meeting with Trustee and trial prep team
01/26/17	D. A. Lentz	1.80	Work on potential trial exhibits binder
01/26/17	C.M. Wyant	2.80	Draft discovery objections and responses (2.0); review proof chart and prepare for meeting to discuss same (.8)
01/27/17	C.M. Wyant	3.30	Draft and revise discovery responses (2.5);

Invoice # 3428000 2070561 Page 15 of 30

\$ <u>28,161.00</u> \$ <u>**28,161.00**</u>

DATE	NAME	HOURS	DESC	CRIPTION	
				v draft proof chart (.5); review court rules ding same (.3)	
01/30/17	M.J. Gearin	1.10		with C. Wyant and B. Peterson	
			trial p	ding prep for meeting with Trustee on rep	
01/30/17	D. A. Lentz	2.70		on potential trial exhibits/hot documents r (2.5); meet with team regarding same	
			(.2)	(2.5), meet with team regarding same	
01/30/17	B. T. Peterson	1.30		ze issues related to first phase of trial neet with C. Wyant and M. Gearin re	
			same	•	
01/30/17	C.M. Wyant	3.20		nue work on discovery responses (2.1); rence regarding trial preparation and	
			strate	gy (1.1)	
01/31/17	M.J. Gearin	3.50		with Trustee and trial prep team ding trial prep project planning	
01/31/17	B. T. Peterson	3.50	Meetir	ng with client regarding trial strategy and	
01/31/17	C.M. Wyant	4.70		evelopment erence with M. Calvert and team	
0.70.7.1	omm vryam	0	regard	ding preparation for trial (3.5); continue	
	ΤΩΤΔ	L FEES	work (on discovery responses (1.2) 73.30 hrs \$28,161.00	
	1017	LILLO		75.50 mg \(\psi \frac{\psi \frac{20,101.00}{20,101.00}}{\psi \frac{1}{20,101.00}} \)	
		TIMEKEEP	ER SUN	<u>MMARY</u>	
M.J. Gearir	1	11.20	hrs at	\$ 530.00 / hr 5,936.00	
D. A. Lentz		13.70	hrs at	\$ 210.00 / hr 2,877.00	
B. T. Peters	son	24.30	hrs at	\$ 340.00 / hr 8,262.00	
C.M. Wyan			hrs at	\$ 460.00 / hr11,086.00	
	TOTA	L FEES		73.30 hrs \$\frac{28,161.00}{}	
	MATTER SUMMARY				

Fees

MATTER TOTAL

Trustee v Diane Erdmann (70102)

\$32,675.00

DATE	NAME	HOURS	DESCRIPTION
01/03/17	D.C. Neu	3.50	Draft and edit appellate brief
01/05/17	D.C. Neu	1.30	Continue to work on appeal issues
01/06/17	D.C. Neu	2.40	Review and analysis of appellate brief (2.4)
01/11/17	D.C. Neu	0.50	Review D. Erdmann bank statements for
			payment information (.5)
01/17/17	D. A. Lentz	0.50	Begin preparing appendix in support of opening appeal brief
01/17/17	D.C. Neu	2.10	Draft and edit appellate brief
01/18/17	D. A. Lentz	2.10	Work on appendix in support of opening appeal brief
01/18/17	D.C. Neu	1.20	Draft and edit appellate brief
01/19/17	D. A. Lentz	1.50	Work on appendix for opening brief (1.1); draft
			of supplemental designation of record (.4)
01/19/17	D.C. Neu	3.80	Draft and edit appellate brief
01/20/17	D. A. Lentz	1.00	Finish working on appendix and bates numbering for opening brief (.6); work on updating brief with numbering (.4)
01/20/17	D. A. Lentz	0.30	File supplemental designation of record with USBC
01/20/17	D.C. Neu	3.90	Draft and edit appeals brief
01/23/17	D. A. Lentz	1.00	Continue work on brief and related appendix numbering (.8); voicemail from clerk's office re filing of supplemental designation and re-file in USDC (.2)
01/23/17	D.C. Neu	5.20	Draft and edit appeal brief
01/24/17	D. A. Lentz	2.00	Review and edit appeal brief to add exhibit designations throughout entire document
01/24/17	D.C. Neu	1.00	Revise appeal brief
01/25/17	D.C. Neu	1.10	Research regarding appeal issues
01/26/17	D.C. Neu	3.20	Draft and edit appeal brief (3.2)
01/27/17	D. A. Lentz	0.40	Further review and updates regarding index of exhibits to appeal brief
01/27/17	D.C. Neu	5.50	Research related to appeal brief (2.1); draft and edit same (3.4)
01/30/17	D. A. Lentz	0.90	Cite check appeal brief for D. Neu
01/30/17	D.C. Neu	3.60	Revise arguments in appeal brief
01/31/17	D.C. Neu	4.70	Draft argument summaries in appellate brief; citecheck and edit same
		TOTAL FEES	52.70 hrs \$ <u>20,957.00</u>

Invoice # 3428000 2070561 Page 17 of 30

TIMEKEEPER SUMMARY

D. A. Lentz 9.70 hrs at \$ 210.00 / hr 2,037.00 D.C. Neu 43.00 hrs at \$ 440.00 / hr 18,920.00 TOTAL FEES 52.70 hrs \$ 20,957.00

MATTER SUMMARY

Fees \$ 20,957.00 MATTER TOTAL \$ 20,957.00

Invoice # 3428000 2070561 Page 18 of 30

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$658.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
01/04/17	D. A. Lentz	0.20	Review of order approving EEOC settlement and forward to M. Calvert (.1); telephone call with Judge's chambers regarding striking of hearing scheduled (.1)		
01/09/17	D.C. Neu	0.60	Work on appellate brief		
01/12/17	D.C. Neu	0.30	Communicate with B. Stone regarding EEOC consent decree		
01/20/17	D.C. Neu	0.20	Communicate with B. Stone regarding EEOC consent decree		
01/24/17	D.C. Neu	0.30	Communicate with EEOC regarding consent decree		
		TOTAL FEES	1.60 hrs \$ <u>658.00</u>		
TIMEKEEPER SLIMMARY					

TIMEKEEPER SUMMARY

D. A. Lentz	0.20	hrs at	\$	210.00 /	hr	42.00
D.C. Neu	1.40	hrs at	\$	440.00 /	hr	616.00
	TOTAL FEES		1.6	0 hrs	\$	658.00

MATTER SUMMARY

Fees	\$ 658.00
MATTER TOTAL	\$ 658.00

American Express Fraudulent Transfer Action (70107)

\$2,370.00

DATE 01/03/17	NAME D. A. Lentz	HOURS 0.20	DESCRIPTION Review of letter from chambers (.1); dates and deadlines calendared regarding pretrial conference and answer to second amended
01/06/17 01/09/17	D.C. Neu D. A. Lentz	0.50 0.20	summons (.1) Review motion to dismiss (.5); Review of motion to dismiss case (.1);
01/09/17	D.C. Neu	6.60	calendar hearing dates and deadlines (.1) Analysis of motion to dismiss (.4); research related to same (1.5); draft and edit response (3.9); call with client regarding issues related to same (.3); communicate with M. Gearin regarding same (.5)
01/10/17	D.C. Neu	5.30	Continue to draft and edit response to motion to dismiss
01/10/17	B. T. Peterson	0.30	Review response to Defendant's second motion to dismiss complaint
01/17/17	D.C. Neu	1.10	Call with M. Calvert regarding response to motion to dismiss (.3); research regarding good faith standard (.8)
01/18/17	M.J. Gearin	1.00	Review and prepare comments to response to motion to dismiss
01/18/17	D.C. Neu	2.60	Edit response to motion to dismiss
01/18/17	B. T. Peterson	1.70	Review and edit response to motion to dismiss
01/19/17	M.J. Gearin	0.50	Review and draft comments to response to motion to dismiss
01/19/17	D. A. Lentz	0.10	Preparation for D. Neu for attendance at pretrial conference (.1)
01/20/17	D.C. Neu	0.50	Attend Pre-trial conference
01/24/17	D.C. Neu	5.10	Revise response to motion to dismiss
01/25/17	D.C. Neu	1.80	Edit response to motion to dismiss
01/26/17	M.J. Gearin	1.20	Draft edits to response to Erdmann motion dismiss
01/26/17	D. A. Lentz	0.40	Finalize response to motion to dismiss for filing (.2); file response with USBC (.2)
01/26/17	D.C. Neu	2.00	Finalize response to motion to dismiss (2)
01/27/17	D. A. Lentz	0.30	Telephone call with Judge's chambers regarding working copies and hearing binder regarding motion to dismiss
01/31/17	D. A. Lentz	0.10	Review of reply to motion to dismiss and update hearing binder regarding same
500662700 v2			

Invoice # 3428000 2070561 Page 20 of 30

DATE	NAME	HOURS	HOURS DESCRIPTION				
01/31/17	D.C. Neu	1.10		Review and analyze reply reg dismiss			g motion to
		TOTAL FEES		32.6	0 hrs	\$_	14,088.00
		TIMEKEEP	ER SUN	/MAR	<u>Y</u>		
M.J. Gearin		2.70	hrs at	\$	530.00 / hr		1,431.00
D. A. Lentz		1.30	hrs at	\$	210.00 / hr		273.00
D.C. Neu		26.60	hrs at	\$	440.00 / hr		11,704.00
B. T. Peters	on	2.00	hrs at	\$	340.00 / hr		680.00
		TOTAL FEES		32.6	0 hrs	\$_	14,088.00
		MATTER	RSUMM	<u>ARY</u>			
Fees						\$	14,088.00
MATTER TO	OTAL					\$_	14,088.00

Meetings and Communications with Creditors (70110)

\$3,426.00

FEES

DATE	NAME	HOURS	DESCRIPTION
01/03/17	B. T. Peterson	0.20	Finalize letter to counsel for creditor
01/04/17	D. A. Lentz	0.10	Phone call from creditor regarding status of case
01/05/17	D. A. Lentz	0.20	Field phone call from creditor regarding status of case
01/06/17	D. A. Lentz	0.90	Field numerous phone calls and voicemails from creditors regarding status of case and address changes (.5); prepare package to J. Fritz and cover letter regarding his claim (.4)
01/11/17	D. A. Lentz	0.40	Field phone calls and voice mails from creditors regarding status of case
01/18/17	M.J. Gearin	0.90	Call with Trustee; prepare for meeting with committee and counsel regarding Atalla issues
01/18/17	D. A. Lentz	0.40	Field multiple phone calls and voice mails from creditors regarding status of case
01/19/17	M.J. Gearin	2.10	Meet with Committee and Trustee regarding Atalla employment and plan issues
01/20/17	M.J. Gearin	0.50	Review of correspondence regarding creditor inquiries from Hauptman, Lindsey and Markley
01/20/17	D. A. Lentz	0.30	Field phone calls and voice mails from creditors regarding status of case
01/20/17	B. T. Peterson	0.20	Email correspondence regarding request from storage creditor
01/23/17	D. A. Lentz	0.60	Field phone calls, emails and voice mails from creditors regarding status of case
01/24/17	M.J. Gearin	0.70	Call with M. Northrup and G. Groshong regarding multiple case issues
01/26/17	D. A. Lentz	0.40	Field numerous phone calls and voicemails from creditors regarding status of the case
01/30/17	M.J. Gearin	0.30	Call with creditor J. Zimmerman
01/30/17	M.J. Gearin	0.40	Call with B. Kriegman regarding creditor concerns
	TOTA	L FEES	8.60 hrs \$ 3,426.00

TOTAL FEES

8.60 hrs

\$ 3,426.00

Invoice # 3428000 2070561 Page 22 of 30

TIMEKEEPER SUMMARY

M.J. Gearin	4.90	hrs at	\$	530.00 / hr		2,597.00
D. A. Lentz	3.30	hrs at	\$	210.00 / hr		693.00
B. T. Peterson	0.40	hrs at	\$	340.00 / hr		136.00
	TOTAL FEES		8.60 hrs			3.426.00

.....

MATTER SUMMARY

Fees \$ 3,426.00 MATTER TOTAL \$ 3,426.00

Invoice # 3428000 2070561 Page 23 of 30

Plan and Disclosure Statement (70120)

\$884.00

FEES

DATE	NAME	HOURS	DESCRIPTION
01/04/17	B. T. Peterson	1.50	Draft disclosure statement for plan of reorganization
01/05/17	B. T. Peterson	0.90	Draft disclosure statement for plan of reorganization
01/20/17	B. T. Peterson	0.20	Discussion with M. Gearin regarding disclosure statement and plan
	TOTAL	. FEES	2.60 hrs \$ <u>884.00</u>

TIMEKEEPER SUMMARY

B. T. Peterson	2.60	hrs at	\$	340.00 /	hr	884.00
	TOTAL FEES		2.60) hrs	\$_	884.00

MATTER SUMMARY

Fees	Þ	<u>884.00</u>
MATTER TOTAL	\$	884.00

Invoice # 3428000 2070561 Page 24 of 30

Tax (70140) \$2,140.00

FEES

DATE	NAME	HOURS	DESCRIPTION
01/26/17	J. D. Almquist	0.40	Telephone conference and e-mails with M. Gearin regarding tax questions
01/26/17	M.J. Gearin	0.90	Additional research on tax reporting and NOL preservation issues
01/26/17	M.J. Gearin	0.40	Email exchange with R. Powers regarding Hansen tax issues and requests for financial analyses
01/27/17	J. D. Almquist	0.80	Respond to client questions about tax treatment of a partnership in bankruptcy
01/30/17	M.J. Gearin	0.70	Analysis of tax plan and reporting issues and communications with Trustee regarding same
	ТОТ	AL FEES	3.20 hrs \$ <u>2,140.00</u>

TIMEKEEPER SUMMARY

	TOTAL FEES		3.2	0 hrs	\$	2,140.00
M.J. Gearin	2.00	hrs at	\$	530.00 / hi	•	1,060.00
J. D. Almquist	1.20	hrs at	\$	900.00 / h	•	1,080.00

MATTER SUMMARY

Fees \$ 2,140.00 MATTER TOTAL \$ 2,140.00

Assumption and Rejection of Leases and Contracts (70150)

\$8,675.00

DATE	NAME	HOURS	DESCRIPTION
01/04/17	M.J. Gearin	0.30	Call with Trustee regarding Auburn lease status
01/06/17	D. A. Lentz	0.30	Emails to and from J. Cannady regarding documents from Hoff litigation
01/09/17	B. T. Peterson	4.40	Draft lease agreement for Green Bay premises
01/10/17	B. T. Peterson	1.60	Draft and finalize real property lease agreement for Green Bay facility
01/13/17	M.J. Gearin	0.30	Communications regarding Auburn lease motion withdrawal (.1); revisions to notice of withdrawal (.2)
01/13/17	D. A. Lentz	1.80	Emails from M. Gearin regarding withdrawal of Auburn lease motion (.1); draft of motion to withdrawal Auburn lease motion (.5); confirm hearing on motion with USBC (.1); hearing binder for Judge (.2); prepare service list for notice of withdrawal (.2); prepare proof of service (.2); finalize notice for filing and file with USBC and send for service (.4); file proof of service with USBC (.1)
01/13/17	B. T. Peterson	0.30	Revise notice of hearing regarding lease assumption and rejection motion
01/17/17	M.J. Gearin	0.80	Call with J. Zack regarding Auburn lease motion (.3); revisions to reply regarding Auburn lease; call with Trustee regarding Auburn lease (.5)
01/17/17	D. A. Lentz	0.80	Email with M. Gearin regarding hearing on motion to assume or reject leases (.1); draft of declaration of no objections (.3); meeting with M. Gearin regarding reply to motion and attendance at hearing (.1); update hearing binder (.1); finalize and file reply with USBC (.2)
01/17/17	B. T. Peterson	2.00	Research related to motion to assume and reject real property leases
01/17/17	B. T. Peterson	0.40	Draft and edit reply in support of motion to assume and reject leases
01/18/17	M.J. Gearin	0.60	Prepare for hearing on Auburn lease rejection
01/19/17	M.J. Gearin	2.30	Research regarding § 365(a) requirement for court approval; review of caselaw under BR 7041 (1.0); prepare for hearing on motion to reject Auburn lease (1.3)
01/19/17 500663700 v2	B. T. Peterson	2.00	Research related to motion to assume and

Invoice # 3428000 2070561 Page 26 of 30

> 8,675.00 **8,675.00**

DATE	NAME	HOURS	DESC	CRIPTION				
			•	ct leases				
01/20/17	M.J. Gearin	2.00	Spring	Prepare for and attend hearing on Green Bay, Springfield and Auburn leases (1.5); draft revised order and communicate to J. Zack				
01/20/17	D. A. Lentz	0.80	Conference with M. Gearin regarding outcome of hearing (.1); draft of order on motion to assume and reject lease based on ruling on motion (.6); revisions to order (.1)					
01/23/17	M.J. Gearin	0.30	Email	ail exchange with J. Zack regarding lease ction order				
01/24/17	M.J. Gearin	0.30	Comn	nmunications with J. Zack regarding urn lease order				
01/26/17	M.J. Gearin	0.40		s with Trustee and J. Zack regarding urn lease termination issues				
01/27/17	M.J. Gearin	0.50	rejecti	iew notice of presentation of Auburn ction order (.3); communications with J. cregarding same (.2)				
01/27/17	D. A. Lentz	0.60	Email from M. Gearin regarding notice of presentation of order and review local rule regarding same (.1); draft of notice of presentation of order (.3); file notice of presentation of order with USBC (.2)					
		TOTAL FEES	p. 000	22.80 hrs \$ <u>8,675.0</u>				
		TIMEKEEP	ER SUM	JMMARY				
M.J. Gearir	•	7.80	hrs at	t \$ 530.00 / hr 4,134.0				
D. A. Lentz			hrs at	•				
B. T. Peter:			hrs at	•				
		TOTAL FEES	22.80 hrs \$\frac{0.65}{8.67}\$					
MATTER SUMMARY								

Fees

MATTER TOTAL

Invoice # 3428000 2070561 Page 27 of 30

Reporting (70210)

\$655.00

FEES

DATE	NAME	HOURS	DESC	DESCRIPTION				
01/30/17	M.J. Gearin	0.50		Review and provide comment on monthly report				
01/30/17	D. A. Lentz	0.20		•	th M. Gearin regaremail to client re	•	onthly	
01/31/17	M.J. Gearin	0.30	Revisi	ions to	o MORs			
01/31/17	D. A. Lentz	0.90	Revise exhibit to monthly financial report per M. Gearin's changes (.2); email exchanges with J. Cannady regarding report (.3); finalize report for filing and file with USBC (.3); email to J. Cannady regarding bank statements to attach (.1)				nanges); finalize 3); email	
		TOTAL FEES TIMEKEEP	ER SUN		90 hrs	\$ <u></u>	655.00	
M.J. Gearir	1	0.80	hrs at	\$	530.00 / hr		424.00	
D. A. Lentz		1.10	hrs at	\$	210.00 / hr		231.00	

M.J. Gearin	0.80 hrs a	ıt \$	530.00 / h	ır	424.00
D. A. Lentz	1.10 hrs a	ıt \$	210.00 / h	ır	231.00
	TOTAL FEES	1.9	90 hrs	\$	655.00

MATTER SUMMARY

Fees	\$ <u>655.00</u>
MATTER TOTAL	\$ <u>655.00</u>

Invoice # 3428000 2070561 Page 28 of 30

US-TMK: MACO - CL. 14 - 28718361 (70240) \$97.50

US Serial No.: 87218361

FEES

 DATE
 NAME
 HOURS

 01/13/17
 R. W. Edmondson
 0.30
 HOURS DESCRIPTION

Prepare MACO Office Action reporting letter TOTAL FEES \$ 97.50 0.30 hrs

TIMEKEEPER SUMMARY

0.30 hrs at \$ 325.00 / hr S 0.30 hrs R. W. Edmondson 97.50

TOTAL FEES \$ 97.50

MATTER SUMMARY

Fees

MATTER TOTAL

Invoice # 3428000 2070561 Page 29 of 30

US-TMK: MEDALLIC ART COMPANY -	- CL. 14 - 87216866 (70250)	\$97.50
---------------------------------------	-----------------------------	---------

US Serial No.: 87216866

FEES

		<u></u>	<u>LLO</u>		
DATE 01/13/17	NAME R. W. Edmondso	hours on 0.30 OTAL FEES	DESCRIPTION Prepare MEDALLIC ART COMPANY Examiner's Amendment reporting letter 0.30 hrs \$	07 F0	
	10		ER SUMMARY	<u>97.50</u>	
R. W. Edmondson TOTAI		0.30 DTAL FEES	·	97.50 97.50	
MATTER SUMMARY					

Fees

MATTER TOTAL

Invoice # 3428000 2070561 Page 30 of 30

Costs (99999) \$7,843.06

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
12/28/16	USDC WA - request for audio CD	30.00
12/28/16	Ahearn & Associates - Hearing Transcript 12/1/16	233.75
12/28/16	Ahearn & Associates - Hearing Transcript 12/1/16	70.25
12/28/16	Ahearn & Associates - Hearing Transcript 7/8/16	150.00
12/28/16	Ahearn & Associates - Hearing Transcript 11/30/1	153.75
12/28/16	Ahearn & Associates - Hearing Transcript 11/18/1	220.75
01/03/17	Postage	34.25
01/03/17	Copying Expense	0.40
01/11/17	Copying Expense	29.20
01/13/17	Copying Expense	30.80
01/17/17	Westlaw - DCN - 01/09/2017 - 01/17/2017	1,512.10
01/19/17	Westlaw - BTP - 01/17/2017 - 01/19/2017	266.48
01/20/17	Postage	34.70
01/20/17	Postage	35.15
01/24/17	Travel Expenses - Gearin, Michael - Ground Transportation - 2017- 01-10 - Taxi to meeting at courthouse	4.70
01/30/17	Westlaw - DCN - 01/18/2017 - 01/30/2017	4,788.69
01/30/17	Westlaw - DCN - 01/30/2017 - 01/30/2017	248.09
	DISBURSEMENTS & OTHER CHARGES \$_	7,843.06

MATTER SUMMARY

Disbursements and Other Charges	\$_	7,843.06
MATTER TOTAL	\$_	7,843.06

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial Invo

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 11, 2017

Invoice Number : 3427386

Services Through : January 31, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 9,401.00 Disbursements and Other Charges \$ 45.68

Total Amount Due This Matter \$ 9,446.68

CURRENT INVOICE DUE - All Matters \$ 9.446.68

Litigation -- e-DAT Fees (77100)

\$9,446.68

DATE	NAME	HOURS	DESCRIPTION
01/10/17	R. M. Tausend	1.50	Strategy meeting with M. Calvert and trial team regarding trial prep action plan with respect to witnesses and documents (0.6); strategize with C. Wyatt, B. Peterson and D. Evans and provide information and recommendations relating to electronic and hard copy documents and document collection custodian interviews in support of trial prep (0.9)
01/12/17	L.E. Steidl	0.40	Compile summary production information for use by litigation team to identify areas for additional productions and to develop case trial prep strategy
01/12/17	R. M. Tausend	2.50	Meet with B. Peterson re A. Orth latter and meet and confer (0.3); review A. Orth requests and relevant preceding correspondence, and analyze database and document productions in response to same (1.0); outline responses; Hot docs (1.2)
01/13/17	L.E. Steidl	1.60	Compile summary production information for use by litigation team to identify areas for additional productions and to develop case trial prep strategy, and discuss outstanding litigation support needs and strategies related to same with D. Evans
01/13/17	R. M. Tausend	3.90	Outline potential follow up questions and requests regarding R. Hansen and D. Bressler email accounts and document productions (0.2); emails with B. Peterson to strategize regarding same (0.1); analyze A. Trunkett interview notes and document collections and E. Chacon fileshare collection logs relative to A. Orth request and trial themes and summarize status and next steps relating to same (2.9); communications with L. Steidl and D. Evans outlining hot documents collection parameters, contents and status and responding to D. Evans questions relating to same (0.7)

DATE	NAME	HOURS	DESCRIPTION
01/13/17	R. M. Tausend	0.30	Review Court order and finding regarding selective privilege waiver and summarize pertinent portions of rule and advisory committee notes and related analysis in response to M. Gearin question
01/18/17	L.E. Steidl	0.20	Communicate with A. Trunkett regarding status of her identification / collection of financial and banking records to address open questions
01/18/17	R. M. Tausend	0.70	Analyze new Medallic RFPs and Interrogatories relative to already produced documents, prior informal requests and meet and confer communications, and bifurcation order (0.4); email trial team with preliminary high level comments regarding same (0.1); review email from L. Steidl to A. Trunkett relating to NWTM financials and MAC bank statements and provide comments and questions in response to same for purposes of responding to A. Orth letter and countering allegation re City National bank statements production (0.2)
01/19/17	L.E. Steidl	1.00	Meet with R. Tausend and D. Evans to discuss strategy, timeline, and details relating to identifying and tracking key files for production and inclusion in trial team's trial preparation binders (0.5); audit collections and review production files to locate files related to key issues identified by trial team (0.5)
01/19/17	R. M. Tausend	3.20	Strategize with D. Evans and L. Steidl regarding preparation of "hot" documents binders for trial prep, including scope of documents to include, organization of documents, workflow and other procedural decisions to maximize efficiencies (0.6); update and refine outline of entity-relationship trial themes and substantive issues, develop proposed strategy and plan for Ringtail database processes and analyze targeted subset of issue-tagged documents in support of same (1.9); synthesize meeting notes to summarize list of specific documents to search for within database and email L. Steidl to implement same (0.7);
01/20/17	L.E. Steidl	1.40	Review files in case database to pinpoint preliminary set of files for inclusion trial team's trial preparation binders, and provide detailed instruction to technical and litigation support team regarding export and organization of

Invoice # 3427386 2070561 Page 4 of 4

DATE	NAME	HOURS	DESC	RIPT	ION		
		- HOUNG	files into requested reference binder for D. Evans				
01/22/17	T. S. Milne	2.00	Analyze, organize and edit Trial-Prep-PRELIN Potential-Hot binder for exporting to pdf for printing and review				
01/30/17	R. M. Tausend	0.80	Analyze D. Evans requests and questions relating to F. Mendoza files and other third-party productions, develop strategy and plan for addressing same and provide information in support of supplementing Hot Docs compilation				
	ТОТА	L FEES	r		50 hrs	\$_	9,401.00
		TIMEKEEP	ER SUM	MAF	<u>RY</u>		
T. S. Milne L.E. Steidl R. M. Tause		2.00 4.60 12.90	hrs at hrs at hrs at	\$ \$ \$	180.00 / hr 395.00 / hr 560.00 / hr	ф	360.00 1,817.00 7,224.00
	IOIA	L FEES		19.	50 hrs	\$ <u></u>	9,401.00
	DIODII	DOESSENITO	OOTII		LIADOEO		

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
01/31/17	Ringtail Fees: January 2017 Data Storage Fees: 3.05 GB @ \$15.00/GB: \$45.68	45.68
	DISBURSEMENTS & OTHER CHARGES	\$ 45.68

MATTER SUMMARY

Fees	\$ 9,401.00
Disbursements and Other Charges	\$ 45.68
MATTER TOTAL	\$ 9,446.68

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428004

Services Through : February 28, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)				
Fees Total Amount Due This Matter	\$	308.00	\$	308.00
Asset Disposition (70020)				
Fees Total Amount Due This Matter	\$ <u></u>	807.00	\$	807.00
Case Administration (70040)				
Fees Total Amount Due This Matter	\$	1,726.00	\$	1,726.00
Claims, Administration and Objections (70050)				
Fees Total Amount Due This Matter	\$	2,275.00	\$	2,275.00
Fee/Employment Applications (70070)				

500663777 v1

Fees

Total Amount Due This Matter

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

5,254.00

5,254.00

Invoice # 3428004 2070561 Page 2 of 32

Litigation	(70100)
------------	---------

Fees Total Amount Due This Matter	\$ 861.00	\$	861.00	
Trustee v Medallic Art Co LLC (70101)				
Fees Total Amount Due This Matter	\$ 61,259.00	\$	61,259.00	
Trustee v Diane Erdmann (70102)				
Fees Total Amount Due This Matter	\$ <u>5,149.00</u>	\$	5,149.00	
EEOC v NW Territorial Mint, LLC, USDC Cas	se (70104)			
Fees Total Amount Due This Matter	\$ <u>44.00</u>	\$	44.00	
American Express Fraudulent Transfer Action	on (70107)			
Fees Total Amount Due This Matter	\$ <u>21,624.00</u>	\$	21,624.00	
Meetings and Communications with Creditors (70110)				
Fees Total Amount Due This Matter	\$ 3,017.00	\$	3,017.00	

Plan and Disclosure Statement (70120)

Fees	\$ 5,967.00	
Total Amount Due This Matter		\$ 5,967.00

Tax (70140)

Fees	\$ <u>3,125.00</u>	
Total Amount Due This Matter		\$ 3,125.00

2070561 Page 3 of 32 **Assumption and Rejection of Leases and Contracts (70150)** Fees 2,948.00 **Total Amount Due This Matter** \$ 2,948.00 **Avoidance Action Analysis (70160)** Fees 1,590.00 **Total Amount Due This Matter** \$ 1,590.00 **Reporting (70210)** Fees 338.00 **Total Amount Due This Matter** \$ 338.00 US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)Fees 270.00 **Total Amount Due This Matter** \$ 270.00 Costs (99999) Disbursements and Other Charges \$ <u>1,611.57</u>

Invoice # 3428004

\$

1,611.57

\$ <u>118,173.57</u>

Total Amount Due This Matter

CURRENT INVOICE DUE - All Matters

Invoice # 3428004 2070561 Page 4 of 32

\$308.00

DATE	NAME	HOURS	DESCRIPTION	
02/03/17	D.C. Neu	0.70	Review and analysis of issue Clark letter re L. Martini clair	
		TOTAL FEES	0.70 hrs	\$308.00
		TIMEKEEPI	ER SUMMARY	
D.C. Neu		0.70 TOTAL FEES	hrs at \$ 440.00 / hr 0.70 hrs	\$ 308.00
		TOTAL FEES	0.70 1115	φ
		MATTER	SUMMARY	
Fees MATTER TO	TAI			\$ 308.00 \$ 308.00
WALLERIO	IAL			φ <u>306.00</u>

Invoice # 3428004 2070561 Page 5 of 32

Asset Disposition (70020)

\$807.00

FEES

DATE	NAME	HOURS	DESCRIPTION
02/03/17	D. A. Lentz	0.70	Draft of termination agreement regarding N.
02/16/17	D.C. Neu	1.50	Hauptman's stored inventory
02/16/17	D.C. Neu	1.50	Review status of Nevada lease litigation and appeal (.5); call with B. Ginn regarding same
			(.3); review client email regarding same (.2);
			review storage return motion for discussion
		TOTAL FEED	with A. Ranade (.5)
		TOTAL FEES	2.20 hrs \$ <u>807.00</u>
		TIMEKEEP	ER SUMMARY
D. A. Lentz		0.70	hrs at \$ 210.00 / hr 147.00
D.C. Neu		1.50	hrs at \$ 440.00 / hr660.00
		TOTAL FEES	2.20 hrs \$ <u>807.00</u>
		MATTER	SUMMARY
Fees			\$ 807.00

MATTER TOTAL

Invoice # 3428004 2070561 Page 6 of 32

Case Administration (70040)

\$1,726.00

FEES

DATE	NAME	HOURS	DESCRIPTION
02/07/17	M.J. Gearin	1.10	Call with Trustee, M. Northrup and M. Smith regarding case issues
02/07/17	D. A. Lentz	0.40	Search for LLC agreement for M. Gearin (.4)
02/17/17	M.J. Gearin	0.50	Call with Trustee regarding multiple case projects
02/23/17	D.C. Neu	0.60	Call with client regarding various issues related to case administration (.6)
02/27/17	M.J. Gearin	1.00	Call with Trustee regarding multiple case issues including committee meeting communications, Medallic trial preparation, Auburn lease issues and tax reporting matters
		TOTAL FEES	3.60 hrs \$1,726.00

TIMEKEEPER SUMMARY

M.J. Gearin	2.60	hrs at	\$	530.00 / hr	1,378.00
D. A. Lentz	0.40	hrs at	\$	210.00 / hr	84.00
D.C. Neu	0.60	hrs at	\$	440.00 / hr	264.00
	TOTAL FEES		3.6	0 hrs	\$ 1,726.00

MATTER SUMMARY

Fees \$ 1,726.00 MATTER TOTAL \$ 1,726.00

Claims, Administration and Objections (70050)

\$2,275.00

DATE	NAME	HOURS	DESCRIPTION
02/04/17	B. T. Peterson	0.50	Review summary of T. Tucker regarding damage to Tomball property
02/07/17	D. A. Lentz	0.20	Per request from M. Gearin find claims begin gathering data for claims filed in the amount of \$500,000 to \$1,000,000
02/08/17	D. A. Lentz	2.30	Email from B. Peterson regarding list of secured proofs of claim and review of current claim register re same (.1); update spreadsheet to include additional secured proofs of claim (.1); meeting with M. Gearin regarding proofs of claim above \$500,000 (.1); create spreadsheet showing descending values of claims (.1); begin gathering information and creating spreadsheet for claims listed as priority (1.9)
02/09/17	D. A. Lentz	1.30	Continue work on analysis of proofs of claim and spreadsheet for claims listed as priority
02/09/17	D.C. Neu	0.30	Communication with client regarding Martini leased inventory
02/09/17	B. T. Peterson	0.10	Review correspondence with Tomball landlord regarding settlement issues
02/10/17	D. A. Lentz	2.80	Continue work on analysis of proofs of claim and spreadsheet for claims listed as priority
02/13/17	D. A. Lentz	0.30	Request from M. Gearin for breakdown of subset of priority claims and gather information regarding same
02/14/17	D. A. Lentz	0.80	Email from E. Robinson re request for search of numerous proofs of claim filed by creditors of NWTM (.1); review of claims register regarding each and submit information back to E. Robinson (.6)
02/23/17	D.C. Neu	0.50	Review information regarding Martini claim (.5)
02/28/17	B. T. Peterson	0.30	Draft email to client regarding environmental report submitted by T. Tucker
	TOTAL	FEES	9.40 hrs \$ <u>2,275.00</u>

Invoice # 3428004 2070561 Page 8 of 32

TIMEKEEPER SUMMARY

D. A. Lentz	7.70	hrs at	\$	210.00 / hr	1,617.00
D.C. Neu	0.80	hrs at	\$	440.00 / hr	352.00
B. T. Peterson	0.90	hrs at	\$	340.00 / hr	306.00
	TOTAL FEES		9.4	40 hrs	\$ 2.275.00

MATTER SUMMARY

Fees \$ 2,275.00 MATTER TOTAL \$ 2,275.00

Fee/Employment Applications (70070)

\$5,254.00

DATE	NAME	HOURS	DESCRIPTION
02/01/17	M.J. Gearin	1.80	Revisions to Atalla employment agreement and communicate to M. Northrup (0.8); calls with M. Northrup and Trustee regarding employment agreement issues raised by committee (1.0)
02/01/17	D. A. Lentz	0.30	Draft supplemental declaration in support of motion to employ CEO
02/01/17	B. T. Petersor	1.00	Review and revise employment agreement
02/01/17	C. C. Smith	1.50	Begin reviewing employment agreement for B. Atalla
02/02/17	M.J. Gearin	2.30	Multiple calls with Trustee and M. Northrup regarding committee comments to Atalla employment (0.9); revisions to employment agreement (0.6); prepare for hearing (0.8)
02/02/17	D. A. Lentz	0.40	Finalize supplemental declaration in support of motion to employ CEO (.2); file supplemental declaration with USBC and send for service (.2)
02/02/17	C. C. Smith	1.90	Continue revising Atalla employment agreement
02/03/17	D. A. Lentz	0.40	Finalize order on motion to employ CEO (.2); email with M. Northrup regarding signature (.1); upload order with USBC (.1)
02/20/17	M.J. Gearin	0.30	Coordinate draft of employment pleadings for auctioneer
02/20/17	E. Mather	0.10	Phone conference re: drafting employment application for auctioneer
02/21/17	M.J. Gearin	0.90	Revisions to pleadings in employment of T. Murphy as auctioneer
02/21/17	E. Mather	2.60	Draft application to employ auctioneer, declaration of trustee, declaration of auctioneer, and proposed order; review edits made by M. Gearin
02/28/17	D. A. Lentz	0.20 TOTAL FEES	Review of application to employ auctioneer and upload ex parte order regarding same 13.70 hrs \$5,254.00

Invoice # 3428004 2070561 Page 10 of 32

TIMEKEEPER SUMMARY

M.J. Gearin	5.30	hrs at	\$	530.00 / hr	2,809.00
D. A. Lentz	1.30	hrs at	\$	210.00 / hr	273.00
E. Mather	2.70	hrs at	\$	200.00 / hr	540.00
B. T. Peterson	1.00	hrs at	\$	340.00 / hr	340.00
C. C. Smith	3.40	hrs at	\$	380.00 / hr	1,292.00
	TOTAL FEES		13.7	70 hrs	\$ 5,254.00

MATTER SUMMARY

Fees \$ 5,254.00 MATTER TOTAL \$ 5,254.00

Invoice # 3428004 2070561 Page 11 of 32

Litigation (70100)

\$861.00

861.00

FEES

DATE	NAME	HOURS	DESC	RIPTI	ON			
02/02/17	M.J. Gearin	0.40			Werner o		•	office
00/46/47	I M Canas	2.20	•	•	scovery r	•		
02/16/17	J. M. Connor	2.20	Perform complex queries in Ringtail review database to identify specific documents base					
					text listing	•		
			into bi	inder i	n prepara	tion for	review ((.3), and
							•	ex reports
				orney idl (.9)	status up	dates p	er the re	equest of
		TOTAL FEES	L. Sie	, ,	o 80 hrs		\$	861.00
							Ψ	001100
		TIMELEED		484 A D	V			
		TIMEKEEP	ER SUN	IIVIAK	<u>. Y</u>			
J. M. Conno	or	2.20	hrs at	\$	295.00	/ hr		649.00
M.J. Gearin		0.40	hrs at	\$	530.00	/ hr		212.00
		TOTAL FEES		2.6	0 hrs		\$	861.00
MATTER SUMMARY								

Fees

MATTER TOTAL

Trustee v Medallic Art Co LLC (70101)

\$61,259.00

DATE	NAME	HOURS	DESCRIPTION
02/01/17	M.J. Gearin	0.30	Call with T. Bucknell regarding trial scheduling and discovery matters
02/01/17	B. T. Peterson	0.30	Analyze issues related to trial
02/01/17	C.M. Wyant	4.20	Draft discovery responses and objections (3.0); review documents and work product for same (1.2)
02/02/17	M.J. Gearin	2.50	Meet with C. Wyant and R. Tausend regarding trial preparations
02/02/17	B. T. Peterson	1.00	Review of documents related to Medallic adversary proceeding
02/02/17	B. T. Peterson	0.10	Discuss document collection with R. Tausend
02/02/17	C.M. Wyant	6.30	Draft discovery responses (4.0); conference with M. Gearin and R. Tausend regarding document collection and production (1.0); work on proof chart issues (1.3)
02/03/17	B. T. Peterson	1.00	Review of documents related to Medallic adversary proceeding
02/03/17	C.M. Wyant	0.80	Revise draft interrogatory responses and work RFP collection issues
02/05/17	B. T. Peterson	0.10	Revise initial disclosures
02/06/17	C.M. Wyant	2.00	Continue work on discovery responses and trial preparation
02/07/17	M.J. Gearin	1.10	Message for T. Bucknell regarding discovery and trial scheduling (.1); internal communications regarding trial preparations
			(1.0)
02/07/17	D. A. Lentz	0.30	Finalize and serve supplemental initial disclosures
02/07/17	C.M. Wyant	1.50	Continue work on discovery and related issues
02/08/17	M.J. Gearin	1.10	Trial planning (0.9); email to T. Bucknell re discovery and trial scheduling matters (0.2)
02/08/17	C.M. Wyant	1.30	Continue drafting discovery responses (1.0); review email from NWTM employees regarding evidence for trial (.3)
02/09/17	M.J. Gearin	1.10	Email communications with T. Bucknell (.4); voice mail for R. Powers (.1); continue work on evidentiary support and trial preparations (.6)
02/09/17	B. T. Peterson	0.20	Email correspondence regarding trial scheduling
02/09/17	C.M. Wyant	1.30	Review email regarding case scheduling and
500663777 v1			

DATE	NAME	HOURS	DESCRIPTION
			discovery (.1); continue drafting discovery responses and review documents for same (1.2)
02/10/17	M.J. Gearin	1.60	Email to T. Bucknell (0.3); call with T. Lerner re Bressler (0.3); meet regarding trial preparations (0.5); review and analysis of exhibits and document production issues (0.5)
02/10/17	D. A. Lentz	0.90	Work on gathering/organizing hot documents for trial and for production requests
02/10/17	B. T. Peterson	1.10	Meeting regarding document review and responses to interrogatories in Medallic case
02/10/17	B. T. Peterson	0.10	Phone call to potential witness for adversary proceeding
02/10/17	C.M. Wyant	2.70	Conference with M. Gearin and B. Peterson regarding discovery responses and strategy for trial (1.2); continue work on discovery response issues (1.5)
02/12/17	B. T. Peterson	1.10	Review of documents for trial
02/13/17	D. A. Lentz	2.50	Continue work on gathering/organizing hot documents for trial and for production requests
02/13/17	B. T. Peterson	2.30	Review documents for production and use at trial
02/13/17	B. T. Peterson	0.10	Discuss production of documents for trial with paralegal
02/13/17	C.M. Wyant	0.50	Revise draft discovery responses and objections (.5)
02/14/17	M.J. Gearin	2.30	Continued draft of email to Bressler counsel (1.0); review and analysis of draft proof chart (0.9); draft letter to court regarding request for status conference (0.4)
02/14/17	D. A. Lentz	0.90	Work on exhibits/hot documents with team for production
02/14/17	B. T. Peterson	6.50	Review of documents related to trial
02/14/17	C.M. Wyant	1.20	Revise draft discovery responses (.7); conference regarding discovery responses and trial strategy issues (.5)
02/15/17	M.J. Gearin	1.50	Meet re discovery responses and discovery planning
02/15/17	B. T. Peterson	4.60	Review documents for trial and discovery answers
02/15/17	B. T. Peterson	1.20	Meeting with M. Gearin and C. Wyant regarding discovery answers
02/15/17	C.M. Wyant	1.90	Revise discovery responses (0.5); meet with B. Peterson and M. Gearin re discovery planning
02/16/17	M.J. Gearin	2.00	Finalize draft settlement offer to R. Bressler;

DATE	NAME	HOURS	DESCRIPTION
			forward to trustee
02/16/17	M.J. Gearin	1.00	Draft status conference letter to court (.3); email to T. Bucknell regarding discovery coordination and status conference letter (.2); evaluation of witness issues (.3)
02/16/17	M.J. Gearin	1.20	Review and draft revisions to discovery responses
02/16/17	B. T. Peterson	2.00	Review of documents for discovery and trial purposes
02/16/17	B. T. Peterson	1.70	Review and edit proof chart for trial
02/16/17	C.M. Wyant	1.30	Revise draft discovery requests (1.2); review emails regarding deposition scheduling and letter to court (.1)
02/17/17	J. M. Connor	1.40	Perform complex queries in Ringtail review database to identify specific documents based on attorney text listing (.5), compile results into binder in preparation for review (.5), and compile document details into complex reports for attorney status updates per the request of L. Steidl (.4)
02/17/17	M.J. Gearin	0.50	Finalize letter to court regarding status conference (.3); email exchange with T. Bucknell regarding same (.2)
02/17/17	M.J. Gearin	2.40	Edits to discovery responses (1.5); internal communications regarding discovery responses and production issues (.9)
02/17/17	B. T. Peterson	0.60	Investigation of facts related to trial
02/17/17	B. T. Peterson	4.20	Review and revise proof chart related to trial
02/18/17	P. K. Jacobson	0.30	Email regarding red-lined revisions to discovery (.1); review discovery related to trademarks (.2)
02/20/17	M.J. Gearin	1.30	Meet with trial team regarding trial preparations and discovery issues
02/20/17	M.J. Gearin	0.80	Draft revisions to protective order and 502(d) order
02/20/17	M.J. Gearin	1.50	Review and analysis of case law on subcon (.6); outline of additional issues for trial (.5); identification of witnesses (.4)
02/20/17	B. T. Peterson	1.50	Meeting regarding trial preparation and additional discovery related to trial
02/20/17	B. T. Peterson	1.00	Research related to proof of counterclaims against Medallic
02/20/17	C.M. Wyant	2.20	Draft and revise discovery requests to Plaintiff (.8); conference with M. Gearin and B. Peterson regarding discovery tasks, research and trial strategy (1.4)
02/21/17	M.J. Gearin	1.80	Call with Trustee regarding Bressler settlement issues (.5); revisions to settlement

DATE	NAME	HOURS	DESCRIPTION offer (.6); email and phone call with T. Lerner
			regarding settlement offer (.7)
02/21/17	M.J. Gearin	2.50	Review of discovery requests (.7); revisions to protective order and 502(d) order (.4); witness identification and interviews (1.4)
02/21/17	B. T. Peterson	2.60	Legal research related to substantive consolidation theory
02/21/17	B. T. Peterson	0.90	Meeting with potential witness for trial
02/21/17	B. T. Peterson	1.20	Draft summary of meeting with A. Swan
02/21/17	B. T. Peterson	2.00	Legal research related to Trustee's counterclaims
02/21/17	C.M. Wyant	3.30	Review documents for possible use in trial and responsiveness to discovery (.3); draft and revise supplemental discovery requests to Medallic Art Company (1.2); review legal research on substantive consolidation and draft emails regarding analysis of same (1.8)
02/22/17	M.J. Gearin	0.50	Call with D. Carlton, creditor regarding witness testimony
02/22/17	M.J. Gearin	1.50	Communications with Trustee and T. Lerner regarding Bressler settlement issues
02/22/17	M.J. Gearin	0.70	Finalize draft protective order and 502(d) order and email to T. Bucknell for comment
02/22/17	M.J. Gearin	0.90	Review of Mendoza file in preparation for communications with Mendoza
02/22/17	B. T. Peterson	5.40	Document review and analysis for trial
02/22/17	C.M. Wyant	3.10	Revise draft protective order and 502 stipulation (.8); draft 30(b)(6) deposition notice (.4); conference with M. Gearin and B. Peterson regarding evidentiary issues and discovery (.4); conference with M. Gearin regarding Bressler settlement (.2); draft deposition outline topics (1.3)
02/23/17	M.J. Gearin	4.10	Draft Bressler settlement agreement and communicate to T. Lerner (3.2); calls with Trustee regarding Bressler settlement issues (0.7); call and email to M. Northrup regarding Bressler settlement issues (0.2)
02/23/17	B. T. Peterson	0.60	Edit and revise 30(b)(6) deposition notice for Medallic LLC
02/23/17	B. T. Peterson	3.00	Review documents for trial
02/23/17	B. T. Peterson	1.00	Edit and finalize interrogatories and requests for admission
02/23/17	C.M. Wyant	1.90	Edit draft settlement agreement with Bressler and draft email regarding same (.3); conference with B. Peterson regarding 30(b)(6) deposition and supplemental discovery requests (.4); review proof chart and

DATE	NAME	HOURS	DESCRIPTION
			discovery to draft outline for deposition (1.2)
02/24/17	M.J. Gearin	0.50	Calls with T. Lerner and Trustee regarding Bressler settlement
02/24/17	B. T. Peterson	4.50	Review and analyze discovery production and potential trial exhibits
02/24/17	B. T. Peterson	0.60	Draft second set of requests for admission
02/24/17	C.M. Wyant	1.80	Review and respond to email regarding deposition scheduling and notices (.2); draft notes for deposition outlines (1.3); research rules and case law for expert witness issue (.3)
02/25/17	B. T. Peterson	1.80	Document review and trial preparation
02/26/17	B. T. Peterson	1.70	Research related to substantive consolidation theory
02/26/17	K. R. Slavik	0.40	Perform strategic search to identify documents to be imaged (.1); convert identified documents to jpg/tiff per. B. Peterson (.3)
02/27/17	M.J. Gearin	0.90	Meet with trial team on preparations for status conference, trial preparation, discovery matters and witness interviews
02/27/17	M.J. Gearin	0.30	Call with T. Lerner regarding Bressler settlement issues
02/27/17	B. T. Peterson	0.40	Email correspondence regarding discovery requests
02/27/17	B. T. Peterson	1.40	Conference with C. Wyant and M. Gearin regarding trial preparation
02/27/17	B. T. Peterson	1.60	Draft second set of requests for admission and accompanying exhibits
02/27/17	C.M. Wyant	3.40	Conference with M. Gearin and B. Peterson regarding expert disclosures, deposition strategy and evidentiary issues (1.3); review documents for inclusion in second set of RFAs (.3); draft deposition outlines (1.5); research regarding use of declarations at trial (.3)
02/28/17	M.J. Gearin	0.90	Prepare for status conference; meet with C. Wyant regarding trial preparation matters
02/28/17	M.J. Gearin	0.30	Call with M. Collison, creditor regarding witness matters
02/28/17	B. T. Peterson	0.20	Draft email correspondence regarding discovery requests
02/28/17	C.M. Wyant	2.30	Draft interview outline and attempt to contact J. Koren (.6); draft emails regarding document production issues (.2); draft notes for status conference and discuss same with M. Gearin (.3); continue deposition preparation (1.2)
	TOTAL	FEES	146.40 hrs \$ 61,259.00

Invoice # 3428004 2070561 Page 17 of 32

TIMEKEEPER SUMMARY

J. M. Connor	1.40	hrs at	\$	295.00	/ hr	413.00
M.J. Gearin	37.10	hrs at	\$	530.00	/ hr	19,663.00
P. K. Jacobson	0.30	hrs at	\$	450.00	/ hr	135.00
D. A. Lentz	4.60	hrs at	\$	210.00	/ hr	966.00
B. T. Peterson	59.60	hrs at	\$	340.00	/ hr	20,264.00
K. R. Slavik	0.40	hrs at	\$	95.00	/ hr	38.00
C.M. Wyant	43.00	hrs at	\$	460.00	/ hr	19,780.00
	TOTAL FEES		146.40) hrs		\$ 61,259.00

MATTER SUMMARY

Trustee v Diane Erdmann (70102)

\$5,149.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
02/01/17	D. A. Lentz	2.10	Final review of brief, appendix, table of authorities, etc. for filing with USDC			
02/01/17	D.C. Neu	0.80	Finalize appeal brief			
02/02/17	D. A. Lentz	2.50	Finalize appendix and all exhibits to appendix to brief for filing (1.2); finalize brief for filing (.3) file brief and appendix with USDC (.7); prepare CD roms to be sent to clerk's office as part of appendix (.3);			
02/03/17	D.C. Neu	1.50	Research and analysis regarding appeal issues			
02/17/17	D.C. Neu	3.20	Research regarding legal issues related to fraudulent transfer theories (2.1); draft and edit subpoenas (1)			
02/27/17	D.C. Neu	3.10	Continue to work on appeal brief			
02/28/17	D. A. Lentz	0.60	Review of May 6th hearing transcript for D. Neu re specific testimony			
02/28/17	D. A. Lentz	1.30	Email from D. Neu from court re brief and appendix filed (.1); review of docket and court rules re same (.2); prepare documents filed for courtesy copy to chambers (.8); send courtes copies to USDC (.2)			
		TOTAL FEES	15.10 hrs \$5,149.00			

TIMEKEEPER SUMMARY

D. A. Lentz	6.50 hrs at	\$ 210.	.00 / hr	1,365.00
D.C. Neu	8.60 hrs at	\$ 440.	.00 / hr	3,784.00
	TOTAL FEES	15.10 hrs	s \$ <u></u>	5,149.00

MATTER SUMMARY

rees	\$ <u>5,149.00</u>
MATTER TOTAL	\$ 5,149.00

Invoice # 3428004 2070561 Page 19 of 32

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$44.00

DATE	NAME	HOURS	DESCRIPTION	randia a FFOC
02/13/17	D.C. Neu	0.10	Communicate with client remeeting	garding EEOC
		TOTAL FEES	0.10 hrs	\$44.00
		TIMEKEEPE	ER SUMMARY	
D.C. Neu			hrs at \$ 440.00 / hr	44.00
		TOTAL FEES	0.10 hrs	\$44.00
		**************************************	CUMMARY	
		MATIER	SUMMARY	
Fees				\$ 44.00
MATTER T	OTAL			\$ <u>44.00</u>

American Express Fraudulent Transfer Action (70107)

\$21,624.00

DATE	NAME	HOURS	DESCRIPTION
02/01/17	D.C. Neu	0.70	Research regarding case law cited in reply brief
02/02/17	D.C. Neu	4.90	Prepare for and attend hearing on motion to dismiss (3.2); Meeting with client and follow-up analysis regarding same (1.7)
02/03/17	D.C. Neu	0.40	Call with Committee counsel regarding hearing on motion to dismiss
02/07/17	D. A. Lentz	0.30	Draft order denying motion to dismiss
02/07/17	D.C. Neu	1.40	Review order on motion to dismiss (.2); work on discovery plan (.9); communicate with D.C. Wolf regarding same (.3)
02/07/17	D.C. Neu	1.30	Analysis of reasonably equivalent value issues
02/08/17	D. A. Lentz	0.20	Upload order on denial of Defendant's motion to dismiss
02/08/17	D.C. Neu	0.50	Review analysis in support of fraudulent transfer claims
02/08/17	D.C. Neu	1.10	Begin drafting discovery
02/09/17	D. A. Lentz	0.70	Research regarding service of subpoena's on PayPal and Amazon (.2); begin draft of Exhibit A to subpoena for PayPal (.5)
02/09/17	W.J. Miller	0.40	Locate and retrieve examples of document- subpoenas served on PayPal, Inc., for guidance on the proper mode of service on the company (.2); Identify PayPal's registered agent in Washington State (.1); Prepare memorandum to D. Evans, summarizing results of research and attaching sample subpoenas (.1)
02/09/17	D.C. Neu	5.40	Call with client to discuss mathematical analysis (2.2); further analysis regarding same (2.5); review and edit subpoenas (.6)
02/10/17	D.C. Neu	1.60	Work on third party discovery (1); review statements (.6)
02/13/17	D.C. Neu	0.60	Review discovery issues
02/13/17	D. C. Wolf	2.00	Conference with D. Neu regarding case background and strategy (.8); review first amended complaint and exhibits (1.2)
02/14/17	D.C. Neu	0.70	Meeting with D. Wolf to discuss discovery
02/14/17	D.C. Neu	1.20	Review analysis of payments and charges
02/14/17	D. C. Wolf	3.60	Email to B. Peterson regarding discovery request documents (.4); review briefing on

DATE	NAME	HOURS	DESCRIPTION
02/15/17	D. A. Lentz	1.50	defendant's motion to dismiss (1.5); review and analyze Washington Uniform Fraudulent Transfer Statute (.6); consider and draft potential discovery requests and conference with D. Neu regarding same (1.0) Telephone call with client and email exchanges regarding phone numbers and addresses (.2); finalize Exhibit A to subpoena's for PayPal and Amazon (.3); prepare subpoenas for both (.4); prepare declarations of custodian and cover letters (.3); prepare subpoena's for service and courtesy copies to opposing counsel (.3)
02/15/17	D.C. Neu	3.70	Meeting with D. Wolf regarding discovery responses (.3); review and revise discovery (1.5); revise subpoenas (1); research regarding value (1)
02/15/17	D. C. Wolf	5.90	Draft instructional section of discovery requests (2.0); draft interrogatories to defendant (2.0); draft requests for production to defendant (1.9)
02/16/17	D.C. Neu	2.10	Review emails from D. Bugbee regarding subpoenas (.2); respond to same (.2); analysis of issues regarding breadth of discovery (1); revise interrogatories (.5)
02/16/17	D. C. Wolf	0.10	Review email correspondence with opposing counsel and discuss discovery conference with D. Neu
02/17/17	D. C. Wolf	0.80	Participate in discovery conference with opposing counsel, and conference with D. Neu and M. Gearin regarding same
02/21/17	D.C. Neu	2.60	Outline appellate reply brief
02/21/17	D. C. Wolf	0.10	Review email correspondence between D. Neu and client regarding discovery strategy
02/22/17	D. C. Wolf	0.10	Review email correspondence with D. Neu and client regarding discovery requests
02/23/17	D.C. Neu	0.20	Call with EEOC regarding consent decree
02/23/17	D.C. Neu	2.10	Revise ROGS and RFPs
02/23/17	D. C. Wolf	0.10	Discuss discovery strategy with D. Neu
02/24/17	D.C. Neu	3.60	Finalize discovery requests
02/24/17	D. C. Wolf	1.10	Proof and finalize discovery requests to be sent to defendant
02/27/17	D. C. Wolf	0.60	Review defendant's discovery requests propounded to trustee (.2); analyze discovery rules and email D. Neu regarding same (.4)
02/28/17	D. A. Lentz	1.10	Review of notice of trial and order setting deadlines (.1); calendar all dates and deadlines regarding same (.8); create

Invoice # 3428004 2070561 Page 22 of 32

DATE	NAME	HOURS	DESCRIPTION			
02/28/17	D.C. Neu	3.10	spreadsheet with information (.2) Call with client regarding mediation (.3); analysis of issues related to same (.3); edit motion for writ of attachment (2); call with D. Bugbee regarding mediation (.3); analysis regarding same (.2)			
02/28/17	D. C. Wolf	0.10	Email correspondence with D. Neu regarding discovery; review case litigation calendar	l		
		TOTAL FEES	55.90 hrs \$ <u>21,624.0</u>	<u> 20</u>		
D. A. Lentz W.J. Miller D.C. Neu D. C. Wolf		3.80 0.40	hrs at \$ 440.00 / hr 16,368.0	00 00 00		
MATTER SUMMARY						
Fees MATTER T	OTAL		\$21,624.0 \$ 21,624.0			

Meetings and Communications with Creditors (70110)

\$3,017.00

DATE	NAME	HOURS	DESCRIPTION
02/01/17	D. A. Lentz	0.10	Field phone calls from creditors regarding status of case
02/03/17	D. A. Lentz	0.30	Field phone calls and voice mails regarding status of case
02/07/17	D. A. Lentz	0.30	Field phone calls and emails from creditors regarding status of case; (3.)
02/08/17	M.J. Gearin	0.50	Communications with Trustee and M. Northrup regarding committee informational requests
02/08/17	D. A. Lentz	0.20	Field phone calls and voicemails from creditors regarding status of case
02/09/17	D. A. Lentz	0.10	Field phone calls from creditors
02/10/17	M.J. Gearin	0.60	Communications with Trustee and committee counsel re informational requests (0.3); email from creditor J. Lorio (0.1); call with creditor T. Fritz (0.2)
02/10/17	D. A. Lentz	0.40	Telephone calls with creditors regarding status of case
02/13/17	D. A. Lentz	0.40	Field phone calls and emails from creditors regarding status of case
02/16/17	M.J. Gearin	0.30	Teleconference and follow up email with creditor J. Lorio of coin creations
02/22/17	M.J. Gearin	0.50	Call with M. Northrup regarding case issues including Bressler settlement
02/24/17	M.J. Gearin	2.10	Extended call with M. Northrup and Trustee regarding committee concerns and follow up emails
02/27/17	M.J. Gearin	0.30	Call with R. Jones, creditor
02/28/17	M.J. Gearin	0.60	Communications with M. Northrup regarding committee inquiries in connection with committee meeting
02/28/17	D. A. Lentz	0.20	Field phone calls and emails from creditors regarding status of case
		TOTAL FEES	6.90 hrs \$ <u>3,017.00</u>

Invoice # 3428004 2070561 Page 24 of 32

TIMEKEEPER SUMMARY

M.J. Gearin 4.90 hrs at \$ 530.00 / hr 2,597.00
D. A. Lentz 2.00 hrs at \$ 210.00 / hr 420.00
TOTAL FEES 6.90 hrs \$ 3,017.00

MATTER SUMMARY

Fees \$ 3,017.00 MATTER TOTAL \$ 3,017.00

Plan and Disclosure Statement (70120)

\$5,967.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
02/06/17	M.J. Gearin	1.20	Revisions to plan of reorganization		
02/07/17	B. T. Peterson	2.40	Draft disclosure statement for plan of reorganization		
02/09/17	B. T. Peterson	0.90	Draft disclosure statement for chapter 11 plan of reorganization		
02/10/17	M.J. Gearin	1.20	Draft revisions to plan		
02/10/17	B. T. Peterson	1.20	Draft disclosure statement in support of plan of reorganization		
02/15/17	M.J. Gearin	0.90	Draft revisions to plan of reorganization		
02/16/17	M.J. Gearin	0.80	Attention to revisions to plan		
02/19/17	B. T. Peterson	1.70	Draft disclosure statement in support of plan of reorganization		
02/20/17	M.J. Gearin	1.00	Draft revisions to plan		
02/24/17	B. T. Peterson	1.80	Draft disclosure statement for plan of reorganization		
02/25/17	B. T. Peterson	1.60	Draft disclosure statement in support of plan of reorganization		
	TOTAL	. FEES	14.70 hrs \$ <u>5,967.00</u>		

TIMEKEEPER SUMMARY

M.J. Gearin	5.10 hrs at	\$ 530.00 / hr	2,703.00
B. T. Peterson	9.60 hrs at	\$ 340.00 / hr	3,264.00
	TOTAL FEES	14.70 hrs	\$ 5,967.00

MATTER SUMMARY

Fees	\$ 5,967.00
MATTER TOTAL	\$ 5,967.00

Invoice # 3428004 2070561 Page 26 of 32

Tax (70140) \$3,125.00

FEES

DATE	NAME	HOURS	DESCRIPTION
02/06/17	J. D. Almquist	2.00	Tax planning conference call with client
02/06/17	M.J. Gearin	2.20	Participate in call with tax counsel and Trustee regarding plan tax issues and tax reporting matters
02/27/17	M.J. Gearin	0.30	Call with D. Hallett regarding Hansen tax reporting matters and request for information
	ТОТА	L FEES	4.50 hrs \$ <u>3,125.00</u>

TIMEKEEPER SUMMARY

J. D. Almquist	2.00	hrs at	\$	900.00 /h	r	1,800.00
M.J. Gearin	2.50	hrs at	\$	530.00 / h	r	1,325.00
	TOTAL FEES		4.5	0 hrs	\$	3,125.00

MATTER SUMMARY

Fees \$ 3,125.00 MATTER TOTAL \$ 3,125.00

Assumption and Rejection of Leases and Contracts (70150)

\$2,948.00

DATE	NAME	HOURS	DESCRIPTION			
02/01/17	M.J. Gearin	0.30	Email exchange regarding security equipment and lease termination issues for Auburn lease			
02/01/17	D. A. Lentz	0.20	Meeting with M. Gearin regarding presentation of order scheduled and assist with preparation for same			
02/02/17	M.J. Gearin	0.30	Prepare for hearing on presentation of order on Auburn lease rejection (.2); email to J. Zack regarding security equipment (.1)			
02/07/17	D. A. Lentz	0.70	Serve order on motion per Court order to landlords (.3); prepare and file proof of service regarding same (.3); calendar proof of claim deadline for lease rejections (.1)			
02/16/17	M.J. Gearin	0.30	Communications with Trustee regarding Dayton lease issues			
02/17/17	D.C. Neu	0.20	Review notice of appeal on lease rejection			
02/22/17	D.C. Neu	2.60	Review and research issues related to appeal of Auburn lease rejection order(1); review pleadings related to same (1); analysis of BAP and District court issues (.5)			
02/27/17	M.J. Gearin	0.70	Call and email communications with Trustee regarding Dayton lease issues			
02/27/17	M.J. Gearin	0.20	Call with J. Zack regarding Auburn lease issues			
02/28/17	M.J. Gearin	0.50	Communications with Trustee regarding Dayton lease issues			
02/28/17	D.C. Neu	0.70	Review issues related to lease appeal			
		TOTAL FEES	6.70 hrs \$ <u>2,948.00</u>			
		TIMEKEEPI	ER SUMMARY			
M.J. Gearin		2.30	hrs at \$ 530.00 / hr 1,219.00			
D. A. Lentz		0.90	hrs at \$ 210.00 / hr 189.00			
D.C. Neu		3.50	hrs at \$ 440.00 / hr 1,540.00			
		TOTAL FEES	6.70 hrs \$\frac{2,948.00}{2}			

Invoice # 3428004 2070561 Page 28 of 32

MATTER SUMMARY

Fees \$ 2,948.00 MATTER TOTAL \$ 2,948.00

Invoice # 3428004 2070561 Page 29 of 32

Avoidance Action Analysis (70160)

\$1,590.00

DATE	NAME	HOURS	DESCRIPTION		
02/13/17	M.J. Gearin	3.00	Meet with Trustee regarding a analysis	avoidance action	
		TOTAL FEES	3.00 hrs	\$1,590.00	
		TIMEKEEP	ER SUMMARY		
M.J. Gearin		3.00 TOTAL FEES	hrs at \$ 530.00 / hr 3.00 hrs	1,590.00 \$ 1,590.00	
MATTER SUMMARY					
Fees MATTER TO	OTAL			\$ <u>1,590.00</u> \$ <u>1,590.00</u>	

Invoice # 3428004 2070561 Page 30 of 32

Reporting (70210)

\$338.00

FEES

DATE	NAME	HOURS	DESCRIPTION
02/01/17	D. A. Lentz	0.30	Meeting with M. Gearin regarding amended monthly financial report and T. Tracy bank account matters (.1); emails with J. Cannady regarding same (.1); file amended monthly financial report with USBC (.1)
02/14/17	M.J. Gearin	0.40	Communications with Trustee regarding monthly report
02/15/17	D. A. Lentz	0.30	Email from J. Cannady regarding monthly report (.1); file monthly report with USBC (.2)
		TOTAL FEES	1.00 hrs \$ <u>338.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.40 l	hrs at	\$	530.00 /	hr	212.00
D. A. Lentz	0.60 I	hrs at	\$	210.00 /	hr	126.00
	TOTAL FEES		1.0	0 hrs	\$	338.00

MATTER SUMMARY

Fees \$ 338.00 MATTER TOTAL \$ 338.00

Invoice # 3428004 2070561 Page 31 of 32

270.00

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 8721	16866 (70250)	\$270.00
--	---------------	----------

US Serial No.: 87216866

MATTER TOTAL

DATE	NAME	HOURS	DESCRI	PTION			
02/13/17	P. K. Jacobson	0.60		ne message from ail memoranda to 2)			
	Т	OTAL FEES		0.60 hrs	\$	270.00	
	TIMEKEEPER SUMMARY						
P. K. Jacob	son	0.60	hrs at \$	450.00 / hr		270.00	
TOTA		OTAL FEES		0.60 hrs	\$	270.00	
			SUMMAF	 <u>२</u>			
Fees					\$	270.00	

Invoice # 3428004 2070561 Page 32 of 32

Costs (99999) \$1,611.57

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
02/09/17	Local Courier - Courier Services for Jan 2017 - Halo Messenger Services, LLC - 02012017 - 1/17 #7 USBC - Binder	8.00
02/13/17	Other - LexisNexis Risk Solutions - 01312017 - accurint jan 2017	57.62
02/14/17	Travel Expenses - Gearin, Michael - Parking - 2017-02-03 - Parking for 2 3 2017 hearing	12.00
02/14/17	Travel Expenses - Gearin, Michael - Parking - 2017-01-20 - Parking for 1 20 17 hearing	18.00
02/15/17	Copying Expense	7.20
02/21/17	Westlaw - BTP - 02/21/2017 - 02/21/2017	306.46
02/28/17	Westlaw - DCN - 02/02/2017 - 02/28/2017	1,099.69
02/28/17	Ahearn & Associates - 2/3/17 Transcript	9.60
02/28/17	USDC - 2/2/17 Audio Transcript	31.00
02/28/17	USDC - 1/20/17 Audio Transcript	31.00
02/28/17	USDC - 2/3/17 Audio Transcript	31.00
02/28/17	Ahearn & Associates - 2/3/17 Transcript	9.60
02/28/17	USDC - 2/2/17 Audio Transcript	31.00
02/28/17	USDC - 1/20/17 Audio Transcript	31.00
02/28/17	USDC - 2/3/17 Audio Transcript	31.00
02/28/17	Reversal from Void Check Number: 1995988 Bank ID: ZEROU Voucher ID: 1995988 Vendor: American Express	(9.60)
02/28/17	Reversal from Void Check Number: 1995988 Bank ID: ZEROU Voucher ID: 1995988 Vendor: American Express	(31.00)
02/28/17	Reversal from Void Check Number: 1995988 Bank ID: ZEROU Voucher ID: 1995988 Vendor: American Express	(31.00)
02/28/17	Reversal from Void Check Number: 1995988 Bank ID: ZEROU Voucher ID: 1995988 Vendor: American Express	(31.00)
	DISBURSEMENTS & OTHER CHARGES	\$1,611.57

MATTER SUMMARY

Disbursements and Other Charges	\$	<u> 1,611.57</u>
MATTER TOTAL	\$	<u> 1,611.57</u>

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial Invoice Date : September 11, 2017

Mint LLC Invoice Number : 3427422

c/o Cascade Capital Group LLC Services Through : February 28, 2017

1501 4th Avenue Suite 2840 Our File Number : 2070561

Seattle, WA 98101

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 44,238.50 Disbursements and Other Charges \$ 192.50

Total Amount Due This Matter \$ 44,431.00

CURRENT INVOICE DUE - All Matters \$ 44,431.00

Litigation -- e-DAT Fees (77100)

\$44,431.00

DATE	NAME	HOURS	DESCRIPTION
02/02/17	L.E. Steidl	0.20	Identify and organize files for review to identify additional key hot and adverse documents, conferring with R. Tausend regarding same
02/02/17	R. M. Tausend	5.00	Working strategy sessions with M. Calvert, M. Gearin and C. Wyant regarding Medallic discovery responses and other ESI / privilege / evidence related issues and action items; voice mail from J. Gilmore and email responding to request relating to Medallic bank statements (0.1); emails re A. Trunkett financial and accounting records open items (0.1); hot docs targeted searches project set up - email to L. Steidl
02/03/17	T. Hughes	1.20	Attend case orientation by L. Steidl for factual and legal briefing on issues relating to document review project (0.3); review background materials pertinent to document review (0.9)
02/03/17	T. Hughes	3.10	Legal review and analysis of client collections and case production materials to identify key documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/03/17	L.E. Steidl	1.10	Compile background information and organize review templates for use by review attorney in legal review and analysis of client collections and case production materials to identify key documents related to entity status issues for addition to trial team prep binders, and meet with review attorney to discuss same
02/03/17	R. M. Tausend	1.00	Exchange messages with J. Gilmore regarding Medallic City National bank accounts in connection with J. Gilmore creation of master database (0.1); review emails from B. Peterson, E. Robinson and M. Flynn regarding E. Robinson and M. Flynn marketing documents, identify discovery-related action items and relevant considerations, and provide recommendations

DATE	NAME	HOURS	DESCRIPTION
			relating to same (0.4); review L. Steidl update regarding T. Hughes' targeted searches for selected documents identified by trial team and provide guidance and decisions on open items in support of same (0.5)
02/04/17	T. Hughes	1.00	Legal review and analysis of client collections and case production materials to identify key documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/06/17	R. M. Tausend	0.80	Respond to J. Gilmore inquiry regarding City National Bank accounts (0.3); analyze issues relating to Medallic and NWTM bank accounts and statements (0.3); emails with L. Steidl and A. Trunkett regarding same (0.2)
02/07/17	T. Hughes	0.50	Legal review and analysis of client collections and case production materials to identify key documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/07/17	L.E. Steidl	0.10	Meet with review attorney to discuss legal review and analysis of client collections and case production materials to identify key documents related to entity status issues for addition to trial team prep binders
02/09/17	T. Hughes	1.20	Legal review and analysis of client collections and case production materials to identify key documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/09/17	L.E. Steidl	0.20	Meet with review attorney to discuss legal review and analysis of client collections and case production materials to identify key documents related to entity status issues for addition to trial team prep binders
02/13/17	R. M. Tausend	1.20	Strategize with D. Evans and respond to her questions regarding selected documents potentially relevant to interrogatory responses (0.3); scope and implement trial prep hot docs binder update project for completion by T. Hughes, including review of M. Gearing witness interview paper files, and provide pertinent information to team regarding same (0.9)
02/14/17	M. Bassetti	0.20	Coordinate print job of prior production documents for D. Evans per request by L. Steidl
02/14/17	T. Hughes	4.80	Legal review and analysis of client collections and case production materials to identify key

DATE	NAME	HOURS	DESCRIPTION
			documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/14/17	T. S. Milne	1.50	Analyze, organize and edit Medallic-Trial-Prep Hot Docs-PRINT-20170214 for image conversion and provide in chronological order in response to request from L. Steidl
02/14/17	L.E. Steidl	5.80	Assist in legal review and analysis of client collections and case production materials for key documents related to entity status issues and coordinate preparation and export of same for addition to trial team prep binders (2.3); meet with review attorney to address questions related to same (0.3); confer with R. Tausend regarding outstanding collection and production issues requiring follow up (0.2); compile and review targeted collections received from client via email and coordinate imaging and preparation of same for incorporation into case review and production database, and trial team hot documents binder (0.7); address bank account issues raised in J. Gilmore email including comparison of dropbox upload from J. Gilmore against productions made to date to identify new materials for production, and review of collection materials for documents relating to deposit-only account and transfers of funds between NWTM and Medallic (2.3)
02/14/17	R. M. Tausend	1.60	Address. B. Peterson questions and requests relating to M. Flynn and E. Robinson Marketing documents, including related communications with e-DAT Team (0.4); strategize with C. Wyant and B. Peterson regarding discovery responses and proof chart and documents relevant to same (0.3); provide guidance regarding identification of "hot" documents and updates to trial team binders to T. Hughes and L. Steidl and review materials regarding same (0.9)
02/15/17	M. Bassetti	0.30	Coordinate print job of prior production documents for D. Evans per request by L. Steidl
02/15/17	T. S. Milne	2.00	Analyze, organize and edit Medallic-Add'l files for Trial Prep Binder for image conversion and provide in chronological order in response to request from L. Steidl
02/15/17	L.E. Steidl	5.50	Assist in legal review and analysis of client collections and case production materials for

DATE	NAME	HOURS	DESCRIPTION
			key documents related to entity status issues and coordinate preparation and export of same for addition to trial team prep binders (4.2); meet with C. Wyant and R. Tausend to discuss and strategize response to plaintiff's first set of interrogatories and requests for production (0.6); confer with R. Tausend regarding outstanding collection and production issues requiring follow up (0.3); compile and review targeted collections received from client via email and coordinate imaging and preparation of same for incorporation into case review and production database, and trial team hot documents binder, conferring with D. Evans regarding same (0.4)
02/15/17	R. M. Tausend	2.00	Working session with C. Wyant and L. Steidl regarding interrogatory and RFP responses (0.7); emails with A. Trunkett regarding G. Fullington legal files and related topics (0.2); confer with M. Gearin regarding legal and accounting files (0.2); update summary of document collection, review and production activities and status and review interview notes in connection with same (0.9)
02/16/17	L.E. Steidl	7.50	Assist in legal review and analysis of client collections to identify files for production and to locate key documents related to entity status issues for addition to trial team prep binders and for reference in proof chart (6.0); confer with R. Tausend regarding details of scope and confidentiality endorsements for 2/17/2017 production (0.6); compile final production set and provide detailed instructions for technical team regarding preparation, export, and transfer of production images and data (0.9)
02/16/17	R. M. Tausend	2.50	Emails from/to A. Trunkett to clarify and confirm status of G. Fullington and other inhouse counsel/Legal office hard copy files and Legal/MAC file share (0.4); review and respond to M. Gearin email re R. Vugteveen files and ESI collections (0.2); strategize with M. Gearin and B. Peterson regarding privilege and production issues and draft protective and clawback orders, and provide information and documents in response to requests regarding same (0.5); analyze collection records and custodian interview notes relative to answers

DATE	NAME	HOURS	DESCRIPTION to interrogatory and RFP responses, address
			production questions and strategize with L. Steidl regarding production plan and scope in preparation for Friday submission of discovery responses and production of documents (1.4)
02/17/17	M. Bassetti	0.50	Analyze documents confirming compliance with production specifications (0.4); prepare February 18th document production to Medallic Art Company, LLC per request of L. Steidl (0.1)
02/17/17	T. S. Milne	5.50	Electronically produce NWTM 0019622- NWTM 0080952 out of litigation support database per the request of L. Steidl for production to opposition
02/17/17	L.E. Steidl	7.00	Review and analysis of client collections to locate key documents related to entity status issues for addition to trial team prep binders and assist in editing proof chart with information regarding same (4.0); confer with R. Tausend and A. Trunkett regarding collection and delivery of legal files to K&L Gates for review and processing (0.4); assist and supervise preparation, export, QC, and transfer of production images and data, including internal and external communications regarding details of same (2.6)
02/17/17	R. M. Tausend	0.90	Emails with A. Trunkett and related discussions with L. Steidl and B. Peterson regarding status of potentially responsive legal and accounting office hard copy files, with review and summary of prior A. Trunkett representations relations to same to facilitate confirmation of completion (0.6); confer with B. Peterson regarding discovery responses (0.1); address questions relating to production to facilitate completion and delivery (0.2)
02/20/17	L.E. Steidl	1.30	Review and analysis of client collections to locate key documents related to entity status issues for production and/or addition to trial team prep binders (1.2); confer with R. Tausend regarding incoming collections from A. Trunkett (0.1)
02/20/17	R. M. Tausend	2.50	Call and emails from A. Trunkett to address open questions relating to Legal, Accounting and operational hard copy files (0.3); assess files in 3 double-sized bankers' boxes and 1 regular size bankers box from A. Trunkett and develop and summarize recommendations

DATE	NAME	HOURS	DESCRIPTION
			relating to same (2.2)
02/21/17	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM009 to Medallic Art Company, LLC per request by L. Steidl
02/21/17	L.E. Steidl	3.20	Review and analysis of client collections to locate key documents related to entity status issues for production and/or addition to trial team prep binders and proof chart, coordinating printing and delivery of same for addition to binders
02/22/17	L.E. Steidl	6.00	Review and analysis of client collections to locate key documents related to entity status issues for production and/or addition to trial team prep binders and proof chart (5.2); confer with R. Tausend regarding prioritization of files for review and production, and additional collections needed from client for purposes of responding to Plaintiff's first set of requests for production (0.8)
02/22/17	R. M. Tausend	3.20	Review and respond to M. Gearin questions and requests regarding certain documents underlying Cascade Capital analyses (0.2); strategize with L. Steidl regarding targeted review and production, and related privilege issues (0.4); analyze documents; (2.4); email to trial team regarding hard copy financials and other A. Trunkett newly located materials (0.2)
02/23/17	T. Hughes	7.60	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
02/23/17	L.E. Steidl	9.10	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and identify key documents related to entity status issues for addition to trial team prep binders and proof chart (6.7); provide information requested by B. Peterson for use in requests for admission (2.4)
02/23/17	R. M. Tausend	0.40	Communications from B. Peterson regarding new discovery requests to Medallic and related questions and requests regarding produced documents and from L. Steidl and T. Milne regarding supplemental targeted document review and production plan and related privilege and substantive issues
02/24/17	M. Bassetti	0.60	Analyze documents confirming compliance with February 24th production volume NWTM010 specifications per request of L.

DATE	NAME	HOURS	DESCRIPTION
02/24/17	M. H. Hoefer	0.40	Steidl Analyze documents confirming compliance
			with production specifications for production volume NWTM010 at the request of L. Steidl
02/24/17	T. Hughes	6.00	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
02/24/17	T. Hughes	5.20	Legal review and analysis of client collections and case production materials to identify key documents related to entity (MAC/NWTM) status issues for addition to trial team prep binders
02/24/17	C. M. Kuffel	0.20	Identify key produced documents and designate in Ringtail for attorney review per the request of L. Steidl
02/24/17	T. S. Milne	3.00	Electronically produce NWTM 0080953 - NWTM 0089835 out of litigation support database per the request of L. Steidl for production to opposition
02/24/17	L.E. Steidl	10.60	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and identify key documents for trial team proof chart (6.5); coordinate, supervise, and assist technical and litigation support team in preparation, export, QC, and transfer of production files and images - including provision of detailed instructions for same (2.0); provide information requested by B. Peterson for use in requests for admission and proof chart (1.9); review J. Gilmore commodity transaction analysis and communicate with J. Gilmore regarding supporting documentation used in compiling same (0.2)
02/24/17	R. M. Tausend	0.90	Review proposed Exhibits to RFAs listing bates numbers for various categories of documents (0.2); strategize with B. Peterson and M. Gearin regarding RFA exhibits and provide recommendations relating to same (0.4); review, edit and supplement draft email to opposing counsel relating to discovery (0.3)
02/25/17	T. Hughes	4.60	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
02/26/17	L.E. Steidl	0.20	Assist in procuring key documents requested by B. Peterson for use in requests for admission
02/27/17	M. Bassetti	0.00	Update chain of custody tracking logs for

DATE	NAME	HOURS	DESCRIPTION
			production of volume NWTM010 to Medallic Art Company, LLC per request by L. Steidl
02/27/17	T. Hughes	3.20	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
02/27/17	L.E. Steidl	1.10	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and identify key documents for trial team proof chart (0.5); provide information requested by B. Peterson for use in requests for admission (0.6)
02/27/17	R. M. Tausend	0.40	Review email from A. Orth regarding RFAs and provide information and recommendation to B. Peterson regarding same (0.1); respond to B. Peterson request for information relating to Medallic financials and coordinate with L. Steidl to complete open items (0.3)
02/28/17	M. H. Hoefer	0.50	Prepare hard copy for pickup by Altep Inc.; provide Altep specifications on the electronic preparation of hard copy
02/28/17	L.E. Steidl	0.70	Assist and supervise in the staging, review and analysis of client collections to locate documents for production (0.5); confer with R. Tausend regarding same (0.2)
02/28/17	R. M. Tausend	0.90	Analyze subset of A. Trunkett identified additional hard copy legal files in preparation for imaging and production and provide instructions to technical team regarding same (0.3); strategize with L. Steidl regarding documents supporting J. Gilmore payments analysis and NWTM documents remaining for review in Ringtail (0.3); analyze and update summary of document collections and productions, review deposition schedule, and confer with C. Wyant regarding same (0.3)
	TOTAL	FEES	136.20 hrs \$ 44,238.50

Invoice # 3427422 2070561 Page 10 of 10

TIMEKEEPER SUMMARY

M. Bassetti	1.80	hrs at	\$	95.00	/ hr		171.00
M. H. Hoefer	0.90	hrs at	\$	95.00	/ hr		85.50
T. Hughes	38.40	hrs at	\$	135.00	/ hr		5,184.00
C. M. Kuffel	0.20	hrs at	\$	240.00	/ hr		48.00
T. S. Milne	12.00	hrs at	\$	180.00	/ hr		2,160.00
L.E. Steidl	59.60	hrs at	\$	395.00	/ hr		23,542.00
R. M. Tausend	23.30	hrs at	\$	560.00	/ hr		13,048.00
	TOTAL FEES		136.2	0 hrs		\$_	44,238.50

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
02/28/17	ESI Conversion: Convert 0.06998 GB to TIFF images @ \$500/GB: \$34.99	34.99
02/28/17	ESI Conversion: Convert 0.101054 GB to TIFF images @ \$500/GB: \$50.53. OCR 14 pages @ \$0.02/page: \$0.28	50.81
02/28/17	Ringtail Fees: February 2017 Data Storage Fees: 7.11321 GB @ \$15.00/GB: \$106.70	106.70
	DISBURSEMENTS & OTHER CHARGES \$_	192.50

MATTER SUMMARY

Fees	\$	44,238.50
Disbursements and Other Charges	\$_	192.50
MATTER TOTAL	\$_	44,431.00

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC

1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428092

Services Through : March 31, 2017

Our File Number : 2070561

INVOICE	SUMMA	RY RY	MATTER
		<i>(IV</i> D	

Asset Analysis and Recovery (70010

Fees	\$ <u>126.00</u>	
Total Amount Due This Matter		\$ 126.00

Asset Disposition (70020)

Fees	\$ <u>5,056.00</u>	
Total Amount Due This Matter		\$ 5.056.00

Business Operations (70030)

rees	\$ <u>417.50</u>	
Total Amount Due This Matter		\$ 417.50

Case Administration (70040)

Fees	\$ <u>3,486.00</u>	
Total Amount Due This Matter		\$ 3,486.00

Claims, Administration and Objections (70050)

Fees	\$ 501.00	
Total Amount Due This Matter		\$ 501.00

500663802 v2

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

				niv.	2070561 Page 2 of 33
Litigation (70100)					
Fees Total Amount Due This Matter	\$	1	,197.00	\$	1,197.00
Trustee v Medallic Art Co LLC (70101)					
Fees Total Amount Due This Matter	\$	121	,214.00	\$	121,214.00
Trustee v Diane Erdmann (70102)					
Fees Total Amount Due This Matter	\$	7	,770.00	\$	7,770.00
EEOC v NW Territorial Mint, LLC, USDC Case	(701	104)			
Fees Total Amount Due This Matter	\$		832.00	\$	832.00
American Express Fraudulent Transfer Action (70107)					
Fees Total Amount Due This Matter	\$	16	,208.00	\$	16,208.00
Meetings and Communications with Creditors (70110)					
Fees Total Amount Due This Matter	\$	5	,835.00	\$	5,835.00
Tax (70140)					
Fees Total Amount Due This Matter	\$	1	,173.00	\$	1,173.00
Assumption and Rejection of Leases and Contracts (70150)					
Fees Total Amount Due This Matter	\$	1	,933.00	\$	1,933.00

Invoice # 3428092

K&L GATES

Invoice # 3428092 2070561 Page 3 of 33

\$ <u>168,313.68</u>

Reporting ((70210)	١

CURRENT INVOICE DUE - All Matters

Fees Total Amount Due This Matter	\$	423.00	\$	423.00
US-TMK: MACO - CL. 14 - 28718361 (70240)				
Fees Total Amount Due This Matter	\$	72.00	\$	72.00
US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)				
Fees Total Amount Due This Matter	\$	265.00	\$	265.00
Costs (99999)				
Disbursements and Other Charges Total Amount Due This Matter	\$	1,805.18_	\$	1,805.18

Invoice # 3428092 2070561 Page 4 of 33

\$126.00

DATE	NAME	HOURS	DESCRIPTION	
03/28/17	D. A. Lentz	0.60	Work on declarations for T. E property and for business inv	
		TOTAL FEES	0.60 hrs	\$ 126.00
		TIMEKEEPI	ER SUMMARY	
D. A. Lentz		0.60 TOTAL FEES	hrs at \$ 210.00 / hr 0.60 hrs	126.00 \$ 126.00
		101/121220	0.00	Ψ 120.00
		MATTER	SUMMARY	
Fees MATTER T	OTAL			\$ <u>126.00</u> \$ 126.00

Asset Disposition (70020)

\$5,056.00

DATE	NAME	HOURS	DESCRIPTION
03/08/17	M.J. Gearin	0.70	Communications with Trustee and interested
03/10/17	M.J. Gearin	3.20	purchasers regarding excess equipment sales Communications with Trustee regarding equipment sale (0.5); revisions to pleadings on sale of surplus equipment (2.5); message for R. Hyatt regarding Pan American issues in connection with equipment sales (0.2)
03/10/17	D. A. Lentz	3.20	Draft of motion to sell equipment, declaration in support of motion, notice of hearing, proposed order, motion to shorten time, proposed order re shorten time (2.5); finalize and file all documents with USBC and send for service (.7)
03/10/17	B. T. Peterson	1.00	Review and cite check motion to sell equipment
03/13/17	M.J. Gearin	0.80	Review and analysis of Pan American claims file regarding security interest issues (.5); call with R. Hyatt regarding proposed sale of surplus equipment (.3)
03/13/17	M.J. Gearin	0.40	Communications with Trustee re surplus equipment sale motion
03/14/17	D. A. Lentz	0.60	Meet with M. Gearin regarding re-notice of hearing on surplus equipment (.1); drafting of re-noted hearing and prepare for service to special notice list (.4); email to USBC clerk's office regarding docketing of re-noted notice of hearing (.1)
03/15/17	M.J. Gearin	0.50	Call with Trustee regarding surplus equipment sale and other potential asset dispositions
03/15/17	D. A. Lentz	0.60	Prepare and file proof of service regarding notice of hearing on sale of surplus equipment filed on March 10th (.2); file notice of re-noted hearing with USBC (.2); prepare and file proof of service regarding re-noted hearing (.2)
03/15/17	D. A. Lentz	0.90	Work with M. Gearin regarding issues surrounding Beckman Foundation (.2); drafting of purchase and sale agreement regarding same (.7)
03/27/17	M.J. Gearin	0.40	Communications with Trustee and staff regarding surplus equipment sale and Pan American interests
03/29/17	M.J. Gearin	0.60	Communications with P. Wagner regarding surplus equipment and Pan American lien
500663802 v2			

K&L GATES

Invoice # 3428092 2070561 Page 6 of 33

DATE	NAME	HOURS	DESC	RIPTI	ON			
03/29/17	D. A. Lentz	0.50 TOTAL FEES	issues and Beckman Founda Drafting of letter regarding Be Foundation purchase 13.40 hrs			_		
		TIMEKEEP	ER SUN	/MAR	<u>Y</u>			
D. A. Lentz B. T. Peterson		6.60 5.80 1.00 TOTAL FEES	hrs at hrs at hrs at	\$ \$ \$ 13.4	530.00 210.00 340.00 0 hrs	/ hr	\$ <u></u>	3,498.00 1,218.00 340.00 5,056.00
		MATTER	SUMM	IARY				
Fees MATTER 1	TOTAL						\$_ \$_	5,056.00 5,056.00

Invoice # 3428092 2070561 Page 7 of 33

Business Operations (70030)

\$417.50

DATE	NAME	HOURS	DESC	RIPTION			
03/14/17	J. Scheuermann	0.50			policies to s		
				ding same	s and e-mail	to ivi. Ge	ann
	TOTA	L FEES		0.50 hr	S	\$	417.50
		TIMEKEEP	ER SUN	<u>IMARY</u>			
J. Scheuerr	mann	0.50	hrs at	\$ 835	5.00 / hr		417.50
	TOTA	L FEES		0.50 hr	S	\$	417.50
		MATTER	SUMM	IARY			
Fees						\$	417.50
MATTER T	OTAL					\$	417.50

Invoice # 3428092 2070561 Page 8 of 33

Case Administration (70040)

\$3,486.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/02/17	M.J. Gearin	3.10	Meet with Trustee regarding multiple case issues including Hansen request for tax information, lease disputes, equipment liquidation, and committee communications
03/07/17	M.J. Gearin	0.70	Call with M. Calvert and P. Wagner regarding Hansen contacts with employees and case issues
03/08/17	M.J. Gearin	0.30	Communications with Trustee and M. Northrup regarding Hansen communications with employees
03/14/17	M.J. Gearin	0.70	Calls with Trustee regarding multiple case issues including Beckman sale, committee communications and business operations matters
03/17/17	M.J. Gearin	0.70	Communications with Trustee regarding committee issues, surplus equipment sale and other case issues
03/21/17	M.J. Gearin	0.80	Multiple calls and emails with Trustee regarding committee issues, Bressler settlement and equipment sale matters
03/23/17	D. A. Lentz	0.70	Drafting of declarations of D. Petteys and D. James re creditor committee
		TOTAL FEES	7.00 hrs \$ <u>3,486.00</u>
		TIMEKEEP	ER SUMMARY
M.J. Gearin D. A. Lentz		6.30 0.70 TOTAL FEES	hrs at \$ 530.00 / hr 3,339.00 hrs at \$ 210.00 / hr 147.00 7.00 hrs \$ 3,486.00

MATTER SUMMARY

Claims, Administration and Objections (70050)

\$501.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/01/17	B. T. Peterson	0.10	Email to client regarding environmental report provided by former landlord in Tomball
03/02/17	B. T. Peterson	0.10	Draft email to client regarding discussions with former Tomball landlord
03/06/17	D. A. Lentz	0.20	Email from E. Robinson regarding certain claims and review of claims register regarding same (.1); email E. Robinson regarding results (.1)
03/09/17	D. A. Lentz	0.50	Phone call with creditor regarding proof of claim and error in creditor name (.2); review of claim filing process and draft email to creditor regarding amendment of claim (.3)
03/30/17	D. A. Lentz	0.10	Review of proof of claim filed by Virginia landlord
03/31/17	M.J. Gearin	0.50	Email exchanges with P. Wagner and R. Hyatt regarding Pan American secured claim
	TOTAL	. FEES	1.50 hrs \$ <u>501.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.50	hrs at	\$	530.00 / hr	265.00
D. A. Lentz	0.80	hrs at	\$	210.00 / hr	168.00
B. T. Peterson	0.20	hrs at	\$	340.00 / hr	68.00
	TOTAL FEES		1.5	50 hrs	\$ 501.00

Fees	\$_	<u>501.00</u>
MATTER TOTAL	\$ _	501.00

Invoice # 3428092 2070561 Page 10 of 33

Litigation (70100)

\$1,197.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/16/17	D.C. Neu	0.20	Review motion for 2004 examination of L. Martini
03/17/17	D. A. Lentz	0.50	Final review and revision of objection to application for 2004 exam of L. Martini and corresponding declaration (.3); file same with USBC (.2)
03/17/17	D.C. Neu	0.90	Draft opposition to 2004 examination of L. Martini and declaration in support
03/27/17	D.C. Neu	0.90	Review revised 2004 pleading (.3); communications regarding settlement issues (.6)
03/30/17	M.J. Gearin	0.40	Call with B. Werner regarding privilege waiver issues; continued research regarding limited privilege waiver
		TOTAL FEES	2.90 hrs \$ <u>1,197.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.40	hrs at	\$	530.00 / hr		212.00
D. A. Lentz	0.50	hrs at	\$	210.00 / hr		105.00
D.C. Neu	2.00	hrs at	\$	440.00 / hr		880.00
	TOTAL FEES		2.9	0 hrs	\$_	1,197.00

Fees	\$ <u>1,197.00</u>
MATTER TOTAL	\$ <u>1,197.00</u>

Trustee v Medallic Art Co LLC (70101)

\$121,214.00

DATE	NAME	HOURS	DESCRIPTION
03/01/17	M.J. Gearin	0.90	Prepare for, travel to and attend status conference
03/01/17	M.J. Gearin	0.70	Attention to Bressler settlement issues
03/01/17	B. T. Peterson	0.40	Review and revise summary of progress in preparation for trial (.2); conference with C. Wyant regarding status conference (.2)
03/01/17	C.M. Wyant	4.70	Research expert disclosure issues (.7); draft email summarizing tasks to be performed and requests for additional information from M. Calvert (.3); draft portions of expert disclosure (.5); draft deposition outlines and review documents for same (3.2);
03/02/17	M.J. Gearin	1.30	Meet with Trustee re expert analysis in support of subcon claims
03/02/17	M.J. Gearin	0.30	Review letter from A. Orth regarding discovery
03/02/17	T. M. Gracey	0.70	Analyze, organize and edit Hard copy data set in preparation for staging into Ringtail (0.1); stage ESI in Calvert NW BKRPT Ringtail database (0.2); perform complex modifications to database files to convert Concordance-formatted material into Ringtail format in preparation for metadata overlay (0.1); organize and stage metadata overlay into Ringtail in preparation for review (0.1); perform text extraction and indexing procedures on new data in preparation for search and review at the request of L. Steidl (0.7)
03/02/17	B. T. Peterson	1.10	Coordinate management of documents and exhibits for trial
03/02/17	C.M. Wyant	4.50	Conference with M. Calvert regarding expert testimony disclosure (1.5); draft expert disclosure (.8); work on draft outline for trial presentation (2.0); review letter from Medallic counsel regarding discovery (.2)
03/03/17	M.J. Gearin	1.20	Review letter from A. Orth (.2); meet regarding expert disclosure draft (.2); interview witnesses (.8)
03/03/17	B. T. Peterson	0.40	Discuss discovery related issues with C. Wyant and M. Gearin
03/03/17	C.M. Wyant	4.70	Draft and revise expert disclosure (.8); review Plaintiff's expert disclosure and discuss with M. Gearin (.2); begin drafting notes for
500663802 v2			

DATE	NAME	HOURS	DESCRIPTION
			response to discovery letter from A. Orth (1.0); continue deposition preparation (1.5); revise and send email to M. Calvert regarding case status (.2); research related to expert
			disclosure issue (1.0);
03/04/17	B. T. Peterson	0.30	Review letter from A. Orth regarding discovery
03/06/17	M.J. Gearin	1.60	Meet regarding response to A. Orth letter regarding discovery matters (1.5); email from A. Orth (0.1)
03/06/17	M.J. Gearin	0.80	Draft revisions to Bressler settlement agreement
03/06/17	M.J. Gearin	0.60	Draft revisions to witness declaration for D. Carlton
03/06/17	D. A. Lentz	0.70	Draft of declaration of creditor (Carlton) regarding trial testimony
03/06/17	B. T. Peterson	0.10	Draft email regarding potential witness for trial
03/06/17	C.M. Wyant	4.30	Conference with M. Gearin and R. Tausend regarding discovery letter and document production (1.5); draft letter to A. Orth regarding discovery (2.5); (.3) begin expert letter and schedule deposition
03/07/17	M.J. Gearin	1.20	Review and revise letter to A. Orth regarding discovery issues (0.6); review letter to A. Orth regarding expert disclosures (0.2); revisions to draft declaration of D. Carlton (0.4)
03/07/17	M.J. Gearin	2.00	Revisions to Bressler settlement agreement (1.5); teleconference with and email exchanges with T. Lerner regarding same (.5)
03/07/17	B. T. Peterson	0.10	Review correspondence related to discovery
03/07/17	C.M. Wyant	5.60	Draft and revise letter to A. Orth regarding discovery (3.2); research and draft letter to A. Orth regarding expert disclosure (1.4); continue deposition preparation (1.0)
03/08/17	M.J. Gearin	2.30	Communications with T. Lerner and Trustee regarding settlement issues (0.8); revisions to Bressler settlement agreement (1.5)
03/08/17	M.J. Gearin	0.50	Meet with C. Wyant regarding Rule 37 conference and review of prior correspondence with Medallic counsel regarding discovery issues
03/08/17	D. A. Lentz	0.80	Meet with M. Gearin to discuss upcoming call with opposing counsel (.1); review of and organization of all discovery correspondence in case (.7)
03/08/17	B. T. Peterson	0.20	Phone calls to potential witnesses
03/08/17	B. T. Peterson	0.40	Conference with C. Wyant and M. Gearin related to discovery matters
03/08/17	B. T. Peterson	0.90	Create fact summaries and identify and

DATE	NAME	HOURS	DESCRIPTION
03/08/17	C.M. Wyant	4.10	document evidence Revise and send expert letter to A. Orth (.3); review prior correspondence regarding discovery for conference (.7); hold discovery conference with A. Orth and draft notes regarding same (1.5); discuss discovery conference and related issues with M. Gearin and B. Peterson (.3); continue preparation for depositions and review of hot documents (1.3)
03/09/17	M.J. Gearin	3.10	Revisions to Bressler settlement agreement (1.9); calls and emails with T. Lerner regarding same (1.2)
03/09/17	M.J. Gearin	2.20	Draft outline of witness identification for trial prep and circulate to trial team
03/09/17	D. A. Lentz	0.40	Review of physical documents regarding search for corporate annual meeting notes
03/09/17	B. T. Peterson	0.90	Analysis of issues related to witness testimony at trial
03/09/17	B. T. Peterson	0.20	Correspondence regarding document preparation
03/09/17	C.M. Wyant	4.30	Draft letter to A. Orth regarding discovery conference (2.0); review and respond to emails regarding document collection issues for same (.4); draft email to L. Steidl regarding protective order designations and review log for same (.3); continue work on deposition preparation and review of documents for trial (1.6)
03/10/17	M.J. Gearin	0.50	Revisions to letter to A. Orth (.2); communications regarding discovery and expert matters (.3)
03/10/17	B. T. Peterson	0.10	Review email correspondence regarding production of documents
03/10/17	C.M. Wyant	3.60	Draft and revise letter to A. Orth re discovery and expert disclosure and discuss same with M. Gearin (2.4); begin drafting summary of tasks completed and future assignments for Trustee (.5); review draft outline of issues of trial (.2); continue deposition preparation (.5)
03/12/17	B. T. Peterson	3.70	Draft motion to approve settlement with R. Bressler
03/13/17	M.J. Gearin	2.20	Communications with T. Lerner regarding execution of Bressler settlement agreement (0.8); revisions to draft motion for approval of same (1.4)
03/13/17	P. K. Jacobson	0.60	Numerous emails regarding discovery relating to trademarks (.4); identify and review requested discovery for production (.2)

DATE	NAME	HOURS	DESCRIPTION
03/13/17	D. A. Lentz	0.60	Work with B. Peterson regarding binder for exhibits for trial and organize same
03/13/17	B. T. Peterson	2.80	Draft motion to approve settlement agreement with R. Bressler
03/13/17	B. T. Peterson	0.20	Correspondence regarding discovery related to trial
03/13/17	B. T. Peterson	0.30	Conference with M. Gearin regarding Bressler settlement
03/13/17	C.M. Wyant	2.40	Review and respond to email regarding rebuttal expert disclosure (.1); draft notes for rebuttal expert disclosure (.3); draft portions of supplemental discovery disclosures (.5); draft summary notes for email to M. Calvert (.2); continue reviewing documents for deposition preparation (1.2); respond to email regarding next document production (.1)
03/14/17	M.J. Gearin	2.40	Draft revisions to motion to approve Bressler settlement
03/14/17	D. A. Lentz	0.30	Finalize current potential exhibits and binders regarding same for B. Peterson
03/14/17	B. T. Peterson	0.40	Draft second supplemental witness disclosure
03/14/17	C.M. Wyant	2.50	Review draft privilege log and draft emails regarding same (.3) work on witness and exhibit strategy for trial (1.0); continue deposition preparation (1.2)
03/15/17	M.J. Gearin	1.10	Meet with trial team regarding trial preparations matters, including records admissibility and witness interviews
03/15/17	M.J. Gearin	2.10	Continued drafting of revisions to motion to approve Bressler settlement agreement
03/15/17	B. T. Peterson	1.20	Conference regarding trial preparation
03/15/17	C.M. Wyant	2.50	Conference with M. Gearin and B. Peterson to discuss trial brief, depositions and case strategy (1.1); begin work on research and drafting for motion to exclude expert testimony (1.2); coordinate obtaining remaining records custodian declarations for bank records (.2);
03/16/17	M.J. Gearin	3.20	Meet with Trustee and trial prep team regarding trustee testimony preparation
03/16/17	D. A. Lentz	1.10	Review of bank subpoenas for case and research for corresponding custodian declarations (.9); email to group regarding findings (.2)
03/16/17	D. A. Lentz	0.90	Research regarding potential witnesses
03/16/17	B. T. Peterson	2.80	Meeting with Trustee and M. Gearin regarding Trustee testimony and expert analysis
03/16/17	B. T. Peterson	0.20	Document review

DATE	NAME	HOURS	DESCRIPTION
03/16/17	C.M. Wyant	5.60	Prepare for and attend conference with M. Calvert and team regarding expert analysis and trial preparation (3.8); continue work on deposition preparation (1.0); research for motion to exclude expert (.8)
03/17/17	M.J. Gearin	1.50	Continued drafting of motion to approve Bressler settlement
03/17/17	B. T. Peterson	2.90	Review of documents related to trial preparation and correspondence regarding the same
03/17/17	C.M. Wyant	4.70	Draft motion to exclude expert witness and review case law for same (4.0); work on preparing supplemental discovery responses (.7)
03/20/17	M.J. Gearin	0.90	Revisions to draft witness declaration of D. Carlton; call with D. Carlton
03/20/17	M.J. Gearin	0.30	Call with T. Bucknell regarding Medallic case issues
03/20/17	M.J. Gearin	2.20	Meet with C. Wyant and B. Peterson regarding trial preparation matters including deposition preparations, expert motion and witness interviews (0.4); revisions to motion to exclude expert (0.8); review email production materials (1.0)
03/20/17	D. A. Lentz	0.20	Finalize witness declaration of D. Carlton and corresponding exhibits and email same to D. Carlton
03/20/17	D. A. Lentz	0.80	Draft declaration of C. Wyant in support of motion to exclude expert testimony
03/20/17	D.C. Neu	0.80	Review email regarding bank subpoenas (.1); review subpoena document production (.5); respond to email (.1)
03/20/17	B. T. Peterson	0.90	Review and edit motion to exclude expert witness
03/20/17	B. T. Peterson	0.70	Review and analyze documents for trial
03/20/17	B. T. Peterson	2.80	Draft trial brief
03/20/17	B. T. Peterson	0.30	Discuss issues related to Bressler settlement with M. Gearin
03/20/17	C.M. Wyant	5.70	Continue drafting and revising motion to exclude expert and declaration (2.3); draft email to A. Orth regarding depositions (.1); continue deposition preparation (1.5); draft supplemental interrogatory answers (1.8)
03/21/17	M.J. Gearin	0.80	Consult with Trustee regarding expert testimony
03/21/17	M.J. Gearin	1.10	Meet regarding witness preparations (0.4); communications with D. Carlton regarding declaration draft (0.7)

DATE	NAME	HOURS	DESCRIPTION
03/21/17	D. A. Lentz	0.20	Review of emails from creditor D. Carlton and revisions to declaration regarding same
03/21/17	D. A. Lentz	1.20	Final review and revision of motion to exclude testimony and declaration in support of same including preparation of exhibits (.4); draft notice of hearing (.3); file motion and corresponding documents with USBC (.3); email documents to client and calendar hearing dates and deadlines (.2)
03/21/17	B. T. Peterson	0.30	Review and revise proposed order excluding Plaintiff's expert witness
03/21/17	C.M. Wyant	5.10	Continue drafting supplemental discovery responses (1.0); review and respond to email regarding production of additional documents (.2); draft interview questions and contact R. Vugteveen regarding serving as witness (.3); final review of motion and declaration to exclude expert and draft proposed order (1.2); continue deposition preparation (2.0); conference with M. Gearin regarding settlement issues and case tasks (.4)
03/22/17	M.J. Gearin	1.10	Meet with T. Bucknell regarding settlement proposal of Medallic
03/22/17	M.J. Gearin	1.90	Meet with P. Wagner regarding witness preparation for Medallic trial
03/22/17	M.J. Gearin	0.70	Review letter from A. Orth regarding request to continue trial date; call with M. Calvert regarding same
03/22/17	M.J. Gearin	0.50	Calls with M. Calvert regarding Medallic settlement discussions and meeting with T. Bucknell
03/22/17	D. A. Lentz	0.90	Research for addresses and update supplemental disclosures with addresses for creditors
03/22/17	B. T. Peterson	2.70	Draft phase 1 trial brief
03/22/17	B. T. Peterson	0.40	Email correspondence regarding document production
03/22/17	B. T. Peterson	0.70	Draft witness disclosure
03/22/17	B. T. Peterson	5.20	Meetings with potential witnesses for trial
03/22/17	C.M. Wyant	4.10	Interview Paul Wagner for trial testimony and draft notes and email regarding same (1.5); review letter fro A. Orth regarding discovery issues and potential motion, discuss with M. Gearin, and draft response to same (2.4); draft email to A. Orth regarding protective order and 502 order (.1); draft email to M. Calvert regarding deposition scheduling (.1)
03/23/17	M.J. Gearin	0.90	Comments to discovery letter to A. Orth

DATE	NAME	HOURS	DESCRIPTION
03/23/17	M.J. Gearin	2.20	Communications with Trustee and T. Bucknell regarding Medallic proposed settlement
03/23/17	D. A. Lentz	0.90	Draft notices of deposition for R. Vugteveen, B. Miles and H. Hornung (.7); serve notices on opposing party via email and legal messenger (.2)
03/23/17	D. A. Lentz	0.20	Review of amended trial order and update as needed
03/23/17	D. A. Lentz	0.30	Continued revisions to supplemental disclosures
03/23/17	D. A. Lentz	0.40	Review of motion to turnover property, continue hearing, etc. and send copies of documents to client (.3); calendar hearing dates and deadlines regarding same (.1)
03/23/17	B. T. Peterson	1.60	Communications with creditors regarding witness testimony
03/23/17	B. T. Peterson	0.60	Draft deposition notices
03/23/17	C.M. Wyant	5.80	Discuss deposition scheduling and draft emails regarding same (.6); revise and send letter to A. Orth regarding discovery and pending motions (.5); review motion and declaration filed by MACLLC (.7); continue preparing for MACLLC and Hansen depositions (3.5); conference regarding settlement issues (.5)
03/24/17	M.J. Gearin	0.60	Review settlement offer from Medallic; communications with Trustee regarding same
03/24/17	M.J. Gearin	0.50	Communications with Trustee regarding reasonable equivalence and insolvency analyses
03/24/17	D. A. Lentz	0.40	Drafting of notice of deposition of W. Tenant (.2); serve same on opposing counsel via email and legal messenger (.2)
03/24/17	D. A. Lentz	0.70	Work on tracking down record custodian declarations for trial re bank accounts
03/24/17	D. A. Lentz	0.90	Drafting of declaration of T. Tomaccio and discuss same with C. Wyant; drafting of declaration of M. Staley; review of files regarding additional declarations
03/24/17	B. T. Peterson	0.30	Draft second supplemental disclosures
03/24/17	B. T. Peterson	0.20	Communications with potential witnesses
03/24/17	B. T. Peterson	1.10	Communications with potential witness and attorney regarding deposition
03/24/17	C.M. Wyant	6.30	Draft email to A. Orth regarding Protective Order and 502 Order and revise same (.6); draft emails regarding deposition scheduling and draft declarations (.4); revise supplemental discovery responses (.3);

DATE	NAME	HOURS	DESCRIPTION
			continue drafting deposition outlines and reviewing documents for same (5.0)
03/26/17	B. T. Peterson	0.20	Draft pretrial brief
03/27/17	M.J. Gearin	2.30	Review of Trustee's reasonably equivalent value report and extended call with Trustee
03/27/17	M.J. Gearin	0.80	regarding same Multiple calls and email exchange with T. Bucknell regarding settlement proposal of R. Hansen
03/27/17	D. A. Lentz	0.30	Telephone calls with HomeStreet Bank regarding records declaration (.2); review of declaration emailed from HomeStreet Bank (.1)
03/27/17	B. T. Peterson	0.20	Communications with potential witnesses
03/27/17	B. T. Peterson	0.80	Meeting with C. Wyant regarding trial preparation
03/27/17	B. T. Peterson	4.90	Research and draft trial brief
03/27/17	B. T. Peterson	0.90	Review deposition outline
03/27/17	C.M. Wyant	8.20	Continue drafting deposition outline for Hansen and MACLLC depositions and reviewing documents for same (7.5); discuss deposition issues with B. Peterson (.4); draft email to M. Calvert regarding deposition (.1); draft proposed declaration for potential creditor witness (.3)
03/28/17	M.J. Gearin	1.70	Meet with Trustee and C. Wyant regarding preparations for R. Hansen deposition
03/28/17	M.J. Gearin	1.10	Communications including calls and emails with T. Bucknell and Trustee regarding settlement
03/28/17	M.J. Gearin	1.10	Review and analyze Medallic motion for continuance and discuss response with C. Wyant
03/28/17	D. A. Lentz	0.80	Review of status of records custodian declarations (.3); meet with C. Wyant regarding same (.1); follow up with Banner Bank, Discover, and Capital One (.4)
03/28/17	B. T. Peterson	0.50	Conferences with potential witnesses
03/28/17	B. T. Peterson	3.80	Draft deposition outlines for witnesses in Dayton, Nevada
03/28/17	B. T. Peterson	0.80	Trial and witness preparation
03/28/17	C.M. Wyant	6.50	Continue preparing for Hansen and MACLLC depositions and meet with M. Calvert regarding same (5.5); draft email to A. Orth regarding deposition and hearing scheduling (.1); draft email regarding response to RFAs and interrogatories (.2); conference with D. Evans regarding records custodian

DATE	NAME	HOURS	DESCRIPTION
			declarations (.2); address document production issue (.1); conference with B. Peterson regarding discovery and upcoming depositions (.5)
03/29/17	M.J. Gearin	4.10	Participate in deposition of R. Hansen including conferences with court
03/29/17	M.J. Gearin	1.10	Multiple communications with T. Bucknell re settlement issues (.6); commence draft of settlement term sheet (.5)
03/29/17	B. T. Peterson	2.60	Correspondence with potential witnesses
03/29/17	B. T. Peterson	1.90	Analysis of arguments in Plaintiff's motion to continue trial
03/29/17	B. T. Peterson	1.30	Draft response to motion to continue trial
03/29/17	C.M. Wyant	8.50	Conduct deposition of Ross Hansen and MACLLC and participate in conference calls with Court regarding same (7.5); discuss drafting assignments for response to motion to continue trial date and Nevada depositions with B. Peterson (.6); conference with M. Calvert regarding next day of deposition and settlement issues (.4)
03/30/17	M.J. Gearin	4.40	Draft settlement term sheet; multiple communications with Trustee and T. Bucknell regarding same
03/30/17	M.J. Gearin	0.50	Consult regarding Dayton depositions and R. Hansen deposition
03/30/17	M.J. Gearin	0.80	Review and analysis of Medallic motion for continuance
03/30/17	D. A. Lentz	0.30	Various requests for documents/information from B. Peterson during depositions and provide as requested
03/30/17	D. A. Lentz	0.10	Review of records declaration provided by Capital One
03/30/17	B. T. Peterson	4.50	Conduct and prepare for depositions at Dayton facility
03/30/17	B. T. Peterson	9.50	Travel to and from Dayton facility
03/30/17	B. T. Peterson	2.20	Draft response to Plaintiff's motion to compel and motion to continue trial
03/30/17	C.M. Wyant	8.40	Conduct deposition of MACLLC and Ross Hansen (6.5); discuss settlement issues and edit draft agreement (1.2); work on response to motion to continue trial (.7)
03/31/17	M.J. Gearin	1.50	Revisions to briefing on response to motion for trial continuance
03/31/17	M.J. Gearin	1.40	Continued draft of Bressler settlement approval motion
03/31/17	M.J. Gearin	0.50	Review Medallic response to motion to strike expert

Invoice # 3428092 2070561 Page 20 of 33

DATE	NAME	HOURS	DESCRIPTION
03/31/17	D. A. Lentz	0.60	Call with Judge's chambers regarding hearing notebooks for 4/1 (.1); update hearing notebooks for M. Gearin (.5)
03/31/17	D. A. Lentz	0.70	Work on customer declarations regarding four customer witnesses
03/31/17	D. A. Lentz	0.80	Work with team to finalize response brief and supporting declaration to motion to compel, continue trial, etc. (.5); file documents with USBC (.2); update records (.1)
03/31/17	B. T. Peterson	8.40	Research, draft, and edit response to motion to compel discovery, turnover property, and continue trial
03/31/17	C.M. Wyant	6.80	Conference with B. Peterson regarding results of depositions (.5); Draft and revise portions of opposition to motion to continue trial date and to compel and declaration for same (5.5); conference with M. Gearin and B. Peterson regarding pre-trial disclosures and conduct research for same (.3); review opposition to motion to exclude expert (.3); review draft declaration for witnesses (.2)
	TOTAL	FEES	283.10 hrs \$ 121,214.00

TIMEKEEPER SUMMARY

M.J. Gearin	66.70	hrs at	\$	530.00	/ hr	35,351.00
T. M. Gracey	0.70	hrs at	\$	180.00	/ hr	126.00
P. K. Jacobson	0.60	hrs at	\$	450.00	/ hr	270.00
D. A. Lentz	15.50	hrs at	\$	210.00	/ hr	3,255.00
D.C. Neu	0.80	hrs at	\$	440.00	/ hr	352.00
B. T. Peterson	79.90	hrs at	\$	340.00	/ hr	27,166.00
C.M. Wyant	118.90	hrs at	\$	460.00	/ hr	54,694.00
	TOTAL FEES		283.1	0 hrs		\$ 121,214.00

MATTER SUMMARY

Fees \$\frac{121,214.00}{MATTER TOTAL}\$\$\frac{121,214.00}{121,214.00}\$

Trustee v Diane Erdmann (70102)

\$8,673.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/02/17	D.C. Neu	0.30	Review appeal brief filed by D. Bugbee (.3)
03/03/17	D.C. Neu	1.90	Review and analyze arguments raised by D. Erdmann in appeal brief
03/06/17	D.C. Neu	0.10	Review appeal timeline (.1)
03/07/17	D.C. Neu	1.90	Work on appellate reply brief
03/08/17	D. A. Lentz	0.50	Review of multiple docket entries for appeal moved to USDC (.2); prepare corporate disclosure statement for case (.3)
03/08/17	D.C. Neu	4.30	Draft and revise appellate reply brief
03/09/17	D. A. Lentz	0.50	Review of reply brief and add cites to appendix as needed
03/09/17	D.C. Neu	7.00	Draft, edit and revise reply appellate reply brief
03/10/17	D. A. Lentz	0.80	Finalize trustee's reply brief for filing with USDC (.5); file reply brief with USDC (.3)
03/10/17	D.C. Neu	1.30 TOTAL FEES	Finalize appeal reply brief (1.3) 18.60 hrs \$

TIMEKEEPER SUMMARY

D. A. Lentz	1.80 h	hrs at	\$	210.00 /	hr	378.00
D.C. Neu	16.80 h	hrs at	\$	440.00 /	hr	7,392.00
	TOTAL FEES		18.60	0 hrs	\$ _	7,770.00

MATTER SUMMARY

Fees \$ $\frac{7,770.00}{\text{MATTER TOTAL}}$ \$ $\frac{7,770.00}{1,770.00}$

Invoice # 3428092 2070561 Page 22 of 33

EEOC v NW Territorial Mint, LLC, USDC Case (70104)

\$832.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/06/17	D. A. Lentz	0.40	Prepare amended proof of claim for EEOC re settlement agreement
03/14/17	D.C. Neu	0.30	Communicate with EEOC regarding meeting
03/22/17	D.C. Neu	1.40	Prepare for and attend meeting with EEOC
		TOTAL FEES	2.10 hrs \$ <u>832.00</u>
		TIMEKEEP	ER SUMMARY
D. A. Lentz		0.40	hrs at \$ 210.00 / hr 84.00
D.C. Neu		1.70	hrs at \$ 440.00 / hr 748.00
		TOTAL FEES	2.10 hrs \$ <u>832.00</u>

Fees	\$ 832.00
MATTER TOTAL	\$ <u>832.00</u>

American Express Fraudulent Transfer Action (70107)

\$15,305.00

DATE	NAME	HOURS	DESCRIPTION
03/01/17	D.C. Neu	2.20	Review and analyze defendant's discovery requests (1.3); meeting with D. C. Wolf to discuss same (.9)
03/01/17	D. C. Wolf	2.80	Conference with D. Neu regarding responses to defendant's discovery requests (.5); conduct research regarding contention-type interrogatories (1.0); begin drafting responses to defendant's interrogatories (1.3)
03/02/17	D.C. Neu	3.10	Review appeal brief filed by D. Bugbee (.3); meeting with M. Calvert regarding solvency analysis (.6); work on discovery responses (.5); review payment analysis from Trustee (2)
03/02/17	D. C. Wolf	3.40	Draft responses and objections to defendant's first seven interrogatories (2.2); conduct research regarding sufficiency of indirect forms of consideration under fraudulent transfer law (1.2)
03/03/17	D. C. Wolf	0.10	Email to D. Neu regarding timing for discovery requests (0.1)
03/06/17	D.C. Neu	0.40	Review email from D. Bugbee regarding mediation (.1); call potential mediators (.2)
03/07/17	D.C. Neu	0.50	Communicate with D. Bugbee regarding mediation (.2) review answer to complaint (.3)
03/08/17	D.C. Neu	0.40	Communications regarding mediation
03/08/17	D. C. Wolf	5.10	Draft objections and responses for remaining interrogatories (2.0); conduct research regarding extent to which requests seeking production of documents that support particular allegations implicate work product doctrine (1.0); draft responses and objections to defendant's requests for production (2.1)
03/09/17	D. C. Wolf	1.70	Draft responses and objections to defendant's requests for production (0.7); proof and finalize initial drafts of discovery responses and send to D. Neu for his review (1.0)
03/10/17	D.C. Neu	1.50	Edit discovery responses (1.5)
03/14/17	D.C. Neu	1.50	Call with D. Bugbee regarding mediation (.3); analysis of issues raised by same (.2); review solvency analysis (1)
03/15/17	D. A. Lentz	0.30	Draft notice of unavailability for D. Neu
03/15/17	D.C. Neu	2.20	Draft and edit subpoenas
03/16/17	D.C. Neu	1.40	Meeting with client to discuss case issues (.6); communicate with D. Bugbee regarding
500663802 v2			

DATE	NAME	HOURS	DESCRIPTION		
-			mediation (.3); review and edit discovery (.4)		
03/17/17	D.C. Neu	0.30	Call with D. Bugbee regarding discovery		
03/20/17	D.C. Neu	1.60	Continue to work on discovery responses		
03/20/17	D. C. Wolf	0.10	Email to D. Neu regarding discovery		
			responses and timing (0.1)		
03/21/17	D. A. Lentz	0.30	Prepare stipulation to appoint mediator and order appointing mediator		
03/21/17	D.C. Neu	1.40	Work on discovery responses		
03/21/17	D. C. Wolf	0.10	Email correspondence with D. Neu regarding written discovery responses		
03/22/17	D. A. Lentz	0.40	Email exchanges regarding stipulation to appoint mediator (.1); finalize same for filing (.1); file stipulation and upload order for Court approval (.2)		
03/23/17	D.C. Neu	0.70	Call with D. Bugbee regarding settlement negotiations (.3); meeting with M. Gearin to discuss status (.4)		
03/23/17	D.C. Neu	1.50	Analysis of cash and bullion values for litigation purposes		
03/24/17	D. A. Lentz	0.20	Review of order appointing mediator and forward copy of same to mediator		
03/24/17	D.C. Neu	0.60	Review and analyze settlement proposal (.4); review and respond to emails regarding same (.2)		
03/27/17	D. A. Lentz	0.20	File notice of unavailability with USBC		
03/29/17	D.C. Neu	2.00	Work on mediation brief		
03/30/17	D.C. Neu	5.10	Meeting with M. Gearin to discuss settlement terms (.3); draft summary of Erdmann litigation (.8); review and edit term sheet (.4); meeting with client to discuss deposition testimony (.6); review earlier deposition testimony provided by D. Erdmann (1); deposition debrief and settlement discussion (.5); work on mediation materials (.5)		
03/31/17	D.C. Neu	0.70	Discussions with Trustee regarding case status		
		TOTAL FEES	41.80 hrs \$ <u>16,208.00</u>		
		TIMEKEEPI	ER SUMMARY		
D. A. Lentz		1.40	hrs at \$ 210.00 / hr 294.00		
D.C. Neu			hrs at \$ 440.00 / hr 11,924.00		
D. C. Wolf		13.30	hrs at \$ 300.00 / hr 3,990.00		
		TOTAL FEES	41.80 hrs \$\frac{16,208.00}{}		

K&L GATES

Invoice # 3428092 2070561 Page 25 of 33

MATTER SUMMARY

Fees \$\frac{16,208.00}{MATTER TOTAL}\$\$\frac{16,208.00}{16,208.00}\$

Meetings and Communications with Creditors (70110)

\$5,835.00

DATE	NAME	HOURS	DESCRIPTION
03/01/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case
03/02/17	D. A. Lentz	0.30	Field phone calls from creditors regarding status of case
03/03/17	M.J. Gearin	0.50	Call with M. Northrup regarding multiple case issues
03/03/17	D. A. Lentz	0.30	Field phone calls and voice mails from creditors regarding the status of the case
03/06/17	M.J. Gearin	0.30	Email communications with M. Northrup and P. Pehl regarding document request
03/06/17	M.J. Gearin	0.30	Call with M. Remington, creditor regarding case update
03/06/17	D. A. Lentz	0.10	Field phone call from creditor regarding status of case and address change
03/08/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case
03/09/17	D. A. Lentz	0.10	Field phone calls from creditor regarding status of case
03/10/17	M.J. Gearin	0.40	Communications with M. Northrup regarding committee matters including equipment sale and case update
03/10/17	M.J. Gearin	0.20	Email exchange with R. Mitchell, counsel for B. Cohen
03/13/17	M.J. Gearin	1.50	Call with M. Northrup and Trustee regarding communications from B. Hanson
03/13/17	M.J. Gearin	0.30	Call with R. Mitchell re B. Cohen issues
03/13/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case
03/14/17	M.J. Gearin	0.50	Communications with M. Northrup regarding communications with committee including W. Hanson communications
03/14/17	D. A. Lentz	0.10	Phone call with creditor regarding status of case
03/15/17	D. A. Lentz	0.30	Voicemails from creditors regarding status of case and re address change (.1); draft of address change notice (.2)
03/16/17	M.J. Gearin	0.60	Call with M. Northrup regarding committee issues
03/20/17	D. A. Lentz	0.30	Field phone calls regarding status of case from creditors
03/21/17	M.J. Gearin	0.90	Call with D. James regarding creditor committee issues and follow up email
500663903 v2			·

Invoice # 3428092 2070561 Page 27 of 33

DATE	NAME	HOURS	DESCRIPTION
03/21/17	M.J. Gearin	0.70	exchange Call with B. Hanson regarding creditor committee issues including resignation from
03/21/17	D. A. Lentz	0.10	committee Field phone calls and emails from creditors regarding status of case
03/22/17	M.J. Gearin	0.50	Call with D. Petteys regarding committee issues
03/22/17	M.J. Gearin	0.40	Calls with M. Calvert and M. Northrup regarding committee issues
03/23/17	M.J. Gearin	0.30	Communications with M. Northrup regarding committee issues and planned committee meeting
03/23/17	D. A. Lentz	0.40	Field phone calls and emails from creditors regarding status of case
03/23/17	D. A. Lentz	0.20	Review of 2004 application and notice of hearing regarding creditor (.1); calendar hearing dates and deadlines and send to documents to client (.1)
03/24/17	M.J. Gearin	0.40	Call with T. Seip regarding creditor committee issues
03/28/17	M.J. Gearin	1.40	Calls with L. Chiappellone and B. Hanson regarding investigation of communications matters
03/31/17	M.J. Gearin	0.70	Draft declaration from D. Petteys; email and voice mail exchanges with D. Petteys
		TOTAL FEES	regarding D. Wright testimony 12.70 hrs \$5,835.00
		TIMEKEEP	ER SUMMARY
M.J. Gearir D. A. Lentz		9.90 2.80 TOTAL FEES	hrs at \$ 530.00 / hr 5,247.00 hrs at \$ 210.00 / hr 588.00 12.70 hrs \$ 5,835.00
			SUMMARY
Fees MATTER T	OTAL		\$5,835.00 \$5,835.00

Invoice # 3428092 2070561 Page 28 of 33

Tax (70140) \$1,173.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/07/17	D. A. Lentz	0.60	Begin drafting letter in response to D. Hallett's letter requesting tax information
03/08/17	M.J. Gearin	0.80	Draft letter response to D. Hallett regarding Hansen tax information requests
03/08/17	D. A. Lentz	1.20	Continue drafting letter in response to D. Hallett's letter requesting tax information
03/13/17	M.J. Gearin	0.70	Finalize letter to D. Hallett regarding tax matters
		TOTAL FEES	3.30 hrs \$ <u>1,173.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.50	hrs at	\$	530.00 / hr	795.00
D. A. Lentz	1.80	hrs at	\$	210.00 / hr	378.00
	TOTAL FEES		3.3	0 hrs	\$ 1,173.00

MATTER SUMMARY

Fees \$ 1,173.00 MATTER TOTAL \$ 1,173.00

Assumption and Rejection of Leases and Contracts (70150)

\$1,933.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/01/17	D. A. Lentz	0.70	Review of briefing order in appeal of Auburn lease order (.1); draft of election to transfer case to USDC (.4); calendar deadlines (.2)
03/03/17	D. A. Lentz	0.40	Finalize and file notice of election to district court
03/03/17	D.C. Neu	0.60	Review and file statement of election with respect to lease appeal
03/13/17	D.C. Neu	2.00	Review pleadings related to appeal (1.7); review designation of record (.3)
03/14/17	D. A. Lentz	0.20	Finalize and file corporate disclosure statement in landlord appeal
03/16/17	D.C. Neu	1.00	Review designation of record in Auburn lease appeal
03/23/17	D. A. Lentz	0.20	Meeting with B. Peterson regarding inquiries from Springfield landlord and review of files regarding same
03/23/17	B. T. Peterson	0.10	Draft email to client regarding landlord for Virginia lease
	TOTAI	L FEES	5.20 hrs \$ <u>1,933.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	1.50	hrs at	\$	210.00 /	hr	315.00
D.C. Neu	3.60	hrs at	\$	440.00 /	hr	1,584.00
B. T. Peterson	0.10	hrs at	\$	340.00 /	hr	34.00
	TOTAL FEES		5.20	hrs	\$	1,933.00

Fees	\$ <u>1,933.00</u>
MATTER TOTAL	\$ <u>1,933.00</u>

Invoice # 3428092 2070561 Page 30 of 33

Reporting (70210)

\$423.00

DATE	NAME	HOURS	DESCRIPTION		
03/17/17	M.J. Gearin	0.60	Revisions to monthly report		
		0.50	Review of email received fro monthly report and conference regarding same (.1); revision M. Gearin's instructions (.2); report with USBC (.2)	ce with M. Gearin s to exhibit per	
		TOTAL FEES	1.10 hrs	\$ <u>423.00</u>	
		TIMEKEEP	ER SUMMARY		
M.J. Gearin		0.60	hrs at \$ 530.00 / hr	318.00	
D. A. Lentz		0.50	hrs at \$ 210.00 / hr	105.00	
		TOTAL FEES	1.10 hrs	\$ 423.00	
			SUMMARY		
Fees				\$ 423.00	
MATTER T	OTAL			\$ 423.00	

Invoice # 3428092 2070561 Page 31 of 33

US-TMK: MACO - CL. 14 - 28718361 (70240) \$72.00

US Serial No.: 87218361

FEES

		_			
DATE	NAME	HOURS	DESC	RIPTION	
03/29/17	K. P. Wing	0.10	identif	w iManage workspacy y whether reporting or regarding Dec. 12, 2	email was sent to
03/30/17	K. P. Wing	0.30 Review physical and electronic files in order draft reminder email regarding response to office action deadline, and creating calendar reminders for prosecution team			ding response to creating calendar
		TOTAL FEES		0.40 hrs	\$ <u>72.00</u>
		TIMEKEEP	ER SUM	<u>IMARY</u>	
K. P. Wing		0.40	hrs at	\$ 180.00 / hr	72.00
J		TOTAL FEES		0.40 hrs	\$ 72.00
		MATTER	SUMM	ARY	
Fees					\$ 72.00

MATTER TOTAL

Invoice # 3428092 2070561 Page 32 of 33

US-TMK: MEDALLIC ART COMPANY - CL.	14 - 87216866 <i>(</i> 70250	\$265.00
---	------------------------------	-----------------

US Serial No.: 87216866

<u>FEES</u>						
DATE	NAME	HOURS	DESCRIPTION			
03/20/17	M.J. Gearin	0.50	Meet with P. Jacobson regarding IP assets and trademark registration status			
		TOTAL FEES 0.50 hrs		\$265.00		
		TIMEKEEPE	ER SUMMARY			
M.J. Gearin			hrs at \$ 530.00 / hr	265.00		
		TOTAL FEES	0.50 hrs	\$ 265.00		
MATTER SUMMARY						

Fees **MATTER TOTAL**

Invoice # 3428092 2070561 Page 33 of 33

Costs (99999) \$1,805.18

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
03/06/17	Westlaw - CM1W - 03/06/2017 - 03/06/2017	58.91
03/08/17	Westlaw - DCW - 03/01/2017 - 03/08/2017	521.88
03/10/17	Copying Expense	45.00
03/10/17	Westlaw - BTP - 03/10/2017 - 03/10/2017	58.91
03/10/17	Westlaw - DCN - 03/10/2017 - 03/10/2017	58.91
03/13/17	Travel Expenses - Gearin, Michael - Parking - 2017-03-01 - IMPARK 00250010 - Status Conference Parking	12.00
03/14/17	Copying Expense	44.40
03/20/17	Long Distance Courier FedEx Charges TR#: 977674915103618 INV#: 575713121 INVDT: 20170403 SHIPDT: 20170320 SHNAME: Benita Gould RCNAME: BILL ATALLA RCCO: NORTHWEST TERRITORIAL MINT	15.16
03/21/17	Postage	34.70
03/21/17	Postage	35.60
03/23/17	Copying Expense	1.80
03/23/17	Copying Expense	1.80
03/24/17	Copying Expense	0.60
03/24/17	TKNUM# 0277919076259 PS: PETERSON/BRIAN T TKDESC: PETERSON/BRIAN T TKT# 02779190762 TVDT: 03/30/2017 PRN: KQ092O SUP: GBT US LLC	39.00
03/24/17	TKNUM# 0277919076259 PS: PETERSON/BRIAN T TKDESC: TKT# 02779190762596 20170330 TVDT: 03/30/2017 CAR: SEA/RNO/SEA PRN: KQ092O SUP: ALASKA AIRLINES	742.40
03/29/17	Copying Expense	75.20
03/31/17	Westlaw - BTP - 03/31/2017 - 03/31/2017	58.91
	DISBURSEMENTS & OTHER CHARGES \$	1,805.18

Disbursements and Other Charges	\$ <u>1,805.18</u>
MATTER TOTAL	\$ <u>1,805.18</u>

K&L GATES

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial Invoice Date : September 11, 2017

Mint LLC Invoice Number : 3427431

c/o Cascade Capital Group LLC Services Through : March 31, 2017

1501 4th Avenue Suite 2840 Our File Number : 2070561

Seattle, WA 98101

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 77,045.53 Disbursements and Other Charges \$ 1,904.17

Total Amount Due This Matter \$ 78,949.70

CURRENT INVOICE DUE - All Matters \$ 78.949.70

Litigation -- e-DAT Fees (77100)

\$78,949.70

DATE	NAME	HOURS	DESCRIPTION
03/01/17	T. Hughes	5.10	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/01/17	L.E. Steidl	5.90	Assist and supervise in the staging, review and analysis of client collections to locate documents for production
03/02/17	M. H. Hoefer	0.40	Prepare hard copy for pickup by Altep Inc.; provide Altep specifications on the electronic preparation of hard copy
03/02/17	T. Hughes	10.90	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/02/17	L.E. Steidl	6.40	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same
03/02/17	R. M. Tausend	0.70	Respond to B. Peterson questions and requests relating to specific subsets of "hot" documents (0.1); review A. Orth discovery letter, identify inaccuracies and other follow up items and confer with M. Gearin regarding same (0.2); emails with L. Steidl regarding privilege log, review and production of A. Trunkett newly identified MAC files and related discovery decision points (0.4)
03/03/17	M. Bassetti	0.80	Analyze documents confirming compliance with production volume NWTM011 specifications (0.7); prepare March 3rd document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
03/03/17	T. Hughes	3.00	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/03/17	T. Hughes	8.10	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/03/17	T. S. Milne	3.00	Electronically produce NWTM 0089836- NWTM 0098789 out of litigation support

DATE	NAME	HOURS	DESCRIPTION
03/03/17	L.E. Steidl	5.60	database per the request of L. Steidl Assist and supervise in the staging, review and analysis of client collections to locate
			documents for production and generation of initial privilege log based on same (4.0); provide requested production numbers for key
			documents identified by B. Peterson (0.2); coordinate preparation, export, QC, and transfer of NWTM's 11th production - including
			provision of detailed instruction to technical and litigation teams regarding same (1.4)
03/03/17	R. M. Tausend	1.70	Communications with team to address open items and ensure completion of rolling
			production (0.1); review A. Orth discovery letter and coordinate response with M. Gearin, B. Peterson and L. Steidl (0.3); analyze A.
			Orth assertions relating to discovery scope to which Medallic is entitled and identify potential counter-arguments and support for same (1.3)
03/04/17	T. Hughes	7.30	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/06/17	T. Hughes	8.90	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/06/17	L.E. Steidl	1.60	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same
03/06/17	R. M. Tausend	3.10	Strategize with M. Gearin and C. Wyant regarding Medallic discovery requests and responses, A. Orth letter and related topics, and post-meeting implementation of action items, including requests to L. Steidl regarding spreadsheets cited by A. Orth and requests for email searches for M. Calvert, M. Gearin and B. Peterson for communications with
03/07/17	T. Hughes	1.40	creditors Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/07/17	L.E. Steidl	0.90	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same
03/07/17	R. M. Tausend	3.50	Review C. Wyant draft letter responding to A.
E0000011011			

DATE	NAME	HOURS	DESCRIPTION
			Orth discovery deficiencies letter and incorporate in production details, examples and case and FRCP support, with related review of prior doc collection/production and interview notes (1.3); communications with C. Wyant and M. Gearin relating to same (0.1); call with A. Trunkett regarding Medallic requests relating to inter-company transfers and other specific financial reports (0.2); analyze Ringtail searches and reports in support of response to Medallic discovery dispute, production completion and depositions (1.9)
03/08/17	L.E. Steidl	3.30	Coordinate collection of email from M. Gearin, B. Peterson, and M. Calvert for review in response to RFP 4 of plaintiff's requests for production, conferring with J. Gilmore and K&L Gates technical support personnel regarding same (2.1); assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same (1.2)
03/08/17	R. M. Tausend	2.40	Craft targeted searches of ESI and analyze documents in support of resolution of A. Orth discovery dispute relating to Phase 1 issues (1.4); call with A. Trunkett in connection with resolution of A. Orth discovery dispute relating to Medallic and NWTM financial records evidencing commingling (0.4); synthesize information from calls and research to update response to A. Orth request for specified categories of information (0.6)
03/09/17	T. Hughes	3.30	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/09/17	T. S. Milne	0.00	Update custodian field under specified levels in response to the request from L. Steidl.
03/09/17	S. A. Smith	1.50	Perform online exchange email collection for M. Calvert
03/09/17	L.E. Steidl	7.30	Coordinate collection of email from M. Calvert for review in response to RFP 4 of plaintiff's requests for production, conferring with K&L Gates technical support personnel regarding same (0.3); assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same (6.8); confer with R. Tausend regarding

DATE	NAME	HOURS	DESCRIPTION
	- · · · · · · · · · · · · · · · · · · ·		details of outstanding collections and productions to be made in response to Plaintiff's RFPs (0.2)
03/09/17	R. M. Tausend	5.90	Analyze selected documents and targeted search results and make recommendations regarding responsiveness, privilege and Hot documents, including related communications with L. Steidl
03/10/17	M. Bassetti	1.00	Analyze documents confirming compliance with production volume NWTM012 specifications (0.9); prepare March 10th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
03/10/17	T. Hughes	1.10	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/10/17	T. S. Milne	2.20	Electronically produce NWTM 0098790- NWTM 0101199 out of litigation support database per the request of L. Steidl for production to opposition
03/10/17	S. A. Smith	1.00	Perform online exchange email collection for M. Calvert
03/10/17	S. A. Smith	1.20	Perform Harvester on ESI from M. Calvert Exchange Mail in preparation for search querying and document reviewing
03/10/17	L.E. Steidl	5.30	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same (2.2); review, tag, and organize files for production, providing detailed instruction and assistance to technical and litigation support team regarding preparation, export, QC, and transfer of production images and data (2.8); confer with R. Tausend regarding details of outstanding discovery tasks including collection of NWTM financial and banking records and preparation of privilege log (0.3)
03/10/17	R. M. Tausend	1.60	Review and provide additions to letter memorializing discovery meet and confer with A. Orth in support of NWTM representations relating to production of financials (0.4); review database and hard copy file reports in support of same (0.3); confer with C. Wyatt regarding same (0.2); address open document production and privilege log questions with team, including with respect to trademark files and requested financials (0.7)

DATE	NAME	HOURS	DESCRIPTION
03/11/17	T. Hughes	5.90	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/11/17	L.E. Steidl	0.50	Assist and supervise in the staging, review and analysis of client collections to locate documents for production and generation of initial privilege log based on same
03/13/17	M. Bassetti	0.50	Analyze documents confirming compliance with production volume NWTM012 specifications (0.4); prepare March 13th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
03/13/17	T. Hughes	0.60	Legal review and analysis of client documents for privilege determination, including drafting privilege claim and subject matter descriptions for privilege log
03/13/17	T. S. Milne	0.50	Analyze, organize and edit Non-client Docs\USPTO\MAC Trademark file for staging in litigation support database for review and production
03/13/17	T. S. Milne	1.00	Electronically produce NWTM 0101200- NWTM 0101245 out of litigation support database per the request of L. Steidl for production to opposition
03/13/17	T. S. Milne	1.00	Analyze and compile data from P-NWTM 000001-P-NWTM 007291 in preparation of privilege log
03/13/17	S. A. Smith	0.50	Perform online exchange email collection for M. Calvert
03/13/17	L.E. Steidl	8.00	Assist and supervise in the staging, review and analysis of client collections to locate documents for production (0.5); address issues related to collection of email from M. Gearin, B. Peterson, and M. Calvert for use in response to Plaintiff's RFP 4 (1.3); assist and supervise in preparation, export, QC, and delivery of NWTM's 12th production, including communication with opposing counsel regarding same (2.3); create and edit privilege log for productions made through March 13, 2017 (3.9)
03/13/17	R. M. Tausend	0.90	Craft targeted search to identify subset of produced IP documents for follow up with trial team (0.5); communications with trial team and L. Steidl n support of document production and completion of discovery (0.4)
03/14/17	M. Bassetti	0.00	Update chain of custody tracking logs for re-

DATE	NAME	HOURS	DESCRIPTION
			production of volume NWTM012 to Medallic Art Company, LLC per request by L. Steidl
03/14/17	T. S. Milne	1.00	Analyze and organize re designation documents from NWTM005 and NWTM009 productions for reproduction (0.5); prepare volumes NWTM005 and NWTM009 for reproduction to opposing party per the request of L. Steidl (0.5)
03/14/17	S. A. Smith	1.20	Perform online exchange email collection for M. Calvert
03/14/17	S. A. Smith	1.20	Perform Harvester on ESI from M. Gearin and B. Peterson Exchange mail in preparation for search querying and document reviewing
03/14/17	L.E. Steidl	5.60	Address issues related to collection of email from M. Gearin, B. Peterson, and M. Calvert for use in response to Plaintiff's RFP 4 (0.6); assist and supervise in preparation and export of reproduction of select set of NWTM production file with redactions removed (0.2); locate and provide key documents requested by D. Evans (0.6); confer with R. Tausend regarding final adjustments to privilege log, and outstanding collection issues to address with J. Cannady (0.3); audit collections received to determine potential gaps compared to items identified in response to plaintiff's RFP 1, and draft communication to J. Cannady to procure additional files transferred to her by A. Trunkett (0.8); revise, finalize, and deliver privilege log for productions made through March 13, 2017, including communication with opposing counsel regarding same (3.1)
03/14/17	R. M. Tausend	0.70	Review 43 pg privilege log to identify "red flags" and other entries susceptible to challenge and discuss same with L. Steidl (0.6); update from L. Steidl regarding other outstanding document review/production items (0.1)
03/15/17	S. A. Smith	0.40	Perform online exchange email collection for M. Calvert
03/15/17	S. A. Smith	1.00	Perform Harvester on ESI from M. Gearin and B. Peterson Exchange mail in preparation for search querying and document reviewing
03/15/17	L.E. Steidl	2.80	Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps (1.3); address issues related to collection of email from M. Gearin, B. Peterson, and M. Calvert for use in

DATE	NAME	HOURS	response to Plaintiff's RFP 4 (0.3); assist and supervise in preparation and export of reproduction of select set of NWTM production file with redactions removed (0.2); identify outstanding collection issues to
03/16/17	L.E. Steidl	4.40	address with J. Cannady (0.3); phone and email communications with J. Cannady regarding same (0.7) Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps (1.3); audit data from accounting files forwarded by NWTM to J. Cannady against previous accounting server collections to confirm consistency and production status, including email communications with J. Cannady regarding same (2.8); locate key documents for trial
03/17/17	M. H. Hoefer	0.00	team (0.3) Renew file transfer protocol credentials for Calvert NW Terr Bkrpt EXT users A. Orth and
03/17/17	L.E. Steidl	4.00	T. Bucknell at request of L. Steidl Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps (2.4); audit data from accounting files forwarded by NWTM to J. Cannady against previous accounting server collections to confirm consistency and production status (1.0); locate key documents for trial team (0.6)
03/17/17	R. M. Tausend	0.10	Review L. Steidl update regarding J. Cannady analysis and underlying NWTM documents and provide comments and recommendations relating to MAC royalties files
03/20/17	L.E. Steidl	4.00	Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps (2.5); confer with J. Gilman regarding data used in support of analysis, and coordinate with technical team regarding handling of same in preparation for production (0.6); search case database for additional files identified by J. Gilman (0.5); provide production numbers for key documents requested by trial team (0.4)
03/21/17	T. S. Milne	1.00	Analyze, organize and edit Cascade Capital ESI for staging in litigation support database for review and production
03/21/17	L.E. Steidl	3.50	Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps (2.7); confer with J.

DATE	NAME	HOURS	DESCRIPTION Gilman regarding key bank statements for
03/22/17	L.E. Steidl	2.90	collection, locating and downloading same from case Dropbox site for inclusion in upcoming NWTM production (0.6); locate key documents requested by trial team (0.2) Assist and supervise efforts to locate and
			review additional files for production in response to plaintiff's rfps (2.0); collect and coordinate processing of key bank statements and other documents used in Cascade Capital analysis for inclusion in upcoming NWTM production (0.6); address privilege issues related to key documents requested by trial team (0.3)
03/23/17	T. S. Milne	1.00	Analyze, organize and edit Columbia Bank 2008 ESI for staging in litigation support database for review and production in response to the request from L. Steidl
03/23/17	L.E. Steidl	2.40	Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps, including audit of case database to confirm production of supporting documentation identified in response to RFP 6 (1.8); address issues with completion of collection and processing of key bank statements and other documents used in Cascade Capital analysis for inclusion in upcoming NWTM production, conferring with J. Gilman regarding same (0.6)
03/24/17	M. Bassetti	0.50	Analyze documents confirming compliance with production volume NWTM013 specifications (0.4); prepare March 24th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
03/24/17	T. Hughes	3.20	ECA review of identified subset of document to verify classifications 20170309 Coding-QC 1 Medallic-Key-Hits Leftovers
03/24/17	T. S. Milne	2.00	Electronically produce NWTM 0101246- NWTM 0105769 out of litigation support database per the request of L. Steidl for production to opposition
03/24/17	L.E. Steidl	6.80	Address questions from review attorney regarding review of additional files for production in response to plaintiff's rfps (0.3); coordinate and supervise preparation, export, QC and transfer of production images and data for NWTM's thirteenth production, providing detailed instruction to technical and litigation support team regarding same (3.7);

DATE	NAME	HOURS	DESCRIPTION
00/05/47	I. E. Oksidi	0.40	review of materials for production, including M. Gearin, M. Calvert, and B. Peterson email, conferring with trial team regarding responsiveness issues relating to same (2.8)
03/25/17	L.E. Steidl	6.10	Assist and supervise efforts to locate and review additional files for production in response to plaintiff's rfps, including review of M. Gearin, M. Calvert, and B. Peterson email, and conferring with M. Gearin regarding same
03/26/17	L.E. Steidl	0.10	Confer with technical analyst regarding redelivery of files previously delivered via ftp but not downloaded by opposing counsel prior to expiration date
03/27/17	M. Bassetti	0.00	Update chain of custody tracking logs for production of volume NWTM013 to Medallic Art Company, LLC per request by L. Steidl
03/27/17	T. Hughes	1.70	ECA Review: 20170309 Coding-QC 2 SP- Medallic-or-FN-Royalt (1.2); 20170309 Coding-QC 3 FileName-Shipping-Terms Presumptive-NR (0.5)
03/27/17	L.E. Steidl	2.50	Confer with technical analyst regarding redelivery of files previously delivered via ftp but not downloaded by opposing counsel prior to expiration date (0.1); review of materials for production, including M. Gearin, M. Calvert, and B. Peterson email, conferring with M. Gearin regarding privilege issues relating to same (2.4)
03/28/17	T. Hughes	2.20	ECA Review: 20170309 Coding-QC 4 Leftover-Search-Hits-NOT- Medallic Presumptive (1.0); 20170309 Coding-QC-5 No-Search-Hits Presumptive Nonresponsive (1.2)
03/28/17	T. Hughes	5.30	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/28/17	L.E. Steidl	6.90	Provide background and instructions to review attorney regarding parameters for final sweep through NWTM ESI collections and review of M. Calvert email, and answer ongoing questions from review attorney regarding responsiveness and privilege issues related to same (1.7); review materials for production, including M. Gearin, B. Peterson, and M. Calvert email, conferring with M. Gearin and C. Wyant regarding responsiveness issues relating to same (5.2)
03/29/17	T. Hughes	8.80	Legal review and analysis of client documents in preparation for production in response to

DATE	NAME	HOURS	DESCRIPTION
03/29/17	L.E. Steidl	4.00	litigation discovery requests Answer responsiveness and privilege questions from review attorney regarding final sweep through NWTM ESI collections and review of M. Calvert email (1.4); review materials for production, including M. Gearin, B. Peterson, and M. Calvert email, conferring with M. Gearin, B. Peterson, and C. Wyant regarding responsiveness and privilege issues relating to same (2.6)
03/29/17	R. M. Tausend	0.70	Review A. Orth motion regarding discovery (0.2); strategize with C. Wyant and B. Peterson (0.3); update from and with M. Gearin regarding R. Hansen deposition and discovery related issues (0.2)
03/30/17	M. Bassetti	2.60	Review NWTM hard copy documents and create index for attorney review and use
03/30/17	T. Hughes	4.70	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/30/17	L.E. Steidl	5.60	Answer responsiveness and privilege questions from review attorney regarding final sweep through NWTM ESI collections and review of M. Calvert email (0.7); review materials for production, including M. Gearin, B. Peterson, and M. Calvert email, conferring with M. Gearin, B. Peterson, and C. Wyant regarding responsiveness and privilege issues relating to same (4.0); tag, organize, and coordinate imaging of relevant files in preparation for production (0.9)
03/31/17	M. Bassetti	0.70	Analyze documents confirming compliance with production volume NWTM014 specifications (0.6); prepare March 31st document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
03/31/17	M. Bassetti	3.80	Review NWTM hard copy documents and create index for attorney review and use
03/31/17	ESI Processing	N/A	ESI Processing: 6.74016 GB processed @ \$50/GB = \$337.01 (raw extracted volume - input); 1.43809 GB processed @ \$250/GB = \$359.52 (post- filtered volume - output); Total ESI Processing Charge: \$696.53
03/31/17	T. Hughes	0.40	Legal review and analysis of client documents in preparation for production in response to litigation discovery requests
03/31/17	C. M. Kuffel	0.70	Prepare Production No. 14 from Ringtail per the request of L. Steidl

DATE	NAME	HOURS	DESC	CRIPT	ION		
03/31/17	L.E. Steidl	3.40	Answer responsiveness and privilege questions from review attorney regarding fit sweep through NWTM ESI collections and review of M. Calvert email (0.3); review materials for production, including M. Geari B. Peterson, and M. Calvert email, conferrir with R. Tausend regarding responsiveness and privilege issues relating to same (1.5); confer with technical and litigation support teams regarding preparation, export, QC, a transfer of NWTM's 14th production, and se summary information and confirmation emaregarding same (1.6)				
03/31/17	R. M. Tause	nd 3.90	• • • • • • • • • • • • • • • • • • • •				Medallic discovery ases, including disconfer ced documents, other requested th filing (2.1); as productions and gy of NWTM ereof, including ptcy preparation of egize with C. reparation for
		TOTAL FEES	(0.4)	248.6	60 hrs		\$77,045.53
		TIMEKEEF	PER SUI	MMAR	<u>RY</u>		
M. Bassetti		9.90	hrs at	\$	95.00	/ hr	940.50
ESI Proces	sing	N/A	hrs at	\$	N/A	/ hr	696.53
M. H. Hoef	er	0.40	hrs at	\$	95.00	/ hr	38.00
T. Hughes		81.90	hrs at	\$	165.00		13,513.50
C. M. Kuffe	!	0.70	hrs at	\$	240.00	/ hr	168.00
T. S. Milne		12.70	hrs at	\$	180.00		2,286.00
S. A. Smith	1	8.00	hrs at	\$	240.00		1,920.00
L.E. Steidl		109.80	hrs at	\$	395.00		43,371.00
R. M. Taus	end	25.20	hrs at	\$	560.00	/ hr	14,112.00
		TOTAL FEES		248.6	60 hrs		\$ <u>77,045.53</u>

Invoice # 3427431 2070561 Page 13 of 13

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
03/13/17	Long Distance Courier FedEx Charges TR#: 785896488315 INV#: 574308943 INVDT: 20170320 SHIPDT: 20170313 SHNAME: Margaret Bassetti RCNAME: Fabio Tarud RCCO: Proskauer Rose LLP	46.44
03/27/17	Outside Copies - Professional Document Services - Altep California, LLC - 03032017	456.41
03/31/17	OCR 1,441 pages @ \$0.02/page: \$28.82	28.82
03/31/17	ESI Conversion: Convert 2.20170 GB to TIFF images @ \$500/GB: \$1,100.85	1,100.85
03/31/17	ESI Conversion: Convert 0.052324 GB to TIFF images @ \$500/GB: \$26.16. OCR 4,380 pages @ \$0.02/page: \$87.60	113.76
03/31/17	Ringtail Fees: March 2017 Data Storage Fees: 10.52609 GB @ \$15.00/GB: \$157.89	157.89
	DISBURSEMENTS & OTHER CHARGES \$ _	1,904.17

MATTER SUMMARY

Fees	\$	77,045.53
Disbursements and Other Charges	\$_	1,904.17
MATTER TOTAL	\$ _	78,949.70

K&L GATES LLP

925 FOURTH AVENUE
SUITE 2900
SEATTLE, WA 98104-1158
T 206.623.7580 F 206.623.7022 klgates.com
Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428094 Services Through : April 30, 2017 Our File Number : 2070561

Asset Analysis and Recovery (70010)		
Fees Total Amount Due This Matter	\$ <u>352.00</u>	\$ 352.00
Asset Disposition (70020)		
Fees Total Amount Due This Matter	\$3,306.00	\$ 3,306.00
Case Administration (70040)		
Fees Total Amount Due This Matter	\$ <u>1,717.00</u>	\$ 1,717.00
Litigation (70100)		
Fees Total Amount Due This Matter	\$ <u>5,169.00</u>	\$ 5,169.00
Trustee v Medallic Art Co LLC (70101)		

Fees	\$ 71,323.00	
Total Amount Due This Matter		\$ 71,323.00

Invoice # 3428094 2070561 Page 2 of 29

Trustee v Diane Erumann (70102)			
Fees Total Amount Due This Matter	\$	176.00	\$ 176.00
American Express Fraudulent Transfer Actio	n (70	107)	
Fees Total Amount Due This Matter	\$	4,227.00	\$ 4,227.00
Meetings and Communications with Creditor	s (70	110)	
Fees Total Amount Due This Matter	\$	2,550.00	\$ 2,550.00
Tax (70140)			
Fees Total Amount Due This Matter	\$	6,820.00	\$ 6,820.00
Assumption and Rejection of Leases and Co	ntrac	ts (70150)	
Fees Total Amount Due This Matter	\$	1,504.00	\$ 1,504.00
Real Estate (70200)			
Fees Total Amount Due This Matter	\$	1,156.00	\$ 1,156.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$	667.00	\$ 667.00
US-TMK: MACO - CL. 14 - 28718361 (70240)			
Fees Total Amount Due This Matter	\$	18.00	\$ 18.00

Invoice # 3428094 2070561 Page 3 of 29

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 6,071.23

\$ 6,071.23

CURRENT INVOICE DUE - All Matters

\$ <u>105,056.23</u>

Invoice # 3428094 2070561 Page 4 of 29

Asset Analysis and Recovery (70010)

\$352.00

FEES

DATE	NAME	HOURS	DESCRIPTION	
04/10/17	D.C. Neu	0.30	Draft email to D. Bugbee reg	
			to sale motion (.2); communi Ranade regarding L. Martini	
04/17/17	D.C. Neu	0.50	Review testimony regarding	• • •
		TOTAL FEES	0.80 hrs	\$ 352.00
		TIMEKEEP	ER SUMMARY	
D.C. Neu		0.80	hrs at \$ 440.00 / hr	352.00
		TOTAL FEES	0.80 hrs	\$ 352.00
		MATTER	SUMMARY	
Fees				\$ 352.00
MATTER T	OTAL			\$ 352.00

Asset Disposition (70020)

\$3,306.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/07/17	B. T. Peterson	0.20	Correspondence with counsel regarding equipment sale motion
04/10/17	D. A. Lentz	0.40	Confirm hearing re motion to sell (.1); review of objections filed (.1); hearing binder for hearing (.2)
04/10/17	B. T. Peterson	0.20	Analyze issues related to motion to sell surplus equipment
04/11/17	M.J. Gearin	1.50	Communications with Trustee and L. Clifthorne (0.5), counsel for M. Parish regarding surplus equipment sale; draft reply on motion to sell surplus assets (1.0)
04/11/17	D. A. Lentz	0.30	Meeting with M. Gearin regarding Hauptman inventory return(.1); review of file regarding same (.2)
04/11/17	D. A. Lentz	0.40	Work with attorneys on reply to motion to sell surplus equipment (.2); file reply with USBC and send for service (.2)
04/11/17	B. T. Peterson	2.00	Draft reply in support of sale of surplus equipment
04/12/17	M.J. Gearin	0.40	Calls and emails with L. Clifthorne regarding surplus property sale and proof of funds (.2); calls with Trustee regarding same; preparations for hearing on motion to approve sale (.2)
04/13/17	D. A. Lentz	0.20	Review of withdrawal of objection by D. Erdmann to motion to sell surplus equipment and update hearing binder regarding same
04/13/17	B. T. Peterson	0.10	Discuss bid procedures with M. Gearin
04/14/17	M.J. Gearin	1.50	Prepare for and attend hearing on motion for sale of surplus assets (1.0); draft revisions to order approving sale (0.5)
04/14/17	D. A. Lentz	0.30	Meeting with M. Gearin regarding outcome of motion to sell surplus equipment (.1); upload unsigned order to the Court for entry (.1); review of order entered by the court and send to client (.1)
04/19/17	M.J. Gearin	0.60	Review of Hauptman correspondence, claim and storage account records (.1); revisions to storage termination agreement (.3); call with N. Hauptman (.2)
	TOTAL	FEES	8.10 hrs \$ <u>3,306.00</u>

Invoice # 3428094 2070561 Page 6 of 29

TIMEKEEPER SUMMARY

M.J. Gearin	4.00	hrs at	\$	530.00 / hr		2,120.00
D. A. Lentz	1.60	hrs at	\$	210.00 / hr		336.00
B. T. Peterson	2.50	hrs at	\$	340.00 / hr		850.00
	TOTAL FEES		8.10 hrs			3.306.00

.....

MATTER SUMMARY

Invoice # 3428094 2070561 Page 7 of 29

Case Administration (70040)

\$1,717.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/10/17	M.J. Gearin	0.80	Multiple calls with Trustee regarding case issues including equipment sale, Dayton lease, preparations for Medallic trial
04/18/17	M.J. Gearin	1.30	Meet with Trustee regarding case planning and creation of case task list
04/24/17	D. A. Lentz	0.10	Review of notice to continue hearing on L. Martini 2004 exam and update files and calendar as needed
04/26/17	M.J. Gearin	1.10	Meet with Trustee regarding multiple case issues and preparation for hearing on Bressler settlement
		TOTAL FEES	3.30 hrs \$1,717.00

TIMEKEEPER SUMMARY

	TOTAL FEES	3.3	0 hrs	\$ 1,717.00
D. A. Lentz	0.10 hrs	at \$	210.00 / hr	21.00
M.J. Gearin	3.20 hrs	at \$	530.00 / hr	1,696.00

MATTER SUMMARY

Fees \$ 1,717.00 MATTER TOTAL \$ 1,717.00

Invoice # 3428094 2070561 Page 8 of 29

Litigation (70100)

\$5,169.00

FEES

DATE	NAME	HOURS	DESC	RIPT	ION	
04/04/17	D. A. Lentz	0.40	applic (.2); te	ation ation	D. Neu regarding for 2004 examina one call with E. Ro ing same (.2)	ation by creditor
04/04/17	D.C. Neu	3.30	Draft a	and e	dit response to 20	004 motion
04/05/17	D. A. Lentz	0.40	applic	ation	revise objection (.3); email with E eclaration in supp	. Robinson
04/05/17	D.C. Neu	2.80	2004	exami	draft and revise nation of L. Martite with client regarders	ni (2.5);
04/06/17	D.C. Neu	0.50	Revise	e oppoination	osition to motion of L. Martini and	for 2004
04/07/17	D. A. Lentz	0.70	declar applic regard email object	ration ation ding sation to E. Ition ar	call with E. Robin in support of objet (.1); conference wame (.1); revise of Robinson re samed corresponding SBC (.2); file with	ection to 2004 with B. Peterson declaration and e (.1) finalize all documents for
04/10/17	D. A. Lentz	0.20	Hearing binder on motion for 2004 application of L. Martini			
04/12/17	M.J. Gearin	0.50	Attorn	ey's c	ations with B. We office regarding st d privilege waive	atus of Medallic
04/14/17	M.J. Gearin	3.10	Meet v		rustee FBI and D	OJ regarding
		TOTAL FEES		-	90 hrs	\$ <u>5,169.00</u>
		TIMEKEEP	ER SUN	//MAR	<u> Y</u>	
M.J. Gearin		3.60	hrs at	\$	530.00 / hr	1,908.00
D. A. Lentz		1.70	hrs at	\$	210.00 / hr	357.00
D.C. Neu		6.60	hrs at	\$	440.00 / hr	2,904.00
		TOTAL FEES		11.9	00 hrs	\$ <u>5,169.00</u>

Invoice # 3428094 2070561 Page 9 of 29

MATTER SUMMARY

Fees \$ 5,169.00 MATTER TOTAL \$ 5,169.00

Trustee v Medallic Art Co LLC (70101)

\$71,323.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/01/17	C.M. Wyant	2.30	Draft reply in support of motion to exclude expert and conduct research for same
04/02/17	B. T. Peterson	0.90	Revise and edit reply in support of motion to exclude expert witness
04/02/17	B. T. Peterson	0.90	Draft trial brief
04/02/17	C.M. Wyant	3.50	Complete draft of reply in support of motion to exclude expert (2.5); work on draft Rule 26 trial disclosure (1.0)
04/03/17	A. E. Gammell	1.50	Conduct legal research supporting legal theory that a corporation can be treated as an alter ego of another corporation for liability purposes under Washington law and confer with B. Peterson regarding same
04/03/17	D. A. Lentz	0.80	Finalize reply in support of motion to exclude witness and corresponding declaration including preparation of exhibits (.4); update hearing binder (.1); file documents with USBC (.2); voicemails to Judge's chambers regarding Judge's copies (.1)
04/03/17	D. A. Lentz	1.00	Draft trustee's business records disclosure (.5); email exchanges with Discover Card re records declaration (.2); prepare exhibits to trustee's business records disclosure (.2); send business records disclosure for service on opposing counsel (.1)
04/03/17	D. A. Lentz	0.70	Draft of notice of hearing regarding motion to approve settlement with R. Bressler
04/03/17	D. A. Lentz	0.30	Email customers regarding declarations drafted on their behalf for review and signature
04/03/17	D. A. Lentz	0.40	Work with attorneys to finalize defendant's pretrial statement (.3); send pretrial statement for service on opposing counsel (.1)
04/03/17	B. T. Peterson	2.30	Research regarding trial brief and pretrial statement
04/03/17	B. T. Peterson	5.40	Prepare pretrial statement
04/03/17	C.M. Wyant	7.40	Draft and revise reply brief and declaration and conduct additional research for same (2.3); conference with M. Gearin regarding reply brief (.3); draft and revise pre-trial statement and conference with B. Peterson and M. Gearin regarding same (4.7); draft email to A. Orth regarding exhibit list (.1)
500663838 v1			

DATE	NAME	HOURS	DESCRIPTION
04/04/17	D. A. Lentz	0.50	Work with M. Gearin to finalize notice of hearing on Bressler settlement motion (.2); finalize notice of hearing for service on special notice list and send for service (.3)
04/04/17	B. T. Peterson	1.20	Witness investigation and preparation
04/04/17	B. T. Peterson	3.20	Research and draft trial brief
04/04/17	C.M. Wyant	8.50	Prepare for hearing on motion to exclude expert and motion for continuance (2.5); conference with L. Steidl regarding document production and review documents from same (.4); attend hearing on motions (2.3); conference with M. Gearin, B. Peterson and M. Calvert regarding hearing results and case tasks (1.3); conference with Cascade Capital regarding discovery (.3); review proposed settlement agreement and discuss edits to same (.3); draft emails regarding deposition scheduling and review responses to same (.2); draft task list (.2); continue work on discovery responses (1.0)
04/05/17	M.J. Gearin	2.10	Review and analysis of draft settlement agreement from Medallic (1.1); meet with T. Bucknell and R. Powers regarding same; communications with Trustee regarding settlement proposal (1.0)
04/05/17	D.C. Neu	0.60	Consult with B. Peterson and C. Wyant regarding Medallic witness issues
04/05/17	B. T. Peterson	2.70	Draft trial brief and research relating to same
04/05/17	B. T. Peterson	1.40	Trial and witness preparation for Medallic trial
04/05/17	C.M. Wyant	5.30	Work on supplemental responses to discovery requests and communicate with M. Calvert and staff regarding same (3.5); expert deposition preparation (1.0); conference with M. Gearin and B. Peterson regarding trial tasks and trial brief (.8)
04/06/17	M.J. Gearin	2.50	Meetings with trial team regarding production of discovery and review of email production (2.3); review of proposed order on Medallic trial continuance motion (0.2)
04/06/17	M.J. Gearin	1.00	Call with Trustee regarding settlement response (0.6); settlement email to T. Bucknell and R. Powers (0.4)
04/06/17	D. A. Lentz	2.40	Meeting with M. Gearin, B. Peterson and C. Wyant regarding potential witnesses (.1); review of claims register regarding potential witnesses (1.5); telephone calls to potential witnesses (.8)
04/06/17	B. T. Peterson	0.60	Review discovery to be produced to opposing

DATE	NAME	HOURS	DESCRIPTION
			counsel
04/06/17	B. T. Peterson	1.50	Draft pleadings in support of motion to approve Bressler settlement
04/06/17	B. T. Peterson	4.10	Trial preparation including communications with potential witnesses
04/06/17	C.M. Wyant	7.10	Continue drafting and revising supplemental discovery responses and reviewing documents for same (3.5); conference with M. Gearin, B. Peterson, M. Calvert and S. Skaggs regarding discovery (2.3); review, edit and draft emails regarding order on motion (.6); conference with potential witnesses (.7)
04/07/17	M.J. Gearin	2.50	Draft revisions to Bressler settlement motion and declaration in support
04/07/17	M.J. Gearin	0.70	Communications regarding supplemental document production and email review in connection with same
04/07/17	D. A. Lentz	0.40	Telephone calls with investors and customers regarding potential witnesses
04/07/17	B. T. Peterson	1.20	Communications with creditors related to trial
04/07/17	B. T. Peterson	3.70	Draft and finalize pleadings in support of Bressler settlement motion
04/07/17	C.M. Wyant	5.70	Revise draft discovery responses (1.8); coordinate regarding document production (.4); edit draft motion to approve Bressler settlement and discuss same with B. Peterson (1.2); continue deposition preparation (1.7); conference regarding accounting system reports and review same (.6)
04/08/17	B. T. Peterson	2.20	Research and draft trial brief
04/09/17	B. T. Peterson	0.40	Research and draft trial brief
04/10/17	M.J. Gearin	0.60	Call with F. Mendoza regarding trial testimony
04/10/17	M.J. Gearin	1.50	Review of Calvert emails regarding document production
04/10/17	M.J. Gearin	0.50	Communications with Trustee and R. Powers re settlement discussions
04/10/17	M.J. Gearin	0.30	Revisions to draft order on expert disqualification motion
04/10/17	D. A. Lentz	0.20	Review of documents filed regarding motion to approve settlement and calendar hearing dates and deadlines regarding same
04/10/17	D. A. Lentz	0.20	Follow up phone call and email exchange with vendor regarding potential witness
04/10/17	B. T. Peterson	4.90	Research and draft trial brief
04/10/17	C.M. Wyant	4.20	Draft deposition notices for MACLLC, Hansen and Gerbic (.2); draft proposed order on motion to exclude expert and email same to

DATE	NAME	HOURS	DESCRIPTION
			MACLLC's counsel (.4); conference with M. Calvert re continued Hansen deposition and continue preparing for same (1.5); edit draft trial brief (.7); amend pretrial statement (.4); research for motions in limine (1.0)
04/11/17	M.J. Gearin	0.50	Email exchange with R. Powers and T. Bucknell regarding settlement issues
04/11/17	M.J. Gearin	2.20	Review of Trustee's reports on insolvency and reasonably equivalent value (1.3); initial review of draft trial brief (.9)
04/11/17	D. A. Lentz	0.10	Review of declaration returned from R. Kirsch
04/11/17	D. A. Lentz	0.30	Meeting with C. Wyant and B. Peterson regarding exhibits for trial
04/11/17	B. T. Peterson	1.30	Preparation of exhibits for trial
04/11/17	B. T. Peterson	1.10	Research related to substantive consolidation
04/11/17	C.M. Wyant	4.10	Continue deposition preparation (1.8); continue editing draft trial brief and discuss research issue for same (1.5); work on motion in limine issues (.5); review email from M. Calvert and B. Peterson (.3)
04/12/17	M.J. Gearin	4.20	Calls with T. Bucknell and Trustee regarding Medallic intent to dismiss (1.7; review and analyze motion to dismiss (1.0); meet with trial team regarding procedural mechanisms for dismissal and entry of judgment (1.5)
04/12/17	B. T. Peterson	0.60	Prepare exhibits for trial
04/12/17	B. T. Peterson	2.90	Analyze issues related to motion for voluntary dismissal and discuss the same with C. Wyant and M. Gearin
04/12/17	B. T. Peterson	3.30	Research case law related to substantive consolidation and entry of judgment in case in connection with dismissal motion
04/12/17	C.M. Wyant	3.90	Continue preparation for depositions (1.2); review motion for voluntary dismissal and related pleadings (.4); conference regarding effect of motion, response, and tasks (1.5); draft order on motion for voluntary dismissal (.3); conduct research regarding basis for fees and costs (.5)
04/13/17	D. A. Lentz	0.50	Finalize response to motion to dismiss and file with USBC (.3); revise proposed order to a stipulated order and email to opposing counsel for signature (.2)
04/13/17	B. T. Peterson	0.70	Analyze issues related to entry of judgment of substantive consolidation
04/13/17	C.M. Wyant	3.50	Conference with M. Gearin and B. Peterson regarding potential bases for fees and costs (.5); conduct research regarding same (2.3);

DATE	NAME	HOURS	DESCRIPTION
			edit draft response brief to motion for voluntary dismissal (.4); conference regarding order setting hearing on motion and draft email to Bucknell firm regarding scheduled deadlines (.3)
04/14/17	M.J. Gearin	1.10	Communications with Trustee and trial team regarding preparations for hearing on motion to dismiss and entry of judgment
04/14/17	C.M. Wyant	2.40	Discuss attorneys' fees research with M. Gearin and continue to research same
04/17/17	M.J. Gearin	0.40	Communications with Trustee and M. Northrup regarding Bressler settlement motion
04/17/17	M.J. Gearin	0.60	Prepare for hearing on motion to dismiss
04/17/17	D. A. Lentz	0.30	Prepare hearing notebook for hearing on motion to dismiss case
04/17/17	B. T. Peterson	0.70	Research issues related to form of substantive consolidation judgment
04/17/17	C.M. Wyant	1.20	Continue research for possible motion for fees and costs
04/18/17	M.J. Gearin	2.10	Prepare for and attend hearing on Medallic motion to dismiss claims; revisions to order of dismissal
04/18/17	D. A. Lentz	0.30	Conference with M. Gearin regarding outcome of hearing to dismiss (.1); email order for signature from opposing counsel and review signed order returned (.1), upload order with court and call chambers per request (.1)
04/18/17	B. T. Peterson	1.40	Research issues related to entry of substantive consolidation order
04/18/17	C.M. Wyant	1.40	Attend hearing on motion for voluntary dismissal and discuss same with M. Gearin and Trustee (.9); research judgment issues (.5)
04/19/17	M.J. Gearin	1.50	Review research regarding effects of substantive consolidation (.3); review sample subcon judgments (.3); meet regarding draft of subcon judgment for Medallic (.9)
04/19/17	D. A. Lentz	0.40	Prepare proof of service of notice of hearing on motion to approve Bressler settlement agreement (.2); file proof of service with USBC (.2)
04/19/17	B. T. Peterson	1.20	Draft proposed subcon judgment
04/19/17	B. T. Peterson	3.60	Research related to substantive consolidation judgment
04/19/17	C.M. Wyant	0.40	Discuss draft of form of judgment with B. Peterson and review research regarding same
04/20/17	M.J. Gearin	1.50	Review of research regarding alter ego and substantive consolidation consequences (.4);

DATE	NAME	HOURS	DESCRIPTION
			draft revisions to proposed form of judgment (1.1)
04/20/17	B. T. Peterson	2.40	Research related to form of judgment
04/20/17	C.M. Wyant	1.00	Review and discuss draft judgment and conduct additional research for same (.6); research form of notice of presentation (.4)
04/21/17	D. A. Lentz	0.10	Review of response to motion to approve settlement with R. Bressler and forward to client
04/21/17	C.M. Wyant	1.60	Review final draft of proposed judgment (.1); research and draft notice of presentation of judgment (1.5);
04/24/17	D. A. Lentz	0.30	Review of court docket regarding any responses to motion to approve settlement with R. Bressler (.1); submit declaration of no objections with Court (.1); upload order for entry with court (.1)
04/24/17	B. T. Peterson	0.10	Review email regarding form of judgment
04/25/17	D. A. Lentz	1.00	Work with attorneys on notice of presentation of final judgment (.2); pull together addresses and email addresses for service list (.3); file notice in both the bankruptcy case and the adversary proceeding (.3); send for service via multiple means (.2)
04/25/17	D. A. Lentz	0.30	Review of order submitted but not entered re Bressler settlement (.1); prepare hearing binder for motion scheduled (.2)
04/25/17	B. T. Peterson	2.70	Draft and finalize notice of entry of proposed judgment
04/25/17	C.M. Wyant	1.20	Draft and revise notice of presentation of judgment and discuss same with M. Gearin and B. Peterson (1.2)
04/26/17	M.J. Gearin	0.60	Review of pleadings and preparation for hearing on Bressler settlement
04/26/17	D. A. Lentz	0.30	Preparation of proofs of service for notice of presentation of judgment and file same in bankruptcy case and in adversary proceeding
04/26/17	D. A. Lentz	0.40	Conference with M. Gearin regarding notices of intent to argue re multiple motions pending (.1); electronically submit notices for 3 different motions/presentations (.3)
04/26/17	B. T. Peterson	0.80	Conference with M. Gearin and C. Wyant regarding matters set for hearing
04/26/17	B. T. Peterson	1.10	Research related to adequate protection
04/26/17	C.M. Wyant	0.90	Review and respond to email regarding deposition transcript (.1); discuss pending motions and hearings for same with M. Gearin and B. Peterson (.8)

Invoice # 3428094 2070561 Page 16 of 29

DATE	NAME	HOURS	DESCRIPTION
04/27/17	B. T. Peterson	0.90	Analysis of response to notice of presentation of judgment
04/27/17	C.M. Wyant	0.60	Review opposition to notice of presentation of judgment and discuss reply to same (.6)
04/28/17	M.J. Gearin	1.10	Prepare for and attend hearing on Bressler settlement
04/28/17	M.J. Gearin	1.20	Revisions to reply on notice of presentation of judgment
04/28/17	M.J. Gearin	1.00	Prepare for hearing on presentation of judgment
04/28/17	B. T. Peterson	2.50	Draft reply in support of motion for presentation of judgment
04/28/17	C.M. Wyant	0.80	Draft section of reply brief on notice of presentation of judgment and edit same (.4); discuss Bressler settlement motion and next steps with M. Gearin (.4)
	TOTAL	. FEES	173.90 hrs \$

TIMEKEEPER SUMMARY

A. E. Gammell	1.50	hrs at	\$	280.00 / hr		420.00
M.J. Gearin	29.70	hrs at	\$	530.00 / hr		15,741.00
D. A. Lentz	11.20	hrs at	\$	210.00 / hr		2,352.00
D.C. Neu	0.60	hrs at	\$	440.00 / hr		264.00
B. T. Peterson	63.90	hrs at	\$	340.00 / hr		21,726.00
C.M. Wyant	67.00	hrs at	\$	460.00 / hr		30,820.00
	TOTAL FEES		173.90) hrs	\$_	71,323.00

MATTER SUMMARY

Fees \$ \frac{71,323.00}{MATTER TOTAL} \$ \frac{71,323.00}{71,323.00}

Invoice # 3428094 2070561 Page 17 of 29

Trustee v Diane Erdmann	(70102)
-------------------------	---------

\$176.00

FEES

DATE 04/21/17	NAME D.C. Neu	HOURS 0.40	DESCRIPTION Call with T. Tracy regarding	case status and		
~ · · · · · · · · · · · · · · · · · · ·	2.00	TOTAL FEES	mediation 0.40 hrs	\$ <u>176.00</u>		
		TIMEKEEPI	<u>ER SUMMARY</u>			
D.C. Neu		0.40 TOTAL FEES	hrs at \$ 440.00 / hr 0.40 hrs	176.00 \$ 176.00		
MATTER SUMMARY						
Fees MATTER T	OTAL			\$ <u>176.00</u> \$ <u>176.00</u>		

American Express Fraudulent Transfer Action (70107)

\$4,227.00

\$ 4,227.00

FEES

DATE	NAME	HOURS	DESCRIPTIO	N		
04/03/17	D.C. Neu	1.60	Compile mediation materials (.6); work on mediation statement (1)			
04/04/17	D. A. Lentz	0.20	Meeting with D. Neu regarding status of request for continuance of trial (.1); voicemail to Judge's chambers regarding same (.1)			
04/04/17	D.C. Neu	0.90	Review propodiscussions r	sed settler	nent agreen	
04/05/17	D.C. Neu	0.70	Edit discover	y response	S	
04/11/17	D.C. Neu	1.00	Call with D. Swork on medi		-	ion (.3);
04/12/17	D.C. Neu	2.50	Call with D. Scalia regarding mediation (.3); communicate with A. Marshall regarding same (.1); review documents related to dismissal of Medallic litigation (.0.7); meetings to discuss same and impact on ancillary litigation (1.4)			
04/14/17	D. A. Lentz	0.40	Review of First Amended Notice of Trial and Order Setting Deadlines and begin calendaring all dates and deadlines regarding same			
04/14/17	D. C. Wolf	0.20	Review amended case deadlines; email D. Neu regarding next steps			mail D.
04/17/17	D. A. Lentz	1.50	Search transcripts from multiple proceedings regarding assets of D. Erdmann			
04/18/17	D.C. Neu	1.50	Revise discovery responses (1); call from D. Bugbee regarding withdrawal as counsel (.2); communicate with client and M. Gearin regarding same (.3)			
04/18/17	D. C. Wolf	0.10	Email to D. Neu regarding status of case and defense counsel's withdrawal			case and
04/19/17	D.C. Neu	0.20	Communicate with opposing counsel regarding discovery deadline			ş
		TOTAL FEES	10.80	•	\$	4,227.00
		TIMEKEEP	R SUMMARY	,		
D. A. Lentz		2.10	nrs at \$	210.00 / h	nr	441.00
D.C. Neu		8.40	nrs at \$	440.00 / h		3,696.00
D. C. Wolf		0.30	nrs at \$	300.00 / h		90.00

10.80 hrs

TOTAL FEES

Invoice # 3428094 2070561 Page 19 of 29

MATTER SUMMARY

Fees \$ 4,227.00 MATTER TOTAL \$ 4,227.00

Meetings and Communications with Creditors (70110)

\$2,550.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/04/17	D. A. Lentz	0.30	Review of documents needed to attach as Exhibit A to Declaration of D. Petteys (.2); email finished document to D. Petteys (.1)
04/04/17	D. A. Lentz	0.10	Field phone call from creditor
04/05/17	D. A. Lentz	0.80	Revision of D. James declaration (.2); drafting of T. Seip declaration (.3); drafting of declaration of L. Chiappellone (.3)
04/06/17	M.J. Gearin	2.50	Prepare for and participate in creditors committee meeting
04/06/17	M.J. Gearin	1.10	Draft declarations of committee members Seip, Chiappellone and James regarding disclosures
04/12/17	M.J. Gearin	0.30	Call with L. Chiappellone (.1); revise declaration (.2)
04/12/17	D. A. Lentz	0.10	Field phone call and email exchange with creditor regarding status of case
04/12/17	D. A. Lentz	0.30	Draft of letter to L. Chiappellone regarding revised declaration and send same for signature
04/14/17	D. A. Lentz	0.10	Review of executed declaration of T. Seip
04/18/17	D. A. Lentz	0.40	Field phone calls and voicemails from creditors regarding status of case
04/21/17	D. A. Lentz	0.10	Review of executed declaration of L. Chiappellone and update file
04/24/17	D. A. Lentz	0.10 TOTAL FEES	Revise declaration of D. James per request 6.20 hrs \$\frac{2,550.00}{}

TIMEKEEPER SUMMARY

	TOTAL FEES		•	0 hrs	\$ 2,550.00
D. A. Lentz	2.30	hrs at	\$	210.00 / hr	483.00
M.J. Gearin	3.90	hrs at	\$	530.00 / hr	2,067.00

MATTER SUMMARY

Fees \$ 2,550.00 MATTER TOTAL \$ 2,550.00 Tax (70140) \$6,820.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/12/17	M.J. Gearin	1.10	Calls with Trustee regarding tax implications of substantive consolidation order (.5); research regarding same (.4); schedule call with tax counsel and provide background in anticipation of call (.2)
04/12/17	D. A. Lentz	0.20	Meeting with M. Gearin regarding tax returns (.1); pull same and send to J. Mobley (.1)
04/13/17	J. Mobley	0.80	Prepare for and participate in conference with M. Gearin and client to discuss substantive consolidation and related tax issues
04/13/17	J. Mobley	2.80	Tax analysis and research regarding substantive consolidation and tax considerations for LLC entities under bankruptcy jurisdiction
04/14/17	M.J. Gearin	1.00	Review and analyze tax memo from J. Mobley (.7); email exchange with Trustee regarding same (.3)
04/14/17	D. A. Lentz	0.20	Meeting with M. Gearin regarding operating agreement of Medallic Art (.1); retrieve same and send to multiple parties (.1)
04/14/17	J. Mobley	2.70	Tax analysis and research regarding substantive consolidation and tax considerations for LLC entities under bankruptcy jurisdiction; prepare correspondence to client team
04/17/17	D. A. Lentz	0.20	Review of NWTM formation documents retrieved from Secretary of State (.1), message to corporate paralegal at Short Cressman & Burgess re operating agreement (.1)
04/19/17	M.J. Gearin	1.10	Review research regarding tax issues relating to substantive consolidation
04/19/17	D. A. Lentz	0.20	Telephone call and follow up email to Short Cressman & Burgess regarding NWTM operating agreement (.1); conference with M. Gearin and forward formation documents to multiple parties (.1)
04/20/17	M.J. Gearin	1.10	Review research regarding tax consequences of alter ego and substantive consolidation
04/26/17	M.J. Gearin	1.00	Communications with Trustee regarding tax filing and tax plan issues (.4); review of additional research materials regarding preservation of operating losses (.6)
500663838 v1			

Invoice # 3428094 2070561 Page 22 of 29

TOTAL FEES 12.40 hrs \$ 6,820.00

TIMEKEEPER SUMMARY

M.J. Gearin 5.30 hrs at \$ 530.00 / hr 2,809.00
D. A. Lentz 0.80 hrs at \$ 210.00 / hr 168.00
J. Mobley 6.30 hrs at \$ 610.00 / hr 3,843.00
TOTAL FEES 12.40 hrs \$ 6.820.00

MATTER SUMMARY

Fees \$ 6,820.00 MATTER TOTAL \$ 6,820.00

Assumption and Rejection of Leases and Contracts (70150)

\$1,504.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/11/17	M.J. Gearin	0.50	Communications with Trustee regarding Hoff litigation and status of settlement on lease
04/13/17	D. A. Lentz	0.30	Review of certificate of readiness from appellate court and calendar appeal dates and deadlines on Auburn lease appeal
04/14/17	D. A. Lentz	0.20	Conference with D. Neu regarding lease rights motion and review of file regarding same (.1); review of order continuing hearing date and update calendar regarding same (.1)
04/25/17	D. A. Lentz	0.10	Follow up on hearing on trustee's motion to assume Dayton lease (.1); update hearing binder from original hearing (.2)
04/26/17	M.J. Gearin	0.90	Call with A. Smith regarding assumption of Dayton lease (.3); email exchanges with R. Powers regarding objection of Hansen to assumption (.2); review of pleadings on motion to assume (.4)
04/28/17	M.J. Gearin	1.20	Multiple calls and email exchanges with A. Smith regarding Dayton lease cure issues (.6); review of email and correspondence regarding maintenance list (.4); call with Trustee (.2)
		TOTAL FEES	3.20 hrs \$ <u>1,504.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	2.60	hrs at	\$	530.00 / h	r	1,378.00
D. A. Lentz	0.60	hrs at	\$	210.00 / h	r	126.00
	TOTAL FEES	TOTAL FEES 3.20 hrs		0 hrs	\$	1,504.00

MATTER SUMMARY

Fees	\$ <u>1,504.00</u>
MATTER TOTAL	\$ <u>1,504.00</u>

Invoice # 3428094 2070561 Page 24 of 29

Real Estate (70200)

\$1,156.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/24/17	B. T. Peterson	0.70	Review proposed lease agreement
04/25/17	B. T. Peterson	2.40	Review real property lease agreement for Virginia facility and provide comments regarding the same
04/26/17	B. T. Peterson	0.30	Review of lease agreement for Virginia facility
	TOTAL	. FEES	3.40 hrs \$ <u>1,156.00</u>

TIMEKEEPER SUMMARY

B. T. Peterson	3.40	hrs at	\$	340.00 / I	hr	1,156.00
	TOTAL FEES		3.40	hrs	\$	1,156.00

MATTER SUMMARY

Fees \$ 1,156.00 MATTER TOTAL \$ 1,156.00

Invoice # 3428094 2070561 Page 25 of 29

Reporting (70210)

\$667.00

FEES

DATE	NAME	HOURS	DESCRIPTION
04/17/17	M.J. Gearin	0.30	Review monthly report
04/18/17	M.J. Gearin	0.30	Review and draft revisions to monthly report
04/19/17	M.J. Gearin	0.50	Draft revisions to monthly report (.2); email communications with Trustee regarding same (.3)
04/19/17	D. A. Lentz	0.40	Email from J. Cannady regarding monthly financial report (.1); conference with M. Gearin regarding changes to report (.1); finalize report for filing with attachments and file with USBC (.2)
		TOTAL FEES	1.50 hrs \$ <u>667.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.10 hrs	at \$	530.00 / hr	583.00
D. A. Lentz	0.40 hrs	at \$	210.00 / hr	84.00
	TOTAL FEES	1.5	50 hrs	\$ 667.00

MATTER SUMMARY

Fees \$ 667.00 MATTER TOTAL \$ 667.00

Invoice # 3428094 2070561 Page 26 of 29

US-TMK: MACO - CL. 14 - 28718361 (70240)	\$18.00
--	---------

US Serial No.: 87218361

|--|

	<u>FEE3</u>							
DATE 04/17/17	NAME K. P. Wing	HOURS 0.10	DESCRIPTION Update shared SE IP calend deadline, including creating for sending reminder emails	calendar events				
		TOTAL FEES	0.10 hrs	\$ <u>18.00</u>				
K. P. Wing		0.10	ER SUMMARY hrs at \$ 180.00 / hr	18.00				
		TOTAL FEES MATTER	0.10 hrs SUMMARY	\$ <u>18.00</u>				
Fees MATTER T	OTAL			\$ 18.00 \$ 18.00				

Invoice # 3428094 2070561 Page 27 of 29

Costs (99999) \$6,071.23

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
04/03/17	Westlaw - AEG - 04/03/2017 - 04/03/2017	143.92
04/04/17	Copying Expense	58.40
04/04/17	YOM Full Service court Reporting	886.00
04/04/17	Reversal from Cancelled Voucher 2003546	(886.00)
04/04/17	YOM Full Service court Reporting	886.00
04/05/17	Westlaw - DCN - 04/05/2017 - 04/05/2017	287.84
04/11/17	Local Courier - Courier Services for March 2017 - Halo Messenger Services, LLC - 04012017 - 3/24 #2 Bucknell Stehlik @ 2003 Western #400 - Notice of Deposition of W. Tennant	7.00
04/11/17	Local Courier - Courier Services for March 2017 - Halo Messenger Services, LLC - 04012017 - 3/17 #2 RJC, Kent - Def Rebuttal Expert Witness Disclosure	85.00
04/11/17	Local Courier - Courier Services for March 2017 - Halo Messenger Services, LLC - 04012017 - 3/23 #2 Bucknell Stehlik @ 2003 Western #400 - Notices of Deposition (3)	29.00
04/11/17	Local Courier - Courier Services for March 2017 - Halo Messenger Services, LLC - 04012017 - 3/3 #2 Bucknell Stehlik @ 2003 Western #400 - Production	29.00
04/13/17	Westlaw - MTY - 04/13/2017 - 04/13/2017	45.55
04/17/17	Travel Expenses - Wyant, Christopher - Parking - 2017-04-04 - Imperial Parking - Parking for Hearing	15.00
04/18/17	Local Courier - John Sullivan - 2/2 #3 U.S. District Court - 5 CD Rom's	29.00
04/18/17	Local Courier - John Sullivan - 2/17 #4 2003 Western #400 - Production	29.00
04/18/17	Local Courier - John Sullivan - 2/21 #2 155 NE 100th St #205 - notices of Subpoena, Paypal, Amazon	75.00
04/18/17	Local Courier - John Sullivan - 2/23 #6 2003 Western #400 - Production	29.00
04/18/17	Local Courier - John Sullivan - 2/27 #6 2003 Western #400 - Production	29.00
04/18/17	Local Courier - John Sullivan - 2/28 #4 US District Court - Courtesy Copies of Docket #'s 22 and 23 re C16-1392	8.00
04/24/17	Travel Expenses - Gearin, Michael - Parking - 2017-04-14 - IMPARK 00250010 - 4 14 Hearing Parking	12.00
04/24/17	Travel Expenses - Peterson, Brian - Parking - 2017-03-31 - PORT OF SEATTLE PUBLIC PA - Airport Parking	28.00
04/24/17	Travel Expenses - Peterson, Brian - Car Rental - 2017-03-30 - HERTZ RAC FIREFLY - Rental Car - No	51.00
04/24/17	Travel Related Meals - Peterson, Brian - Meals (Breakfast/Lunch/ Dinner) - 2017-03-30 - RNO WILD GARLIC C 2601382 - Dinner -	18.92

Invoice # 3428094 2070561 Page 29 of 29

DATE	DESCRIPTION Dinner	AMOUNT
04/24/17	Travel Related Meals - Peterson, Brian - Meals (Breakfast/Lunch/Dinner) - 2017-03-30 - SBUX09920 - Lunch - Lunch	10.86
04/24/17	Travel Related Meals - Peterson, Brian - Meals (Breakfast/Lunch/ Dinner) - 2017-03-30 - QUIK STOP MARKET 169 - Breakfast - Breakfast	8.62
04/25/17	Ahearn & Assoc. 1/20/17 hearing transcript	40.80
04/26/17	Westlaw - BTP - 04/03/2017 - 04/26/2017	2,502.60
04/28/17	Westlaw - CM1W - 04/03/2017 - 04/28/2017	17.43
04/28/17	Barkley - W. Tenant Transcript	368.58
04/28/17	Barkley - R. Vugteveen Transcript	685.42
04/28/17	Barkley - B. Miles Transcript	541.29
	DISBURSEMENTS & OTHER CHARGES	\$ 6,071.23

MATTER SUMMARY

Disbursements and Other Charges	\$_	6,071.23
MATTER TOTAL	\$_	6,071.23

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 11, 2017

Invoice Number : 3427445 Services Through : April 30, 2017 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 14,439.46 Disbursements and Other Charges \$ 438.73

Total Amount Due This Matter \$ 14,878.19

CURRENT INVOICE DUE - All Matters \$ 14.878.19

500663550 v1

Litigation -- e-DAT Fees (77100)

\$14,878.19

DATE	NAME	HOURS	DESCRIPTION
04/01/17	L.E. Steidl	0.80	Audit production records for files cited in NWTM financial records summary, and create reference binder of cited documents for use by M. Gearin, C. Wyant, B. Peterson
04/03/17	M. Bassetti	0.00	Update chain of custody tracking logs for production of volume NWTM014 to Medallic Art Company, LLC per request by L. Steidl
04/03/17	L.E. Steidl	3.80	Review materials for production, including M. Gearin, B. Peterson, and M. Calvert email
04/03/17	L.E. Steidl	1.40	Organize results of review of M. Calvert, M. Gearin, and B. Peterson email for final review and approval of M. Gearin and B. Peterson, summarizing outstanding responsiveness and privilege issues related to same
04/04/17	M. Bassetti	4.90	Review hard copy documents and create index for attorney review
04/04/17	L.E. Steidl	3.80	Review materials for production, including M. Gearin, B. Peterson, and M. Calvert email
04/04/17	L.E. Steidl	0.80	Organize results of review of M. Calvert, M. Gearin, and B. Peterson email for final review and approval of M. Gearin and B. Peterson, summarizing outstanding responsiveness and privilege issues related to same
04/05/17	M. Bassetti	0.60	Review hard copy documents and create index for attorney review
04/05/17	L.E. Steidl	1.70	Organize results of review of M. Calvert, M. Gearin, and B. Peterson email for final review and approval of M. Gearin and B. Peterson, summarizing and conferring with M. Gearin, R. Tausend, B. Peterson, and C. Wyant regarding responsiveness, privilege and privilege waiver issues related to same
04/05/17	L.E. Steidl	0.70	Review materials for production, including M. Gearin, B. Peterson, and M. Calvert email
04/05/17	R. M. Tausend	0.60	Strategize with M. Gearin and L. Steidl regarding open decision points to complete review and production of M. Calvert, M. Gearin and B. Peterson post-March 2016 communications in response to RFPs (0.3);

DATE	NAME	HOURS	DESCRIPTION
			strategize with C. Wyant and L. Steidl regarding other categories of documents subject to production pursuant to court hearing order and related issues, including attorney-client and common interest privilege and work product (0.3)
04/06/17	L.E. Steidl	3.50	Finalize production sets from review of M. Calvert, M. Gearin, and B. Peterson email based on analysis and discussions with M. Gearin and B. Peterson, providing summaries to tam regarding same
04/06/17	R. M. Tausend	0.40	Communications with L. Steidl and trial team regarding remaining action items and decision points for supplemental production in response to Medallic discovery requests and court order
04/07/17	M. Bassetti	0.40	Analyze documents confirming compliance with production volume NWTM015 specifications (0.3); prepare April 7th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
04/07/17	T. S. Milne	1.70	Analyze, organize and edit NW Territorial Docs\ESI\eDOCS\2017.04.07 and Non-client Docs\KL Gates\Email\RFP4 ESI for staging in litigation support database for production
04/07/17	T. S. Milne	2.70	Electronically produce NWTM 0116383- NWTM 0120903 out of litigation support database per the request of S. Phillips
04/07/17	T. S. Milne	0.50	LAW: Analyze, organize and edit Non-client Docs\KL Gates\Email\RFP4 ESI for image conversion in response to request from S. Phillips
04/07/17	S.R. Phillips	3.20	Advise and confer with e-DAT Technical team regarding preparation of documents for production in litigation (2.5); advise and confer with R. Tausend, C. Wyant and litigation team regarding matters concerning same (0.4); prepare and send production details to opposing counsel, A. Orth and T. Bucknell and K&L Gates litigation team (0.3)
04/07/17	R. M. Tausend	2.80	Calls and emails with M. Gearin, C. Wyant and S. Phillips to address decision points and action items in support of finalization and delivery of production of M. Gearin, B. Peterson and M. Calvert emails in response to RFP 4 and other subsets of materials pursuant to hearing order, including supplementing production to include responsive emails since initial collections,

DATE	NAME	HOURS	DESCRIPTION
			Bressler settlement communications and additional financial reports generated through custom queries
04/10/17	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM015 to Medallic Art Company, LLC per request by L. Steidl
04/10/17	S.R. Phillips	1.50	Address matters concerning the preparation of documents for production in litigation (0.9); confer with M. Gearin regarding identifying documents to exclude from production to maintain privilege (0.2); prepare and send instructions to M. Gearin regarding efficient manner to transfer information concerning same to e-DAT Technical team (0.4);
04/10/17	R. M. Tausend	0.60	Emails from and to M. Gearin responding to questions and requests relating to M. Calvert email production (0.3); analyze search results in connection with same (0.1); emails with C. Wyant regarding depositions and trial prep in connection with amended pretrial statement (0.2)
04/11/17	M. Bassetti	0.30	Analyze documents confirming compliance with production volume NWTM016 specifications (0.2); prepare April 11th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
04/11/17	G. Hein	1.30	Perform detailed processes to load transcripts and exhibits (R. Vugteveen, W. Miles, W. Tennant) to Calvert Northwest Territorial Mint matter Case Notebook deposition and deposition exhibit database following detailed material tracking standard operating procedures for attorney designation and trial prep at the request of R. Tausend
04/11/17	T. S. Milne	1.50	Electronically produce NWTM 0120904- NWTM 0121274 out of litigation support database per the request of S. Phillips
04/11/17	S.R. Phillips	1.00	Advise and confer with e-DAT Technical team and e-DAT review lawyer T. Hughes regarding matters concerning the preparation of documents for production in litigation (0.6); confer with M. Gearin regarding issues concerning same (0.2); prepare and send production details to opposing counsel, A. Orth and T. Bucknell, and K&L Gates litigation team (0.2)
04/12/17	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM016 to Medallic Art Company, LLC per request by L. Steidl

DATE	NAME	HOURS	DESC	RIPT	ION	
04/12/17	R. M. Tausend	0.60	strate Peters produ techni produ couns	gize versions of the contractions of the contraction of the contractio	dallic's motion to exith M. Gearin, C. egarding impact of and trial preparatem to confirm stated downloads and upmissions to reflectnts (0.1)	Wyant and B. n document tions (0.3); direct tus of Medallic odate opposing
04/13/17	R. M. Tausend	0.30	inform docun copy f for co	nation nent o files ir rpora	nd search strategied relating to Ringta compilations and lead response to M. Outle governance and relating to taxes	il database Legal Office hard Gearin requests
04/18/17	R. M. Tausend	0.10	Email depos recom	from sition meno	B. Gould regardir transcripts and to ding handling of R in technical platfo	G. Hein . Hansen
04/19/17	G. Hein	0.70	and ex Territor depos follow opera	xhibite orial Nation orition oriting de ting p		hibit database acking standard orney designation
04/26/17	L.E. Steidl	0.40	Locate	e, exp ding N	oort, and deliver ko MAC LLC formatio	ey documents
04/30/17	ESI Processino	g N/A	ESI P \$250/	roces GB = t); To	sing: 1.91184 GB \$477.96 (post- filt tal ESI Processing	tered volume -
	-	TOTAL FEES	ΨΠΤ		00 hrs	\$ <u>14,439.46</u>
		TIMEKEEP	ER SUN	/MAF	RY	
M. Bassetti		6.60	hrs at	\$	95.00 / hr	627.00
ESI Proces	sing	N/A	hrs at	\$	N/A / hr	477.96
G. Hein		2.00	hrs at	\$	130.00 / hr	260.00
T. S. Milne			hrs at	\$	180.00 / hr	1,152.00
S.R. Phillips	5	5.70	hrs at	\$	390.00 / hr	2,223.00
L.E. Steidl		16.90	hrs at	\$	395.00 / hr	6,675.50
R. M. Taus		5.40	hrs at	\$	560.00 / hr	3,024.00
		TOTAL FEES		43.	00 hrs	\$ <u>14,439.46</u>

Invoice # 3427445 2070561 Page 6 of 6

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION		AMOUNT
04/30/17	ESI Conversion: Convert 0.51 GB to TIFF images @ \$500/GB: \$253.18		253.18
04/30/17	Ringtail Fees: April 2017 Data Storage Fees: 12.37 GB @ \$15.00/GB: \$185.55		185.55
	DISBURSEMENTS & OTHER CHARGES	\$_	438.73
	MATTER SUMMARY		
Fees Disburseme MATTER TO	\$ \$_ \$ _	14,439.46 438.73 14,878.19	

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428100 Services Through : May 31, 2017 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees \$ 7,056.00 **Total Amount Due This Matter \$ 7,056.00**

Asset Disposition (70020)

Fees \$ 10,422.00

Total Amount Due This Matter \$ 10,422.00

Case Administration (70040)

Fees \$ 1,456.00

Total Amount Due This Matter \$ 1,456.00

Claims, Administration and Objections (70050)

Fees \$ 2,412.00

Total Amount Due This Matter \$ 2,412.00

Financing and Cash Collateral (70090)

Fees \$ 8,943.00

Total Amount Due This Matter \$ 8,943.00

500663954 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3428100
2070561
Page 2 of 32

Litigation	(70100)
------------	---------

Litigation (70100)			
Fees Total Amount Due This Matter	\$ <u>8,615.00</u>	\$	8,615.00
Trustee v Medallic Art Co LLC (70101)			
Fees Total Amount Due This Matter	\$ 3,290.00	\$	3,290.00
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$ <u>840.00</u>	\$	840.00
American Express Fraudulent Transfer Acti	on (70107)		
Fees Total Amount Due This Matter	\$ <u>13,693.00</u>	\$	13,693.00
Meetings and Communications with Creditor	ors (70110)		
Meetings and Communications with Creditor Fees Total Amount Due This Matter	\$ 2,869.00	\$	2,869.00
Fees	\$ 2,869.00	\$	2,869.00
Fees Total Amount Due This Matter	\$ 2,869.00	\$ \$	2,869.00 10,624.00
Fees Total Amount Due This Matter Assumption and Rejection of Leases and C Fees	\$ 2,869.00 ontracts (70150)	·	
Fees Total Amount Due This Matter Assumption and Rejection of Leases and C Fees Total Amount Due This Matter	\$ 2,869.00 ontracts (70150)	·	
Fees Total Amount Due This Matter Assumption and Rejection of Leases and C Fees Total Amount Due This Matter Avoidance Action Analysis (70160) Fees	\$ 2,869.00 ontracts (70150) \$ 10,624.00	\$	10,624.00

Invoice # 3428100 2070561 Page 3 of 32

US-TMK: MACO - CL. 14 - 28718361 (70240)

Fees \$ 18.00

Total Amount Due This Matter \$ 18.00

Costs (99999)

Disbursements and Other Charges \$ 5,669.35

Total Amount Due This Matter \$ 5,669.35

CURRENT INVOICE DUE - All Matters \$ 77,643.35

Asset Analysis and Recovery (70010)

\$7,056.00

DATE	NAME	HOURS	DESCRIPTION
05/08/17	M.J. Gearin	0.50	Review discovery provided by E. Sato regarding payments of fees to Bucknell Stehlik
05/09/17	M.J. Gearin	0.80	Communications with Trustee regarding investigation of source of payment of fees to Bucknell Stehlik (.3); meet regarding discovery of same; analysis of right to recover fees based on vexatious litigation (.5)
05/10/17	M.J. Gearin	0.30	Call with E. Sato re discovery matters (.1); review produced documents (.2)
05/10/17	C.M. Wyant	0.30	Review Hansen deposition transcript and draft email to D. Neu regarding same
05/11/17	M.J. Gearin	0.50	Revisions to motion for 2004 examination of coin dealers
05/12/17	D.C. Neu	1.50	Call with J. Hamell regarding 2004 exam (.2); Research regarding targets of examination (1.3)
05/15/17	D.C. Neu	1.00	Review order on 2004 motion for coin dealers (.2); communicate with D. Lentz regarding subpoenas (.2); research related to entities (.6);
05/16/17	D.C. Neu	1.40	Review information related to proposed sales and abandonment of miscellaneous assets
05/16/17	D.C. Neu	1.10	Review and edit subpoenas to coin dealers(.6); calls with subpoena targets (.5)
05/19/17	D.C. Neu	0.30	Communicate with client regarding Great Panther silver
05/23/17	D.C. Neu	1.70	Review information related to missing assets (.6); revise declaration related to same (.2); work on identification of records for discovery (1)
05/25/17	D.C. Neu	1.20	Finalize additional subpoena to coin shop (.2); call with coin dealer (.2); analysis of legal requirement to maintain records (.7)
05/30/17	D.C. Neu	1.30	Review documents from coin shops regarding sales (.6); analysis regarding record retention requirements (.7)
05/31/17	M.J. Gearin	0.50	Meet regarding discovery relating to coin shop sales and recovery of proceeds

Invoice # 3428100 2070561 Page 5 of 32

DATE	NAME	HOURS	DESCRIPTION		
05/31/17	D. A. Lentz	0.40	Prepare notice of deposition and subpoena of		
05/31/17	D.C. Neu	1.90	B. Geraghty from Northgate Rare Coins Review documents provided in response to 2004 subpoenas (1); calls with coin shops regarding same (.5); call with client regarding same (.4)		
05/31/17	D.C. Neu	1.00	Work on inventory return customer owned invent	. •	
		TOTAL FEES	15.70 hrs	\$7,056.00	
		TIMEKEEP	ER SUMMARY		
M.J. Gearin		2.60	hrs at \$ 530.00 /	hr 1,378.00	
D. A. Lentz		0.40	hrs at \$ 210.00 /	hr 84.00	
D.C. Neu		12.40	hrs at \$ 440.00 /	hr 5,456.00	
C.M. Wyant		0.30	hrs at \$ 460.00 /	hr 138.00	
·		TOTAL FEES	15.70 hrs	\$ 7,056.00	
			SUMMARY		
Fees				\$7,056.00	

MATTER TOTAL

Asset Disposition (70020)

\$10,422.00

DATE	NAME	HOURS	DESCRIPTION
05/01/17	D. A. Lentz	0.20	Review of signed agreement from N. Hauptman (.1); emails to and from client regarding same (.1)
05/02/17	M.J. Gearin	1.10	Communications with Trustee regarding operational results and potential sale process (.4); review and draft revisions to marketing materials (.2)
05/03/17	M.J. Gearin	2.10	Calls with Trustee regarding potential asset sale (.8); review and revision to marketing package for potential purchasers (1.3)
05/04/17	M.J. Gearin	0.40	Communications with Trustee re Graco inventory sale
05/05/17	M.J. Gearin	0.40	Call and email exchanges with Trustee regarding 363 sale of inventory
05/08/17	M.J. Gearin	0.40	Communications with trustee and B. Peterson regarding inventory sale and abandonment motion
05/08/17	M.J. Gearin	0.50	Draft NDA for 363 sale proposals and expressions of interest (.3); email exchange with Trustee regarding same (.2)
05/08/17	B. T. Peterson	0.10	Draft email to client regarding sale motion for scrap equipment
05/10/17	B. T. Peterson	0.10	Email correspondence regarding sale motion for scrap equipment
05/11/17	B. T. Peterson	1.20	Draft motion to sell scrap equipment and Graco inventory
05/12/17	B. T. Peterson	2.00	Draft motion to sell and abandon equipment
05/15/17	D. A. Lentz	0.60	Drafting of notice of hearing on sale of scrap metal, etc.
05/16/17	M.J. Gearin	0.30	Communications with Trustee and D. Neu regarding inventory sale motion
05/16/17	D. A. Lentz	0.40	Finalize notice of sale of inventory and dispose of equipment and send for service to special notice list
05/17/17	D. A. Lentz	0.40	Work with D. Neu on motion to sell and corresponding documents
05/17/17	D.C. Neu	4.10	Continue to draft and edit sale pleadings on supplemental sale of Graco inventory
05/18/17	D.C. Neu	3.30	Finalize sale pleadings on Graco inventory sale (2.6); communicate with client regarding issues related to same (.7)
05/19/17	D. A. Lentz	1.10	Finalize to Motion for Authority to Sell Scrap,
500663954 v1			

Invoice # 3428100 2070561 Page 7 of 32

DATE	NAME	HOURS	DESCRIPTION		
			etc. and corresponding documents including exhibit preparation (.4); file motion and corresponding documents with USBC and send for service (.3); calendar hearing dates and deadlines (.1); prepare and file proof of service for notice of hearing (.3)		
05/19/17	D.C. Neu	0.80	Finalize exhibits for Graco inventory sale motion (.8)		
05/22/17	M.J. Gearin	0.50	Call with Trustee and B. Atalla regarding asset sale issues		
05/22/17	M.J. Gearin	0.60	Communications regarding stored and leased inventory analysis and final return motion		
05/22/17	D.C. Neu	2.40	Work with client on inventory reconciliation issues in connection with return of customer owned precious metal		
05/23/17	D.C. Neu	1.10	Communicate with R. Hyatt regarding collateral issues in connection with Graco inventory sale motion (3.); analysis of same (.5); work with Mint employee to identify collateral (.3)		
05/24/17	M.J. Gearin	0.40	Meet regarding storage customer return motion		
		TOTAL FEES	24.50 hrs \$ <u>10,422.00</u>		
		TIMEKEEP	PER SUMMARY		
M.J. Gearin D. A. Lentz D.C. Neu B. T. Peterson		6.70 2.70 11.70 3.40 TOTAL FEES	hrs at \$ 530.00 / hr 3,551.00 hrs at \$ 210.00 / hr 567.00 hrs at \$ 440.00 / hr 5,148.00 hrs at \$ 340.00 / hr 1,156.00 24.50 hrs \$ 10,422.00		
MATTER SUMMARY					
Fees MATTER TOTAL			\$ 10,422.00 \$ 10,422.00		

Case Administration (70040)

\$1,456.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/08/17	M.J. Gearin	0.30	Coordinate amendment to bankruptcy schedules and notice to Medallic potential creditors
05/08/17	D. A. Lentz	0.60	Work with M. Gearin regarding notice of commencement of bankruptcy to potential creditors of Medallic (.2); drafting of statement to send with notice (.3); edit notice to address withdrawal of T. Tracy (.1)
05/09/17	M.J. Gearin	1.10	Extended call with Trustee regarding multiple case planning issues
05/09/17	D. A. Lentz	0.90	Finalize statement to be sent with notice of bankruptcy to potential Medallic creditors (.3); review of creditors and service information for each (.3); send out notice of commencement of case to potential creditors (.3)
05/10/17	D. A. Lentz	0.40	Begin amending schedules to add potential Medallic creditors (.2); review of file regarding Tomball, TX employees and amendment to schedules regarding same (.2)
05/10/17	D. A. Lentz	0.20	Preparation of proof of service for notice of bankruptcy filing and substantive consolidation
05/11/17	D. A. Lentz	0.20	File proof of service of notice of bankruptcy to potential Medallic Creditors
05/11/17	D. A. Lentz	0.40	Finalize amended schedule F to include potential creditors of Medallic
05/18/17	D. A. Lentz	0.30	File amended schedule F
05/23/17	D. A. Lentz	0.40	Prepare subpoena for The Gold Center in Springfield, IL and coordinate service of same (.2); coordinate with production of documents location (.2)
		TOTAL FEES	4.80 hrs \$ <u>1,456.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.40	hrs at	\$	530.00 / hr	742.00
D. A. Lentz	3.40	hrs at	\$	210.00 / hr	714.00
	TOTAL FEES		4.8	0 hrs	\$ 1,456.00

Invoice # 3428100 2070561 Page 9 of 32

MATTER SUMMARY

Fees \$ 1,456.00 MATTER TOTAL \$ 1,456.00

Claims, Administration and Objections (70050)

\$2,412.00

DATE	NAME	HOURS	DESCRIPTION
05/03/17	D. A. Lentz	0.50	Draft ex parte motion for order setting bar date for Medallic creditors
05/04/17	M.J. Gearin	0.60	Draft bar date pleadings and coordinate filing of motion for same
05/04/17	M.J. Gearin	0.50	Email communication from T. Lerner regarding R. Bressler claim
05/04/17	D. A. Lentz	1.20	Finish drafting ex parte motion for bar date for creditors of Medallic (.3); drafting of order for bar date (.3); revisions of both (.2); finalize documents for filing (.1); file with USBC and send for service (.3)
05/05/17	M.J. Gearin	0.30	Communications regarding Medallic bar date
05/09/17	R. M. Tausend	0.20	Confer with D. Neu regarding agreement to produce certain bank statements to L. Martini (0.1); analyze request relative to database cords and outline next steps for e-DAT team (0.1)
05/11/17	D.C. Neu	1.70	Communicate with A. Ranade regarding document production to L. Martini(.2); communicate with R. Tausend regarding status of same (.2); review document production (1.2)
05/18/17	D.C. Neu	0.60	Call with J. Rizzardi regarding missing silver for creditor Great Panther (.3); communicate with client regarding same (.3)
05/19/17	D. A. Lentz	0.40	Revise earlier drafted ex parte motion and order for bar date for potential Medallic creditors (.2); file ex parte motion with USBC and submit order for entry with Court (.2)
05/22/17	D. A. Lentz	0.50	Review of ex parte order setting deadline for filing of proofs of claim by Medallic Creditors and calendar deadline (.1); serve order on potential Medallic Creditors (.2); prepare proof of service regarding same and file with USBC (.2)
	TOTAL	. FEES	6.50 hrs \$ <u>2,412.00</u>

Invoice # 3428100 2070561 Page 11 of 32

TIMEKEEPER SUMMARY

M.J. Gearin	1.40	hrs at	\$	530.00 / hr	742.00
D. A. Lentz	2.60	hrs at	\$	210.00 / hr	546.00
D.C. Neu	2.30	hrs at	\$	440.00 / hr	1,012.00
R. M. Tausend	0.20	hrs at	\$	560.00 / hr	112.00
	TOTAL FEES		6.5	50 hrs	\$ 2,412.00

MATTER SUMMARY

Fees \$ 2,412.00 MATTER TOTAL \$ 2,412.00

Financing and Cash Collateral (70090)

\$8,943.00

DATE	NAME	HOURS	DESCRIPTION
05/05/17	M.J. Gearin	0.40	Call and email exchanges with Trustee regarding 363 sale of inventory
05/10/17	M.J. Gearin	0.50	Call with Trustee regarding financing issues; review and comment on DIP proposal
05/11/17	M.J. Gearin	0.50	Communications with Trustee re DIP financing proposal
05/12/17	M.J. Gearin	0.40	Communications with trustee regarding cash and DIP financing matters
05/15/17	M.J. Gearin	1.00	Call with Trustee re DIP motion; revisions to DIP term sheet
05/16/17	M.J. Gearin	0.80	Communications with Trustee regarding DIP facility (.2); revisions to term sheet (.4); coordinate motion for approval of DIP (.2)
05/17/17	M.J. Gearin	0.50	Call with Trustee regarding DIP motion and potential asset sale (.2); meet with D. Neu regarding draft of DIP motion (.3)
05/17/17	D.C. Neu	1.50	Begin drafting DIP financing pleadings (1.5)
05/18/17	M.J. Gearin	0.50	Communications with Trustee and H. Kaminski regarding factoring agreement
05/18/17	D. A. Lentz	0.60	Drafting of motion to shorten time and proposed order regarding DIP financing motion
05/18/17	D.C. Neu	4.10	Draft and edit DIP Financing pleadings (3.1); communicate with client regarding same (.5); edit exhibits (.5)
05/19/17	M.J. Gearin	2.10	Revisions to factoring agreement (1.0); email to H. Kaminski regarding same (.2); revisions to motion to approve DIP financing (.9)
05/19/17	D. A. Lentz	1.20	Finalize DIP motion and corresponding documents including motion to shorten time with D. Neu (.5); prepare documents for filing with USBC (.4); file with USBC (.2); call court regarding motion to shorten time (.1)
05/19/17	D.C. Neu	3.80	Draft and edit pleadings for DIP financing (2.8); communicate with client regarding same (.5); coordinate filing of same (.5)
05/22/17	M.J. Gearin	0.60	Communications with H. Kaminski and Trustee regarding DIP agreement and motion to approve same
05/22/17	D. A. Lentz	0.60	Review of order shortening time on motion to enter into post-petition financing (.1); calendar dates and deadlines based on order shortening time (.1); finalize notice of hearing
500663954 v1			

Invoice # 3428100 2070561 Page 13 of 32

8,943.00

DATE	NAME	HOURS	DESC	RIPT	ION	
					h USBC (.1); file ı	
05/00/47	D A L = ====	0.40	and send for service to special request lis Confirm hearing on DIP financing motion		• • • • • • • • • • • • • • • • • • • •	
05/26/17	D. A. Lentz	0.10	USBC		aring on DIP finar	icing motion with
05/30/17	M.J. Gearin	0.30			nunications with 1	Frustee and H,
			Kamir	nski re	egarding factoring	agreement
05/31/17	M.J. Gearin	0.40			OIP financing moti	
					review committee	
			comm hearir		tions with trustee	regarding
05/31/17	D. A. Lentz	0.20		• ,	esponse by credit	tor committee
00/01/17	B. A. LOME	0.20			for hearing for M.	
		TOTAL FEES	<i> \</i>		10 hrs	\$
		TIMEKEEP	ER SUM	/MAF	<u>RY</u>	
M.J. Gearir	1	8.00	hrs at	\$	530.00 / hr	4,240.00
D. A. Lentz		2.70	hrs at	\$	210.00 / hr	567.00
D.C. Neu		9.40	hrs at	\$	440.00 / hr	4,136.00
		TOTAL FEES		20.	10 hrs	\$ 8,943.00
	MATTER SUMMARY					
Fees						\$ 8,943.00

MATTER TOTAL

Litigation (70100)

\$8,615.00

DATE	NAME	HOURS	DESCRIPTION
05/02/17	D.C. Neu	1.40	Review email from A. Ranade regarding discovery of L. Martini (.2); call with client regarding same (.3); communicate with client regarding lease appeal settlement proposal (.2); review lease documents (.3); analysis of issues related to Nevada lease (.4)
05/03/17	D. A. Lentz	0.30	Draft notice of stay as to Medallic Art Company in Nevada state case
05/04/17	D. A. Lentz	0.50	Draft letter to Judge's chambers in Nevada state case regarding stay as to Medallic
05/04/17	D.C. Neu	1.00	Communicate with B. Ginn regarding Nevada Hoff litigation status (.2); review and edit notice of stay to be filed in same (.4); draft letter to court (.4)
05/05/17	M.J. Gearin	0.30	Call with B. Werner regarding discovery requests
05/05/17	D. A. Lentz	0.20	Work with D. Neu regarding files from Gunderson law firm
05/05/17	D.C. Neu	0.30	Communicate with R. Oshinski regarding stay of Nevada lease litigation
05/09/17	D.C. Neu	2.60	Review and analyze information related to L. Martini purchase (.6); communicate with J. Gilmore regarding same (.3); email A. Ranade regarding same (.1); meeting with R. Tausend to discuss data compilation (.3); communicate with leasehold creditor (.3); work on pleadings for 2004 examination (1)
05/10/17	M.J. Gearin	1.20	Review and comment on Trustee's draft insolvency and reasonably equivalent value reports
05/10/17	D.C. Neu	3.60	Research regarding targets of 2004 examinations (1.1); draft motion regarding same (2.5)
05/11/17	D.C. Neu	0.80	Call with J. Zack regarding Auburn lease settlement (.2); review emails related to same (.3); review letter to court (.3)
05/12/17	D. A. Lentz	1.10	Review and finalize application for 2004 exam of coin shops and multiple declarations in support of same (.5); research regarding addresses of coin shops for service of application (.3), file and serve application and corresponding documents (.3)
05/12/17 500663954 v1	D.C. Neu	1.70	Draft and edit settlement agreement with

DATE	NAME	HOURS	DESCRIPTION
			Auburn landlord
05/15/17	D. A. Lentz	0.30	Review of order authorizing 2004 exams of
			coin shops (.1); begin working on subpoenas
			regarding same (.2)
05/15/17	D.C. Neu	1.50	Finalize settlement agreement on Auburn
			lease appeal (.5); work on settlement
			pleadings (.7); communicate with client regarding same (.2); communicate with J.
			Zack regarding same (.1)
05/16/17	D. A. Lentz	0.60	Prepare and send for service subpoenas on 3
03/10/17	D. A. Lenz	0.00	coin shops
05/16/17	D. A. Lentz	0.90	Review and finalize motion to approve
			settlement and corresponding documents for
			filing with USBC (.3); drafting of notice of
			hearing on motion to approve settlement (.3); serve notice of hearing on special notice list
			(.3)
05/16/17	D.C. Neu	2.20	Finalize pleadings regarding Auburn lease
			settlement
05/17/17	D. A. Lentz	0.30	File motion to approve settlement with Auburn
			landlord and corresponding documents with
			USBC and send for service (.3); calendar
05/19/17	D. A. Lentz	0.20	hearing dates and deadlines (.1) Research regarding production of document
05/19/17	D. A. Leniz	0.20	location in Springfield, Illinois regarding Coin
			Shop subpoena
05/22/17	D. A. Lentz	0.40	Telephone call with Midwest Litigation
			regarding production of document location
			(.2); finalize subpoena and exhibit to
05/00/47	5 4 1 4	0.40	subpoena (.2)
05/23/17	D. A. Lentz	0.10	Review of affidavits of service of subpoenas
05/24/17	D. A. Lentz	0.50	for coin shops Conference with D. Neu regarding corrected
05/24/17	D. A. Leniz	0.50	declaration of Mark Calvert in support of ex
			parte motion for 2004 exam (.1); finalize for
			filing and file with USBC (.2); send for service
			to required parties (.2)
05/30/17	D. A. Lentz	0.20	Phone call with Renton Coin Shop (.1); review
			of subpoena responses from The Gold Center
		TOTAL 5550	and from Renton Coin Shop (.1)
		TOTAL FEES	22.20 hrs \$ <u>8,615.00</u>

Invoice # 3428100 2070561 Page 16 of 32

TIMEKEEPER SUMMARY

M.J. Gearin	1.50	hrs at	\$	530.00 / hr	795.00
D. A. Lentz	5.60	hrs at	\$	210.00 / hr	1,176.00
D.C. Neu	15.10	hrs at	\$	440.00 / hr	6,644.00
	TOTAL FEES		22.2	0 hrs	\$ 8,615.00

.....

MATTER SUMMARY

Fees \$\ \ 8,615.00 \\
MATTER TOTAL \$\ \ 8,615.00 \\

Invoice # 3428100 2070561 Page 17 of 32

Trustee v Medallic Art Co LLC (70101)

\$3,290.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/01/17	M.J. Gearin	1.50	Prepare for hearing on presentation of subcon judgment
05/01/17	D. A. Lentz	0.40	Conference with M. Gearin regarding notice of presentation of judgment and preparation for hearing regarding same
05/02/17	M.J. Gearin	1.00	Prepare for and attend hearing on presentation of judgment
05/02/17	B. T. Peterson	0.30	Discuss entry of judgment with M. Gearin
05/03/17	M.J. Gearin	0.60	Review final judgment (0.1); call with T. Bucknell regarding post judgment matters (0.3); meet regarding research on fee award (0.2)
05/04/17	M.J. Gearin	0.50	Communications with T. Bucknell re post judgment discovery requests
05/09/17	C.M. Wyant	0.80	Continue work on research and memorandum regarding attorneys' fees issue
05/10/17	C.M. Wyant	1.60	Draft and revise memorandum regarding attorneys fees issues and draft email to M. Gearin regarding same
05/12/17	C.M. Wyant	0.20	Edit draft declaration relating to deposition transcript of MACLLC and execute same
	TOTAL	FEES	6.90 hrs \$ <u>3,290.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	3.60	hrs at	\$	530.00 / hr	1,908.00
D. A. Lentz	0.40	hrs at	\$	210.00 / hr	84.00
B. T. Peterson	0.30	hrs at	\$	340.00 / hr	102.00
C.M. Wyant	2.60	hrs at	\$	460.00 / hr	1,196.00
•	TOTAL FEES	TOTAL FEES		90 hrs	\$ 3.290.00

MATTER SUMMARY

Fees \$ 3,290.00 MATTER TOTAL \$ 3,290.00

Invoice # 3428100 2070561 Page 18 of 32

Trustee v Diane Erdmann (70102)

\$840.00

840.00

FEES

DATE	NAME	HOURS	DESC	RIPTION			
05/22/17	R. M. Tausend	0.20			D. Neu regard		
				•	to D. Erdmann		•
					erage prior col	lections	and
05/04/47	5 M T	0.50	•	ctions	1.00.144	.,	,•
05/24/17	R. M. Tausend	0.50			eu and DC Wo	_	_
					objections to [documents to l		ann
				•	knowledge fro	_	
					.4); email to L.	•)
					on items relatir		
			emails	s and Ring	gtail database	resulting	g from
			same	(0.1)			
05/25/17	R. M. Tausend	0.80			sponses and o		
					D. Neu and DO		
					tes to same ar		
				ction (0.6)	orresponding	docume	ιι
	TOTAL	FFFS	produ	1.50		\$	840.00
	101712			1.00		Ψ	010.00
		<u>TIMEKEEPI</u>	ER SUN	<u>//MARY</u>			
R. M. Tause	end	1.50	hrs at	\$ 56	60.00 / hr		840.00
Tt. W. Tadoc	TOTAL		mo at	1.50		\$	840.00
				1100		Ψ	0 10100
		MATTER	SUMM	<u>IARY</u>			
Fees						\$	840.00
. 555						Ψ	3 10.00

MATTER TOTAL

American Express Fraudulent Transfer Action (70107)

\$13,693.00

DATE	NAME	HOURS	DESCRIPTION
05/02/17	D. A. Lentz	0.20	Review of motion to withdraw as attorney (.1); forward to client and calendar dates and deadlines regarding same (.1)
05/04/17	D. A. Lentz	0.10	Review of motion to withdraw as attorney for D. Erdmann filed in USDC appeal
05/05/17	D.C. Neu	1.70	Work on discovery responses to D. Erdmann
05/08/17	D.C. Neu	1.40	Modify third party subpoenas
05/09/17	D.C. Neu	0.90	Revise discovery
05/22/17	D.C. Neu	6.00	Revise, draft, and edit discovery responses (5); meeting with R. Tausend regarding same (.4) meeting with D.C. Wolf regarding same (.6)
05/22/17	D. C. Wolf	2.10	Conference with D. Neu regarding discovery responses; review D. Neu's revisions to discovery responses and proof read same; email correspondence with D. Neu and client regarding conference on discovery issues
05/23/17	D.C. Neu	3.10	Meeting with D.C. Wolf and client to review discovery responses (1.2); revise and edit same (1.9)
05/23/17	D. C. Wolf	3.50	Review and revise discovery responses (1.3); conference with M. Calvert and D. Neu regarding same (1.2); revise discovery responses in light of D. Neu's and M. Calvert's additional comments (1.0)
05/24/17	D.C. Neu	2.30	Meeting with R. Tausend to discuss discovery issues (.5); revise and edit discovery (1); review documents (.5); communicate with client regarding same (.3)
05/24/17	D. C. Wolf	2.20	Conference with D. Neu and R. Tausend regarding document requests and collection plan (0.6); draft document collection plan (0.4); revise discovery responses in light of R. Tausend's comments at meeting (0.7); conference with D. Neu and M. Gearin regarding document collection and revise collection plan in light of this discussion (0.5)
05/25/17	D.C. Neu	4.30	Meeting to discuss revisions to discovery responses (.8); email client regarding same (.1); draft transmittal letter (.3); revise discovery responses (1); review documents (2.0)
05/25/17 500663954 v1	R. M. Tausend	0.50	Strategize with DC Wolf and D. Neu regarding

DATE	NAME	HOURS	DESCRIPTION			
05/25/17	D. C. Wolf	1.90	discovery requests, responses and objection and provide information and recommendations relating to same based on document collections and prior analysis and productions Conference with D. Neu and R. Tausend regarding procedural rules for discovery responses (0.4); revise discovery responses in light of R. Tausend's comments and work with D. Neu to finalize (1.5)	1		
05/30/17	D.C. Neu	0.80	Communicate with client regarding discovery (.2); review documents (.6)	/		
05/30/17	D. C. Wolf	0.60	Conference with D. Neu regarding document collection and review email correspondence from Mint personnel regarding same (0.3); arrange meeting with L. Steidl to discuss document collection and update document collection plan (0.3)			
05/31/17	L.E. Steidl	2.00	Meet with D. Wolf to discuss NWTM document collection and production status (0.3); review client responses to defendant's interrogatories and requests for production in preparation for same (0.4); review files within case database to locate and segregate proposed production files as requested by D. Wolf (1.3)			
05/31/17	D. C. Wolf	1.50	Prep for meeting with L. Steidl and review doc review program (0.5); conference with L. Steidl regarding document collection (0.4); draft email to D. Neu regarding status of document collection and next steps (0.6)			
		TOTAL FEES	35.10 hrs \$ <u>13,693.</u>	<u>00</u>		
		TIMEKEEP	ER SUMMARY			
D. A. Lentz D.C. Neu L.E. Steidl R. M. Tausc D. C. Wolf		0.30 20.50 2.00 0.50 11.80 TOTAL FEES	hrs at \$ 210.00 / hr 63.0 hrs at \$ 440.00 / hr 9,020.0 hrs at \$ 395.00 / hr 790.0 hrs at \$ 560.00 / hr 280.0 hrs at \$ 300.00 / hr 35.10 hrs \$ 13,693.0	00 00 00 00		

Invoice # 3428100 2070561 Page 21 of 32

MATTER SUMMARY

Fees \$13,693.00 MATTER TOTAL \$13,693.00

Meetings and Communications with Creditors (70110)

\$2,869.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
05/04/17	M.J. Gearin	0.50	Calls with counsel for B. Cohen and creditor D. Carlton			
05/04/17	M.J. Gearin	0.40	Call with M. Northrup regarding case update and planning for creditors committee meeting			
05/05/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case			
05/09/17	M.J. Gearin	0.90	Communications with M. Northrup and Trustee regarding committee meeting preparations (.6); draft email to P. Pehl (.3)			
05/10/17	M.J. Gearin	2.10	Call with Trustee in preparation for committee meeting and attend telephonic creditors committee meeting			
05/10/17	M.J. Gearin	0.30	Communications with Pehls regarding committee disclosure issues			
05/12/17	D. A. Lentz	0.10	Field phone call from creditor regarding status of case			
05/19/17	D.C. Neu	0.50	Answer creditor questions regarding sale issues			
05/22/17	M.J. Gearin	0.60	Call with M. Northrup regarding multiple case issues and update on DIP financing and asset sale matters			
05/23/17	D. A. Lentz	0.20	Field phone call with creditor regarding status of case (.1); conference with M. Gearin regarding current information to give to			
		TOTAL FEES	creditors (.1) 5.80 hrs \$ <u>2,869.00</u>			
		TIMEKEEP	ER SUMMARY			
M.J. Gearin	1	4.80	hrs at \$ 530.00 / hr 2,544.00			
D. A. Lentz		0.50	hrs at \$ 210.00 / hr 105.00			
D.C. Neu		0.50	hrs at \$ 440.00 / hr220.00			
		TOTAL FEES	5.80 hrs \$ <u>2,869.00</u>			

Invoice # 3428100 2070561 Page 23 of 32

MATTER SUMMARY

Fees \$ 2,869.00 MATTER TOTAL \$ 2,869.00

Assumption and Rejection of Leases and Contracts (70150)

\$10,624.00

DATE 05/01/17	NAME M.J. Gearin	HOURS 3.50	Multiple communications with A. Smith regarding Dayton lease assumption and cure issues (1.0); calls with Trustee regarding
			same (.4); review of history of correspondence regarding maintenance obligations; (.6) prepare for hearing on motion to assume lease (1.5)
05/01/17	D. A. Lentz	0.40	Conference with M. Gearin regarding matters involving landlord of Dayton (.1); retrieve various court documents from Nevada court cases regarding same issues (.3)
05/02/17	M.J. Gearin	1.50	Prepare for and attend hearing on Dayton lease assumption (1.0); draft revised form of order assuming lease (0.5)
05/02/17	D. A. Lentz	0.20	Revise order on motion to assume Dayton lease for M. Gearin
05/02/17	D. A. Lentz	0.30	Review of documents regarding the Hoff litigation in Nevada courts
05/03/17	M.J. Gearin	0.70	Communications with A. Smith and Trustee regarding Dayton lease assumption issues and form of order assuming lease
05/04/17	M.J. Gearin	0.60	Communications with A. Smith and Trustee regarding Dayton lease assumption (.2); draft notice of presentation of order on assumption (.4)
05/04/17	D. A. Lentz	0.60	Draft of notice of presentation of order on motion to assume Dayton lease (.3); finalize same and file with USBC (.2); calendar dates and deadlines (.1)
05/04/17	D.C. Neu	0.70	Call to J. Zach regarding Auburn lease settlement (.3); analysis of issues related to same (.4)
05/05/17	M.J. Gearin	0.50	Communications with A. Smith and Trustee regarding Dayton lease assumption matters
05/05/17	D.C. Neu	0.10	Call to J. Zach regarding Auburn lease appeal issues
05/08/17	M.J. Gearin	0.30	Review Hoff response to notice of presentation on lease assumption order (.1); call with trustee regarding same (.2)
05/08/17	D. A. Lentz	0.10	Review of court docket and file notice of intent to argue regarding notice of presentation of order
05/08/17 500663954 v1	D.C. Neu	1.80	Call with J. Zack regarding lease rejection

DATE	NAME	HOURS	DESCRIPTION
			issues and mitigation (.4); research related to issues raised on appeal (1.3)
05/08/17	C.M. Wyant	1.10	Conference with M. Gearin regarding lease assumption issue (.3); begin drafting memorandum regarding attorney fee issue for MACLLC post-judgment work (.8)
05/11/17	M.J. Gearin	0.50	Prepare for hearing on presentation of order on Dayton lease assumption
05/11/17	D. A. Lentz	0.50	Preparation for hearing on presentation of order on Dayton lease for M. Gearin
05/12/17	M.J. Gearin	1.30	Prepare for and attend hearing on presentation of order on Dayton lease
05/15/17	M.J. Gearin	0.30	Communications with trustee re Dayton lease assumption matters
05/15/17	D. A. Lentz	0.30	Review of order entered by court on Dayton lease motion and calendar all dates and deadlines for evidentiary hearing
05/18/17	M.J. Gearin	0.30	Communications with A. Smith and Trustee regarding Dayton lease cure issues
05/22/17	M.J. Gearin	0.80	Review letter from A. Smith regarding Dayton lease default and cure issues (.3); communications with Trustee regarding same (.5)
05/23/17	M.J. Gearin	1.20	Communications with Trustee regarding lease repair costs and cure (.4); email exchange with A. Smith regarding discovery issues (.2); evaluate claims against Dayton landlord (.6)
05/24/17	M.J. Gearin	0.50	Communications with Trustee regarding Dayton lease maintenance issues
05/30/17	M.J. Gearin	0.50	Review correspondence from A. Smith regarding disclosures, discovery requests and expert matters (.3); meet with C. Wyant regarding evidentiary hearing preparation (.2)
05/30/17	C.M. Wyant	0.50	Conference with M. Gearin regarding hearing on cure issue (.3); review email and other documents for same (.2)
05/31/17	M.J. Gearin	1.10	Meet with C. Wyant regarding preparations for evidentiary hearing on Dayton lease (.5); email communications with A. Smith regarding discovery, disclosures and evidentiary hearing procedural matters (.6)
05/31/17	L.E. Steidl	0.40	Calvert NWTM - Lease Dispute: confer with C. Wyant regarding procurement and production of email communications between M. Calvert and Hoffs (0.1); review files in Ringtail review database to locate and segregate relevant email communications for potential production and further review by C. Wyant (0.3)

Invoice # 3428100 2070561 Page 26 of 32

DATE	NAME	HOURS	DESC	RIPTI	ON	
05/31/17	C.M. Wyant	1.90				
		TOTAL FEES		22.5	0 hrs	\$ <u>10,624.00</u>
		TIMEKEEP	ER SUM	<u>IMAR</u>	<u>Y</u>	
M.J. Gearin		13.60	hrs at	\$	530.00 / hr	7,208.00
D. A. Lentz		2.40	hrs at	\$	210.00 / hr	504.00
D.C. Neu		2.60	hrs at	\$	440.00 / hr	1,144.00
L.E. Steidl		0.40	hrs at	\$	395.00 / hr	158.00
C.M. Wyant		3.50	hrs at	\$	460.00 / hr	1,610.00
		TOTAL FEES		22.5	0 hrs	\$ <u>10,624.00</u>
			R SUMM	 ARY		
Fees MATTER TO	OTAL					\$ <u>10,624.00</u> \$ <u>10,624.00</u>

MATTER TOTAL

Invoice # 3428100 2070561 Page 27 of 32

Avoidance Action Analysis (70160)

\$1,408.00

DATE	NAME	HOURS	DESCRIPTION		
05/23/17	D.C. Neu	1.10	Analysis of potential fraudule (1.1)	ent transfer claim	
05/24/17	D.C. Neu	2.10	Analysis regarding potential	avoidance actions	
		TOTAL FEES	3.20 hrs	\$ <u>1,408.00</u>	
		TIMEKEEP	ER SUMMARY		
D.C. Neu		3.20	hrs at \$ 440.00 / hr	1,408.00	
		TOTAL FEES	3.20 hrs	\$1,408.00	
	MATTER SUMMARY				
Fees				\$1,408.00	

Invoice # 3428100 2070561 Page 28 of 32

Reporting (70210)

MATTER TOTAL

\$328.00

DATE	NAME	HOURS	DESCRIPTION	
05/19/17	M.J. Gearin	0.50	Revisions to monthly operating	ng report
05/19/17	D. A. Lentz	0.30	Email exchange with client re financial report (.1); prepare the April 2017 monthly financial reports.	egarding monthly for filing and file
		TOTAL FEES	0.80 hrs	\$ 328.00
		TIMEKEEP	ER SUMMARY	
M.J. Gearin		0.50	hrs at \$ 530.00 / hr	265.00
D. A. Lentz		0.30	hrs at \$ 210.00 / hr	63.00
		TOTAL FEES	0.80 hrs	\$328.00_
		MATTER	SUMMARY	
Fees				\$328.00

Invoice # 3428100 2070561 Page 29 of 32

US-TMK: MACO - CL. 14 - 28718361 (70240) \$18.00

US Serial No.: 87218361

DATE 05/23/17	NAME K. P. Wing	HOURS 0.10 TOTAL FEES	DESCRIPTION Draft reminder email to client upcoming deadline to submit Office Action, and/or approve with MAKO mark owner 0.10 hrs	Response to
K. P. Wing			ER SUMMARY hrs at \$ 180.00 / hr 0.10 hrs	18.00 \$ 18.00
Fees MATTER TO	OTAL	MATTER	SUMMARY	\$ <u>18.00</u> \$ <u>18.00</u>

Invoice # 3428100 2070561 Page 30 of 32

Costs (99999) \$5,669.35

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
05/01/17	Travel Expenses - Gearin, Michael - Parking - 2017-04-18 - IMPARK 00250010 - 4 18 Hearing Parking	12.00
05/03/17	Local Courier - Courier Services for April 2017 - TC Legal Services LLC - 04302017 - 4/ 14 #2 Secretary of State - Obtain all corporate documents of Northwest Territorial Mint, LLC	150.00
05/03/17	Local Courier - Courier Services for April 2017 - Halo Messenger Services, LLC - 05012017 - 4/3 #4 2003 Western #400 - Defendant's Business Records Disclosure	29.00
05/03/17	Local Courier - Courier Services for April 2017 - Halo Messenger Services, LLC - 05012017 - 4/4 #1 2003 Western #400 - Defendant's Pretrial Statement	29.00
05/03/17	Local Courier - Courier Services for April 2017 - Halo Messenger Services, LLC - 05012017 - 4/7 #5 2003 Western #400 - Production	29.00
05/03/17	Local Courier - Courier Services for April 2017 - Halo Messenger Services, LLC - 05012017 - 4/10 #3 2003 Western #400 - Production, Ntc Deposition	7.00
05/04/17	YOM Full Service court Reporting	931.00
05/04/17	YOM Full Service court Reporting	1,706.85
05/04/17	YOM Full Service court Reporting	1,756.40
05/05/17	Long Distance Courier FedEx Charges TR#: 786475742021 INV#: 580128452 INVDT: 20170515 SHIPDT: 20170505 SHNAME: David Neu RCNAME: Vernon Leverty RCCO: LEVERTY & ASSOCIATES LAW CHTD	11.67
05/05/17	Long Distance Courier FedEx Charges TR#: 786475577270 INV#: 580128452 INVDT: 20170515 SHIPDT: 20170505 SHNAME: David Neu RCNAME: Hon Leon Aberasturi RCCO: Lyon County 3rd Judicial Distr	14.53
05/05/17	Long Distance Courier FedEx Charges TR#: 786475852220 INV#: 580128452 INVDT: 20170515 SHIPDT: 20170505 SHNAME: David Neu RCNAME: Rick Oshinski RCCO: Oshinski & Forsberg	11.67
05/09/17	Copying Expense	7.20
05/11/17	Westlaw - DCN - 05/04/2017 - 05/11/2017	616.58
05/12/17	Copying Expense	51.80
05/15/17	Travel Expenses - Gearin, Michael - Parking - 2017-05-02 - IMPARK 00250010 - NWTM Hearing 5 2 17	12.00
05/16/17	Copying Expense	3.60
05/16/17	Copying Expense	29.20
05/16/17	Copying Expense	29.60
05/16/17	Copying Expense	13.60
05/17/17	Postage	32.61

Invoice # 3428100 2070561 Page 32 of 32

DATE	DESCRIPTION		AMOUNT
05/17/17	Postage	•	68.44
05/22/17	Copying Expense		4.40
05/22/17	Copying Expense		30.00
05/22/17	Travel Expenses - Gearin, Michael - Parking - 2017-05-12 - IMPARK 00250010 - NWTM Hearing Parking 5 12		12.00
05/25/17	Other - District Court Clerk - 05242017		8.00
05/28/17	USDC Filing Fee		31.00
05/28/17	USDC Filing Fee		31.00
05/31/17	Copying Expense		0.20
	DISBURSEMENTS & OTHER CHARGES	\$	5,669.35

MATTER SUMMARY

Disbursements and Other Charges	\$ 5,669.35
MATTER TOTAL	\$ 5.669.35

K&L GATES LLP

925 FOURTH AVENUE **SUITE 2900** SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

September 11, 2017 **Invoice Date**

3427450 **Invoice Number** Services Through: May 31, 2017 Our File Number 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees 1,206.00 Disbursements and Other Charges

Total Amount Due This Matter 1,391.55

185.55

CURRENT INVOICE DUE - All Matters 1.391.55

Litigation -- e-DAT Fees (77100)

\$1,391.55

DATE	NAME	HOURS	DESCRIPTION			
05/05/17	L.E. Steidl	0.20	Search for key documents regarding NWTM EIN documentation as requested by A. Trunkett			
05/10/17	T. Hughes	1.60	Locate client bank statements for production in response to informal request from counsel for Luc Martini			
05/10/17	L.E. Steidl	0.30	Coordinate and oversee search and review for select bank statements requested by Hillis Clark law firm, conferring with R. Tausend and review attorney regarding details related to same			
05/11/17	T. Hughes	0.20	Locate client bank statements for production in response to informal request from counsel for Luc Martini			
05/11/17	T. S. Milne	1.10	Prepare 20170510 Bank Statements ESI for pdf format naming the documents by document id original filename and upload to Calvert NW Terr Bkrpt EXT ftp in response to the request from L. Steidl			
05/11/17	L.E. Steidl	1.30	Coordinate and oversee efforts to locate, export, and transfer select bank statements requested by Hillis Clark law firm, conferring with review attorney, D. Neu, and technical support team regarding details related to same, and sending summary and confirmation of same to D. Neu and Hillis Clark recipient			
		TOTAL FEES	4.70 hrs \$1,206.			
		TIMEKEEP	ER SUMMARY			
T. Hughes		1.80	hrs at \$ 165.00 / hr 297.00			
T. S. Milne		1.10	hrs at \$ 180.00 / hr 198.00			
L.E. Steidl		1.80	hrs at \$ 395.00 / hr 711.00			
		TOTAL FEES	4.70 hrs \$ <u>1,206.00</u>			

Invoice # 3427450 2070561 Page 3 of 3

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION		AMOUNT			
05/31/17	31/17 Ringtail Fees: May 2017 Data Storage Fees: 12.36981 GB @ \$15.00/GB: \$185.55					
	DISBURSEMENTS & OTHER CHARGES					
	MATTER SUMMARY					
Fees		\$	1,206.00			
Disbursements and Other Charges MATTER TOTAL		\$_ \$_	185.55 1,391.55			

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428106 Services Through : June 30, 2017 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees \$\frac{12,449.00}{\text{Total Amount Due This Matter}}\$\$ 12,449.00

Asset Disposition (70020)

Fees \$ 7,147.00

Total Amount Due This Matter \$ 7,147.00

Case Administration (70040)

Fees \$ 793.00

Total Amount Due This Matter \$ 793.00

Claims, Administration and Objections (70050)

Fees \$ 105.00

Total Amount Due This Matter \$ 105.00

Financing and Cash Collateral (70090)

Fees \$ 6,681.00

Total Amount Due This Matter \$ 6,681.00

500664003 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3428106
2070561
Page 2 of 35

Litigation	(70100)
------------	---------

Litigation (70100)		
Fees Total Amount Due This Matter	\$ <u>1,361.00</u>	\$ 1,361.00
American Express Fraudulent Transfer Action	on (70107)	
Fees Total Amount Due This Matter	\$ 34,026.50	\$ 34,026.50
Meetings and Communications with Creditor	rs (70110)	
Fees Total Amount Due This Matter	\$2,150.00	\$ 2,150.00
Tax (70140)		
Fees Total Amount Due This Matter	\$ 3,355.00	\$ 3,355.00
Assumption and Rejection of Leases and Co	ontracts (70150)	
Fees Total Amount Due This Matter	\$ 84,702.50	\$ 84,702.50
Avoidance Action Analysis (70160)		
Fees Total Amount Due This Matter	\$4,532.00	\$ 4,532.00
Reporting (70210)		
Fees Total Amount Due This Matter	\$ 360.00	\$ 360.00
US-TMK: MACO - CL. 14 - 28718361 (70240)		
Fees Total Amount Due This Matter	\$ 792.00	\$ 792.00

Invoice # 3428106 2070561 Page 3 of 35

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)

Costs (99999)

Disbursements and Other Charges \$ 3,209.87

Total Amount Due This Matter \$ 3,209.87

CURRENT INVOICE DUE - All Matters \$ 161,942.87

Asset Analysis and Recovery (70010)

\$12,449.00

DATE	NAME	HOURS	DESCRIPTION
06/02/17	D. A. Lentz	0.80	Work with D. Neu on 2004 application and supporting documentation regarding R. Hansen and D. Erdmann (.5); file documents ex parte and submit order (.3)
06/02/17	D.C. Neu	5.70	Communicate with client regarding 2004 motions (.4); draft same (2.3); analysis regarding potential causes of action for conversion of property (2); research regarding fraudulent transfer theory (1)
06/05/17	D. A. Lentz	0.80	Draft of motion to shorten time and order re same for 2004 application of R. Hansen and D. Erdmann (.5); file both with Court (.1); meeting with D. Neu regarding withdrawal of documents (.1); withdrew documents (.1)
06/05/17	D.C. Neu	1.30	Review order on motions for 2004 examinations (.1); communicate with client regarding same (.5); draft shorten time pleadings (.7)
06/06/17	D. A. Lentz	0.40	Finalize working copy binder for Judge and send to same (.1); finalize reply to response for filing with the court (.1); file reply and send for service (.1); telephone call with Judge's chambers regarding reply and working copy (.1)
06/06/17	D. A. Lentz	0.80	Review and finalize declaration of D. Neu in support of motion to shorten time (.1); file/refile motion to shorten time and supporting documents (.2); review of order granting motion to shorten time (.1); draft of notice of hearing for 2004 motion on shorten time (.4)
06/07/17	D. A. Lentz	0.90	Finalize notice of hearing on 2004 motion and file with Court (.3); send notice of hearing for service to special notice list (.1); send motion and declaration for service on limited parties (.1); prepare proof of service (.3); file proof of service with USBC (.1)
06/13/17	D.C. Neu	4.10	Research regarding appeal issues regarding Erdmann decision (.3); draft notice of appeal (1); communicate with client regarding same

Invoice # 3428106 2070561 Page 5 of 35

12,449.00

DATE	NAME	HOURS	DESCRIPTION			
			(.3); review discovery status (.5); edit motion for prejudgment writ (2)			
06/19/17	D. A. Lentz	0.40	Review of response filed by D. Erdmann to 2004 motion and forward to client (.1); confirm hearing on motion for 2004 examination with USBC (.1); judge's copies to chambers (.2)			
06/19/17	D.C. Neu	1.80	Review response to motions for 2004 examination (.5); communicate with M. Gearin regarding same (.3); review Erdmann deposition transcripts for testimony regarding assets (1);			
06/20/17	D. A. Lentz	0.30	Finalize reply to objection to 2004 motion for filing with USBC (.1); file reply with USBC and send for service (.2)			
06/20/17	D.C. Neu	3.50	Draft and edit reply to motion for 2004 (3); communicate with M. Gearin regarding 2015 audit of NWTM (.2); review coin shop subpoena documents (.3);			
06/22/17	M.J. Gearin	0.50	Revisions to reply to Hansen objection to 2004			
06/22/17	D.C. Neu	4.90	Draft 2004 reply (4); prepare for hearing (.9)			
06/23/17	D.C. Neu	3.30	Prepare for and attend hearing on 2004 examinations			
06/29/17	D. A. Lentz	0.40	Review of order granting 2004 motion of R. Hansen and D. Erdmann (.1); preparation of subpoena of R. Hansen (.3)			
06/29/17	D.C. Neu	0.80	Review 2004 order (.2); meeting with D. Evans to discuss subpoenas (.3); review subpoena (.3)			
		TOTAL FEES	30.70 hrs \$ <u>12,449.00</u>			
		TIMEKEEP	PER SUMMARY			
M.J. Gearin		0.50	hrs at \$ 530.00 / hr 265.00			
D. A. Lentz			hrs at \$ 210.00 / hr 1,008.00			
D.C. Neu			hrs at \$ 440.00 / hr 11,176.00			
		TOTAL FEES	30.70 hrs \$ <u>12,449.00</u>			
		<u>MATTE</u> F	R SUMMARY			

MATTER TOTAL

Fees

Asset Disposition (70020)

\$7,147.00

DATE	NAME	HOURS	DESCRIPTION
06/05/17	D. A. Lentz	0.40	Confirm hearing via ECF (.1); voicemail to Judge's chambers regarding working copies (.1); begin working copies for Judge (.2)
06/06/17	D.C. Neu	4.80	Draft declarations in support of final DIP motion (2.5); communicate with client regarding same (.4); review information on ARM sale (.5)[transfer to 70020]; draft demand letter to ARM (.6)[transfer to 70020]; communicate with client regarding same (.2)[transfer to 70020]; draft response to objection to motion to destroy records (.6)[transfer to 70040]; consult with client
06/07/17	D.C. Neu	0.40	regarding sale issues (.6)[transfer to 70020] Review and respond to information from B. Kriegman regarding stored gold (.4)
06/09/17	D. A. Lentz	0.60	Conference with D. Neu following hearing (.1); draft of declaration of D. Neu in support of order (.3); file declaration and upload order for entry with the Court (.2)
06/12/17	D. A. Lentz	0.10	Review of Order Granting Trustee's Motion for Authority to (A) Sell Graco Inventory; (B) Abandon Truck; and (C) Dispose of Equipment at Scrap Value and forward same to client
06/12/17	D.C. Neu	0.30	Call with client regarding sale potential (.3)
06/13/17	M.J. Gearin	1.10	Multiple communications with Trustee regarding sale issues (.4); review of purchase offer communications (.2); review and analysis of pro forma liquidation analysis (.5)
06/14/17	M.J. Gearin	1.50	Call and meeting with M. Calvert regarding asset sale planning
06/16/17	D.C. Neu	0.40	Communicate with client on return of inventory
06/20/17	D.C. Neu	0.60	Work on inventory return motion(.6)
06/21/17	M.J. Gearin	0.50	Communications with Trustee re asset purchase proposals
06/21/17	D. A. Lentz	0.20	Work with library on search for probate for deceased storage customer in connection with inventory return motion
06/21/17	D.C. Neu	1.40	Work on issues related to motion for return of inventory
06/21/17	K. I. Stockert	0.70	Probate research on individual for D. Lentz (Seattle)
06/27/17 500664003 v1	B. T. Peterson	0.60	Review correspondence related to sale of

Invoice # 3428106 2070561 Page 7 of 35

DATE	NAME	HOURS	DESC	RIPT	ION		
			surplu	ıs equ	iipment		
06/29/17	D. A. Lentz	0.20			sues regarding se	cond n	notion to
00/00/47	D 0 N	0.00			red inventory		
06/29/17	D.C. Neu	3.00			dit motion to retur		
					2.5); correspond w ame (.5)	VIIII ⊏.	KUHSIH
		TOTAL FEES	rogare	•	30 hrs	\$	7,147.00
						* =	
		TIMEKEEP	ER SUN	<u>/IMAR</u>	<u>RY</u>		
M.J. Gearin	1	3.10	hrs at	\$	530.00 / hr		1,643.00
D. A. Lentz		1.50	hrs at	\$	210.00 / hr		315.00
D.C. Neu		10.90	hrs at	\$	440.00 / hr		4,796.00
B. T. Peters	son	0.60	hrs at	\$	340.00 / hr		204.00
K. I. Stockert		0.70	hrs at	\$	270.00 / hr		189.00
		TOTAL FEES		16.8	30 hrs	\$	7,147.00
			-				

MATTER SUMMARY

Fees \$ $\frac{7,147.00}{147.00}$ **MATTER TOTAL** \$ $\frac{7,147.00}{147.00}$

Invoice # 3428106 2070561 Page 8 of 35

Case Administration (70040)

\$793.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
06/05/17	D.C. Neu	0.60	Meeting with client to discuss case status and steps (.6)		
06/06/17	D.C. Neu	0.60 Draft response to objection to motion to destroy records (.6)			
06/27/17	M.J. Gearin	0.50	Calls with Trustee re marketing and cash flovissues		
		TOTAL FEES	1.70 hrs \$		
TIMEKEEPER SUMMARY					

M.J. Gearin	0.50	hrs at	\$	530.00 /	hr	265.00
D.C. Neu	1.20	hrs at	\$	440.00 /	hr	528.00
	TOTAL FEES		1.7	0 hrs	\$	793.00

MATTER SUMMARY

Fees	\$ <u>793.00</u>
MATTER TOTAL	\$ <u>793.00</u>

Invoice # 3428106 2070561 Page 9 of 35

Claims, Administration and Objections (70050)

\$105.00

DATE	NAME	HOURS	DESCRIPTION	
06/12/17 D. A. Lentz		0.50 Telephone calls with J. Gilmore proof of claim reconciliation (.2 information requested by J. Gil upload to Dropbox (.3)		.2); pull together
		TOTAL FEES	0.50 hrs	\$ <u>105.00</u>
		TIMEKEEP	ER SUMMARY	
D. A. Lentz		0.50 TOTAL FEES	hrs at \$ 210.00 / hr 0.50 hrs	\$ 105.00 105.00
		MATTER	SUMMARY	
Fees MATTER T	OTAL			\$ 105.00 \$ 105.00

Financing and Cash Collateral (70090)

\$6,681.00

DATE	NAME	HOURS	DESCRIPTION
06/01/17	M.J. Gearin	1.10	Revisions to factoring agreement (.3); communications with H. Kaminski regarding same (.2); prepare for hearing on motion to approve DIP (.3); call with Trustee regarding same (.2)
06/01/17	D. A. Lentz	0.30	Work with M. Gearin regarding preparation for hearing on motion for authority for postpetition financing
06/02/17	M.J. Gearin	2.50	Prepare for and attend hearing on interim approval of DIP (2.2); revise form of order; communications with lender regarding same (.3)
06/02/17	D. A. Lentz	1.20	Meeting with M. Gearin regarding outcome of hearing on interim DIP financing motion and interim order regarding same (.1); finalize interim order for uploading with court (.2); draft of declaration of M. Gearin (.3); draft of notice of hearing on final order (.2); finalize declaration of M. Gearin and interim order for filing and uploading with the court (.2); file declaration and upload order (.2)
06/02/17	D.C. Neu	0.60	Debrief with M. Gearin regarding financing issues (.6)
06/05/17	D. A. Lentz	0.30	Review of interim order and calendar dates (.2); email D. Neu regarding draft of notice of final hearing (.1)
06/05/17	D.C. Neu	0.30	Draft pleadings related to financing (3)
06/07/17	D. A. Lentz	0.90	Work with D. Neu to finalize declarations in support of final order on DIP financing (.3); file same with USBC and send for service (.1); finalize notice of hearing on final order for DIP financing (.2); file same with USBC and send for service (.3)
06/07/17	D.C. Neu	1.60	Communicate with DIP lender regarding status (.3); communications with client regarding additional documents in support of final DIP (.5); revise same (.4); review subpoenas (.4)
06/08/17	D. A. Lentz	0.20	Meeting with D. Neu regarding UCC search on NWTM and retrieve past search (.1); request for updated UCC search from Unisearch (.1)
06/12/17 500664003 v1	D. A. Lentz	0.40	Finalize supplemental declaration of D. Neu in

DATE	NAME	HOURS	DESC	RIPTION	
				rt of DIP financing (.2); file wit end for service (.2)	h USBC
06/12/17	D.C. Neu	3.00		supplemental declaration in suing (.4); conference call with le	
				DIP order (.3); communicate	
			regard (.4)	ling same (.3); review financia	ll analysis
06/13/17	D.C. Neu	1.90		nunicate with A. Smith regarding (.3); analysis of issues relate	
				es (1); communicate with DIP	
			regard (.1)	ling same (.4); review propose	ed order
06/19/17	D. A. Lentz	0.40		m hearing on DIP motion with	
			. ,	nalize and file supplemental d Calvert and send for service (.	
06/19/17	D.C. Neu	0.80		nunicate with lender regarding	
				cation (.2); communicate with ling same (.3); draft suppleme	
00/00/4=	5.1.		declar	ation (.3)	
06/22/17	D. A. Lentz	0.80		with D. Neu and M. Gearin reg on final motion for DIP financi	
			finalize	e order to be uploaded and ex	hibit for
				(.2); draft proof of service of ng (.2); file proof of service with	
			(.1); u	pload order with exhibit for en	try with the
				(.1); review of order submitted and telephone conversation	
			Judge	's chambers regarding same ((.1);
			upload Court	d order a second time for entry (.1)	/ with
06/22/17	D.C. Neu	0.20	Comm	nunicate with DIP lender (.2)	
06/22/17	D.C. Neu	0.30 TOTAL FEES	Resol	ve issues with DIP Order (.3)	6 601 00
		IOTAL FEES		16.80 hrs \$	6,681.00
		TIMEKEEP	ER SUN	<u>IMARY</u>	
M.J. Gearin	ı	3.60	hrs at	\$ 530.00 / hr	1,908.00
D. A. Lentz			hrs at	\$ 210.00 / hr	945.00
D.C. Neu			hrs at	\$ 440.00 / hr 16.80 hrs \$	3,828.00
D.C. Neu		8.70 TOTAL FEES	hrs at	\$ 440.00 / hr 16.80 hrs \$	3,828.00 6,681.00

Invoice # 3428106 2070561 Page 12 of 35

MATTER SUMMARY

Fees \$ 6,681.00 MATTER TOTAL \$ 6,681.00

Invoice # 3428106 2070561 Page 13 of 35

Litigation (70100)

\$1,361.00

FEES

DATE	NAME	HOURS	DESCRIPTION	
06/05/17	D. A. Lentz	0.50	Submit declaration of no objection regarding settlement with Gatewood via ECF (.1); preparation of proof of service of notice of hearing (.2); file proof of service with Court (.1); upload order with court for entry (.1)	
06/20/17	M.J. Gearin	0.50	Meet with FBI representatives regarding privileged document production (.3); finalize limited privilege waiver agreement (.1); follow up on discovery requests of FBI (.1)	
06/20/17	D. A. Lentz	0.80	Drafting of limited privilege waiver stipulation (.5); provide copies of Karr Tuttle files to FBI (.3)	
06/21/17	M.J. Gearin	0.40	Communications with FBI regarding discovery requests	,
06/22/17	D. A. Lentz	0.60	Review of response filed by R. Hansen (.1); update hearing binder (.2); review and revise reply to response for filing with USBC (.3)	
06/22/17	D.C. Neu	0.20	Review docket of district court action (.2)	
06/22/17	D.C. Neu	0.30	Communicate with B. Stone regarding requested status report from District Court (.3))
06/28/17	M.J. Gearin	0.50	Communication with B. Werner regarding limited privilege waiver	
		TOTAL FEES	3.80 hrs \$ <u>1,361.00</u>	<u>0</u>
		TIMEKEEP	PER SUMMARY	
M.J. Gearin		1.40	hrs at \$ 530.00 / hr 742.00	0
D. A. Lentz		1.90	hrs at \$ 210.00 / hr 399.00	
D.C. Neu		0.50	hrs at \$ 440.00 / hr 220.00	0
		TOTAL FEES	3.80 hrs \$ <u>1,361.00</u>	0

MATTER SUMMARY

Fees \$ $\frac{1,361.00}{MATTER TOTAL}$ \$ $\frac{1,361.00}{1,361.00}$

American Express Fraudulent Transfer Action (70107)

\$34,026.50

DATE	NAME	HOURS	DESCRIPTION
06/01/17	D. A. Lentz	0.60	Meeting with D. Neu and D. Wolf (.2); conference with R. Tausend regarding trial documents (.1); work with eDat group to provide trial exhibits for uploading in Ringtail (.3)
06/01/17	D.C. Neu	0.80	Review documents for production
06/01/17	L.E. Steidl	1.10	Confer with D. Wolf, D. Lentz, and R. Tausend regarding handling of targeted collection files received from client in preparation for potential production (0.5); coordinate imaging and organization of targeted collections in preparation for production (0.3); locate and flag key documents for inclusion in production (0.3)
06/01/17	R. M. Tausend	0.30	Strategize with L. Steidl regarding D. Erdmann document collections and production in response to discovery requests, and provide updates and recommendations relating to same
06/01/17	D. C. Wolf	3.50	Conference with D. Neu and D. Lentz regarding document collection (0.6); conference with L. Steidl regarding electronically stored data (0.3); phone call to FBI regarding documents (0.3); email correspondences and phone conversations with D. Neu and Mint personnel regarding responsive documents and next steps (0.5); begin review of solvency analysis binders (1.8)
06/02/17	D.C. Neu	1.50	Continue to work on document production
06/02/17	L.E. Steidl	1.10	Confer with technical team regarding imaging and organization of targeted client collections of vault and cash disbursement records for loading to Ringtail review database in preparation for review and production (0.4); review files within case database to locate and segregate proposed production files as requested by D. Wolf (0.7)
06/02/17	D. C. Wolf	0.10	Review email correspondence from E. Robinson regarding document collection
06/05/17	L.E. Steidl	0.10	Confer with D. Wolf regarding handling of targeted collection files received from client for potential production

DATE	NAME	HOURS	DESCRIPTION
06/05/17	D. C. Wolf	5.30	Review contents of remaining solvency binders (3.8); draft email to D. Neu summarizing contents of solvency binders and next steps (1.0); draft email to D. Neu regarding discovery strategy and next steps (0.2); briefly review storage agreement example and email L. Steidl regarding metadata issue about same (0.3)
06/07/17	D.C. Neu	2.00	Review documents for discovery
06/07/17	L.E. Steidl	0.20	Confer with D. Wolf regarding handling of targeted collection files received from client and coordinate with technical team regarding imaging and organization of same within case database in preparation for potential production
06/07/17	D. C. Wolf	1.40	Review lease and storage agreements sent by E. Robinson and draft inventory of same (1.1); email to D. Neu regarding outstanding document collection issues (0.3)
06/08/17	D. A. Lentz	0.40	Meeting with D. Neu, R. Tausend and D. Wolf regarding Erdmann document production
06/08/17	D.C. Neu	2.00	Meeting with D.C. Wolf and R. Tausend regarding document production
06/08/17	L.E. Steidl	2.30	Confer with D. Wolf regarding handling of bullion storage and lease agreements files and coordinate with technical team regarding imaging and organization of same within case database in preparation for potential production (0.5); review case collections to and confer with D. Wolf, D. Lentz and litigation support team to identify additional files for addition to case database, and to identify and organize files within database in preparation for production, (1.8)
06/08/17	R. M. Tausend	1.50	Strategize with D. Neu and DC Wolf regarding documents to be produced in response to Erdmann discovery requests, including support for insolvency analysis and NWTM financials, including discussion of work product and call with E. Robinson and formulation and implementation of production plan
06/08/17	D. C. Wolf	3.60	Conference with litigation and discovery team on document collection issues (2.0); draft letter to defendant regarding discovery requests (0.4); update document collection tracking chart and email D. Lentz and R. Tausend regarding same (1.2)

DATE	NAME	HOURS	DESCRIPTION
06/09/17	D. A. Lentz	1.20	Review of NWTM files for copies of depositions from Erdmann matter, Cohen matter and evidentiary hearing for production
06/09/17	D. C. Wolf	0.60	Email correspondence with R. Tausend regarding document collection (0.5); finalize letter to D. Erdmann and coordinate sending of same (0.1)
06/10/17	L.E. Steidl	0.30	Coordinate with technical team regarding imaging and organization of deposition and hearing transcript files within case database in preparation for production
06/12/17	D.C. Neu	1.60	Review documents for discovery
06/12/17	L.E. Steidl	1.80	Coordinate with technical team regarding imaging and organization of metal storage and lease files within case database in preparation for production (0.2); meet with R. Tausend to discuss case status and upcoming discovery needs and deadlines (0.4); locate and organize key files within case database and update D. Wolf summary with detailed information regarding same (1.2)
06/12/17	R. M. Tausend	1.20	Strategize with DC Wolf and L. Steidl regarding various issues relating to identification, organization, privilege analysis and production of documents responsive to RFPs, including analysis and synthesis of information relating to financials learned through other related matters
06/12/17	D. C. Wolf	0.10	Email correspondence with R. Tausend regarding document collection
06/13/17	M. H. Hoefer	1.60	Discussion with L. Steidl on the specifications for out going hard copy to Altep Inc.(1.0); contact Altep representative and prepare client hard copy for pick up (.6)
06/13/17	L.E. Steidl	1.00	Confer with D. Wolf and e-DAT litigation support team regarding imaging and organization of hard copy collection materials received from client, assessing contents of collection and developing and communicating protocol for imaging vendor
06/13/17	D. C. Wolf	2.90	Review binder from E. Robinson (0.3); conference with R. Tausend regarding document collection issues and prepare binders for scanning (2.1); correspond with FBI regarding availability of certain documents (0.3); email correspondence to document custodians regarding additional documents (0.2)

DATE	NAME	HOURS	DESCRIPTION
06/14/17	D.C. Neu	2.00	Prepare for rule 26 discovery conference (.3); meeting with D.C. Wolf to discuss discovery and document production (.6); review documents (.58; meeting with client regarding status (.3)
06/14/17	L.E. Steidl	2.20	Confer with D. Wolf and e-DAT litigation support team regarding imaging and organization of hard copy collection materials received from client, addressing questions from imaging vendor regarding same (1.0); participate in call with D. Wolf and J. Cannady to discuss files used in support of solvency analysis, to ensure complete collection and production of same (0.4); review files received from J. Cannady and within database to identify items needed for production in response to Erdmann document requests (0.8)
06/14/17	R. M. Tausend	1.00	Review emails from DC Wolf and J Cannady regarding various open items relating to responses to RFPs and in particular documents supporting insolvency analysis, and provide recommendations relating to same from e-discovery best practices standpoint (0.5); confer with D. Neu regarding discovery obligations, options and relevant considerations (0.7); update and circulate synthesized, annotated index relating to insolvency analysis binder (0.2); review emails between Altep and L. Steidl regarding hard copy specs for production in response to discovery and provide guidance relating to same (0.1)
06/14/17	D. C. Wolf	2.00	Meet with D. Neu in anticipation of discovery conference with defendant (0.3); conference with L. Steidl and J. Cannady regarding document collection and email J. Cannady regarding same (0.5); revise document collection progress tracker (0.2); email correspondences with document custodians to collect additional documents (1.0)
06/15/17	D.C. Neu	2.80	Work on motion to compel discovery (1.8); research and analysis regarding same (.5); communicate with D. Erdmann regarding same (.2); review discovery status (.3)
06/15/17	L.E. Steidl	0.80	Audit collections received from J. Cannady and confer with same regarding missing items (0.4); review files received from J. Cannady to identify items needing redaction prior to

DATE	NAME	HOURS	DESCRIPTION
			production in response to Erdmann document requests (0.4)
06/15/17	R. M. Tausend	0.20	Review email updates from A. Trunkett, J. Cannady and B. Williamson regarding potentially responsive documents and provide comments to D. Neu and DC Wolf in response to request for same
06/15/17	D. C. Wolf	0.60	Correspond with document custodians to arrange for collection of additional documents (0.7)
06/16/17	D. A. Lentz	0.20	Meet with client regarding evidence binders
06/16/17	D.C. Neu	4.90	Call with DC Wolf regarding document production (.3); review case schedule (.2); work on discovery (1.7); work on motion to compel (2.7)
06/16/17	D. C. Wolf	0.60	Conference with D. Lentz regarding inventory binders and email correspondence regarding same (0.3); review binder and discuss production issues with D. Neu (0.3)
06/19/17	D.C. Neu	2.50	Meeting with D.C. Wolf regarding discovery issues (.4); revise motion to compel (.2); revise motion for preliminary writ (.4); review documents (1.5)
06/19/17	L.E. Steidl	0.30	Review files received from J. Cannady and within database to identify items needing redaction prior to production in response to Erdmann document requests (.2); conferring with D. Wolf regarding same (.1)
06/19/17	R. M. Tausend	0.30	Strategize with D. Neu and DC Wolf regarding decision points in connection with privilege analysis and production of documents underlying solvency analysis and make recommendations relating to same (0.2); related communications with L. Steidl (0.1)
06/19/17	D. C. Wolf	0.60	Conference with D. Neu and R. Tausend regarding work product issue (0.4); email correspondence with L. Steidl regarding production logistics (0.2)
06/20/17	L.E. Steidl	3.30	Review and organize files for production, coordinate imaging of files received from J. Cannady via email in preparation for production, and redact work product information from same in preparation for production in response to Erdmann document requests, consulting with D. Wolf and R. Tausend regarding same
06/20/17	R. M. Tausend	1.30	Analyze portions of Excel workbooks relating to inventory or insolvency analysis to address

DATE	NAME	HOURS	DESCRIPTION
			questions and make recommendations relating to work product, responsiveness and production format in response to D. Neu and D. Wolf requests (0.9); strategize and coordinate with L. Steidl to implement same and address other action items in preparation for 6/21/17 production (0.4)
06/20/17	D. C. Wolf	0.80	Conference with L. Steidl regarding logistics to production and email correspondence with D. Neu and R. Tausend about same (0.5); conference with R. Tausend regarding redaction issues (0.3)
06/21/17	D. A. Lentz	0.60	Work with eDat group and D. Neu regarding service of request for production responses to D. Erdmann
06/21/17	D.C. Neu	4.00	Draft protective order (.4); draft transmittal letter (.4); finalize and transmit document production (3.2)
06/21/17	L.E. Steidl	4.30	Review and organize files for production (1.5), redact work product information from same in preparation for production in response to Erdmann document requests (1.5), consulting with D. Wolf and D. Neu regarding same (.3); coordinate, oversee, and assist in preparation, export, QC and transfer of production images and data (1.0)
06/21/17	D. C. Wolf	2.70	Conference with L. Steidl and D. Neu regarding issues related to production of documents and confidentiality designations (0.8); coordinate and respond to questions regarding document production (0.9); draft stipulated protective order (0.8); revise and finalize transmittal letter (0.2)
06/22/17	L.E. Steidl	1.10	Review and organize files for production, redacting work product information from same in preparation for production in response to Erdmann document requests
06/23/17	D.C. Neu	3.20	Review and analyze information regarding personal expenditure with respect to each transfer (2); work on discovery (1.2)
06/26/17	D.C. Neu	0.80	Review outstanding discovery requests
06/27/17	D.C. Neu	2.10	Continued analysis of data related to payment
06/30/17	D.C. Neu	0.30	transfers Review letter from T. Quinlan (.1); draft response to same (.2)
06/30/17	D.C. Neu	2.90 TOTAL FEES	Edit motion for writ of attachment 88.50 hrs \$ 34,026.50

Invoice # 3428106 2070561 Page 20 of 35

TIMEKEEPER SUMMARY

M. H. Hoefer	1.60	hrs at	\$	95.00 / hr	152.00
D. A. Lentz	3.00	hrs at	\$	210.00 / hr	630.00
D.C. Neu	33.40	hrs at	\$	440.00 / hr	14,696.00
L.E. Steidl	19.90	hrs at	\$	395.00 / hr	7,860.50
R. M. Tausend	5.80	hrs at	\$	560.00 / hr	3,248.00
D. C. Wolf	24.80	hrs at	\$	300.00 / hr	7,440.00
	TOTAL FEES		88.5	50 hrs	\$ 34,026.50

MATTER SUMMARY

Fees \$ 34,026.50 MATTER TOTAL \$ 34,026.50

Meetings and Communications with Creditors (70110)

\$2,150.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
06/14/17	M.J. Gearin	1.50	Meet with M. Calvert regarding preparations for committee meeting and preparation of liquidation analyses				
06/15/17	M.J. Gearin	1.30	Attend telephonic committee meeting				
06/15/17	M.J. Gearin	0.30	Call with M. Northrup in advance of committee meeting				
06/19/17	M.J. Gearin	0.30	Call with M. Northrup re committee issues				
06/23/17	D. A. Lentz	0.10	Field phone call from creditor regarding status of case				
06/26/17	D. A. Lentz	0.10	Field phone calls/emails from creditors regarding status of case				
06/27/17	D.C. Neu	0.60	Call with B. Medeiros regarding status (.3); call with creditor regarding same (.3)				
06/29/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case				
		TOTAL FEES	4.40 hrs \$ <u>2,150.00</u>				

TIMEKEEPER SUMMARY

M.J. Gearin	3.40	hrs at	\$	530.00 / hr	1,802.00
D. A. Lentz	0.40	hrs at	\$	210.00 / hr	84.00
D.C. Neu	0.60	hrs at	\$	440.00 / hr	264.00
	TOTAL FEES		4.4	0 hrs	\$ 2,150.00

MATTER SUMMARY

Fees	\$ 2,150.00
MATTER TOTAL	\$ 2,150.00

Invoice # 3428106 2070561 Page 22 of 35

Tax (70140) \$3,355.00

DATE	NAME	HOURS	DESCRIPTION			
06/06/17	J. Mobley	2.90	Prepare for and participate in conference call with potential buyer (1.0); address tax considerations and options available for possible transaction (1.9)			
06/07/17	J. Mobley	2.60	2.60 Analyze tax considerations and options available for possible transaction			
		TOTAL FEES	5.50 hrs	\$3,355.00		
		TIMEKEEPI	ER SUMMARY			
J. Mobley			hrs at \$ 610.00 / hr	3,355.00		
		TOTAL FEES	5.50 hrs	\$3,355.00		
MATTER SUMMARY						
Fees MATTER T	OTAL			\$ 3,355.00 \$ 3,355.00		
141VII	O I AL			Ψ <u>υ,υυυ.υυ</u>		

Assumption and Rejection of Leases and Contracts (70150)

\$84,702.50

DATE	NAME	HOURS	DESCRIPTION
06/01/17	L.E. Steidl	0.20	Assess legacy Calvert email collections and confer with C. Wyant regarding new or supplemental collections required for production of Calvert-Hoff communications
06/01/17	C.M. Wyant	2.30	Work on discovery matters for Hoff evidentiary hearing (.8); review lease provisions for same (.3); conduct research regarding hearing issues (1.2)
06/02/17	L.E. Steidl	0.10	Confer with C. Wyant regarding procurement and production of email communications between M. Calvert and Hoffs
06/02/17	C.M. Wyant	2.20	Work on expert report matters and draft emails regarding same (1.2); review lease provisions for trial brief and outline same (1.3); draft email to A. Smith regarding written and deposition discovery (.2)
06/05/17	L.E. Steidl	2.20	Confer with C. Wyant regarding details of preparation of client email collections for production (0.3); confer C. Wyant and with technical team to troubleshoot issues raised by non-standard format of client email collection (0.3); coordinate imaging of legacy and new email collections from M. Calvert in preparation for production (0.4); screen proposed production files for potential privilege communications and organize results for production export (1.2)
06/05/17	C.M. Wyant	7.30	Conference with M. Calvert regarding factual background and trial strategy (1.1); coordinate production of email (.6); conference with expert witnesses (1.4); work on expert report issues and review draft report (2.7); draft email to A. Smith regarding discovery and review response from same (.3); review lease provisions, prior declarations and pleadings for trial brief and related tasks (1.2)
06/06/17	L.E. Steidl	2.20	Coordinate and oversee preparation, export, QC, and delivery of Calvert-Hoff communication images and data to Hoff counsel (1.9; communicating details of same to C. Wyant and technical and litigation support team (1.3)
06/06/17	D. C. Wolf	0.30	Conference with C. Wyant regarding
E00004000 4			

DATE	NAME	HOURS	DESCRIPTION
	<u> </u>		upcoming trial preparations
06/06/17	C.M. Wyant	6.10	Work on expert report matters (4.5); review documents produced by Hoffs (.5); conference with A. Smith regarding discovery (.4); draft email to M. Calvert (.4); coordinate production of documents to Hoffs (.3)
06/07/17	L.E. Steidl	0.10	Coordinate download and handling of production documents received from Hoff
06/07/17	C.M. Wyant	6.80	Review and draft emails regarding documents produced by Hoffs (2.5); continue work on expert reports and conference with experts regarding same (4.3)
06/08/17	L.E. Steidl	0.60	Coordinate and oversee preparation, export, QC, and delivery of client targeted collections of relevant photos and repair item purchase information to Hoff counsel, communicating details of same to C. Wyant and technical and litigation support team
06/08/17	C.M. Wyant	6.20	Prepare for and meet with George Humphrey regarding expert issues (2.4); work on expert report for George Humphrey (3.5); review and address to email regarding discovery and related issues (.3)
06/09/17	C.M. Wyant	6.10	Revise and finalize expert reports (3.3); conference with G. Humphrey and M. Calvert regarding expert report (.4); work on production of additional discovery documents (.6); review expert reports from Hoffs (.3); work on hearing briefing and research (1.5)
06/12/17	L.E. Steidl	1.30	Coordinate, oversee, and assist in preparation, export, QC, and delivery of client targeted collections of repair and maintenance documentation to Hoff counsel, communicating details of same to C. Wyant and technical and litigation support team
06/12/17	C.M. Wyant	3.60	Deposition preparation (1.2); draft portions of trial brief (1.5); conference with M. Calvert (.2); review documents for exhibit list (.7)
06/13/17	L.E. Steidl	0.30	Coordinate and oversee handling of Hoff production of email and other electronic material for loading to case database, and analyze contents of thumb drive of photos received from Hoff counsel to determine appropriate handling of same
06/13/17	D. C. Wolf	0.10	Email to C. Wyant regarding trial preparation strategy
06/13/17	C.M. Wyant	6.70	Continue drafting trial brief (4.5); continue deposition preparation (1.2); conference with

DATE	NAME	HOURS	DESCRIPTION
			George Humphrey regarding deposition and trial (.3); conference with M. Gearin regarding trial preparation (.7)
06/14/17	M.J. Gearin	0.50	Multiple communications with C. Wyant regarding evidentiary hearing preparations and preparations for depositions of witnesses
06/14/17	L.E. Steidl	0.40	Analyze contents of thumb drive of photos received from Hoff counsel and coordinate and oversee loading and organization of this and previous Hoff email and ESI production to case database
06/14/17	D. C. Wolf	0.30	Conference with C. Wyant regarding research for trial brief (0.3)
06/14/17	C.M. Wyant	5.90	Conference with M. Calvert and M. Gearin regarding depositions and trial strategy (.5); continue drafting trial brief for Hoff dispute (2.3); deposition preparation for Hoffs and expert (2.5); coordinate deposition dates with A. Smith and draft email regarding same (.3); assign research tasks to DC Wolf (.3)
06/15/17	M.J. Gearin	0.50	Meet regarding preparations for depositions in connection with Dayton lease trial
06/15/17	L.E. Steidl	0.10	Coordinate and oversee handling of Hoff production materials, providing requested working copies of same for C. Wyant
06/15/17	D. C. Wolf	4.50	Conduct research regarding standards and burden of proof for motion to assume lease (1.0); analyze case law regarding late-raised claims of default and res judicata (2.5); draft analysis of same for C. Wyant's review (1.0)
06/15/17	C.M. Wyant	6.60	Continue deposition preparation for Hoffs (2.5); review materials for Calvert deposition preparation (1.3); coordinate on deposition issues with A. Smith (.2); conference with R. Crook regarding report and deposition/trial issues (.3); review research from DC Wolf and work on trial brief (1.8); conference with M. Gearin regarding legal strategy, depositions and expert issues (.5)
06/16/17	M.J. Gearin	2.10	Meet with M. Calvert regarding deposition preparation on Hoff lease assumption and cure
06/16/17	D.C. Neu	0.50	Communicate with C. Wyant regarding lease issues (.5)
06/16/17	L.E. Steidl	1.60	Coordinate loading and organization of additional Hoff production material into case database (0.1); coordinate and oversee intake of targeted collection of photos and

DATE	NAME	HOURS	DESCRIPTION
			spreadsheets received from M. Calvert, and provide instruction and assistance to technical team for preparation, export, QC and transfer of production images and data from same to Hoff counsel (1.5)
06/16/17	D. C. Wolf	1.30	Conduct research on judicial estoppel standard and draft analysis of same for C. Wyant (1.3)
06/16/17	C.M. Wyant	6.00	Prepare for Hoff deposition (2.7); prepare Mark Calvert for deposition (1.2); conference with A. Smith regarding deposition scheduling issues (.2); continue work on trial brief and review research from DC Wolf for same (1.5); draft email and call J. Goodfellow regarding deposition (.2); conference with R. Crook regarding trial attendance (.2)
06/17/17	C.M. Wyant	3.20	Continue reviewing case documents and Hoff deposition preparation (3.2)
06/18/17	C.M. Wyant	5.70	Complete Hoff deposition preparation and email A. Smith regarding same (1.5); draft trial brief (3.5); work on witness and exhibit list (.7)
06/19/17	M.J. Gearin	1.10	Review of exhibits (.5); call with M. Calvert regarding deposition preparation on Dayton lease cure (.6)
06/19/17	L.E. Steidl	0.10	Address questions raised by Hoff counsel regarding numbering and format of production of photos and spreadsheets received from M. Calvert
06/19/17	D. C. Wolf	0.40	Conduct research regarding enforcement of disputed settlement agreement (0.4)
06/19/17	C.M. Wyant	7.30	Prepare for and take depositions of Hoffs and Jeff Goodfellow
06/20/17	M.J. Gearin	2.40	Attend deposition of M. Calvert in Hoff lease assumption matter
06/20/17	D. A. Lentz	0.20	Finalize witness list for service on opposing party
06/20/17	L.E. Steidl	0.70	Coordinate and assist in preparation, export, and transfer of production images and data for J. Goodfellow photo production and upload documents for use in M. Calvert deposition to Dropbox as requested by C. Wyant
06/20/17	D. C. Wolf	1.30	Analyze case law regarding standard for enforcing disputed settlements and email summary of research findings to C. Wyant (1.3)
06/21/17	M.J. Gearin	0.40	Consult regarding settlement issues and exhibit lists in connection with Dayton lease dispute

DATE	NAME	HOURS	DESCRIPTION
06/21/17	D. A. Lentz	0.20	Send for Trustee's exhibit list for service on opposing party
06/21/17	C.M. Wyant	6.70	Review documents and draft exhibit list (3.0); conference with A. Smith regarding same (.2); continue drafting and revising trial brief (3.5)
06/22/17	M.J. Gearin	0.50	Consult regarding trial preparations including briefing for Hoff lease dispute
06/22/17	C.M. Wyant	6.20	Continue drafting and revising trial brief (5.5); coordinate regarding exhibit lists and review supplemental documents (.3); conference with M. Calvert and M. Gearin regarding possible settlement issues (.3); review and produce additional discovery document (.1)
06/23/17	M.J. Gearin	1.20	Comments to reply brief on Hoff lease dispute
06/23/17	D. A. Lentz	0.30	Finalize for filing and file trial brief re Hoff lease
06/23/17	C.M. Wyant	6.30	Draft and revise hearing brief and coordinate filing of same (3.0); review Hoff trial brief and draft email to M. Calvert (.3); conference regarding possible settlement (.8); review deposition transcripts for hearing (1.0); review and amend exhibit list and draft email to A. Smith regarding same (1.2)
06/26/17	B. T. Peterson	3.80	Research and draft insert for pre-trial brief regarding Hoff lease assumption
06/26/17	C.M. Wyant	7.70	Conference with M. Calvert regarding Hoff trial brief and draft response to same (6.5); on exhibit issues and prepare for hearing (1.2)
06/27/17	M.J. Gearin	1.50	Meet with C. Wyant regarding trial preparation (.6); comments to reply brief (.9)
06/27/17	D. A. Lentz	0.30	Finalize for filing and file response to trial brief with USBC
06/27/17	D.C. Neu	0.50	Meeting with C. Wyant regarding analysis of lease assumption issues
06/27/17	B. T. Peterson	1.90	Research case law related to hearing on assumption of Hoff lease
06/27/17	L.E. Steidl	0.50	Coordinate and assist in preparation and export of exhibit list files for inclusion in binders requested by C. Wyant in preparation for case hearing, conferring with C. Wyant and D. Lentz regarding details of same
06/27/17	C.M. Wyant	7.80	Draft and revise response to hearing brief and discuss same with M. Calvert and M. Gearin (3.8); review Hoff response brief (.2); prepare witness outlines for hearing (3.5); coordinate preparation of hearing exhibits (.3)
06/28/17	M.J. Gearin	0.40	Review Hoff reply brief; meet regarding preparations for evidentiary hearing on Dayton

Invoice # 3428106 2070561 Page 28 of 35

> 84,702.50 **84,702.50**

DATE	NAME	HOURS	DESC	CRIPT	ION			
			lease	lease assumption				
06/28/17	D. A. Lentz	1.30		Prepare exhibit binders for trial re assumption of Hoff lease				
06/28/17	L.E. Steidl	0.70	Coord	Coordinate and assist in preparation and				
					khibit list files for i			
						ant in preparation		
					aring, conferring man, C. Wyant and			
					letails of same	D. Leniz		
06/28/17	C.M. Wyant	9.30	_	_	hearing on Dayto	on Lease		
			•	nptior	•			
06/29/17	M.J. Gearin	0.50			rustee and C. W	yant re Dayton		
00/00/4=		40 =0		•	preparation			
06/29/17	C.M. Wyant	12.50			tness outlines, wit			
06/30/17	M.J. Gearin	0.90	argument for hearing on Hoff lease dispute Meet re progress of evidentiary hearing (.6);					
00/00/17	Wi.o. Ocariir	0.50	consult regarding preparations for continued					
			hearing (.3)					
06/30/17	D. A. Lentz	5.50			and attend trial c	on Hoff lease		
00/00/4=				nptior				
06/30/17	C.M. Wyant	8.20			and attend evide			
					erence with M. Ge of next steps (.4)	ann regarding		
		TOTAL FEES		-	50 hrs	\$ 84,702.50		
		TIMEKEEP	ER SU	MMAF	RY			
M.J. Gearin	1	12.00	hrs at	\$	530.00 / hr	6,360.00		
D. A. Lentz		7.80	hrs at	\$	210.00 / hr	1,638.00		
D.C. Neu		1.00	hrs at	\$	440.00 / hr	440.00		
B. T. Peters	son	5.70	hrs at	\$	340.00 / hr	1,938.00		
L.E. Steidl			hrs at	\$	395.00 / hr	4,384.50		
D. C. Wolf			hrs at	\$	300.00 / hr	2,460.00		
C.M. Wyan	t		hrs at	\$	460.00 / hr	67,482.00		
		TOTAL FEES		192.	50 hrs	\$ <u>84,702.50</u>		
		MATTER	R SUMN	<u>IARY</u>				

MATTER TOTAL

Fees

Invoice # 3428106 2070561 Page 29 of 35

Avoidance Action Analysis (70160)

\$4,532.00

FEES

DATE	NAME	HOURS	DESCRIPTION						
06/01/17	D.C. Neu	5.10	Research and analysis regarding fraudulent transfer claim, and drafting of memo related to same						
06/05/17	D.C. Neu	1.20	Call with client regarding fraudulent transfer claims (1.2)						
06/09/17	D.C. Neu	2.50	Work on fraudulent transfer analysis						
06/12/17	D.C. Neu	1.50	Research regarding avoidance actions (1.5)						
		TOTAL FEES	10.30 hrs \$ <u>4,532.00</u>						
TIMEKEEPER SUMMARY									
D.C. Neu		10.30	hrs at \$ 440.00 / hr 4,532.00						

D.C. Neu	10.30 hr	rs at	\$ 4	440.00 / hr	4,532.00
	TOTAL FEES		10.30	hrs	\$ 4,532.00

MATTER SUMMARY

Fees \$ 4,532.00 MATTER TOTAL \$ 4,532.00

Invoice # 3428106 2070561 Page 30 of 35

\$360.00

DATE	NAME	HOURS	DESC	ידמומי	ON					
DATE	NAME		DESCRIPTION Description							
06/22/17	M.J. Gearin	0.60	Review of and revisions to monthly report							
06/23/17	D. A. Lentz	0.20	Finalize May monthly financial report for filing with USBC							
		TOTAL FEES		0.80 hrs			\$	360.00		
TIMEKEEPER SUMMARY										
M.J. Gearin		0.60	hrs at	\$	530.00 / h	ır		318.00		
D. A. Lentz		0.20	hrs at	\$	210.00 / h	ır		42.00		
		TOTAL FEES		8.0	0 hrs		\$	360.00		
MATTER SUMMARY										
Fees MATTER TO	OTAL						\$	360.00 360.00		

Invoice # 3428106 2070561 Page 31 of 35

US-TMK: MACO - CL. 14 - 28718361 (70240) \$792.00

US Serial No.: 87218361

FEES

DATE 06/01/17	NAME P. K. Jacobson	HOURS 1.30	DESCRIPTION Review and analyze office action response and file history for upcoming office action response deadline (.9); intra-office conference regarding the same (.3); email to client requesting instructions and advising abandonment of trademark application (.3)				
06/01/17	K. P. Wing	0.30	Prepare draft reporting email to client regarding response to office action and legal recommendation to abandon application				
06/13/17	K. P. Wing	0.10	Draft second reminder email to client regarding instructions on response to office action				
06/19/17	P. K. Jacobson	0.30	Email to client regarding MACO trademark application				
	TOTAL	FEES	2.00 hrs \$ <u>792.00</u>				

TIMEKEEPER SUMMARY

P. K. Jacobson	1.60	hrs at	\$	450.00 /	nr	720.00
K. P. Wing	0.40	hrs at	\$	180.00 /	nr	72.00
	TOTAL FEES		2.0	0 hrs	\$_	792.00

MATTER SUMMARY

Fees	\$ <u>792.00</u>
MATTER TOTAL	\$ <u>792.00</u>

Invoice # 3428106 2070561 Page 32 of 35

US-TMK: MEDALLIC ART COMPANY - CL. 14	4 - 87216866 (70250) \$279.00
---------------------------------------	---------------------	-------------------

US Serial No.: 87216866

FEES

DATE 06/08/17	NAME K. P. Wing	HOURS 0.30	Prepa recen	tly issue	on rting email to ded registration eadlines	_	_
06/09/17	P. K. Jacobson	0.50		ting em	nail regarding r iister	egistratio	n on the
	TOT	AL FEES) hrs	\$	279.00
TIMEKEEPER SUMMARY							
P. K. Jacob	son	0.50	hrs at	\$	450.00 / hr		225.00
K. P. Wing		0.30	hrs at	\$	180.00 / hr		54.00
ТОТ		AL FEES		0.80) hrs	\$	279.00
MATTER SUMMARY							

Fees \$ 279.00
MATTER TOTAL \$ 279.00

Invoice # 3428106 2070561 Page 33 of 35

Costs (99999) \$3,209.87

Invoice # 3428106 2070561 Page 34 of 35

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
06/01/17	Local Courier - 5/17 #4 Process Service Upon: Bryan D. Geraghty @11319 Pinehurst Way NE - Washington Legal Messengers - 05172017	92.00
06/01/17	Local Courier - 5/17 #4 Process Service Upon: Renton Coin Shop Inc. @15201 Military Rd S - Washington Legal Messengers - 05172017	87.00
06/01/17	Local Courier - 5/17 #6 Process Service Upon: Victoria Diamonds LLC @2012 Shattuck Ave S, Renton - Washington Legal Messengers - 05172017	92.00
06/02/17	Postage	33.52
06/02/17	Postage	39.65
06/02/17	Copying Expense	51.00
06/07/17	Copying Expense	43.20
06/07/17	Copying Expense	30.40
06/07/17	Copying Expense	30.00
06/07/17	Copying Expense	2.80
06/07/17	Local Courier - Courier Charges for May 2017 - Halo Messenger Services, LLC - 06012017 - 5/30 #4 1420 5th #3382 - Insolvency Binders	41.00
06/12/17	Travel Expenses - Gearin, Michael - Parking - 2017-06-02 - IMPARK 00250010 - 6 2 Hearing Parking	12.00
06/16/17	CD ROM Expenses	25.00
06/19/17	Travel Expenses - Neu, David - Parking - 2017-06-09 - IMPARK 00250010 - 6 9 Hearing Parking	12.00
06/20/17	CD ROM Expenses	25.00
06/20/17	Westlaw - DCN - 06/01/2017 - 06/20/2017	1,087.42
06/20/17	Westlaw - DCW - 06/15/2017 - 06/20/2017	230.80
06/21/17	Long Distance Courier FedEx Charges TR#: 786954854090 INV#: 584623247 INVDT: 20170626 SHIPDT: 20170621 SHNAME: Matthew Hoefer RCNAME: Diane Erdmann RCCO: INFORMATION NOT SUPPLIED	16.03
06/26/17	Postage	32.86
06/27/17	Westlaw - BTP - 06/26/2017 - 06/27/2017	644.63
06/28/17	Unisearch Inc./UCC Search	59.00
06/29/17	Color Copying/Printing	342.00
06/30/17	Lexis - KIS - 06/01/2017 - 06/30/2017	180.56
	DISBURSEMENTS & OTHER CHARGES \$ _	3,209.87

Invoice # 3428106 2070561 Page 35 of 35

Disbursements and Other Charges MATTER TOTAL

\$ 3,209.87 **\$ 3,209.87**

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 11, 2017

3,902.02

Invoice Number : 3427453 Services Through : June 30, 2017 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 3,628.00
Disbursements and Other Charges \$ 274.02

Total Amount Due This Matter

CURRENT INVOICE DUE - All Matters \$ 3.902.02

Litigation -- e-DAT Fees (77100)

\$3,902.02

DATE	NAME	HOURS	DESCRIPTION
06/06/17	T. S. Milne	2.30	Electronically produce NWTM HOFF 0000001-NWTM HOFF 0003156 out of litigation support database per the request of L. Steidl for production to opposition
06/06/17	T. S. Milne	1.70	Analyze, organize and edit NWTM 2017.06.06 ESI for staging in litigation support database for review and production
06/07/17	M. Bassetti	0.20	Update chain of custody tracking logs for production of volume NWTM HOFF 001 to Medallic Art Company, LLC per request by L. Steidl
06/07/17	T. S. Milne	1.20	Analyze, organize and edit NWTM Lease Dispute 2017.06.06 ESI for staging in litigation support database for review and production
06/08/17	M. Bassetti	0.50	Analyze documents confirming compliance with production volume NWTM HOFF 002 specifications (0.4); prepare June 8th document production to Access Clinical Partners, LLC per request of L. Steidl (0.1)
06/08/17	T. S. Milne	1.10	Electronically produce NWTM HOFF 0003157-NWTM HOFF 0003204 out of litigation support database per the request of L. Steidl for production to opposition
06/09/17	M. Bassetti	0.10	Update chain of custody tracking logs for production of volume NWTM HOFF 002 to Medallic Art Company, LLC per request by L. Steidl
06/09/17	A.M. Graf	0.50	Analyze, organize and edit material produced 6.9.2017 for staging in litigation support database for review in response to request from L. Steidl
06/12/17	M. H. Hoefer	0.10	At request of L. Steidl zip and upload production NWTM HOFF 003 to FTP site Calvert NW Terr Bkrpt EXT
06/12/17	T. S. Milne	0.60	Electronically produce NWTM HOFF 0003205 - NWTM HOFF 0003304 out of litigation support database per the request of L. Steidl for production to opposition

DATE	NAME	HOURS	DESCRIPTION
06/12/17	T. S. Milne	0.50	Analyze, organize and edit Lease Dispute 2017.06.12 ESI for staging in litigation support database for production
06/13/17	T. S. Milne	1.30	Analyze, organize and edit KL Gates Transcripts ESI for staging in litigation support database for review
06/14/17	C. M. Kuffel	0.10	Analyze, organize and edit C. Hoff's June 13th photograph collection in preparation for loading in Ringtail per the request of L. Steidl
06/14/17	T. S. Milne	1.40	Analyze, organize and edit Hoff 2017.06.13 Photos ESI for staging in litigation support database for review
06/16/17	T. S. Milne	2.00	Analyze, organize and edit Mark Calvert Lease Dispute Repairs 2017.06.16 ESI for staging in litigation support database for production (0.8); analyze, organize and edit HOFF000349-HOFF000920 ESI for staging in litigation support database for production (1.2)
06/16/17	T. S. Milne	1.30	Electronically produce NWTM HOFF 0003305-NWTM HOFF 0003463 out of litigation support database per the request of L. Steidl for production to opposition
06/16/17	S.E. Selin	0.60	Perform collection of cell phone pictures (0.4); prepare pictures for processing (0.2)
06/19/17	M. Bassetti	0.00	Update chain of custody tracking logs for production of volume HOFF 003 and HOFF 004 to Medallic Art Company, LLC per request by L. Steidl
06/19/17	M. Bassetti	0.00	Update chain of custody tracking logs for production content from opposing counsel per request by L. Steidl
06/19/17	M. Bassetti	0.00	Update chain of custody tracking logs for hard copy Erdmann collections per request by L. Steidl
06/20/17	C. M. Kuffel	0.40	Prepare June 20th Production from Ringtail per the request of L. Steidl
06/21/17	M. Bassetti	0.90	Analyze documents confirming compliance with production volume NWTM ERD 001 specifications (0.6); prepare June 21 document production to Access Clinical Partners, LLC per request of L. Steidl (0.3)
06/21/17	C. M. Kuffel	1.30	Prepare June 21st Production from Ringtail per the request of L. Steidl
06/22/17	M. Bassetti	0.00	Update chain of custody tracking logs for production of volume NWTM ERD 001 to Medallic Art Company, LLC per request by L. Steidl
06/28/17	T. S. Milne	1.60	Prepare exhibit 1-3 and exhibit 9-13

Invoice # 3427453 2070561 Page 4 of 4

DATE	NAME HOURS	3	DESC	RIP	ΓΙΟΝ		
		documents for providing in pdf format to SE					
					er for printing	Φ.	0.000.00
	TOTAL FEES			19.	70 hrs	\$_	3,628.00
	TIMEKEE	PE	R SUM	<u>IMA</u>	<u>RY</u>		
M. Bassetti	1.70	O I	hrs at	\$	95.00 / hr		161.50
A.M. Graf	0.50) I	hrs at	\$	200.00 / hr		100.00
M. H. Hoefer	0.10) I	hrs at	\$	95.00 / hr		9.50
C. M. Kuffel	1.80) I	hrs at	\$	240.00 / hr		432.00
T. S. Milne	15.00) C	hrs at	\$	180.00 / hr		2,700.00
S.E. Selin	0.60) C	hrs at	\$	375.00 / hr		225.00
	TOTAL FEES			19.	70 hrs	\$_	3,628.00
DATE	<u>DISBURSEMENT</u> DESCRIPTION	rs a	<u>& OTH</u>	ER (CHARGES		AMOUNT
06/30/17	ESI Conversion: Convert 0.152 \$75.90	GE	3 to TIF	F im	nages @ \$500/GB:	٠	75.90
06/30/17	Ringtail Fees: June 2017 Data \$15.00/GB: \$198.12	Sto	rage F	ees:	13.21 GB @		198.12
	DISBURSEMEN	TS	& OTH	HER	CHARGES	\$_	274.02
		ER :	 SUMM	 ARY			
Fees						\$	3,628.00
Disbursements and Other Charges MATTER TOTAL						\$_	274.02
WALLERIC	/ I AL					Φ=	3,902.02

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 13, 2017

Invoice Number : 3428138 Services Through : July 31, 2017 Our File Number : 2070561

Asset Analysis and Recovery (70010)

rees	\$ <u>9,212.00</u>	
Total Amount Due This Matter		\$ 9,212.00

Asset Disposition (70020)

Fees	\$ <u>5,371.00</u>	
Total Amount Due This Matter		\$ 5,371.00

Case Administration (70040)

Fees	\$ <u>1,378.00</u>	
Total Amount Due This Matter		\$ 1,378.00

Claims, Administration and Objections (70050)

Fees	\$ <u>176.00</u>	
Total Amount Due This Matter		\$ 176.00

Litigation (70100)

Fees	\$ 3,560.00	
Total Amount Due This Matter		\$ 3,560.00

500664015 v1

This invoice reflects fees and costs not previously billed. Past due balances, if any, will be shown on a separate statement of account at the beginning of the next month. Payment is due in U.S. dollars upon receipt. Funds may be wired to our account number 153557906580 US Bank, Private Financial Services, 1420 5th Ave. Suite 2100, Seattle, WA 98101, ABA Routing Number 125000105, SWIFT Code: USBKUS44IMT. Check payments should be sent to K&L Gates LLP, RCAC, 925 Fourth Ave., Suite 2900, Seattle, WA 98104-1158.

Invoice # 3428138 2070561 Page 2 of 19

\$ <u>58,779.86</u>

CURRENT INVOICE DUE - All Matters

-	` '	
Fees Total Amount Due This Matter	\$ <u>4,030.50</u>	\$ 4,030.50
Meetings and Communications with Credito	ors (70110)	
Fees Total Amount Due This Matter	\$ <u>779.00</u>	\$ 779.00
Assumption and Rejection of Leases and Co	ontracts (70150)	
Fees Total Amount Due This Matter	\$ 30,727.50	\$ 30,727.50
Reporting (70210)		
Fees Total Amount Due This Matter	\$243.00_	\$ 243.00
Costs (99999)		
Disbursements and Other Charges Total Amount Due This Matter	\$3,302.86	\$ 3,302.86

Asset Analysis and Recovery (70010)

\$9,212.00

DATE	NAME	HOURS	DESCRIPTION
07/05/17	D. A. Lentz	1.10	Finalize subpoena for production of
			documents for R. Hansen (.1); prepare
			subpoenas for production of documents for D.
			Erdmann, subpoenas for depositions for R.
			Hansen and D. Erdmann and notices of
			deposition for R. Hansen and D. Erdmann
			(.8); finalize all documents for service on
07/05/47	D.O. Navi	4.00	attorneys for parties (.2)
07/05/17	D.C. Neu	1.00	Edit and finalize subpoenas to D. Erdmann and R. Hansen (1)
07/07/17	D.C. Neu	0.20	Communicate with client regarding D.
			Erdmann expenditures (.2)
07/11/17	D.C. Neu	0.40	Call with J. Frush regarding depositions (.4)
07/18/17	D.C. Neu	0.90	Communications with T. Quinlan and J. Frush
			regarding discovery (.4); call with M. Calvert
			regarding identification of sold coins (.2);
			review bank account information (.3)
07/19/17	D.C. Neu	0.20	Call with M. Calvert regarding bank
			statements
07/19/17	D.C. Neu	0.60	Deposition coordination (.3); gather
			documents for client (.3)
07/24/17	D.C. Neu	2.10	Review and analyze documents produced by
0-10-11-	5		D. Erdmann
07/27/17	D. A. Lentz	0.50	Work on deposition preparation for
07/07/47	D 0 N	0.40	depositions of D. Erdmann and R. Hansen
07/27/17	D.C. Neu	6.10	Prepare for deposition
07/28/17	D. A. Lentz	1.20	Work on deposition preparation for
07/00/47	D.C. Navi	0.40	depositions of D. Erdmann and R. Hansen
07/28/17	D.C. Neu	3.40	Prepare for deposition of D. Erdmann
07/31/17	D.C. Neu	4.70	Call with T. Quinlan regarding deposition (.4);
			analysis regarding remedies (.7); follow-up
			call with T. Quinlan (.2); calls with client
			regarding deposition issues (.5); review analysis of financials (.5); review information
			regarding six boxes from client (1); revise
			deposition outline (1.5)
		TOTAL FEES	22.40 hrs \$ 9,212.00

Invoice # 3428138 2070561 Page 4 of 19

TIMEKEEPER SUMMARY

D. A. Lentz	2.80	hrs at	\$	210.00 / hr	588.00
D.C. Neu	19.60	hrs at	\$	440.00 / hr	8,624.00
	TOTAL FEES		22.40	o hrs	\$ 9,212.00

MATTER SUMMARY

Fees \$ 9,212.00 MATTER TOTAL \$ 9,212.00

Asset Disposition (70020)

\$5,371.00

DATE	NAME	HOURS	DESCRIPTION		
07/05/17	M.J. Gearin	0.60	Consult regarding storage customer return motion and evidence of missing inventory		
07/05/17	D.C. Neu	2.30	Meeting with M. Gearin regarding return of inventory (.3); review information on missing metals (.4); review communication regarding Great Panther (.3); work on inventory return motion (.8); communications with client regarding same (.5)		
07/06/17	D. A. Lentz	0.10	Follow up voicemail to widow of storage customer re inventory to return		
07/06/17	D.C. Neu	3.40	Edit motion to return inventory (2); communicate with J. Cannaday and E. Robinson regarding documentation related to same (1.4)		
07/07/17	D. A. Lentz	0.80	Review of records regarding ARM equipment purchase		
07/07/17	D. A. Lentz	0.20	Telephone call with widow of storage customer and follow up email to same		
07/07/17	D.C. Neu	0.50	Edit inventory return motion (.5)		
07/07/17	B. T. Peterson	1.40	Draft demand letter to surplus equipment purchaser		
07/10/17	D.C. Neu	1.20	Analysis of Wong inventory in connection with second motion for return of inventory		
07/11/17	D.C. Neu	1.60	Draft declarations regarding return of inventory (1.6)		
07/13/17	D.C. Neu	0.40	Work on declarations regarding return motion (.4)		
07/27/17	D. A. Lentz	0.20	Work on revisions to C. Unwin declaration in support of second motion to return inventory		
07/28/17	D. A. Lentz	0.80	Review and revisions to Unwin and Shear declarations in support of motion to return inventory (.5); review and revisions to motion to return inventory (.3)		
	TC	TAL FEES	13.50 hrs \$ <u>5,371.00</u>		

Invoice # 3428138 2070561 Page 6 of 19

TIMEKEEPER SUMMARY

M.J. Gearin	0.60	hrs at	\$	530.00 / hr		318.00
D. A. Lentz	2.10	hrs at	\$	210.00 / hr		441.00
D.C. Neu	9.40	hrs at	\$	440.00 / hr		4,136.00
B. T. Peterson	1.40	hrs at	\$	340.00 / hr		476.00
	TOTAL FEES		13.5	50 hrs	\$_	5,371.00

MATTER SUMMARY

Fees \$ 5,371.00 MATTER TOTAL \$ 5,371.00

Invoice # 3428138 2070561 Page 7 of 19

Case Administration (70040)

\$1,378.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
07/07/17	M.J. Gearin	1.00	Meet with Trustee regarding multiple case administration matters including sale of assets, return of inventory, collection of purchase price for equipment sale and recovery of missing inventory			
07/11/17	M.J. Gearin	0.60	Communications with Trustee regarding multiple case issues including asset disposition and Hoff settlement discussions			
07/24/17	M.J. Gearin	1.00	Meet with Trustee regarding multiple case issues including purchase offers, Hoff litigation; analysis of fraudulent transfer claim and communications with committee			
		TOTAL FEES	2.60 hrs \$ <u>1,378.00</u>			

TIMEKEEPER SUMMARY

M.J. Gearin	2.60	hrs at	\$	530.00 /	hr hr	1,378.00
	TOTAL FEES		2.60) hrs	;	\$ 1,378.00

MATTER SUMMARY

Fees	\$ <u>1,378.00</u>
MATTER TOTAL	\$ <u>1,378.00</u>

Invoice # 3428138 2070561 Page 8 of 19

Claims, Administration and Objections (70050)

\$176.00

DATE	NAME	HOURS	DESCRIPTION		
07/13/17	D.C. Neu	0.40	Call with J. Gilmore regarding claim		
			reconciliation status (.4); wor regarding return motion (.4)	k on declarations	
		TOTAL FEES	0.40 hrs	\$176.00	
		TIMEKEEP	ER SUMMARY		
D.C. Nou		0.40	hrs at \$ 440.00 / hr	176.00	
D.C. Neu		TOTAL FEES	hrs at \$ 440.00 / hr 0.40 hrs	\$ 176.00 \$ 176.00	
				7	
		MATTER	<u>SUMMARY</u>		
Fees				\$ 176.00	
MATTER T	OTAL			\$ <u>176.00</u>	

Litigation (70100)

\$3,560.00

DATE	NAME	HOURS	DESCRIPTION			
07/18/17	D. A. Lentz	0.90	Telephone call with client and FBI regarding production of trial and deposition exhibits (.1 review of files regarding exhibits (.3); telephone conversations and email exchang with FBI (.3); forward exhibits as found to FB via email (.2)			
07/19/17	D. A. Lentz	0.50	Follow up email exchanges with FBI regar trial exhibits and send additional documen same regarding same			
07/21/17	D.C. Neu	0.60	Call with Trustee regarding discovery issu	es		
07/23/17	B. T. Peterson	2.40	Draft complaint against ARM			
07/24/17	M.J. Gearin	0.70	Review complaint filed by Department of Financial Institutions (.4); email exchange with Trustee regarding same (.3)	S		
07/24/17	M.J. Gearin	0.50	Draft revisions to Parr Industries complain	ıt		
07/24/17	B. T. Peterson	1.20	Draft complaint against ARM for breach of contract			
07/25/17	B. T. Peterson	1.30	Finalize complaint against ARM			
07/28/17	D. A. Lentz	0.60	Review and finalize complaint against ARI Industries for filing with the Court (.3); file complaint with USBC (.3)	M		
07/28/17	B. T. Peterson	0.60	Finalize complaint against ARM			
07/31/17	M.J. Gearin	0.50	Communications with H. Lam re DFI statement of charges			
07/31/17	D. A. Lentz	0.50	Review of summons issued by court in AR Industries case (.1); prepare mailing for service of summons and send for service calendar dates and deadlines listed in summons (.2)			
	ТО	TAL FEES		<u>60.00</u>		
TIMEKEEPER SUMMARY						
M.J. Gearir D. A. Lentz D.C. Neu		1.70 2.50 0.60	hrs at \$ 210.00 / hr 52 hrs at \$ 440.00 / hr 26	01.00 25.00 64.00		
B. T. Peters		5.50 TAL FEES		70.00		
	10	IAL FEES	10.30 hrs \$ <u>3,56</u>	<u> </u>		

Invoice # 3428138 2070561 Page 10 of 19

MATTER SUMMARY

American Express Fraudulent Transfer Action (70107)

\$4,030.50

FEES

DATE	NAME	HOURS	DESCRIPTION			
07/13/17	D.C. Neu	1.60	Continue analysis of payments and correlation to personal uses			
07/13/17	D. C. Wolf	0.20	Discuss case status with D. Neu			
07/14/17	D.C. Neu	1.60	Review protective order (.3); communicate with T. Quinlan regarding status (.1); review discovery status (1.2)			
07/14/17	D. C. Wolf	0.20	Conference with D. Neu regarding status of discovery and next steps			
07/17/17	D. A. Lentz	0.60	Review of stipulated protective order for filing with court and research regarding same (.2); conference with D. Neu (.1); revisions to stipulated protective order and drafting of stipulation for entry of protective order (.2); email drafts to opposing counsel (.1)			
07/17/17	D.C. Neu	1.70	Communicate with T. Quinlan regarding protective order (.2); revisions to same (.3); review unproduced discovery (1)			
07/24/17	L.E. Steidl	0.50	Coordinate and oversee intake and organization of Erdmann subpoena response letter and production files into case database			
07/27/17	D. C. Wolf	0.20	Conference with D. Lentz regarding discovery issues (0.2)			
07/28/17	D.C. Neu	1.40	Revise motion to compel discovery			
07/31/17	D. A. Lentz	1.50	Review and finalize motion to compel, order granting same and declaration in support of motion for filing with Court (.3); prepare numerous exhibits for declaration (.5); draft notice of hearing (.2); file all documents with USBC (.4); calendar dates and deadlines (.1)			
07/31/17	D.C. Neu	1.00 TOTAL FEES	Finalize motion to compel discovery 10.50 hrs \$ 4,030.50			
		TIMEKEEP	ER SUMMARY			
D A 1		0.40	han at the 040,00 / han			
D. A. Lentz D.C. Neu		2.10 7.30	hrs at \$ 210.00 / hr 441.00 hrs at \$ 440.00 / hr 3,212.00			
L.E. Steidl		0.50	hrs at \$ 395.00 / hr 197.50			
D. C. Wolf		0.60	hrs at \$ 300.00 / hr 180.00			
D. O. WOII		TOTAL FEES	10.50 hrs \$ 4,030.50			

Invoice # 3428138 2070561 Page 12 of 19

MATTER SUMMARY

Fees \$ 4,030.50 MATTER TOTAL \$ 4,030.50

Meetings and Communications with Creditors (70110)

\$779.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
07/06/17	D. A. Lentz	0.10	Voicemail from and email to creditor regarding status of case				
07/07/17	D. A. Lentz	0.10	Telephone call with and email to creditor re case				
07/10/17	D.C. Neu	0.40	Call with creditor regarding status (.4)				
07/19/17	D. A. Lentz	0.20	Follow up on voicemails/return calls to creditors regarding status of case (.1); field phone calls from creditors regarding status of case				
07/20/17	D. A. Lentz	0.20	Field phone calls from creditors regarding status of case				
07/28/17	M.J. Gearin	0.30	Communications with Trustee regarding preparations for committee meeting				
07/31/17	M.J. Gearin	0.60	Communications with Trustee in preparation for creditors committee meeting				
		TOTAL FEES	1.90 hrs \$ <u>779.0</u>				
		TIMEKEEP	PER SUMMARY				
M.J. Gearin		0.90	hrs at \$ 530.00 / hr 477.00				
D. A. Lentz		0.60	hrs at \$ 210.00 / hr 126.00				
D.C. Neu		0.40	hrs at \$ 440.00 / hr 176.00				
		TOTAL FEES	1.90 hrs \$				

MATTER SUMMARY

Fees	\$ 779.00
MATTER TOTAL	\$ 779.00

Assumption and Rejection of Leases and Contracts (70150)

\$30,727.50

DATE	NAME	HOURS	DESCRIPTION
07/03/17	C.M. Wyant	2.40	Continue preparing for evidentiary hearing and argument
07/04/17	C.M. Wyant	1.30	Continue preparing for evidentiary hearing
07/05/17	M.J. Gearin	0.30	Consult regarding Dayton lease rejection trial issues
07/05/17	D. A. Lentz	0.50	Updated spreadsheet regarding exhibits for trial in preparation for continued trial
07/05/17	D. A. Lentz	3.80	Attend Hoff lease assumption trial
07/05/17	C.M. Wyant	8.10	Prepare for and attend evidentiary hearing on Hoff lease assumption (7.1); discuss same and next steps with M. Gearin (.2); conference with expert regarding testimony and availability (.8)
07/06/17	C.M. Wyant	0.90	Draft emails to M. Calvert regarding evidentiary hearing and review additional documents for same (.6); update witness outlines (.3)
07/11/17	C.M. Wyant	0.30	Conference regarding potential settlement issues
07/17/17	C.M. Wyant	0.80	Conference with M. Calvert and G. Humphrey (.4); update draft witness outlines (.4)
07/18/17	C.M. Wyant	1.10	Continue additional evidentiary hearing preparation
07/19/17	C.M. Wyant	2.80	Work on supplemental expert report and discuss same with G. Humphrey and M. Calvert (2.2); continue preparing for hearing (.5)
07/20/17	L.E. Steidl	0.10	Coordinate intake and handling of expert photos for review by C. Wyant, conferring with C. Wyant and technical team regarding same
07/20/17	C.M. Wyant	2.20	Finalize supplemental expert report and review photos for same (1.2); continue preparing for hearing (1.0)
07/21/17	C.M. Wyant	2.40	Serve additional expert materials and draft emails regarding same (.7); revise witness outlines for evidentiary hearing (1.2); review transcripts from prior Nevada litigation for use in Hoff examination (.5)
07/24/17	D. A. Lentz	0.70	Work with C. Wyant on finalizing trial prep for 7/25
07/24/17 500664015 v1	C.M. Wyant	4.90	Prepare Mark Calvert for hearing testimony (2.0); revise witness outlines and prepare exhibits (2.6); review notes regarding prior

Invoice # 3428138 2070561 Page 15 of 19

DATE	NAME	HOURS	DESCRIPTION			
			testimony (.3)			
07/25/17	M.J. Gearin	2.50	Meet with Trustee, C. Wyant and D. Lentz			
			regarding Hoff trial matters; plan for			
07/05/47	D A L = ====	0.50	appearance at hearing			
07/25/17 07/25/17	D. A. Lentz	8.50	Attend trial on Hoff lease assumption matter			
07/25/17	D. A. Lentz	2.00	Meet with C. Wyant, M. Gearin, B. Peterson and client regarding trial strategy			
07/25/17	C.M. Wyant	11.50	Prepare for and conduct trial on Hoff lease			
01/25/11	O.IVI. VV yarit	11.00	(9.5); conference and review documents in			
			preparation for next day of trial and closing			
			argument (2.0)			
07/26/17	M.J. Gearin	4.20	Attend evidentiary hearing on Hoff lease			
07/00/47	5 4 1 7	7.00	assumption			
07/26/17	D. A. Lentz	7.00	Attend trial on Hoff lease assumption matter			
07/26/17	C.M. Wyant	8.40	Prepare for and conduct trial on Hoff lease assumption (8.1); conference with M. Gearin			
			and review email from A. Smith regarding			
			exhibits (.3)			
07/27/17	M.J. Gearin	0.50	Follow up discussions with C. Wyant and			
			Trustee regarding potential settlement of Hoff			
			lease issues			
07/27/17	C.M. Wyant	0.70	Conference with M. Gearin regarding hearing			
			and next steps (.4); review and respond to email from A. Smith regarding exhibits (.3)			
		TOTAL FEES	77.90 hrs \$ 30,727.50			
			¥ <u> </u>			
		TIMEKEEP	ER SUMMARY			
M.J. Gearir	1	7.50	hrs at \$ 530.00 / hr 3,975.00			
D. A. Lentz			hrs at \$ 210.00 / hr 4,725.00			
L.E. Steidl		0.10	hrs at \$ 395.00 / hr 39.50			
C.M. Wyan	t	47.80	hrs at \$ 460.00 / hr 21,988.00			
		TOTAL FEES	77.90 hrs \$\frac{30,727.50}{}			
		MATTER	RSUMMARY			
Fees			\$30,727.50			
MATTER T	OTAL		\$ 30,727.50			

Invoice # 3428138 2070561 Page 16 of 19

Reporting (70210)

\$243.00

DATE	NAME	HOURS	DESCRIPTION			
07/21/17	M.J. Gearin	0.30	Revisions to June monthly report			
07/21/17	D. A. Lentz	0.40	Emails regarding monthly financial report and finalizing of same (.2); file monthly financial report with USBC (.2)			
		TOTAL FEES	0.70 hrs	\$ 243.00		
		TIMEKEEP	ER SUMMARY			
M.J. Gearin		0.30	hrs at \$ 530.00 / hr	159.00		
D. A. Lentz		0.40	hrs at \$ 210.00 / hr	84.00		
		TOTAL FEES	0.70 hrs	\$ 243.00		
			SUMMARY			
Fees				\$243.00		
MATTER TO	OTAL			\$ 243.00		

Invoice # 3428138 2070561 Page 17 of 19

Costs (99999) \$3,302.86

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
07/03/17	Travel Expenses - Neu, David - Parking - 2017-06-23 - IMPARK 00250010 - Hearing Parking	15.00
07/04/17	YOM Court Reporting	2,184.50
07/05/17	Long Distance Courier FedEx Charges TR#: 787093645320 INV#: 585907320 INVDT: 20170710 SHIPDT: 20170705 SHNAME: David Neu RCNAME: Thomas Quinlan RCCO: Smith Alling PS	10.90
07/06/17	Westlaw - DCN - 07/05/2017 - 07/06/2017	391.65
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/9 #5 1201 3rd #4000 - RPC-Crook Expert Report w/Ex. Ai George Humphrey Expert Report	29.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/9 #1 841 Central Ave N #C200, Kent - Binder	43.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/6 #1 USBC - Binder of Judge's Copies	8.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/19 #2 USBC - Binder	8.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/29 #2 USBC - Two Exhibit Binders for Hoff Assumption of Lease Trial	29.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/28 #6 1201 3rd #4000 - Trustee's Exhibit Binder	29.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/21 #3 1201 3rd #4000 - Trustee's Exhibit List	29.00
07/12/17	Local Courier - Courier Charges for June 2017 - Halo Messenger Services, LLC - 07012017 - 6/28 #4 USBC - Judges Copies	35.00
07/13/17	Local Courier - 5/30 #4 Out of State Service on The Gold Center Inc. @1231 S 8th St, Springfield, IL - Washington Legal Messengers - 05302017	200.00
07/17/17	Travel Expenses - Wyant, Christopher - Parking - 2017-06-30 - Imperial Parking - attend evidentiary hearing	18.00
07/17/17	Travel Expenses - Wyant, Christopher - Parking - 2017-07-05 - Imperial Parking - attend continued hearing	18.00
07/24/17	Copying Expense	13.20
07/24/17	Westlaw - BTP - 07/24/2017 - 07/24/2017	72.61
07/25/17	Color Copying/Printing	96.00
07/28/17	Copying Expense	42.00
07/28/17	Hearing Audio Transcript	31.00
	DISBURSEMENTS & OTHER CHARGES \$	3,302.86

Invoice # 3428138 2070561 Page 19 of 19

MATTER SUMMARY

Disbursements and Other Charges **MATTER TOTAL**

\$ 3,302.86 \$ 3,302.86

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : September 11, 2017

Invoice Number : 3427455 Services Through : July 31, 2017 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ _____198.86

198.86

CURRENT INVOICE DUE - All Matters

\$ 198.86

500663560 v1

Invoice # 3427455 2070561 Page 2 of 2

\$198.86

DISBURSEMENTS & OTHER CHARGES

	DISBURSEMENTS & OTHER CHARGES				
DATE	DESCRIPTION	AMOUNT			
07/31/17	Ringtail Fees: July 2017 Data Storage Fees: 13.21 GB @ \$15.00/GB:\$198.12	198.12			
07/31/17	7/31/17 ESI Conversion: Convert 0.00660 GB to TIFF images @ \$500/GB: \$0.66. OCR 4 pages @ \$0.02/page: \$0.08				
	DISBURSEMENTS & OTHER CHARGES \$	198.86			
MATTER SUMMARY					
Disbursements and Other Charges \$_					
MATTER TOTAL \$ _					

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577748

Services Through : August 31, 2017

11,302.00

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees \$\frac{11,302.00}{\text{Solution}}\$

Asset Disposition (70020)

Fees \$ 6,564.00

Total Amount Due This Matter \$ 6,564.00

Business Operations (70030)

Fees \$___1,213.00

Total Amount Due This Matter \$ 1,213.00

Case Administration (70040)

Fees \$ 4,017.00

Total Amount Due This Matter \$ 4,017.00

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to <u>Accounts.ReceivableSEA@klqates.com</u> with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577748 2070561 Page 2 of 24

			Page 2 of 24
Fee/Employment Applications (70070)			
Fees Total Amount Due This Matter	\$	1,620.00	\$ 1,620.00
Litigation (70100)			
Fees Total Amount Due This Matter	\$	3,136.50	\$ 3,136.50
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$	8,326.50	\$ 8,326.50
American Express Fraudulent Transfer Action	า (701	07)	
Fees Total Amount Due This Matter	\$	6,118.00	\$ 6,118.00
Trustee v ARM Industries LLC (70108)			
Fees Total Amount Due This Matter	\$	370.00	\$ 370.00
Meetings and Communications with Creditors	s (701	10)	
Fees Total Amount Due This Matter	\$	1,712.00	\$ 1,712.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$	349.00	\$ 349.00
US-TMK: MACO - CL. 14 - 28718361 (70240)			
Fees Total Amount Due This Matter	\$	90.00	\$ 90.00

Invoice # 3577748 2070561 Page 3 of 24

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866
(70250)

Fees	\$ 18.00	
Total Amount Due This Matter		\$ 18.00

Costs (99999)

Disbursements and Other Charges \$ ______ \$ ____ \$ 257.66 **Total Amount Due This Matter** \$ 257.66

CURRENT INVOICE DUE - All Matters \$ 45,093.66

Asset Analysis and Recovery (70010)

\$11,302.00

DATE	NAME	HOURS	DESCRIPTION
08/01/17	D. A. Lentz	0.20	Prepare DFI application for adjudicative hearing to be returned to DFI
08/01/17	D.C. Neu	0.80	Attend hearing on compelling attendance at deposition (.4); communicate with T. Quinlan regarding deposition issues (.4)
08/02/17	D.C. Neu	3.00	Deposition preparation
08/03/17	M.J. Gearin	0.30	Meet with Trustee re download on Erdmann and Hansen depositions and potential recovery actions
08/03/17	D. A. Lentz	0.40	Finalize DFI application for adjudicative hearing and return per instructions (.3); email to DFI (.1)
08/03/17	D.C. Neu	9.20	Prepare for and take depositions of D. Erdmann and R. Hansen in connection with investigation of precious metal sales
08/14/17	D.C. Neu	0.30	Call with T. Quinlan regarding motions for release of funds(.3)
08/14/17	B. T. Peterson	2.90	Draft motion pleadings in support of motion to continue hearing on Diane Erdmann's motion to compel disbursement of funds held by Trustee
08/15/17	D.C. Neu	2.80	Draft and edit motion to continue hearing and related documents (2.3); communicate with T. Quinlan regarding same (.1); coordinate filing (.2)
08/15/17	B. T. Peterson	2.90	Draft motion and supporting pleadings for continuance of Diane Erdmann's motion to compel disbursement of funds held by Trustee
08/16/17	B. T. Peterson	0.40	Draft notice of hearing on motion to continue hearing on Diane Erdmann's motion to compel disbursement of funds held by Trustee
08/17/17	D. A. Lentz	2.00	Document review of lease and storage agreement binders created by NWTM
08/21/17	D. A. Lentz	0.70	Preparation of hearing binder and Judge's working copies for upcoming hearing (.4); prepare proof of service of motion to continue hearing on motion to compel (.2); file proof of service with USBC (.1)

Invoice # 3577748 2070561 Page 5 of 24

DATE	NAME	HOURS	DESCRIPTION
08/22/17	D. A. Lentz	1.40	Continued document review of lease and storage agreement binders created by NWTM
08/22/17	D.C. Neu	2.00	Meeting with client to discuss case status and action plan regarding investigation of metal sales
08/23/17	D. A. Lentz	0.40	Finished document review of lease and storage agreement binders created by NWTM
		TOTAL FEES	29.70 hrs \$ <u>11,302.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.30	hrs at	\$	530.00 / hr	159.00
D. A. Lentz	5.10	hrs at	\$	210.00 / hr	1,071.00
D.C. Neu	18.10	hrs at	\$	440.00 / hr	7,964.00
B. T. Peterson	6.20	hrs at	\$	340.00 / hr	2,108.00
	TOTAL FEES		29.7	70 hrs	\$ 11,302.00

MATTER SUMMARY

Fees \$ \(\frac{11,302.00}{302.00} \)

MATTER TOTAL \$ \(\frac{11,302.00}{302.00} \)

Asset Disposition (70020)

\$6,564.00

DATE	NAME	HOURS	DESCRIPTION
08/01/17	M.J. Gearin	0.50	Multiple calls with trustee regarding potential asset sale
08/01/17	D. A. Lentz	1.60	Continued revisions to declaration of C. Unwin (.2); email exchanges with same re finalized declaration (.2); telephone call with S. McAllister and email to same (.2); review of declaration of M. Colwell and corresponding exhibit (.2); revise Colwell declaration and email for approval (.2); review of declaration of J. Cannady and corresponding exhibit (.3); review of declaration of D. Neu and corresponding exhibit (.3)
08/01/17 08/02/17	D.C. Neu D. A. Lentz	1.00 1.40	Work on motion to return inventory (1.0) Call with S. McAllister (.1); work on finalizing declarations of Neu, Colwell, Cannady and Unwin and corresponding exhibits for filing with Court (.6); review of motion for finalizing (.2); revisions to declaration of E. Robinson (.3); office conference with D. Neu regarding motion, declarations and issues re same (.2);
08/04/17	M.J. Gearin	1.30	Participate in call with M. Calvert, B. Attala, P. Wagner regarding pending case issues and sale negotiations
08/04/17	D. A. Lentz	1.10	Continue to work on second motion to return inventory and supporting documents regarding same
08/07/17	D. A. Lentz	2.50	Finalize all documents regarding second motion to return stored inventory (2.0); file motion and multiple supporting declarations with USBC and send for service as needed (.5)
08/16/17	D. A. Lentz	0.10	Telephone call with creditor regarding stored inventory motion
08/18/17	M.J. Gearin	0.50	Communications with Trustee and B. Atalla regarding asset sale status and issues
08/25/17	D. A. Lentz	0.60	Prepare proof of service re return stored inventory motion (.4); file proof of service with USBC (.2)
08/25/17	D. A. Lentz	0.60	Reply to email from creditor regarding copies of motion to continue hearing on motion to compel release of funds motion (.2); draft of letter to creditor regarding list of all inventory returned in case and list for current motion regarding return of inventory (.4)

DATE	NAME	HOURS	DESCRIPTION					
08/25/17	D.C. Neu	0.60	Review objection to motion to return stored inventory (.4); call with C. Butler regarding same (.2)					
08/28/17	M.J. Gearin	1.50	Draft Declaration of E. Robinson regarding Storage Return					
08/28/17	D. A. Lentz	1.70	Review of response to second motion to return stored inventory (.1), confirm hearing with Court (.1), request binders for M. Gearin and for Judge's working copies (.3); meeting with D. Neu and M. Gearin regarding reply and declaration in support of reply (.3); multiple calls with E. Robinson (.3), begin drafting reply in support of motion (.2); drafting of E. Shear declaration in support of reply (.4)					
08/29/17	M.J. Gearin	1.50	Draft reply to Wongs response on metal return motion; draft supporting declaration of E. Shear					
08/29/17	D. A. Lentz	1.50	Work with team on reply to trustee's second motion to return stored inventory (.5); prepare table with breakdown of metals for declaration of E. Shear (.4); draft of declaration of M. Calvert (.3); file reply and related declarations with USBC and send for service (.3)					
08/29/17	D. A. Lentz	0.10	Email to and from attorney for creditor regarding stored inventory					
08/30/17	M.J. Gearin	0.80	Call and email communications with C. Butler regarding resolution of Wong objection; call and communications with P. Wagner, E. Robinson and Trustee regarding same					
08/31/17	M.J. Gearin	0.40	Call and email exchanges with E. Shea and C. Butler regarding resolution of Wongs					
08/31/17	D. A. Lentz	0.30	objection; preparations for hearing Email exchanges with attorneys for Wongs regarding proposed order (.2); submit order granting second motion to return stored inventory to court for entry by Judge (.1)					
		TOTAL FEES	19.60 hrs \$ <u>6,564.00</u>					
		TIMEKEEP	PER SUMMARY					
M.J. Gearin D. A. Lentz D.C. Neu		6.50 11.50 1.60	hrs at \$ 210.00 / hr 2,415.00					
D.O. 1400		TOTAL FEES	19.60 hrs \$ 6,564.00					

Invoice # 3577748 2070561 Page 8 of 24

MATTER SUMMARY

Fees \$ 6,564.00 **MATTER TOTAL** \$ 6,564.00

MATTER TOTAL

Invoice # 3577748 2070561 Page 9 of 24

Business Operations (70030)

\$1,213.00

DATE	NAME	HOURS	DESC	RIPT	ION		
08/30/17	M.J. Gearin	1.50	confid	Review of correspondence regarding confidentiality and nonsolicitation in relation to			
			with la	abor c	ggs and Medalcra ounsel C. Smith ith B. Atalla and	regardi	ng same
			. , .		unications to Me		
08/30/17	C. C. Smith	1.10	Analy	sis an	d review cease a	ınd des	sist letter,
		TOTAL 5550	reply,		on-disclosure ag		
		TOTAL FEES		2.6	60 hrs	\$_	1,213.00
		TIMEKEEP	ER SUM	<u>IMAR</u>	<u>Y</u>		
M.J. Gearin	l	1.50	hrs at	\$	530.00 / hr		795.00
C. C. Smith		1.10	hrs at	\$	380.00 / hr		418.00
		TOTAL FEES		2.6	60 hrs	\$_	1,213.00
		MATTER	SUMM	<u>IARY</u>			
Fees						\$_	1,213.00

Invoice # 3577748 2070561 Page 10 of 24

Case Administration (70040)

\$4,017.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
08/02/17	M.J. Gearin	0.50	Call with Trustee regarding multiple case issues including pending sale negotiations				
08/22/17	M.J. Gearin	2.10	Meet with Trustee and D. Neu regarding multiple case issues and coordination of same (1.7); follow up email communications with Trustee (.4)				
08/25/17	D. A. Lentz	0.20	Draft letter to Judge regarding request for status conference				
08/28/17	M.J. Gearin	2.10	Review and analysis of monthly financial statement (1.0); prepare for meeting with the trustee regarding status report (1.1).				
08/29/17	M.J. Gearin	2.80	Meet with Trustee regarding multiple case issues including DFI consent order, employed issues, proposed status report, fee applications and status of business				
		TOTAL FEES	7.70 hrs \$ <u>4,017.00</u>				

TIMEKEEPER SUMMARY

M.J. Gearin	7.50	hrs at	\$	530.00 / hi	ſ	3,975.00
D. A. Lentz	0.20	hrs at	\$	210.00 / hi	r	42.00
	TOTAL FEES		7.7	70 hrs	\$	4,017.00

Fees	\$ <u>4,017.00</u>
MATTER TOTAL	\$ <u>4,017.00</u>

Invoice # 3577748 2070561 Page 11 of 24

Fee/Employment Applications (70070)

\$1,620.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
08/24/17	M.J. Gearin	1.20	Call with Trustee and D. Neu regarding need to file fee applications and potential status report				
08/30/17	M.J. Gearin	1.50	Review of billing statements in connection with preparation of fee applications(1.0); meet with D. Lentz re fee application preparation (0.5)				
08/30/17	D. A. Lentz	0.90	Begin drafting application for compensation and declaration of M. Gearin in support of application for compensation				
		TOTAL FEES	3.60 hrs \$1,620.00				

TIMEKEEPER SUMMARY

M.J. Gearin	2.70	hrs at	\$	530.00 /	hr	1,431.00
D. A. Lentz	0.90	hrs at	\$	210.00 /	hr	189.00
	TOTAL FEES		3.6	0 hrs	\$_	1,620.00

Fees	\$ <u>1,620.00</u>
MATTER TOTAL	\$ <u>1,620.00</u>

Invoice # 3577748 2070561 Page 12 of 24

Litigation (70100)

\$3,136.50

DATE	NAME	HOURS	DESCRIPTION				
08/02/17	M.J. Gearin	0.30	Call with H. Lam regarding DFI statement of charges (.2); draft notice of request for hearing (.1)				
08/03/17	M.J. Gearin	0.60	Review proposed DFI consent decree and analysis of same				
08/04/17	M.J. Gearin	0.70	Revisions to proposed consent decree with DFI				
08/07/17	M.J. Gearin	1.00	Revisions to draft consent decree with DFI				
08/07/17	K. R. Slavik	0.70	Process, organize, stage, and load BR 2004 Exam documents and metadata into Calvert NW BKRPT Ringtail database as requested by L. Steidl				
08/08/17	M.J. Gearin	1.10	Revisions to proposed consent decree with DFI (.7); review and analysis of Commodity Transactions Act (.4)				
08/14/17	M.J. Gearin	0.40	Communications with H. Lam regarding DFI consent decree; (.2) review materials provided by H. Lam regarding shipment delays (.2)				
08/23/17	D. A. Lentz	0.50	Review of NWTM files to gather all testimony of R. Hansen and D. Erdmann				
08/24/17	M.J. Gearin	0.50	Call with B. Werner of the US attorneys office				
08/24/17	M.J. Gearin	0.40	Communications with H. Lam regarding DFI consent order (.2); revisions to same (.2)				
08/24/17	D. A. Lentz	1.50	Emails to and from attorneys regarding documents containing testimony of R. Hansen and D. Erdmann (.2); continued review of NWTM files to gather all testimony of R. Hansen and D. Erdmann (1.3)				
		TOTAL FEES	7.70 hrs \$ 3,136.50				
	TIMEKEEPER SUMMARY						
M.J. Gearin	1	5.00	hrs at \$ 530.00 / hr 2,650.00				
D. A. Lentz			hrs at \$ 210.00 / hr 420.00				
K. R. Slavik	(0.70	hrs at \$ 95.00 / hr 66.50				
		TOTAL FEES	7.70 hrs \$\frac{3,136.50}{}				

Invoice # 3577748 2070561 Page 13 of 24

MATTER SUMMARY

Fees \$ 3,136.50 MATTER TOTAL \$ 3,136.50

Trustee v Diane Erdmann (70102)

\$8,326.50

DATE	NAME	HOURS	DESCRIPTION
08/01/17	L.E. Steidl	0.20	Review and organize client files in preparation for production
08/01/17	D. C. Wolf	0.10	Phone call with D. Neu regarding document productions (0.1)
08/02/17	L.E. Steidl	1.50	Coordinate and oversee final review and organization of confidential client files in preparation for production, compiling detailed instructions for technical and litigation support teams related to same
08/02/17	D. C. Wolf	0.30	Analyze status of document collection and email L. Steidl regarding additional production of documents (0.3)
08/03/17	D. A. Lentz	0.30	Deposition preparation with D. Neu
08/03/17	L.E. Steidl	1.70	Review and organize client confidential files in preparation for production, supervising and assisting in preparation, export, QC, and transfer of production images and data, conferring with D. Wolf and D. Neu regarding same
08/03/17	D. C. Wolf	0.10	Email correspondence with L. Steidl regarding document production (0.1)
08/04/17	K. R. Slavik	0.70	Analyze documents confirming compliance with NWTM ERD 002 document production specifications
08/04/17	D. C. Wolf	0.20	Email document production to opposing counsel (0.2)
08/11/17	D. A. Lentz	0.60	Review of motion to compel disbursement of funds (.1); work on exhibit to J. Gilmore declaration for writ of attachment (.4); calendar dates and deadlines for motion to compel release and disbursal of funds (.1)
08/11/17	D. A. Lentz	0.20	Review of counter-motion filed by D. Erdmann and calendar dates and deadlines regarding same
08/11/17	L.E. Steidl	0.10	Provide information to D. Lentz regarding organization of Erdmann production materials within case database
08/14/17	D.C. Neu	0.40	Revise motion for writ of attachment (.4)
08/16/17	D. A. Lentz	0.60	Review of order granting motion to shorten time on motion to continue hearing and calendar dates (.1); draft of notice of hearing on motion to continue motion to compel (.3); file notice of hearing with USBC and send for

DATE	NAME	HOURS	DESCRIPTION
			service (.2)
08/16/17	D.C. Neu	0.40	Review data regarding transfers (.4)
08/16/17	L.E. Steidl	0.30	Review client hard copy collection binders to
			assess contents to determine parameters and
			coding required for imaging of same
08/16/17	D. C. Wolf	0.50	Conference with D. Neu regarding status of
			document production and email L. Steidl
			regarding next steps with same (0.5)
08/17/17	D. A. Lentz	0.30	Finalize and file response to motion for
00,,	21711 201112	0.00	protective order with USBC
08/17/17	D.C. Neu	3.30	Draft objection to motion for protective order
08/17/17	B. T. Peterson	0.60	Review and edit response to motion for
00/17/17	D. T. Feleison	0.00	protective order
08/17/17	L.E. Steidl	0.50	Compile instructions for vendor for imaging of
06/17/17	L.E. Stelui	0.50	client hard copy collections, and procure
			estimate for services related to same
08/17/17	D. C. Wolf	0.10	
06/17/17	D. C. WOII	0.10	Phone call and email correspondence with D.
00/40/47	D. A. Lainte	0.50	Neu regarding discovery motion
08/18/17	D. A. Lentz	0.50	Confirm two hearings scheduled on adversary
			calendar (.1); review of dockets from
			bankruptcy case and adversary case
			regarding hearing notebooks and Judge's
			copies to be prepared (.3); conference with D.
00/40/47	D.O. Navi	4.00	Neu regarding same (.1)
08/18/17	D.C. Neu	1.30	Review discovery responses
08/18/17	L.E. Steidl	0.10	Communicate with vendor regarding imaging
00/10/1=	D 0 14/4		of client hard copy collections
08/18/17	D. C. Wolf	0.20	Conference with D. Neu regarding discovery
			motions
08/21/17	D. A. Lentz	0.60	Review and finalize reply in support of motion
			to compel for filing with USBC (.1); draft of
			declaration of D. Neu in support of reply and
			create exhibits to same (.3); file documents
			with USBC (.2)
08/21/17	D. A. Lentz	0.40	Preparation of hearing binder and Judge's
			working copies for upcoming hearing
08/21/17	D.C. Neu	1.60	Draft reply to motion to compel discovery
08/21/17	B. T. Peterson	0.60	Research related to discovery dispute with D.
			Erdmann
08/24/17	D. A. Lentz	0.30	Meet with D. Neu and M. Gearin after hearing
			on motion to continue motion (.1); revise order
			for filing (.2)
08/24/17	D.C. Neu	3.80	Prepare for and attend hearings on motion to
			compel release of funds and discovery
			motions (1.9); meeting with M. Gearin and
			client to discuss issues arising from same (2)
08/28/17	D. A. Lentz	0.40	Finalize order on motion to continue hearing
			Q

Invoice # 3577748 2070561 Page 16 of 24

DATE	NAME	HOURS	DESC	RIPT	ION			
			and send to T. Quinlan for approval (.2);					
				upload order for entry with Court (.1); review of order entered and calendar new dates (.1)				
08/28/17	D. C. Wolf	0.10				` '		
00/20/17	D. C. WOII	0.10			∟entz's email rega ontents (0.1)	irding her review		
		TOTAL FEES	OI DIII		90 hrs	\$ 8,326.50		
						·		
		TIMEVEED	ED CIIN	лал а 🗅	v			
		TIMEKEEP	EK SUN	IIVIAN	<u> </u>			
D. A. Lentz		4.20	hrs at	\$	210.00 / hr	882.00		
D.C. Neu		10.80	hrs at	\$	440.00 / hr	4,752.00		
B. T. Peters	son	1.20	hrs at	\$	340.00 / hr	408.00		
K. R. Slavik		0.70	hrs at	\$	95.00 / hr	66.50		
L.E. Steidl		4.40	hrs at	\$	395.00 / hr	1,738.00		
D. C. Wolf		1.60	hrs at	\$	300.00 / hr	480.00		
		TOTAL FEES		22.9	90 hrs	\$ <u>8,326.50</u>		
		MATTER	R SUMM	<u>ARY</u>				
Fees						\$ 8,326.50		
MATTER T	OTAL					\$ 8,326.50		

American Express Fraudulent Transfer Action (70107)

\$6,118.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
08/11/17	D.C. Neu	3.90	Revise motion for preliminary writ of attachment			
08/11/17	B. T. Peterson	1.00	Analyze issues related to motion for writ of attachment			
08/13/17	B. T. Peterson	0.50	Research case law in support of writ of attachment			
08/24/17	B. T. Peterson	0.10	Email regarding writ of garnishment			
08/25/17	B. T. Peterson	0.30	Analyze issues related to motion for writ of attachment			
08/28/17	B. T. Peterson	4.10	Draft motion for writ of attachment			
08/29/17	B. T. Peterson	1.90	Meeting with client regarding motion for writ of attachment			
08/30/17	D. A. Lentz	0.40	Begin drafting declaration of M. Calvert in support of writ of attachment and proposed order re same			
08/30/17	B. T. Peterson	1.50	Draft declaration of M. Calvert in support of writ of attachment motion			
08/31/17	B. T. Peterson	3.30	Draft pleadings in support of motion for writ of attachment			
	TOTAL	. FEES	17.00 hrs \$ <u>6,118.00</u>			

TIMEKEEPER SUMMARY

D. A. Lentz	0.40	hrs at	\$	210.00 / hr	84.00
D.C. Neu	3.90	hrs at	\$	440.00 / hr	1,716.00
B. T. Peterson	12.70	hrs at	\$	340.00 / hr	4,318.00
	TOTAL FEES		17.0	00 hrs	\$ 6,118.00

MATTER SUMMARY

Fees \$ 6,118.00 **MATTER TOTAL** \$ 6,118.00

Invoice # 3577748 2070561 Page 18 of 24

Trustee v ARM Industries LLC (70108)

\$370.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
08/01/17	B. T. Petersor	0.10	Draft email to defendant ARM regarding adversary proceeding		
08/02/17	D. A. Lentz	0.50	Prepare proof of service of summons and complaint (.3); file proof of service with USBC (.2)		
08/18/17	D. A. Lentz	0.10	Review of returned mail regarding service of complaint against ARM Industries		
08/31/17	D. A. Lentz	1.00	Draft motion for default judgment (.8); review of answer to complaint and mediation certification filed by ARM Industries (.2);		
		TOTAL FEES	1.70 hrs \$ <u>370.00</u>		

TIMEKEEPER SUMMARY

D. A. Lentz	1.60	hrs at	\$	210.00 / hr	336.00
B. T. Peterson	0.10	hrs at	\$	340.00 / hr	34.00
	TOTAL FEES		1.7	70 hrs	\$ 370.00

Fees	\$ 370.00
MATTER TOTAL	\$ <u>370.00</u>

Meetings and Communications with Creditors (70110)

\$1,712.00

DATE	NAME	HOURS	DESCRIPTION					
08/01/17	M.J. Gearin	1.50	Participate in creditors committee call					
08/01/17	D. A. Lentz	0.70	Follow up on numerous voicemails, emails telephone calls with creditors regarding status of case					
08/02/17	D. A. Lentz	0.10	Field phone call with creditor regarding status of case					
08/07/17	D. A. Lentz	0.10	Field voice mail and email to creditor					
08/10/17	D. A. Lentz	0.30	Telephone call with creditor re status and re change of address (.1); review of mail received from two creditors regarding status of case (.1); drafting of response to one creditor regarding status of case (.1)					
08/14/17	M.J. Gearin	0.70	Update calls with B. Atalla and M. Northrup regarding status of sale negotiations					
08/16/17	D. A. Lentz	0.20	Field calls from creditors regarding status of case					
08/17/17	D. A. Lentz	0.10	Field phone calls with creditors regarding status of case					
08/22/17	D. A. Lentz	0.20	Return numerous phone calls to creditors regarding status of case					
08/25/17	D. A. Lentz	0.20	Field phone calls, voice mails and emails from creditors regarding status of case					
08/31/17	D. A. Lentz	0.40	Draft of letter to O. Cottle, creditor who filed a status request with the court					
08/31/17	D. A. Lentz	0.30	Return multiple voicemails from creditors regarding status of case					
		TOTAL FEES	4.80 hrs \$ <u>1,712.00</u>					
		TIMEKEEP	ER SUMMARY					
M.J. Gearin	1	2 20	hrs at \$ 530.00 / hr 1,166.00					
D. A. Lentz	1	2.60	hrs at \$ 210.00 / hr 546.00					
,		TOTAL FEES	4 80 hrs \$ 1 712 00					

	TOTAL FEES		4.80) hrs	\$_	1,712.00
D. A. Lentz	2.60	hrs at	\$	210.00 / hr		546.00
M.J. Gearin	2.20	nrs at	\$	530.00 / nr		1,166.00

Invoice # 3577748 2070561 Page 20 of 24

MATTER SUMMARY

Fees \$ 1,712.00 MATTER TOTAL \$ 1,712.00

Invoice # 3577748 2070561 Page 21 of 24

Reporting (70210)

MATTER TOTAL

\$349.00

DATE	NAME	HOURS	DESCRIPTION				
08/16/17	M.J. Gearin	0.50	Review and provide revisions to monthly report				
08/16/17	D. A. Lentz	0.40	Review of email from J. Cannady regarding monthly financial report (.1); pull motion and order for M. Gearin regarding sale of equipment (.1); review of final monthly report for filing with Court and file with USBC (.2)				
		TOTAL FEES	0.90 hrs \$ <u>349.0</u>				
		TIMEKEEP	PER SUMMARY				
M.J. Gearin	l	0.50	hrs at \$ 530.00 / hr 265.0				
D. A. Lentz		0.40 TOTAL FEES	hrs at \$ 210.00 / hr 84.0 0.90 hrs \$ 349.0				
			, <u> </u>				
		MATTER	RSUMMARY				
Fees			\$ 349.0				

Invoice # 3577748 2070561 Page 22 of 24

US-TMK: N	IACO - CL. 14 - 28718	361 (70240)		\$90.00	
US Serial N	o.: 87218361				
		FEES	•		
DATE 08/09/17	P. K. Jacobson TOTA	· ·	SCRIPTION porting email to client 0.20 hrs	\$90.00	
		TIMEKEEPER S	<u>SUMMARY</u>		
P. K. Jacob		0.20 hrs a L FEES	at \$ 450.00 / hr 0.20 hrs	\$ <u>90.00</u>	
MATTER SUMMARY					
Fees MATTER TO	OTAL			\$ 90.00 \$ 90.00	

Invoice # 3577748 2070561 Page 23 of 24

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)	\$18.00

US Serial No.: 87216866

MATTER TOTAL

<u>FEES</u>						
DATE 08/02/17	NAME K. P. Wing	HOURS 0.10 TOTAL FEES	DESCRIPTION Create K&L Gates status repand abandoned U.S. trademoned U.S. tra	_		
K. P. Wing			ER SUMMARY hrs at \$ 180.00 / hr 0.10 hrs	18.00 \$ 18.00		
		MATTER	SUMMARY			
Fees				\$18.00		

Costs (99999) \$257.66

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
08/01/17	Other - TransUnion Risk and Alternative Data Solutions, Inc 07012017 - transunion june 2017	85.00
08/04/17	Local Courier - Courier Charges for July 2017 - Halo Messenger Services, LLC - 07312017 - 7/5 #1 1201 3rd #2200 - Letter, Notice of Subpoena, Subpoenas	7.00
08/04/17	Local Courier - Courier Charges for July 2017 - Halo Messenger Services, LLC - 07312017 - 7/7 #1 USBC - Hearing Transcript- CD Rom for Northwest Territorial Mint, LLC - Bankruptcy	8.00
08/04/17	Local Courier - Courier Charges for July 2017 - Halo Messenger Services, LLC - 07312017 - 7/21 #4 1201 3rd #4000 - Supplemental Expert Report of G. Humphrey W/ Photos	8.00
08/07/17	Copying Expense	32.00
08/07/17	Travel Expenses - Gearin, Michael - Parking - 2017-07-26 - IMPARK 00250010 - 7 26 Trial Parking	18.00
08/07/17	Travel Expenses - Wyant, Christopher - Parking - 2017-07-25 - Imperial Parking - Attend Trial Continuation	18.00
08/07/17	Travel Expenses - Wyant, Christopher - Parking - 2017-07-26 - Imperial Parking - Attend Trial Continuation	18.00
08/16/17	Postage	34.46
08/16/17	Copying Expense	29.20
	DISBURSEMENTS & OTHER CHARGES \$ _	257.66

Disbursements and Other Charges	\$ _	<u> 257.66</u>
MATTER TOTAL	\$	257.66

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577752

Services Through: September 30, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Asset Disposition (70020)

Fees \$<u>1,006.00</u>

Total Amount Due This Matter \$ 1,006.00

Business Operations (70030)

Fees \$ 3,594.00

Total Amount Due This Matter \$ 3,594.00

Case Administration (70040)

Fees \$ 10,269.00

Total Amount Due This Matter \$ 10,269.00

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

		INVOIC	2070561 Page 2 of 20
Fee/Employment Applications (70070)			
Fees Total Amount Due This Matter	\$ 29,124.00	\$	29,124.00
Litigation (70100)			
Fees Total Amount Due This Matter	\$ <u>1,313.00</u>	\$	1,313.00
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$9,214.00_	\$	9,214.00
American Express Fraudulent Transfer Action	on (70107)		
Fees Total Amount Due This Matter	\$2,512.00_	\$	2,512.00
Trustee v ARM Industries LLC (70108)			
Fees Total Amount Due This Matter	\$ 2,256.00	\$	2,256.00
Meetings and Communications with Credito	rs (70110)		
Fees Total Amount Due This Matter	\$ <u>784.00</u>	\$	784.00
Assumption and Rejection of Leases and Co	ontracts (70150)		
Fees Total Amount Due This Matter	\$2,213.00_	\$	2,213.00
Avoidance Action Analysis (70160)			
Fees Total Amount Due This Matter	\$ <u>136.00</u>	\$	136.00

Invoice # 3577752

Invoice # 3577752 2070561 Page 3 of 20

Reporting (70210)

Costs (99999)

Disbursements and Other Charges \$ 1,763.82

Total Amount Due This Matter \$ 1,763.82

CURRENT INVOICE DUE - All Matters \$ 65,186.82

Invoice # 3577752 2070561 Page 4 of 20

Asset Analysis and Recovery (70010)

\$684.00

DATE	NAME	HOURS	DESCRIPTION	
09/06/17	B. T. Peterson	0.20	Draft email to counsel for judgment creditor	
09/21/17	D.C. Neu	1.40	regarding financial disclosures Work on analysis of coin sales made by D. Erdmann	
	TC	OTAL FEES	1.60 hrs \$ <u>684.0</u>	00
		TIMEKEEP	ER SUMMARY	
D.C. Neu		1.40	hrs at \$ 440.00 / hr 616.0	00
B. T. Peters		0.20 OTAL FEES	hrs at \$ 340.00 / hr 68.0 1.60 hrs \$ 684.0	
		MATTER	SUMMARY	
Fees			\$ 684.0	
MATTER T	OTAL		\$ <u>684.0</u>	<u>)0</u>

Invoice # 3577752 2070561 Page 5 of 20

Asset Disposition (70020)

\$1,006.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/06/17	M.J. Gearin	0.30	Communications re return of Pehl inventory; review Pehl lease agreement
09/06/17	D. A. Lentz	0.90	Conference with M. Gearin regarding shipments to customers per order on second motion to return stored inventory (.2); review documents regarding each party under order (.3); draft of acknowledgement of return of buillion for Wongs (.4)
09/06/17	D.C. Neu	1.40	Meeting to discuss sales efforts and case status
09/27/17	D. A. Lentz	0.20	Email to and from E. Robinson regarding status of stored inventory return
		TOTAL FEES	2.80 hrs \$1,006.00

TIMEKEEPER SUMMARY

M.J. Gearin	0.30	hrs at	\$	530.00 / h	ır	159.00
D. A. Lentz	1.10	hrs at	\$	210.00 / h	ır	231.00
D.C. Neu	1.40	hrs at	\$	440.00 / h	ır	616.00
	TOTAL FEES		2.8	0 hrs	\$_	1,006.00

Fees	\$ <u>1,006.00</u>
MATTER TOTAL	\$ <u>1,006.00</u>

Invoice # 3577752 2070561 Page 6 of 20

Business Operations (70030)

\$3,594.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/01/17	M.J. Gearin	0.50	Communications regarding draft of cease and desist letter to Medalcraft regarding S. Skaggs issues
09/01/17	C. C. Smith	1.30	Begin drafting cease and desist letter
09/04/17	C. C. Smith	1.20	Continue drafting cease and desist letter
09/05/17	M.J. Gearin	2.20	Communications with P. Wagner and B. Atalla regarding S. Skaggs issues (.5); review and revise letter to Medalcraft regarding breach of NDA (.7); review of draft Atalla letter to customers (1.0)
09/05/17	C. C. Smith	0.90	Continue drafting cease and desist letter (.6); review letter to clients (.3)
09/06/17	M.J. Gearin	1.50	Revisions to cease and desist letter to Medalcraft (.6); revisions to customer letter from B. Atalla (.5); email exchanges with B. Atalla and trustee regarding Medalcraft issues (.4)
09/06/17	C. C. Smith	0.20	Edit client letter and confer with M. Gearin regarding same and cease and desist letter
		TOTAL FEES	7.80 hrs \$ <u>3,594.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin			•	530.00 / h		2,226.00
C. C. Smith	3.60	nrs at	\$	380.00 / h	r	1,368.00
	TOTAL FEES		7.80) hrs	\$	3,594.00

Fees	\$ <u>3,594.00</u>
MATTER TOTAL	\$ <u>3,594.00</u>

Invoice # 3577752 2070561 Page 7 of 20

Case Administration (70040)

\$10,269.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/18/17	M.J. Gearin	1.50	Call with Trustee (0.4) draft Trustee's Report of Investigation (1.1)
09/19/17	M.J. Gearin	1.10	Draft Trustee's report of investigation
09/20/17	M.J. Gearin	2.50	Draft Trustee's report of investigation
09/21/17	M.J. Gearin	3.10	Draft report of investigation and status report
09/21/17	D. A. Lentz	0.50	Begin reviewing every transcript of D. Erdmann regarding information for upcoming status report
09/22/17	M.J. Gearin	1.50	Draft Trustee's report of investigation and status report
09/22/17	D. A. Lentz	0.70	Finish reviewing every transcript of D. Erdmann regarding information for upcoming status report
09/25/17	M.J. Gearin	2.40	Draft Trustee's Report of Investigation
09/26/17	M.J. Gearin	0.50	Calls with Trustee regarding multiple case administration issues including ARM status, Erdmann mediation Cohen settlement proposal and cash flow management
09/27/17	M.J. Gearin	3.50	Draft Trustee's report of investigation
09/28/17	M.J. Gearin	2.80	Call with M. Calvert regarding case issues including trustee's report (.6); continued draft of report of investigation(2.2)
		TOTAL FEES	20.10 hrs \$ <u>10,269.00</u>
		TIMEKEEP	ER SUMMARY
M.J. Gearin D. A. Lentz		18.90 1.20 TOTAL FEES	hrs at \$ 530.00 / hr 10,017.00 hrs at \$ 210.00 / hr 252.00 20.10 hrs \$ 10,269.00

MATTER SUMMARY

Fees \$ 10,269.00 MATTER TOTAL \$ 10,269.00

Fee/Employment Applications (70070)

\$29,124.00

DATE	NAME	HOURS	DESCRIPTION
09/05/17	D. A. Lentz	0.40	Continue to work on fee application
09/06/17	M.J. Gearin	1.10	Work on fee applications
09/07/17	M.J. Gearin	2.40	Work on fee application for Trustee and Cascade Capital
09/08/17	M.J. Gearin	3.90	Work on fee applications (1.5); meet with M. Calvert regarding draft of supporting documents for same (2.4)
09/08/17	D. A. Lentz	0.40	Draft notice of hearing on fee applications
09/08/17	B. T. Peterson	0.30	Conference with M. Gearin regarding fee application preparation
09/10/17	B. T. Peterson	0.10	Review correspondence regarding preparation of fee applications
09/11/17	M.J. Gearin	3.50	Draft fee application materials for K&L Gates
09/11/17	D. A. Lentz	0.50	Initial drafting of fee applications for Cascade Capital and for Trustee (.3); initial drafting of declarations in support of same (.2)
09/11/17	B. T. Peterson	8.10	Draft fee applications for Trustee and Cascade Capital
09/12/17	M.J. Gearin	4.10	Draft pleadings on fee application of K&L Gates(3.0); revisions to application of Trustee and Cascade Capital (1.1)
09/12/17	D. A. Lentz	2.30	Work with B. Peterson and M. Gearin on applications for compensation and reimbursement of expenses and corresponding declarations (1.4); finalize notice of hearing for service on special notice list and send for service (.9)
09/12/17	D.C. Neu	0.90	Review fees
09/12/17	B. T. Peterson	5.90	Draft fee applications for Trustee and Cascade Capital
09/12/17	B. T. Peterson	1.00	Review summary materials supporting fee applications for Trustee's professionals
09/13/17	M.J. Gearin	2.50	Draft fee applications
09/13/17	D. A. Lentz	0.50	Revisions to trustee application for compensation
09/13/17	B. T. Peterson	1.70	Draft employment applications for Trustee and Cascade Capital
09/14/17	M.J. Gearin	3.30	Draft fee applications
09/14/17	D.C. Neu	2.90	Review time entries for fee applications (229)
09/14/17	B. T. Peterson	0.80	Review invoices in connection with preparation of Trustee's fee application
09/14/17	B. T. Peterson	3.20	Draft application and supporting declarations for fee applications of Cascade Capital Group,

DATE	NAME	HOURS	DESCRIPTION
-			LLC and Trustee
09/15/17	M.J. Gearin	6.20	Revisions to Trustee's fee application (0.9); call with M. Northrup regarding committee fee application (0.2); draft and finalize K&L fee application and coordinate filing of same (5.1)
09/15/17	D. A. Lentz	3.80	Meet with M. Gearin, B. Peterson and B. Gould re status of fee application and distribution of work on same (.2); revise/draft application to include narratives (1.0); finalize documents regarding declaration in support of Trustee's application for fees and declaration in support of Cascade's application for fees and exhibits to same (.4); finalize preparation of exhibits to same (.4) draft of orders for each fee application (.5); file application for compensation for Trustee and for Cascade Capital with USBC and corresponding declarations (.4); finalize application for compensation for K&L Gates, declaration re same and large exhibit for filing with USBC (.6); file application and corresponding declaration for K&L Gates with USBC (.3)
09/15/17	D.C. Neu	3.30	Review fee applications (1); draft and edit narratives (1.3)
09/15/17	B. T. Peterson	5.70	Draft pleadings in support of fee applications of Trustee and Cascade Capital Group, LLC
09/18/17	D. A. Lentz	0.30	Send amended notice of hearing on applications for compensation for service to special notice list
09/21/17	D. A. Lentz	0.40	Prepare hearing binder re applications for compensation for M. Gearin
09/22/17	M.J. Gearin	0.50	Meet with M. Smith of UST offices regarding pending fee applications and case status
09/22/17	D. A. Lentz	0.30	Draft proof of service on notice of fee applications
09/22/17	D. A. Lentz	0.30	Telephone call with Judge's chambers regarding request to send Judge's working copies early on fee applications (.1); request working copy be produced and forward same to Judge's chambers (.2)
09/27/17	D. A. Lentz	0.30	Finalize proof of service and file with USBC
09/29/17	M.J. Gearin	0.60	Review creditors committee response to fee application (.4); email exchanges with Trustee regarding same (.2) 71.50 hrs \$ 29,124.00

Invoice # 3577752 2070561 Page 10 of 20

TIMEKEEPER SUMMARY

M.J. Gearin	28.10	hrs at	\$	530.00 / hr		14,893.00
D. A. Lentz	9.50	hrs at	\$	210.00 / hr		1,995.00
D.C. Neu	7.10	hrs at	\$	440.00 / hr		3,124.00
B. T. Peterson	26.80	hrs at	\$	340.00 / hr		9,112.00
	TOTAL FEES	TOTAL FEES		71.50 hrs		29,124.00

MATTER SUMMARY

Invoice # 3577752 2070561 Page 11 of 20

Litigation (70100)

\$1,313.00

DATE	NAME	HOURS	DESCRIPTION				
09/14/17	D. A. Lentz	0.70	Work to gather documents in subpoena from DOJ regarding R. Hansen, D. Erdmann and M. Parish				
09/22/17	M.J. Gearin	2.20	Attend hearings on Erdmann matters in anticipation of questions from Court on case status				
		TOTAL FEES	2.90 hrs	\$1,313.00			
		TIMEKEEP	ER SUMMARY				
M.J. Gearin D. A. Lentz	1	2.20 0.70 TOTAL FEES	hrs at \$ 530.00 / hr hrs at \$ 210.00 / hr 2.90 hrs	1,166.00 147.00 \$ 1,313.00			
MATTER SUMMARY							
Fees MATTER T	OTAL			\$ <u>1,313.00</u> \$ <u>1,313.00</u>			

Trustee v Diane Erdmann (70102)

\$9,214.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/01/17	B. T. Peterso	n 2.90	Draft and revise pleadings in support of
			motion for prejudgment writ of attachment
09/18/17	D.C. Neu	0.90	Review and analyze reply
09/19/17	D.C. Neu	4.70	Draft and edit reply brief (3.8) communicate with client regarding same (.2); revise same (.7)
09/21/17	D.C. Neu	2.30	Review cases in preparation for hearing (.7); outline argument and hearing prep (1.5)
09/22/17	D.C. Neu	5.70	Prepare for hearing on motions (2); attend hearings on same (2.6); consult with client regarding next steps (1)
09/25/17	D.C. Neu	2.10	Draft orders on Motion for Protective Order, Motion to Compel, and directing mediation
09/27/17	D.C. Neu	1.10	Read materials from mediator (.4); begin working on submission (.8)
09/28/17	D.C. Neu	1.90	Communicate with T. Quinlan regarding payment (.2); work on mediation materials (1.5)
		TOTAL FEES	21.60 hrs \$ <u>9,214.00</u>

TIMEKEEPER SUMMARY

D.C. Neu	18.70	hrs at	\$	440.00 /	hr	8,228.00
B. T. Peterson	2.90	hrs at	\$	340.00 /	hr	986.00
	TOTAL FEES		21.6	60 hrs	\$ _	9,214.00

Fees	\$ 9,214.00
MATTER TOTAL	\$ 9,214.00

American Express Fraudulent Transfer Action (70107)

\$2,512.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/01/17	M.J. Gearin	1.00	Revisions to pleadings on motion for writ of attachment
09/01/17	D. A. Lentz	2.00	Work on writ of attachment and corresponding declarations including preparation of exhibits (.9); drafting of notice of hearing (.3); finalize all documents for filing with the Court (.4); file motion and corresponding documents with USBC (.4)
09/01/17	D.C. Neu	1.90	Review, revise and edit motion for writ of attachment
09/11/17	D.C. Neu	0.60	Review pleadings filed in support of motion for writ of attachment (.4); review data supporting same (.3)
09/15/17	D. A. Lentz	0.20	Review of response to trustee's motion for pre-judgment writ of attachment and forward same to client (.1); file notice of intent to argue with USBC (.1)
09/18/17	D. A. Lentz	0.90	Finalize statutory notice re Motion for Prejudgment Writ of Attachment for service on defendant (.4); prepare multiple attachments to notice (.5)
09/19/17	D. A. Lentz	0.50	Finalize reply to motion for writ of attachment for filing with Court and prepare Exhibit regarding same (.3); file reply with USBC (.2)
09/20/17	D. A. Lentz	0.30	Finalize judge's binder and attorney's binder for hearing on motion for writ of attachment (.2); send binder to Judge's chambers (.1)
09/25/17	D. A. Lentz	0.30	Email from D. Neu regarding multiple orders to upload (.1); upload orders (.1); voicemail to Judge's chambers regarding order compelling mediation and what docket entry to link to (.1)
		TOTAL FEES	7.70 hrs \$\frac{2,512.00}{2}

TIMEKEEPER SUMMARY

M.J. Gearin		hrs at		530.00 / hr		530.00
D. A. Lentz	4.20	hrs at	\$	210.00 / hr		882.00
D.C. Neu	2.50	hrs at	\$	440.00 / hr		1,100.00
	TOTAL FEES		7.7	0 hrs	\$_	2,512.00

Invoice # 3577752 2070561 Page 14 of 20

MATTER SUMMARY

Fees \$ $\frac{2,512.00}{4}$ **MATTER TOTAL** \$ $\frac{2,512.00}{4}$

Trustee v ARM Industries LLC (70108)

\$2,256.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/05/17	B. T. Peterson	1.90	Research and draft letter to ARM regarding answer to complaint
09/13/17	B. T. Peterson	0.60	Draft initial disclosures for ARM adversary proceeding
09/14/17	D. A. Lentz	0.40	Finalize initial disclosures in Calvert vs. Arm Industries and send same for service
09/14/17	B. T. Peterson	1.00	Draft motion for default against ARM
09/14/17	B. T. Peterson	0.60	Draft motion for default
09/18/17	D. A. Lentz	1.30	Draft order granting trustee's motion for entry of default, declaration in support of motion and notice of hearing on motion regarding Calvert vs. ARM Industries (.8); finalize documents for filing with USBC (.2); file with USBC and send for service (.3)
09/18/17	B. T. Peterson	1.00	Draft pleadings in support of motion for default
09/28/17	D. A. Lentz	0.30	Prepare and file mediation certification in Calvert vs. Arm Industries adversary proceeding
09/28/17	B. T. Peterson	0.30	Discuss ARM suit with M. Gearin
	TOTAL	FEES	7.40 hrs \$ <u>2,256.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	2.00	hrs at	\$	210.00 / hr	420.00
B. T. Peterson	5.40	hrs at	\$	340.00 / hr	1,836.00
	TOTAL FEES	OTAL FEES 7.		10 hrs	\$ 2,256.00

Fees	\$ <u>2,256.00</u>
MATTER TOTAL	\$ <u>2,256.00</u>

Invoice # 3577752 2070561 Page 16 of 20

Meetings and Communications with Creditors (70110)

\$784.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/01/17	M.J. Gearin	0.60	Call with M. Northrup regarding case issues for committee update
09/05/17	D. A. Lentz	0.20	Field telephone call with creditor in case
09/14/17	D. A. Lentz	0.00	Field phone call from creditor in case regarding status of case
09/19/17	M.J. Gearin	0.30	Communications with M Northrup re fee application questions and related research
09/22/17	M.J. Gearin	0.50	Call with M. Calvert and M. Northrup regarding committee meeting follow up
		TOTAL FEES	1.60 hrs \$ <u>784.00</u>

TIMEKEEPER SUMMARY

	TOTAL FEES		1.60 hrs		\$	784.00
D. A. Lentz	0.20	hrs at	\$	210.00 / I	nr	42.00
M.J. Gearin	1.40	hrs at	\$	530.00 / I	nr	742.00

Fees	\$_	784.00
MATTER TOTAL	\$ <u>-</u>	784.00

Assumption and Rejection of Leases and Contracts (70150)

\$2,213.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
09/01/17	M.J. Gearin	1.00	Review and analyze court's decision on Hoff lease cure (.3); call with Trustee regarding same (.7)		
09/01/17	C.M. Wyant	1.00	Review order on Hoff lease assumption and cure issues (.3); conference with M. Calvert and M. Gearin regarding order and next steps (.7)		
09/06/17	C.M. Wyant	0.30	Conference with M. Gearin regarding resolution of items raised in Hoff lease order		
09/18/17	M.J. Gearin	0.20	Review and preliminary analysis of email from A. Smith regarding Hoff lease issues		
09/18/17	C.M. Wyant	0.10	Review email from A. Smith regarding lease and review Order regarding same		
09/19/17	M.J. Gearin	0.90	Communications with Trustee regarding new Hoff demands (0.3); responsive email to A. Smith (0.6)		
09/19/17	C.M. Wyant	0.30	Draft text of email in response to Hoff demand		
09/20/17	M.J. Gearin	0.30	Email from A. Smith re Dayton lease issues; discuss same with Trustee		
09/21/17	M.J. Gearin	0.30	Communications with Trustee regarding Hoff cure schedule and email from A. Smith		
		TOTAL FEES	4.40 hrs \$ <u>2,213.00</u>		

TIMEKEEPER SUMMARY

C.M. Wyant	1.70	hrs at	\$	460.00 / hr	1,431.00 782.00
•	TOTAL FEES	TOTAL FEES		l0 hrs	\$ 2,213.00

Fees	\$ 2,213.00
MATTER TOTAL	\$ 2,213.00

Invoice # 3577752 2070561 Page 18 of 20

\$136.00

FEES

DATE	NAME	HOURS	DESCRIPTI	ON			
09/08/17	B. T. Peterson	0.40	Research re avoidable tra	lated to recovery	of poter	ntially	
	ТОТ	AL FEES	0.4	0 hrs	\$	136.00	
	TIMEKEEPER SUMMARY						
B. T. Peters		0.40 AL FEES	hrs at \$ 0.4	340.00 / hr 0 hrs	\$	136.00 136.00	
MATTER SUMMARY							
Fees MATTER T	OTAL				\$ \$	136.00 136.00	

Invoice # 3577752 2070561 Page 19 of 20

\$318.00

DATE	NAME	HOURS	DESCRIPTION			
09/21/17	M.J. Gearin	0.60	Review and revisions to A	August MOR		
		TOTAL FEES	0.60 hrs	\$ <u>318.00</u>		
		TIMEKEEP	ER SUMMARY			
M.J. Gearin		0.60	hrs at \$ 530.00 / hr	318.00		
		TOTAL FEES	0.60 hrs	\$ 318.00		
MATTER SUMMARY						
Fees				\$318.00		
MATTER T	OTAL			\$ 318.00		

Invoice # 3577752 2070561 Page 20 of 20

Costs (99999) \$1,763.82

DISBURSEMENTS & OTHER CHARGES

09/04/17 YOM 09/04/17 YOM 09/11/17 Trav Park	M Full Svc Court reporters M Full Svc Coupr reporters M Full Svc Court reporters vel Expenses - Neu, David - Parking - 2017-08-24 - Hearing king ying Expense	304.77 150.00 1,066.50 12.00 57.00
09/04/17 YOM 09/11/17 Trav Park	M Full Svc Court reporters vel Expenses - Neu, David - Parking - 2017-08-24 - Hearing king	1,066.50 12.00
09/11/17 Trav Park	vel Expenses - Neu, David - Parking - 2017-08-24 - Hearing king	12.00
Park	king	
09/12/17 Con	ying Expense	57.00
00/12/17 COP		
	al Courier - Courier Services for Aug 2017 - Halo Messenger vices, LLC - 09012017 - 8/21 #3 USBC - Judge's Copies to BC	13.00
Serv	al Courier - Courier Services for Aug 2017 - Halo Messenger vices, LLC - 09012017 - 8/30 #2 USBC - Hearing Binder for stee's Second Motion to Return Stored Inventory	8.00
09/14/17 Cop	ying Expense	3.00
09/18/17 Cop	ying Expense	38.60
09/18/17 Cop	ying Expense	9.60
09/18/17 Cop	ying Expense	61.60
09/18/17 Cop	ying Expense	16.60
09/25/17 Post	tage	9.85
09/25/17 Post	tage	13.30
	DISBURSEMENTS & OTHER CHARGES	\$ 1,763.82

Disbursements and Other Charges	\$_	1,763.82
MATTER TOTAL	\$	1,763.82

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577401

Services Through : September 30, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$ 79.00 Disbursements and Other Charges \$ 220.64

Total Amount Due This Matter \$ 299.64

CURRENT INVOICE DUE - All Matters \$ ______\$

501935232 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577401 2070561 Page 2 of 2

Litigation -- e-DAT Fees (77100)

\$299.64

DATE	NAME	HOURS	DESCR	RIPTIO	N		
09/15/17	L.E. Steidl						onse to
		TOTAL FEES	3	0.20		\$	79.00
		TIMEKEEP	ER SUMI	<u>MARY</u>			
L.E. Steidl		0.20 TOTAL FEES	hrs at	\$ 0.20	395.00 / hr hrs	\$	79.00 79.00
		DISBURSEMENTS	& OTHE	R CHA	RGES		
DATE	DESCRIPTION	ON					AMOUNT
09/30/17	Ringtail Fees: September 2017 Database Hosting and Access Fees (charges based on produced volumes only): 14.71 GB @ \$15.00/GB: \$220.64						
		DISBURSEMENTS	S & OTHE	ER CH	ARGES	\$	220.64
		MATTER	SUMM4	 ARY			
		WATTER		<u> </u>			
Fees						\$	79.00
Disbursements and Other Charges MATTER TOTAL						\$ 	220.64 299.64

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577776

Services Through : October 31, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 6,229.00

Total Amount Due This Matter \$ 6,229.00

Case Administration (70040)

Fees \$<u>4,234.00</u>

Total Amount Due This Matter \$ 4,234.00

Claims, Administration and Objections (70050)

Fees \$ 530.00

Total Amount Due This Matter \$ 530.00

Fee/Employment Applications (70070)

Fees \$ 7,338.00

Total Amount Due This Matter \$ 7,338.00

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to <a href="https://exactorunts.ps///exact

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577776 2070561 Page 2 of 14

			1 ago 2 oi 11
Financing and Cash Collateral (70090) Fees Total Amount Due This Matter	\$	1,289.00	\$ 1,289.00
Litigation (70100)			
Fees Total Amount Due This Matter	\$	359.00	\$ 359.00
Trustee v Diane Erdmann (70102)			
Fees Total Amount Due This Matter	\$	7,366.00	\$ 7,366.00
Trustee v ARM Industries LLC (70108)			
Fees Total Amount Due This Matter	\$	492.00	\$ 492.00
Meetings and Communications with Creditors	s (701	10)	
Fees Total Amount Due This Matter	\$	1,099.00	\$ 1,099.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$	381.00	\$ 381.00
Costs (99999)			
Disbursements and Other Charges Total Amount Due This Matter	\$	1,897.68	\$ 1,897.68
CURRENT INVOICE DUE - All Matters			\$ 31,214.68

Asset Disposition (70020)

\$6,229.00

DATE	NAME	HOURS	DESCRIPTION				
10/16/17	M.J. Gearin	0.50	Communications regarding resolution of ownership of sheriff's seized inventory and Cohen settlement				
10/18/17	M.J. Gearin	0.40	Call and emails with Trustee and B. Atalla re prospective purchaser				
10/25/17	M.J. Gearin	1.10	Call with M. Calvert and G. Anderson regarding purchase offer for assets of estate; follow up call with Trustee regarding timeline and sale issues; meet regarding draft of APA				
10/26/17	M.J. Gearin	2.20	Draft asset purchase agreement with RNO Financial				
10/26/17	D. A. Lentz	0.60	Initial drafting of asset purchase agreement for M. Gearin				
10/27/17	M.J. Gearin	3.10	Draft RNO Financial asset purchase agreement				
10/30/17	M.J. Gearin	3.30	Draft revisions to RNO Financial asset purchase agreement; multiple calls with Trustee and B. Atalla regarding same; forward draft APA to purchaser				
10/31/17	M.J. Gearin	0.50	Communications with G. Anderson and Trustee re RNO Financial asset purchase agreement				
10/31/17	D.C. Neu	0.50	Meeting to discuss status of sales negotiations				
		TOTAL FEES	12.20 hrs \$ <u>6,229.00</u>				
TIMEKEEPER SUMMARY							
M.J. Gearin		11.10	hrs at \$ 530.00 / hr 5,883.00				
D. A. Lentz			hrs at \$ 210.00 / hr 126.00				
D.C. Neu		0.50	hrs at \$ 440.00 / hr 220.00				
		TOTAL FEES	12.20 hrs \$ <u>6,229.00</u>				

Invoice # 3577776 2070561 Page 4 of 14

MATTER SUMMARY

Fees \$ 6,229.00 MATTER TOTAL \$ 6,229.00

Invoice # 3577776 2070561 Page 5 of 14

Case Administration (70040)

\$4,234.00

FEES

DATE	NAME	HOURS	DESCRIPTION
10/02/17	M.J. Gearin	2.10	Meet with Trustee regarding status report
10/02/17	D.C. Neu	2.00	(0.5); revisions to Trustee's status report (1.6) Assist with analysis for status report (1.3); review fee application response (.3); communicate with M. Gearin regarding status report (.2)
10/03/17	M.J. Gearin	2.90	Meet with Trustee re schedules in support of status report (1.3); call with B. Atalla re Atalla schedule (0.2); finalize status report (1.4)
10/03/17	D.C. Neu	1.60 TOTAL FEES	Review and edit status report 8.60 hrs \$

TIMEKEEPER SUMMARY

M.J. Gearin	5.00 h	nrs at	\$	530.00 / h	r	2,650.00
D.C. Neu	3.60 h	nrs at	\$	440.00 / h	r	1,584.00
	TOTAL FEES		8.60) hrs	\$	4,234.00

Fees	\$ <u>4,234.00</u>
MATTER TOTAL	\$ <u>4,234.00</u>

Invoice # 3577776 2070561 Page 6 of 14

Claims, Administration and Objections (70050)

\$530.00

DATE	NAME	HOURS	DESCRIPTION			
10/10/17 M.J. Gearin		0.30	Communications regarding potential			
			settlement of Cohen claims a with potential Erdmann settle			
10/11/17	M.J. Gearin	0.70	Draft of term sheet for resolu	tion of Cohen		
		TOTAL FEED	claims to seized inventory	ф гоо оо		
		TOTAL FEES	1.00 hrs	\$530.00		
	TIMEKEEPER SUMMARY					
M.J. Gearin		1.00	hrs at \$ 530.00 / hr	530.00		
		TOTAL FEES	1.00 hrs	\$ 530.00		
MATTER SUMMARY						
Fees				\$ 530.00		
MATTER TOTAL				\$ 530.00		

Fee/Employment Applications (70070)

\$7,338.00

FEES

DATE	NAME	HOURS	DESCRIPTION
10/01/17	B. T. Peterson	1.70	Analyze issues raised by Committee in response to fee applications filed by Trustee and his professionals
10/02/17	M.J. Gearin	1.50	Meet with Trustee and B. Peterson regarding fee application reply
10/02/17	B. T. Peterson	4.30	Draft reply in support of Trustee Professionals' Fee Applications
10/03/17	M.J. Gearin	2.30	Revise draft of reply on Trustee Professionals fee applications (1.5); meet with Trustee regarding allocation issue in connection with reply (0.8)
10/03/17	B. T. Peterson	2.10	Draft and revise reply in support of Trustee Professionals' Fee Applications
10/03/17	B. T. Peterson	0.40	Edit status report for submission in connection with Trustee Professionals' fee applications
10/04/17	M.J. Gearin	0.50	Review L. Martini response to fee applications (0.2); communications with Trustee re preparations for fee application hearings
10/05/17	M.J. Gearin	1.10	Prepare for hearing on fee applications; call with Trustee regarding same
10/06/17	M.J. Gearin	2.80	Prepare for and attend hearing on fee applications
10/06/17	B. T. Peterson	0.30	Conference with M. Gearin and D. Neu regarding outcome of fee application hearing and resulting implications
	TOTAL	FEES	17.00 hrs \$

TIMEKEEPER SUMMARY

M.J. Gearin	8.20 hrs	at \$	530.00 / hr	4,346.00
B. T. Peterson	8.80 hrs	at \$	340.00 / hr	2,992.00
	TOTAL FEES	17	7.00 hrs	\$ 7,338.00

MATTER SUMMARY

Fees \$ 7,338.00 MATTER TOTAL \$ 7,338.00

Invoice # 3577776 2070561 Page 8 of 14

Financing and Cash Collateral (70090)

\$1,289.00

FEES

DATE	NAME	HOURS	DESCRIPTION
10/10/17	D.C. Neu	0.40	Review email from DIP finance (.2); review loan agreement (.10); respond to email regarding same (.1)
10/16/17	M.J. Gearin	0.60	Communications re modifications to factoring agreement (.2); review and analysis of factoring agreement terms (.4)
10/31/17	M.J. Gearin	1.50	Draft amendment to factoring agreement (1.2); communications with Trustee regarding same (0.2); email exchange with H. Kaminski regarding amendment (0.1)
		TOTAL FEES	2.50 hrs \$ <u>1,289.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	2.10	hrs at	\$	530.00 / h	nr	1,113.00
D.C. Neu	0.40	hrs at	\$	440.00 / h	nr	176.00
	TOTAL FEES		2.50	o hrs	\$	1,289.00

Fees	\$ <u>1,289.00</u>
MATTER TOTAL	\$ <u>1,289.00</u>

Invoice # 3577776 2070561 Page 9 of 14

Litigation (70100)

\$359.00

DATE	NAME	HOURS	DESCRIPTION				
10/12/17	M.J. Gearin	0.40	Calls with M. Calvert and D. Neu regarding settlement issues relating to Cohen and Erdmann claims				
10/19/17	D. A. Lentz	0.70	Finish work to pull documents subpoena	s together for FBI			
		TOTAL FEES	1.10 hrs	\$359.00			
	TIMEKEEPER SUMMARY						
M.J. Gearin	l		hrs at \$ 530.00 / hr	212.00			
D. A. Lentz		0.70 TOTAL FEES	hrs at \$ 210.00 / hr 1.10 hrs	\$ \frac{147.00}{359.00}			
MATTER SUMMARY							
Fees MATTER T	OTAL			\$ 359.00 \$ 359.00			

Trustee v Diane Erdmann (70102)

\$7,366.00

FEES

DATE	NAME	HOURS	DESCRIPTION					
10/03/17	D.C. Neu	2.90	Work on mediation materials					
10/04/17	D.C. Neu	1.10	Work on mediation materials					
10/05/17	D.C. Neu	1.80	Call with T. QUinaln regarding mediation (.2); finalize mediation brief (1.5)					
10/10/17	D.C. Neu	0.90	Call with M. Northrup regarding mediation (.4); commuications regarding mediation start time (.2); review mediation materials (.3)					
10/10/17	D. C. Wolf	0.30	Check in on status of produced documents and email D. Neu regarding same (0.3)					
10/11/17	D.C. Neu	1.40	Review mediation materials					
10/12/17	D.C. Neu	5.10	Mediation					
10/17/17	D.C. Neu	0.40	Review PayPal document production					
10/17/17	D. C. Wolf	0.10	Email to D. Neu in response to his voicemail (0.1)					
10/19/17	D.C. Neu	0.30	Call with T. Quinlan regarding mediation result					
10/24/17	D. C. Wolf	0.10	Phone call with D. Neu regarding Erdmann discovery (0.1)					
10/25/17	D.C. Neu	1.00	Review discovery status and production					
10/30/17	D.C. Neu	1.50	Review PayPal and Amazon information					
		TOTAL FEES	16.90 hrs \$ <u>7,366.00</u>					

TIMEKEEPER SUMMARY

D.C. Neu	16.40	hrs at	\$	440.00 / hr	•	7,216.00
D. C. Wolf	0.50	hrs at	\$	300.00 / hr	,	150.00
	TOTAL FEES		16.9	90 hrs	\$	7,366.00

Fees	\$ 7,366.00
MATTER TOTAL	\$ <u>7,366.00</u>

Invoice # 3577776 2070561 Page 11 of 14

Trustee v ARM Industries LLC (70108)

\$492.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
10/06/17	B. T. Peterson	0.40	Attend status conference for ARM adversary proceeding				
10/13/17	B. T. Peterson	0.80	Prepare for and participate in call with opposing counsel regarding ARM adversary proceeding				
10/16/17	D. A. Lentz	0.20	Email from B. Peterson regarding notice regarding final adjudication and consent (.1); emails to M. Calvert regarding same (.1)				
10/17/17	D. A. Lentz	0.20	File notice regarding final adjudication and consent with USBC				
	TOTA	_ FEES	1.60 hrs \$ <u>492.00</u>				

TIMEKEEPER SUMMARY

D. A. Lentz	0.40	hrs at	\$	210.00 / hr	84.00
B. T. Peterson	1.20	hrs at	\$	340.00 / hr	408.00
	TOTAL FEES	TOTAL FEES		60 hrs	\$ 492.00

Fees	\$ 492.00
MATTER TOTAL	\$ <u>492.00</u>

Invoice # 3577776 2070561 Page 12 of 14

Meetings and Communications with Creditors (70110)

\$1,099.00

FEES

DATE	NAME	HOURS	DESC	RIPT	ION					
10/04/17	M.J. Gearin	0.70		Call and email to creditor J. Ziimmerman (0.3); email exchanges with M. Smith of UST offices						
					reditor cor					
					⊃. Wagner		ding we	bsite		
10/10/17	D. A. Lentz	0.20	•	_	nformation e calls fron		toro roo	ordina		
10/10/17	D. A. Lentz	0.20			ase and reg					
			McMe				y			
10/11/17	D.C. Neu	0.50	•		creditor c					
10/12/17	M.J. Gearin	0.50			. Northrup					
			issues including creditor communications regarding case status and McMeel hearing							
10/12/17	D. A. Lentz	0.10	_	-	calls with			-		
					earing on N			J		
10/25/17	M.J. Gearin	0.30			. Northrup			s update		
10/26/17	D. A. Lentz	0.10	Field		from and	to crec		4 000 00		
		TOTAL FEES		2.	40 hrs		\$ <u>_</u>	1,099.00		
		TIMEVEED	ED CUI	лал а г	ov.					
		TIMEKEEP	EK SUN	/IIVIA	<u>X 1</u>					
M.J. Gearin		1.50	hrs at	\$	530.00	/ hr		795.00		
D. A. Lentz		0.40	hrs at	\$	210.00			84.00		
D.C. Neu		0.50	hrs at	\$	440.00	/ hr		220.00		
		TOTAL FEES		2.	40 hrs		\$_	1,099.00		

Fees	\$ _	1,099.00
MATTER TOTAL	\$ _	1,099.00

Invoice # 3577776 2070561 Page 13 of 14

Reporting (70210)

Fees

MATTER TOTAL

\$381.00

381.00

DATE	NAME	HOURS	DESC	RIPTIC	ON			
10/18/17	M.J. Gearin	0.40	Revie	w and r	evise m	onthly r	eport	
10/19/17	M.J. Gearin	0.20	Additional revisions to monthly report (.1); communications with Trustee regarding same (.1)					· /·
10/20/17	D. A. Lentz	0.30					monthly JSBC (.2	
		TOTAL FEES	, ,,	0.90) hrs		\$	381.00
TIMEKEEPER SUMMARY								
M.J. Gearin	1	0.60	hrs at	\$	530.00	/ hr		318.00
D. A. Lentz		0.30	hrs at	\$	210.00	/ hr		63.00
		TOTAL FEES		0.90) hrs		\$	381.00
MATTER SUMMARY								

Costs (99999) \$1,897.68

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
10/02/17	Travel Expenses - Gearin, Michael - Parking - 2017-09-22 - IMPARK 00250010 - 9 22 2017 Hearing Parking	18.00
10/02/17	Travel Expenses - Neu, David - Parking - 2017-09-22 - IMPARK 00250010 - 9 22 2017 Hearing Parking	15.00
10/04/17	YOM Court Reporters	307.30
10/04/17	Reversal from Cancelled Voucher 2048592	(307.30)
10/04/17	YOM Court Reporters	307.30
10/06/17	Outside Copies - Professional Document Services - Altep California, LLC - 06202017	1,399.38
10/10/17	Local Courier - Courier Services for Sept 2017 - Halo Messenger Services, LLC - 10012017 - 9/20 #1 USBC - Hearing Binder on Trustee's Motion for Prejudgment	7.00
10/10/17	Local Courier - Courier Services for Sept 2017 - Halo Messenger Services, LLC - 10012017 - 9/22 #3 USBC - Two Hearing Binders regarding Applications for Compensation	12.00
10/20/17	CD ROM Expenses	75.00
10/23/17	Travel Expenses - Gearin, Michael - Parking - 2017-10-06 - Parking for Hearing	15.00
10/23/17	Travel Expenses - Neu, David - Parking - 2017-10-12 - Mediation Parking	18.00
10/28/17	USBC Western/Charge for audio CD	31.00
	DISBURSEMENTS & OTHER CHARGES \$	1,897.68

Disbursements and Other Charges	\$ 1,897.68
MATTER TOTAL	\$ 1,897.68

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577405

Services Through : October 31, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 220.64

220.64

CURRENT INVOICE DUE - All Matters

220.64

501935249 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Pittsburgh, PA 15219

Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts/Receivable/SEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577405 2070561 Page 2 of 2

Litigation e-DAT Fees ((77100))
-------------------------	---------	---

\$220.64

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
10/31/17	Ringtail Fees: October 2017 Database Hosting and Access Fees (charges based on produced volumes only): 14.71 GB @ \$15.00/GB: \$220.64	220.64
	DISBURSEMENTS & OTHER CHARGES \$	220.64
	MATTER SUMMARY	

Disbursements and Other Charges	\$ 220.64
MATTER TOTAL	\$ 220.64

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577779

Services Through: November 30, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 6,231.00

Total Amount Due This Matter \$ 6,231.00

Business Operations (70030)

Fees \$<u>1,961.00</u>

Total Amount Due This Matter \$ 1,961.00

Financing and Cash Collateral (70090)

Fees \$ 424.00

Total Amount Due This Matter \$ 424.00

Trustee v Diane Erdmann (70102)

Fees \$ 8,635.50

Total Amount Due This Matter \$ 8,635.50

501937542 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 500 First Ave 92 Acct No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577779 2070561 Page 2 of 16

American Express Fraudulent Transfer Action (70107)					
Fees \$ 6,586.50 Total Amount Due This Matter	\$	6,586.50			
Trustee v ARM Industries LLC (70108)					
Fees \$ 42.00 Total Amount Due This Matter	\$	42.00			
Meetings and Communications with Creditors (70110)					
Fees \$\\\ Total Amount Due This Matter	\$	985.00			
Reporting (70210)					
Fees \$\\\ Total Amount Due This Matter	\$	371.00			
Intellectual Property Advice and Trademark Registration (70230)					
Fees \$ 66.00 Total Amount Due This Matter	\$	66.00			
US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)					
Fees \$ 22.00 Total Amount Due This Matter	\$	22.00			
Costs (99999)					
Disbursements and Other Charges \$ 79.00 Total Amount Due This Matter	\$	79.00			
CURRENT INVOICE DUE - All Matters	\$ <u>_</u>	25,403.00			

Asset Disposition (70020)

\$6,231.00

DATE	NAME	HOURS	DESCRIPTION
11/02/17	M.J. Gearin	0.70	Communications with Trustee regarding sale issues with RNO Financial and expression of interest from R. Hansen
11/07/17	M.J. Gearin	0.50	Multiple calls with Trustee regarding purchase offer and sale issues
11/10/17	M.J. Gearin	0.50	Call with R. Mitchell regarding case status and potential settlement of issues relating to sheriff's seized inventory
11/14/17	D. A. Lentz	0.10	Voicemail from creditor regarding motion to return stored inventory (.1); telephone conference E. Robinson re same (.1) conference with M. Gearin regarding same (.1)
11/15/17	M.J. Gearin	1.00	Calls with Trustee regarding asset purchase proposal; call with Trustee and D. Damiens regarding financial resources due diligence
11/20/17	M.J. Gearin	1.10	Calls with Trustee regarding expressions of interest in asset purchase; email redacted purchase and sale agreement to J. Rizzardi
11/21/17	D. A. Lentz	0.40	Email from E. Robinson regarding stored inventory return (.1); revisions to receipt regarding same (.2); email to J. Klingler regarding rounds to be returned (.1)
11/22/17	D. A. Lentz	0.50	Conference with M. Gearin regarding receipt for return of stored inventory (.2); finalize receipt for remaining customers (.2); email to E. Robinson regarding same (.1)
11/28/17	M.J. Gearin	1.30	Multiple calls with Trustee regarding Eureka asset purchase issues (0.6); analysis meeting and communications regarding sale approval pleading preparation and planning (0.9)
11/28/17	D.C. Neu	0.40	Meeting with M. Gearin to discuss possible sale
11/28/17	B. T. Peterson	0.80	Analyze issues related to potential sale of substantially all assets of company
11/29/17	M.J. Gearin	1.30	Calls with Trustee regarding sale approval issues (0.6); meet regarding revisions to APA (0.7)

Invoice # 3577779 2070561 Page 4 of 16

DATE	NAME	HOURS	DESC	RIPTIO	N			
11/29/17	B. T. Peterson	2.30	instrud instrud	Discussion with M. Calvert regarding escrow instructions for sale (.3); draft escrow instructions (1.2); draft motion to authorize Trustee's use of consumption of deposit (.8)				
11/30/17	M.J. Gearin	1.10	Participate in call with Trustee, G. Anderson and B. Atalla regarding terms of asset purchase agreement and court approval issues					
11/30/17	B. T. Peterson	2.40			o approve use pprove bid prod			
	TOTA	AL FEES	аорос	14.40		\$		
		TIMEKEEP	ER SUN	<u>IMARY</u>				
M.J. Gearin	1	7.50	hrs at	\$	530.00 / hr		3,975.00	
D. A. Lentz		1.00	hrs at	\$	210.00 / hr		210.00	
D.C. Neu		0.40	hrs at	•	440.00 / hr		176.00	
B. T. Peters		5.50	hrs at	*	340.00 / hr		1,870.00	
	TOTA	AL FEES		14.40	hrs	\$	6,231.00	
		MATTER	SUMM	<u>ARY</u>				
Fees MATTER T	OTAL					\$ \$	6,231.00 6,231.00	

Business Operations (70030)

\$1,961.00

FEES

DATE	NAME	HOURS	DESCRIPTION
11/01/17	M.J. Gearin	1.50	Communications and analysis of issues relating to Trustee's initial plans for closing of operations, including employment related considerations
11/13/17	M.J. Gearin	1.10	Calls and emails with Trustee re operations shutdown issues
11/14/17	M.J. Gearin	1.10	Call with Trustee, G. Anderson, and B. Atalla regarding purchase offer and related issues (.8); follow up communications with Trustee regarding same (.3)
		TOTAL FEES	3.70 hrs \$1,961.00

TIMEKEEPER SUMMARY

M.J. Gearin	3.70 hrs	at \$	530.00 / hr	1,961.00
	TOTAL FEES	3.70	hrs	\$ 1,961.00

MATTER SUMMARY

Fees \$ 1,961.00 MATTER TOTAL \$ 1,961.00

MATTER TOTAL

Invoice # 3577779 2070561 Page 6 of 16

Financing and Cash Collateral (70090)

\$424.00

\$ 424.00

DATE	NAME	HOURS	DESCRIPTION			
11/01/17	M.J. Gearin	0.50	Communications with H. Kaminski and			
			Trustee re amendment to fac			
11/07/17	M.J. Gearin	0.30	Communications re modificat	ion to factor	ring	
		TOTAL FEES	agreement 0.80 hrs	\$4	124.00	
		IOIAL FEES	0.00 1115	Φ4	124.00	
		TIMEKEEP	ER SUMMARY			
M.J. Gearin	ı	0.80	hrs at \$ 530.00 / hr	4	24.00	
		TOTAL FEES	0.80 hrs	\$4	124.00	
		MATTER	SUMMARY			
Fees				\$ 4	124.00	

Trustee v Diane Erdmann (70102)

\$8,635.50

DATE	NAME	HOURS	DESCRIPTION		
11/01/17	D.C. Neu	0.90	Call with T. Quinlan to discuss settlement potential (.3);		
11/01/17	D.C. Neu	1.90	Review documents provided by D. Erdmann (1.5); communicate with client regarding documents (.4)		
11/03/17	D.C. Neu	1.20	Review PayPal records		
11/06/17	D.C. Neu	1.80	Work with client on claim analysis		
11/06/17	D. C. Wolf	0.90	Conduct research regarding availability of PayPal account history information to permit assessment of completeness of defendant's document production		
11/07/17	D.C. Neu	1.90	Work with client on analysis of PayPal records (1.2); gather documents for discovery (.8)		
11/08/17	M.J. Gearin	0.50	Meet re disposition of Erdmann litigation		
11/08/17	D.C. Neu	1.40	Meeting to discuss next steps (.5); work on discovery (.9)		
11/15/17	D.C. Neu	1.20	Review solvency analysis		
11/17/17	P. J. Bruene	1.20	Review of background materials, start of binder document review		
11/17/17	D.C. Neu	2.70	Review and analyze discovery		
11/17/17	L.E. Steidl	0.50	Coordinate with vendor regarding imaging of client hard copy collections in preparation for production, conferring with DC Wolf and D. Lentz regarding details same		
11/17/17	D. C. Wolf	1.60	Conference with D. Neu regarding document production issues; discuss status of same with D. Lentz; discuss document review project with P. Breune; review D. Neu's draft expert disclosure		
11/20/17	P. J. Bruene	4.40	Document review and binder summary		
11/20/17	L.E. Steidl	0.20	Coordinate with vendor regarding imaging of client hard copy collections in preparation for production, conferring with DC Wolf and D. Lentz regarding details same		
		TOTAL FEES	22.30 hrs \$ <u>8,635.50</u>		

Invoice # 3577779 2070561 Page 8 of 16

TIMEKEEPER SUMMARY

P. J. Bruene	5.60	hrs at	\$	290.00 / hr	1,624.00
M.J. Gearin	0.50	hrs at	\$	530.00 / hr	265.00
D.C. Neu	13.00	hrs at	\$	440.00 / hr	5,720.00
L.E. Steidl	0.70	hrs at	\$	395.00 / hr	276.50
D. C. Wolf	2.50	hrs at	\$	300.00 / hr	750.00
	TOTAL FEES		22.3	30 hrs	\$ 8,635.50

MATTER SUMMARY

Fees \$ 8,635.50 MATTER TOTAL \$ 8,635.50

American Express Fraudulent Transfer Action (70107)

\$6,586.50

DATE	NAME	HOURS	DESCRIPTION
11/01/17	D. A. Lentz	0.40	Calendar remaining dates and deadlines from notice of trial and order setting deadlines
11/07/17	D. A. Lentz	0.30	Revise subpoena to PayPal for service
11/08/17	D. A. Lentz	0.30	Finalize PayPal subpoena for service including cover letter and records declaration
11/17/17	D. A. Lentz	0.70	Drafting of notice of deposition of D. Erdmann (.2); service of same on opposing counsel (.1); emails with eDat regarding production of binders and work to send same out for hard copy imaging (.4)
11/21/17	P. J. Bruene	5.10	Review document binders (3.1); prepare discovery chart (2.0)
11/21/17	L.E. Steidl	0.10	Address issues relating to imaging of client hard copy collections to be loaded into case database in preparation for production
11/22/17	P. J. Bruene	1.60	Review of production binders (1.1); create binder inventory (.5)
11/22/17	S.C. Spangenberg	0.60	Prepare listing of contents of document on 5GB ZIP file
11/22/17	L.E. Steidl	0.70	Address issues relating to imaging of client hard copy collections to be loaded into case database in preparation for production
11/22/17	D. C. Wolf	0.10	Phone call with L. Steidl regarding upcoming document production
11/27/17	P. J. Bruene	2.10	Completion of review of production binders (1.1); draft of binder summary chart (.9); email to DC Wolf (.1)
11/27/17	D.C. Neu	1.20	Work on document production
11/27/17	L.E. Steidl	0.20	Confer with P. Bruene regarding options for reviewing select collections of files identified by D. Wolf for potential production (.1); confer with D. Wolf regarding details and timing of supplemental client production (.1)
11/27/17	D. C. Wolf	0.20	Review P. Bruene's rundown of inventory binders' contents (.1); email to D. Neu regarding same (.1)
11/28/17	P. J. Bruene	1.10	Emails with DC Wolf regarding document production (.5); review of binders for material from the client's agent (.6)
11/28/17	D.C. Neu	0.30	Communicate with D. Wolf regarding discovery
11/28/17	D. C. Wolf	0.10	Discuss discovery issues with D. Neu
501937542 v2			

Invoice # 3577779 2070561 Page 10 of 16

DATE	NAME	HOURS	DESC	RIPT	ION			
11/29/17	P. J. Bruene	0.20		Set up meeting to go over document production				
11/29/17	D.C. Neu	0.60	Comn discov	Communicate with D. Wolf regarding discovery issues (.2); review index of binders to produce (.4)				
11/29/17	L.E. Steidl	0.20	client' confe	Address issues to identify and prepare files for client's supplemental production (0.1); conferring with D. Wolf regarding details and				
11/29/17	D. C. Wolf	0.40	Confe docun (0.3);	timing of same (0.1) Confer with D. Neu and P. Bruene regarding document production and work product issues (0.3); speak with L. Steidl regarding document production (0.1)				
11/30/17	P. J. Bruene	1.70	Prepa	ration ction	for meeting regal (.7); meeting regal	_		
11/30/17	D. A. Lentz	0.30	Finalize expert witness disclosure and serve on attorney for D. Erdmann				d serve	
11/30/17	D.C. Neu	1.10		•		v of doci	uments	
11/30/17	L.E. Steidl	0.90	Work product privilege review of documents Coordinate and assist in preparation, export, QC and transfer of client production images and data, and provide summary details regarding same to case team				export, mages ils	
11/30/17	D. C. Wolf	0.30			with D. Neu and			
		TOTAL FEES	regard	_	ocument product 30 hrs	ion issue \$	es 6,586.50	
		TOTALTELO		20.0	50 1110	Ψ	0,000.00	
		TIMEKEEP	ER SUM	ИМАР	RY			
P. J. Bruen	e	11.80	hrs at	\$	290.00 / hr		3,422.00	
D. A. Lentz		2.00	hrs at	\$	210.00 / hr		420.00	
D.C. Neu		3.20	hrs at	\$	440.00 / hr		1,408.00	
S.C. Spang	enberg		hrs at	\$	295.00 / hr		177.00	
L.E. Steidl		2.10	hrs at	\$	395.00 / hr		829.50	
D. C. Wolf		1.10	hrs at	\$	300.00 / hr		330.00	
		TOTAL FEES		20.8	30 hrs	\$	6,586.50	

MATTER SUMMARY

Fees \$ 6,586.50 MATTER TOTAL \$ 6,586.50

Invoice # 3577779 2070561 Page 11 of 16

Trustee v ARM Industries LLC (70108)

\$42.00

FFFS

DATE 11/17/17	NAME D. A. Lentz	HOURS 0.20 TOTAL FEES	DESCRIPTION Review of scheduling order revs. ARM and confirm all dates on calendar 0.20 hrs	
D. A. Lentz			ER SUMMARY hrs at \$ 210.00 / hr 0.20 hrs	\$ <u>42.00</u>
Fees MATTER TO	OTAL	MATTER	SUMMARY	\$ 42.00 \$ 42.00

Meetings and Communications with Creditors (70110)

\$985.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
11/13/17	M.J. Gearin	0.40	Call with M. Northrup re case update and status of business operations			
11/16/17	M.J. Gearin	1.30	Preparatory call with trustee and participate in call with creditors committee			
11/17/17	D. A. Lentz	0.30	Review of letter from creditor regarding request to change address (.1); draft of notice of address change and file with USBC (.1); draft of letter to creditor regarding same (.1)			
11/30/17	D. A. Lentz	0.10	Telephone call with creditor regarding status of case			
		TOTAL FEES	2.10 hrs \$ <u>985.00</u>			
		TIMEKEED	ED CLIMMA DV			

TIMEKEEPER SUMMARY

M.J. Gearin	1.70	hrs at	\$	530.00 /	hr	901.00
D. A. Lentz	0.40	hrs at	\$	210.00 /	hr	84.00
	TOTAL FEES		2.1	0 hrs	\$_	985.00

MATTER SUMMARY

 Fees
 \$ 985.00

 MATTER TOTAL
 \$ 985.00

Invoice # 3577779 2070561 Page 13 of 16

Reporting (70210)

\$371.00

DATE	NAME	HOURS	DESCRIPTION			
11/16/17	M.J. Gearin	0.40	Revisions to monthly operating report (0.3); communications with Trustee re same (0.1)			
11/17/17	M.J. Gearin	0.30	Email communications regarding revisions to MORs			
		TOTAL FEES	0.70 hrs	\$371.00		
TIMEKEEPER SUMMARY						
M.J. Gearin		0.70 TOTAL FEES	hrs at \$ 530.00 / hr 0.70 hrs	371.00 \$ <u>371.00</u>		
MATTER SUMMARY						
Fees MATTER TO	OTAL			\$ 371.00 \$ 371.00		

Invoice # 3577779 2070561 Page 14 of 16

\$66.00

DATE	NAME	HOURS	DESCRIPTION		
11/30/17	G. E. Carlson	0.30	Review IP matters and dead TM report	lines, create client	
	-	TOTAL FEES	0.30 hrs	\$ 66.00	
TIMEKEEPER SUMMARY					
G. E. Carlso			hrs at \$ 220.00 / hr	66.00	
		TOTAL FEES	0.30 hrs	\$66.00_	
MATTER SUMMARY					
Fees				\$ 66.00	
MATTER T	OTAL			\$ <u>66.00</u>	

Invoice # 3577779 2070561 Page 15 of 16

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)					\$22.00				
US Serial No.: 87216866									
<u>FEES</u>									
DATE 11/20/17	NAME G. E. Carlson	HOURS 0.10 TOTAL FEES		CRIPTION and review client trade 0.10 hrs	emark matter report \$22.00				
TIMEKEEPER SUMMARY									
G. E. Carlson		0.10 TOTAL FEES	hrs at	\$ 220.00 / hr 0.10 hrs	\$ <u>22.00</u> \$ <u>22.00</u>				
MATTER SUMMARY									

Fees

MATTER TOTAL

Invoice # 3577779 2070561 Page 16 of 16

Costs (99999) \$79.00

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
11/09/17	Local Courier - Courier Fees for Oct 2017 - Halo Messenger Services, LLC - 11012017 - 10/ 6 #3 3 701 Pike #1560 - MEDIATION SUBMISSION BINDER	34.00
11/09/17	Local Courier - Courier Fees for Oct 2017 - Halo Messenger Services, LLC - 11012017 - 10/ 4 #1 USBC - Hearing binder additions	15.00
11/09/17	Local Courier - Courier Fees for Oct 2017 - Halo Messenger Services, LLC - 11012017 - 10/ 11 #2 USBC - Hearing Transcript- CD	10.00
11/09/17	Local Courier - Courier Fees for Oct 2017 - Halo Messenger Services, LLC - 11012017 - 10/ 20 #2 1110 3rd Ave - CD ROM	10.00
11/09/17	Local Courier - Courier Fees for Oct 2017 - Halo Messenger Services, LLC - 11012017 - 10/ 20 #3 700 Stewart #5220 - CD ROM	10.00
	DISBURSEMENTS & OTHER CHARGES \$	79.00

Disbursements and Other Charges	\$ 79.00
MATTER TOTAL	\$ 79.00

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577453

Services Through : November 30, 2017

Our File Number : 2070561

404.00

220.64

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Fees \$
Disbursements and Other Charges \$

Total Amount Due This Matter \$ 624.64

CURRENT INVOICE DUE - All Matters

\$ 624.64

501935257 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Litigation -- e-DAT Fees (77100)

\$624.64

FEES

DATE	NAME	HOURS	DESCRIPTION				
11/30/17	C. M. Kuffel	1.10			vember 30th doc		roduction
44/20/47	T C Miles	0.70		•	on Support data		
11/30/17	T. S. Milne	0.70	•		D 003 Productio compliance with		
				_	ns (0.5); encrypt		
					delivery (0.2)	accamo	1110 101
		TOTAL FEES	•		0 hrs	\$	404.00
		TIMEKEEP	ED SIIN	лм л Б	v		
		THVILKLL	LK 30N	IIVIAIN	<u>. I.</u>		
C. M. Kuffel		1.10	hrs at	\$	240.00 / hr		264.00
T. S. Milne		0.70	hrs at	\$	200.00 / hr		140.00
		TOTAL FEES		1.8	0 hrs	\$	404.00

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
11/30/17	Ringtail Fees: November 2017 Database Hosting and Access Fees (charges based on produced volumes only): 14.71 GB @ \$15.00/GB: \$220.64	220.64
	DISBURSEMENTS & OTHER CHARGES \$ _	220.64
	MATTER SUMMARY	

Fees	\$	404.00
Disbursements and Other Charges	\$_	220.64
MATTER TOTAL	\$_	624.64

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577794

Services Through : December 31, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 15,722.00 **Total Amount Due This Matter** \$ 15,722.00

Business Operations (70030)

Fees \$ 225.00

Total Amount Due This Matter \$ 225.00

Case Administration (70040)

Fees \$ 583.00

Total Amount Due This Matter \$ 583.00

Employee Benefits/Pensions (70060)

Fees \$ 4,869.00

Total Amount Due This Matter \$ 4,869.00

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.new.number/ with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

CURRENT INVOICE DUE - All Matters

Invoice # 3577794 2070561 Page 2 of 17

\$ 38,786.06

			rage 2 01 17		
American Express Fraudulent Transfer Action (70107)					
Fees Total Amount Due This Matter	\$ <u>15,057.00</u>	\$	15,057.00		
Meetings and Communications with Credit	ors (70110)				
Fees Total Amount Due This Matter	\$477.00_	\$	477.00		
Assumption and Rejection of Leases and C	Contracts (70150)				
Fees Total Amount Due This Matter	\$ 583.00	\$	583.00		
Reporting (70210)					
Fees Total Amount Due This Matter	\$265.00_	\$	265.00		
US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)					
Fees Total Amount Due This Matter	\$ 66.00	\$	66.00		
Costs (99999)					
Disbursements and Other Charges Total Amount Due This Matter	\$ 939.06	\$	939.06		

Asset Disposition (70020)

\$15,722.00

DATE	NAME	HOURS	DESCRIPTION
12/01/17	D.C. Neu	1.10	Review and edit motion to allow use of deposit and to approve bid procedures
12/01/17	B. T. Peterson	1.70	Draft motion to approve bid procedures and
12/02/17	B. T. Peterson	2.00	consumption of earnest money deposit Draft declaration from M. Calvert in support of motion to approve consumption of earnest money and bid procedures related to sale motion
12/03/17	B. T. Peterson	0.90	Draft motion to approve consumption of earnest money and bid procedures related to sale motion
12/04/17	M.J. Gearin	1.20	Call with Trustee regarding asset sale issues; (.30) meet regarding revisions to APA and sale approval pleadings (.9)
12/04/17	D. A. Lentz	0.40	Review of email and voicemail from stored inventory customers and return same (.1); email exchanges with E. Robinson regarding same (.1); meeting with M. Gearin regarding acknowledgement of receipt (.1); telephone call and email with E. Robinson re same (.1)
12/04/17	B. T. Peterson	0.20	Discussion with M. Gearin related to motion to approve bid procedures and consumption of earnest money deposit
12/04/17	B. T. Peterson	0.90	Draft pleadings related to approval of bid procedures and consumption of earnest money
12/05/17	M.J. Gearin	1.30	Call with G. Anderson, B. Atalla and M. Calvert regarding asset purchase agreement (.3); revisions to APA (1.0)
12/05/17	B. T. Peterson	1.70	Draft pleadings and schedules related to APA with Eureka House
12/06/17	M.J. Gearin	2.50	Call with M. Calvert and B. Atalla (0.4); revisions to APA (1.0); revisions to draft motion for approval of bid procedures (1.1)
12/06/17	D. A. Lentz	1.00	Draft motion to shorten time for emergency motion (.4); review of APA for signature by client (.2); draft order on motion to shorten time (.2); meeting with M. Gearin and B.

DATE	NAME	HOURS	DESCRIPTION
			Peterson re status of sale and motion documents (.2)
12/06/17	B. T. Peterson	1.50	Draft pleadings in support of motion to approve use of earnest money and sale procedures
12/07/17	M.J. Gearin	1.60	Call with M. Calvert and D. Damiens regarding sale funding (0.3); revisions to sale approval pleadings (0.9); communications with trustee and M. Northrup regarding sale status and issues (0.4)
12/07/17	B. T. Peterson	1.00	Draft pleadings in support of motion to approve use of earnest money and bid and contract assumption procedures
12/08/17	M.J. Gearin	1.50	Email exchange with Trustee, G. Anderson, B. Atalla and D. Damiens regarding sale motion and funding issues (0.5); revisions to expedited motion on bid procedures (1.0)
12/08/17	M.J. Gearin	0.50	Email exchange with R. Powers re expression of interest by R. Hansen; draft NDA for R. Hansen
12/08/17	D. A. Lentz	0.60	Draft notice of hearing on emergency motion for use of earnest money (.5); revisions to shorten time documents (.1)
12/08/17	B. T. Peterson	2.10	Revise pleadings related to emergency motion for use of earnest money and draft pleadings shortening time on hearing for emergency motion
12/09/17	B. T. Peterson	1.60	Draft motion to approve sale to Eureka House
12/10/17	B. T. Peterson	1.20	Draft proposed order approve sale of Debtor's assets to Eureka House
12/11/17	M.J. Gearin	1.20	Draft irrevocable escrow instructions and circulate to purchaser (.8); calls with trustee regarding asset sale issues (.4)
12/11/17	D. A. Lentz	0.30	Work on returning inventory from second stored inventory motion with E. Robinson
12/11/17	B. T. Peterson	1.90	Draft pleadings, including declarations and proposed order, in support of sale motion
12/11/17	B. T. Peterson	0.10	Phone call with counsel for Ira Green regarding potential sale of Debtor's assets
12/12/17	M.J. Gearin	1.80	Call with buyer, B. Atalla and Trustee regarding escrow instructions and financing issues (.7); revisions to escrow instructions (.3); revisions to pleadings on motion to approve sale (.8)
12/12/17	D. A. Lentz	0.40	Work with E. Robinson regarding issues on stored inventory return
12/12/17	B. T. Peterson	0.70	Finalize pleadings related to motion to approve Eureka House Sale

Invoice # 3577794 2070561 Page 5 of 17

DATE NAME	HOURS	DESC	CRIPTION		
12/13/17 M.J. Gearin	1.00	Calls with Trustee and D. Damiens regarding status of funding for sale (.3); finalize irrevocable escrow instructions for signature; (.3) revisions to draft sale motion pleadings (.4)			
12/13/17 B. T. Peterso	on 0.90	Revise	se sale motion and accompanying order		
12/15/17 M.J. Gearin	0.70		munications with Trustee regarding sale s and potential hearing on approval of bid edures		
12/15/17 D. A. Lentz	0.30	Email from M. Gearin regarding packet of information on equipment sales and put together same			
12/15/17 D. A. Lentz	0.40	Revisions to emergency motion and shorten time motion regarding hearing date per Judge's chambers			
12/18/17 M.J. Gearin	1.00	Calls with Trustee regarding pending sale proposal; conference call with purchaser and escrow agent			
12/19/17 M.J. Gearin	1.30	Calls with Trustee regarding failure of Eureka sale and fall back plans (0.8); participate in conference call with Trustee, P. Wagner and A. Trunkette regarding close down plan (0.5).			
	TOTAL FEES	711 110	38.50 hrs \$15,722.00		
	TIMEKEEP	ER SUN	MMARY		
M.J. Gearin	15.60	hrs at	\$ 530.00 / hr 8,268.00		
D. A. Lentz	3.40		\$ 210.00 / hr 714.00		
D.C. Neu	1.10	hrs at	\$ 440.00 / hr 484.00		
B. T. Peterson	18.40	hrs at	\$ 340.00 / hr6,256.00		
	TOTAL FEES		38.50 hrs \$ <u>15,722.00</u>		

MATTER SUMMARY

Fees \$ \(\frac{15,722.00}{\text{MATTER TOTAL}} \)

Invoice # 3577794 2070561 Page 6 of 17

Business Operations (70030)

\$225.00

DATE	NAME	HOURS	DESCRIPTION		
12/08/17 K. N. Tibbert		0.90	(INVOICE CLIENT A FLAT RATE FEE OF \$225.00.); Annual Renewal Fee for registered agent services of PTSGE Corp. for an additional one-year period for Nortwest Territorial Mint, LLC		
		TOTAL FEES	0.90 hrs	\$ 225.00	
		TIMEKEEP	ER SUMMARY		
K. N. Tibber	t	0.90 TOTAL FEES	hrs at \$ 250.00 / hr 0.90 hrs	225.00 \$ 225.00	
		MATTER	SUMMARY		
Fees MATTER TO	OTAL			\$ 225.00 \$ 225.00	

Invoice # 3577794 2070561 Page 7 of 17

Case Administration (70040)

\$583.00

DATE	NAME	HOURS	DESCRIPTION	
12/26/17 M.J. Gearin		1.10	Communications with Trustee regarding conversion (.3); analysis of benefits of conversion (.8)	
		TOTAL FEES	1.10 hrs	\$583.00
		TIMEKEEP	ER SUMMARY	
M.J. Gearin			hrs at \$ 530.00 / hr	583.00
		TOTAL FEES	1.10 hrs	\$583.00
		MATTER	SUMMARY	
Fees				\$583.00
MATTER TO	OTAL			\$ <u>583.00</u>

Employee Benefits/Pensions (70060)

\$4,869.00

FEES

DATE	NAME	HOURS	DESCRIPTION
12/19/17	M.J. Gearin	0.50	Consult with employment counsel re layoff issues
12/19/17	C. C. Smith	0.20	Confer with M. Gearin regarding analysis of vacation pay issue and preparation of employee termination letter
12/20/17	M.J. Gearin	1.00	Work with employment counsel and Trustee on layoff protocol and termination notices
12/20/17	C. C. Smith	3.20	Research and analysis regarding vacation cash-out and final pay requirements in Nevada (1.2); draft employee layoff letter (1.3); confer with M. Gearin regarding same (.4); review B. Atalla agreement (.3)
12/21/17	M.J. Gearin	1.10	Calls with Trustee and employment counsel regarding layoff planning; review and revision of draft layoff notice
12/21/17	C. C. Smith	1.20	Review M. Calvert comments to employee discharge letter (.2); telephone conference with M. Calvert and M. Gearin regarding letter and payment of final wages (.5); research and analysis regarding individual liability for Nevada wage claims (.5)
12/28/17	C. C. Smith	0.10	Communications with M. Gearin regarding payments to B. Atalla
12/29/17	M.J. Gearin	2.50	Meet with M. Calvert regarding employee layoff issues (1.2); consult with C. Smith regarding revisions to employee termination letter (0.7); participate in management call regarding employee termination and plant closing (0.6);
12/29/17	C. C. Smith	1.00	Conference with M. Calvert and M. Gearin and advice regarding revisions to employee layoff letter, employee compensation and communications to B. Atalla and M. White; revise layoff letter
		TOTAL FEES	10.80 hrs \$ <u>4,869.00</u>

TIMEKEEPER SUMMARY

	TOTAL FEES	10.8	30 hrs	\$ 4,869.00
C. C. Smith	5.70 h	rs at \$	380.00 / hr	2,166.00
M.J. Gearin	5.10 h	rs at \$	530.00 / hr	2,703.00

Invoice # 3577794 2070561 Page 9 of 17

MATTER SUMMARY

Fees \$ 4,869.00 MATTER TOTAL \$ 4,869.00

American Express Fraudulent Transfer Action (70107)

\$15,057.00

DATE	NAME	HOURS	DESCRIPTION
12/01/17	D.C. Neu	2.40	Continue to review documents for production
12/05/17	P. J. Bruene	0.40	Emails and preparation for production of binder documents
12/05/17	D.C. Neu	0.40	Communicate with T. Quinlan regarding depositions
12/05/17	D. C. Wolf	0.20	Email most recent document production to opposing counsel
12/06/17	P. J. Bruene	1.70	Meeting with e-production attorneys (1.0), final organization of binder materials for production (.7)
12/06/17	G. Hein	0.40	Perform complex processes to prepare hard copy material for imaging and loading to the Ringtail case database for attorney review at the request of L. Steidl
12/06/17	D. A. Lentz	0.60	Draft notice of deposition of D. Erdmann (.2); finalize and serve same on opposing counsel (.2); research regarding PayPal contact information (.2)
12/06/17	L.E. Steidl	1.40	Review hard copy compilations received from client and confer with P. Bruene regarding contents of same to determine appropriate protocol for generation of images and load files, coordinate with vendor and technical support team regarding details of same
12/07/17	S. P. Desai	0.30	Research contact for service of process, including email or phone number of subpoena department to follow up on attempted service, to PayPal for D. Lentz
12/07/17	D. A. Lentz	0.30	Conference with D. Neu regarding amended notice of deposition (.1); amend notice and send to opposing counsel (.2)
12/07/17	D. A. Lentz	0.30	Review of D. Erdmann's motion to compel abandonment (.1); review of Judge's calendar regarding proposed hearing date (.1) email to T. Quinlan regarding error in hearing date (.1)
12/07/17	D.C. Neu	2.20	Work on discovery (1.7); call with T. Quinlan regarding status (.4)
12/08/17	D.C. Neu	4.00	Call with client regarding discovery and potential motions (.4); analysis of data for deposition (3.5)
12/11/17	G. Hein	0.30	Perform complex processes to prepare hard copy material for imaging and loading to the Ringtail case database for attorney review at

DATE	NAME	HOURS	DESCRIPTION
			the request of L. Steidl
12/11/17	D.C. Neu	0.90	Call with J. Gilmore to discuss data (.5);
			review same (.4)
12/11/17	L.E. Steidl	0.40	Review vendor images of hard copy
			compilations received from client and confer
			with vendor and technical support team
			regarding additional imaging requests and
			details related to loading and organization of
			files into case database in preparation for
			production
12/12/17	P. J. Bruene	0.20	Reviewed and responded to emails regarding
			binder production
12/12/17	L.E. Steidl	1.20	Review and mark vendor images of hard copy
			compilations received from client, coordinate
			with technical support team regarding imaging
			and loading of targeted collection received
			from client via thumb drive, and address
			organization of files in case database in
40/40/47	D. C. Wolf	0.00	preparation for production
12/12/17	D. C. WOII	0.20	Email with L. Steidl and P. Bruene regarding
12/13/17	P. J. Bruene	0.00	document production (0.2)
12/13/17	P. J. Druene	0.90	Reviewed and responded to emails relating to binder production; finalized preparations for
			binder production
12/13/17	L.E. Steidl	0.60	Review and mark vendor images of hard copy
12/10/17	L.L. Oldidi	0.00	compilations received from client in
			preparation for production, meeting with P.
			Bruene to discuss details of same
12/13/17	D. C. Wolf	0.50	Review P. Bruene's summary of inventory
			binders to assess required protective order
			designations (0.4); email to D. Neu, P.
			Bruene, and L. Steidl regarding protective
			order designations (0.1)
12/14/17	P. J. Bruene	0.30	Review of video files for production (.1),
			emails and meeting with DC Wolf (.2)
12/14/17	G. Hein	0.80	Perform complex procedures to prepare and
			produce multiple segments composing volume
			4 for production confirming compliance with
			detailed production specifications at the
12/14/17	C. M. Kuffel	1.10	request of L. Steidl Prepare Production No. 04 from Ringtail per
12/14/17	C. W. Kullel	1.10	the request of L. Steidl
12/14/17	D. A. Lentz	0.90	Deposition preparation for D. Neu for D.
12/14/17	D. A. Leniz	0.90	Erdmann deposition
12/14/17	D.C. Neu	3.50	Deposition preparation
12/14/17	L.E. Steidl	0.40	Complete review and coding of select hard
1 <i>4</i> /17/1 <i>1</i>	L.L. Otolui	0.70	copy collection documents and supervise and
			assist in preparation, export, QC, and transfer
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Invoice # 3577794 2070561 Page 12 of 17

DATE	NAME	HOURS	DESC	RIPT	ION		
			provid	ling s	on images and d ummary informa Wolf and P. Bru	tion reg	
12/14/17	D. C. Wolf	0.20			e with P. Bruene order issues (0.2		ing
12/15/17	D. C. Wolf	0.10	•	docu	ment production	•	opposing
12/19/17	D. A. Lentz	0.40	Follov	v up v	vith Paypal rega of subpoena re		
12/20/17	D. A. Lentz	0.40	Work	with [D. Neu on deposition	-	
12/20/17	D.C. Neu	4.20			and Dep prep		
12/21/17	D. A. Lentz	0.70	Work	on tru	ustee's business pert witness disc		
12/21/17	D. A. Lentz	1.10	Continued deposition preparation with D. Neu for deposition of D. Erdmann				with D. Neu
12/21/17	D.C. Neu	6.10		•	and take depos		
12/27/17	D. A. Lentz	0.70	Finalize non-expert disclosures and business record disclosures for service on opposing party and send for service				
		TOTAL FEES	Party		70 hrs	\$_	15,057.00
		TIMEKEEP	ER SUN	/MAF	RY		
P. J. Bruene	<u>م</u>	3.50	hrs at	\$	290.00 / hr		1,015.00
S. P. Desai	_		hrs at	\$	270.00 / hr		81.00
G. Hein			hrs at	\$	130.00 / hr		195.00
C. M. Kuffe	1		hrs at	\$	240.00 / hr		264.00
D. A. Lentz			hrs at	\$	210.00 / hr		1,134.00
D.C. Neu			hrs at	\$	440.00 / hr		10,428.00
L.E. Steidl		4.00	hrs at	\$	395.00 / hr		1,580.00
D. C. Wolf		1.20	hrs at	\$	300.00 / hr		360.00
		TOTAL FEES		40.	70 hrs	\$_	15,057.00

MATTER SUMMARY

 Fees
 \$ 15,057.00

 MATTER TOTAL
 \$ 15,057.00

Invoice # 3577794 2070561 Page 13 of 17

Meetings and Communications with Creditors (70110)

\$477.00

DATE	NAME	HOURS	DESCRIPTION				
12/11/17	M.J. Gearin	0.30	Email exchanges with M. Northrup regarding committee information and update on sales process				
12/19/17	M.J. Gearin	0.60	Call with M. Northrup regarding committee update on status and plans				
		TOTAL FEES	0.90 hrs	\$477.00			
		TIMEKEEP	ER SUMMARY				
M.J. Gearin		0.90 TOTAL FEES	hrs at \$ 530.00 / hr 0.90 hrs	\$ 477.00 \$ 477.00			
		TOTAL FEES	0.90 1115	Φ <u>477.00</u>			
MATTER SUMMARY							
Fees MATTER T	OTAL			\$ 477.00 \$ 477.00			

Invoice # 3577794 2070561 Page 14 of 17

Assumption and Rejection of Leases and Contracts (70150)

\$583.00

DATE	NAME	HOURS	DESCRIPTION			
12/11/17	M.J. Gearin	1.10	Review of notice of default filed by Hoffs; email exchanges with Trustee and with A. Smith regarding factual inaccuracies in not of default; investigation of status of repairs and equipment sales			
		TOTAL FEES	1.10 hrs	\$583.00		
M.J. Gearin			ER SUMMARY hrs at \$ 530.00 / hr 1.10 hrs	\$ 583.00 \$ 583.00		
MATTER SUMMARY						
Fees MATTER TO	OTAL			\$ 583.00 \$ 583.00		

Invoice # 3577794 2070561 Page 15 of 17

\$265.00

		<u>-</u>		
DATE	NAME	HOURS	DESCRIPTION	
12/21/17	M.J. Gearin	0.50	Review and revise monthly	report
		TOTAL FEES	0.50 hrs	\$ <u>265.00</u>
		<u>TIMEKEEP</u>	<u>ER SUMMARY</u>	
M.I. Coorin		0.50	hro at \$ 520.00 / hr	265.00
M.J. Gearin		TOTAL FEES	hrs at \$ 530.00 / hr	265.00 \$ 265.00
		IOIAL FEES	0.50 hrs	φ <u>203.00</u> _
		<u>MATTER</u>	SUMMARY	
_				A 005.00
Fees	OTAL			\$ 265.00
MATTER TO	UTAL			\$ <u>265.00</u>

Fees

MATTER TOTAL

Invoice # 3577794 2070561 Page 16 of 17

\$66.00

US Serial No.: 87216866					
		<u> </u>	EES		
DATE 12/29/17	NAME G. E. Carlsor	HOURS 0.30 TOTAL FEES	DESCRIPTION Review US trademark de reports 0.30 hrs	eadlines and prepare \$66.00	
TIMEKEEPER SUMMARY G. E. Carlson 0.30 hrs at \$ 220.00 / hr TOTAL FEES 66.00					

MATTER SUMMARY

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)

Invoice # 3577794 2070561 Page 17 of 17

Costs (99999) \$939.06

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
12/11/17	Local Courier - Courier Charges for Nov 2017 - TC Legal Services LLC - 11302017 - 11/8 #3 505 Union Avenue SE, Ste 120 - Serve a letter, Subpoena	101.00
12/19/17	Outside Copies - Professional Document Services - Altep California, LLC - 12142017	823.66
12/20/17	Subpoena Fees	12.00
12/27/17	Copying Expense	2.40
	DISBURSEMENTS & OTHER CHARGES \$_	939.06
	MATTER SUMMARY	
Disbursements and Other Charges \$ _ MATTER TOTAL \$ \$		

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577473

Services Through : December 31, 2017

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 633.57

633.57

CURRENT INVOICE DUE - All Matters

633.57

501935259 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

<u>Wire/ACH/EDI Instructions</u>: Receiving Bank: PNC Bank N.A, 500 First Ave 92

500 First Ave 92 Pittsburgh, PA 15219 Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

MATTER TOTAL

Litigation -- e-DAT Fees (77100)

\$633.57

633.57

DISBURSEMENTS & OTHER CHARGES

	DIODOROEMENTO A OTHER OFFICEO		
DATE	DESCRIPTION		AMOUNT
12/31/17	ESI Conversion: Convert 2.802714 GB to TIFF images @ \$100/GB: \$280.27 OCR 2,641 pages @ \$0.02/page: \$52.82		333.09
12/31/17	Ringtail Fees: December 2017 Database Hosting and Access Fe (charges based on produced volumes only): 20.03 GB @ \$15.00/GB: \$300.48	300.48	
	DISBURSEMENTS & OTHER CHARGES	\$_	633.57
	MATTER OUMMARY		
	MATTER SUMMARY		
Disbursements and Other Charges \$			

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577796

Services Through : January 31, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 34,287.50

Total Amount Due This Matter \$ 34,287.50

Business Operations (70030)

Fees \$ 645.00

Total Amount Due This Matter \$ 645.00

Case Administration (70040)

Fees \$ 2,009.50

Total Amount Due This Matter \$ 2,009.50

Claims, Administration and Objections (70050)

Fees \$ 378.00

Total Amount Due This Matter \$ 378.00

501937569 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577796 2070561 Page 2 of 25

Fees	\$ 594.00	
Total Amount Due This Matter	 	\$ 594.00

American Express Fraudulent Transfer Action (70107)

Fees	\$ <u></u>	<u>52,956.00</u>	
Total Amount Due This Matter			\$ 52,956.00

Meetings and Communications with Creditors (70110)

Fees	\$ 1,669.50	
Total Amount Due This Matter		\$ 1.669.50

Relief From Stay and Adequate Protection (70130)

Fees	\$ 5,865.50	
Total Amount Due This Matter		\$ 5,865.50

Assumption and Rejection of Leases and Contracts (70150)

Fees	\$ 2,461.50	
Total Amount Due This Matter		\$ 2,461.50

Intellectual Property Advice and Trademark Registration (70230)

Fees	\$ <u>132.00</u>	
Total Amount Due This Matter		\$ 132.00

US-TMK: MEDALLIC ART COMPANY - CL. 14 - 87216866 (70250)

Fees	\$ 88.00	
Total Amount Due This Matter	 	\$ 88.00

Invoice # 3577796 2070561 Page 3 of 25

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 4,074.98

\$ 4,074.98

CURRENT INVOICE DUE - All Matters

\$ <u>105,161.48</u>

Asset Disposition (70020)

\$34,287.50

DATE	NAME	HOURS	DESCRIPTION
01/02/18	M.J. Gearin	0.50	Draft settlement agreement with Cohen regarding Sheriff's seized inventory
01/03/18	M.J. Gearin	1.00	Draft Cohen settlement agreement regarding seized inventory (.8); email to R. Mitchell regarding same (.8)
01/04/18	M.J. Gearin	0.50	Communications regarding draft Cohen settlement on Sheriff's seized inventory
01/04/18	M.J. Gearin	0.80	Communications with Trustee regarding Tafoya offer; initial of purchase and sale agreement for Tafoya
01/05/18	D. A. Lentz	0.50	Finalize response to motion to abandon property and corresponding declaration; file same with USBC
01/05/18	D.C. Neu	1.50	Finalize and file response to motion to abandon
01/08/18	D.C. Neu	0.90	Review response to motion to abandon filed by B. Cohen
01/09/18	M.J. Gearin	0.50	Attention to motion to approve auction procedures
01/09/18	D. A. Lentz	0.20	Work with M. Gearin regarding voicemail from stored inventory customer requesting information
01/10/18	D.C. Neu	0.30	Review replies to motion to abandon
01/11/18	M.J. Gearin	1.50	Review of pleadings on Erdmann motion for abandonment; prepare for hearing
01/11/18	M.J. Gearin	0.30	Review proposed LOI from R. Hansen
01/11/18	D.C. Neu	1.30	Analysis regarding issues regarding abandonment of seized inventory
01/11/18	B. T. Peterson	1.30	Draft motion for sale of equipment at auction
01/12/18	M.J. Gearin	2.30	Prepare for and attend hearing on Erdmann motion to compel abandonment of seized inventory
01/12/18	M.J. Gearin	0.60	Calls with R. Powers and Trustee regarding Ross Hansen letter of intent to purchase assets
01/12/18	B. T. Peterson	3.40	Draft motion for sale of assets at auction
01/16/18	M.J. Gearin	0.90	Calls with Trustee regarding auction motion and other proposals for sale of assets; (.6);

DATE	NAME	HOURS	DESCRIPTION
			email exchange with R. Hyatt regarding Pan American expressed interest in assets (.3)
01/16/18	D. A. Lentz	0.70	Conference with M. Gearin regarding motion to abandon records (.1); review of files regarding previously filed motion (.1) draft motion for authority to abandon records (.5)
01/16/18	B. T. Peterson	1.60	Analyze issues related to sale motion, including asserted lien interests in property to be sold
01/16/18	B. T. Peterson	2.90	Draft motion for authority to auction property of the estate
01/17/18	M.J. Gearin	0.80	Calls with Trustee regarding various asset sale issues (.8)
01/17/18	M.J. Gearin	1.30	Revisions to draft motion to conduct auction
01/17/18	B. T. Peterson	2.40	Draft motion to sell physical assets at auction
01/18/18	M.J. Gearin	2.50	Draft revisions to auction motion
01/18/18	M.J. Gearin	0.60	Multiple calls with Trustee regarding proposed sale of dies, archives and certain equipment
01/18/18	M.J. Gearin	0.40	Review and comment on term sheet from buyer
01/18/18	B. T. Peterson	3.80	Draft pleadings in support of motion to approve auction of estate assets
01/19/18	M.J. Gearin	2.20	Draft revisions to auction motion and associated pleadings
01/19/18	D. A. Lentz	2.90	Drafting of motion to shorten time, proposed order shortening time, notice of hearing and initial drafting of order on auction motion (.9); work on exhibits to M. Calvert declaration (.2); finalize notice of hearing for service on special notice list and send for service (.3); review and finalize motion for order authorizing auction for filing (.5); conference with M. Gearin regarding need to mail to entire mailing matrix (.1); revise notice and finalize for submitting to noticing center (.2); file auction motion, shorten time motion and all supporting documents with USBC (.7)
01/19/18	B. T. Peterson	1.10	Draft revisions to auctioneer engagement agreement (.9); discuss revisions with Murphy Company (.2)
01/19/18	B. T. Peterson	4.50	Draft and revise pleadings related to motion for authority to conduct auction
01/22/18	M.J. Gearin	1.50	Draft Medalcraft asset purchase agreement
01/22/18	M.J. Gearin	1.00	Draft revisions to motion for abandonment of records
01/22/18	D. A. Lentz	0.90	Review of objection to shorten time by R. Hansen (.2), review of order submitted but not entered regarding motion to shorten time (.1);

DATE	NAME	HOURS	DESCRIPTION
			draft notice of hearing on motion to shorten time (.3); file notice of hearing on motion to shorten time and send for service (.3)
01/23/18	M.J. Gearin	1.50	Draft revisions to Medalcraft APA and circulate to J. Moran
01/23/18	M.J. Gearin	1.10	Extended call with Trustee regarding multiple purchase proposals and issues relating to same; review of emails form prospective purchasers
01/23/18	D. A. Lentz	0.90	Draft notice of hearing of motion to abandon and destroy records, declaration in support of motion, proposed order, motion to shorten time and proposed order on motion to shorten time
01/24/18	M.J. Gearin	0.30	Draft order denying Erdmann motion for abandonment
01/24/18	M.J. Gearin	2.00	Draft form APA for multiple purchasers (2.0)
01/24/18	M.J. Gearin	0.30	Call with J. Shickich regarding Boy Scouts of America issues
01/24/18	M.J. Gearin	0.80	Calls with Trustee regarding multiple expressions of interest in assets
01/24/18	D. A. Lentz	0.20	Draft letter to Judge regarding telephonic appearance (.2); file same with USBC (.1)
01/24/18	D. A. Lentz	0.30	Review responses/objections to motion for order authorizing auction
01/24/18	B. T. Peterson	0.50	Analyze issues related to potential sale of estate assets at auction
01/25/18	M.J. Gearin	3.10	Review purchase offer of Industrial Assets (.3); multiple calls with V. Gamble regarding negotiations on sale and terms of APA (.8); email communications with multiple prospective purchasers regarding proposals for purchase of assets (1.5); circulate form PSAs to prospective purchasers (.5)
01/25/18	M.J. Gearin	1.80	Review multiple objections to motion to approve auction (.8); prepare for hearing on same (1.0)
01/25/18	D. A. Lentz	0.90	Create record of parties claiming an interest in property to be auctioned (.2); review of responses received to auction motion and update hearing binder as necessary (.7)
01/25/18	B. T. Peterson	0.20	Review objections to sale motion asserting interest in dies (.1); discuss the same with M. Gearin (.1)
01/25/18	B. T. Peterson	0.50	Analyze objections filed to auction motion
01/26/18	M.J. Gearin	1.50	Prepare for and attend hearing on motion to approve auction
01/26/18	M.J. Gearin	1.10	Communications with prospective purchasers;

		review	v of purchase offers		
01/26/18 D. A. Ler	ntz 0.60		re proof of service o		
			notion to shorten time e and proof of servic	` '')Ť
			r with USBC (.2)	o morn rectioning	
01/26/18 D. A. Ler	ntz 0.70		rence with M. Geari		ome
			aring (.1); draft amen		or
			ng on auction motion ding outcome of hea		EI
			ded notice of hearing		
			and deadlines (.1)		
01/26/18 B. T. Pet	erson 0.70		order approving sale Ime with M. Gearin	motion and disc	cuss
01/29/18 M.J. Gea	arin 2.20		le communications v	vith Trustee	
01/20/10 1/101 000			ding asset disposition		⁄iew
			nalysis of alternative	proposal of	
01/29/18 B. T. Pet	erson 0.90		trial Assets (1.3) w issues related to c	isposition of dia	c by
01/29/10 D. 1. Pet	erson 0.90	Truste		isposition of die	S Dy
01/30/18 B. T. Pet	erson 1.40	Analys	sis of issues related	to assertion of	
04/04/40			ship interest in dies	•	
01/31/18 M.J. Gea	arin 3.50		le calls with Trustee roposals (1.3); exter		
			trial Assets regarding		
		•	roposal (1.2); draft r	evised APA for	
01/31/18 M.J. Gea	arin 1.10		n Ridge (1.0) rith Trustee and P. W	lagner regarding	مناء د
01/31/10 W.J. Geo	1.10		ship issues (.4); revi	•	j ule
		websi	te materials regardin	g same (.3);	
04/94/40 D.T.Dot	0.00	-	sis of ownership of d		ſ
01/31/18 B. T. Pet	erson 0.80		rence call with poter r's assets	ıllal purchaser o	ļ
01/31/18 B. T. Pet	erson 0.10	Phone	e call with individual	asserting interes	st in
	TOTAL 5550	dies	70.40	Φ 04.00	7.50
	TOTAL FEES		78.40 hrs	\$ <u>34,28</u>	<u>i7.50</u>
	TIMELIEE		ANA A DV		
	<u>TIMEKEE</u> I	PEK SUN	<u>/IIVIAK Y</u>		
M.J. Gearin	39.50	hrs at	\$ 540.00 / hr	21,33	0.00
D. A. Lentz	8.80		\$ 215.00 / hr		2.00
D.C. Neu	4.00		\$ 450.00 / hr		0.00
B. T. Peterson	26.10 TOTAL FEES	hrs at	\$ 355.00 / hr 78.40 hrs	9,26 \$ <u>34,28</u>	35.50 37.50

Invoice # 3577796 2070561 Page 8 of 25

MATTER SUMMARY

Fees \$ 34,287.50 MATTER TOTAL \$ 34,287.50

Invoice # 3577796 2070561 Page 9 of 25

Business Operations (70030)

\$645.00

FEES

DATE	NAME	HOURS	DESC	RIPTION		
01/02/18	M.J. Gearin	0.80		nunications with Truste		
			-	g and case conversior		
01/02/18	B. T. Peterson	0.60		rence regarding issue		
				rsion of case and wind	d-up of business	
	TOT 4		operat		Φ 045.00	
	IOIA	L FEES		1.40 hrs	\$ <u>645.00</u>	
	TIMEKEEPER SUMMARY					
M.J. Gearin		0.80	hrs at	\$ 540.00 / hr	432.00	
B. T. Peters	son	0.60	hrs at	\$ 355.00 / hr	213.00	
	TOTA	L FEES		1.40 hrs	\$ <u>645.00</u>	
MATTER SUMMARY						
Fees					\$ 645.00	
MATTER T	OTAI				\$ 645.00 \$	
	O I AL				Ψ	

Case Administration (70040)

\$2,009.50

FEES

DATE	NAME	HOUDO	DECC	PRINTION	
DATE 01/02/18	K. N. Tibbert	0.30		CRIPTION	rial
01/02/18	K. N. Hibbert	0.30		nnual report for Northwest Territo LLC; update corporate records re	
			same	LLC, update corporate records re	garung
01/03/18	M.J. Gearin	1.00		nd email communications with Tre	ustee
0 17 0 07 1 0				ding multiple case issues and plar	
			includ	ing Kent lease rejection, auctione	er
				s, potential sale offer and Hoff mot	tion for
0.4.4.0.4.0		0.40		from stay	
01/10/18	M.J. Gearin	0.40		with Trustee regarding multiple ca	
				s including Hoff motion for relief fr customer requests to purchase di	
			•	ing status and auction process	C3,
01/22/18	D. A. Lentz	1.30		ng with M. Gearin regarding draft	motion
				overt case (.1); research regarding	
				nitial drafting of motion to convert	case
			(8.)		
01/22/18	B. T. Peterson	2.30		arch and draft motion to convert c	
01/26/18	D. A. Lentz	0.30		notice of hearing on motion to cor	nvert
	TO	TAL FEES	case	5.60 hrs \$ 2	.009.50
	10	IAL FEES		5.60 fils \$ <u>2</u>	.,009.50
		<u>TIMEKEEP</u>	ER SUN	<u>MMARY</u>	
M.J. Gearin	1	1.40	hrs at	\$ 540.00 / hr	756.00
D. A. Lentz		1.60	hrs at	\$ 215.00 / hr	344.00
B. T. Peters	son	2.30	hrs at	\$ 355.00 / hr	816.50
K. N. Tibbe	rt	0.30	hrs at	\$ 310.00 / hr	93.00
	TO	TAL FEES		5.60 hrs \$ <u>2</u>	,009.50

MATTER SUMMARY

Fees \$ 2,009.50 MATTER TOTAL \$ 2,009.50

Invoice # 3577796 2070561 Page 11 of 25

Claims, Administration and Objections (70050)

\$378.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
01/02/18	D. A. Lentz	1.20	Draft settlement agreement band Cohen	etween Calvert		
01/16/18	C. C. Smith	0.30	Communications with M. Gea employment claims issues	arin regarding		
		TOTAL FEES	1.50 hrs	\$378.00		
	TIMEKEEPER SUMMARY					
D. A. Lentz C. C. Smith		1.20 0.30 TOTAL FEES	hrs at \$ 215.00 / hr hrs at \$ 400.00 / hr 1.50 hrs	258.00 120.00 \$ 378.00		
MATTER SUMMARY						
Fees				\$ 378.00		

MATTER TOTAL

Invoice # 3577796 2070561 Page 12 of 25

Financing and Cash Collateral (70090)

\$594.00

DATE NAME 01/31/18 M.J. Gearin		HOURS 1.10 TOTAL FEES	DESCRIPTION Communications with Trustee regarding cash collateral budget issues (.3); review and comment on draft budget (.8) 1.10 hrs \$ 594.0				
M.J. Gearin			ER SUMMARY hrs at \$ 540.00 / hr 1.10 hrs	594.00 \$ 594.00			
MATTER SUMMARY Fees \$ 594.00 MATTER TOTAL \$ 594.00							

American Express Fraudulent Transfer Action (70107)

\$52,956.00

DATE	NAME	HOURS	DESCRIPTION	
01/02/18	D.C. Neu	2.40	Work on exhibits for exchange	
01/04/18	D.C. Neu	2.30	Work on trial brief	
01/05/18	D.C. Neu	3.00	Work on exhibits	
01/08/18	D.C. Neu	3.50	Work on exhibits	
01/09/18	D.C. Neu	1.60	Work on trial exhibits	
01/10/18	D. A. Lentz	0.70	Telephone conference with D. Neu and clients regarding exhibits for trial (.4); meeting with D. Neu and D. Wolf regarding preparation of exhibits for trial (.3)	
01/10/18	D.C. Neu	5.00	Work on exhibits and verifying bank statements	
01/10/18	D. C. Wolf	0.60	Confer with D. Neu and D. Lentz regarding trial preparations and exhibits (0.4); review discovery tracking chart and email L. Steidl regarding same (0.2)	
01/11/18	D. A. Lentz	0.40	Work on designation of exhibits for trial	
01/11/18	D.C. Neu	3.70	Review documents for exhibit list	
01/11/18	L.E. Steidl	0.60	Advise trial team on strategies for locating key files within case production database (.3); locate information on key banking documents requested by D. Neu (.3)	
01/11/18	D. C. Wolf	0.50	Email correspondence with D. Neu and L. Steidl regarding trial exhibit documents and bates ranges of particular items (0.5)	
01/12/18	D.C. Neu	5.20	Trial prep	
01/12/18	D. C. Wolf	0.40	Conference with D. Neu regarding exhibit designation (0.4)	
01/16/18	D. A. Lentz	0.80	Work to finalize trustee's exhibit list for trial (.3); review of and amend trustee's business records declaration (.2); serve trustee's exhibit list and trustee's amended business records declaration on defendant (.3)	
01/16/18	D. A. Lentz	2.80	Prepare voluminous exhibits to be exchanged with opposing counsel	
01/16/18	D.C. Neu	2.60	Prepare exhibits for exchange	
01/16/18	L.E. Steidl	0.20	Assist trial team with export of exhibits for use in case filing	
01/17/18	D.C. Neu	2.00	Work on trial brief	
01/18/18	D. A. Lentz	0.60	Correct typos in Trustee's exhibit list and send to opposing counsel together with PayPal subpoena results (.2); update FTP site to add additional exhibits (.2); review of American	
504007500 0				

DATE	NAME	HOURS	DESCRIPTION
			Express statements regarding points awarded (.2)
01/18/18	D.C. Neu	7.80	Draft trial brief
01/19/18	D.C. Neu	4.10	Work on trial brief
01/20/18	D.C. Neu	6.30	Trial brief
01/22/18	D. A. Lentz	0.60	Review and finalize trial brief for filing with USBC (.4); file plaintiff's trial brief together with findings of fact and conclusions with USBC (.2)
01/22/18	D.C. Neu	5.00	Work on trial brief and pretrial order (4.4); communicate with T. Quinlan regarding same (.3)
01/23/18	D. A. Lentz	0.30	Review and finalize pretrial order for filing with Court (.2); upload order for entry with the court (.1)
01/23/18	D. A. Lentz	2.50	Work on submission of exhibits to court which includes voluminous documents
01/23/18	D.C. Neu	2.10	Draft pretrial order (1.5); communications with T. Quinlan regarding same (.6)
01/24/18	D. A. Lentz	1.30	Draft letter to Judge's chambers regarding technology needs for trial (.2); continue preparation of exhibit binders for trial (1.1); file letter to Judge with USBC (.1)
01/24/18	D.C. Neu	3.20	Witness prep
01/25/18	D. A. Lentz	2.50	Trial preparation, specifically continued work on trial exhibits
01/25/18	D.C. Neu	5.40	Trial prep (4); meeting with J. Gilmore to discuss testimony (1.4)
01/26/18	D. A. Lentz	2.40	Trial preparation including preparing indexes to exhibit binders, update trustee's exhibit list for trial; send trial exhibits to court and opposing counsel, trial binder, prepare deposition transcripts for use at trial
01/26/18	D.C. Neu	4.00	Trial prep
01/26/18	B. T. Peterson	0.40	Review and analyze trial brief arguments
01/27/18	B. T. Peterson	1.50	Review and analyze arguments in Defendant's trial brief
01/29/18	D. A. Lentz	1.90	Trial prep
01/29/18	D. A. Lentz	0.40	Review and finalize trial reply brief for filing and file with USBC
01/29/18	D.C. Neu	5.60	Finalize trial exhibits (1.3); prepare examinations (4)
01/29/18	B. T. Peterson	5.40	Research and draft trial brief
01/30/18	D. A. Lentz	8.00	Attend and assist at trial
01/30/18	D.C. Neu	10.00	Prepare for and attend trial
01/31/18	D. A. Lentz	7.50	Attend and assist at trial

Invoice # 3577796 2070561 Page 15 of 25

\$ 52,956.00 \$ 52,956.00

DATE	NAME	HOURS	DESC	RIP	TION		
01/31/18	D.C. Neu	9.30	Prepa	Prepare for and attend trial			
01/31/18	B. T. Peterson	0.50	Rese	Research point of law for trial argument			
		TOTAL FEES		136	.90 hrs	\$ <u>52,956.00</u>	
TIMEKEEPER SUMMARY							
D. A. Lentz		32.70	hrs at	\$	215.00 / hr	7,030.50	
D.C. Neu		94.10	hrs at	\$	450.00 / hr	42,345.00	
B. T. Peters	on	7.80	hrs at	\$	355.00 / hr	2,769.00	
L.E. Steidl		0.80	hrs at	\$	405.00 / hr	324.00	
D. C. Wolf		1.50	hrs at	\$	325.00 / hr	487.50	
		TOTAL FEES		136	.90 hrs	\$ 52,956.00	
			SUMM	IARY	 , -		

Fees

MATTER TOTAL

Meetings and Communications with Creditors (70110)

\$1,669.50

FEES

DATE	NAME	HOURS	DESCRIPTION
01/11/18	M.J. Gearin	0.50	Call with M. Northrup regarding case update
01/23/18	D. A. Lentz	0.80	Listen to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
01/24/18	D. A. Lentz	1.20	Listened to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
01/25/18	D. A. Lentz	1.30	Listened to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
01/26/18	D. A. Lentz	0.20	Voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
01/29/18	M.J. Gearin	0.80	Call with D. James, creditor committee chair
01/29/18	D. A. Lentz	0.30	Listen to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
01/31/18	D. A. Lentz	0.70	Listened to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
		TOTAL FEES	5.80 hrs \$ <u>1,669.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.30	hrs at	\$	540.00 /	hr	702.00
D. A. Lentz	4.50	hrs at	\$	215.00 /	hr	967.50
	TOTAL FEES		5.8	0 hrs	\$	1,669.50

MATTER SUMMARY

Fees	\$ <u>1,6</u>	<u>69.50</u>
MATTER TOTAL	\$1.6	69.50

Relief From Stay and Adequate Protection (70130)

\$5,865.50

FEES

DATE	NAME	HOURS	DESCRIPTION
01/02/18	M.J. Gearin	0.40	Review and analysis of Hoff motion for relief from stay
01/09/18	B. T. Peterson	0.10	Discuss motion for relief from stay filed by landlord with M. Gearin
01/17/18	B. T. Peterson	0.70	Analyze issues related to Hoffs relief from stay motion
01/18/18	B. T. Peterson	1.70	Draft declaration of M. Calvert in support of Trustee's response to relief from stay motion
01/19/18	M.J. Gearin	2.10	Draft revisions to response to Hoff motion for relief from stay and trustee's declaration in support; message for A. Smith
01/19/18	D. A. Lentz	0.70	Review and finalize declaration in support of response to motion for relief from stay (.2); review and finalize objection to motion for relief from stay (.2); file documents with USBC (.3)
01/19/18	B. T. Peterson	1.90	Draft response to relief from stay motion
01/23/18	M.J. Gearin	0.50	Review Hoff reply on motion for relief from stay
01/23/18	B. T. Peterson	0.20	Review reply filed by Hoffs in support of relief from stay motion
01/24/18	M.J. Gearin	0.70	Draft letter to court regarding Trustee's telephonic appearance; prepare for hearing on Hoff motion for relief
01/25/18	M.J. Gearin	1.20	Prepare for hearing on Hoff motion for relief from stay
01/25/18	D. A. Lentz	0.40	Hearing preparation with M. Gearin on Hoff motion for relief from stay
01/26/18	M.J. Gearin	2.50	Prepare for and attend hearing on Hoff motion for relief from stay
	TOTA	L FEES	13.10 hrs \$ <u>5,865.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	7.40	hrs at	\$	540.00 / hr		3,996.00
D. A. Lentz	1.10	hrs at	\$	215.00 / hr		236.50
B. T. Peterson	4.60	hrs at	\$	355.00 / hr		1,633.00
	TOTAL FEES		13.1	0 hrs	\$_	5,865.50

Invoice # 3577796 2070561 Page 18 of 25

MATTER SUMMARY

Fees \$ 5,865.50 MATTER TOTAL \$ 5,865.50

Assumption and Rejection of Leases and Contracts (70150)

\$2,461.50

FEES

DATE	NAME	HOURS	DESCRIPTION
01/02/18	M.J. Gearin	0.40	Meet regarding rejection of Kent lease
01/04/18	B. T. Peterson	1.00	Draft motion to reject Kent lease
01/05/18	D. A. Lentz	0.30	Draft proposed order on motion to reject Kent lease
01/05/18	B. T. Peterson	2.00	Draft motion to reject Kent Lease
01/08/18	D. A. Lentz	0.50	Draft notice of hearing regarding motion to reject Kent lease (.4); prepare master mailing list for notice of hearing (.1)
01/08/18	B. T. Peterson	0.60	Review and revise pleadings in support of Kent Lease rejection motion
01/09/18	M.J. Gearin	0.30	Communications with A. Smith and Trustee re Hoff lease relief from stay motion
01/10/18	B. T. Peterson	0.50	Finalize pleadings related to Motion to Reject Kent Lease
01/11/18	D. A. Lentz	0.80	Review and finalize motion to reject Kent lease and related documents (.3); file motion documents with USBC and send for service to special notice list (.4); calendar dates and deadlines regarding same (.1)
01/11/18	B. T. Peterson	0.50	Finalize pleadings in support of motion to reject Kent Lease
01/25/18	B. T. Peterson	0.30	Review correspondence from counsel for Kent landlord and respond to the same
	TOTAL	. FEES	7.20 hrs \$ <u>2,461.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.70	hrs at	\$	540.00 / hr	378.00
D. A. Lentz	1.60	hrs at	\$	215.00 / hr	344.00
B. T. Peterson	4.90	hrs at	\$	355.00 / hr	1,739.50
	TOTAL FEES		7.2	20 hrs	\$ 2,461.50

MATTER SUMMARY

Fees \$ 2,461.50

MATTER TOTAL \$ 2,461.50

MATTER TOTAL

Invoice # 3577796 2070561 Page 20 of 25

Intellectual Property Advice and Trademark Registration (7023

\$132.00

DATE 01/05/18 01/11/18	G. E. Carlson G. E. Carlson		•	e wee	ON ekly status repor ekly status repor 0 hrs	
G. E. Carlso	on	0.60 TOTAL FEES		MAR ` \$ 0.6		\$ 132.00 132.00
Fees		MATTER	SUMMA	.RY		\$ 132.00

Invoice # 3577796 2070561 Page 21 of 25

88.00

	US-TMK: MEDALLIC ART COMPANY	- CL. 14 - 87216866 (7025)	O) \$88.00
--	-------------------------------------	----------------------------	------------

US Serial No.: 87216866

MATTER TOTAL

DATE 01/08/18 01/12/18	NAME G. E. Carlson G. E. Carlson		DESCRIPTION Draft email to P. Jacobson restatus report Email to P. Jacobson regard report 0.40 hrs		-	
G. E. Carlso	on		hrs at \$ 220.00 / hr 0.40 hrs	\$	88.00 88.00	
MATTER SUMMARY Fees \$ 88.00						

Invoice # 3577796 2070561 Page 22 of 25

Costs (99999) \$4,074.98

Invoice # 3577796 2070561 Page 23 of 25

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
01/04/18	12/31/17 - WA DOR: File Annual Report for Northwest Territorial Mint, LLC	71.00
01/04/18	12/31/17 - WA DOR (Non-State Vendor Credit Card Fee): File Annual Report for Northwest Territorial Mint, LLC	1.78
01/11/18	Copying Expense	31.20
01/19/18	Copying Expense	30.80
01/22/18	Copying Expense	30.80
01/23/18	Copying Expense	93.40
01/23/18	Copying Expense	92.40
01/23/18	Copying Expense	100.00
01/23/18	Copying Expense	69.40
01/23/18	Copying Expense	96.20
01/23/18	Copying Expense	100.00
01/23/18	Copying Expense	68.60
01/23/18	Copying Expense	41.20
01/23/18	Copying Expense	99.60
01/23/18	Copying Expense	99.60
01/23/18	Copying Expense	83.00
01/23/18	Copying Expense	71.20
01/23/18	Copying Expense	72.60
01/23/18	Copying Expense	100.00
01/23/18	Travel Expenses - Gearin, Michael - Parking - 2018-01-12 - IMPARK 00250010 - 1 12 hearing parking	12.00
01/24/18	Copying Expense	0.80
01/24/18	Copying Expense	0.80
01/24/18	Copying Expense	3.60
01/24/18	Copying Expense	2.40
01/24/18	Copying Expense	0.80
01/24/18	Copying Expense	1.20
01/24/18	Copying Expense	1.20
01/24/18	Copying Expense	0.60
01/24/18	Copying Expense	4.60
01/24/18	Copying Expense	20.80
01/24/18	Copying Expense	96.40
01/24/18	Copying Expense	98.40
01/24/18	Copying Expense	61.80
01/24/18	Copying Expense	106.40

Invoice # 3577796 2070561 Page 24 of 25

DATE	DESCRIPTION	AMOUNT
01/24/18	Copying Expense	116.20
01/24/18	Copying Expense	41.00
01/24/18	Copying Expense	102.80
01/24/18	Copying Expense	84.00
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	27.00
01/24/18	Copying Expense	3.40
01/24/18	Copying Expense	6.60
01/24/18	Copying Expense	0.80
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	0.60
01/24/18	Copying Expense	1.00
01/24/18	Copying Expense	0.60
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	79.40
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	6.00
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	12.20
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	0.40
01/24/18	Copying Expense	15.20
01/24/18	Copying Expense	135.60
01/24/18	Copying Expense	30.60
01/24/18	Copying Expense	44.60
01/24/18	Color Copying/Printing	2.00
01/24/18	Color Copying/Printing	69.00
01/24/18	Color Copying/Printing	1.00
01/24/18	Color Copying/Printing	1.00
01/24/18	Color Copying/Printing	273.00
01/25/18	Copying Expense	11.20
01/25/18	Copying Expense	152.60
01/25/18	CD ROM Expenses	125.00
01/26/18	Copying Expense	6.00
01/26/18	Copying Expense	1.00
01/26/18	Copying Expense	6.00
01/26/18	Copying Expense	1.00
01/28/18	USDC WA Filing Fee	181.00

MATTER TOTAL

Invoice # 3577796 2070561 Page 25 of 25

\$ 4,074.98

DATE	DESCRIPTION	AMOUNT			
01/28/18	USBC/Audio CD of Hearing	31.00			
01/28/18	Yom Reporting/Erdmann Transcript	739.20			
	DISBURSEMENTS & OTHER CHARGES				
MATTER SUMMARY					
	MATTEROUMMART				
Disburseme	\$ 4,074.98				

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date November 1, 2018

Invoice Number 3577475

Services Through: January 31, 2018

Our File Number 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935264 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Pittsburgh, PA 15219

Beneficiary: K&L Gates LLP Acct No.: 1077692783

Routing/ABA: 043000096

Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577475 2070561 Page 2 of 2

Litigation e-DAT Fees (77100

\$300.48

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
01/31/18	Ringtail Fees: January 201 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48
	DISBURSEMENTS & OTHER CHARGES	\$ 300.48
	MATTER SUMMARY	

Disbursements and Other Charges	\$ 300.48
MATTER TOTAL	\$ 300.48

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577800

Services Through : February 28, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 64,309.50

Total Amount Due This Matter \$ 64,309.50

Case Administration (70040)

Fees \$ 2,627.50

Total Amount Due This Matter \$ 2,627.50

Claims, Administration and Objections (70050)

Fees \$ 14,546.00

Total Amount Due This Matter \$ 14,546.00

Financing and Cash Collateral (70090)

Fees \$ 3,840.00

Total Amount Due This Matter \$ 3,840.00

501937600 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 500 First Ave 92 Acct No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577800 2070561 Page 2 of 24

Fees Total Amount Due This Matter	\$	86.00	<u>) </u>	86.00
American Express Fraudulent Transfer Action	on (70	107)		
Fees Total Amount Due This Matter	\$	8,523.50	<u>) </u>	8,523.50
Meetings and Communications with Credito	rs (70	110)		
Fees Total Amount Due This Matter	\$	344.00	<u>) </u>	344.00
Relief From Stay and Adequate Protection (7	70130)			
Fees Total Amount Due This Matter	\$	1,295.50	<u>) </u>	1,295.50
Assumption and Rejection of Leases and Contracts (70150)				
Fees Total Amount Due This Matter	\$	150.50	<u>) </u>	150.50
Reporting (70210)				
Fees Total Amount Due This Matter	\$	43.00	<u>) </u>	43.00
Costs (99999)				
Disbursements and Other Charges Total Amount Due This Matter	\$_	14,697.55	<u>\$</u>	14,697.55
CURRENT INVOICE DUE - All Matters			\$	110,463.05

Asset Disposition (70020)

\$64,309.50

DATE	NAME	HOURS	DESCRIPTION
02/01/18	M.J. Gearin	2.50	Review and analysis of revised Industrial Assets APA (1.5); multiple calls with Industrial assets representative regarding sale issues (1.0)
02/01/18	M.J. Gearin	1.50	Review and analysis of Medalcraft and Canadian Coin asset purchase agreements (.9); call with Trustee and P. Wagner regarding integration of proposed sales (.6)
02/02/18	M.J. Gearin	0.70	Email exchanges with parties expressing ownership interest in dies (.2); email with J. Moran regarding testimony regarding ownership of dies (.2); email with P. Wagner regarding company policy on die ownership (.3)
02/02/18	M.J. Gearin	2.40	Calls with Industrial Assets representatives and Trustee (.6); revise Industrial Assets APA (1.8)
02/02/18	M.J. Gearin	1.10	Revisions to Medalcraft APA
02/02/18	B. T. Peterson	2.40	Draft motion to approve bid procedures for sale of estate assets
02/03/18	B. T. Peterson	1.40	Draft motion authorizing bid procedures and borrowing authority
02/04/18	B. T. Peterson	0.90	Draft bid procedures motion and motion to obtain credit from purchaser
02/05/18	M.J. Gearin	2.50	Call with Industrial Assets group regarding revisions to APA (.9); revise APA (1.0); call with Trustee and P. Wagner regarding equipment included in sale as compared to ARM sale and sale to Medalcraft (.6)
02/05/18	D. A. Lentz	0.70	Review of court docket/file regarding responses to motion to approve auction and email with attorneys regarding confirmation of hearing (.2); confirm hearing on motion to approve auction (.1); deal with multiple creditors filing or mailing responses to auction motion (.4)
02/05/18	D. A. Lentz	0.50	Meetings with M. Gearin regarding sale of business and included equipment (.2); review of exhibit provided by purchaser in attachment

DATE	NAME	HOURS	DESCRIPTION
			to purchase and sale agreement (.3)
02/05/18	B. T. Peterson	0.50	Draft declaration of Mark Calvert in support of bid procedures motion
02/06/18	M.J. Gearin	1.50	Multiple calls with Trustee regarding asset sale negotiations with Industrial Assets (1.1); call with Industrial Assets representatives regarding asset identification (.4)
02/06/18	M.J. Gearin	1.30	Meet and follow up calls with Trustee and P. Wagner regarding reply regarding ownership issues
02/06/18	D. A. Lentz	0.20	Revisions to proof of service of order setting auction motion and amended notice of hearing
02/06/18	D. A. Lentz	1.70	Review multiple objections/declarations filed regarding auction motion (.2); work on spreadsheet for parties claiming an interest in property that is part of auction motion (.5); meeting with M. Gearin regarding organize objections from numerous parties to auction motion (.1); organize objections and create binder for B. Peterson for use in drafting reply (.9)
02/06/18	D.C. Neu	1.60	Work on responsive pleadings to sale objections
02/06/18	B. T. Peterson	6.00	Draft pleadings in support of bid procedures motion
02/07/18	M.J. Gearin	1.50	Revisions to multiple pleadings regarding bid procedures and breakup fee
02/07/18	M.J. Gearin	4.20	Multiple and extensive communications with Industrial Assets representatives on negotiations for sale and documentation of sale agreement
02/07/18	D. A. Lentz	2.80	Review and revisions of reply to auction and corresponding documents (.5); review and update spreadsheet regarding interest claimed in dies (.4); review of exhibits regarding redaction of personal info (.3); voicemail to Judge's chambers regarding hearing binder (.1); final review and revisions of documents for filing with court (1.0); file reply and supporting documents with USBC (.5)
02/07/18	D.C. Neu	4.80	Draft and edit responsive pleadings related to asset sale
02/07/18	B. T. Peterson	6.90	Draft pleadings in support of motion to approve bid procedures
02/08/18	D. A. Lentz	1.60	Review of additional parties asserting interests in dies and update spreadsheet regarding same (.2); work with team on

DATE	NAME	HOURS	DESCRIPTION
			motion to incur credit and all related documents (.5); work on motion to shorten time documents (.3); finalize all documents for filing with court (.3); file documents with USBC and send for service (.3)
02/08/18	B. T. Peterson	2.20	Edit and finalize bid procedures motion and order
02/09/18	M.J. Gearin	4.20	Prepare for and attend hearing on motion to approve auction addressing ownership and sale procedure issues
02/09/18	M.J. Gearin	0.90	Meet with B. Peterson re planning for filing of pleadings in support of asset sales efforts
02/09/18	D. A. Lentz	0.20	Conference with M. Gearin regarding results of motion to shorten time (.2); finalize order for entry with court (.1); upload order (.1)
02/09/18	B. T. Peterson	0.90	Participate in meeting regarding outcome of hearing and Court's comments regarding auction motion and die ownership
02/09/18	B. T. Peterson	0.10	Draft notice of hearing on bid procedures motion
02/12/18	R. W. Edmondson	1.10	Research related to ownership of goods bearing another entities trademark
02/12/18	M.J. Gearin	0.90	Calls and emails with J. Kornfeld regarding American Numismatic purchase offer
02/12/18	D. A. Lentz	1.10	Calendar dates and deadlines on scheduling order for sale motions and bid procedure motion (.1); meeting with M. Gearin regarding mailing of notice and status of sale motion (.1); drafting of notice of hearing on motion for bid procedures (.3); draft of notice of hearing on sale motions (.4); calendar briefing deadlines on die issue (.2)
02/12/18	D. A. Lentz	0.60	Work on die issues
02/12/18	D.C. Neu	5.60	Meeting to discuss task list (1); analysis and research related to intellectual property issues relating to dies and asset disposition (4); meeting with Pam Kohli regarding IP issues (.6)
02/12/18	B. T. Peterson	1.80	Prepare motion to sell assets to Industrial Assets
02/12/18	M.H. Wittow	0.40	Review Territorial Mint and supplier rights and obligations regarding intellectual property used in dies with D. Neu (.2), provide recommendations regarding disposition of dies (.2)
02/13/18	R. W. Edmondson	3.10	Work on assessment email related to ownership of dies (.6); review and analyze relevant provisions of Uniform Commercial

DATE	NAME	HOURS	DESCRIPTION
			Code and Copyright Ac (1.4); research relevant case law (1.1)
02/13/18	M.J. Gearin	1.40	Participate in call with Trustee, D. Neu and P. Wagner regarding background and evidentiary support on ownership of dies
02/13/18	M.J. Gearin	1.10	Communications with J. Kornfeld and Trustee regarding proposed sale to American Numismatic Society; review proposed APA
02/13/18	M.J. Gearin	0.50	Email to J. Shickich regarding sale proposal for Boy Scouts inventory
02/13/18	M.J. Gearin	0.30	Review and revise notice of sales to Industrial Assets and Medalcraft
02/13/18	D. A. Lentz	0.60	Prepare/revise mailing matrix for notice of hearing on motions to approve sale (.4); send notice of hearing for service on matrix (.2)
02/13/18	D. A. Lentz	0.80	Review of updated spreadsheet re dies from P. Wagner (.1); finish compiling information for D. Neu in binder (.3); review of additional updated spreadsheet re dies (.1); update binder with sample artwork (.3)
02/13/18	D.C. Neu	6.70	Call with Robert Reedy regarding die issues (.3); calls with client to discuss sales issues and evidence (1); research and drafting regarding law on interests in dies (5.4)
02/13/18	B. T. Peterson	0.50	Draft motion to approve sale to Industrial Assets
02/14/18	R. W. Edmondson	0.20	Work on assessment email related to copyright ownership of derivative works
02/14/18	M.J. Gearin	1.50	Draft revisions to American Numismatic Society APA; discuss same with Trustee
02/14/18	M.J. Gearin	1.40	Calls with Trustee, P. Wagner and J. Moran regarding die ownership issues in connection with Medalcraft sale
02/14/18	M.J. Gearin	1.10	Revisions to draft Industrial Asset sale motion
02/14/18	D.C. Neu	4.10	Draft J. Moran declaration in support of sale (.9); Communicate with J. Moran regarding declarations (.3); communicate with S. Skaggs regarding same (.3); draft additional declarations (2); work on briefing regarding intellectual property (.6)
02/14/18	B. T. Peterson	2.90	Draft motion to approve sale to Industrial Assets (.9); draft motion to approve sale to Medalcraft (2.0)
02/15/18	D.C. Neu	6.20	Research, draft, and edit memorandum regarding dies (5.6); revise Connie Hoff declaration (.3); communicate with A. Smith regarding same (.2)
02/15/18	B. T. Peterson	1.50	Draft pleadings in support of motion to

DATE	NAME	HOURS	DESCRIPTION
00/45/40	D. T. Dataman	4.50	approve sale to Industrial Assets
02/15/18	B. T. Peterson	1.50	Draft pleadings in support of motion to approve sale to Medalcraft
02/16/18	M.J. Gearin	2.00	Comments to pleadings on Medalcraft sale
02/16/18	D. A. Lentz	2.20	Work with attorneys to review, finalize, assemble exhibits, etc. and file documents related to two motions approving sale of assets
02/16/18	D.C. Neu	5.20	Revise Wagner declaration in support of sale motion (.3); communicate with M. Gearin regarding same (.2); draft memorandum on intellectual property issues (4.5); communicate with P. Wagner regarding declaration (.2)
02/16/18	B. T. Peterson	1.30	Draft and finalize pleadings for motion to approve sale to Medalcraft
02/16/18	B. T. Peterson	1.40	And draft and finalize pleadings in support of motion to approve sale to Industrial Assets
02/19/18	M.J. Gearin	1.10	Work on American Numismatic Society sale agreement (.8); communications regarding die ownership issues (.3)
02/19/18	D. A. Lentz	0.60	Update files regarding sale motions and email documents to M. Calvert (.2); calendar hearing dates and deadlines (.1); binder to Judge Alston on Bid procedures motion (.2); email documents to creditor upon request (.1)
02/20/18	D. A. Lentz	0.50	Finalize supplemental brief regarding IP issues for filing with court (.3); file supplemental brief with USBC (.2)
02/20/18	D. A. Lentz	0.90	Draft letter to Judge regarding appearance by telephone for M. Calvert (.2); telephone call with Judge's chambers regarding confirmed hearing (.1); update spreadsheet of die customers claiming ownership and update binder re same (.4); finalize letter to Judge and file with USBC (.2)
02/20/18	D.C. Neu	3.00	Calls with parties alleging interest in dies (.5); call with J. Moran regarding die issues (.3); communicate with M. Kaplan regarding same (.7); revise memorandum regarding interests (1); research regarding parties asserting interests in dies (.5)
02/21/18	D. A. Lentz	0.50	Perform work regarding bid procedures motion and upcoming hearing (.4); field phone calls and emails from die customers (.1)
02/21/18	D.C. Neu	0.50	Review communication from M. Kaplan regarding dies (.1); phone call with party alleging die ownership (.4)

DATE	NAME	HOURS	DESCRIPTION
02/22/18	M.J. Gearin	0.50	Communications with A. Smith re bid procedures motion issues; revise form of order on bid procedures
02/22/18	D. A. Lentz	0.50	Emails from M. Gearin regarding proposed order and upcoming hearing on bid procedures motion (.2); request hearing binder for M. Gearin (.1); emails with parties regarding die customers and related questions (.2)
02/22/18	D.C. Neu	1.10	Call with M. Kaplan regarding die issues (.5); emails to client regarding same (.3); Call with R. Reedy regarding same (.3)
02/22/18	B. T. Peterson	1.10	Draft motion to approve sale to American Numismatic
02/23/18	M.J. Gearin	2.50	Prepare for and attend hearing on bid procedures and DIP financing (2.0); draft revised order approving bid procedures (.3); communications regarding form of order (.2)
02/23/18	D. A. Lentz	0.30	Review and finalize order on bid procedures motion and upload same to Court for entry
02/26/18	M.J. Gearin	3.20	Call with J. Moran regarding revisions to Medalcraft APA (.4); revise American Numismatic APA and circulate to J. Kornfeld (.6); call with Trustee regarding multiple sales issues (.5); call with P. Wagner regarding die notice issues (.3); email to J. Shickich regarding Boy Scouts inventory (.5); revisions to ex parte motion to approve notice to customers regarding die sales (.9)
02/26/18	D. A. Lentz	0.50	Prepare spreadsheet regarding value of Pan American alleged collateral
02/26/18	D. A. Lentz	1.80	Draft notice to die holders (.4); draft ex parte motion to approve notice to die holders (.4); draft order approving ex parte motion (.3); revisions of all documents and finalize for filing (.4); telephone call with P. Wagner and D. Neu (.1); file ex parte motion with USBC (.2)
02/26/18	D.C. Neu	4.60	Draft and edit pleadings related to notice of dies (1.8); call with M. Kaplan regarding die issues (.5); communications with P. Wagner related to same (.5); address issues with Brookgreen dies (1); communicate with J. Moran regarding sale issues (.3); communications regarding sales of dies back to customers (.5)
02/27/18	M.J. Gearin	1.10	Calls with J. Kornfeld and P. Wagner regarding American Numismatic sale issues

DATE	NAME	HOURS	DESCRIPTION
			and follow up email communications
02/27/18	M.J. Gearin	0.50	Communications regarding resolution of
			issues relating to die ownership (.5)
02/27/18	M.J. Gearin	0.50	Call with J. Shickich regarding Boy Scouts
			issues (.3); review email from S. Shickich
			regarding same (.2)
02/27/18	M.J. Gearin	0.60	Revisions to form of notice regarding die
			ownership to customers (.6)
02/27/18	D. A. Lentz	1.60	Review of order submitted but not entered
			regarding approval of notice to die customers
			and conference with attorneys regarding same
			(.2); revise ex parte motion as renewed motion to approve notice per Judge's
			instructions (.2); revise notice (.2); revise order
			(.1); review and finalize all documents
			including letter from M. Calvert as exhibit B
			(.2); file ex parte motion with Court and upload
			order (.2); work with P. Wagner on mailing list
			for die notice including removing duplicate
			addresses and submitting to be printed in
			label format (.5)
02/27/18	D.C. Neu	2.20	Call with M. Kaplan regarding dies issues (.5);
			communications with client related to same
			(1); research related to same (.6)
02/27/18	L.E. Steidl	0.40	Assist in auditing mailing list for notice
			recipients, conferring with D. Lentz regarding
00/00/40	D A 11-	4.00	parameters for same
02/28/18	D. A. Lentz	1.60	Work with staff to prepare mailing of notice to 1890 die customers and send for service
			(1.4); communications with client regarding
			posting on the websites (.2)
02/28/18	D. A. Lentz	0.20	Confirm hearing on whether trustee may sell
02/20/10	D. A. LOME	0.20	dies with USBC (.1); multiple phone calls with
			Judge's chambers regarding same (.1)
02/28/18	D.C. Neu	2.60	Call with Joe Schickich regarding Boy Scout
			issues (.3); review documents related to same
			(.5); calls with M. Kaplan regarding
			Brookgreen Gardens (.5); review and respond
			to emails related to same (.4); work on
			resolution of die related objections (.9)
		TOTAL FEES	153.20 hrs \$ <u>64,309.50</u>

Invoice # 3577800 2070561 Page 10 of 24

TIMEKEEPER SUMMARY

R. W. Edmondson	4.40	hrs at	\$	365.00 /	/ hr	1,606.00
M.J. Gearin	44.50	hrs at	\$	540.00 /	/ hr	24,030.00
D. A. Lentz	22.00	hrs at	\$	215.00 /	/ hr	4,730.00
D.C. Neu	48.20	hrs at	\$	450.00 /	/ hr	21,690.00
B. T. Peterson	33.30	hrs at	\$	355.00 /	/ hr	11,821.50
L.E. Steidl	0.40	hrs at	\$	405.00 /	/ hr	162.00
M.H. Wittow	0.40	hrs at	\$	675.00 /	/ hr	270.00
	TOTAL FEES		153.20	hrs		\$ 64,309.50

MATTER SUMMARY

Fees \$ 64,309.50 MATTER TOTAL \$ 64,309.50

Invoice # 3577800 2070561 Page 11 of 24

Case Administration (70040)

\$2,627.50

FEES

DATE	NAME	HOURS	DESCRIPTION
02/01/18	D.C. Neu	2.00	Meeting to discuss case status
02/09/18	D.C. Neu	1.30	Meeting to discuss case task list
02/12/18	M.J. Gearin	1.10	Meet regarding coordination of multiple projects including draft sale motions, die resolution issues, and pending sale negotiations
02/12/18	D. A. Lentz	0.90	Meet to discuss matters of case with team
02/12/18	B. T. Peterson	1.00	Meeting with K&L Gates bankruptcy team related to outstanding legal issues and case management
	TOTAL	FEES	6.30 hrs \$ <u>2,627.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	1.10	hrs at	\$	540.00 / hr		594.00
D. A. Lentz	0.90	hrs at	\$	215.00 / hr		193.50
D.C. Neu	3.30	hrs at	\$	450.00 / hr		1,485.00
B. T. Peterson	1.00	hrs at	\$	355.00 / hr		355.00
	TOTAL FEES		6.30 hrs		\$_	2,627.50

MATTER SUMMARY

Fees \$ 2,627.50 MATTER TOTAL \$ 2,627.50

Claims, Administration and Objections (70050)

\$14,546.00

DATE	NAME	HOURS	DESCRIPTION
02/01/18	B. T. Peterson	0.50	Discuss issues related to WARN act lawsuit with M. Gearin
02/02/18	B. T. Peterson	2.10	Research related to WARN Act complaint
02/08/18	B. T. Peterson	1.40	Research and analysis of WARN Act claim
02/09/18	R. J. Groshong	0.40	Conference with B. Peterson regarding WARN act issues
02/09/18	B. T. Peterson	1.10	Discuss legal issues related to WARN Act with employment law counsel
02/09/18	E. C. Watson	0.40	Meeting with B. Petersen regarding Worker Adjustment Retraining Notification act issues
02/12/18	B. T. Peterson	0.70	Analyze legal merits of WARN Act defenses
02/13/18	B. T. Peterson	3.80	Research related to WARN Act adversary proceeding
02/13/18	E. C. Watson	2.40	Conduct legal research regarding Worker Retraining and Notification Act, the distinction between mass layoffs and plant closures during a cessation of operations, and the faltering business exception; conversation with D. Hurley and call with B. Peterson regarding the same
02/14/18	B. T. Peterson	0.10	Analysis of issues related to WARN Act claim
02/15/18	B. T. Peterson	0.10	Analyze issues related to WARN Act
02/16/18	B. T. Peterson	0.10	Draft and review correspondence regarding WARN Act liability
02/17/18	B. T. Peterson	2.40	Research and draft memorandum regarding WARN Act liability and defenses
02/18/18	B. T. Peterson	0.70	Research and draft memo regarding WARN Act liability 2070561 70050
02/19/18	B. T. Peterson	4.90	Research and draft memo regarding WARN Act liability and defenses
02/25/18	B. T. Peterson	2.20	Draft memo analyzing WARN Act claims and defenses
02/26/18	B. T. Peterson	3.50	Draft memo analyzing WARN Act claims and defenses
02/27/18	M.J. Gearin	0.70	Meet regarding WARN Act complaint
02/27/18	B. T. Peterson	2.20	Draft memo related to WARN Act claims and defenses
02/27/18	B. T. Peterson	3.40	Draft answer to WARN Act complaint
02/28/18	P.M. Madden	3.60	Review memo on WARN Act, meet with M. Gearin, et al. regarding WARN Act issues, and pull past WARN Act materials
02/28/18 501937600 v2	B. T. Peterson	1.50	Meeting with P. Madden and M. Gearin

MATTER TOTAL

Invoice # 3577800 2070561 Page 13 of 24

DATE	NAME	HOURS	DESC	RIPTI	ON		
02/28/18 B. T. Peterson		n 1.30	regarding WARN Act complain Draft and revise answer to WA complaint				Act
		TOTAL FEES	·	39.5	0 hrs	\$_	14,546.00
		TIMEKEEP	ER SUM	/MAR	<u>Y</u>		
M.J. Geari	n	0.70	hrs at	\$	540.00 / hr		378.00
R. J. Grosł	nong	0.40	hrs at	\$	345.00 / hr		138.00
P.M. Madd	en	3.60	hrs at	\$	485.00 / hr		1,746.00
B. T. Peter	son	32.00	hrs at	\$	355.00 / hr		11,360.00
E. C. Wats	on	2.80	hrs at	\$	330.00 / hr		924.00
		TOTAL FEES	39.50 hrs		0 hrs	\$_	14,546.00
	MATTER SUMMARY						
Fees						\$	14.546.00

Financing and Cash Collateral (70090)

\$3,840.00

FEES

DATE	NAME	HOURS	DESCRIPTION	
02/01/18	M.J. Gearin	0.80	Calls with A. Smith and Trustee regarding cash collateral budget	
02/02/18	M.J. Gearin	0.80	Call with M. Calvert regarding cash collateral budget issues (.3); email exchange with A. Smith regarding Hoff questions on budget (.5)	
02/06/18	M.J. Gearin	1.50	Revisions to draft motion for approval of credit and breakup fee	
02/07/18	M.J. Gearin	2.10	Work with Trustee on cash flow budget and modified budget based on Medalcraft deposit	
02/07/18	D. A. Lentz	4.80	Work with team on all aspects of motion to incur debt and shorten time regarding same; work includes draft documents, revisions of documents, research for exhibits to documents	
		TOTAL FEES	10.00 hrs \$ <u>3,840.00</u>	
		TIMEKEEP	PER SUMMARY	
M.J. Gearin D. A. Lentz		5.20 4.80 TOTAL FEES		

MATTER SUMMARY

Fees	\$ 3,840.00
MATTER TOTAL	\$ <u>3,840.00</u>

MATTER TOTAL

Invoice # 3577800 2070561 Page 15 of 24

\$86.00

86.00

		<u> </u>	<u>EES</u>		
DATE	NAME	HOURS	DESCRIPTION		
02/01/18	D. A. Lentz	0.40	Review of summons and cor calendar dates and deadline new adversary proceeding		
		TOTAL FEES	0.40 hrs	\$	86.00
		TIMEKEEPI	ER SUMMARY		
D. A. Lentz		0.40 TOTAL FEES	hrs at \$ 215.00 / hr 0.40 hrs	\$	86.00 86.00
MATTER SUMMARY					
Fees				\$	86.00

American Express Fraudulent Transfer Action (70107)

\$8,523.50

FEES

DATE	NAME	HOURS	DESCRIPTION
02/02/18	D.C. Neu	2.60	Work on closing
02/04/18	B. T. Peterson	1.80	Research and draft post-trial brief
02/05/18	D. A. Lentz	0.30	Review and finalize memorandum brief for filing with court (.2); file brief with USBC (.1)
02/05/18	D.C. Neu	2.40	Review and edit supplemental memorandum
02/05/18	D.C. Neu	3.00	Outline closing
02/05/18	B. T. Peterson	3.40	Draft post-trial brief
02/06/18	D. A. Lentz	0.20	Update trial binder with briefs filed regarding motion to amend answer
02/06/18	D.C. Neu	6.60	Prepare for oral argument (4.3); attend same (2); communicate with client regarding same (.3)
	TOTAL	. FEES	20.30 hrs \$ <u>8,523.50</u>

TIMEKEEPER SUMMARY

	TOTAL FEES		20.3	0 hrs	\$ 8,523.50
B. T. Peterson	5.20	hrs at	\$	355.00 / hr	1,846.00
D.C. Neu	14.60	hrs at	\$	450.00 / hr	6,570.00
D. A. Lentz	0.50	hrs at	\$	215.00 / hr	107.50

MATTER SUMMARY

Fees	\$ <u>8,523.50</u>
MATTER TOTAL	\$ 8,523.50

Invoice # 3577800 2070561 Page 17 of 24

Meetings and Communications with Creditors (70110)

\$344.00

FEES

DATE	NAME	HOURS	DESCRIPTION
02/01/18	D. A. Lentz	0.20	Field voicemails and return calls from creditors
02/06/18	D. A. Lentz	0.40	Listen to numerous voicemails and returned calls to creditors regarding the notice of hearing on motion to approve auction
02/15/18	D. A. Lentz	0.50	Listen to numerous voicemails and return calls to creditors regarding the current case activity
02/23/18	D. A. Lentz	0.50	Meet with M. Gearin regarding die associated customer calls and emails (.1); respond to several die associated customers (.4)
		TOTAL FEES	1.60 hrs \$ <u>344.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	1.60	hrs at	\$	215.00 /	hr	344.00
	TOTAL FEES		1.6	0 hrs	\$	344.00

MATTER SUMMARY

Fees \$ 344.00 MATTER TOTAL \$ 344.00

Relief From Stay and Adequate Protection (70130)

\$1,295.50

FEES

DATE	NAME	HOURS	DESC	CRIPTION	
02/02/18	M.J. Gearin	0.50		il exchange with A. Smith regarding osed form of order on Hoff motion for	
				f from stay; review transcript	
02/05/18	M.J. Gearin	0.70	Revie motion Truste	ew draft submission of Hoffs regarding on for relief from stay (.3); call with tee regarding budget issues (.2); call	with
				mith and Trustee regarding same (.2)	
02/08/18	D. A. Lentz	0.50	supple	 with M. Gearin on trustee's elemental statement re motion of reliestay (.4); file finalized document with C (.1) 	
02/09/18	M.J. Gearin	0.50		are for and attend hearing on Hoff me elief from stay and presentation of but	
02/12/18	M.J. Gearin	0.50	Comn	munications with A. Smith regarding ed order on Hoff motion for relief fron	
		TOTAL FEES	ŕ	2.70 hrs \$ <u>1,29</u>	95.50
		TIMEKEEP	ER SUN	MMARY	
M.J. Gearin		2.20	hrs at	\$ 540.00 / hr 1,18	88.00
D. A. Lentz		0.50	hrs at	,	07.50
		TOTAL FEES		2.70 hrs \$ 1,29	95.50

MATTER SUMMARY

Fees	\$ <u>1,295.50</u>
MATTER TOTAL	\$ <u>1,295.50</u>

Invoice # 3577800 2070561 Page 19 of 24

Assumption and Rejection of Leases and Contracts (70150)

\$150.50

DATE	NAME	HOURS	DESCRIPTION	
02/05/18	D. A. Lentz	0.70	Review court docket/file to motion to reject Kent lattorneys regarding sam of service re notice of he reject Kent lease (.2); file USBC (.1); file declaration strike hearing on motion (.1); upload order for entering to motion to the strike hearing or motion (.1); upload order for entering to motion to motion (.1); upload order for entering to motion to motion (.1); upload order for entering to motion to motion (.1); upload order for entering to motion to motion (.1); upload order for entering to motion to reject Kent later to motion to reject Kent later to motion to mot	Lease and email with le (.2); prepare proof earing on motion to e proof of service with on of no objection and to reject Kent lease
		TOTAL FEES	0.70 hrs	\$ <u>150.50</u>
TIMEKEEPER SUMMARY				
D. A. Lentz		0.70 TOTAL FEES	hrs at \$ 215.00 / hrs 0.70 hrs	150.50 \$ 150.50
MATTER SUMMARY				
Fees MATTER T	OTAL			\$ <u>150.50</u> \$ <u>150.50</u>

Invoice # 3577800 2070561 Page 20 of 24

Reporting (7	70210)
--------------	--------

\$43.00

DATE	NAME	HOURS	DESCRIPTION	
02/28/18	D. A. Lentz	0.20	Review final monthly report	•
		TOTAL FEES	USBC (.1); file same with Co	s 43.00
			5.25 1.10	¥ <u>10100</u>
		TIMEKEEP	<u>ER SUMMARY</u>	
D. A. Lentz		0.20	hrs at \$ 215.00 / hr	43.00
		TOTAL FEES	0.20 hrs	\$ 43.00
		MATTER	SUMMARY	
Fees				\$ 43.00
MATTER T	OTAL			\$ <u>43.00</u>

Invoice # 3577800 2070561 Page 21 of 24

Costs (99999) \$14,697.55

Invoice # 3577800 2070561 Page 22 of 24

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
02/01/18	Copying Expense (Outside Off.) - Baluster Discovery LLC - 01262018	6,900.85
02/04/18	BAE Systems Information	2,855.18
02/04/18	BAE Systems Information	3,546.92
02/04/18	Reversal from Cancelled Voucher 2077426	(2,855.18)
02/04/18	Reversal from Cancelled Voucher 2077426	(3,546.92)
02/04/18	BAE Systems Information	2,855.18
02/04/18	BAE Systems Information	3,546.92
02/06/18	Copying Expense	0.80
02/06/18	Copying Expense	0.80
02/06/18	Travel Expenses - Gearin, Michael - Parking - 2018-01-26 - IMPARK 00250010 - Parking for 1/26 Hearing	18.00
02/12/18	Copying Expense	30.80
02/13/18	Copying Expense	37.60
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	0.80
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	7.40
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	3.80
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	7.40

Invoice # 3577800 2070561 Page 23 of 24

DATE	DESCRIPTION	AMOUNT
02/15/18	Copying Expense	0.60
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.80
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	6.00
02/15/18	Copying Expense	0.60
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	3.80
02/15/18	Copying Expense	0.80
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	6.00
02/15/18	Copying Expense	1.60
02/15/18	Copying Expense	1.80
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	1.80
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.20
02/15/18	Copying Expense	0.40
02/20/18	Filing Fees - TC Legal Services LLC - 01312018 - Smith Ailing Tacoma WA + 3 Boxes	65.00
02/27/18	Travel Expenses - Gearin, Michael - Parking - 2018-02-09 - IMPARK 00250010 - Hearing Parking	20.00
02/27/18	Travel Expenses - Neu, David - Parking - 2018-01-31 - Imperial Parking - Parking 1 31 Erdmann trial	20.00
02/27/18	Travel Expenses - Neu, David - Parking - 2018-02-06 - Imperial Parking - Parking 2 6 Erdmann trial	12.00
02/27/18	Travel Expenses - Neu, David - Parking - 2018-01-30 - IMPARK 00250010 - Parking 1 30 Erdmann Trial	20.00
02/28/18	Copying Expense	756.00
02/28/18	USDC Western WA Filing Fee	362.00
02/28/18	Reversal from Cancelled Voucher 2080546	(362.00)
02/28/18	USDC Western WA Filing Fee	362.00
	DISBURSEMENTS & OTHER CHARGES	\$ 14,697.55

Invoice # 3577800 2070561 Page 24 of 24

MATTER SUMMARY

Disbursements and Other Charges \$ $\frac{14,697.55}{14,697.55}$ **MATTER TOTAL** \$ $\frac{14,697.55}{14,697.55}$

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577477

Services Through : February 28, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935268 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

500 First Ave 92 Pittsburgh, PA 15219 Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577477 2070561 Page 2 of 2

Litigation e-DAT Fees ((77100))
-------------------------	---------	---

\$300.48

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
02/28/18	Ringtail Fees: February 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48
	DISBURSEMENTS & OTHER CHARGES \$ _	300.48
	MATTER SUMMARY	

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577805

Services Through : March 31, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 58,893.50

Total Amount Due This Matter \$ 58,893.50

Business Operations (70030)

Fees \$ 720.00

Total Amount Due This Matter \$ 720.00

Case Administration (70040)

Fees \$<u>3,611.00</u>

Total Amount Due This Matter \$ 3,611.00

Claims, Administration and Objections (70050)

Fees \$ 4,772.50

Total Amount Due This Matter \$ 4,772.50

501937608 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 500 First Ave 92 Acct No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577805 2070561 Page 2 of 23

Financing and Cash Collateral (70090)				
Fees Total Amount Due This Matter	\$	518.00	\$ 518.0	00
Trustee v Diane Erdmann (70102)				
Fees Total Amount Due This Matter	\$	142.00	\$ 142.0	00
American Express Fraudulent Transfer Action	n (7010	7)		
Fees Total Amount Due This Matter	\$	737.50	\$ 737.5	50
Trustee v ARM Industries LLC (70108)				
Fees Total Amount Due This Matter	\$	813.00	\$ 813.0	00
Meetings and Communications with Creditors	s (7011	0)		
Fees Total Amount Due This Matter	\$	43.00	\$ 43.0	00
Assumption and Rejection of Leases and Cor	ntracts	(70150)		
Fees Total Amount Due This Matter	\$	270.00	\$ 270.0	00
Avoidance Action Analysis (70160)				
Fees Total Amount Due This Matter	\$	<u>1,617.50</u>	\$ 1,617. !	50
Reporting (70210)				
Fees Total Amount Due This Matter	\$	64.50	\$ 64.	EΛ

Invoice # 3577805 2070561 Page 3 of 23

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 2,379.87

\$ 2,379.87

CURRENT INVOICE DUE - All Matters

\$ <u>74,582.37</u>

Asset Disposition (70020)

\$58,893.50

DATE	NAME	HOURS	DESCRIPTION
03/01/18	M.J. Gearin	0.80	Communications with A. Willig regarding American Numismatic sale agreement (.4); call with P. Wagner regarding same (.4)
03/01/18	M.J. Gearin	0.50	Revisions to Amendment to Medalcraft APA
03/01/18	D.C. Neu	4.20	Call with M. Calvert regarding sales issues (.3); call with M. Kaplan regarding same (.3); follow-up call with M. Calvert regarding Boy Scouts dies (.2); communicate with K. Shickich regarding same (.3); call with M. Calvert regarding purchase offer (.2); call with McNair law regarding Brookgreen dies (.4); communicate with client regarding issues related to same (.5); negotiations related to Brookgreen and Boy Scout dies (1.1); review filings related to intellectual property issues (.9)
03/02/18	M.J. Gearin	1.50	Draft amendments to Medalcraft APA (.9); call with J. Moran regarding same (.3); arrange for filing of amendment (.3)
03/02/18	M.J. Gearin	0.50	Call and emails with A. Smith regarding Hoff issues in connection with sales approvals
03/02/18	D. A. Lentz	0.60	Review of email from buyer regarding amended sale agreement and forward same to M. Calvert for signature (.1); draft declaration of M. Calvert regarding filing of amended sale agreement (.3); file with USBC (.2)
03/02/18	D.C. Neu	3.70	Review sale objections (.4); finalize settlement terms with Boy Scouts of America (1); communicate with M. Kaplan regarding settlement (.3); review purchase and sale agreement regarding NWTM dies (.5); communicate with J. Moran regarding same (.3); work on revised sale agreement (1.2)
03/05/18	M.J. Gearin	1.50	Review alternative bid provided by R. May; call with K. Larson, counsel for May; call with Trustee regarding auction (1.2); call with J. Moran regarding auction (.3)
03/05/18	M.J. Gearin	0.50	Communications with V. Gamble regarding

DATE	NAME	HOURS	DESCRIPTION
			closing of Industrial Assets sale and status of hearing
03/05/18	D. A. Lentz	1.00	Confirm sale motions and auction motion hearings with USBC (.1); work on hearing binders for M. Gearin and for Judge's copy (.6); field phone calls and emails from die customers regarding notice mailed (.3)
03/05/18	D. A. Lentz	0.50	Review and finalize reply to intellectual property brief for filing with the Court (.3); file reply with USBC (.2)
03/05/18	D.C. Neu	7.40	Draft response brief regarding intellectual property issues (1); draft settlement and edit Brookgreen settlement motion (2.3); draft order related to same (.4); communicate with M. Kaplan regarding settlement (.5); review objection letters provided by M. Kalpan (.8); communicate with R. Hyatt regarding settlement issues (.6); review documents related to same (.6); prepare for hearing (1.1)
03/06/18	D. A. Lentz	0.50	Review and finalize motion to approve agreement with Brookgreen Gardens and corresponding documents (.3); file motion and corresponding documents with USBC (.2)
03/06/18	D. A. Lentz	0.50	Review and finalize reply to sale motions and corresponding declaration (.3); file reply and declaration with USBC (.2)
03/06/18	D. A. Lentz	0.30	Field phone calls and voicemails from die holders (.2); review of response received (.1)
03/06/18	D. A. Lentz	0.70	Preparation of proof of service regarding notice of hearing on sale motions (.2); file with USBC (.1); preparation of proof of service of notice to die holders to be filed under seal (.2); telephone call with USBC regarding filing under seal issue and conference with M. Gearin regarding same (.2)
03/06/18	D.C. Neu	6.40	Prepare for and attend hearing on intellectual property issues (2.5); debriefing regarding same (1); Call with Ben Stone regarding district court litigation status (.4); draft declaration in support of Brookgreen settlement (.6); communicate with client regarding same (.4); discussions regarding auction (.5); review purchase and sale agreement (1)
03/06/18	B. T. Peterson	2.70	Draft reply and accompanying declaration in support of Medalcraft sale motion
03/07/18	M.J. Gearin	2.90	Prepare for and conduct auction (1.0); meet with K. Larson regarding sale issues (.4);

DATE	NAME	HOURS	DESCRIPTION
			meet with Trustee and M. Northrup regarding sale approval considerations (1.0); communications with Trustee and K. Larson regarding asset sale proposal (.5)
03/07/18	D. A. Lentz	0.80	Update Judge's binder and M. Gearin's binder regarding hearing on sale motions and additional objections filed (.7); send Judge's copies to chambers (.1)
03/07/18	D. A. Lentz	0.60	Calendar dates and deadlines on motion to approve agreement with Brookgreen Gardens (.1); send notice of hearing on motion to approve agreement with Brookgreen Gardens for service on master mailing list (.3); prepare proof of service of notice and file with USBC (.2)
03/07/18	D. A. Lentz	0.60	Listen to audio from hearing in order to obtain specific language for sale order
03/07/18	D.C. Neu	2.40	Review and revise purchase and sale agreement (1); communicate with client regarding same (.1); communicate with opposing counsel regarding same (.1); discussions regarding auction and sale issues (1.2)
03/07/18	B. T. Peterson	2.60	Analyze issues related to auction of Medalcraft assets
03/08/18	M.J. Gearin	1.50	Communications with Trustee and M. Northrup regarding sale hearing; preparations for hearing
03/08/18	D. A. Lentz	0.20	Field phone calls from die customers regarding upcoming sale motion
03/08/18	D. A. Lentz	0.20	Email with USBC regarding filing under seal issues (.1); file proof of service under seal (.1)
03/08/18	D. A. Lentz	1.60	Review of objections continuing to be filed (.4); update hearing binders as needed (.4); work on hearing preparation with M. Gearin and D. Neu as needed (.8)
03/08/18	D.C. Neu	3.90	Review and analyze objections (2); communicate with client regarding same (.3); calls with Pan American and Boy Scouts regarding resolution of disputes over dies (.5); call with M. Kaplan regarding objections (.5); prepare for hearing (.5)
03/08/18	B. T. Peterson	1.10	Research related to standard for approval of successful bidder at auction
03/09/18	M.J. Gearin	6.10	Prepare for and attend hearings on sale motions.
03/09/18	D.C. Neu	6.60	Review objections and prepare for hearing on sale to Medalcraft (2); attend hearing (3.5);

DATE	NAME	HOURS	DESCRIPTION
			meeting to discuss next steps regarding sales (1.1)
03/09/18	B. T. Peterson	1.30	Analyze issues related to sale motions and discuss outcome of hearing with M. Gearin
03/10/18	B. T. Peterson	0.80	Draft pleadings in support of motion to approve sale of assets to Boy Scouts of America
03/12/18	D. A. Lentz	0.30	Field voicemails and telephone calls with die customers
03/12/18	D.C. Neu	1.50	Draft and edit motion to approve sale (1.5)
03/12/18	D.C. Neu	1.80	Work on settlement with Pan American Silver (1.8)
03/13/18	M.J. Gearin	0.40	Communications with Trustee regarding Medalcraft sale status (.4)
03/13/18	M.J. Gearin	0.50	Communications regarding potential sale to American Numismatic Society (.5)
03/13/18	D. A. Lentz	0.20	Field phone calls with die customers
03/13/18	D. A. Lentz	1.00	Prepare notice of hearing on motion to approve agreement with Boy Scouts for service on master mailing matrix (.3) prepare notice of hearing on motion to approve agreement with Pan American Silver Corporation for service on master mailing matrix (.3); send both documents for service to list (.4)
03/13/18	D.C. Neu	3.10	Draft notice of hearings on settlement and notice (.7); communicate with R. Hyatt and J. Shickich (.5);begin drafting settlement motion (2)
03/14/18	M.J. Gearin	0.80	Communications with K. Larson re May expression of interest in assets (0.8)
03/14/18	M.J. Gearin	1.40	Calls with Trustee regarding Medalcraft sale issues (1.4)
03/14/18	D.C. Neu	3.00	Work on settlement motion with Pan American and related pleadings
03/15/18	D. A. Lentz	1.10	Drafting of supplemental declaration of M. Calvert regarding sale to Medalcraft (.5); prepare exhibits to declaration (.2); review and finalize document for filing with USBC (.2); file declaration with USBC (.2)
03/15/18	D.C. Neu	6.00	Review email from M. Kaplan regarding dies (.1); communicate with client regarding same (.3); review information regarding Israel Boutique dies (.2); call with M. Gerbitz regarding same (.3); follow-up email to client regarding same (.2); Revise and edit Pan American Motion (2); revise BSA motion (2.1); review letter drafter by Trustee regarding dies

DATE	NAME	HOURS	DESCRIPTION
			(.3); meting to discuss related sales issues (.5)
03/15/18	B. T. Peterson	1.40	Draft pleadings in support of motion to approve sale to Boy Scouts of America
03/16/18	M.J. Gearin	2.10	Prepare for and attend hearing on motion to approve sale of Medalcraft assets
03/16/18	D. A. Lentz	1.20	Review and finalize Pan American Settlement motion and corresponding documents including preparation of exhibits to declaration (.5); prepare proof of service of Pan American settlement motion (.2) file motion and corresponding documents with USBC (.2); finalize proof of service and file with USBC (.2); calendar dates and deadlines regarding motion (.1)
03/16/18	D.C. Neu	0.70	Meeting with M. Gearin regarding sale hearing and next steps (.7)
03/16/18	D.C. Neu	4.70	Draft and edit Pan American documents (4.7)
03/19/18	D.C. Neu	3.20	Review and respond to emails regarding die issues (.5); communicate with client regarding potential sale (.3); work on die settlement pleadings (1); review record distribution pleadings (1.3)
03/20/18	D.C. Neu	2.00	Work on protocol for settling and disposing of NWTM dies
03/20/18	B. T. Peterson	1.00	Draft motion to approve settlement protocol regarding NWTM dies
03/21/18	D.C. Neu	0.40	Call with client regarding potential sale issues (.4)
03/22/18	D. A. Lentz	1.10	Review and finalize motion for authority to destroy records for filing with USBC (.3); drafting of notice of hearing (.2); file motion and related documents with USBC and send for service (.3); preparation of proof of service (.1); file proof of service with USBC (.1); calendar dates and deadlines for motion (.1)
03/22/18	D.C. Neu	2.20	Communicate with M. Kaplan regarding issues related to dies (.2); communicate with M. Calvert regarding same (.2); review conversion motion (.3); work on settlement protocol (1.5)
03/23/18	D.C. Neu	6.60	Communicate with client regarding die sale issues (.7); review emails related to same (.3); review information on die expenses (.6); work on pleadings to approve sale protocol and settlement (5)
03/26/18	D. A. Lentz	0.60	Finalize motion to approve sale to Boy Scouts and corresponding documents for filing with

DATE	NAME	HOURS	DESCRIPTION
DAIL	TVAILE	1100110	USBC and send to attorney for Boy Scouts for approval (.4); file motion for sale to Boy Scouts and corresponding documents with USBC (.2)
03/26/18	D.C. Neu	5.10	Revise and edit pleadings related to die settlement (3.1); communicate with client regarding asset issues (.3); communicate with P. Wagner regarding potential theft of designs (.3); finalize and file boy scout sale documents (1.3)
03/27/18	D. A. Lentz	0.40	Review and finalize notice of hearing regarding settlement protocol and send for service on special mailing matrix
03/27/18	D.C. Neu	0.10	Call with Kristofer Larson regarding status
03/27/18	D.C. Neu	2.30	Revise pleadings on settlement of NWTM dies
03/28/18	D. A. Lentz	0.60	Work with D. Neu to get sale motion and related documents regarding Medalcraft sale (.2); meeting with D. Neu and B. Peterson regarding revised sale motion (.4)
03/28/18	D.C. Neu	2.80	Work on revisions to Medalcraft APA (.7); communicate with K. Larson regarding status (.3); communications with client regarding same (.5); draft and edit pleadings for approval of sale (1.2); communicate with M. Kaplan regarding notice (.1)
03/28/18	B. T. Peterson	1.30	Draft pleadings related to renewed Medalcraft sale motion
03/29/18	D. A. Lentz	0.60	Work on renewed motion for sale to Medalcraft and corresponding documents
03/29/18	D.C. Neu	4.00	Revise and edit Medalcraft sale motion and declaration (2); communicate with client regarding same (.5); revise APA (1); review and edit proposed order (.5)
03/29/18	B. T. Peterson	0.30	Draft order on renewed motion to approve sale of assets to Medalcraft
03/30/18	D. A. Lentz	1.10	Work on renewed motion to sell assets to Medalcraft and all corresponding documents (.8); file renewed motion and corresponding documents with USBC (.3)
03/30/18	D. A. Lentz	1.10	Work on motion to approve settlement protocol regarding NWTM dies and all corresponding documents (.8); file motion and corresponding documents with USBC (.3)
03/30/18	D.C. Neu	3.40	Finalize and file renewed Medalcraft sale motion (1.6); finalize and file settlement protocol motion (1.8)
	TOTAL	FEES	138.40 hrs \$ <u>58,893.50</u>

Invoice # 3577805 2070561 Page 10 of 23

TIMEKEEPER SUMMARY

M.J. Gearin	21.00	hrs at	\$	540.00 / hr		11,340.00
D. A. Lentz	17.40	hrs at	\$	215.00 / hr		3,741.00
D.C. Neu	87.50	hrs at	\$	450.00 / hr		39,375.00
B. T. Peterson	12.50	hrs at	\$	355.00 / hr		4,437.50
	TOTAL FEES		138.	40 hrs	\$_	58,893.50

MATTER SUMMARY

Fees \$ 58,893.50 MATTER TOTAL \$ 58,893.50

Invoice # 3577805 2070561 Page 11 of 23

Business Operations (70030)

\$720.00

FFFS

DATE	NAME	HOURS	DESCRIPTION			
03/27/18	D.C. Neu	1.60	1.60 Review facts and issues regarding employee using NWTM designs (.5); draft demand letter (1)			
		TOTAL FEES	1.60 hrs	\$		
		TIMEKEEP	ER SUMMARY			
D.C. Neu		1.60 TOTAL FEES	hrs at \$ 450.00 / hr 1.60 hrs	\$ 720.00 \$ 720.00		
MATTER SUMMARY						
Fees MATTER T	OTAL			\$ 720.00 \$ 720.00		

Invoice # 3577805 2070561 Page 12 of 23

Case Administration (70040)

\$3,611.00

FEES

DATE	NAME	HOURS	DESCRIPTION
03/05/18	M.J. Gearin	0.50	Emails with Trustee and R. Powers re R. Hansen personal property issues
03/16/18	B. T. Peterson	0.40	Draft motion to convert case to chapter 7
03/19/18	D. A. Lentz	0.30	Research regarding order on motion to convert case
03/19/18	B. T. Peterson	1.80	Draft pleadings in support of motion to convert case to a chapter 7 case
03/20/18	D.C. Neu	1.80	Work on conversion pleadings
03/21/18	D.C. Neu	2.00	Work on pleadings to destroy records (1.6); communicate with client regarding same (.4)
03/21/18	B. T. Peterson	0.80	Finalize conversion pleadings
03/22/18	B. T. Peterson	0.30	Finalize pleadings in support of conversion motion
03/23/18	D. A. Lentz	0.20	Update numerous creditor addresses
03/23/18	D. A. Lentz	0.80	Finalize motion to convert and corresponding documents for filing with USBC (.4); file motion to convert and corresponding documents with USBC and send for service (.3); calendar dates and deadlines regarding same (.1)
03/28/18	D.C. Neu TOTA	0.40 L FEES	Call regarding die customer (.4) 9.30 hrs \$ 3,611.00

TIMEKEEPER SUMMARY

M.J. Gearin	0.50	hrs at	\$	540.00 / hr	270.00
D. A. Lentz	1.30	hrs at	\$	215.00 / hr	279.50
D.C. Neu	4.20	hrs at	\$	450.00 / hr	1,890.00
B. T. Peterson	3.30	hrs at	\$	355.00 / hr	1,171.50
	TOTAL FEES		9.3	0 hrs	\$ 3,611.00

MATTER SUMMARY

Fees \$ 3,611.00 MATTER TOTAL \$ 3,611.00

Claims, Administration and Objections (70050)

\$4,772.50

DATE	NAME	HOURS	DESC	RIPTIC	N			
03/01/18	M.J. Gearin	0.50	settlei	ment of	ons with fer to Pa settleme	n Amer	ican (.3	ding); email to
03/02/18	M.J. Gearin	2.50	Draft	revision		RN Act		; call with
03/02/18	M.J. Gearin	0.30	Email	exchan	iges with Pan Am	n R. Hya		rding
03/02/18	D. A. Lentz	0.50			inalize a); file an:			
03/04/18	B. T. Peterso	n 1.20	Revis defen		dit mem	o regard	ding W <i>A</i>	ARN Act
03/08/18	B. T. Peterso	n 0.70	Finaliz compl		disclos	ures for	WARN	Act
03/09/18	B. T. Peterso	n 1.20	Resea	arch rela	ated to V	VARN A	ct laws	uit
03/11/18	B. T. Peterso	n 0.60	Revie	w case	law rela	ted to W	/ARN A	ct claims
03/13/18	B. T. Peterso	n 1.40	Resea	arch rela	ated to V	VARN A	ct clain	ns
03/14/18	B. T. Peterso	n 0.80	•	Prepare for and attend conference call with opposing counsel regarding WARN Act suit				
03/20/18	B. T. Peterso	n 0.70	regard	ding stip	nce with oulation of t (.4); ed	of dismi	ssal of	WARN
03/27/18	D.C. Neu	0.80			e with B. .); resea		•	ng ame (.5)
03/28/18	D.C. Neu	0.40	Call w (.4)	rith D. E	sailey re	garding	B. Atal	la claim
		TOTAL FEES		11.60	hrs		\$	4,772.50
		TIMEKEEP	ER SUM	<u>IMARY</u>	,			
M.J. Gearin		3.30	hrs at	\$	540.00	/ hr		1,782.00
D. A. Lentz			hrs at	\$	215.00			107.50
D.C. Neu		1.20	hrs at	\$	450.00			540.00
B. T. Peters	on	6.60	hrs at	\$	355.00			2,343.00
		TOTAL FEES		11.60			\$	4,772.50

Invoice # 3577805 2070561 Page 14 of 23

MATTER SUMMARY

Fees \$ 4,772.50 MATTER TOTAL \$ 4,772.50

Invoice # 3577805 2070561 Page 15 of 23

Financing and Cash Collateral (70090)

\$518.00

FEES

DATE	NAME	HOURS	DESC	RIPT	ION			
03/08/18	M.J. Gearin	0.80			ations with A. Sm			
03/08/18	D. A. Lentz	0.40	budget and notice of same; draft notice Preparation of supplemental statement regarding budget (.2); finalize same and file with USBC (.2)			ent		
		TOTAL FEES		1.2	20 hrs	\$	518.00	
	TIMEKEEPER SUMMARY							
M.J. Gearin		0.80	hrs at	\$	540.00 / hr		432.00	
D. A. Lentz		0.40	hrs at	\$	215.00 / hr		86.00	
		TOTAL FEES		1.2	20 hrs	\$	518.00	
MATTER SUMMARY								

Fees

MATTER TOTAL

Invoice # 3577805 2070561 Page 16 of 23

Trustee v	/ Diane	Erdmann	(70102)
-----------	---------	---------	---------

\$142.00

DATE	NAME	HOURS	DESC	RIPTIO	N			
03/28/18	B. T. Peterson	0.40		ss result with D. I	t of Erdmann a Neu	dversary	and next	
	TOTA	L FEES	•	0.40		\$	142.00	
	TIMEKEEPER SUMMARY							
B. T. Peters	son	0.40	hrs at	\$	355.00 / hr		142.00	
	TOTA	L FEES		0.40	hrs	\$	142.00	
MATTER SUMMARY								
Fees MATTER T	OTAL					\$	142.00 142.00	
MALIERI	OIAL					Ψ	142.00	

Invoice # 3577805 2070561 Page 17 of 23

American Express Fraudulent Transfer Action (70107)

\$737.50

FEES

DATE	NAME	HOURS	DESCRIPTION			
03/28/18	D.C. Neu	1.40	Review memorandum opinio	n; analysis of		
03/29/18	D. A. Lentz	0.50	legal issues raised in same Work on calculating what pre-judgment interest would have been			
		TOTAL FEES	1.90 hrs	\$737.50		
		TIMEKEEP	ER SUMMARY			
D. A. Lentz D.C. Neu		0.50 1.40 TOTAL FEES	hrs at \$ 215.00 / hr hrs at \$ 450.00 / hr 1.90 hrs	107.50 630.00 \$ 737.50		
MATTER SUMMARY						
Fees				\$ 737.50		

MATTER TOTAL

Trustee v ARM Industries LLC (70108)

\$813.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
03/19/18	D. A. Lentz	0.50	Work on Calvert vs. ARM adversary proceeding including review of sale motion in comparison to current sale motion			
03/21/18	D. A. Lentz	0.40	Emails with P. Wagner regarding values of equipment sold (.2); review of documentation regarding same (.2)			
03/21/18	B. T. Peterson	0.10	Analysis of issues related to ARM adversary proceeding			
03/23/18	D. A. Lentz	0.50	Work on discovery requests			
03/23/18	B. T. Peterson	0.70	Draft discovery requests for ARM adversary proceeding			
03/28/18	D. A. Lentz	0.40	Review and finalize discovery requests for service on opposing party (.2); send discovery requests for service on opposing party (.2)			
03/28/18	B. T. Peterson	0.40	Draft discovery requests for adversary proceeding against ARM			
	TOTAL	FEES	3.00 hrs \$ <u>813.00</u>			

TIMEKEEPER SUMMARY

	TOTAL FEES	3.00 hrs	\$ 813.00
B. T. Peterson	1.20 hrs	at \$ 355.00 / hi	426.00
D. A. Lentz	1.80 hrs	at \$ 215.00/hi	387.00

MATTER SUMMARY

Fees	\$ _	813.00
MATTER TOTAL	\$	813.00

Invoice # 3577805 2070561 Page 19 of 23

Meetings and	Communications with Creditors	(70110)
--------------	--------------------------------------	---------

\$43.00

DATE 03/22/18	NAME D. A. Lentz	HOURS 0.20 TOTAL FEES	DESCRIPTION Field voicemails and phone calls from creditors regarding status of case 0.20 hrs \$		
		TIMEKEEP	ER SUMMARY		
D. A. Lentz		0.20 TOTAL FEES	hrs at \$ 215.00 / hr 0.20 hrs \$	43.00 43.00	
MATTER SUMMARY					
Fees MATTER T	OTAL		\$ \$	43.00 43.00	

Invoice # 3577805 2070561 Page 20 of 23

Assumption and Re	jection of Leases and (Contracts (70150)

\$270.00

DATE 03/21/18	NAME D.C. Neu	HOURS 0.60 TOTAL FEES	DESCRIPTION Call with client regarding leas investigate same (.3) 0.60 hrs	se issues (.3); \$270.00
D.C. Neu			ER SUMMARY hrs at \$ 450.00 / hr 0.60 hrs	270.00 \$ <u>270.00</u>
Fees MATTER TO	OTAL	MATTER	SUMMARY	\$ <u>270.00</u> \$ <u>270.00</u>

Invoice # 3577805 2070561 Page 21 of 23

Avoidance Action Analysis (70160)

\$1,617.50

FEES

DATE	NAME	HOURS	DESCRIPTION	
03/07/18	D.C. Neu	0.50	Analysis of additional potential avoidance actions	
03/29/18	D.C. Neu	2.70	Analysis of potential fraudulent transfer actions	
03/29/18	B. T. Peterson	0.50	Analyze issues related to statute of limitations on potential claims against third parties	
	TOTA	AL FEES	3.70 hrs \$ <u>1,617.50</u>	

TIMEKEEPER SUMMARY

	TOTAL FEES		3.7	0 hrs	\$	1,617.50
B. T. Peterson	0.50	hrs at	\$	355.00 / h	r	177.50
D.C. Neu	3.20	hrs at	\$	450.00 / h	r	1,440.00

MATTER SUMMARY

Fees	\$ 1,617.50
MATTER TOTAL	\$ 1,617.50

Invoice # 3577805 2070561 Page 22 of 23

Reporting (7	70210)
--------------	--------

\$64.50

DATE	NAME	HOURS	DESCRIPTION	
03/15/18	D. A. Lentz	0.30	Emails regarding monthly fin file monthly financial report for with USBC (.1)	
		TOTAL FEES	0.30 hrs	\$64.50
		TIMEKEEP	ER SUMMARY	
D. A. Lentz		0.30 TOTAL FEES	hrs at \$ 215.00 / hr 0.30 hrs	\$ 64.50 \$ 64.50
		MATTER	SUMMARY	
Fees MATTER TO	TAL			\$ 64.50 64.50

Invoice # 3577805 2070561 Page 23 of 23

Costs (99999) \$2,379.87

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
03/02/18	Couriers - HALO - 02092018 - 01/26/18 - USBC	132.00
03/02/18	Couriers - HALO - 02092018 - 01/30/18 - USBC	29.00
03/07/18	Copying Expense	31.20
03/12/18	Travel Expenses - Gearin, Michael - Parking - 2018-02-23 - IMPARK 00250010 - NWTM hearing parking	12.00
03/12/18	Local Courier - Halo Messenger Services, LLC - 03012018 - 2/8/1 - USBC	8 29.00
03/12/18	Local Courier - Halo Messenger Services, LLC - 03012018 - 2/20/18 - USBC	15.00
03/13/18	Copying Expense	31.20
03/13/18	Copying Expense	31.20
03/19/18	Travel Expenses - Neu, David - Parking - 2018-03-06 - IMPARK 00250010 - March 6 Hearing	12.00
03/19/18	Travel Expenses - Neu, David - Parking - 2018-03-09 - IMPARK 00250010 - March 9 hearing Parking	18.00
03/21/18	Copying Expense	0.40
03/26/18	Travel Expenses - Gearin, Michael - Parking - 2018-03-16 - IMPARK 00250010 - Parking for Hearing 3 16	12.00
03/26/18	Travel Expenses - Gearin, Michael - Parking - 2018-03-09 - IMPARK 00250010 - Parking for Hearing 3 9 18	20.00
03/27/18	Copying Expense	62.40
03/27/18	Copying Expense	1.60
03/28/18	Copying Expense	2.60
03/28/18	USDC Western Washington/Audio CD for 3/6 hearing	31.00
03/28/18	USDC Western Washington/Refund for Audio CD for	(31.00)
03/28/18	USDC Western Washington/Audio CD of hearing	31.00
03/28/18	USDC Western Washington/Filing Fee	15.00
03/28/18	USDC Western Washington/Filing Fee	181.00
03/28/18	Altep, Inc./Imaging of discovery items to be s	1,713.27
	DISBURSEMENTS & OTHER CHARGES	\$ 2,379.87

.....

MATTER SUMMARY

Disbursements and Other Charges	\$ _	2,379.87
MATTER TOTAL	\$ _	2,379.87

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577480

Services Through: March 31, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935270 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

<u>Wire/ACH/EDI Instructions</u>: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577480 2070561 Page 2 of 2

Litigation -	e-DAT	Fees	(77100)	
				1

\$300.48

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
03/31/18	Ringtail Fees: March 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48
	DISBURSEMENTS & OTHER CHARGES	\$ 300.48
	MATTER SUMMARY	

Disbursements and Other Charges	\$_	300.48
MATTER TOTAL	\$	300.48

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577806 Services Through : April 30, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 25,736.50

Total Amount Due This Matter \$ 25,736.50

Case Administration (70040)

Fees \$<u>6,969.00</u>

Total Amount Due This Matter \$ 6,969.00

Claims, Administration and Objections (70050)

Fees \$ 3,033.50

Total Amount Due This Matter \$ 3,033.50

Financing and Cash Collateral (70090)

Fees \$ 1,665.00

Total Amount Due This Matter \$ 1,665.00

501937612 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577806 2070561 Page 2 of 15

American Express Fraudulent Transfer Action (70107)

Fees	\$ <u>5,824.50</u>	
Total Amount Due This Matter		\$ 5,824.50

Trustee v ARM Industries LLC (70108)

Fees	\$ <u>2,511.00</u>	
Total Amount Due This Matter		\$ 2.511.00

Meetings and Communications with Creditors (70110)

Fees	\$ 1,541.00	
Total Amount Due This Matter		\$ 1.541.00

Costs (99999)

Disbursements and Other Charges	\$ 4,599.59	
Total Amount Due This Matter		\$ 4,599.59

CURRENT INVOICE DUE - All Matters \$ 51,880.09

Asset Disposition (70020)

\$25,736.50

DATE	NAME	HOURS	DESCRIPTION
04/02/18	D. A. Lentz	0.40	Conference with D. Neu regarding no objections to Brookgreen or Pan American settlement motions (.1); file declarations of no objection for both motions and upload orders for entry with the Court (.3)
04/02/18	D.C. Neu	0.60	Review and file orders on Brookgreen and Pan American settlements
04/03/18	M.J. Gearin	1.10	Call with Trustee regarding multiple asset sale status issues (.5); call with J. Kornfeld regarding ANS purchase agreement (.3); email with K. Larson regarding May interest in acquisition of all assets (.3)
04/03/18	D.C. Neu	0.30	Review email from K. Larson regarding offer status (.1); communicate with client regarding signatures (.2)
04/04/18	M.J. Gearin	0.50	Call with Trustee regarding multiple asset disposition issues including status of May offer and American Numismatic sale
04/04/18	D. A. Lentz	0.90	Draft ex parte motion to approve notice to die customers and to limit notice on sale motion
04/04/18	D. A. Lentz	0.20	Revise Brookgreen order to include opposing counsel's signature and upload again for entry with court (.2)
04/04/18	D.C. Neu	1.50	Review motion to provide notice to die customers of renewed sale (.3); review Brookgreen order (.2); communicate with client regarding Brookgreen dies (.3); work on settlement protocol (.7)
04/05/18	D.C. Neu	1.70	Call with creditor regarding die disposition (.6); review and edit notices and pleadings to shorten time (1.1)
04/06/18	D. A. Lentz	1.10	Finalize ex parte motion to limited notice and to approve notice for filing (.2); drafting of order regarding same (.3); file ex parte motion and upload order for entry with the court (.3); review of entered order (.1); begin preparing for mailing to over 1800 parties (.2)
04/06/18	D.C. Neu	1.40	Draft letter regarding Grove Mint (1); review motion to shorten time (.4)

DATE	NAME	HOURS	DESCRIPTION
04/09/18	D.C. Neu	2.30	Communicate with client regarding Pan American dies (.2); communicate with R. Hyatt regarding same (.4); research regarding die objection (.5); communicate with client regarding shipping (.4); call regarding intellectual property issue (.3); review emails regarding status of May offer (.2); communicate with D. Lentz regarding noticing (.3)
04/10/18	D. A. Lentz	0.40	Send notice of hearing on motion to sell to Medalcraft and renewed notice to die holders to special notice list for service
04/10/18	D.C. Neu	1.80	Review and edit Medalcraft sale agreement
04/11/18	D.C. Neu	2.10	Review objection to die settlement protocol (.6); communicate with M. Gearin regarding same (.3); review pleadings (.4); begin drafting reply (.8)
04/12/18	B. T. Peterson	0.50	Review objection to die settlement protocol motion
04/13/18	M.J. Gearin	0.50	Call with Trustee regarding multiple asset disposition issues including R. May status and ANS sale
04/16/18	D. A. Lentz	1.10	Review of docket regarding pending motions and all objections regarding same (.3); pull together documents for hearing binders and for Judge's copies (.4); meet with D. Neu and B. Peterson regarding replies (.3)
04/16/18	D.C. Neu	0.70	Draft and edit response to objections to settlement protocol (.7)
04/16/18	B. T. Peterson	1.50	Review responses to settlement protocol motion and draft reply in support of motion
04/17/18	D. A. Lentz	0.50	Review and finalize reply to motion to destroy business records (.2); file reply with USBC (.2) update hearing binder (.1)
04/17/18	D. A. Lentz	0.50	Review and finalize reply in support of motion to approve deadline re ownership of claims and settlement protocol (.2); file reply with USBC (.2); update hearing binder (.1)
04/17/18	D.C. Neu	0.50	Call regarding threatened litigation over die ownership issues
04/17/18	D.C. Neu	3.00	Revise and edit reply draft to motion for settlement protocol (2.2); meeting regarding same (.8)
04/17/18	B. T. Peterson	2.00	Draft reply brief in support of settlement protocol on die disposition
04/18/18	M.J. Gearin	1.90	Calls with Trustee, representatives of Industrial Assets and A. Smith regarding developments regarding sale of equipment to

DATE	NAME	HOURS	DESCRIPTION
			R. May (1.3); emails with K. Larson regarding equipment purchase and status of May interest (.6)
04/18/18	M.J. Gearin	0.50	Calls with E. Chacon regarding S. Firebaugh demand for access (.5)
04/18/18	D.C. Neu	2.20	Call with client regarding sale issues (.4); review and analysis of issues related to purchase of Industrial Assets equipment (1); call with J. Cullen regarding USGA dies (.5); review USGA documents (.3)
04/19/18	D.C. Neu	1.80	Prepare for hearings regarding NYTM dies and Boy Scout sale
04/19/18	D.C. Neu	0.40	Communicate with client regarding dies (.4)
04/20/18	D.C. Neu	5.50	Prepare for and attend hearings on motion to approve Boy Scouts sale, motion to approve settlement protocol, and motion to abandon records (4.1); communicate with client regarding hearing results (.5); communicate with J. Shickich regarding edits to sale order (.2); edit orders (1)
04/23/18	D.C. Neu	1.50	Review and edit USGA order (.9); respond to client emails (.4); communicate with client regarding dies (.1)
04/24/18	M.J. Gearin	1.60	Calls with R. May and Trustee, communications with Hoffs regarding extension to occupancy in connection with disposition of equipment (1.6)
04/24/18	M.J. Gearin	0.50	Communications with Trustee regarding American Numismatic sale (.5)
04/25/18	M.J. Gearin	0.30	Call and email with K. Khalsa regarding Government of Canada die issues
04/25/18	M.J. Gearin	1.20	Multiple communications with Trustee regarding asset disposition issues including Industrial Assets request for extension of possession period, ANS sale and die disposition
04/26/18	M.J. Gearin	0.50	Communications with K. Khalsa regarding Government of Canada dies
04/26/18	M.J. Gearin	0.50	Call and email exchange with R. Mitchell regarding settlement of Cohen claims to sheriff's seized inventory
04/26/18	M.J. Gearin	0.30	Call with Trustee regarding ANS sale and issues relating to Medalcraft sale (.3)
04/26/18	M.J. Gearin	0.80	Review Trustee's assembled materials and discuss issues regarding disposition of NWTM dies (.8)
04/26/18	D.C. Neu	2.40	Review objections to die sale motion (.4); call with client regarding die issues (1.0); meeting

Invoice # 3577806 2070561 Page 6 of 15

DATE	NAME	HOURS	DESCRIPTION
			with J. Gilmore regarding same (.5); review information on B. Carey payments (.5)
04/26/18	D.C. Neu	0.60	Review and respond to emails regarding USGA dies (.3); review records related to die ownership (.3)
04/27/18	M.J. Gearin	0.50	Comments to notice and order on NWTM die disposition
04/27/18	M.J. Gearin	1.20	Call with A. Willig regarding American Numismatic sale (.4); revisions to draft APA for ANS and forward to A. Willig (.8)
04/27/18	D.C. Neu	1.30	Review information and photos from E. Chacon regarding USGA dies (.2); communicate with J. Cullen regarding same (.2); review objections (.9)
04/30/18	M.J. Gearin	1.10	Meet regarding preparation of replies to objections to Medalcraft sale (.8); call with A. Willig regarding ANS sale (.3)
04/30/18	D.C. Neu	4.40	Communicate with USGA regarding dies (.3); meeting to discuss replies to pending motions (.4); review late filed objections (.5); revise Medalcraft order (1.5); draft replies (1.6)
		TOTAL FEES	58.10 hrs \$ <u>25,736.50</u>

TIMEKEEPER SUMMARY

M.J. Gearin	13.00	hrs at	\$	540.00 / hr	7,020.00
D. A. Lentz	5.10	hrs at	\$	215.00 / hr	1,096.50
D.C. Neu	36.00	hrs at	\$	450.00 / hr	16,200.00
B. T. Peterson	4.00	hrs at	\$	355.00 / hr	1,420.00
	TOTAL FEES		58.	10 hrs	\$ 25,736.50

MATTER SUMMARY

Fees	\$.	25,736.50
MATTER TOTAL	\$ _	25,736.50

Case Administration (70040)

\$6,969.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
04/02/18	D. A. Lentz	0.40	Draft letter to state of Nebraska office of attorney general in response to complaint file by R. Pelc		
04/02/18	D.C. Neu	0.80	Call with creditors regarding case conversion		
04/03/18	D. A. Lentz	0.20	Finalize and send letter to State of Nebraska re R. Pelc complaint		
04/03/18	D.C. Neu	0.50	Field calls regarding impact of conversion (.5)		
04/04/18	M.J. Gearin	0.50	Communications with Trustee regarding analysis of effect of conversion		
04/09/18	M.J. Gearin	1.10	Call with Trustee regarding insolvency findings in court's ruling and effect on potential recoveries and discussion of proposed settlement with USGA		
04/12/18	D.C. Neu	1.00	Work on records destruction motion		
04/13/18	M.J. Gearin	0.20	Email exchange with R. Powers re pickup of Hanson personal property		
04/16/18	D.C. Neu	2.30	Review objections to motion for records destruction (1); communicate with client regarding issues related to same (.3); draft and edit response to records destruction (1)		
04/17/18	D.C. Neu	2.00	Edit and draft reply in support of records destruction (2.0)		
04/26/18	M.J. Gearin	0.50	Email exchange with R. Powers regarding pickup of Hansen personal property		
04/27/18	M.J. Gearin	1.50	Review responses to motion to convert		
04/30/18	M.J. Gearin	1.00	Meet regarding preparation of replies on objections to motion to convert		
04/30/18	B. T. Peterson	3.60	Review objections to conversion and draft reply in support of motion to convert case		
	TC	TAL FEES	15.60 hrs \$ <u>6,969.00</u>		

TIMEKEEPER SUMMARY

M.J. Gearin	4.80	hrs at	\$	540.00 / hr		2,592.00
D. A. Lentz	0.60	hrs at	\$	215.00 / hr		129.00
D.C. Neu	6.60	hrs at	\$	450.00 / hr		2,970.00
B. T. Peterson	3.60	hrs at	\$	355.00 / hr		1,278.00
	TOTAL FEES		15.60 hrs		\$_	6,969.00

Invoice # 3577806 2070561 Page 8 of 15

MATTER SUMMARY

Fees \$ 6,969.00 MATTER TOTAL \$ 6,969.00

Claims, Administration and Objections (70050)

\$3,033.50

FEES

DATE	NAME	HOURS	DESCRIPTION
04/05/18	M.J. Gearin	1.20	Work on WARN Act claims analysis in preparation for call with counsel
04/05/18	B. T. Peterson	0.90	Case law research regarding Warn Act claims
04/06/18	M.J. Gearin	1.30	Review of case law regarding WARN Act claims
04/06/18	M.J. Gearin	0.40	Call with J. Cullen regarding USGA administrative claim issues (.2); review letter from R. Levy (.2)
04/06/18	B. T. Peterson	0.80	Prepare for (.5) and participate in call with opposing counsel representing WARN Act claimant (.3)
04/13/18	M.J. Gearin	0.60	Call with Trustee regarding settlement with Cohen (.2); call with R. Mitchell regarding same (.3); evaluate Cohen substantial contribution claim regarding seized inventory (.2)
04/16/18	M.J. Gearin	0.30	Communications with J. Cullen and Trustee regarding USGA settlement
04/18/18	M.J. Gearin	0.40	Review of USGA materials; call with J. Cullen and R. Levy regarding USGA settlement
04/24/18	M.J. Gearin TOTA	0.30 L FEES	Comments to USGA settlement order 6.20 hrs \$ 3,033.50

TIMEKEEPER SUMMARY

	TOTAL FEES	6.2	20 hrs	\$ 3,033.50
B. T. Peterson	1.70 hrs	at \$	355.00 / hr	603.50
M.J. Gearin	4.50 hrs	at \$	540.00 / hr	2,430.00

MATTER SUMMARY

Fees	\$ <u>3,03</u>	3.50
MATTER TOTAL	\$ <u>3,03</u>	3.50

Invoice # 3577806 2070561 Page 10 of 15

Financing and Cash Collateral (70090)

\$1,665.00

FEES

DATE	NAME	HOURS	DESCRIPTION				
04/26/18	D.C. Neu	0.30	Communication with client regarding				
			Worldpay (.3)				
04/27/18	D.C. Neu	1.70	Review and edit agreement	with Worldpay			
04/30/18	D.C. Neu	1.70	Call with attorney for Worldpay regarding withheld funds (.2); revise settlement agreement (1); emails regarding same (.2); call from creditor (.3)				
		TOTAL FEES	3.70 hrs	\$ <u>1,665.00</u>			
		TIMEKEEP	ER SUMMARY				
D.C. Neu		3.70	hrs at \$ 450.00 / hr	1,665.00			
		TOTAL FEES	3.70 hrs	\$ <u>1,665.00</u>			
		MATTER	SUMMARY				
Fees				\$ 1.665.00			
MATTER T	OTAL			\$ 1,665.00			

American Express Fraudulent Transfer Action (70107)

\$5,824.50

5,824.50

FEES

DATE	NAME	HOURS	DESC	SCRIPTION				
04/02/18	D.C. Neu	3.90	Call with client to review memorandum opinion (.5); review calculations of prejudgment interest (.5); call with J. Gilmo regarding same (.3); research regarding issues related to denial of prejudgment interest (2.6)					
04/04/18	D.C. Neu	0.70	Comn	nmunication with client regarding potential eal (.3); analysis regarding same (.4)				
04/09/18	D.C. Neu	2.20	Resea	earch regarding appellate issues (1.5); t communication to client regarding same				
04/16/18	D.C. Neu	0.80	excus	from opposing counsel regarding usable neglect for failure to timely appeal research related to same (.5)				
04/18/18	D. A. Lentz	0.30	Review motion for discretionary extension of time to file appeal and send to client (.1); review order shortening time (.1); calendar dates and deadlines re hearing (.1)					
04/18/18	D.C. Neu	3.20	Review motion to extend appeal time and supporting declaration (.3); call with A. Liechtenstein regarding same (.2); research and analysis regarding same (2.2); communicate with client regarding same (.3)					
04/26/18	D.C. Neu	2.00	Review order from court requiring appearance (.1); communicate with M. Gearin regarding denial of motion for leave to file late appeal (.3); communicate with client regarding same (.1); research regarding execution on sheriff seized inventory and resolving claims of					
		TOTAL FEES	ownership (1.5) 13.10 hrs \$ <u>5,824.5</u>					
		TIMEKEEP	ER SUN	<u>JMMARY</u>				
D. A. Lentz D.C. Neu			hrs at hrs at	·				

13.10 hrs

TOTAL FEES

Invoice # 3577806 2070561 Page 12 of 15

MATTER SUMMARY

Fees \$ 5,824.50 MATTER TOTAL \$ 5,824.50

Trustee v ARM Industries LLC (70108)

\$2,511.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
04/03/18	D. A. Lentz	0.50	Prepare spreadsheet regarding ARM vs. Calvert adversary proceeding re value of property		
04/12/18	B. T. Peterson	0.50	Analyze issues related to ARM adversary proceeding		
04/16/18	B. T. Peterson	0.20	Phone call with client regarding ARM adversary proceeding		
04/17/18	D. A. Lentz	0.20	Prepare pretrial disclosures		
04/17/18	B. T. Peterson	0.50	Draft correspondence regarding pretrial disclosures		
04/18/18	D. A. Lentz	0.50	Finish pretrial disclosures		
04/24/18	T. S. Miller	0.80	Research choice of law issues applicable to statute of frauds defense in dispute regarding sale of Dayton property to American Relief Mint Industries		
04/25/18	T. S. Miller	5.00	Research multiple issues of law regarding breach of contract claim (3.6); research the effect of failing to include a statute of frauds defense in an answer (.5); draft email to B. Peterson summarizing research (.9)		
	TOTAL	. FEES	8.20 hrs \$ <u>2,511.00</u>		

TIMEKEEPER SUMMARY

D. A. Lentz	1.20	hrs at	\$	215.00 / hr	258.00
T. S. Miller	5.80	hrs at	\$	315.00 / hr	1,827.00
B. T. Peterson	1.20	hrs at	\$	355.00 / hr	426.00
	TOTAL FEES		8.2	20 hrs	\$ 2,511.00

Fees	\$_	<u>2,511.00</u>
MATTER TOTAL	\$ _	2,511.00

Meetings and Communications with Creditors (70110)

\$1,541.00

FEES

DATE	NAME	HOURS	DESCRIPTION			
04/02/18	D. A. Lentz	0.80	Field phone calls, voicemails and emails from creditors regarding status of case following notice of motion to convert			
04/03/18	D. A. Lentz	0.30	Field phone calls from creditors re status of case			
04/05/18	D. A. Lentz	0.30	Field multiple voicemails and phone calls with creditors regarding status of case			
04/09/18	D. A. Lentz	0.20	Field phone calls and voice mails from creditors regarding status of case			
04/10/18	D. A. Lentz	0.10	Field phone calls and voicemails from creditors regarding status of case			
04/11/18	D. A. Lentz	0.20	Field phone calls and voice mails from creditors regarding status of case			
04/13/18	D. A. Lentz	0.40	Field phone calls and voicemails from creditors regarding status of case			
04/16/18	M.J. Gearin	1.50	Communications with multiple creditors regarding indictment and bankruptcy case status			
04/16/18	D. A. Lentz	0.60	Field phone calls, voice mails and emails with creditors regarding status of case			
04/17/18	D. A. Lentz	0.20	Field phones and voicemails from creditors regarding status of case			
04/18/18	D. A. Lentz	0.30	Field phone calls and voicemails from creditors regarding status of case			
		TOTAL FEES	4.90 hrs \$ <u>1,541.00</u>			

TIMEKEEPER SUMMARY

	TOTAL FEES		4.9	0 hrs	\$ _	1,541.00
D. A. Lentz	3.40	hrs at	\$	215.00 / h	nr	731.00
M.J. Gearin	1.50	hrs at	\$	540.00 / h	nr	810.00

MATTER SUMMARY

Fees \$ 1,541.00 MATTER TOTAL \$ 1,541.00

Invoice # 3577806 2070561 Page 15 of 15

Costs (99999) \$4,599.59

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
04/04/18	Local Courier - Halo Messenger Services, LLC - 04032018 - 03/28/2018 - Local Courier Service - 1825 NW Market Street	32.00
04/04/18	Local Courier - Halo Messenger Services, LLC - 04032018 - 03/13/2018 - Local Courier Service PU @ USBC	29.00
04/04/18	Local Courier - Halo Messenger Services, LLC - 04032018 - 03/07/2018 - Local Courier Service - USBC	20.00
04/04/18	BAE Systems Inf	3,567.59
04/06/18	Copying Expense	12.60
04/09/18	Copying Expense	756.40
04/13/18	Other - CourtTrax Corporation - 03312018	1.00
04/28/18	USDC Washington Filing Fee	181.00
04/28/18	USDC Washington Filing Fee	181.00
04/28/18	Reversal from Cancelled Voucher 2101046	(181.00)
	DISBURSEMENTS & OTHER CHARGES	\$ 4,599.59

Disbursements and Other Charges	\$ <u>_</u>	4,599.59
MATTER TOTAL	\$	4,599.59

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577483 Services Through : April 30, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935274 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

500 First Ave 92 Pittsburgh, PA 15219 Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577483 2070561 Page 2 of 2

Litigation	\$300.48				
DISBURSEMENTS & OTHER CHARGES					
DATE	DESCRIPTION	AMOUNT			
04/30/18	Ringtail Fees: April 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48			
	DISBURSEMENTS & OTHER CHARGES	\$ 300.48			

Disbursements and Other Charges	\$ 300.48
MATTER TOTAL	\$ 300.48

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577808 Services Through : May 31, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 38,567.50

Total Amount Due This Matter \$ 38,567.50

Business Operations (70030)

Fees \$ 285.50

Total Amount Due This Matter \$ 285.50

Case Administration (70040)

Fees \$ 15,187.50

Total Amount Due This Matter \$ 15,187.50

Claims, Administration and Objections (70050)

Fees \$ 6,716.50

Total Amount Due This Matter \$ 6,716.50

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts/Receivable/SEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577808 2070561 Page 2 of 23

\$<u>91,761.75</u>

			Page 2 of 23
American Express Fraudulent Transfer Ac	etion (70107)		
Fees Total Amount Due This Matter	\$2,066.00_	\$	2,066.00
Trustee v ARM Industries LLC (70108)			
Fees Total Amount Due This Matter	\$ <u>17,235.50</u>	\$	17,235.50
Meetings and Communications with Credi	tors (70110)		
Fees Total Amount Due This Matter	\$ 960.00	\$	960.00
Relief From Stay and Adequate Protection	ı (70130)		
Fees Total Amount Due This Matter	\$ 322.50	\$	322.50
Reporting (70210)			
Fees Total Amount Due This Matter	\$ 270.00	\$	270.00
Intellectual Property Advice and Tradema (70230)	rk Registration		
Fees Total Amount Due This Matter	\$ <u>1,058.50</u>	\$	1,058.50
Costs (99999)			
Disbursements and Other Charges Total Amount Due This Matter	\$9,092.25	\$	9,092.25
		_	

CURRENT INVOICE DUE - All Matters

Asset Disposition (70020)

\$38,567.50

FEES

DATE	NAME	HOURS	DESCRIPTION
05/01/18	M.J. Gearin	1.00	Participate in call with Trustee, Industrial Assets, R. May and Hoffs regarding potential extension to lease for conduct of auction
05/01/18	M.J. Gearin	2.50	Revisions to pleadings on reply to motion to approve Medalcraft sale (1.8); communications with Trustee and J. Moran regarding form of order approving sale (.7)
05/01/18	D. A. Lentz	0.70	Work with attorneys to review, revise and finalize reply to Medalcraft sale motion and declaration in support of same (.5); file documents with USBC (.2)
05/01/18	B. T. Peterson	0.20	Correspondence with D. Neu regarding die ownership issues
05/02/18	D. A. Lentz	1.50	Draft notice of presentment of order (.4); draft motion to shorten time (.4); draft order granting motion to shorten time (.2); review and finalize all documents for filing with court (.2); file documents with USBC (.2); upload order to shorten time for entry with court (.1)
05/02/18	D. A. Lentz	0.40	Update judge and hearing binders regarding replies and declarations filed
05/02/18	D. A. Lentz	0.30	Emails with attorneys regarding upload of order re boy scout sale motion (.2); upload order for entry with the Court (.1)
05/02/18	D.C. Neu	1.60	Review and edit M. Kaplan's edits to die protocol order (.5); emails with J. Kennedy regarding same (.5); review and edit notice of presentment and order (.6)
05/02/18	B. T. Peterson	0.90	Draft notice of presentation and order shortening time regarding order related to die settlement notice
05/03/18	M.J. Gearin	1.10	Participate in call with Industrial Assets, R. May, Hoffs and M. Parrish regarding disposition of equipment and auction
05/03/18	M.J. Gearin	0.60	Prepare for hearing on Medalcraft sale (.2); call with D. Smith to resolve Parrish objection (.2); meet with D. Neu regarding resolution of objection of die ownership claimants (.2)

DATE	NAME	HOURS	DESCRIPTION
05/03/18	D. A. Lentz	0.50	Review of order denying motion to shorten time on notice of presentation (.1); draft amended notice of presentation (.2); file amended notice of presentation with USBC (.1); calendar dates and deadlines (.1)
05/04/18	D.C. Neu	0.90	Revise and edit notice and order regarding dies (0.9)
05/07/18	M.J. Gearin	1.10	Communications with A. Willig regarding ANS sale agreement (.3); revisions to agreement (.6); communications regarding noticing issues on sale (.2)
05/07/18	M.J. Gearin	1.10	Communications regarding extension of deadline on Dayton lease for conduct of auction
05/07/18	D. A. Lentz	0.10	File notice of intent to argue regarding notice of presentation and follow up phone call to Judge's chambers regarding same
05/07/18	D. A. Lentz	0.30	Draft notice of hearing on motion to sell to American Numismatic
05/07/18	D.C. Neu	1.30	Calls with A. Willing regarding potential asset sale (.7); revise settlement protocol pleadings (.4); communicate with M. Kaplan regarding same (.2)
05/08/18	D.C. Neu	1.10	Communicate with USGA regarding dies (.2); email to E. Chacon regarding same (.2); follow-up with USGA regarding same (.1); call with M. Kaplan regarding die settlement (.3); revise form of settlement notice (.3)
05/09/18	D.C. Neu	1.10	Negotiate and finalize die settlement order and notice
05/10/18	D. A. Lentz	0.30	Review of denied order re die protocol (.1); update hearing binder for presentation of order hearing (.2)
05/10/18	D.C. Neu	4.30	Work on resolving issues related to die ownership with various claimants
05/11/18	D. A. Lentz	0.20	Draft bill of sale regarding Medalcraft sale
05/14/18	M.J. Gearin	2.00	Calls with A. Willig regarding ANS sale issues (.6); revisions to ANS purchase agreement (.9); call with Trustee regarding sale issues (.5)
05/14/18	D. A. Lentz	0.20	Confirm hearings regarding notice of die protocal and motion to abandon records with USBC
05/14/18	D.C. Neu	0.30	Analysis of edits to sale order
05/14/18	D.C. Neu	2.00	Call w/ Mark Calvert regarding die protocol (.3); review email from P. Wagner regarding same (.2); draft response to P. Wagner (.3); revise form of notice and order (1.2)

DATE	NAME	HOURS	DESCRIPTION
05/15/18	M.J. Gearin	1.00	Draft amendment to Industrial Assets sale agreement regarding extension of deadline to remove equipment
05/15/18	M.J. Gearin	1.10	Revisions to ANS purchase agreement (.5); communications with Trustee regarding same (.3); meet regarding draft of motion to approve sale and noticing issues (0.3)
05/15/18	M.J. Gearin	0.50	Communications regarding return of deposit for Canadian Coin
05/15/18	D. A. Lentz	0.80	Draft ex parte motion to shorten time re notice of American Numismatic sale motion (.3); draft ex parte order granting motion (.2); draft notice to die holders (.3)
05/15/18	D. A. Lentz	1.10	Draft first amendment to purchase agreement with Industrial Assets
05/15/18	D.C. Neu	1.50	Work on website issue related to die notice (1.0); communicate with P. Wagner regarding same (.3); call with M. Calvert regarding same (.2)
05/15/18	B. T. Peterson	2.10	Draft pleadings related to sale to ANS
05/16/18	M.J. Gearin	0.90	Communications regarding disposition of surplus equipment via Industrial Assets auction
05/16/18	D. A. Lentz	0.80	Work on sale motion documents/procedures for sale of assets to American Numismatic Society
05/16/18	D. A. Lentz	0.20	Finalize protocol order for upload to Court; upload order for entry with USBC
05/16/18	D.C. Neu	2.90	Call with M. Kaplan (.5); work on die disposal issues (2.4)
05/16/18	B. T. Peterson	1.60	Draft motion to shorten time and notice related to sale to American Numismatic
05/17/18	M.J. Gearin	1.00	Revisions to notice of ANS sale (.4); communications with A. Willig regarding same (.6)
05/17/18	D. A. Lentz	0.90	Work on sale motion procedures re sale of assets to American Numismatic Society (.5); revisions to and finalize notice of hearing on sale motion to be served (.4)
05/17/18	D. A. Lentz	2.70	Draft motion to establish deadline for disposition of R. Hansen's personal property and proposed order re same (1.2); work with M. Gearin to gather emails in support (.2) draft declaration in support of motion (.3); draft notice of hearing (.3); review and finalize all documents for filing with USBC (.4); file documents with USBC (.3)
05/17/18	D. A. Lentz	0.40	Begin draft of motion to shorten time on

DATE	NAME	HOURS	DESCRIPTION
05/17/18	D.C. Neu	1.80	auction motion Call with J. Shickich regarding closing of Boy Scout sale (.2); communicate with P. Wagner regarding issues related to same (.3); review emails regarding R. Hansen personal property (.3); analysis regarding ASN notice issues (.5); research regarding die settlement publication (.5)
05/17/18	B. T. Peterson	2.00	Draft motion to approve sale of miscellaneous property at auction (1.8); communicate with client regarding the same (.2)
05/18/18	M.J. Gearin	1.00	Communications with J. Crowe regarding amendment to Industrial Assets purchase agreement (.7); communications with A. Smith regarding extension of deadline on vacation of premises (.3)
05/18/18	M.J. Gearin	1.10	Revisions to pleadings on permission to auction surplus equipment
05/18/18	D. A. Lentz	0.50	Review and finalize notice of sale motion to be uploaded for service by Noticing Center (.2); serve special mailing matrix notice of hearing on sale motion (.3)
05/18/18	D. A. Lentz	0.50	Continue draft of ex parte motion to shorten time regarding auction motion (.3); draft of ex parte order to shorten time (.2)
05/18/18	D. A. Lentz	0.20	Conference with D. Neu regarding outcome of notice of presentation on die protocol motion (.1); upload new proposed order with USBC for entry with the court (.1)
05/18/18	D. A. Lentz	0.60	Calendar hearing dates and deadlines regarding motion on disposition of personal property (.2); service of notice of hearing on motion to special notice list (.4)
05/18/18	D.C. Neu	3.60	Prepare for and attend hearing on die settlement (3); review and edit order for D. Bailey comments (.4); communicate with client regarding same (.2)
05/18/18	B. T. Peterson	2.10	Draft pleadings in connection with sale to American Numismatic Society
05/19/18	B. T. Peterson	1.10	Draft pleadings related to sale to American Numismatic Society
05/21/18 05/21/18	M.J. Gearin D. A. Lentz	0.70 0.80	Revisions to ANS sale pleadings Review of order entered on die protocol motion and conference with D. Neu regarding same (.2); research regarding trade magazine or newspaper for publication of notice (.4); telephone conference with D. Neu and P. Wagner regarding NWTM die mailing list (.2)

DATE	NAME	HOURS	DESCRIPTION
05/21/18	D.C. Neu	2.70	Email P. Wagner regarding notice service list (.2); call with P. Wagner regarding same (.4); research regarding potential publication sources (1.1); work on notice list (.9)
05/21/18	B. T. Peterson	0.60	Draft American Numismatic Society sale pleadings
05/22/18	M.J. Gearin	1.50	Finalize comments to ANS sale motion (.9); communications with A. Willig regarding form of motion and sale issues (.6)
05/22/18	D. A. Lentz	0.40	Numerous phone calls and emails with Coin World regarding publication of die protocol notice
05/22/18	D. A. Lentz	0.50	Review of NWTM die mailing list received from P. Wagner (.1); phone call with D. Neu and P. Wagner regarding same (.1); work with global shared business services to consolidate duplicate addresses and turn excel spreadsheet into form for The Noticing Center (.3)
05/22/18	D.C. Neu	2.10	Communicate with P. Wagner regarding notice issues (.2); communicate with client regarding same (.5); work on notice list (1.1); review publication notice (.3)
05/23/18	M.J. Gearin	1.00	Draft revisions to assignment of copyrights in connection with ANS sale (0.8); communications with A. Willig regarding same (0.2)
05/23/18	D. A. Lentz	1.00	Email from Coin World with ad proof for review and approval (.1); confirm approval with D. Neu and send email to Coin World (.1); multiple communications with global shared services department regarding status of mailing list for NWTM die holders (.2); work on mailing list for die holders in preparation to send to The Noticing Center (.3); continued phone calls with global shared services department (.3)
05/23/18	D. A. Lentz	1.40	Request from M. Gearin to pull various Medallic documents regarding draft of sale motion to ANS (.3); review, revise and finalize motion to sale assets to ANS and corresponding documents and exhibits (.7); file motion and corresponding documents with USBC and send for service (.4)
05/23/18	D.C. Neu	0.80	Review publication notice (.2); continue to address customer list issues (.6)
05/24/18	M.J. Gearin	1.00	Work on motion to include excess equipment in auction

DATE	NAME	HOURS	DESCRIPTION
05/24/18	D. A. Lentz	0.50	Work with team to provide the Noticing Center with mail merge file in order to mail die protocol notice to 5500 customers
05/25/18	M.J. Gearin	2.50	Work with Trustee on identification of Green Bay items to be included in auction; finalize pleadings on motion to include surplus items in auction
05/25/18	D. A. Lentz	0.30	Confirm die notice was uploaded to NWTM website (.1); begin to field requests from die customers (.2)
05/25/18	D. A. Lentz	0.50	Voicemail from and telephone conversation with Judge's courtroom deputy regarding correction to sale motion for American Numismatic (.1); draft amended sale motion (.2); file amended sale motion with USBC and send for service (.2)
05/25/18	D. A. Lentz	2.20	Work on motion for order authorizing sale by auction of miscellaneous property and corresponding documents including motion to shorten time (.5); draft of notice of hearing regarding sale by auction (.3); send notice of hearing for service on special notice list (.3); prepare exhibit to Calvert declaration (.3); review and finalize all documents for filing with USBC (.4); file motion and all corresponding documents with USBC (.4)
05/25/18	D.C. Neu	0.80	Call with client regarding die settlement inspection (.4); call with E. Chacon regarding same (.2); call with Tre Kennedy regarding same (.2)
05/25/18	B. T. Peterson	2.30	Draft and finalize pleadings in support of auction motion
05/29/18	M.J. Gearin	0.80	Communications regarding intellectual property assignment documentation in connection with ANS sale
05/29/18	D. A. Lentz	0.50	Review of filed motion for approval to sell miscellanouse property by auction and forward same to client (.2); calendar dates and deadlines regarding proposed hearing date (.1); forward executed first amendment to purchase agreement to Industrial Assets (.1); review of order denying motion to shorten time (.1)
05/29/18	D. A. Lentz	0.70	Meet with D. Neu re NWTM die issue questions and phone call with M. Calvert re same (.3); review of die recovery request forms received (.4)
05/29/18	D.C. Neu	1.90	Meeting to discuss die requests (.5); call with

DATE	NAME	HOURS	DESC	RIPTION	
			verific		related to same (.3); on and posting (.3); I to requests (.8)
05/30/18	M.J. Gearin	0.90	Call w	rith S. Feingold a ding copyright iss	
05/30/18	D. A. Lentz	0.50	Prepa Ameri	re proof of service can Numismatic loticing Center a	se on sale motion to Society for service by and service by K&L
05/30/18	D. A. Lentz	0.40	on Me	edallic Arts 2009	earin regarding research sale and related assets ition requested (.3)
05/30/18	D. A. Lentz	1.30	Telep Calve protoc teleph regard	hone conference rt, P. Wagner an col settlement pro cone calls with N ding die settleme	. , ,
05/30/18	D.C. Neu	1.70	Call w claims interve	rith client regardings (.6); research re ention (.6); call B ds issues (.1); be	ng addressing die egarding criminal . Werner to discuss gin response related to
05/31/18	M.J. Gearin	0.50		nunications with uction issues	Trustee re ANS sale
05/31/18	D. A. Lentz	0.60	holder regard excha	rs (.3); review of ding revision to n	nd emails from die email from J. Baker otice (.1); email orld regarding updating
05/31/18	D.C. Neu	1.40		nunicate with clie	nt regarding die issues (.7)
		TOTAL FEES		96.40 hrs	\$38,567.50
TIMEKEEPER SUMMARY					
M.J. Gearin	1	24.90	hrs at	\$ 540.00	hr 13,446.00
D. A. Lentz		24.80	hrs at	\$ 215.00	•
D.C. Neu		33.80	hrs at	\$ 450.00	•
B. T. Peters	son	12.90	hrs at	\$ 355.00	
		TOTAL FEES		96.40 hrs	\$ <u>38,567.50</u>

Invoice # 3577808 2070561 Page 10 of 23

MATTER SUMMARY

MATTER TOTAL

Invoice # 3577808 2070561 Page 11 of 23

Business Operations (70030)

\$285.50

\$ 285.50

FEES

DATE	NAME	HOURS	DESCRIPTION	
05/01/18	D. A. Lentz	0.20	Review of emails from D. Neu regarding	
			continuation of hearing on motion to des	stroy
			business records (.1); file notice of continuation with USBC and update cale	ndar
			as necessary (.1)	iluai
05/08/18	D. A. Lentz	0.30	Draft letter to court re telephonic appear	ance
00/00/10	D. A. LOME	0.00	by M. Calvert (.2); file letter with USBC (
05/22/18	D. A. Lentz	0.20	Review hearing transcript (.1); update he	
			dates and deadlines regarding records	
			destruction motion (.1)	
05/31/18	D.C. Neu	0.30	Review P. Wagner contract	
		TOTAL FEES	1.00 hrs \$	<u> 285.50</u>
		TIMEKEEPI	ER SUMMARY	
D. A. Lentz		0.70	hrs at \$ 215.00 / hr	150.50
D.C. Neu			•	135.00
		TOTAL FEES	1.00 hrs \$	285.50
			· · · · · · · · · · · · · · · · · · ·	
		MATTER	SUMMARY	
Fees			\$	285.50

Invoice # 3577808 2070561 Page 12 of 23

Case Administration (70040)

\$15,187.50

FEES

DATE	NAME	HOURS	DESCRIPTION
05/01/18	M.J. Gearin	2.30	Revisions to pleadings on reply to motion to convert case (1.9); calls with Trustee regarding same (.4)
05/01/18	D. A. Lentz	1.00	Draft declaration of M. Calvert in support of reply re motion to convert case (.3); work with attorneys to review, revise and finalize reply to conversion motion and declaration in support of same (.5); file documents with USBC (.2)
05/01/18	B. T. Peterson	1.00	Draft reply pleadings in support of conversion
05/03/18	M.J. Gearin	0.70	Prepare for hearing on motion to convert (.5); call with M. Smith or UST office regarding same (.2)
05/03/18	D.C. Neu	3.50	Meeting to discuss liquidation tasks (.5); communicate with P. Wagner regarding records (.4); call with client regarding same (.2); draft email to B. Werner and D. Carroll regarding records (.4) call with M. Kaplan regarding die issues (.6); call with P. Wagner regarding same (.2); meeting with B. Carey regarding dies (.5); address issues related to same (.6)
05/04/18	D.C. Neu	0.50	Meeting with M. Gearin regarding hearings and work coordination
05/04/18	D.C. Neu	0.40	Communications regarding destruction of records (.4)
05/09/18	M.J. Gearin	0.50	Call and follow up email to G. Dyer regarding Trustee's offer to provide information in response to court filings
05/14/18	M.J. Gearin	1.00	Call with Trustee regarding preparations for meeting with US Trustee (.6); email exchange with G. Dyer regarding same (.4)
05/14/18	M.J. Gearin	1.00	Call with Trustee regarding multiple case administration issues and case planning for windup
05/15/18	D.C. Neu	0.20	Draft email to D. Caroll and B. Wagner regarding records
05/17/18	M.J. Gearin	0.70	Call with Trustee regarding preparations for meeting with UST (.2); review of materials on file in court (.5)
05/17/18	M.J. Gearin	2.10	Draft motion to set deadlines regarding Hansen personal property and associated pleadings
05/17/18	D.C. Neu	0.50	Send emails to D. Carrol and B. Werner

DATE	NAME	HOURS	DESC	CRIPTION	
05/21/18	M.J. Gearin	1.50	with M Revie	ding records issues (.3); comm M. Gearin regarding same (.2) w of materials from court file re trations for meeting with US Tru	egarding
05/22/18	M.J. Gearin	1.50	(1.0); same	email summary to Trustee rega	arding
00/22/10	w.o. Ocarii	1.50	admin	nistration issues including prepa ng with US Trustee; preparatio	aration for
05/23/18	M.J. Gearin	2.40	with T	w of tapes of court hearings (1 rustee regarding preparations ng with US Trustee (1.4)	
05/23/18	D. A. Lentz	0.30	Gilmo docun Truste same	mail from and telephone call wore regarding request for court ments in preparation of meetingee (.1); meeting with M. Gearin (.1); find requested documents rd to J. Gilmore (.1)	g with U.S. regarding
05/24/18	M.J. Gearin	3.50		are for and participate in meeting ee and UST representatives G. nith	
05/29/18	D.C. Neu	1.60	record	w motion for guidance on reter ds (.6); research related to proc ention (1)	
05/31/18	D.C. Neu	5.00	Call B Werne motion	B. Werner (.1); follow-up call wit er (.2); draft response to spolia n (4.5); communicate with clier ding same (.2)	tion
		TOTAL FEES	rogare	31.20 hrs \$	<u>15,187.50</u>
		TIMEKEEP	ER SUN	MMARY	
M.J. Gearin	1	17.20	hrs at	\$ 540.00 / hr	9,288.00
D. A. Lentz		1.30	hrs at	\$ 215.00 / hr	279.50
D.C. Neu		11.70	hrs at	\$ 450.00 / hr	5,265.00
B. T. Peters	son	1.00	hrs at	\$ 355.00 / hr	355.00
		TOTAL FEES		31.20 hrs \$	<u>15,187.50</u>

Invoice # 3577808 2070561 Page 14 of 23

MATTER SUMMARY

Fees \$ \(\frac{15,187.50}{ \textbf{MATTER TOTAL}} \)

Claims, Administration and Objections (70050)

\$6,716.50

FEES

DATE	NAME	HOURS	DESCRIPTION
05/08/18	D.C. Neu	3.60	Review B. Attala motion for allowance of administrative claim (1); research and analysis regarding same (2.1); call with D. Bailey regarding same (.5)
05/09/18	D.C. Neu	2.20	Research regarding Nevada law on wage issues (1.9); review employee handbook (.3)
05/09/18	D.C. Neu	0.50	Call with M. Northrup regarding claims issues (.3); call with M. Calvert regarding same (.2)
05/11/18	D. A. Lentz	0.60	Review and finalize response and declaration in support of response to Atalla motion (.3); file both documents with USBC (.3)
05/11/18	D.C. Neu	4.90	Work on objection to Atalla claim and supporting declaration
05/14/18	D. A. Lentz	0.50	Draft letter for M. Calvert to appear telephonically at hearing on Atalla motion (.2); prepare hearing notebook for motion (.2); file letter to appear telephonically with USBC (.1)
05/14/18	D.C. Neu	0.50	Review Atalla emails
05/15/18	D.C. Neu	1.50	Review and analyze reply to claim objection (1); communicate with client regarding same (.2); review emails related to same (.3)
05/17/18	D.C. Neu	1.20 TOTAL FEES	Prepare for hearing on administrative claim 15.50 hrs \$6,716.50
		TIMEKEEPI	ER SUMMARY
D. A. Lentz D.C. Neu		1.10 14.40 TOTAL FEES	hrs at \$ 215.00 / hr 236.50 hrs at \$ 450.00 / hr 6,480.00 15.50 hrs \$ 6,716.50

MATTER SUMMARY

Fees \$ 6,716.50

MATTER TOTAL \$ 6,716.50

Invoice # 3577808 2070561 Page 16 of 23

American Express Fraudulent Transfer Action (70107)

\$2,066.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/10/18	D. A. Lentz	0.10	Review of notice of appeal and send to M. Calvert
05/22/18	D.C. Neu	2.00	Research and analysis related to appeal
05/23/18	D.C. Neu	1.00	Communicate with client regarding appeal issues (.3); follow up research on same (.7)
05/29/18	D. A. Lentz	0.30	Review of designation of record and briefing order filed by USDC (.2); submit to docketing for docketing of dates and deadlines (.1)
05/29/18	D.C. Neu	1.40	Review orders issued by BAP (.3); analysis of record and review of designation of record (.5); further analysis of law on abuse of discretion (.7)
		TOTAL FEES	4.80 hrs \$ <u>2,066.00</u>

TIMEKEEPER SUMMARY

	TOTAL FEES		4.8	0 hrs	\$	2,066.00
D.C. Neu	4.40	hrs at	\$	450.00 / h	r	1,980.00
D. A. Lentz	0.40	hrs at	\$	215.00 / h	r	86.00

rees	\$ 2,066.00
MATTER TOTAL	\$ <u>2,066.00</u>

Trustee v ARM Industries LLC (70108)

\$17,235.50

FEES

DATE	NAME	HOURS	DESCRIPTION
05/01/18	D. A. Lentz	1.20	Draft pretrial statement (.6); review of emails and documentation regarding status of equipment sold to ARM (.3); serve pretrial statement on opposing counsel (.2); review of defendant's pretrial statement served (.1)
05/01/18	B. T. Peterson	1.50	Draft pretrial statement and communicate with client regarding the same
05/02/18	B. T. Peterson	0.30	Communications with client regarding ARM adversary
05/04/18	B. T. Peterson	0.10	Email correspondence with client regarding case issues
05/08/18	B. T. Peterson	0.20	Communications with opposing counsel in ARM adversary proceeding
05/10/18	D. A. Lentz	1.10	(Calvert vs. ARM) Exhibit preparation for trial
05/10/18	B. T. Peterson	1.10	Preparation of exhibits for trial
05/11/18	D. A. Lentz	1.70	(Calvert vs. ARM) Work on trial exhibits
05/11/18	B. T. Peterson	1.60	Prepare exhibits for trial
05/13/18	B. T. Peterson	0.50	Prepare trial exhibits
05/14/18	D. A. Lentz	0.70	(Calvert vs. ARM) Draft initial pretrial brief and pretrial order for B. Peterson
05/14/18	B. T. Peterson	1.70	Draft trial brief (1.2); analyze issues for trial (.5)
05/15/18	D. A. Lentz	0.90	(Calvert vs. ARM) Finalize trial exhibits and send to opposing counsel
05/15/18	B. T. Peterson	2.80	Draft trial brief for trial
05/16/18	D. A. Lentz	0.50	Trial preparation re trial exhibits
05/16/18	B. T. Peterson	4.20	Research and draft trial brief
05/17/18	D. A. Lentz	0.30	Various trial preparation work with B. Peterson
05/17/18	B. T. Peterson	1.70	Draft pretrial order (1.3); draft email to opposing counsel regarding the same (1.4)
05/17/18	B. T. Peterson	1.00	Revise trial brief for ARM adversary (.9); communicate with client regarding the same (.1)
05/17/18	C.M. Wyant	0.40	Review and edit draft trial brief for ARM litigation; draft email to B. Peterson
05/18/18	D. A. Lentz	0.90	(Calvert vs. ARM) Various trial preparation work with B. Peterson (.4); review and revisions of pretrial brief (.3); finalize pretrial brief for filing with USBC and file with Court (.2)
05/21/18	D. A. Lentz	0.50	(Calvert vs. ARM) Conference with B. Peterson regarding pretrial order and local rules regarding same (.2); miscellaneous trial

Invoice # 3577808 2070561 Page 18 of 23

\$ <u>17,235.50</u> \$ <u>**17,235.50**</u>

DATE	NAME	HOURS	DESCRIPTION			
05/22/19	D A Lontz	1.30	prep with B. Peterson (.3)			
05/22/18	D. A. Lentz	1.30	(Calvert vs. ARM) Draft stipulated judgment and motion to approve stipulated judgment			
05/22/18	D. A. Lentz	0.50	Work with B. Peterson to finalize pretrial order			
			(.2); upload pretrial order for entry with the Court (.1); miscellaneous trial preparation with			
			B. Peterson (.2)			
05/22/18	B. T. Peterson	1.90	Review submission by R. Parr in adversary			
			proceeding (.4); correspondence with opposing counsel regarding pretrial order (.2);			
			preparation for trial (1.3)			
05/23/18	D. A. Lentz	0.70	(Calvert vs. ARM) Miscellaneous trial			
05/23/18	B. T. Peterson	6.40	preparation with B. Peterson Prepare witness outline and trial testimony			
05/24/18	B. T. Peterson	4.50	Argument and witness testimony preparation			
			for trial			
05/25/18	D. A. Lentz	0.90	(Calvert vs. ARM) Miscellaneous trial			
			preparation with B. Peterson (.8); send trial exhibits to chambers per trial order (.1)			
05/25/18	B. T. Peterson	2.50	Preparation of witness outlines			
05/28/18	B. T. Peterson	4.30	Preparation for trial in ARM adversary			
05/29/18	B. T. Peterson	4.80	proceeding Prepare for and attend trial			
05/29/18	D. A. Lentz	0.20	Calvert vs. Arm review of letter from Judge's			
00/00/10	D. 7t. 20112	0.20	chambers regarding scheduled oral ruling (.1)			
			forward to client and calendar dates as			
	TOTA	L FEES	needed (.1) 52.90 hrs \$17,235.5			
			<u> </u>			
		TIMEKEEP	ER SUMMARY			
D. A. Lentz			hrs at \$ 215.00 / hr 2,451.00			
B. T. Peters C.M. Wyan			hrs at \$ 355.00 / hr 14,590.50 hrs at \$ 485.00 / hr 194.00			
C.IVI. VV yari		L FEES	52.90 hrs \$ 17,235.5			
			· 			
	MATTER SUMMARY					

Fees

MATTER TOTAL

Meetings and Communications with Creditors (70110)

\$960.00

FEES

DATE	NAME	HOURS	DESCRIPTION
05/03/18	D. A. Lentz	0.50	Field phone calls and voicemails from creditors (.3); draft response letter to creditor (.2)
05/09/18	D. A. Lentz	0.20	Field phone calls and emails from customers regarding status of die issue
05/18/18	D. A. Lentz	0.10	Field phone calls from creditors regarding status of case
05/22/18	D. A. Lentz	0.20	Field telephone calls from creditors regarding status of case
05/23/18	D. A. Lentz	0.20	Field phone calls and voicemails with creditors regarding status of the case
05/23/18	D.C. Neu	0.70	Research related to creditor letter
05/25/18	D. A. Lentz	1.10	Field large number of phone calls and emails with creditors regarding status of case and die customer issues
05/29/18	D. A. Lentz	0.20	Field phone calls and voice mails from creditors regarding status of case
05/30/18	D. A. Lentz	0.50	Field multiple phone calls and voice mails from creditors regarding status of case
		TOTAL FEES	3.70 hrs \$ <u>960.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	3.00	hrs at	\$	215.00 / hr	645.00
D.C. Neu	0.70	hrs at	\$	450.00 / hr	315.00
	TOTAL FEES		3.7	0 hrs	\$ 960.00

Fees	\$ <u>960.00</u>
MATTER TOTAL	\$ <u>960.00</u>

MATTER TOTAL

Relief From Stay and Adequate Protection (70130)

\$322.50

322.50

FEES

DATE	NAME	HOURS	DESCRIPTION				
05/18/18	D. A. Lentz	1.10	Draft stipulation extending the date to vacate Dayton premises (.7); draft stipulated order regarding same (.4)				
05/22/18	D. A. Lentz	0.40	Review and finalize stipulation and stipulated order extending deadline under relief from stay order (.2); file stipulation and upload order for entry with the Court (.2)				
		TOTAL FEES	1.50 hrs	\$ 322.50			
		TIMEKEEP	ER SUMMARY				
D. A. Lentz		1.50	hrs at \$ 215.00 / hr	322.50			
		TOTAL FEES	1.50 hrs	\$ 322.50			
	MATTER SUMMARY						
Fees				\$ 322.50			

MATTER TOTAL

Invoice # 3577808 2070561 Page 21 of 23

Reporting (70210)	\$270.00
	+=: 0:00

<u>FEES</u>					
DATE 05/30/18	NAME M.J. Gearin	HOURS 0.50 TOTAL FEES	DESCRIPTION Comments to monthly report 0.50 hrs	\$	270.00
M.J. Gearin			ER SUMMARY hrs at \$ 540.00 / hr 0.50 hrs	\$	270.00 270.00
Fees		MATTER	SUMMARY	\$	270.00

Invoice # 3577808 2070561 Page 22 of 23

Intellectual Property Advice and Trademark Registration (70230)

\$1,058.50

FEES

DATE	NAME	HOURS	DESCRIPTION
05/22/18	R. W. Edmondson	1.30	Review and assess copyright assignment; investigate copyright registrations owned by Medallic Art Company, Ltd.
05/23/18	R. W. Edmondson	1.30	Review and redline copyright assignment (.3); review 2009 Asset Purchase Agreement (.3); research current address of Robert Hoff (.1); work on emails regarding the same (.3)
05/30/18	R. W. Edmondson	0.30	Work on email regarding suggested changes to American Numismatic Society's proposed copyright assignment
	TOTAL	FEES	2.90 hrs \$ <u>1,058.50</u>

TIMEKEEPER SUMMARY

R. W. Edmondson	2.90 hrs at	\$ 365.00 / hr		1,058.50
	TOTAL FEES	2.90 hrs	\$_	1,058.50

Fees	\$ 1,058.50
MATTER TOTAL	\$ 1,058.50

Invoice # 3577808 2070561 Page 23 of 23

Costs (99999) \$9,092.25

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
05/09/18	Local Courier - Halo Messenger Services, LLC - 05022018 - 04/17/2018 - Local Courier Service - USBC	15.00
05/09/18	Local Courier - Halo Messenger Services, LLC - 05022018 - 04/26/2018 - Local Courier Service - 1825 NW 65th St	80.00
05/09/18	Local Courier - Halo Messenger Services, LLC - 05022018 - 04/30/2018 - Local Courier Service - USBC	15.00
05/14/18	Travel Expenses - Gearin, Michael - Parking - 2018-05-04 - IMPARK 00250010 - May 4 hearing parking	12.00
05/14/18	Travel Expenses - Neu, David - Parking - 2018-04-20 - IMPARK 00250010 - NWTM Hearing Parking	15.00
05/22/18	Westlaw - CM1W - 05/22/2018 - 05/22/2018	15.45
05/25/18	Westlaw - BTP - 05/15/2018 - 05/25/2018	569.70
05/28/18	Fee for mailing Notice of Protocol re Dies	3,699.41
05/28/18	USBC Washington/Audio CD	31.00
05/28/18	Amos Advertising/Publications for 6/11, 6/18,	2,385.00
05/28/18	USBC Washington/Court Filing	181.00
05/31/18	Westlaw - DCN - 05/09/2018 - 05/31/2018	2,073.69
	DISBURSEMENTS & OTHER CHARGES	\$ 9,092.25

Disbursements and Other Charges	\$_	9,092.25
MATTER TOTAL	\$_	9,092.25

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577484 Services Through : May 31, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$<u>300.48</u>

300.48

CURRENT INVOICE DUE - All Matters

\$ 300.48

501935283 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

<u>Wire/ACH/EDI Instructions</u>: Receiving Bank: PNC Bank N.A, 500 First Ave 92

500 First Ave 92 Pittsburgh, PA 15219 Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577484 2070561 Page 2 of 2

Litigation e-DAT Fees (77100)		\$300.48				
DISBURSEMENTS & OTHER CHARGES						
DATE	DESCRIPTION	AMOUNT				
05/31/18	Ringtail Fees: May 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48				
	DISBURSEMENTS & OTHER CHARGES	\$300.48				
MATTER SUMMARY						
Disbursem MATTER 1	ents and Other Charges 「OTAL	\$ 300.48 300.48				

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date November 1, 2018

Invoice Number 3577818 Services Through: June 30, 2018 Our File Number

2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees 31,295.00

Total Amount Due This Matter 31,295.00

Business Operations (70030)

Fees 248.50

Total Amount Due This Matter 248.50

Case Administration (70040)

Fees 6,540.00

Total Amount Due This Matter \$ 6,540.00

Claims, Administration and Objections (70050)

Fees 17,760.00

Total Amount Due This Matter 17,760.00

501937620 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Acct No.: 1077692783 Swift Code: PNCCUS33 500 First Ave 92

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

		F	2070561 Page 2 of 26
Employee Benefits/Pensions (70060)			
Fees Total Amount Due This Matter	\$ <u>1,631.50</u>	\$	1,631.50
Financing and Cash Collateral (70090)			
Fees Total Amount Due This Matter	\$ 1,792.00	\$	1,792.00
Litigation (70100)			
Fees Total Amount Due This Matter	\$236.50	\$	236.50
American Express Fraudulent Transfer Action	n (70107)		
Fees Total Amount Due This Matter	\$ 225.00	\$	225.00
Trustee v ARM Industries LLC (70108)			
Fees Total Amount Due This Matter	\$ 355.00	\$	355.00
Meetings and Communications with Creditors	s (70110)		
Fees Total Amount Due This Matter	\$ <u>551.50</u>	\$	551.50
Relief From Stay and Adequate Protection (70130)			
Fees Total Amount Due This Matter	\$86.00	\$	86.00
Reporting (70210)			
Fees Total Amount Due This Matter	\$ 302.00	\$	302.00

Invoice # 3577818

Invoice # 3577818 2070561 Page 3 of 26

Costs (99999)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ ____5,100.57

\$ 5,100.57

CURRENT INVOICE DUE - All Matters

\$ <u>66,123.57</u>

Asset Disposition (70020)

\$31,295.00

		HOURS	DESCRIPTION
06/01/18	M.J. Gearin	1.10	Calls with Trustee and Industrial Assets regarding landlord concerns regarding auction and reservation of assets from auction sale
06/04/18	M.J. Gearin	1.10	Communications with A. Willig and Trustee regarding ANS closing issues (.3); finalize bill of sale and IP assignment (.8)
06/04/18	D. A. Lentz	1.60	Field phone calls and emails from die customers re settlement protocol notice (.8); email corrected settlement protocol notice to 3000 die customers (.9)
06/05/18	M.J. Gearin	0.80	Communications with Trustee and D. Smith regarding assets included in auction including issues raised by Hansen counsel as to alleged personal assets
06/05/18	M.J. Gearin	0.40	Communications regarding ANS sale closing issues including personal property tax issues
06/05/18	D. A. Lentz	4.80	Email corrected settlement protocol notice to remaining 5400 die customers (1.3); field emails, phone calls, voicemails, correspondence regarding die requests (3.5)
06/06/18	D. A. Lentz	3.10	Field emails, phone calls, voicemails, correspondence regarding die requests
06/06/18	D.C. Neu	0.30	Review emails from A. Willig regarding ANS closing
06/06/18	D.C. Neu	1.30	Address issues related to die settlements
06/07/18	M.J. Gearin	1.00	Review and analyze response to motion to dispose of Hansen personal property; meet regarding draft of reply
06/07/18	D. A. Lentz	1.60	Field emails, phone calls, voicemails, correspondence regarding die requests
06/07/18	D. A. Lentz	0.20	Review response to motion re disposition of personal property (.1); file notice of intent to argue with USBC regarding hearing on motion (.1)
06/07/18	D.C. Neu	0.90	Review objection to motion to pick up property (.4); edit response to same (.5)
06/08/18 501937620 v2	D. A. Lentz	0.90	Hearing binder for D. Neu (.2); review and finalize reply in support of trustee's motion for order establishing deadline regarding disposition of personal property (.2); prepare proof of service of motion and notice of hearing (.3); file proof of service with USBC (.1); file reply to trustee's motion with USBC

DATE	NAME	HOURS	DESCRIPTION
			(.1)
06/08/18	D. A. Lentz	1.00	Hearing binder for D. Neu and Judge on sale motion to American Numismatic (.3); draft reply to sale motion (.3); review and finalize reply for filing with USBC (.2); file reply with
			USBC (.2)
06/08/18	D. A. Lentz	0.40	Field emails, phone calls, voicemails, correspondence regarding die requests
06/08/18	D.C. Neu	0.60	Work on resolution of issues related to ANS sale
06/11/18	D. A. Lentz	0.60	Draft correction to reply (.2); emails with opposing counsel regarding same (.2); file correction to reply with USBC (.2)
06/11/18	D. A. Lentz	0.20	Field emails, phone calls, voicemails, correspondence regarding die requests
06/11/18	D.C. Neu	0.90	Call with M. Calvert regarding die issues and records issues (.3); edit filing on ANS sale (.6)
06/11/18	B. T. Peterson	1.60	Draft motion pleadings for sale of remaining property of estate
06/12/18	D. A. Lentz	0.70	Draft notice of hearing on motion to sell remaining property (.4); review and finalize notice of hearing (.1); send for service to special notice list (.2)
06/12/18	D. A. Lentz	0.50	Field emails, phone calls, voicemails, correspondence regarding die requests
06/12/18	D. A. Lentz	0.20	Update hearing binders for D. Neu
06/12/18	D.C. Neu	0.60	Prepare for hearings on sale and records issues
06/12/18	B. T. Peterson	0.60	Draft notice of hearing for motion for authority to sell remaining property (0.6)
06/13/18	D.C. Neu	4.70	Prepare for and attend hearings (3.5); communicate with M. Kaplan regarding result (.2); review revised order (.2); email J. Kornfeld (.1); communicate with client regarding hearing (.2); communicate with USDC regarding hearing on records (.2); review dies claims (.5)
06/14/18	D. A. Lentz	0.30	Draft Calvert declaration in support of sale of remaining assets
06/14/18	D. A. Lentz	0.60	Field emails, phone calls, voicemails, correspondence regarding die requests
06/14/18	D.C. Neu	1.10	Review revision to ANS order (.1); work on die disposition issues (1)
06/14/18	B. T. Peterson	2.50	Draft pleadings in support of motion for sale of remaining property of estate
06/15/18	D. A. Lentz	1.30	Draft order on sale motion (.3); review and finalize motion for order authorizing sale of remaining property (.2); emails and telephone

DATE	NAME	HOURS	DESCRIPTION
			call to M. Calvert regarding declaration and exhibit to same (.2); review and finalize all motion documents for filing with USBC (.3); file motion and related documents with USBC (.3)
06/15/18	D.C. Neu	1.80	Communicate with R. Powers regarding records (.2); call with J. Kornfeld regarding ANS closing (.3); work on die release issues (.5); communicate with client regarding records (.1); work on ANS closing (.5)
06/15/18	B. T. Peterson	1.00	Finalize pleadings related to sale motion
06/18/18	D. A. Lentz	0.20	Calendar dates and deadlines regarding hearing on motion to sell remaining property (.1); email to client regarding documents filed (.1)
06/18/18	D. A. Lentz	0.60	Field emails, phone calls, voicemails, correspondence regarding die requests
06/18/18	D.C. Neu	1.40	Address issues related to dies (1.4)
06/19/18	D. A. Lentz	0.30	Phone call with M. Calvert, J. Baker and D. Neu regarding die return requests issues
06/19/18	D. A. Lentz	0.10	Review of motion to enforce court order filed by interested parties and forward copy of same to attorneys' and client
06/19/18	D. A. Lentz	0.50	Field emails, phone calls, voicemails, correspondence regarding die requests
06/19/18	D.C. Neu	3.80	Call with M. Calvert regarding records (.4); call regarding servers (1.0); work on closing ANS sale (.6); call with J. Baker and M. Calvert regarding dies (.4); call with B. Werner regarding filing cabinets (.3); conference call regarding records (.6); draft email regarding dies (.5)
06/19/18	D.C. Neu	2.00	Review and analyze motion filed by M. Kaplan (2.0)
06/20/18	D. A. Lentz	1.30	Field emails, phone calls, voicemails, correspondence regarding die requests
06/20/18	D.C. Neu	0.20	Call with Amy Willig regarding ANS closing
06/20/18	D.C. Neu	1.00	Address issues related to die email
06/21/18	D. A. Lentz	0.60	Field emails, phone calls, voicemails, correspondence regarding die requests
06/21/18	D. A. Lentz	0.30	Work with D. Neu on response to motion for order to enforce prior court order
06/21/18	D.C. Neu	6.80	Review and analyze motion to enforce order (1); gather information related to die customer email (1.5); work on drafting response (4.2)
06/22/18	M.J. Gearin	0.40	Call and email with die customers including E. Levey, counsel for CD California Bankruptcy Court

DATE	NAME	HOURS	DESCRIPTION
06/22/18	D. A. Lentz	0.40	Prepare proof of service of notice of hearing on motion sell remaining property (.3); file proof of service with USBC (.1)
06/22/18	D.C. Neu	2.80	Call with client regarding B. Carey dies (.3); research regarding Central California Bankruptcy Court dies (.4); revise and edit die response (2.1)
06/22/18	D.C. Neu	0.80	Communicate with J. Baker regarding die issues (.8)
06/25/18	D. A. Lentz	0.40	Field emails, phone calls, voicemails, correspondence regarding die requests
06/25/18	D.C. Neu	4.90	Communicate with J. Shickich regarding Boy Scout closing (.2); draft and edit supporting declarations (2.5); update response (1.8); communicate with E. Chacon regarding records reviews (1.4)
06/26/18	D.C. Neu	1.80	Revise and edit die response (.9); communicate with J. Baker regarding responses to die issues (.3); call with M. Calvert regarding same (.3); email J. Baker regarding same (.1)
06/27/18	D. A. Lentz	0.30	Calendar dates and deadlines regarding omnibus hearing on die issue (.1); conference with D. Neu regarding issues of same (.2)
06/27/18	D.C. Neu	1.90	Communicate with R. Powers regarding records (.2); call with M. Calvert regarding same (.2); communicate with L. Lee regarding dies (.2); research related to same (.3); communicate with M. Calvert regarding same (.2); review latest information on die returns and requests (.4); review documents related to die request (.4)
06/28/18	D. A. Lentz	0.20	Field phone calls and emails regarding die return requests
06/28/18	D.C. Neu	2.50	Call regarding resolution of records (1.0); revise die response (.6); work on server issues (.9)
06/29/18	M.J. Gearin	0.50	Provide comments to response to motion to enforce die protocol order
06/29/18	D. A. Lentz	1.10	Prepare exhibits to declarations in response to motion to enforce order (.5); review and finalize response to motion to enforce order and corresponding declarations and file with USBC (.6)
06/29/18	D. A. Lentz	1.00	Field phone calls and emails from die request customers (.3); review of files regarding contact from die customers prior to die protocol notice (.7)

Invoice # 3577818 2070561 Page 8 of 26

DATE	NAME	HOURS	DESC	RIPT	ION	
06/29/18	D.C. Neu	4.50	comm perso Hanse issues (.2); r Payne stipula edit sa regard same	nunica nal pro en def s (.2); review e dies ation r ame (' ding E (.5); fi	ection to motion to te with client rega- operty (.3); common ense counsel reg- call with client regarding (.1); respond to segarding records 1.0); review object. Chacon (.3); resinalize response art order (1.2)	arding Hansen nunicate with larding records garding same Helmrich & same (.1); review (.4); revise and stion to motion search related to
		TOTAL FEES		82.9	90 hrs	\$ <u>31,295.00</u>
		TIMEKEEP	PER SUM	<u>/IMAR</u>	<u>ry</u>	
M.J. Gearin	1	5.30	hrs at	\$	540.00 / hr	2,862.00
D. A. Lentz		25.30	hrs at	\$	215.00 / hr	5,439.50
D.C. Neu		46.60	hrs at	\$	450.00 / hr	20,970.00
B. T. Peters	son	5.70	hrs at	\$	355.00 / hr	2,023.50
		TOTAL FEES		82.9	90 hrs	\$ <u>31,295.00</u>
		MATTER	R SUMM	 I <u>ARY</u>		
Fees MATTER T	OTAL					\$ 31,295.00 \$ 31,295.00

MATTER TOTAL

Invoice # 3577818 2070561 Page 9 of 26

Business Operations (70030)

\$248.50

248.50

DATE	NAME	HOURS	DESC	RIPTION		
06/12/18	B. T. Peterson	0.50		notice of hearing fo ion bonus	r motion to a	ipprove
06/29/18	B. T. Peterson	0.20		w objection to reter y B. Atalla	ntion bonus r	notion
	TOTAL	FEES		0.70 hrs	\$	248.50
	TIMEKEEPER SUMMARY					
B. T. Peters	son	0.70	hrs at	\$ 355.00 / h	r	248.50
	TOTAL	FEES		0.70 hrs	\$	248.50
		MATTER	SUMM	 ARY		
Fees					\$	248.50

Case Administration (70040)

\$6,540.00

DATE	NAME	HOURS	DESCRIPTION
06/01/18	D. A. Lentz	1.20	Draft of notice of appearance in criminal proceeding (.3); telephone conversations with USDC regarding being added to docket as interested party (.2); file notice of appearance with USDC (.2); finalize and file response to spoilation motion and declaration in support of same (.3); send judge's copies to chambers per local rules (.2)
06/01/18	D.C. Neu	2.20	Revise pleadings regarding spoliation or records
06/07/18	D.C. Neu	0.30	Communicate with opposing counsel regarding motion to abandon records
06/07/18	B. T. Peterson	1.40	Draft reply in support of motion related to retrieval of Hansen personal items
06/12/18	B. T. Peterson	0.00	Draft notice of hearing for motion for authority to sell remaining property (0.6)
06/18/18	D. A. Lentz	0.20	Emails with M. Gearin and B. Peterson regarding filing of supplemental budget
06/18/18	D.C. Neu	5.10	Prepare for and attend hearing on records motion (2.5); meeting with B. Werner and D. Carrol to discuss records issues (2.1); communicate with client regarding same (.5)
06/19/18	M.J. Gearin	0.80	Meet with D. Neu and B. Peterson regarding coordination of case tasks
06/20/18	D.C. Neu	1.10	Review and respond to questions from M. Miller regarding data servers (.7); call with P. Wagner regarding same (.4)
06/21/18	D.C. Neu	0.40	Communicate with D. Carroll regarding records (.2); communicate with client regarding same (.1); review email from B. Werner regarding same (.1)
06/22/18	D.C. Neu	1.30	Call with B. Werner and D. Carroll regarding records issues (.5); communicate with P. Wagner regarding servers (.3); respond to questions regarding same (.4)
06/26/18	D.C. Neu	0.50	Call with R. Powers regarding records abandonment (.3); communicate with client regarding same (.2)
06/28/18	D.C. Neu	0.90	Communicate with Karr Tuttle regarding privilege issues and turnover of client filed to R. Hansen's defense counsel (.2); analysis of same (.7)
	TOT	AL FEES	15.40 hrs \$ <u>6,540.00</u>
501937620 v2			

Invoice # 3577818 2070561 Page 11 of 26

TIMEKEEPER SUMMARY

M.J. Gearin	0.80	hrs at	\$	540.00 / hr	432.00
D. A. Lentz	1.40	hrs at	\$	215.00 / hr	301.00
D.C. Neu	11.80	hrs at	\$	450.00 / hr	5,310.00
B. T. Peterson	1.40	hrs at	\$	355.00 / hr	497.00
	TOTAL FEES		15.40 hrs		\$ 6,540.00

MATTER SUMMARY

Fees \$ $\frac{6,540.00}{\text{MATTER TOTAL}}$$$

Claims, Administration and Objections (70050)

\$17,760.00

DATE	NAME	HOURS	DESCRIPTION
06/04/18	B. T. Peterson	2.00	Draft pleadings related to appointment of mediator related to WARN Act claims dispute
06/05/18	B. T. Peterson	0.30	Conference with M. Gearin regarding WARN Act claims
06/06/18	M.J. Gearin	1.00	Review research re WARN Act claims; meet re preparations for call with mediator
06/06/18	B. T. Peterson	2.10	Research related to WARN Act liability
06/07/18	B. T. Peterson	1.00	Research related to WARN Act claims
06/11/18	D.C. Neu	0.60	Review filing by B. Carey
06/11/18	D.C. Neu	0.60	Work on Atalla claim litigation discovery
06/12/18	D.C. Neu	0.70	Communicate with client regarding B. Carey (.2); analysis of claims in filing (.5)
06/13/18	B. T. Peterson	0.30	Draft correspondence related to mediation of WARN Act class action claims
06/14/18	D.C. Neu	0.40	Review motion to pay severance (.4)
06/15/18	B. T. Peterson	2.20	Draft mediation statement related to WARN class action claims
06/18/18	B. T. Peterson	2.70	Draft memorandum regarding WARN Act claim
06/19/18	M.J. Gearin	1.00	Meet regarding preparations for WARN Act mediation (.6); review of materials prepared by trustee in support of same (.4)
06/19/18	D. A. Lentz	0.70	Work on production for B. Atalla evidentiary hearing
06/19/18	D.C. Neu	1.50	Work on discovery production for Atalla evidentiary hearing
06/19/18	B. T. Peterson	1.50	Draft WARN Act mediation statement
06/20/18	M.J. Gearin	1.10	Communications with Trustee and L. Ream as potential mediator for WARN Act dispute
06/20/18	D. A. Lentz	0.50	Work on production for B. Atalla evidentiary hearing
06/20/18	D.C. Neu	2.60	Work on discovery production to D. Bailey (2.4); communicate with D. Bailey regarding same (.2)
06/20/18	B. T. Peterson	5.20	Research and draft mediation statement related to WARN class claim
06/21/18	B. T. Peterson	4.10	Draft mediation statement regarding Warn Act class action claim
06/22/18	M.J. Gearin	1.50	Work on WARN Act mediation materials
06/22/18	B. T. Peterson	0.70	Draft stipulation and order appointing mediator for WARN Act claims
06/25/18 501937620 v2	D.C. Neu	0.90	Review Atalla documents for production

Invoice # 3577818 2070561 Page 13 of 26

DATE	NAME	HOURS	DESCRIPTION
06/25/18	B. T. Peterson	0.50	Analyze issues related to WARN Act class action claim
06/26/18	B. T. Peterson	0.30	Finalize stipulation and order appointing mediator in WARN Act dispute
06/27/18	M.J. Gearin	1.00	Meet regarding damages analysis on WARN act claims and completion of mediation materials
06/27/18	D. A. Lentz	0.50	Work on production to opposing counsel re B. Atalla matter
06/27/18	D.C. Neu	0.80	Review document production (.5); communicate with P. Wagner regarding .pst files (.2)
06/28/18	M.J. Gearin	1.50	Call with Trustee regarding WARN Act damages analysis (.4); review of research regarding calculations of damages (.6); revisions to mediation statement (.5)
06/28/18	D. A. Lentz	0.50	Listen to hearing audio regarding items Judge Alston wants considered at evidentiary hearing (.4); email to D. Neu regarding list (.1)
06/28/18	D.C. Neu	1.60	Call with D. Bailey regarding discovery (.3); analysis of privilege issues (.3); draft analysis and recommendation to client regarding settlement position (1)
06/28/18	B. T. Peterson	0.90	Phone call with client related to WARN Act dispute
06/29/18	M.J. Gearin	0.60	Review of materials regarding WARN Act damages (.4); consult regarding preparation of mediation materials (.2)
06/29/18	D.C. Neu	0.70	Review emails regarding B. Atalla offer (.2); call with client regarding same (.3); email D. Bailey regarding same (.2)
	TOTAL	FEES	44.10 hrs \$ <u>17,760.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	7.70	hrs at	\$	540.00 / hr		4,158.00
D. A. Lentz	2.20	hrs at	\$	215.00 / hr		473.00
D.C. Neu	10.40	hrs at	\$	450.00 / hr		4,680.00
B. T. Peterson	23.80	hrs at	\$	355.00 / hr		8,449.00
	TOTAL FEES		44.	10 hrs	\$_	17,760.00

Invoice # 3577818 2070561 Page 14 of 26

MATTER SUMMARY

Fees \$ \(\frac{17,760.00}{17,760.00} \)

MATTER TOTAL \$ \(\frac{17,760.00}{17,760.00} \)

Employee Benefits/Pensions (70060)

\$1,631.50

FEES

DATE	NAME	HOURS	DESCRIPTION
06/11/18	B. T. Peterson	1.10	Draft motion for approval of retention bonus
06/12/18	D. A. Lentz	0.70	Draft notice of hearing on motion to approve severance agreement (.4); review and finalize notice of hearing (.1); send for service to special notice list (.2)
06/14/18	D. A. Lentz	0.70	Review and finalize motion and declaration regarding motion on Chacon severance pay (.3); email to client (.1); draft order on motion to approve severance pay (.3)
06/14/18	B. T. Peterson	1.80	Draft pleadings in support of motion to approve retention bonus
06/15/18	D. A. Lentz	0.90	Emails and telephone call to M. Calvert regarding declaration in support of motion to approve severance agreement and exhibit to same (.2); review and finalize motion to approve severance documents for filing with USBC (.4); file motion and related documents with USBC (.3)
06/18/18	D. A. Lentz	0.20	Calendar dates and deadlines regarding hearing on motion to approve severance agreement with E. Chacon (.1); email to client regarding documents filed (.1)
06/22/18	D. A. Lentz	0.30	Prepare proof of service of notice of hearing on motion to approve severance agreement with E. Chacon (.2); file proof of service with USBC (.1)
	TOTAL	FEES	5.70 hrs \$ <u>1,631.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz	2.80	hrs at	\$	215.00 / hr		602.00
B. T. Peterson	2.90	hrs at	\$	355.00 / hr		1,029.50
	TOTAL FEES		5.7	'0 hrs	\$_	1,631.50

Invoice # 3577818 2070561 Page 16 of 26

MATTER SUMMARY

Fees \$ 1,631.50 MATTER TOTAL \$ 1,631.50

Financing and Cash Collateral (70090)

\$1,792.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
06/04/18	M.J. Gearin	1.10	Review of draft budget (.6); communications with Trustee regarding same (.5)		
06/05/18	M.J. Gearin	0.50	Communications with Trustee and J. Quick regarding cash collateral budget		
06/06/18	M.J. Gearin	0.90	Communications with A. Smith regarding cash collateral budget (.3); communications with Trustee regarding same (.2); draft notice of revised budget and circulate to A. Smith (.4)		
06/06/18	D. A. Lentz	0.20	Draft second notice of supplemental budget		
06/20/18	M.J. Gearin	0.50	Communications regarding filing of revised budget		
06/21/18	D. A. Lentz	0.60	Review and finalize second notice of supplemental budget for filing with the court and file with USBC		
		TOTAL FEES	3.80 hrs \$1,792.00		

TIMEKEEPER SUMMARY

M.J. Gearin	3.00 hrs at	\$	540.00 / hr	1,620.00
D. A. Lentz	0.80 hrs at	\$	215.00 / hr	172.00
	TOTAL FEES	3.8	80 hrs	\$ 1,792.00

MATTER SUMMARY

Fees	\$ <u>1,792.00</u>
MATTER TOTAL	\$ <u>1,792.00</u>

Invoice # 3577818 2070561 Page 18 of 26

Litigation (70100)

\$236.50

236.50 **236.50**

FEES

DATE	NAME	HOURS	DESCRIPTION			
06/07/18	D. A. Lentz	0.50	Review and finalize ex parte motion to appoint mediator and corresponding order for filing with USBC (.3); file ex parte motion and upload order for entry with the Court (.2)			
06/15/18	D. A. Lentz	0.20	Hearing binder for D. Neu for USA vs. Hansen hearing on spoilation motion			
06/27/18	D. A. Lentz	0.40	Revise stipulation to appoint mediator and proposed order regarding same (.2); file stipulation with USBC and upload order for entry with the Court (.2)			
		TOTAL FEES	1.10 hrs	\$ 236.50		
		TIMEKEEP	ER SUMMARY			
D. A. Lentz		1.10 TOTAL FEES	hrs at \$ 215.00 / hr 1.10 hrs	236.50 \$ <u>236.50</u>		
MATTER SUMMARY						

Fees

MATTER TOTAL

Invoice # 3577818 2070561 Page 19 of 26

American Express Fraudulent Transfer Action (70107)

\$225.00

DATE	NAME	HOURS	DESCRIPTION	
06/07/18	D.C. Neu	0.10	Review designation of appea	l record
06/28/18	D.C. Neu	0.40	Review transmission to BAP	(.2);
			communicate with D. Lentz redeadlines (.2)	egarding appeal
		TOTAL FEES	0.50 hrs	\$ 225.00
		TIMEKEEP	ER SUMMARY	
D.C. Neu		0.50	hrs at \$ 450.00 / hr	225.00
		TOTAL FEES	0.50 hrs	\$ 225.00
		MATTER	SUMMARY	
Fees				\$ 225.00
MATTER T	OTAL			\$ 225.00

Invoice # 3577818 2070561 Page 20 of 26

Trustee v ARM Industries LLC (70108)

\$355.00

FFFS

DATE	NAME	HOURS D	ESCRIPTION	
06/01/18	B. T. Peterson		ttend telephonic ruling	•
	TOTA	AL FEES	1.00 hrs	\$ <u>355.00</u>
		TIMEKEEPER	SUMMARY	
B. T. Peters	-	1.00 hrs AL FEES	s at \$ 355.00 / 1.00 hrs	hr 355.00 \$ 355.00
			JMMARY	
Fees MATTER T	OTAL			\$ <u>355.00</u> \$ 355.00

Meetings and Communications with Creditors (70110)

\$551.50

FEES

DATE	NAME	HOURS	DESCRIPTION		
06/04/18	D. A. Lentz	0.20	Field phone calls and emails regarding status of case and re address change		
06/04/18	D.C. Neu	0.70	Respond to die inquiries		
06/13/18	D. A. Lentz	0.40	Field emails, phone calls, voicemails, correspondence regarding die requests		
06/26/18	D. A. Lentz	0.40	Field emails, phone calls, voicemails, correspondence regarding die requests		
06/29/18	D. A. Lentz	0.10	Telephone call with creditor regarding status of case		
		TOTAL FEES	1.80 hrs \$ <u>551.50</u>		

TIMEKEEPER SUMMARY

D. A. Lentz	1.10	hrs at	\$	215.00 /	hr	236.50
D.C. Neu	0.70	hrs at	\$	450.00 /	hr	315.00
	TOTAL FEES		1.8	0 hrs	\$	551.50

MATTER SUMMARY

 Fees
 \$ 551.50

 MATTER TOTAL
 \$ 551.50

Invoice # 3577818 2070561 Page 22 of 26

Relief From Stay and Adequate Protection (70130)

\$86.00

DATE 06/05/18	NAME D. A. Lentz	HOURS 0.40	DESCRIPTION Conference with M. Gearin procedures for filing notice of	
		TOTAL FEES	budget (.1); review of files re 0.40 hrs	egarding same (.3) \$ <u>86.00</u>
		TIMEKEEP	ER SUMMARY	
D. A. Lentz		0.40 TOTAL FEES	hrs at \$ 215.00 / hr 0.40 hrs	\$ 86.00 \$ 86.00
		MATTER	SUMMARY	
Fees MATTER T	OTAL			\$ 86.00 \$ 86.00

Invoice # 3577818 2070561 Page 23 of 26

Reporting (70210)

\$302.00

DATE	NAME	HOURS	DESCRIPTION			
06/01/18	M.J. Gearin	0.40	Finalize monthly report			
06/01/18	D. A. Lentz	0.40	Emails to and from J. Quick regarding April monthly report (.2); conference with M. Gearin regarding same (.1); file April monthly report with USBC (.1)			
		TOTAL FEES	0.80 hrs	\$ <u>302.00</u>		
		TIMEKEEP	ER SUMMARY			
M.J. Gearin		0.40	hrs at \$ 540.00 / hr	216.00		
D. A. Lentz		0.40	hrs at \$ 215.00 / hr	86.00		
		TOTAL FEES	0.80 hrs	\$ 302.00		
			SUMMARY			
Fees MATTER T	OTAL			\$ 302.00 \$ 302.00		

Invoice # 3577818 2070561 Page 24 of 26

Costs (99999) \$5,100.57

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
06/04/18	BAE Systems Information	3,223.36
06/05/18	Long Distance Courier FedEx Charges TR#: 781286571798 INV#: 620844271 INVDT: 20180611 SHIPDT: 20180605 SHNAME: Benita Gould RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	24.29
06/08/18	Long Distance Courier FedEx Charges TR#: 781341643478 INV#: 621596405 INVDT: 20180618 SHIPDT: 20180608 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.64
06/08/18	Other - TransUnion Risk and Alternative Data Solutions, Inc 06012018 - transunion may 2018	15.00
06/11/18	Travel Expenses - Gearin, Michael - Parking - 2018-05-24 - IMPARK 00250010 - Parking for Meeting with M Calvert and US Trustee	15.00
06/11/18	Travel Expenses - Neu, David - Parking - 2018-05-10 - IMPARK 00250010 - Parking for hearing	12.00
06/11/18	Travel Expenses - Neu, David - Parking - 2018-05-18 - IMPARK 00250010 - Parking for Hearing	12.00
06/12/18	Copying Expense	31.60
06/12/18	Copying Expense	31.20
06/14/18	Long Distance Courier FedEx Charges TR#: 781430850069 INV#: 621596405 INVDT: 20180618 SHIPDT: 20180614 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.58
06/18/18	Long Distance Courier FedEx Charges TR#: 781478585482 INV#: 622358104 INVDT: 20180625 SHIPDT: 20180618 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.55
06/21/18	Long Distance Courier FedEx Charges TR#: 781533804841 INV#: 622358104 INVDT: 20180625 SHIPDT: 20180621 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.55
06/21/18	Westlaw - BTP - 06/20/2018 - 06/21/2018	242.69
06/25/18	Travel Expenses - Neu, David - Parking - 2018-06-18 - IMPARK #00250059 - USA v Hanson Hearing	14.70
06/25/18	Travel Expenses - Neu, David - Parking - 2018-06-13 - IMPARK 00250010 - NWTM Hearing Parking	12.00
06/25/18	Local Courier - John Sullivan dba HALO Messengers - 05022018 - 05/01/2018 - Local Courier Service - 1825 NW 65th St	80.00
06/25/18	Local Courier - John Sullivan dba HALO Messengers - 05022018 - 05/02/2018 - Local Courier Service - USBC	10.00
06/25/18	Local Courier - John Sullivan dba HALO Messengers - 05022018 -	29.00

Disbursements and Other Charges

MATTER TOTAL

Invoice # 3577818 2070561 Page 26 of 26

DATE	DESCRIPTION			
	05/14/2018 - Local Courier Service - USBC			
06/25/18	Local Courier - John Sullivan dba HALO Messengers - 05022018 - 05/15/2018 - Local Courier Service - 1825 NW 65th St			
06/25/18	Local Courier - John Sullivan dba HALO Messengers - 05022018 - 05/25/2018 - Local Courier Service - USBC			
06/28/18	Long Distance Courier FedEx Charges TR#: 781635990393 INV#: 623178474 INVDT: 20180702 SHIPDT: 20180628 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.55		
06/28/18	Westlaw - DCN - 06/05/2018 - 06/28/2018	785.86		
06/28/18	USDC Western Dist. WA Filing Fee			
06/28/18	USDC Western Dist. WA Filing Fee	181.00		
	DISBURSEMENTS & OTHER CHARGES \$ _	5,100.57		
	MATTER SUMMARY			

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date November 1, 2018

Invoice Number 3577488 Services Through: June 30, 2018

Our File Number 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935304 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Pittsburgh, PA 15219

Beneficiary: K&L Gates LLP

Routing/ABA: 043000096 Swift Code: PNCCUS33

Acct No.: 1077692783 Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klqates.com with invoice number(s) and amounts.

Invoice # 3577488 2070561 Page 2 of 2

Litigation	\$300.48	
	DISBURSEMENTS & OTHER CHARGES	
DATE	DESCRIPTION	AMOUNT
06/30/18	Ringtail Fees: June 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48
	DISBURSEMENTS & OTHER CHARGES	\$ 300.48

MATTER SUMMARY

Disbursements and Other Charges	\$ 300.48
MATTER TOTAL	\$ 300.48

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577820 Services Through : July 31, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 15,161.00

Total Amount Due This Matter \$ 15,161.00

Business Operations (70030)

Fees \$ 461.50

Total Amount Due This Matter \$ 461.50

Case Administration (70040)

Fees \$ 16,344.00

Total Amount Due This Matter \$ 16,344.00

Claims, Administration and Objections (70050)

Fees \$ 32,367.50

Total Amount Due This Matter \$ 32,367.50

501937631 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577820 2070561 Page 2 of 21

		Page 2 of 21		
Employee Benefits/Pensions (70060)				
Fees Total Amount Due This Matter	\$ <u>676.50</u>	\$ 676.50		
Trustee v Diane Erdmann (70102)				
Fees Total Amount Due This Matter	\$ <u>816.50</u>	\$ 816.50		
American Express Fraudulent Transfer Actio	on (70107)			
Fees Total Amount Due This Matter	\$ <u>13,476.50</u>	\$ 13,476.50		
Meetings and Communications with Creditor	rs (70110)			
Fees Total Amount Due This Matter	\$ <u>817.00</u>	\$ 817.00		
Relief From Stay and Adequate Protection (7	["] 0130)			
Fees Total Amount Due This Matter	\$ <u>172.00</u>	\$ 172.00		
Assumption and Rejection of Leases and Contracts (70150)				
Fees Total Amount Due This Matter	\$ <u>4,698.00</u>	\$ 4,698.00		
Reporting (70210)				
Fees Total Amount Due This Matter	\$ 280.50	\$ 280.50		
Costs (99999)				
Disbursements and Other Charges Total Amount Due This Matter	\$2,688.89	\$ 2,688.89		
CURRENT INVOICE DUE - All Matters		\$ <u>87,959.89</u>		

Asset Disposition (70020)

\$15,161.00

DATE	NAME	HOURS	DESCRIPTION
07/02/18	M.J. Gearin	0.50	Communications regarding R. Hansen objection to motion for authority to sell remaining assets of estate
07/02/18	D. A. Lentz	0.40	Download response to motion to enforce prior order and corresponding declarations for file (.1); hearing binders for D. Neu and for Judge (.2); confirm hearing with USBC scheduled for Friday (.1)
07/02/18	D. A. Lentz	0.50	Hearing binders for D. Neu and for Judge re hearing on motion to sell remaining property (.2); confirm hearing with USBC scheduled for Friday (.1); prepare pleading for reply to motion to sell remaining property (.2)
07/02/18	D. A. Lentz	0.70	Draft of notice of hearing on motion to sell remaining dies
07/02/18	D.C. Neu	0.50	Call with client regarding wrap up issues (.3); call to Tre Kennedy regarding dies (.1); review communication related to same (.1)
07/02/18	B. T. Peterson	0.80	Draft reply in support of motion for sale of remaining property of estate
07/03/18	M.J. Gearin	0.60	Draft notice of sale for NWTM unclaimed dies (.4); communications with Trustee regarding terms of sale (.2)
07/03/18	D. A. Lentz	0.60	Review of email from M. Calvert regarding offer by Medalcraft and conference with B. Peterson regarding same (.1) finalize notice of hearing on sale of unclaimed NWTM dies (.2); send for service to special mailing matrix (.3)
07/03/18	D. A. Lentz	0.50	Review and finalize reply to motion to sell remaining property for filing with USBC (.2); file with USBC (.1); updates to attorney and Judge's binders (.1); send Judge's binder to chambers (.1)
07/03/18	D. A. Lentz	0.40	Initial draft of motion for order approving sale of unclaimed NWTM dies, declaration and proposed order regarding same
07/03/18	D. A. Lentz	0.40	Work with D. Neu and J. Baker regarding list of parties asserting an interest in NWTM dies to be filed with court (.3); file list with USBC (.1)
07/03/18	D.C. Neu	3.00	Communicate with client regarding status of Boy Scout sale (.2); review and edit reply to motion to sell property to exclude camera (.4);

DATE	NAME	HOURS	DESCRIPTION
			communicate with client regarding R. Hansen iPad (.2); review notice of sale to Metalcraft (.3); communications with T. Kennedy regarding dies and resolution of issues related to same (.8); review response to motion to abandon records (.2); communications with R. Powers regarding personal property (.3); work
07/03/18	B. T. Peterson	0.80	on resolution of records destruction (.6) Draft reply in support of motion for sale of remaining property of estate
07/05/18	M.J. Gearin	1.00	Communications with Trustee regarding disposition of company store inventory
07/05/18	B. T. Peterson	4.10	Draft asset purchase agreement and pleadings in support of motion to approve sale of unclaimed NWTM Dies
07/06/18	D.C. Neu	6.90	Prepare for and attend hearings (5.1); Call with J. Baker regarding dies (.4); Call with T. Kennedy regarding plasters (.3); research and resolution of issues related to location of galvanos and plasters (1)
07/06/18	B. T. Peterson	1.70	Draft pleadings in support of motion for approval of sale of unclaimed NWTM dies
07/09/18	D.C. Neu	1.40	Communicate with client regarding E. Chacon employment (.2); communicate with E. Chacon regarding disposition of records (.2); communicate with R. Powers regarding asset sale (.2); communicate with and resolve dale of dies to Helmerich & Payne (.4); communicate with B. Stone regarding status of bankruptcy for report to district court (.2); communicate with J. Shickich regarding BSA check (.2)
07/10/18	B. T. Peterson	0.90	Research related to order to show cause
07/11/18	D. A. Lentz	0.40	Review and finalize ex parte motion to approve notice to die customers regarding cancellation of hearing and corresponding documents for filing with USBC (.2); file ex parte motion with USBC and upload order for entry with Court (.2)
07/11/18	D.C. Neu	1.20	Communicate with J. Shickich regarding BSA payment (.2); Call with E. Chacon regarding records moving (.4); work on resolution of problem (.6);
07/11/18	B. T. Peterson	0.80	Draft good faith declaration in support of Medalcraft sale motion (.7); correspondence with J. Moran regarding the same(.1)
07/11/18	B. T. Peterson	1.10	Research related to show cause order regarding J. Baker email

DATE	NAME	HOURS	DESCRIPTION
07/12/18	D. A. Lentz	1.10	Telephone call with die customer and follow up email to client (.1); review of order approving notice regarding cancellation of omnibus hearing (.1); send court approved notice to 300+ customers via U.S. Mail and via
07/12/18	D. A. Lentz	0.50	email (.9) Field emails, phone calls, voicemails, correspondence regarding die requests
07/13/18	D.C. Neu	0.60	Call with M. Calvert regarding dies (.3); communicate with client regarding storage of records (.3)
07/16/18	D.C. Neu	0.80	Review and respond to emails regarding records and Ross plant visit
07/17/18	B. T. Peterson	0.10	Correspondence with purchaser of remaining unclaimed NWTM dies
07/20/18	M.J. Gearin	0.30	Review of offer to purchase dies from J. Simmons (.1); follow up communications with C. Sternberg and Trustee regarding same (.2)
07/23/18	D. A. Lentz	0.60	Draft of proof of service to motion to sell remaining NWTM dies (.2); file proof of service with USBC (.1); file notice of intent to argue with USBC (.1); submit request and related documents to clerk for hearing binders (.2)
07/23/18	D. A. Lentz	0.80	Field emails, phone calls, voicemails, correspondence regarding die requests (.4); review of emails, documents, notes in regards to follow ups needed with die customers (.3); email to J. Baker regarding same (.1)
07/24/18	M.J. Gearin	0.70	Communications with Trustee, J. Moran and C. Sternberg regarding NWTM die sale issues
07/25/18	M.J. Gearin	1.20	Call and email follow up with C. Sternberg regarding Simmons offer on NWTM dies; communications with Trustee regarding status (.4); communications with J. Moran regarding status of hearing (.2); prepare for hearing to approve sale (.6)
07/25/18	D. A. Lentz	0.40	Prepare proof of service on notice of cancellation of omnibus hearing regarding claims of ownership of NWTM coining dies (.3); file proof of service with USBC (.1)
07/26/18	M.J. Gearin	0.50	Communications with J. Moran regarding die sale issues (0.2); prepare for hearing on die sale
07/26/18	D. A. Lentz	0.30	Work with M. Gearin regarding hearing prep on motion to sell remaining NWTM dies
07/27/18	M.J. Gearin	0.90	Prepare for and attend hearing on approval of Medalcraft die sale agreement (0.4); revisions to form of order (0.2); communications

Invoice # 3577820 2070561 Page 6 of 21

DATE	NAME	HOURS	DESCRIPTION	
07/07/40	D. A. Lentz	0.20	regarding delivery of dies	•
07/27/18	D. A. Leniz	0.20	Conference with M. Geari motion to approve sale of	0 0
		dies (.1); upload order for	entry with Court (.1)	
		Communications with True regarding closing of die sa		
07/30/18	/30/18 D. A. Lentz 0.50 Continue work on die issu			
		TOTAL FEES	with J. Baker 39.00 hrs	\$ <u>15,161.00</u>
		1017/21220	00.00 1110	Ψ 10,101.00
TIMEKEEPER SUMMARY				
M.J. Gearin 6.00 hrs at \$ 540.00 / hr 3,240			3,240.00	
D. A. Lentz		8.30	hrs at \$ 215.00 / hr	1,784.50
D.C. Neu		14.40	hrs at \$ 450.00 / hr	6,480.00
B. T. Peterson		10.30	hrs at \$ 355.00 / hr	3,656.50
		TOTAL FEES	39.00 hrs	\$ <u>15,161.00</u>
MATTER SUMMARY				
Fees				\$15,161.00
MATTER T	OTAL			\$ <u>15,161.00</u>

Invoice # 3577820 2070561 Page 7 of 21

Business Operations (70030)	Business	Operations	(70030)
------------------------------------	----------	------------	---------

\$461.50

DATE	NAME	HOURS	DESCRIPTION	ON		
07/02/18 B. T. Peterson		1.30	Draft reply in retention bon	support of moti	on for ap	proval of
	TOTA	L FEES	1.30) hrs	\$	461.50
TIMEKEEPER SUMMARY						
·					461.50	
TOTAL FEES		L FEES	1.30) hrs	\$	<u>461.50</u>
MATTER SUMMARY						
Fees\$				461.50		
MATTER TOTAL \$				>	<u>461.50</u>	

Case Administration (70040)

\$16,344.00

DATE	NAME	HOURS	DESCRIPTION
07/05/18	D.C. Neu	1.20	Greenhouse call to discuss servers (.5); work on issues related to preservation of records (.6)
07/10/18	D.C. Neu	2.00	Research and analysis regarding sanctions (2)
07/12/18	M.J. Gearin	0.40	Communications regarding motion for admin claim bar date and notice provisions relating to same
07/12/18	B. T. Peterson	0.90	Analyze issues related to closing of case
07/13/18	M.J. Gearin	0.50	Communications with Trustee and staff regarding admin claim bar date
07/13/18	D.C. Neu	0.50	Review client emails for show cause
07/13/18	D.C. Neu	0.70	Call with E. Chacon regarding unloading records (.2); call with B. Werner regarding same (.3); follow-up call with B. Werner (.2)
07/13/18	B. T. Peterson	0.80	Discussion with M. Gearin and D. Neu regarding order to show cause
07/16/18	D.C. Neu	0.30	Call with client regarding J. Baker emails
07/17/18	D.C. Neu	0.40	Communicate with P. Wagner regarding Jenifer Baker emails
07/18/18	D. A. Lentz	0.50	Work on production of J. Baker emails for response to show cause motion
07/18/18	D.C. Neu	0.80	Conference call regarding Ross showing up at Dayton property (.4); calls with client regarding same (.4)
07/19/18	D. A. Lentz	6.50	Work on production of J. Baker emails for response to show cause motion
07/20/18	M.J. Gearin	2.50	Attention to pleadings and document production in connection with response to Court's order to show cause regarding die customer issues
07/20/18	D. A. Lentz	12.50	Work on production of J. Baker emails for response to show cause motion and filing of same with USBC
07/20/18	D.C. Neu	0.20	Communicate with D. Lentz regarding J. Baker emails
07/20/18	B. T. Peterson	1.00	Draft declarations in support of response to show cause order
07/23/18	D. A. Lentz	1.10	Work on downloading supplemental filings of exhibits to response to show cause hearing
07/24/18	D. A. Lentz	0.80	Finish downloading supplemental filings of exhibits to response to show cause hearing
504007004 0			

Invoice # 3577820 2070561 Page 9 of 21

DATE	NAME	HOURS	DESCRIPTION
07/25/18	D. A. Lentz	2.60	Work on hearing prep for M. Gearin for show cause hearing
07/26/18	M.J. Gearin	4.00	Meet with J. Baker regarding show cause hearing (2.1); review of emails and prepare for hearing (1.9)
07/26/18	D. A. Lentz	5.20	Work on hearing prep for M. Gearin for show cause hearing (2.2); meeting with M. Gearin and J. Baker re hearing prep (2.0); continued work on hearing prep (1.0)
07/27/18	M.J. Gearin	2.30	Prepare for and attend hearing on show cause order regarding die issues
07/27/18	D. A. Lentz	2.00	Attend show cause hearing
07/27/18	D. A. Lentz	0.30	Review of remaining emails and/or voicemails regarding die requests and send summary email to J. Baker
07/30/18	D.C. Neu	0.80	Look for die emails
07/31/18	M.J. Gearin	0.50	Meet regarding coordination of follow up with die customers
		TOTAL FEES	51.30 hrs \$ <u>16,344.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	10.20	hrs at	\$	540.00 / hr	5,508.00
D. A. Lentz	31.50	hrs at	\$	215.00 / hr	6,772.50
D.C. Neu	6.90	hrs at	\$	450.00 / hr	3,105.00
B. T. Peterson	2.70	hrs at	\$	355.00 / hr	958.50
	TOTAL FEES		51.30 hrs		\$ 16,344.00

MATTER SUMMARY

Fees	\$ 16,344.00
MATTER TOTAL	\$ 16.344.00

Claims, Administration and Objections (70050)

\$32,367.50

DATE	NAME	HOURS	DESCRIPTION
07/02/18	B. T. Peterson	0.50	Research related to WARN Act dispute in preparation for Mediation
07/03/18	D.C. Neu	0.70	Work on production of emails to B. Atalla
07/05/18	D.C. Neu	3.70	Review Atalla emails
07/06/18	M.J. Gearin	1.00	Work on WARN Act claims mediation materials
07/09/18	M.J. Gearin	2.20	Call with Trustee regarding WARN Act analysis and mediation (0.5); revisions to mediation materials (1.2); meet with B. Peterson regarding mediation materials (0.5)
07/09/18	D.C. Neu	1.40	Communicate with client regarding potential Atalla settlement (.3); work with eDat on harvesting and searching emails (1.1)
07/09/18	B. T. Peterson	1.80	Edit and revise mediation statement regarding WARN Act claims
07/10/18	D.C. Neu	3.50	Review and analyze emails for production for Atalla evidentiary hearing
07/10/18	B. T. Peterson	0.60	Review mediation statement of Konkel related to WARN Act claims
07/11/18	D. A. Lentz	2.00	Work on B. Atalla production to opposing counsel
07/11/18	D.C. Neu	1.90	Work on document production to B. Atalla
07/12/18	D.C. Neu	3.20	Review and respond to email from D. Bailey regarding discovery (.2); follow up with A. Trunkett and P. Wagner; regarding same (.2); review Atalla calendar entries (.3); research regarding attorney client privilege (1.4); review documents for production (1)
07/13/18	D. A. Lentz	0.40	Work on document production re B. Atalla matter
07/13/18	D.C. Neu	2.60	Compose email to D. Bailey regarding discovery (.5); review emails for responsiveness and privilege (1.9); respond to email from D. Bailey (.2)
07/13/18	D.C. Neu	0.50	Work on producing disk of discovery to D. Bailey (.4);
07/16/18	D.C. Neu	1.20	Work on email production
07/17/18	D. A. Lentz	3.30	Work on Bill Atalla document production
07/17/18	D.C. Neu	0.60	Work on production of emails to D. Bailey (.4); email D. Bailey regarding same (.2)
07/18/18	M.J. Gearin	0.80	Participate in call with mediator and counsel regarding WARN Act mediation
504007004			

DATE	NAME	HOURS	DESCRIPTION
07/18/18	D. A. Lentz	2.10	Work on Bill Atalla document production
07/18/18	D. A. Lentz	0.20	Draft notice of deposition for B. Atalla
07/18/18	D.C. Neu	0.90	Call with D. Bailey regarding Atalla claim issues (.3); locate and transmit documents to D. Bailey (.4); follow-up email to D. Bailey (.2)
07/18/18	B. T. Peterson	1.10	Prepare for and participate in pre-mediation call for WARN Act mediation
07/19/18	M.J. Gearin	0.50	Communications re WARN Act claims
07/19/18	B. T. Peterson	1.50	Research related to alleged WARN Act claims
07/20/18	D.C. Neu	0.60	Correspond with client regarding Atalla claim (.4); correspond with D. Bailey regarding same (.2)
07/20/18	B. T. Peterson	1.60	Research i preparation for WARN Act mediation
07/23/18	M.J. Gearin	2.20	Prepare for mediation on WARN Act claims including calls with Trustee
07/23/18	M.J. Gearin	0.50	Draft answer to Cohen writ of garnishment; communications with counsel for B. Cohen regarding same
07/23/18	D.C. Neu	0.80	Communicate with client and D. Bailey regarding settlement
07/24/18	M.J. Gearin	11.10	Attend mediation on WARN Act Claims
07/24/18	D.C. Neu	0.70	Settlement negotiations with D. Bailey
07/24/18	B. T. Peterson	11.00	Participate in mediation of WARN Act claims
07/25/18	M.J. Gearin	1.00	Follow up meetings and analysis regarding WARN Act class settlement
07/25/18	P.M. Madden	0.40	Confer with M. Gearin, et al. regarding class action settlement process
07/25/18	B. T. Peterson	2.80	Review MOU regarding WARN Act settlement and draft revisions thereto
07/26/18	M.J. Gearin	1.20	Revisions to MOU regarding WARN Act claims
07/26/18	B. T. Peterson	0.90	Revise and edit memorandum of understanding regarding settlement of WARN Act claims
07/30/18	D.C. Neu	0.50	Communicate with D. Bailey regarding Atalla settlement (.2); meet with B. Peterson to discuss settlement motion (.3)
07/30/18	B. T. Peterson	0.90	Review and revise memorandum of understanding regarding WARN settlement
07/30/18	B. T. Peterson	1.20	Draft notice of hearing regarding motion to approve settlement with B. Atalla
07/30/18	B. T. Peterson	0.60	Review pleadings related to B. Atalla's motion for allowance of administrative claim
07/30/18	B. T. Peterson	0.30	Meeting with D. Neu regarding motion to approve settlement agreement with B. Atalla
07/31/18	B. T. Peterson	0.50	Revise and edit draft settlement agreement

Invoice # 3577820 2070561 Page 12 of 21

DATE	NAME	HOURS	DESC	RIPT	TION		
			with B	. Ata	lla		
07/31/18	B. T. Peterson	0.40	Finaliz	ze no	tice of hearing on	motio	n to
			appro		ttlement agreeme		
	Т	OTAL FEES		77.	40 hrs	\$ __	32,367.50
		TIMEVEED	ED CIIN	лвл а г	av.		
		TIMEKEEP	ER SUN	IIVIAI	<u>X1</u>		
M.J. Gearin		20.50	hrs at	\$	540.00 / hr		11,070.00
D. A. Lentz		8.00	hrs at	\$	215.00 / hr		1,720.00
P.M. Madde	en	0.40	hrs at	\$	485.00 / hr		194.00
D.C. Neu		22.80	hrs at	\$	450.00 / hr		10,260.00
B. T. Peters	son	25.70	hrs at	\$	355.00 / hr		9,123.50
	Т	OTAL FEES		77.	40 hrs	\$_	32,367.50

MATTER SUMMARY

Invoice # 3577820 2070561 Page 13 of 21

Employee Benefits/Pensions (70060)

\$676.50

FEES

DATE	NAME	HOURS	DESC	RIPTION			
07/02/18	D. A. Lentz	0.50	Hearing binders for D. Neu and for Judge re hearing on motion to approve severance agreement with E. Chacon (.2); confirm hearing with USBC scheduled for Friday (.1); prepare pleading for reply to motion to approve severance with E. Chacon (.2)				
07/03/18	D. A. Lentz	0.50	Review and finalize reply to motion to approve severance payment for filing with USBC (.2); file with USBC (.1); updates to attorney and Judge's binders (.1); send Judge's binder to chambers (.1)				
07/03/18	B. T. Peterson	1.30		reply in support of n	notion for approval of		
	TOTA	AL FEES	1010111	2.30 hrs	\$ 676.50		
		TIMEKEEP	ER SUM	<u>//MARY</u>			
D. A. Lentz B. T. Peter	son	1.00 1.30 AL FEES	hrs at hrs at	\$ 215.00 / hi \$ 355.00 / hi 2.30 hrs			
MATTER SUMMARY							
Fees					\$ 676.50		

MATTER TOTAL

MATTER TOTAL

Invoice # 3577820 2070561 Page 14 of 21

Trustee v Diane Erdmann (70102)

\$816.50

816.50

DATE	NAME	HOURS	DESC	RIPTION			
07/13/18	B. T. Peterson	2.00	Review briefing and hearing transcript related to Erdmann appeal				related
07/17/18	B. T. Peterson	0.30	Conference with D. Neu regarding Erdmann appeal brief			lmann	
	TOTAL	. FEES		2.30 hrs		\$	816.50
TIMEKEEPER SUMMARY							
B. T. Peters	son	2.30	hrs at	\$ 355.0	0 / hr		816.50
	TOTAL	FEES		2.30 hrs		\$	816.50
MATTER SUMMARY							
Fees						\$	816.50

American Express Fraudulent Transfer Action (70107)

\$13,476.50

FEES

DATE	NAME	HOURS	DESCRIPTION
07/03/18	D.C. Neu	1.10	Review and analyze opening brief and
			excerpts of record
07/10/18	D.C. Neu	1.00	Appeal research
07/13/18	D.C. Neu	1.20	Analyze appeal brief
07/16/18	D.C. Neu	1.60	Work on appeal brief
07/17/18	D.C. Neu	4.70	Draft and edit appeal brief (2.6); research
			related to same (2.1)
07/18/18	D.C. Neu	4.50	Draft and edit appeal brief
07/19/18	D.C. Neu	7.70	Draft and edit appeal brief
07/19/18	B. T. Peterson	2.30	Draft appeal brief regarding Erdmann appeal
07/20/18	D.C. Neu	4.30	Draft and edit appeal brief
07/20/18	B. T. Peterson	0.50	Draft appeal brief for Erdmann appeal
07/23/18	D. A. Lentz	0.50	Review and finalize appellee's opening brief
			for filing with Court (.3); file opening brief with
			BAP (.2)
07/23/18	D.C. Neu	1.40	Finalize and file appeal brief
	TOTA	AL FEES	30.80 hrs \$ <u>13,476.50</u>

TIMEKEEPER SUMMARY

D. A. Lentz				215.00 / 450.00 /		107.50
D.C. Neu		hrs at	:			12,375.00
B. T. Peterson	2.80	hrs at	\$	355.00 /	hr _	994.00
	TOTAL FEES		30.8	30 hrs	\$	13,476.50

MATTER SUMMARY

Fees	\$ 13,476.50
MATTER TOTAL	\$ 13,476.50

Meetings and Communications with Creditors (70110)

\$817.00

FEES

DATE	NAME	HOURS	DESCRIPTION
07/12/18	D. A. Lentz	0.50	Work with J. Quick regarding office meeting with creditors Koehler
07/13/18	D. A. Lentz	0.80	Field emails, phone calls, voicemails, correspondence regarding die requests
07/16/18	D. A. Lentz	0.70	Field emails, phone calls, voicemails, correspondence regarding die requests
07/17/18	D. A. Lentz	0.50	Field emails, phone calls, voicemails, correspondence regarding die requests
07/18/18	D. A. Lentz	0.50	Field emails, phone calls, voicemails, correspondence regarding die requests
07/19/18	D. A. Lentz	0.30	Field emails, phone calls, voicemails,
07/24/18	D. A. Lentz	0.30	correspondence regarding die requests Field emails, phone calls, voicemails, correspondence regarding die requests
07/26/18	D. A. Lentz	0.20	Field emails, phone calls, voicemails, correspondence regarding die requests
		TOTAL FEES	3.80 hrs \$ <u>817.00</u>

TIMEKEEPER SUMMARY

D. A. Lentz	3.80	hrs at \$	215.00 /	' hr	817.00
	TOTAL FEES	3.	80 hrs	\$_	817.00

MATTER SUMMARY

Fees	\$ 817.00
MATTER TOTAL	\$ <u>817.00</u>

Relief From Stay and Adequate Protection (70130)

\$172.00

FEES

DATE	NAME	HOURS	DESC	RIPTION			
07/30/18	D. A. Lentz	0.50	Draft which	Draft of second stipulation to extend date by which to vacate Dayton premises (.3); draft of order regarding same (.2)			
07/31/18	D. A. Lentz	0.30	Review and finalize for filing the motion to approve stipulation extending deadline re Hoff matter and corresponding order (.2); file motion with USBC and upload order for entry with Court (.1)			ne re Hoff file	
		TOTAL FEES		0.80 hrs	\$	172.00	
		TIMEKEEP	ER SUM	MMARY			
D. A. Lentz		0.80 TOTAL FEES	hrs at	\$ 215.00 / hr 0.80 hrs	\$	172.00 172.00	
MATTER SUMMARY							
Fees					\$	172.00	

MATTER TOTAL

Assumption and Rejection of Leases and Contracts (70150)

\$4,698.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
07/11/18	M.J. Gearin	0.50	Communication with Trustee and A. Smith regarding Dayton cure tasks		
07/12/18	M.J. Gearin	0.50	Communications with A. Smith and Trustee regarding Dayton cure project completion		
07/13/18	M.J. Gearin	0.50	Communications with Trustee regarding Dayton cure matters		
07/16/18	M.J. Gearin	0.50	Communications with trustee regarding lease cure tasks and turnover of possession		
07/25/18	M.J. Gearin	1.20	Communications with Trustee, P. Wagner and A. Smith regarding lease cure projects (.8); consult with Trustee regarding extension of lease possession term (.4)		
07/26/18	M.J. Gearin	0.70	Call with A. Smith regarding Hoff issues including cure and clean up matters (0.3); email from C. Hoff (.1); review of bids and status of repairs (.3)		
07/27/18	M.J. Gearin	2.10	Meet with M. Calvert and P. Wagner regarding cure schedule and bids (1.5); analysis of potential landlord claims (.6)		
07/30/18	M.J. Gearin	1.40	Email exchange with C. Hoff (counsel copied) regarding proposal to extend possession date on Dayton lease (0.3); calls with Trustee regarding lease extension and cure issues (0.5); draft stipulation and order extending possession date (0.3); email communications regarding cure cost bids (0.3)		
07/31/18	M.J. Gearin	1.00	Calls and emails with Trustee regarding meeting with Hoffs on lease claim issues		
07/31/18	M.J. Gearin	0.30	Communications with A. Smith regarding stipulation to extend possession date; coordinate filing of stipulation		
		TOTAL FEES	8.70 hrs \$ <u>4,698.00</u>		

TIMEKEEPER SUMMARY

M.J. Gearin	8.70 hrs at	\$ 540.00 / hr	4,698.00
	TOTAL FEES	8.70 hrs	\$ 4,698.00

Invoice # 3577820 2070561 Page 19 of 21

MATTER SUMMARY

Fees \$ 4,698.00 MATTER TOTAL \$ 4,698.00

Invoice # 3577820 2070561 Page 20 of 21

Reporting (70210)

\$280.50

FEES

DATE	NAME	HOURS	DESCRIPTION	
07/02/18	D. A. Lentz	0.30	Emails with J. Quick regarding May monthly financial report (.2); file May 2018 monthly financial report with USBC (.1)	
07/03/18	M.J. Gearin	0.40	Review monthly report (.2); communication with Trustee regarding same (.2)	าร
		TOTAL FEES	0.70 hrs \$28	0.50
		TIMEKEEP	ER SUMMARY	
M.J. Gearin	1	0.40	hrs at \$ 540.00 / hr 21	6.00
D. A. Lentz		0.30	hrs at \$ 215.00 / hr 6	4.50
		TOTAL FEES	0.70 hrs \$ <u>28</u>	0.50
MATTER SUMMARY				
			Φ 00	0.50

 Fees
 \$ 280.50

 MATTER TOTAL
 \$ 280.50

Costs (99999) \$2,688.89

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
07/02/18	Long Distance Courier FedEx Charges TR#: 781683965887 INV#: 623767823 INVDT: 20180709 SHIPDT: 20180702 SHNAME: Denise Lentz RCNAME: Jenifer Baker RCCO: Northwest Territorial Mint	15.52
07/03/18	Copying Expense	31.60
07/13/18	CD ROM Expenses	25.00
07/19/18	Westlaw - DCN - 07/12/2018 - 07/19/2018	2,104.39
07/24/18	Westlaw - BTP - 07/20/2018 - 07/24/2018	88.74
07/28/18	USDC Western WA/Filing Fee	181.00
07/30/18	Travel Expenses - Neu, David - Parking - 2018-07-06 - NWTM Hearing Parking	12.00
07/30/18	Travel Expenses - Lentz, Denise - Ground Transportation - 2018- 07-27 - Uber ride to USBC for Hearing with witness Jenifer Baker	6.88
07/31/18	Copying Expense	7.60
07/31/18	Copying Expense	42.20
07/31/18	Lexis - KD - 07/01/2018 - 07/31/2018	173.96
	DISBURSEMENTS & OTHER CHARGES \$_	2,688.89

.....

MATTER SUMMARY

Disbursements and Other Charges	\$ 2,688.89
MATTER TOTAL	\$ 2,688.89

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577492 Services Through : July 31, 2018 Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges **Total Amount Due This Matter**

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935305 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

<u>Wire/ACH/EDI Instructions</u>: Receiving Bank: PNC Bank N.A, 500 First Ave 92

ank N.A, Beneficiary: K&L Gates LLP st Ave 92 Acct No.: 1077692783

Routing/ABA: 043000096 Swift Code: PNCCUS33

Pittsburgh, PA 15219
Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klgates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Disbursements and Other Charges **MATTER TOTAL**

Invoice # 3577492 2070561 Page 2 of 2

Litigation	\$300.48	
	DISBURSEMENTS & OTHER CHARGES	
DATE	DESCRIPTION	AMOUNT
07/31/18	Ringtail Fees: July 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48
	DISBURSEMENTS & OTHER CHARGES	\$ 300.48
	MATTER SUMMARY	

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577826

Services Through: August 31, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Analysis and Recovery (70010)

Fees \$ 486.00

Total Amount Due This Matter \$ 486.00

Asset Disposition (70020)

Fees \$ 8,580.50

Total Amount Due This Matter \$ 8,580.50

Case Administration (70040)

Fees \$___10,166.50

Total Amount Due This Matter \$ 10,166.50

Claims, Administration and Objections (70050)

Fees \$ 29,053.50

Total Amount Due This Matter \$ 29,053.50

501937642 v2

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 Suffix Ave 92 Act No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577826 2070561 Page 2 of 17

\$ <u>53,606.10</u>

CURRENT INVOICE DUE - All Matters

Financing and Cash Collateral (70090)		
Fees Total Amount Due This Matter	\$ <u>1,404.00</u>	\$ 1,404.00
American Express Fraudulent Transfer Action	on (70107)	
Fees Total Amount Due This Matter	\$ <u>135.00</u>	\$ 135.00
Meetings and Communications with Credito	rs (70110)	
Fees Total Amount Due This Matter	\$2,745.00_	\$ 2,745.00
Reporting (70210)		
Fees Total Amount Due This Matter	\$ <u>907.00</u>	\$ 907.00
Costs (99999)		
Disbursements and Other Charges Total Amount Due This Matter	\$ 128.60	\$ 128.60

Invoice # 3577826 2070561 Page 3 of 17

Asset Analys	sis and Recover	y ((70010))
--------------	-----------------	-----	---------	---

\$486.00

DATE	NAME	HOURS	DESCRIPTION
08/23/18 M.J. Gearin		0.90	Analysis of claims for recovery of proceeds of precious metal distributed by D. Erdmann
		TOTAL FEES	0.90 hrs \$ <u>486.00</u>
		TIMEKEEP	ER SUMMARY
M.J. Gearin			hrs at \$ 540.00 / hr 486.00
		TOTAL FEES	0.90 hrs \$ <u>486.00</u>
		MATTER	SUMMARY
Fees			\$ 486.00
MATTER TO	TAL		\$ <u>486.00</u>

Asset Disposition (70020)

\$8,580.50

DATE	NAME	HOURS	DESCRIPTION
08/06/18	D. A. Lentz	1.60	Review multiple die requests and issues regarding same such as missing dies and provide follow up communications with all customers
08/06/18	D.C. Neu	1.10	Draft script to use to respond to customers with lost dies (.5); meeting with D. Lentz regarding same (.2); communicate with dies customers (.4)
08/08/18	D.C. Neu	0.60	Read letter to Judge filed by creditor (.2); review status of Crabcat dies (.2); communicate with T. Kennedy regarding dies (.2)
08/09/18	D. A. Lentz	0.60	Continued issues regarding dies such as missing dies and provide follow up communications with customers
08/14/18	M.J. Gearin	0.50	Consult with Trustee regarding consignment proposals
08/14/18	D. A. Lentz	0.40	Continued issues regarding dies such as missing dies and provide follow up communications with customers
08/14/18	D.C. Neu	0.60	Work on issues related to location of Boy Scout dies
08/15/18	M.J. Gearin	0.50	Communications with Trustee regarding consignment of company store inventory
08/16/18	D. A. Lentz	0.30	Continued issues regarding dies such as missing dies and provide follow up communications with customers
08/20/18	D. A. Lentz	0.30	Continued issues regarding dies such as missing dies and provide follow up communications with customers
08/21/18	D.C. Neu	2.50	Review documentation regarding Tre Kennedy client dies (1.1); analysis of same (.2); communicate with L. Lee regarding Northern Railway (.3); review past communications related to same (.3); communicate with J. Baker regarding locating missing dies (.4); communicate with T. Kennedy regarding same (.2)
08/22/18	D.C. Neu	1.90	Communications regarding closing BSA sale (.5); work on issues related to location of Northwest Railway dies (.6); communications regarding same (.8)
08/23/18 501937642 v2	D.C. Neu	1.40	Prepare die list for T. Kennedy dies (1.0);

Invoice # 3577826 2070561 Page 5 of 17

> 8,580.50 **8,580.50**

DATE	NAME	HOURS	DESCRIP	TION	
				cate with E. Chaco same (.2); call wit	
08/23/18	D.C. Neu	0.50		nd discuss order re	
33,23, . 3	21011100	0.00	settlemen		
08/27/18	D.C. Neu	0.70		lie disposition	
08/28/18	D. A. Lentz	0.20	missing di	I issues regarding es and provide fol ations with custor	low up
08/28/18	D.C. Neu	4.20	disposition client rega	llation and order rent of records (3.3); arding same (.4); counsel (.4)	communicate with
08/28/18	D.C. Neu	0.50	Call with	lenifer Baker reganunicate with T. Ko	
08/29/18	D. A. Lentz	0.30	missing di communic telephone	I issues regarding es and provide fole ations with custor call with J. Klingled inventory return	low up ners (.2); er regarding issue
08/30/18	D.C. Neu	1.50	Communi inventory	cate with J. Quick	regarding sold es and inventories
08/31/18	D.C. Neu	0.60	Work on le	ocating dies (.3); o	
		TOTAL FEES	•	arding records stip 0.80 hrs	ulation (.3) \$ <u>8,580.50</u>
		TIMEKEEP			¥ <u> </u>
M.J. Gearin		1.00	hrs at \$	540.00 / hr	540.00
D. A. Lentz		3.70	hrs at \$	215.00 / hr	795.50
D.C. Neu				450.00 / hr	7,245.00
		TOTAL FEES	20	0.80 hrs	\$ <u>8,580.50</u>
		MATTER	SUMMARY	<u>(</u>	

Fees

MATTER TOTAL

Case Administration (70040)

\$10,166.50

DATE	NAME	HOURS	DESCRIPTION
08/01/18	D.C. Neu	0.60	Work on J. Baker emails (.6)
08/02/18	M.J. Gearin	0.30	Attention to administrative claims bar date issues
08/02/18	D. A. Lentz	0.60	Research regarding administrative claim bar date notices
08/02/18	B. T. Peterson	0.30	Prepare notice of administrative claims bar date
08/03/18	M.J. Gearin	1.00	Draft revisions to admin claim bar date pleadings; email communications regarding same
08/03/18	D. A. Lentz	1.20	Work on notice of entry of bar date order re administrative claims (.3); draft ex parte motion for order establishing deadline for filing of application for administrative claim (.5); draft of proposed order regarding same (.2); work with M. Gearin on revisions and send to M. Calvert and J. Quick for comments (.2)
08/03/18	D.C. Neu	0.60	Call with P. Wagner regarding emails (.3); communicate with J. Baker regarding same (.3)
08/03/18	B. T. Peterson	1.20	Draft pleadings in support of motion to establish administrative claims bar deadline.
08/06/18	M.J. Gearin	0.80	Calls with J. Quick regarding noticing issues for administrative claims; revisions to pleadings on motion for approval of bar date
08/06/18	M.J. Gearin	0.80	Review multiple communications to Court and Trustee from J. Gibbons; analysis of and lack of standing of Gibbons in bankruptcy case
08/06/18	D.C. Neu	0.50	Meeting with M. Gearin to discuss About AG filing
08/07/18	M.J. Gearin	0.50	Revisions to pleadings on motion for admin claims bar date
08/07/18	D. A. Lentz	0.60	Review and finalize motion for order establishing admin bar date, order granting same and notice of admin bar date for filing with USBC (.4); file motion with USBC (.1); upload order for entry with the Court (.1)
08/07/18	D.C. Neu	0.80	Work on resolution of server (.8)
08/09/18	M.J. Gearin	0.30	Revision to notice of hearing on admin claim bar date
08/09/18	D. A. Lentz	0.40	Review of order submitted but not entered and forward as needed (.1); draft of notice of hearing on motion to establish administrative
501937642 v2			

DATE	NAME	HOURS	DESCRIPTION bar date (.3)
08/10/18	D. A. Lentz	0.40	Finalize and file notice of hearing on motion for order establishing deadline for filing applications for payment of administrative claims against the Debtor with USBC and send for service (.3); calendar dates and deadlines regarding same (.1)
08/16/18	M.J. Gearin	0.80	Call with Trustee regarding liquidation analysis in connection with case planning; review and analysis of liquidation projections
08/21/18	M.J. Gearin	0.60	Communications regarding issues relating to hearing on bar date motion including investigation of 503b9 claims
08/21/18	D. A. Lentz	0.20	Hearing binder for M. Gearin for hearing on motion for administrative claims bar date
08/22/18	M.J. Gearin	0.70	Communications with Trustee and staff regarding noticing issues relating to bar date notice
08/23/18	M.J. Gearin	1.10	Prepare for hearing on admin bar date; calls with P. Wagner regarding noticing issues
08/23/18	M.J. Gearin	0.50	Review of court's order on show cause regarding die customer issues
08/23/18	D.C. Neu	0.30	Communicate with B. Werner regarding servers (.1); communicate with client regarding same (.2)
08/23/18	D.C. Neu	0.40	Call with client regarding server and records (.4)
08/24/18	M.J. Gearin	2.50	Prepare for and attend hearing on admin bar date (2.0); revisions to bar date order and notice (0.5)
08/27/18	D. A. Lentz	0.70	Prepare administrative proof of claim form
08/29/18	M.J. Gearin	0.70	Revisions to bar date notice and form proof of claim
08/29/18	D. A. Lentz	0.90	Work with M. Gearin to finalize order establishing deadline for filing claim for administrative expenses, notice and proof of claim for filing with Court (.7); upload order for entry with court (.1); telephone call with J. Quick regarding mailing list for order (.1)
08/29/18	D.C. Neu	2.80	Call with B. Werner (.3); call with client regarding same (.2); draft email to P. Wagner regarding same (.2); communicate with J. Quick regarding same (.2); review cloud storage agreement (.3); communicate with client regarding same (.2); review email from P. Wagner regarding records (.2); respond to same (.1); review information on sold bullion (.6)

Invoice # 3577826 2070561 Page 8 of 17

DATE	NAME	HOURS	DESC	RIPTI	ION		
08/31/18	D.C. Neu	0.30	Call B. Werner regarding bullion question				
		TOTAL FEES			l0 hrs	\$ <u>10,166.50</u>	
		TIMEKEEP	ER SUN	<u>IMAR</u>	<u>Y</u>		
M.J. Gearin	1	10.60	hrs at	\$	540.00 / hr	5,724.00	
D. A. Lentz		5.00	hrs at	\$	215.00 / hr	1,075.00	
D.C. Neu		6.30	hrs at	\$	450.00 / hr	2,835.00	
B. T. Peters	son	1.50	hrs at	\$	355.00 / hr	532.50	
		TOTAL FEES		23.4	l0 hrs	\$ <u>10,166.50</u>	
MATTER SUMMARY							
Fees						\$ 10,166.50	
MATTER T	OTAL					\$ 10,166.50	

Claims, Administration and Objections (70050)

\$29,053.50

DATE	NAME	HOURS	DESCRIPTION
08/01/18	D.C. Neu	2.00	Edit settlement agreement (1); draft declaration in support of settlement motion (.5); communications with client regarding same (.5)
08/01/18	B. T. Peterson	0.20	Phone call with client regarding motion to approve settlement with B. Atalla
08/02/18	D.C. Neu	1.20	Revise settlement agreement (.6); communicate with D. Bailey regarding same (.2); review approval motion (.4)
08/02/18	B. T. Peterson	0.70	Draft motion to approve settlement agreement with B. Atalla
08/03/18	D. A. Lentz	1.00	Finalize Atalla settlement motion and corresponding documents for filing (.5); file motion and corresponding documents with USBC (.4); calendar hearing dates and deadlines (.1)
08/03/18	D.C. Neu	3.30	Finalize and file settlement motion (2.5); communications with D. Bailey regarding same (.3); analysis of issues related to settlement (.7)
08/03/18	B. T. Peterson	0.20	Finalize pleadings for approval of settlement with B. Atalla
08/06/18	M.J. Gearin	0.30	Communications with counsel regarding WARN Act settlement
08/07/18	M.J. Gearin	0.80	Communications relating to WARN Act settlement
08/07/18	B. T. Peterson	1.80	Review and revise settlement agreement and memorandum of understanding related to WARN claims
08/08/18	M.J. Gearin	0.80	Revisions to WARN Act settlement agreement
08/08/18	B. T. Peterson	0.40	Finalize edits to draft settlement agreement for WARN Act claims
08/09/18	M.J. Gearin	0.70	Revisions to WARN Act settlement agreement
08/09/18	D.C. Neu	0.60	Review and respond to emails from D. Bailey regarding status of signature and funds (.3); communicate with client regarding same (.3)
08/09/18	B. T. Peterson	2.70	Review and edit motion for approval of settlement of WARN Act claims
08/10/18	M.J. Gearin	0.80	Revisions to draft joint motion on WARN Act claims
08/10/18	B. T. Peterson	1.50	Draft pleadings in support of joint motion for approval of settlement regarding WARN Act

DATE	NAME	HOURS	DESCRIPTION
			claims
08/13/18	B. T. Peterson	3.80	Draft pleadings in support of motion to approve WARN Act settlement
08/13/18	B. T. Peterson	0.40	Correspondence regarding settlement and joint motion for approval of WARN Act settlement
08/14/18	M.J. Gearin	1.30	Revisions to pleadings on WARN Act settlement
08/14/18	B. T. Peterson	0.20	Call to creditor regarding administrative claims bar date
08/14/18	B. T. Peterson	3.70	Edit pleadings in support of joint motion for approval of settlement of WARN Act claims
08/15/18	M.J. Gearin	1.00	Communications with Trustee regarding Hoff claims; review and analysis of lease and contractor bids
08/15/18	M.J. Gearin	0.90	Revisions to WARN Act pleadings
08/15/18	B. T. Peterson	5.20	Edit, revise, and finalize pleadings in support of settlement of WARN Act claims
08/16/18	B. T. Peterson	0.50	Finalize pleadings for approval of settlement agreement regarding WARN Act claims
08/17/18	M.J. Gearin	3.50	Meet with Trustee re Hoff lease damages claims analysis and settlement
08/20/18	M.J. Gearin	2.40	Communications with Trustee regarding Hoff claims (0.7); review and analysis of bids for paving and carpet work (0.5); draft email communication to Hoffs regarding status of repairs and settlement (1.0); call with A. Smith (0.2)
08/20/18	D. A. Lentz	0.50	Prepare proof of service for notice of hearing on Atalla settlement motion (.2); file proof of service with USBC (.1); submit declaration of no objections and upload order with Court for entry (.2)
08/20/18	D. A. Lentz	0.40	Prepare proof of service on notice of hearing on motion for order establishing deadline for filing applications for payment of administrative claims (.2); file proof of service with USBC (.1); file notice of intent to argue with USBC (.1)
08/20/18	D. A. Lentz	0.40	Prepare proof of service for notice of settlement re WARN act (.2); email to M. Olson regarding proof of service and documents filed with Court (.1); calendar dates and deadlines regarding hearing (.1)
08/20/18	D.C. Neu	0.50	Review final order on Atalla claim settlement (.1); coordinate filing (.2);
08/20/18	B. T. Peterson	0.60	Draft proof of service on notice of hearing regarding WARN Act claims (.5);

DATE	NAME	HOURS	DESCRIPTION
			correspondence with opposing counsel regarding the same (1.)
08/21/18	M.J. Gearin	1.60	Communications with Trustee regarding Hoff
00/= ./ . 0			lease issues (0.5); revisions to email to Hoffs
			regarding status of repairs (0.8); call with A.
			Smith regarding settlement and repair issues (0.3)
08/22/18	D. A. Lentz	1.50	Research regarding 503(b)(9) claims filed
08/22/18	D.C. Neu	1.50	Review Atalla settlement order (.2);
			communicate with client regarding same (.2);
			communicate with D. Bailey regarding same (.2); finalize settlement and wire (.5)
08/23/18	M.J. Gearin	0.50	Communications with Trustee regarding Hoff
00/20/10	W.O. Ocariii	0.00	lease claims
08/26/18	M.J. Gearin	1.10	Calls with Trustee regarding Hoff settlement;
			draft term sheet for settlement
08/27/18	M.J. Gearin	2.50	Draft Hoff settlement agreement; discuss
00/07/40	D A I	4.40	same with Trustee
08/27/18	D. A. Lentz	1.40	Draft settlement agreement between the Hoffs and the Trustee
08/28/18	M.J. Gearin	2.00	Revisions to Hoff settlement agreement (1.1);
			dialogue with A. Smith and Trustee regarding
08/28/18	D. A. Lentz	0.80	same (0.9) Draft of notice of hearing on motion to
00/20/10	D. A. LONZ	0.00	approve Hoff settlement agreement (.5); serve
			notice of hearing on special notice list (.3)
08/29/18	M.J. Gearin	3.30	Extensive communications with Trustee and
			A. Smith regarding Hoff settlement (2.5);
00/00/40	D A L 1 -	0.00	revisions to draft settlement agreement (0.8)
08/29/18	D. A. Lentz	0.80	Draft motion to approve settlement with Hoffs (.5); draft declaration in support of settlement
			(.3), drait declaration in support of settlement
08/30/18	D. A. Lentz	0.20	Finalize and file proof of service regarding
			WARN settlement with USBC
08/31/18	M.J. Gearin	3.30	Revisions to pleadings in support of approval
			of Hoff settlement (1.6); revisions to
			settlement (0.9 agreement; calls with Trustee and A. Smith regarding settlement (0.8)
08/31/18	B. T. Peterson	3.40	Draft pleadings in support of motion to
33/31/10	2. 1.1 0.010011	0.10	approve settlement with landlord
	TOTAL	FEES	68.20 hrs \$ <u>29,053.50</u>

Invoice # 3577826 2070561 Page 12 of 17

TIMEKEEPER SUMMARY

M.J. Gearin	26.80	hrs at	\$	540.00 / hr		14,472.00
D. A. Lentz	7.00	hrs at	\$	215.00 / hr		1,505.00
D.C. Neu	9.10	hrs at	\$	450.00 / hr		4,095.00
B. T. Peterson	25.30	hrs at	\$	355.00 / hr		8,981.50
	TOTAL FEES		68.	20 hrs	\$_	29,053.50

MATTER SUMMARY

Fees \$ 29,053.50 MATTER TOTAL \$ 29,053.50

Financing and Cash Collateral (70090)

\$1,404.00

FEES

DATE	NAME	HOURS	DESCRIPTION		
08/16/18	M.J. Gearin	0.70	Review of budget (.5); call with Trustee and J. Quick regarding same (.2)		
08/17/18	M.J. Gearin	0.30	Revisions to budget (.2); email budget to A. Smith (.1)		
08/20/18	M.J. Gearin	0.40	Communications regarding revisions to budget		
08/21/18	M.J. Gearin	0.40	Communications with trustee regarding cash collateral budget		
08/22/18	M.J. Gearin	0.30	Work on cash budget; email to Hoffs and A. Smith regarding same		
08/31/18	M.J. Gearin	0.50	Communications with Trustee and A. Smith regarding budget (.2); draft notice of supplemental budget (.3)		
		TOTAL FEES	2.60 hrs \$1,404.00		

TIMEKEEPER SUMMARY

M.J. Gearin	2.60	hrs at	\$	540.00 /	hr	1,404.00
	TOTAL FEES		2.60) hrs	\$	1,404.00

MATTER SUMMARY

Fees	\$_	1,404.00
MATTER TOTAL	\$ _	1,404.00

Invoice # 3577826 2070561 Page 14 of 17

American l	American Express Fraudulent Transfer Action (70107)				
		E	EES		
DATE	NAME	HOURS	DESCRIPTION		
08/08/18	D.C. Neu	0.30 TOTAL FEES	Analysis of appeal 0.30 hrs	\$135.00	
		TIMEKEEP	ER SUMMARY		
D.C. Neu		0.30 TOTAL FEES	hrs at \$ 450.00 / hr 0.30 hrs	\$ 135.00 \$ 135.00	
		MATTER	SUMMARY		
Fees MATTER T	OTAL			\$ <u>135.00</u> \$ <u>135.00</u>	

Meetings and Communications with Creditors (70110)

\$2,745.00

FEES

DATE	NAME	HOURS	DESCRIPTION
08/01/18	D.C. Neu	0.80	Communicate with customers regarding dies (.6); communicate with J. Shickich regarding BSA dies (.2)
08/02/18	D.C. Neu	1.40	Communicate with die customers regarding settlement
08/07/18	D.C. Neu	1.10	Communications regarding die issues
08/09/18	D.C. Neu	0.40	Communicate with customers regarding dies
08/13/18	D.C. Neu	0.20	Review creditor letter
08/15/18	D.C. Neu	2.20	Review and respond to emails from T. Kennedy regarding dies (.4); call with J. Baker regarding same (.3); review die information (.3); call with J. Shickich (.1); review follow up email from T. Kennedy (.2); call with J. Baker regarding same (.3); research regarding same (.4); draft response to same (.2)
		TOTAL FEES	6.10 hrs \$ <u>2,745.00</u>

TIMEKEEPER SUMMARY

D.C. Neu	6.10	hrs at	\$	450.00 /	hr	2,745.00
	TOTAL FEES		6.10	0 hrs	\$	2,745.00

MATTER SUMMARY

Fees	\$ 2,745.00
MATTER TOTAL	\$ <u>2,745.00</u>

Invoice # 3577826 2070561 Page 16 of 17

Reporting (70210)

MATTER TOTAL

\$907.00

907.00

DATE	NAME	HOURS	DESCRIPTION			
08/08/18	M.J. Gearin	0.60	Review and revisions to June monthly report			
08/08/18	D. A. Lentz	0.20	File June 2018 monthly financial report with USBC			
08/14/18	M.J. Gearin	0.50	Review draft July monthly report	t		
08/15/18	M.J. Gearin	0.50	Revisions to monthly report			
		TOTAL FEES	1.80 hrs	907.00		
M.J. Gearin		TIMEKEEP 1.60	ER SUMMARY hrs at \$ 540.00 / hr	864.00		
D. A. Lentz		0.20	hrs at \$ 215.00 / hr	43.00		
		TOTAL FEES	1.80 hrs	907.00		
MATTER SUMMARY						
Fees			9	907.00		

Invoice # 3577826 2070561 Page 17 of 17

Costs (99999) \$128.60

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT
08/01/18	Local Courier	20.00
08/06/18	Travel Expenses - Gearin, Michael - Parking - 2018-07-27 - IMPARK 00250010 - Parking for 7 27 hearing	15.00
08/10/18	Copying Expense	62.40
08/28/18	Copying Expense	31.20
	DISBURSEMENTS & OTHER CHARGES	\$ 128.60
	MATTER SUMMARY	

MATTER SUMMARY

Disbursements and Other Charges	\$ 128.60
MATTER TOTAL	\$ 128.60

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577493

Services Through : August 31, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges
Total Amount Due This Matter

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

\$ 300.48

501935307 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Pittsburgh, PA 15219

Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

t Ave 92 Acct No.: 107/692783 Swift Co.

Please reference client/matter number in electronic payment details and email the remittance advice to AccountsReceivableSEA@klqates.com with invoice number(s) and amounts.

Invoice # 3577493 2070561 Page 2 of 2

Litigation e-DAT Fees (77100))
-------------------------	--------	---

\$300.48

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION		AMOUNT
08/31/18	Ringtail Fees: August 2018 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48		300.48
	DISBURSEMENTS & OTHER CHARGES	\$ <u></u>	300.48
	MATTER SUMMARY		

Disbursements and Other Charges	\$_	300.48
MATTER TOTAL	\$	300.48

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577829

Services Through: September 30, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Asset Disposition (70020)

Fees \$ 2,079.00

Total Amount Due This Matter \$ 2,079.00

Business Operations (70030)

Fees \$ 162.00

Total Amount Due This Matter \$ 162.00

Case Administration (70040)

Fees \$ 10,433.50

Total Amount Due This Matter \$ 10,433.50

Claims, Administration and Objections (70050)

Fees \$ 4,044.00

Total Amount Due This Matter \$ 4,044.00

501937649 v3

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, Beneficiary: K&L Gates LLP Routing/ABA: 043000096 500 First Ave 92 Acct No.: 1077692783 Swift Code: PNCCUS33

Pittsburgh, PA 15219

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577829 2070561 Page 2 of 15

				· ·
Fee/Employment Applications (70070) Fees Total Amount Due This Matter	\$	493.00	\$	493.00
Financing and Cash Collateral (70090)				
Fees Total Amount Due This Matter	\$ <u></u>	1,522.50	\$	1,522.50
Litigation (70100)				
Fees Total Amount Due This Matter	\$	172.00	\$	172.00
American Express Fraudulent Transfer Actio	n (7010	07)		
Fees Total Amount Due This Matter	\$	675.00	\$	675.00
Meetings and Communications with Creditor	s (7011	0)		
Fees Total Amount Due This Matter	\$	223.00	\$	223.00
Reporting (70210)				
Fees Total Amount Due This Matter	\$	745.00	\$	745.00
Costs (99999)				
Disbursements and Other Charges Total Amount Due This Matter	\$	27.00	\$	27.00
CURRENT INVOICE DUE - All Matters			\$ <u>_</u>	20,576.00

Invoice # 3577829 2070561 Page 3 of 15

Asset Disposition (70020)

\$2,079.00

FEES

DATE	NAME	HOURS	DESCRIPTION
09/05/18	D.C. Neu	2.00	Communicate with Medalcraft and T. Kennedy regarding dies (.3); call regarding preservation of records (.4), review proof of service (.2); call with Calvert regarding records (.3); call with P. Wagner regarding same (.3); revise stipulations (.5)
09/07/18	D.C. Neu	0.70	Communicate with T. Kennedy, L. Lee and Medalcraft regarding location of dies
09/13/18	D.C. Neu	0.60	Call with Medalcraft regarding locating dies (.3); communicate with client regarding same (.3)
09/20/18	D.C. Neu	0.60	Communicate with L. Less regarding dies (.2); draft email to client regarding same (.2); communicate with T. Kennedy regarding dies (.2)
09/24/18	M.J. Gearin	0.60	Investigation of insurance coverage matters (0.4); call with Trustee and J. Cannady regarding same (0.2)
		TOTAL FEES	4.50 hrs \$ <u>2,079.00</u>

TIMEKEEPER SUMMARY

M.J. Gearin	0.60 l	hrs at	\$	540.00 / h	nr	324.00
D.C. Neu	3.90	hrs at	\$	450.00 / h	nr	1,755.00
	TOTAL FEES		4.50) hrs	\$	2,079.00

MATTER SUMMARY

Fees \$ 2,079.00 MATTER TOTAL \$ 2,079.00

Invoice # 3577829 2070561 Page 4 of 15

\$162.00

DATE	NAME	HOURS	DESCRIPTION	
09/21/18 M.J. Gearin		0.30	Communications with Truste insurance coverage matters	e regarding
		TOTAL FEES	0.30 hrs	\$ <u>162.00</u>
		TIMEKEEP	ER SUMMARY	
M.J. Gearin		0.30 TOTAL FEES	hrs at \$ 540.00 / hr 0.30 hrs	162.00 \$ 162.00
		TOTALTELO	0.50 1115	Ψ 102.00
		MATTER	SUMMARY	
Fees MATTER TO	ΤΔΙ			\$ <u>162.00</u> \$ 162.00
WALLERIO	IAL			Φ <u>162.00</u>

Case Administration (70040)

\$10,433.50

DATE	NAME	HOURS	DESCRIPTION
09/04/18	D. A. Lentz	1.20	Extensive review to finalize mailing list and emails to 74 customers pursuant to the Order Following Order to Show Cause (.7); meetings with M. Gearin and D. Neu regarding service of order (.1) serve order as directed by court via U.S. Mail and via email (.4);
09/04/18	D. A. Lentz	1.30	Prepare mailing lists for service of notice of deadline for filing an administrative expense claim (.9); serve notice of deadline as needed (.4)
09/05/18	D. A. Lentz	0.30	Prepare proof of service for order following show cause order
09/06/18	D. A. Lentz	0.10	File proof of service of order following show cause order with USBC
09/06/18	D.C. Neu	0.40	Review notice from district court regarding records retention (.2); communications regarding records (.2)
09/06/18	D.C. Neu	1.20	Call from B. Werner regarding information (.2); research related to same (.5); follow up call regarding same (.5)
09/11/18	D.C. Neu	0.40	Call with B. Werner regarding records
09/12/18	D.C. Neu	0.20	Review email from B. Werner regarding Hansen
09/12/18	D.C. Neu	0.50	Communicate with counsel regarding records stip (.2); edit same (.2); email P. Wagner regarding security videos (.1)
09/13/18	D.C. Neu	0.50	Communicate with defense counsel regarding records stipulation (.3); communicate with P. Wager regarding security footage (.2)
09/14/18	D.C. Neu	0.70	Communications regarding security footage
09/14/18	D.C. Neu	0.90	Communicate with client regarding security records (.2); review motion to prevent public statements (.4); call with Medalcraft regarding dies (.3);
09/17/18	D.C. Neu	0.40	Communicate with client regarding records
09/18/18	D.C. Neu	4.70	Review submissions to Judge Jones (.5); revise stipulation and order regarding records retention and destruction (1.1); communicate with opposing counsel regarding same (.3); communicate with client regarding same (.2); meeting regarding outstanding tasks (.5); review motion to silence M. Calvert (.4); listen to hearing regarding records destruction (.6);
501937649 v3			

Invoice # 3577829 2070561 Page 6 of 15

DATE	NAME	HOURS	DESCRIPTION			
09/20/18	D.C. Neu	1.00	Revise records stipulation (.4); communicate with D. Carroll, B. Werner, and client regarding same (.5)			
09/21/18	D.C. Neu	2.90	Prepare for and attend hearing on motion to prevent spoliation of records in WWDC			
09/24/18	D.C. Neu	0.90	Call with B. Werner regarding motion for gag order (.3); begin drafting response to same (.6)			
09/25/18	D.C. Neu	4.30	Communicate with client regarding records stipulation (.2); analysis of Mike White communication (.3); draft and edit response to motion for gag order (3.8)			
09/26/18	D.C. Neu	2.20	Revise and edit response to motion for gag order (1.3); communicate with client regarding same (.3); draft declaration (.4); revise same (.1)			
09/28/18	D.C. Neu	0.60 TOTAL FEES	Revise records pleadings 24.70 hrs \$\frac{10,433.50}{}			
		TIMEKEEP	ER SUMMARY			
D. A. Lentz D.C. Neu		2.90 21.80 TOTAL FEES	hrs at \$ 215.00 / hr 623.50 hrs at \$ 450.00 / hr 9,810.00 24.70 hrs \$ 10,433.50			
MATTER SUMMARY						
Fees MATTER T	OTAL		\$ <u>10,433.50</u> \$ <u>10,433.50</u>			

Claims, Administration and Objections (70050)

\$4,044.00

DATE	NAME	HOURS	DESCRIPTION
09/04/18	M.J. Gearin	1.20	Communications with Trustee and A. Smith regarding Hoff settlement
09/04/18	D. A. Lentz	0.40	Prepare attorney and judge's binders for hearing on motion to approve settlement re WARN Act
09/05/18	M.J. Gearin	0.80	Calls with Trustee and A. Smith regarding settlement (0.4); finalize settlement agreement (0.4)
09/06/18	D. A. Lentz	1.60	Update settlement motion documents to reflect new hearing date and changes regarding final settlement agreement (.5); finalize amended notice for service on special mailing matrix and send for service (.3); finalize motion and declaration and file with USBC (.4); draft proof of service (.2); file proof of service with USBC (.1); calendar dates and deadlines for motion to approve settlement with Hoffs (.1)
09/06/18	B. T. Peterson	0.40	Conference call regarding hearing on WARN Act settlement motion
09/06/18	B. T. Peterson	0.40	Finalize pleadings related to approval of settlement motion with Hoffs
09/10/18	B. T. Peterson	0.40	Conference with M. Olsen regarding hearing on motion to approve WARN Act settlement
09/11/18	B. T. Peterson	0.50	Analysis of edits to order preliminarily granting WARN settlement and notice to class members
09/13/18	D. A. Lentz	0.30	Work with B. Peterson regarding final preliminary order on joint motion to approve WARN settlement for uploading to court (.2); upload order with USBC (.1)
09/13/18	B. T. Peterson	2.30	Revisions to order and notice regarding proposed class settlement (.1.8); communications with opposing counsel regarding the same (.5)
09/14/18	B. T. Peterson	0.20	Correspondence with class counsel regarding order preliminarily approving settlement
09/17/18	D. A. Lentz	0.30	Telephone call with M. Olsen (.1); finalize notice of hearing on WARN Act claims (.1); email documents to M. Olsen as requested (.1)
09/17/18 501937649 v3	B. T. Peterson	0.20	Correspondence regarding settlement motion and notice

Invoice # 3577829 2070561 Page 8 of 15

DATE	NAME	HOURS	DESCRIPTION			
09/18/18	B. T. Peterson	0.10	Correspondence with settlement class counsel regarding settlement notice			
09/25/18	M.J. Gearin	0.40	Communications with D. Bailey regarding M. White claim; consult with Trustee regarding same			
09/25/18	M.J. Gearin	0.30	Responsive letter to M. McMeel			
09/25/18	D. A. Lentz	0.50	Meeting with M. Gearin regarding correspondence received from J. McMeel (.1); draft letter to J. McMeel (.4)			
09/28/18	D.C. Neu	0.40	Review and analysis of M. White employment issues (.4)			
09/28/18	B. T. Peterson TOTAL	0.40 FEES	Research related to M. White claim 11.10 hrs \$ 4.044.00			
	TOTAL	ILLO	Ψ <u>+,044.00</u>			

TIMEKEEPER SUMMARY

M.J. Gearin	2.70	hrs at	\$	540.00 / hr	1,458.00
D. A. Lentz	3.10	hrs at	\$	215.00 / hr	666.50
D.C. Neu	0.40	hrs at	\$	450.00 / hr	180.00
B. T. Peterson	4.90	hrs at	\$	355.00 / hr	1,739.50
	TOTAL FEES		11.1	I0 hrs	\$ 4,044.00

MATTER SUMMARY

Fees \$ 4,044.00 MATTER TOTAL \$ 4,044.00

Invoice # 3577829 2070561 Page 9 of 15

DATE	NAME	HOURS	DESCRIPTION			
09/24/18	D. A. Lentz	0.20	Review of court docket regarding hearing audio on motion to approve fee application from October 2017			
09/24/18	D.C. Neu	1.00	Review prior fee application			
		TOTAL FEES	1.20 hrs	\$493.00		
D. A. Lentz D.C. Neu		0.20 1.00 TOTAL FEES	hrs at \$ 215.00 / hr hrs at \$ 450.00 / hr 1.20 hrs	43.00 450.00 \$ 493.00		
MATTER SUMMARY Fees \$ 493.00 MATTER TOTAL \$ 493.00						

Financing and Cash Collateral (70090)

\$1,522.50

FEES

DATE	NAME	HOURS	DESCRIPTION		
09/04/18	M.J. Gearin	0.50	Communications regarding budget (.4); coordinate filing of same with court (.1)		
09/05/18	M.J. Gearin	0.70	Address revisions to budget (.5); revise notice for filing (.2)		
09/05/18	D. A. Lentz	0.30	Compare proposed budgets for M. Gearin		
09/10/18	D.C. Neu	0.70	Review communications regarding Worldpay (.2); review credit card agreement (.3); review past communications regarding same (.2)		
09/12/18	D.C. Neu	1.10	Review email from M. Gearin regarding Worldpay agreement (.2); review documents related to same (.6); draft response (.3)		
		TOTAL FEES	3.30 hrs \$ 1,522.50		

TIMEKEEPER SUMMARY

M.J. Gearin	1.20	hrs at	\$	540.00 / hr	648.00
D. A. Lentz	0.30	hrs at	\$	215.00 / hr	64.50
D.C. Neu	1.80	hrs at	\$	450.00 / hr	810.00
	TOTAL FEES		3.3	0 hrs	\$ 1,522.50

MATTER SUMMARY

Fees	\$ <u>1,522.50</u>
MATTER TOTAL	\$ <u>1,522.50</u>

Invoice # 3577829 2070561 Page 11 of 15

Litigation (70100)

MATTER TOTAL

\$172.00

DATE	NAME	HOURS	DESC	RIPTION			
09/18/18	D. A. Lentz	0.30	inform order	Review of prior bankruptcy hearing regarding information needed for response to motion for order preventing witnesses from making public statements			
09/26/18	D. A. Lentz	0.50	corres	ze and file limited res sponding declaration nting witnesses from ISDC	to motion	for order	
		TOTAL FEES		0.80 hrs	\$	172.00	
		TIMEKEEP	ER SUN	<u>MMARY</u>			
D. A. Lentz		0.80 TOTAL FEES	hrs at	\$ 215.00 / hr 0.80 hrs	\$	172.00 172.00	
MATTER SUMMARY							
Fees					\$	172.00	

MATTER TOTAL

Invoice # 3577829 2070561 Page 12 of 15

American Express Fraudulent Transfer Action (70107)

\$675.00

675.00

DATE	NAME	HOURS	DESCRIPTION			
09/11/18	D.C. Neu	0.80	Review notice setting oral argument (.2); review appeal documents (.6)			
09/11/18	D.C. Neu	0.70	Review notice regarding ora review reply brief (.5)	l [°] argume	ent (.2);	
		TOTAL FEES	1.50 hrs	\$	675.00	
TIMEKEEPER SUMMARY						
D.C. Neu		1.50 TOTAL FEES	hrs at \$ 450.00 / hr 1.50 hrs	\$	675.00 675.00	
MATTER SUMMARY						
Fees				\$	675.00	

Invoice # 3577829 2070561 Page 13 of 15

Meetings and Communications with Creditors (70110)

\$223.00

DATE	NAME	HOURS	DESCRIPTION	
09/04/18	D.C. Neu	0.40	Review creditor submissi	ons
09/11/18	D. A. Lentz	0.20	Multiple phone calls from address changes	creditors regarding
		TOTAL FEES	0.60 hrs	\$ 223.00
		TIMEKEEP	ER SUMMARY	
D. A. Lentz		0.20	hrs at \$ 215.00 / hr	43.00
D.C. Neu		0.40	hrs at \$ 450.00 / hi	r 180.00
		TOTAL FEES	0.60 hrs	\$ 223.00
		MATTER	SUMMARY	
Fees				\$ 223.00
MATTER T	OTAL			\$ 223.00

Invoice # 3577829 2070561 Page 14 of 15

Reporting (70210)

\$745.00

DATE	NI A BATT	HOUDE	DESCRIPTION		
DATE	NAME	HOURS	DESCRIPTION		
09/18/18	M.J. Gearin	0.50	Review and comment on mo	nthly report.	
09/20/18	M.J. Gearin	0.50	Work on August monthly rep	ort	
09/21/18	M.J. Gearin	0.30	Revisions to monthly report		
09/24/18	D. A. Lentz	0.20	File Monthly Financial Repor with USBC	t for August 2018	
		TOTAL FEES	1.50 hrs	\$ <u>745.00</u>	
TIMEKEEPER SUMMARY					
M.J. Gearin		1.30	hrs at \$ 540.00 / hr	702.00	
D. A. Lentz		0.20	hrs at \$ 215.00 / hr	43.00	
21711 201112		TOTAL FEES	1.50 hrs	\$ 745.00	
				¥ <u></u>	
		MATTER	<u>SUMMARY</u>		
Fees				\$ 745.00	
MATTER TO	OTAL			\$ 745.00	

Invoice # 3577829 2070561 Page 15 of 15

Costs (99999) \$27.00

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	Α	MOUNT		
09/10/18	Travel Expenses - Gearin, Michael - Parking - 2018-08-24 - IMPARK 00250010 - 8 24 Hearing Parking		15.00		
09/17/18	Travel Expenses - Gearin, Michael - Parking - 2018-09-07 - IMPARK 00250010 - Sept. 7 Hearing		12.00		
	DISBURSEMENTS & OTHER CHARGES	\$	27.00		
MATTER SUMMARY					
Disbursements and Other Charges		\$	27.00		
MATTER TOTAL		\$	27.00		

K&L GATES

K&L GATES LLP

925 FOURTH AVENUE SUITE 2900 SEATTLE, WA 98104-1158 T 206.623.7580 F 206.623.7022 klgates.com Tax ID No. 25 0921018

Mark Calvert as Chap 11 Trustee NW Territorial

Mint LLC

c/o Cascade Capital Group LLC 1501 4th Avenue Suite 2840

Seattle, WA 98101

Invoice Date : November 1, 2018

Invoice Number : 3577497

Services Through: September 30, 2018

Our File Number : 2070561

INVOICE SUMMARY BY MATTER

Litigation -- e-DAT Fees (77100)

Disbursements and Other Charges
Total Amount Due This Matter

\$ 300.48

300.48

CURRENT INVOICE DUE - All Matters

300.48

501935310 v1

Due and Payable upon Receipt

Mail To: K&L Gates LLP, P.O. Box 844255, Boston, MA 02284-4255

Overnight/Courier: PNC Bank C/O K&L Gates LLP, Lockbox #844255, 20 Commerce Way - Ste 800, Woburn, MA 01801-1057

Wire/ACH/EDI Instructions: Receiving Bank: PNC Bank N.A, 500 First Ave 92

Pittsburgh, PA 15219

Beneficiary: K&L Gates LLP Acct No.: 1077692783 Routing/ABA: 043000096 Swift Code: PNCCUS33

Please reference client/matter number in electronic payment details and email the remittance advice to Accounts.ReceivableSEA@klqates.com with invoice number(s) and amounts.

PLEASE NOTE NEW REMITTANCE ADDRESS

Invoice # 3577497 2070561 Page 2 of 2

\$300.48

DISBURSEMENTS & OTHER CHARGES

DATE	DESCRIPTION	AMOUNT			
09/30/18	Ringtail Fees: September 218 Database Hosting and Access Fees (charges based on produced volumes only): 20.03204 GB @ \$15.00/GB: \$300.48	300.48			
	DISBURSEMENTS & OTHER CHARGES \$	300.48			
MATTER SUMMARY					

Disbursements and Other Charges	\$ 300.48
MATTER TOTAL	\$ 300.48